FmiKSHE5|

Part No. Index

e B
Hydraulic Hose Assembly

=&

Ferrule

Fr &85 45
ek
Hydraulic Hose Fitting

SORIEEETS
Adapter

HE ™~ m
Other Fitting

B m 4% #34

Additional Information

1-20

21-27

28-95

96-240

241-246

247-262

Fm S %5

Part No. Index



Sannkébﬁ;ﬁxﬁ%%é‘l PART NO. INDEX

®
P&l PART NO. INDEX Sannke

U m

ER Ferrele

R7THMIEEES

Ferrele For Two

Polyester Braid Hose

EiR. BrARNLRIMRES

Ferrule For China 2 Steel Wire Hose

&L Hose Fitting

S00018 S01200
(P22) (P25)
—BERLFIREH — amim— o o e _L‘I]]Tn]/[
7 = E#r, BREZENLFIIMNEER
Ferrele For GB 3863 1TYPE,
Ferrule For China 3 Steel Wire Hose
DIN 200221ST,SAE 100R1A Hose
S00100 S01300
(P22) (P25)
R L RN E _ITﬂﬂﬁI[- EiR. BHRNERLAMEEY TD[HHI[
Ferrele For GB3863 2 TYPE, Ferrule For SAE 100R12/20-24, T ) i
DIN 20022 2ST,SAE 100R2A Hose GB 10544 5Type Hose
S00200 S01400
(P23) (P26)
. MR FIIRER
—BRLRHRER m
Ferrele For GB 10544 3Type/20-32, T - I
Ferrule For SAE 100R1AT,
SAE 100R12/06-16,DIN 20023-4SP,
DIN20022 1SN Hose
S00110-A 4SH/10-16 Hose S00400
(P23) (P26)
1 - MR EFIIRE R
Ferrule For SAE 100R1AT,
Ferrele For DIN 20023-4SH20-32Hose
DIN20022 1SN Hose
S00110 S00401
(P23) (P26)
AEMNLAFKESD m ZSENLFINIIKRER |1 i
Ferrele For GB 38632 TYPE, Interlock Ferrule For SAE 100R13/R15,
DIN 20022 2SN ,SAE 100R2AT H -
ose 500210 4SH/12-16Hose S00621
(P24) (P27)
MEMLRAREY ‘j”iinii
Ferrule For SAE R2AT,
DIN 20022 2SN HOSE L]
S03310
(P24)
Etr. BiR—EMLIIIMRES in—lﬂ[ﬂ]:
Ferrule For China 1 Steel Wire Hose
S01100
(P24)

Bunii4 esoH 8281d 8UQ Y MR HE T |

nH24° HERT
Metric Thread 24°
cone Light Series

(P29)

- l‘

T

= S

S20411-TRW
(P29)

S20441-TRW
(P30) (P30)

N4 HERT
Metric Thread 24°
Cone Heavy Series

S10511-RW
(P31)

(P31)

(P32) (P32)

HERY60° HEEH

BSP Thread 60° Cone Fitting

(P33)

S22611-RW
(P33)

(P34) (P34)

EFJICEYT4 FH
JIC 74° Cone Fitting

(P35)

(P36)

(P36) (P37)

EHIORFSIELFEE

ORFS Tube Fitting

S14211-RW
(P37)

S24211-RW
S24211-TRW

(P38)

d

S24241-RW S24291-RW

S24241-TRW S24291-TRW
(P39) (P39)

SAEE =R

SAE Flange Light Series

S87311-RW
(P40)

(P40)

(P41)

SAEE=ZE#RT

SAE Flange Heavy Series

1 e R ¢

b

S87611-RW
(P41)

S87641-RW
(P42)

S87691-RW
(P42)

B3R/ =R &zt

BR2/ =t EEdt

U m



®
Sannke 7= B2 %5 PARTNO. INDEX

®
P 5% 5l PARTNO. INDEX Sannke

U m

Atloas gzz) | [JOMEIIT i
Metric Thread 24° | =/ i
cone Light Series
S10411  S20411-W  S20411-T  S20441-W S20441-T  S20491-W  S20491-T
(P43) (P44) (P44) (P45) (P45) (P46) (P46)
[ =]
w24 gERY | [T i
Metric Thread 24° | X =5
Cone Heavy Series
S10511 S20511-W  S20511-T  S20541-W S20541-T  S20591-W S20591-T
(P47) (P47) (P47) (P48) (P48) (P49) (P49)
sk i
e Ol [T T IR
AHKEEH E&&éﬁ; Pt
Metric Female Multiseal
$20111 $20111-T S20141 $20141-T $20191 $20191-T
(P50) (P50) (P50) (P50) (P51) (P51)

AHTEZH

%

S22611-OR S22611-ORT S22641-OR S22641-ORT S22691-OR S22691-ORT

S22691-T
(P62)

(P63)

(P63)

(P64)

(P64)

AT
E30
F1
N
s
B
i L
y_ Metric Female Flat Seat
~ S20211 S20211-T S20241 S20241-T S20291 S20291-T
(0)) (P51) (P51) (P52) (P52) (P52) (P52)
Q
(@] 2 e
8 AHBETAEE RS ¥
I Metric Thread 74° Fitting
(@) S20711 S20711-T S20741 S20741-T S20791 S20791-T
% (P53) (P53) (P54) (P54) (P55) (P55)
1l
= | awFERES L
. e
(g Metric Standpipe
Straight DIN 2353 S50011 S50041 S50091
(P56) (P57) (P58)
S im gy S12611 S12611A S22611 S22611-T S22641 S22641-T S22691
600E %E?EE%‘J (P59) (P59) (P60) (P60) (P61) (P61) (P62)
BSP Thread 60°
Cone Fitting

(P65) (P65)

Buini4 esoH pebems Y« g ml 3 v pA =

BEEY

60° HEZH
BSP Thread 60°
Cone Fitting

S22611D-SM
(P66)

$22691K
(P66)

$22611D
(P65)

REEEG

BSPT Male

(P67)

9 15 K TH 2

BSP Female Multiseal

% S

S22111-T
(P68)

S22141-T
(P69)

(P68) (P69)

S22191-T
(P70)

S22191
(P70)

B2 H 88 460°
JIS Metric Female 60°

Cone Seat

S$28691

(P71) (P72)

(P71)

(P70)

HREEHIBL60°
JIS Gas Female 60°

Seat JIS B8363

S29691
(P73)

S29611
(P72)

S29641
(P73)

E T R R G B

NPT Thread Fittings

S15611SW  S15691KSW
(P74) (P75)

S15611
(P74)

ZE HIORFSHE LU % H

ORFS Female Flat Seat

S24211-T
(P76)

S24211D
(P76)

S14211
(P75)

S24211
(P76)

S524291
(P77)

S24291-T
(P77)

$24241-T
(P77)

S24241
(P77)

BR3/ =izt

U m

B R4/ =i E



SANnnke 7= st %5 PART NO.

INDEX

=5 &5 PART NO. INDEX Sannke®

U m

EHJICHR G 74° B E

JIC Female 74° Cone Seat

S16711
(P78)

S26711
(P79)

5“ I

W S

NN

S26711-T
(P79)

(P79)

S26711D-SM
(P80)

!f._l' )

=1

Buini4 Yooielu| Y if mp & Bl $ 5t

U m

24 FERT |_
Metric Thread 24° I ]
Cone Heavy Series |
S20513-T S20543-T S20593-T
(P88) (P88) (P88)
. HEm
scesgae wmes | | f
BSP Thread 60°
Cone Fitting
S22613-0OR S22643-0R S22693-0R
(P89) (P89) (P89)
- II |
L] |
£HICBY 74T | e
JIC 74° Cone Fitting
S26713 S26743 S26793
(P90) (P90) (P90)
Him I
% H|ORF SH2 40 B £ AT
ORFS Female Flat Seat
S14213 S24213 S24243 S24293
(P91) (P91) (P91) (P92)
'II 11 ! —
SAEEXZERT =
SAE Flange Light Series
S87313 S87343 $87393
(P92) (P92) (P93)

SAER=ER7

SAE Flange Heavy Series

1@

d

S87613 S87643 S87693
(P93) (P93) (P94)
i [T [
|, LT Ty p— f
sooopsizzzn | e <Y i
Flange 9000PSI Series ]
S87913 S87943 S87993
(P94) (P94) (P95)

Double Connector

S90011
(P87)

826741 S26741-T S26791 S26791-T S26791K
(P80) (P80) (P81) (P81) (P81)
NHELIK Bk
?Ifl Metric Female Water
E wash Inserts
EiW (P82)
F
¢A [ICTT
% I
E% SAEXXR AT =1y
§L SAE Flange Light Series
~ S87311 S87341 S87391
w (P82) (P83) (P83)
=
Q
% My /—-.If .
O | SAEEZERTI e “’( L.
T SAE Flange Heavy Series
o S87611 S87641 S87691
<£ (P84) (P84) (P85)
M
—
=
S FRELE
(@]
MT Staplelock Male S60011
(P85)
I _— [
LT | ol
g == pE=
Banjo
S70011 S72011 S700M S720B
(P86) (P86) (P87) (P87)
W E RSk

B3RS/ =fm it

B R6/ =M i E



Sannke®ﬁuﬁﬂ%%%§| PART NO. INDEX

Pt 545l PARTNO. INDEXSANNKe

U m

ot iE# Sk Adapter

wH APRES

K= EFTm (F

REMR) BRI PUEEMERIRE

E5EERE
Tube to tube

S1C-Y SAC SXC S6C/LN S6C9/LN
S1D-Y SAD SXD S6D/LN S6D9/LN
(P98) (P98) (P99) (P99) (P100)
L
ok Iil
Tube to swivel )

S2C4-W S2C9-W S3C-W SBC-W
S2D4-W S2D9-W S3D-W SBD-W
(P101) (P101) (P102) (P102)

adA ] aug peasy] oo SEMk-rNIA

EEEL
Flange adapters

e 1]

S1CFL
S1DFL
(P130)

iran-.q
Uy (]

S1DFS
(P130)

S1CFL9
S1DFL9
(P131)

T

S1CFG9
S1DFs9 S1DFG9
(P131) (P132)

wiEEk
Banjo fitting
S1CI-KDS S1CI-GDK S1CI-B-KDS S1CI-B-GDK
S1DI-KDS S1DI-GDK S1DI-B-KDS S1DI-B-GDK
(P133) (P133) (P134) (P134)
R
Plugs —
s4C S9C
S4D S9D
(P135) (P135)
FEBE

Retaining nuts

U m

Bunii4 peadyl OUIBIN Y il 2 1>

A HERGORE

FEBH K

Metric Male O-Ring

S1EH9-0G
(P139)

S1EH4-0G
(P138)

S1EL
(P139)

(P137)

:[ i II

L0 I |
S1ET-SP S1EW S1EW9 S2E9 S2WE
(P141) (P141) (P142) (P142) (P143)

S1CM-WD S1CG
O S1DB-WD S1DM S1DM-WD S1DG
i (P105-106) (P107) (P108) (P109-110)
Male stud
connector
9 S1CN S2MC-WDW S2BC-WDW
> S1CT-SP S1DN S2MD-WDW S2BD-WDW
* (P113) (P113-114) (P115) (P117)
~
=X
<
o) S1CG4-0G S1CG9-0G S1CH4-0G S1CH9-0G S1C04-0G S$1C09-0G
= | gipmzs | S1DG4-0G S1DG9-0G S1DH4-0G S1DH9-0G S1D04-0G S1D09-0G
S | Look nut s (P118) (P118) (P119) (P119) (P120) (P121)
— adjustable — — —~7
> L] E = N O g g 5
_‘ - — - - - - 2
® [I i [I L [I 0
V)
o SACCH-OG SACCG-0G SACCO-0G SACGC-0G SACHC-0G SACOC-0G
W SADDH-OG  SADDG-0G SADDO-0G SADGD-0G SADHC-0G SADOD-0G
- (P122) (P123) (P123) (P124) (P124) (P125)
=
()
_|
< LT
8 Non
djustabl
adjustable | gicT9-3P S1CN9
S1DT9-SP S1DN9
(P126) (P127)
Tube to weld S1CW SOWC
S1DW S2WD
(P128) (P129)

BR7/ =R &Rt

BR8/ =t EE



annke i

a5 & 5l

PART NO. INDEX

a5 &5l PARTNO.

INDEX Sannke

U m

Japanese Metric Thread 60°

Cone Flared Tube Fitting

I

UHI
s1Q S1QG S1QG9-0G S1QH S1QH9-0G s1aL
(P145) (P146) (P146) (P147) (P147) (P148)

I |
NHIRE74°

S1QN S1QN4 S1QN9 sS1Q0 S1Q09-0G

Emy- OFEEL (P148) (P149) (P149) (P150) (P150)

*/_\ Metric Thread 74° = . R‘E‘-.

N Cone Flared Tube Fitting m ‘Ji m.

g Ty WHH &Y Wi

*’_“_ S1QT9-SP S1QT-SP S2Q9 s4Q S6Q9-LN S6Q-LN

= (P151) (P151) (P152) (P152) (P153) (P153)

e\

G) L]

o I

< HE=S

w SAQ SAQHQ-0G SAQQH-OG

— (P154) (P154) (P154)

-5 — T

8 oy W LT ‘J TR

T N2 560°

= AELHEL S1K S1KG S1KG9-0G S1KH S1KH9-OG  S1KT-SP

g- Bk (P155) (P155) (P155) (P156) (P156) (P157)

«Q

SAK
(P157) (P157)
= '
i Ei% |'|'|!E. : n.
S4L S4MN-WD S4H
(P158) (P158) (P158)

B3RO/ =M A& =t

Bumid pesiyl 1dS9'dSg Yy 2 b

A A% EBL60° - = o !
HE T WIHLw T @ l
Japanese BSP Thread 60°
SIS S1ST-SP S1ST4-SP S1ST9-SP
Cone Fitting (P159) (P159) (P159) (P160)
el v _J e {E}
I =] g =7 A
- = e T2
S1B S1B4 S1B9 S2B S2B4 S2B9
(P160) (P161) (P161) (P162) (P162) (P163)
(S =gy ‘:lE. |Wl el 2z
| : [ ] 0
e "-l W =y gl Ogo -
S1BG S1BG4-0G S1BG9-0G S1B-WD S1BT-SP =
(P163) (P164) (P164) (P165) (P165) (P166) -
%,
5 o
= ==
S1BT4-SP S1BT9-SP S5B S5B-WD
(P167) (P168) (P169) (P169)
HEEIEH60° :
] L A
SEHHEL J -
I'I_J
BSP Thread 60°
S5GB S6B-LN S6B9-LN S7B
Cone Fitting (P170) (P171) (P171) (P172)
i"“l'"‘ Mﬁ
L] |-. 2 H ill [ ]
S1BW S2wWB S1BO S1BH S1BH4 S1BH9-0G
(P173) (P173) (P174) (P175) (P175) (P176)
.__E H _ )
i ] I3
o o o oef
S1BJ S1BJ9 S2BJ S2BJ-WD
(P178) (P179) (P179) (P180)
!i"!“
S1BN9 S2NB S2NB9 S2TB-SP S2TB9-SP SAB
(P181) (P181) (P182) (P182) (P183) (P183)

BR10/ =Fm &zt



®
annke

—_2a

s

mit5 % 5] PART NO. INDEX

—_2a

s

mit5 x5 PART NO. |NDExSannke®

U m

HEEIEL60° l_
L. | EEEHES .I-‘
S | BSP Thread 60° .
f‘EIJ Cone Fitting SBB SABGB-0G
§§§ (P184) (P184) (P184) (P185)
3L _
T AT i
> et &9 R
S{; J = L
ED S1T-SP S1T9-SP S4T-SP S5GT S5T-SP S5T9-SP
N WG LIE (P185) (P186) (P186) (P186) (P187) (P187)
) BSPT Thread
_| Fitting
_J.i
— 1l S
i ) 2| s
2‘ — .l-l
()
V] S7T sSzT
o (P188) (P189)
T
5 7
S| wmoss Iﬂ- |!l'|- O]
Q | pjyg =
S4G S4B-WD S4BN-WD
(P189) (P190) (P190)

B3R/ =izt

Buini4 peaiyl WSdAN PUVY LdN‘IVS'SAHO OIr e ik 2 i

EHIBgT74°
#EEFEEL

oy Ry A=
S1J S2J9 SAJ
(P191) (P193) (P193)
1= L) '1
.'~' L =l Y A
OESE | el
SBJ Sa9J S9J-CAP
(P194) (P195) (P195)
[
o A, = d
L T j '
B i lJ E
S6J4-LN $6J9-LN S1JFL S1JFLY S1JFS x
(P196) (P196) (P197) (P197) (P198)
o AN,
O =%
! ) | J
S1JFS9 S1JN S1JN4 S1JN9 S1JN9-L S1JN9-LL
(P198) (P199) (P200) (P201) (P202) (P202)
S1JO S1JB-WD S1JH S1JH4-0G
(P203) (P206) (P207) (P207)
§ |
“ij =l
S1JH9-0G S1JG S1JG4-0G S1JG9-0G S1JM-WD
(P208) (P208) (P209) (P209) (P210) (P210)
i
LAHR
S2TJ S2HJ S20J SAJ6JJ-LN
(P211) (P211) (P212) (P12) (P213) (P213)

SAJJ6J-LN
(P214)

SAJJO-0G SAJOJ-0G
(P214) (P214)

B3R 12/ =g tt



Sannkéaﬁpﬁ,ﬁ%;aggl PART NO. INDEX P B2 5] PART NO. INDEX Sannke®

2
Bt == B
)i 1t
S1FLW - S1FLW9-W
S1F S1F9 S2F S2F9 = S1FSW S ESW_ M STFSW9-W S5FLWO-W
(P215) (P215) (P216) (P216) E (P233) (P234) (P235) (P236)
o)
(222 D — Ny Ny 5 =,
A o G o 2| s | &R €9 385 He A
% ==t = — Sps — g Flange—CIamps “@ “@ GD@ b
| SCF S4F S9F S6F-LN S6F9-LN S1FN 5 SFL SFS SFL-W SFS-W
F': (P217) (P218) (P218) (P218) (P219) (P219) «© (P237) (P238) (P239) (P240)
Z
> e
Lole}i
[ EH IR OKE |i‘!.|-|i|
B O | smorFszs : E
x @) S1FO S1FH9-0G x
'|IE| (P220) (P222) Ho s
wn - . OtherFlttlng
- 3/i8E RN :
& _é ' ,
> iEJE 0 U=
'_\_|
P S1FG9-0G SAFFH-0G SAFFO-0G SAFOF-0G SAFFG-0G — i O | — /E%'Jﬁ:ﬂ]
% (P224) (P224) (P225) (P225) (P226) :ﬁ[#ﬁ' Aan k'—ﬁi
3 PRI R K
> SSF SRL/SRS ML E(SP) B % 42 i (R 47 2 (RNL)
5 (P243) (P244) (P245) (P246) (P241)
o
% SAF6FF-LN
n (P226)
- A
3 =] gy
a |—| O
o S1N S1N9 SAN S4N S5N S5N9
o (P227) (P227) (P228) (P228) (P229) (P229)
n | £Hex
= | NPT,NPSM#% .
S | 1 | ﬁ i -
@ HEH | !
S7N S7N9 SGN S2NU S2NU9
(P230) (P230) (P231) (P231) (P231)
i 18 Sk i
Plug |! =
S40
(P232)

BR13/ =gt B3R 14/ =fm gt



N

EA = IEI\

Hydraulic Hose Assembly

—1‘7%5&5%1/\&,\&&%'] I—i
HORIRERBRTTR, BSF

, 1BFA10 AR
=ZH.

e

SR ES

®
B Mk &%) HYDRAULIC HOSE ASSEMBLY Sannkel

B BRITS &

How to order Assembly

PEBBT NS

=i wE R E =M

Hose Sping Guard Ferrule

B
BEAcHF  Overall Length
TinELRS HinELRS RERS BREKE| KA HEHE| |BRTHAR
Part mumber of Part mumber of Hose part Overall Displacement Spring Natural bending
fitting on the left fitting on the right number Length Angle Guard Direction
ITERBI1: S20491-30-12T/S87391-12-12X2T12X1200V90+RS/SSX
LHEEMA. BATHARSCEENER, IRSHIENBTATEELRE, o
ITERRGI2: HiEL 52 HER, Ris— M ELNRS, =
S20491-30-12TX2T12X1200V90 )53

RE SR KERTTIE

How to measure Assembly

RESRKEL UM ESLRIRE S S kO AR ITIE,

= & { I:

o _m i (‘}EL ]I
* |
= N — QPL.H_ =
3 s, S . — H
L B R - g
= ]

I : figﬂ : I {g_g
ROTON I%l Wi D

2/ =R i



®

®
Woas ik 251 HYDRAULIC HOSE AsSEMBLY Sannke A Mk 2 %] HYDRAULIC HOSE ASSEMBLY Sannke

RE SRR RN BREBRATHTEMAE

How to Measure Displacement Angle

Natural Bending Direction
Eﬁs‘z%%ﬁiﬁEJ—E%J:,Eqﬂ—’r‘?%%jhiﬁﬁrﬂ;ﬁl@ﬂﬁ’rﬁrﬂ HTREEFMNAREIL, EMITEMREURE, S REXATELN, REESHELEREAR
MES—MELEEEAMRLZENRA, LRBEAERR, BTG EENER,

BHREBAMENFEEAKTEH,

RE BN —iniEL AT HESL, S iRELABERINFINTHAER:

ERitAA =R K= E iR EF K=
. 0°(FFi i 77181 ) i 180°(H K2 J7 1 )
7 N EPES 7\
B E 4 ) DCW 4 BIkFEREE DSS B
| P h] = 1 - 5 q4p R ) < <
| 3 = | 3t I ) S AR < =
| Q0°(MAET £t %) 270° (Wit 4 ) , ,@f \\\_ PR - Dex
% @ X EEMN DCN BIKFEET S
| —E
RE B inEk AT LA N T+ iER:
YR SR +3° i Fom re R Fon re
= bRt 2
A o FTHEE A
Wk FE T SSX Mgty syce
L2 A
o £ 24 £ Sk =
RESRERANE
HOW TO MEASURE DISPLACEMENT ANGLE I 1 EH
L THE A TR, RRNATELAE—REXR, NEH, RAAKF @ E 588 EEAN YNES
MGEARNE, FRESHAR, NEE BEEERLAR, RITH Bx2kFmEL
WETEL2 SEENBNTEX ZEN%A, BHRESROERS,
AVET, WEHE, PINERSah225° K, FZHV225,
. 1 FE
B AT,
ko 1k SSY FHMI YWES
L2 KFEL
il LR R 31 FH
P __ 1 _ [ EE BN STC EHEA YNEX
“ B2 KERT
Wk B .
O R 1R 7 R FHEE o B PH
A @b, EHMEI YWEX
L0 mR L2 KERET

3/ =R s 4 =M EE A



® ®
WA R A% HYDRAULIC HOSE ASSEMBLY Sannke s g Z % HYDRAULIC HOSE ASSEMBLY Sannkel

HERNRIEFEDE MERKER, BHAREX

Assembly Installation, Technical requirements

How to choose with right inside diameter

ERREREZEHNEE, NRETKTEZWIN, MEEMEAR, WKREXE,

i Flow o o i _ N LEFEMERIMAER, REEBOHER, 2SHREWHE, U TEERT
RIEX FREHREBERIREZ R, FARTER, TUREHESENRENE, CERENUEENED, KA RETAREN TELEHERRENE S,

T4/ 4 me /4 According to the request of the flow and velocity,we can ascertain the proper inside drameter Install, tlhe hr?|se ina corr'ec, Wgy isfvehry meonam, it V\ﬁ" affect the h?lse,s aﬂ)e?,rance and
: : : cost a lot while it is too long, but if the hose is too short, it cannot flex while being cru—
L/min gal/min of hose quickly with the fo!owmg chart. - N shed. Both too long and too short can break down the hose. So pay more attention to t—
Bl —IRATEHAEBRHRKRE, ERETHRENREAN72U/min, KERNRNZK? he following guide before you install the assembly:
400 Example:How much will the inside diameter be if the flow of the hose is 70L/mm pressure line?
——— 80 EEFE: ERERLE72UMINGER—S, ERERN6.2K/FAN—=, EEAS
HHEZBERENZRN12.7-15.9mm2z 8, RBEE15.9mm ( BI#RS410) o
B 300 | Join the point of 72L/mm on the flow line and the point of 6.2m/s on the point where this straight B
-+—— 60 line cross the inside diameter line is the cross the inside diameter line is the right inside
L 5o diameter,here is 15.9mm. [ B Eﬂj
— Recommended flow tolerate the hydrarlic oil whose maximum. IR IEH iR
200
w0 B
150 | JK2 & M 4% Hose |.D —
— 30
_| ZKkmm  }i'%5 Dash
s ) RERER, V7ILEAE, ENLZENRSHIRER L RERER, V7ILEHAE, BNLZENRSHIIRERLE
100 —— 20 _ iikVelocity HEAMAR. HEAMAR.
90 —  — KD gL RS Hose should not be twisted. Hose is weakened when installed in twisted Since hose may change in length from+2% to-4% under the surge of high
80 __— m/s ft/s position. Also pressure in twisted hose tends to loosen fitting connections. pressure,provide sufficient slack for expansion and contraction.
e Design so that machine motion produces bending rather that twisting.
B 70 ] 0.6 ———2 =
154 60 _ [— — 124
50 —
S S 3
40 —
I WA :
— 4 I R E Hig
30 ——— _ Maximum velocity recommended iEfH
— 5 for pressure line
| 6
20— — | 7 LREZERN, EKESYSE, ERYIZES LS FEmk LTHEERNN, ERAEAELIUEREHNIS,
8 F, FHEBBBI, Choose right angle fittings to avoid too small bending radius and excess
BRI ] Don't use any clamps at the inflexion so as it can move freely. force.
15 | L 10 mkilEER®
— Maximum velocity recommended
- for return line
— —— 15
9__ - .
g1 20 iR EW
o — JE 1 W g
7T [ B R
66— 7.6 25 Maximum velocity recommended
5 - 8 — for high pressure line
4 —] ! S = 3
] ABERERHARTEZREG, RETHELERRATREMK, ZETHEIVEANKS, NRBEBNKE, FEafnEiy
— Hose bending radius should be as big as possible when it is in motion. fREERE,
?Eﬁiﬁiiﬁ‘]ﬁﬁﬁ%ﬁ?’a%j(*ﬁfEﬁGS oSt (ZOOCW)E@ﬂﬁEiﬂH) Reduce friction; avoid hose touching the object directly or far away from
Recommended flow tolerate the hydrarlic oil whose maximum. the object.

Correct Assembly Installation

S/ =R iR E 6/ =M E



®
Sannke

®
i 4 %% HYDRAULIC HOSE ASSEMBLY 54s MR Z 5] HYDRAULIC HOSE AssEmaLy Oannke

BRE R

EAMRSUEMREEE

Intermiscibility of Hose lining,fitting material,chemical substances

AR 15 B

Safety Guide For Hose Assemblies

1. BRER

RENEZEEY, E"“ INEMABERANRHRE, BRRGELH, BEYE, MASFEIKHENE, HmE

drop which will affect the whole system's capability. If it will fix with hose clamp or cross the steel board, the outside
diameter of hose should be pay more attention.
2, Working Pressure

ammonium sulfate/sulfide

MRS, MR

amyl acetate

ZBRIREE, HEH

DICODIDO|O|OO|O|DO|®|O(cjicimC|O|O(O|Cc|lOo|Oo(c|clcicMOmM MmO CODOOD

cimm|c|cimcimmmmC/C|C|mMmMmm{m|Mm|M(mMmmm|mMm(mMmm|Mm|MmcC|mm|mm|mmmcC|{m|m|Q|m|fm

m@CiClCcimMCcC|@O@IC|C|o|ICcmmmoOomcCcCi@Ccimm@omc|c|c|Cc|lcimmmmimmCc|Cc|lc|Cc|lCc|C|C

it e e s S A R A s S e A e it lu ittt it tiutiod oo o N ul tuf iu A i R u A R R R R A R A R A R

The dynamic working pressure in this catalog refers to the allowable maximum pressure in condition of :rr:zrl]zlz(;zzl %Ea{éﬂ
continuously working. According to the safety modulusof hydraulic hose ruled by international standard, we = = - e
recommend that the working pressure is one quarter of the minimum blast Pressures. amlmcj:‘, an!lme Bl R
3, Impact Pressure & Fatigue Life-span arsenic acid fih R
After determining the maximum system pressure for a hydraulic system, hose selection can be made. For the asphalt iHE
hydraulic system's pressure always be dynamic, there often appears an impact pressure, the maximum impact barium chloride S
pressure is much higher than the maximum system pressure. To be luckily, there is an over fallvalve in every barium hydroxide S8Mm
hydraulic system, so high impact pressure cannot affect the fatigue life—span seriously.As for hydraulic system barium sulfide Ak 50
whose impact pressure appears very frequently, we advise you choose the special hydraulic hose which is able benzene,A97benzol *®
to endure the high impact Ptessure. benzin FihkE
4, Temperature Range benzoic acid EHE
User must ensure that the temperature is in an allowable range of hose, if exceeding this range, the life-span benzyl alcohol FEE
of hose will be shorten, and the capacity to endure pressure will get down. If the working condition temperature borax W
keep too high or too low in a long time, we advice you use the hose spring guard. - -
5, Chemical Compatibility boric acid LI
If use special hydraulic medium, user should ensure the material of hose inner side and cover, the hose fittings brine oK
and O-ring can compatible with the special hydraulic medium. bromine 2
6, Bending Radius butyl alcohol TEE
Pay more attention to its minimum bending radius when install the hose assembly, if the bending radius is butyl stearate TEREER T B -
smaller than the minimum one, the capacity of enduring pressure will get down and the life—span of hose will be butylene Tk
shortened. butyraldehyde T -
7, Friction calcium acetate BEERSS C
We advised you use a spring guard if the hose assembly is always in the condition of touching and making calcium bisulfate MEASAE G

friction with hard object. Any technical question about Stronger Hydraulic hose assembly, welcome to inquire!

7] = R EE

clomm@@C|iclcimmcmMm@oO|@CcCimcimc|@mc|Cl@@commmmc Cc|lc|lc|lclcimOo|cimc|CcCl®
O@MMOIO O OMmMO@MmMMmCcC|ICO@C|IClOoO|mMmCcC|O|C|C|C|Cc|Cc|Cc(Cc|c|o|o|Cc|ciclomOo|OomcC|C

OOMMODC|O®OMMOMMOODMOMGOMMOONOOOOmMmMMMMOC|CmMmMOO MO Olm

8/ = R i EE

JEEIB o 1 E=excellent fi & o= =908 i btk i T
TREHER . BRERAEREENRE Tﬁmﬁa—“'ﬂﬂ”%ﬁ' hEEBRENSIMERT, C=conditional BRZE £ 14 T & FH 9 _T[E%gfaﬁ é:ynthetic ﬁﬁgﬁ Thermoplastic| $XSteel |Z$fABrass| Stainless
2. TIED U=unsatisfactory A& Fi) G=good #FHj Rubber Elastomer Steel
AP EXRENSDSITEENRERENEE TENARNESE, REFXERENENRERENRE Fluid Py Hose & %& % EMetal
R, RINEENTEENEEAREREBERENENES Z—, acetaldehyde Z B E
3. MEENHMESSG acetic acid , glacial IKEEER
IEMERERERERLZITHNEEENERHEN. ATRERSZNENEBRERDSHN, ARSHIBEE acetic acid, 10% ZH,10%
7]. WEENEESAASTFRENRSEE. BEREE L—RBERRR, hHENRSEEXNRENES S acetone 1]
B oo X ENSRIREROTE RS0, BN %S BIMA 5 R 7= o acetyl acetone Z B B
R | chloride ZES
4. REEHE acety
ﬁﬁ;:rﬁrnw EASEAFRENEARE, NRTIEREREBDE—ER, SLYMBRENES, TR acetylene i
NHERKER. TERMERERKASSSTERNRS, BIRARENE, ar W‘_at . BES
P aluminum chloride SLss
5. : : o
S FBRORENTR, FIS RIS RS, SN, bR OREHE S A RIAE. aumpnun fliorde AL
6. gﬂhéléf" alum!num nltlrfate ﬁiﬁ%:
ZRAE MM R B ER N E B EE, BEHEETN, BRERSOREENFEMEERES, T 2 Eﬁ*"
7. BiE o ) o ammonia, anhydrous FTKE
REEFEARINE SEYEMEEE, ZEREIMNINEENE, ammonia, aqueous =k
EMRE SR ERBEANEZRS, AERBIAEMEARERES, TRARIEEARENTEEMZFTE, ammonia, cold D&k
XEEREZER: GEAABESESRPOEMBEAREE, RIDEAL, ammonia, hot ?;'ﬁ*
2 There are many factors which can affect the usage condition of hose assembly, use the hose assembly and hose ammonium carbonate RER TR =
H fittings in acorrect way can ensure its reliability and economical efficiency. These factors are as follows: ammonium chloride S B
1, Hose Dimension ammonium hydroxide R4
The selection of hose inside diameter must be correctly made. If the hose inside diameter is too small, it will ammonium nitrate T ER $%
speed up the medium in the pipe-line, heated the system, lower the efficiency and produce excessive pressure ammonium phosphate ThER R



®

®
B B R % HYDRAULIC HOSE ASSEMBLY Sannke #1754 R A4 HYDRAULIC HOSE ASSEMBLY Sannke .

RENKR. EXMRSUFYRAIRRE

E=excellent g —— [0 .| HEE N P H ini it i i
C=conditiona{1jlt§ﬁiﬁ%1¢'l?{§ﬁﬁﬁ4] =5 Z T gyﬁﬁfﬁ SEp 'Th%}nffﬁﬁfsﬁc N r— gtzf?ffess Intermiscibility of Hose lining,fitting material,chemical substances
U=unsatisfactory & K G=good #FHj 5D, Rubber | &M | Eastomer Steel

Fluid AR Hose & & EMetal
calcium chloride SkEs E E E E G G G E=excellent fi &1 57 R SRR . IR BN
calcium hydroxide SE5S E E E C G G G C=conditional FR & # T F Y _TII:EPDM Synthetic | £ %< | Thermoplastic| X Steel #{fBrass| Stainless
calcium hypochlorite RS E U E c U G c U=unsatisfactory " i& FI#) G=good #FH Rubber Elastomer Steel
calcium nitrate THERES E E E E G G G Fluid ik Hose & & EMetal
cane sugar liquors EET E E E E E G E helium a E C G © E E E
carbolic acid AwREE, T E U E U U E E heptane BEkE U G E E E E E
carbon dioxide &Lk E G E E E E E hexane =Y U G E E E E E
carbon disulfide LR U U E C G G G hydraulic oils R IE G G G G G G G B
carbon monoxide — SRR E G E E E E E phosEster/petroleum blend FifiE&H - U E C E E E
carbon tetrachloride O Sk R U U E U U G G silicone oils fEil E E E E E E E
carbonic acid TR E G E (0] U (0] E straight petroleum base AilE U E E E E E E
castor oil B E E E G E E E straight phosphate ester  HEAFEE E U E C E E E
cellosolve acetate RS E U E U U U E water glycol ZBE E E E © E E E
china wood oil (tung oil ) Ligh: u G E C E G E water petroleum emulsion 7K ZLi& U G E C C E E
chlorine =l u U U V] © © © hydrobromic acid SIRBRKE E U E U E U =
chloroacetic acid S8 E U E U u u U hydrochloric acid iR C U E U u U u
chloroacetone SRR E U E U G G G hydrocyanic acid ER E C E = E E G
chlorobenzene ax U U E U G G G hydrofluoric acid SRR C U E U U U U
chloroform i U U E U G G G hydrogen = E C C C E E E
chlosulfonic acid SEE u u E u G u G hydrogen peroxide HELS C G E G u U G
chrome plating solution PESRIT E 0] E = © 0] u hydrogen sulfide dry THRULS E U c c E G G o
chromic acid RS E U E - C u U isooctane FER u G E E E E E s
citric acid Py =i E E E © © © © isopropyl alcohol BREE E G E C E E E )5
copper chloride ER A E E E E U U U isopropy! ether =357 U C E - G G G
copper cyanide E=p0a | E E E — E U G kerosene &l U C E G E E E
copper sulfate i E E E G U C G lacquer / lacquer solvents  Ei&/ZEAA U U E C U E E
cotton seed oil il U G E E E E E linseed oil AV FRAF i u G E G E E E
creosote (coal tar) JEEE i u C E V] E C E magnesium chloride S E E E C E C C
crude oil JE il U G E © G U @ magnesium hydroxide SEEE E G E (© E G E
cyclohexanone IREE E U E G E E E magnesium sulfate [z S E E E C E E E
detergent / Water solution & 5&FI7K A& E E E C G E E maleic acid ORER E U E C E G G
dibenzyl ether b E U E - G G G maleic anhydride BT U — ER BT U u E C G U E
diesel oil E3 U © E C E E E malic acid ERE, BET B U G E - U - E
ethyl acetate ZB E U E C E E E mercuric chloride SR E E E E U U U
ethyl alcohol (ethanol) ZHE E E E C E E E mercury X E E E E E u E
ethyl benzene ZE E U E E G G methanol g E G E C G G E
ethyl cellulose ZEA%ZR E G E C E G G methyl bromide AR R HE U U E U E E G
ethyl chloride 7k U U E u E E E methyl butyl ketone RETE E U E C E E E
ethylene dichloride —8Zk E U E V] G © G methyl chloride SHE U U E u E E E
ethylene glycol TZE R E E E C E G E methyl ethyl ketone FEZE E U E C G G G
ferric chloride Sk E G E = U U U methyl isobutyl ketone FERTEH G U E u G G G
ferric nitrate FHERSR E E E C U U G methyl isopropyl ketone RESRTAT G U E u G G G
ferric sulfate TR E G E C U U E methylene chloride ZS Rk G u E U G G G
formaldehyde AR E [ E C E E E mineral oils UROD u E E G E E E
formic acid 22017 E © E U] 0] © © naphtha i u U E G - - -
fuel oil SRR U G E E E E E naphthalene B3 U u E G E G E
furfural R E c E _ G G G natural gas BNt U C u C G G G
gasohol EERRR AR u u E G E E E nickel acetate BEERIR E U E u G C E
gasoline i U © E E E E E nickel chloride SR E G E U U U G
glycerine / glycerol A=FEHH E E E E E G E nickel sulfate TRERER E E E u u G G

9/ =R A EE

10/ = iR



® ®
4% 1k % 5] HYDRAULIC HOSE ASSEMBLY Oannke W45 1k %51 HYDRAULIC HOSE ASSEMBLY Sannke

RENKR. EXMRSUFYRAIRRE

E=excellent £ 5 i == =028 i .| BERRE AW Intermiscibility of Hose lining,fitting material,chemical substances

C=conditional FR7E &4 T & H i "E%Efﬁ Synthetic 'I%efojﬁ Thermoplastic| $XSteel |#$fBrass| Stainless

U=unsatisfactory " i& FiJ G=good #FHJ Rubber Elastomer Steel

Fluid iR Hose & % EMetal

nitric acid, over 10% FHER,EB1310% U u E U U u E E=excellent f£ FH _— & REER . | BB B
nitric acid, to 10% MR, ES10% U U E C U U E C=conditional BRE &4 T & FH i :7;%[?“?& Synthetic ?éfgﬁ Thermoplastic| $WSteel |ZE$@ABrass| Stainless
nitrobenzene HEE E U E U E G E U=unsatisfactory &K G=good ¥FHJ Rubber Elastomer Steel
nitrogen = E E E E E E E Fluid AR Hose 2 & £ EMetal
octyl alcohol e E E E E E E E soy bean oil Sih U G E G E E E
Oleic acid B ] U E G C E G stannic chloride S E E E C u u u
oleum (fuming sulfuric acid) KRR u U E U G U G steam (up to 388° F) KZEIR (& 5388° F) E u E u E E E
oxalic acid B E G E C U C C stearic acid TEASER E G E G C C E B
oxygen g5 U U U U G G G styrene G U U E U E E E
palmitic acid + B E G E E G - E sulfur i E C E G E u G
para—dichlorobenzene PO U U E - @ @ @ sulfur chloride sS4m U U E — G - @
pentane ks U E E G G G G sulfur dioxide —SE E U E U E G G
perchloric acid =i E C E U U U U sulfur trioxide =Z8E E U E U G © G
perchloroethylene Ex A U U E U C G G sulfuric acid (oven 10%) g (1853 10%) U U E U C C U
phenol (Carboﬁc acid) b)) U U E U U E E sulfuric acid (to 10%) ﬁ%(%%‘] 0°/o) E U E U U G C
phosphoric acid iy E U E U U E E sulfurous acid T ER E C E u u C o}
phosphorous trichloride =Sknt E U E U © U C tannic acid e E E E G E E E
potassium acetate B AR E G E - C G C tar (bituminous) bichi:i U C E G E G E
potassium chloride Sk 5 E E E E E © E tartaric acid AR E G E G U © ©
potassium cyanide EYIZ:] E E E E C u G tertiary butyl alcohol T EE E G E G G G G
potassium dichromate i E E E E © © © titanium tetrachloride RIS U U E - E U @ ”
potassium hydroxide (over 10%) S & L5R (#B3210%) E C E U G G G toluene (toluol) 223 U U E U E E E o
potassium hydroxide (010%)  SEWEH(RE10%) E G E C G G G trichlorethylene =RZ8k E u E u E G E 5%
potassium nitrate Ry EAEE E E E E G G E tricresyl phosphate iR = (SP R ZER) E U E U E - C
potassium sulfate Eiliv E E E E = = = triethanolamine =ZEER E c E U E U E
propane Ak U c - - E E E tung oil i U G E C E G E
propyl acetate ZERAEE E U E - E - E turpentine /NS U C E G G G G
propylene A U U E - E E E varnish HER U c E G E G E
refrigerant R—12 #14FIR-12 U C - G E E E vinyl chloride K2k u u E u E u C
refrigerant R—13 #HSFIR-13 U ] - G E E E water (+151° Fto +200° F) 7k(151° F F|200° F) E G E U C G E
refrigerant R-22 &4 FIR-22 U U C U E E E water (+201° F to +350° F) 7k(201° F F|350° F) E U E U C G E
sewage 57K E E E E G G G water (to +150° F) K(EE150° F) E E E E C G E
soap (water solutions) BEE 7Kk E E E © E E E xylene “HZFE U U E C E E E
sodium acetate BEEASH E G E - E E G zinc chloride SiLEE E E E E E U U
sodium bicarbonate ik E E E E G © E zinc sulfate TR EE E E E - U © ©
sodium borate PO A ER 5 E E E E E E E
sodium carbonate RN E E E E E G E
sodium chloride SLEn E E E E U C C
sodium cyanide E=Rig E E E E E - C
sodium hydroxide (over 10%) S & 0BT 10%) E U E C C C C
sodium hydroxide (to 10%) S &N (ES10%) E C = G C G C
sodium hypochlorite K SEEEH C C E C U U U
sodium metaphosphate 1RBEER SR E E = E E G G
sodium nitrate FHERH E G E E E C E
sodium perborate S TiER N E G E = © u ©
sodium peroxide TR E G E - U U C
sodium phosphates BEERER E E E E U E G
sodium silicate ESiAE E E E E E E E
sodium sulfate TREREH E E E E G G G
sodium thiosulfate mREERN E G E E U U C

11/ =R IR E 12/ =i E i



=/¢l

Ay

FHY

£

HE

PRy = /y 1

HE

& o w
ho futs [ 3 %
RERSKEARSH
. . B 1.D 5 | 6 8 | 10 | 13 |16 | 19 | 22 | 25 | 32 | 38 | 59
REXRR WERE REHS -
}+2 DASH 03 | 04 | -05 |06 | -08 | -0 | -12 | -14 | -6 | 20 | -24 | -32
BNE 41 89 | 102 | 14 | 127 | 178 | 203 | 241 305 | 419 | 508 | 635
SAE 100R1AT T
- TEEAMpa) | 207 | 190 | 17.2 | 155 | 138 | 103 | 86 69 | 43 | 34 | 26
~ BANE#EE 89 | 102 | 14 | 127 | 178 | 203 | 241 305 | 419 | 508 | 635
R SAE 100R2AT 27
TIEEAMpa) | 345 | 345 | 293 | 276 | 241 | 190 | 155 138 | 112 | 86 | 78
et
% DIN 20022 1SN BNE B 9 | 100 | 15 | 130 | 180 | 200 | 240 300 | 420 | 500 | 630
1SN
Steel EN 853 1SN TIEEAMpa) | 250 | 225 | 215 | 180 | 160 | 130 | 105 88 | 63 | 50 | 40
Wire
Bt DIN 20022 2SN BNE 442 90 | 100 | 115 | 130 | 180 | 200 | 240 300 | 420 | 500 | 630
rai 2SN
Hose EN 853 2SN TEENMpa) | 415 | 400 | 350 | 330 | 275 | 25 | 215 165 | 125 | 90 | 80
BNE B 9 | 100 | 115 | 130 | 180 | 205 | 240 | 280 | 300 | 420 | 500 | 630
GB 3683 12 1w
TEEAMpa) | 210 | 200 | 175 | 160 | 140 | 105 | 90 | 80 | 70 | 44 | 35 | 26
BNG 412 90 | 100 | 115 | 130 | 180 | 205 | 240 | 280 | 300 | 420 | 500 | 630
GB 3683 2% 2w
TEEA(Mpa) | 350 | 350 | 320 | 280 | 250 | 200 | 160 | 140 | 140 | 110 | 90 | 80
BANEBEE 127 | 178 | 203 | 241 305 | 419 | 508 | 635
SAE 100 R12 R12
TIEES(Mpa) 276 | 276 | 276 | 276 276 | 207 | 172 | 17.2
&4
ﬁ’“ BNE 150 180 | 230 | 250 | 300 340 | 460 | 560 | 660
- DIN 20023-4SP 43P
® TAEES(Mpa) 50.0 460 | 425 | 400 | 38.0 320 | 210 | 185 | 175
wE BINEHERE 250 | 280 340 | 460 | 560 | 700
Stee! DIN 20023-4SH 4SH
tee TEES(Mpa) 450 | 420 385 | 350 | 300 | 250
Wire BANE L 100 | 125 | 140 | 150 | 205 | 235 | 280 360 | 460 | 560 | 710
Spira| GB10544 3%Y 4SC
TEEA(Mpa) | 69.0 | 605 | 560 | 515 | 430 | 380 | 345 275 | 205 | 170 | 17.0
Hose
BNE R 200 280 340 | 460 | 560 | 700
GB10544 4% 4SE
TEEH(Mpa) 55.0 42.0 380 | 325 | 290 | 250
Fa o e = St
RESELE. EFERE
HOSE AND SUITABLE FITTINGS,FERRULE
%wg | @R 1D 5 6 8 10 13 16 19 22 25 32 38 51
%% |#% DASH | 03 -04 05 -06 08 10 12 14 16 20 24 32
1T | ERMEM  |S00110-03A|S00110-04A |S00110-05A | S00110-06A|S00110-08A | S00110-10A | S00110-12A S00110-16A|S00110-20 [S00110-24 | S00110-32
1SN | R XXXX1-
21
RAER | S03310-03AS03310-04A[S03310-05A| S03310-06A| S03310-08A | S03310-10A| S03310-12A S03310-16A|S03310-20 |S03310-24 |S03310-32
25N
R SATS XXXX1-
RAEN  |S00100-03 [S00100-04 |S00100-05 | S00100-06 |S00100-08 [S00100-10 | S00100-12 | $00100-14 [S00100-16 |S00100-20 |500100-24 |S00100-32
1w
B A Sk XXXX1-
| FREE 50020003 [500200-04 |5 00200-05 [500200-06 |5 00200-08 [S00200-10 [$00200-12 [ 500200-14 [S00200-16 [S00200-20 |5 00200-24 | S 00200-32
B A Skt XXXX1-
iy | RREM |5 0040004 | | 500400-06 | S00400-08 |S00400-10 |500400-12 | /S00400-16 | S01400-20 [S014100-24 |01400-32
RIS XXXX2- |
sop | ERER |500400-04 | | 500400-06 |$00400-08 |S00400-10 |500400-12 | [S00400-16 |S00400-20 [500400-24 |S00400-32
RIS XXXX2-
o | EAER | | | 500400-10 |500400-12 | |S00400-16 |S00401-20 |S00401-24 |S00401-32
4SH
RIS XXXX2-
RAEH |s01401-04 | | s01401-06 |S01401-08 | |s01401-12 | S01401-16 |S00400-20 |S00400-24 |S00400-32
asc
RIS XXXX2-
e | EREM | | | 0140008 | |s01400-12 | 50140016 | 501400-20 |S01400-20 |501400-32
B PSS XXXX2-

e)iuues ATdNISSY IASOH JITNVHAAH 14 ¥ %1 7Y & v

®

auue A19AN3SSY ISOH JI'NNVAHAAH AR RS P= D



® ®
W 4k 5] HYDRAULIC HOSE ASSEMBLY 9annke W %k %] HYDRAULIC HOSE ASSEMBLY Sannke

REXBRTIEENEHFRXR

HOSE ACTIVE WORKING PRESUURE —-WORKING LIFE
— 2N gk One Steel Wire Braid Hose(SAE 100R1AT)

WATZ Inner Tube: il 5 IR Oil Resistant Synthetic Rubber
# 5% i Reinforcement: 124K 22 4% 2114 51 1 One Steel Wire Braid Reinforcement

NETEY, HERIIEEAREY AN JZE Cover: Tyl %25 RS A gk Oil And Weather Resistant Synthetic
100 TEENHI.25 &R, EEMNAE i ZYuH Temperature Range: —40°C~+100°C
90 —+ ERE—F, AL Insert: xxxx1=xx—xxZ %]  xxxx1-xx—xx Series
80 T A 4 4 /
B wERT NFENE A RF WENR | REME | BRTAEES T /N R ) fe/NS AR (WSS
70 + HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.] MAX W.P. | MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE
PART NO. mm DASH | Inch mm mm MPa MPa mm
60 -+ 1704 6 04 | 1/4" 6.4 13.4 19.2 76.8 102 S00110-04A
= 1705 8 -05 | 5/16" 7.9 15.0 17.5 70 114 S00110-05A
A 50 1706 10 06 | 3/8" 9.5 17.4 15.7 62.8 127 S00110-06A
% 1708 13 08 | 1/2" 12.7 20.6 14 56 178 S00110-08A
40 T 1710 16 -10 | 5/8" 15.9 237 10.5 42 203 S00110-10A
o 1T12 19 —12 | 3/4" 19 27.7 8.7 8 241 S00110-12A
tk 30 1T16 25 -16 ik 25.4 35.6 7 28 305 S00110-16A
1T20 32 —20 | 1.1/4" 31.8 435 4.3 17.2 419 S00110-20A
20 T 1T24 38 24 [ 1.1/2" 38.1 50.6 3.5 14 508 S00110-24A
1732 51 -32 2" 50.8 64.1 2.6 10.3 635 S00110-32A
10
& 125 |
m O T T T
100 200 300 400 500 600
150
LBRIIEEA (%)
Y (o)
BUTIEEAR

— BNz g4 One Steel Wire Braid Hose (EN 853 1SN)

WHT)Z Inner Tube: iyl a5 i Oil Resistant Synthetic Rubber
— ﬁ % 3}2 4 5% 2Reinforcement: 124N 22 45 213 51 ) One Steel Wire Braid Reinforcement
Storage requirements 4hEJZ Cover: Tif i %45 KA A idg Ik Oil And Weather Resistant Synthetic

UL Vi Temperature Range: —40°C~+100°C
$ﬁ"é'—,§\ﬁk[§|’]|ﬂ T_-'E;k ATFHEELE Insert: xxxx1-xx—xxZ %1 xxxx1-xx—xx Series

® REFARE, MEFREMNHFAE0~35° C ZE, MEFHEFmIEERSAFELS0° C,

wENRT | AARE WA R WENR BEINE | BKTAEE D fe /MBI T /NS AR fic A
[ E H
® LERXAFEMAEFERAMRE, WRFSH, SRERSKE. AHYRHME>E HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.] MAX W.P. | MIN.BURST PRESSURE| MIN.BEND.RADIUS | FERRULE
A MENEE, PART NO. mm DASH | Inch mm mm MPa MPa mm
@ Fet5mEMmEERAME— R R R AL ST, 1SN04 E 04 | 1/4" 6.4 13.4 225 90.0 100 S00110-04A
o BERAWNP . N 7 -
N SH= N2 3 - ° . : . —
® gk R fAEEGE RS SR E S o 1SN08 13 ~08 | 12" 12.7 20.6 16.0 64.0 180 S00110-08A
@ 7B 5 L5 B iR Sl T HE A 1SN10 16 10 | 5/8" 15.9 23.7 13.0 52.0 200 S00110-10A
® T, HBRERS, 1SN12 19 12 | 34 19 277 10.5 42.0 240 S00110-12A
R e 1SN16 25 16 e 25.4 35.6 8.8 35.0 300 S00110—16A
ShAEE K a2 =
® Fﬂ%ﬂ;ﬁi "’ﬁ"‘ﬂ]%mgio 1SN20 32 20 | 1.1/4" | 318 435 6.3 25.0 420 S00110-20A
® "FRHE T EHBIEN, 1SN24 38 o4 | 1.1/2" 38.1 50.6 5.0 20.0 500 S00110-24A
1SN32 51 32 o 50.8 64.1 4.0 16.0 630 S00110-32A

]5/ *T/)”,'fZIS j:ﬁ'fq: ] 6/ *j;JIL'TZIS *ﬁ'fq:

m &



B

®
B %% HYDRAULIC HOSE ASSEMBLY Sannke

B

®
M %% HYDRAULIC HOSE AsSEMmBLY Sannke

Two Steel Wire Braid Hose (SAE 100R2AT)

WATIZE Inner Tube: it il Bitg R Oil Resistant Synthetic Rubber
o 2 Reinforcement: 2)2 40 22 4 43 14 5 J2Two Steel Wire Braid Reinforcement
41 )7 Cover: Tl %25 KA s Oil And Weather Resistant Synthetic

UL VE I Temperature Range: —40°C~+100°C

BN Insert: x0T =xX—XX 22 41)

XXxX1-xx—xx Series

AL
teeers

SRy

BERYS | AR s R BEWE | PEIME | BK TR | BB D) e/ AR LS
HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.| MAX W.P. |MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE

PART NO. mm DASH | Inch mm mm MPa MPa mm
2T04 6 04 | 1/4" 6.4 15.0 345 137.9 102 S03310-04
2705 8 -05 | 5/16" 7.9 16.7 29.3 117.2 114 S03310-05
2706 10 -06 | 3/8" 9.5 19.1 27.6 110.3 127 S03310-06
2708 13 -08 | 1/2" 12.7 222 24.1 96.5 178 S03310-08
2T10 16 -10 | 5/8" 15.9 25.4 19.0 75.8 203 S03310-10
2T12 19 -12 | 3/4" 19 29.3 15.1 62.0 241 S03310-12
2T16 25 -16 1" 25.4 38.1 13.8 55.2 305 S03310-16
2T20 32 -20 | 1.1/4" 31.8 48.3 11.2 44.8 419 S03310-20
2T24 38 24 | 1.1/2" 38.1 54.6 8.6 345 508 S03310-24
2T32 51 -32 2" 50.8 67.4 7.8 31.0 635 S03310-32

TR g R e Two Steel Wire Braid Hose (EN 853 2SN)

WATJZE Inner Tube: iyl B8k Oil Resistant Synthetic Rubber
B on EReinforcement: 2/2 40 22 4 43 1 5% JETwo Steel Wire Braid Reinforcement
4N )7 Cover: Tt %25 KRG kIR Oil And Weather Resistant Synthetic

ULV Temperature Range: —40°C~+100°C

TTHFSL D Insert: xxxx1—xx—xxX &7

XXXX1-xx—xx Series

AL
teeers

SRy

WERS | AMHNE WA RS KENR | KEIME | BN TAER T e/ N ) b ) o R e Jic FH & 15
HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.] MAX W.P. |MIN.BURST PRESSURE | MIN.BEND.RADIUS| FERRULE

PART NO. mm DASH | Inch mm mm MPa MPa mm
2SN04 6 04 | /4" 6.4 15.0 40.0 160.0 100 S03310-04
2SNO05 8 —05 | 5/16" 7.9 16.7 35.0 140.0 115 S03310-05
2SN06 10 —06 | 3/8" 95 19.1 33.0 132.0 130 S03310-06
2SN08 13 —08 | 1/2" 12.7 222 275 110.0 180 S03310-08
2SN10 16 10 | 5/8" 15.9 254 25.0 100.0 200 S03310-10
2SN12 19 12 | 34" 19 29.3 215 85.0 240 S03310-12
2SN16 25 16 L 25.4 38.1 16.5 65.0 300 S03310-16
2SN20 32 20 | 1.1/4" | 318 483 12.5 50.0 420 S03310-20
2SN24 38 24 (112" | 38.1 54.6 9.0 36.0 500 S03310-24
2SN32 51 -32 2" 50.8 67.4 8.0 32.0 630 S03310-32

17] =i & S

T b2 G R

WATE: Inner Tube: il A5 iE Oil Resistant Synthetic Rubber

i JZReinforcement: 4/ 4N 22 i 4¢ 1 5% J:Four Steel Wire spirals Reinforcement

4ME )7 Cover: il 825 K4 Hidg iR Oil And Weather Resistant Synthetic
W EJaE Temperature Range: —-40°C~+121°C
XXXX2—-XX—XX Series

A BN Insert: Xxxx2—-XxX—XX £ 4]

Four Steel Wire Spiral Hose (GB/T10544 R12-SAE 100 R12-EN 856 R12)

wERS | AT g RN NG | EIME | BK IR SN /N AR P FH 2 1)
HOSE DN HOSE SIZE HOSE I.D. | HOSE O.D.| MAX W.P. | MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE

PART NO. mm DASH | Inch mm mm MPa MPa mm
R1206 10 -06 | 3/8" 95 20.3 28.0 112.0 127 S00400-06
R1208 13 -08 | 1/2" 12.7 23.8 28.0 112.0 178 S00400-08
R1210 16 -10 | 5/8" 15.9 27.4 28.0 112.0 203 S00400-10
R1212 19 -12 | 3/4" 19 30.7 28.0 112.0 241 S00400-12
R1216 25 -16 1" 25.4 38.0 28.0 112.0 305 S00400-16
R1220 32 20 |1.1/4" | 318 47.0 21 84.0 419 S01400-20
R1224 38 24 | 1.1/2" | 38.1 53.5 17.5 70.0 508 S01400-24
R1232 51 -32 2o 50.8 66.7 17.5 70.0 635 S00401-32

W2 giseik s Four Steel Wire Spiral Hose (GB/T10544 4SP-EN 856 4SP)

MAS 2 Inner Tube: il A5 1% Oil Resistant Synthetic Rubber
58 2 Reinforcement; 4)2 4K #2 41 ¢ 1% 5 )2 Four Steel Wire Spirals Reinforcement
A1 )2 Cover: iyl 2% 25 KA A kIR Oil And Weather Resistant Synthetic

WL V5l Temperature Range: —40°C~+100°C
A LT Insert:  XXXX2—XX—XX R 4

XXXX2—-XX—XX Series

BENRS | ARRE g RAF WENE | BREIME | BN TAEE D e NIRRT N AL (Wi RSl
HOSE DN HOSE SIZE HOSE I.D. | HOSE O.D.] MAX W.P. | MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE
PART NO. mm DASH | Inch mm mm MPa MPa mm

4SP04 6 -04 1/4" 6.4 17.9 45.0 180.0 150 S00400-04
4SP06 10 -06 3/8" 9.5 21.4 44.5 178.0 180 S00400-06
4SP08 13 -08 1/2" 12.7 24.6 41.5 166.0 230 S00400-08
4SP10 16 -10 5/8" 15.9 28.2 35.0 140.0 250 S00400-10
4SP12 19 -12 3/4" 19 32.2 35.0 140.0 300 S00400-12
4SP16 25 -16 1" 25.4 39.7 28.0 112.0 340 S00400-16
4SP20 32 -20 | 1.1/4" 31.8 50.8 21.0 84.0 460 S00400-20
4SP24 38 -24 | 1.1/2" 38.1 57.2 18.5 74.0 560 S00400-24
4SP32 51 -32 2" 50.8 69.8 16.5 66.0 660 S00400-32

18/ =R iR



BE B

®
ik % %] HYDRAULIC HOSE ASSEMBLY Sannke

®
i 4 g 2 %) HYDRAULIC HOSE ASSEMBLY Sannke

22 LR Four Steel Wire Spiral Hose (GB/T10544 4SH-EN 856 4SH)

WS JZE Inner Tube: il & i ik Oil Resistant Synthetic Rubber

14 ¥ FReinforcement:
4NEJZE Cover:
1% ¥ Bl Temperature Range:

47 e ok J3E A 2 2

TRyl 3% 25 RS A kg i Oil And Weather Resistant Synthetic

-40C~+100C

Zeti o JZ:Four High Tensile Steel Spirals Reinforcement

;m o SR

AL FHHEEL Insert: xxxx2-XX—XXF 51 xxxx2-xx—xx Series j.u"ﬁﬁ”
PSS | AR W R~ BENGR | BEIME | K TAEE D S /MR ) BANE e (WG R
HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.] MAX W.P. |MIN.BURST PRESSURE | MIN.BEND.RADIUS| FERRULE
PART NO. mm | DASH| Inch mm mm MPa MPa mm
4SH12 19 12 | 34" 19 32.2 42.0 168.0 280 S00400-12
4SH16 25 16 | 1" 254 38.7 38.0 152.0 340 S00400-16
4SH20 32 20 |1.1/4"| 318 455 325 130.0 460 S00401-20
4SH24 38 24 | 11/2" | 381 53.5 29.0 116.0 560 S00401-24
4SH32 51 32 | 2 50.8 68.1 25.0 100.0 700 S00401-32
M2z g geti % Multiple Steel Wire Spiral Hose (GB/T10544 R13-SAE 100 R13-EN 856 R13)

W E Inner Tube: iyl & kg ik Oil Resistant Synthetic Rubber

¥ 0m 2 Reinforcement:
4N JZE Cover:
i & Y5l Temperature Range:

i b i 2%

HRA

3L Insert: xxxx3—xx—xx &4l xxxx3-xx—xx Series;

% 2 1w om PB4 22 2 4 1% 58 2 Multiple High Tensile Steel Spirals Reinforcement
A Oil And Weather Resistant Synthetic
-40°C~+121°C

BERS | AR P T BEWRE | WESME | BKTAERD | BUMRBE ) /N AR LRSI
HOSE DN HOSE SIZE | HOSE I.D. | HOSE O.D.| MAX W.P. | MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE

PART NO. mm DASH | Inch mm mm MPa MPa mm
R1312 19 -12 | 3/4" 19 32.1 345 137.9 241 $00621-12
R1316 25 -16 1" 25.4 38.7 34.5 137.9 305 S00621-16
R1320 32 -20 | 1.1/4" 31.8 49.8 345 137.9 419 $00621-20
R1324 38 -24 | 1.4/2" 38.1 57.3 345 137.9 508 S00621-24
R1332 51 -32 2" 50.8 71.8 345 137.9 635 $00621-32

19/ = s 1

B 22 9 58 Bk

pesas

]

W# 2 Inner Tube :

B4 iReinforcement:
AN JZ Cover: i i
L Vu [ Temperature Range :
XXXX3-XX-XX Z 4]

Al F 3L Insert -

i i A A% B Oil Resistant Synthetic Rubber
% )2 v o E AN 42 2 44 1 55 )2 Multiple High Tensile Steel Spirals Reinforcement

TR RAG M Oil And Weather Resistant Synthetic

-40°C~+100 C
XXXX3-XX-XX Series

Multiple Steel Wire Spiral Hose (GB/T10544 R15-SAE 100 R15-EN 856 R15)

wENRS | ARAE A RSE WENE | REIME | BRTERE S e ANEERE R ) /NS AR B &R
HOSE DN HOSE SIZE HOSE I.D. | HOSE O.D.] MAXW.P. MIN.BURST PRESSURE | MIN.BEND.RADIUS | FERRULE
PART NO. mm DASH | Inch mm mm MPa MPa mm
R1512 19 -12 3/4" 19 31.6 42.0 168.0 280 S00621-12
R1516 25 -16 1" 25.4 38.6 42.0 168.0 300 S00621-16
R1520 32 -20 1.1/4" 31.8 49.6 42.0 168.0 400 S00621-20
R1524 38 -24 1.1/2" 38.1 56.5 42.0 168.0 500 S00621-24

W IE %% Two Polyester Braid Hose

W4t )2 Inner Tube :

Wi 2 Reinforcement :

4h 7 7 Cover :

Tt O RS 2R 55 R PR 4 T 5L

AR P B R B

/*Hx/*

"?L/Ké\

(SAE 100R7-EN855 R7)

%)l Thermoplastic Polyester
2)7 v o i SR e g 2 14 5 )22 Two High Tenacity Polyester BraidS Reinforcement

Oil, Fuel, Weather, Ozone And Abrasion Resistant Thermoplastic Polyurethane

i Ju [l Temperature Range :
Ak B Insert -

XXXX1S-XX-XX F 4

-40C~+93 C
xxxx1S-xx-xxSeries

[ ——

BENRE | AR HAERSE BENGE | BEIME | BOKTMEIR S | BNMERE S /N AR B HE R
HOSE DN HOSE SIZE HOSE I.D. | HOSE O.D.] MAX W.P. MIN.BURST PRESSURE | MIN.BEND.RADIUS| FERRULE

PART NO. mm DASH | Inch mm mm MPa MPa mm
R703 5 -03 3/16" 4.8 9.5 20.7 82.7 40 S00018-03
R704 6 -04 1/4" 6.4 11.9 19.0 75.8 50 S00018-04
R705 8 -05 5/16" 7.9 14.3 17.2 68.9 60 S00018-05
R706 10 -06 3/8" 9.5 16.5 15.5 62.0 75 S00018-06
R708 13 -08 1/2" 12.7 20.4 13.8 55.2 95 S00018-08

20/ =R IR EE

m &



®
£ FERRULE Sannke

SAE 100 R7/R8# 414

SOOO1 8 FERRULE FOR SAE1000R7/R8 HOSE
i %% HOSE BORE JU~) DIMENSIONS
PART NO. ARRPIFE DN 55 DASH L D
$00018-02 4 02 25 13.5
$00018-03 5 03 27 15
S00018-04 6 04 30 18
S00018-04A 6 04 29 14
S00018-05 8 05 30 18.8
S00018-06 10 06 34 21
$00018-08 13 08 34 255
S00018-08A 13 08 34 27.2
S00018-10 16 10 37 315
S00018-10A 16 10 37 28.6
$00018-12 19 12 43 33
GB 3863 171, DIN 20022 1ST. SAE 100R1A% 45
S00100 For GB 3863 1 TYPE. DIN 20022 1ST, SAE 100R1A HOSE FERRULE
= %% HOSE BORE JU~} DIMENSIONS
L PART NO. AFRM#E DN b33 DASH L D
$00100-04 6 04 30 20
$00100-05 8 05 31 21
] S $00100-06 10 06 32 23
$00100-08 13 08 34 28.5
$00100-10 16 10 37 32
$00100-12 19 12 42 35
n S00100-16 25 16 50 43
$00100-20 32 20 59 50. 5
F erru I e S00100-24 38 24 72 57
$00100-32 51 32 74 70

22/ = R E R

ot



®
Sannke £ FERRULE Sannke

£ FERRULE

GB 3863 27!, DIN 20022 2ST. SAE 100R2A%K £ (A GB 3863 271, DIN 20022 2SN. SAE 100R2AT k&£ A

S00200 For GB 3863 2 TYPE. DIN 20022 2ST. SAE 100R2A HOSE FERRULE $00210 For GB 3863 2 TYPE. DIN 20022 2SN. SAE 100R2AT HOSE FERRULE
RE %% HOSE BORE JUs} DIMENSIONS froe 4% HOSE BORE Ji~} DIMENSIONS
pr————— PART NO. AR F% DN }7% DASH L D e By PART NO. JFRPI#5 DN 15 DASH D L
f]j:rm:n- S00200-04 6 04 30 21 : S00210-04 6 04 223 30
] o $00200-05 8 05 31 225 _:_L[[{I]:n‘[m= $00210-05 8 05 23 31
S00200-06 10 06 32 24 i S00210-06 10 06 25 32
S00200-08 13 08 34 28.7 S00210-08 13 08 28.7 34
$00200-10 16 10 37 315 S00210-10 16 10 315 37
$00200-12 19 12 43 36 S00210-12 19 12 355 43
S00200-16 25 16 50 44 S00210-16 25 16 45 50
$00200-20 32 20 59 54.5 S00210-20 32 20 55 59
S00200-24 38 24 74 62 S00210-24 38 24 62.5 74
$00200-32 51 32 78 75 S00210-32 51 32 75.5 78
WAL T LREHUMZE.  Don’ t recommend for engineering machineries

Mgk SAE 100R1AT/DIN20022 1SN# & 4 1

it

S00110-A FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE
K5 %% HOSE BORE K~} DIMENSIONS
—l PART NO. AFRH4% DN b2 DASH L D
Ao ! S00110-04A 6 04 30 21
- S00110-05A 8 05 31 21.8
S00110-06A 10 06 32 24.3
i | P ] 13 o8 ” o84 SAE 100R1AT/R2AT. DIN 20022 1SN/2SN# 5 451
001 10-10A = 0 p . $03310 FERRULE FOR SAE R1AT/R2AT. DIN 20022 2SN HOSE
S00110-12A 19 12 43 355 RE #'E HOSE BORE JUF DIMENSIONS
S00110-16A 25 16 50 44 1 : PART NO. AFRA4E DN 55 DASH D L
S00110-20A 32 20 59 53 $03310-04 6 04 23.2 30
S00110-24A 38 24 74 59.3 o $03310-05 8 05 - 30
S00110-32A 51 32 77 735 S03310-06 10 06 26.3 32
B | S03310-08 13 08 29.9 34
S03310-10 16 10 33.2 36
S03310-12 19 12 37.8 42
SAE 100R1AT/DIN20022 1SN#K 45 503310-16 25 16 46.9 50
S00110 FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE $03310-20 32 20 59 59
S03310-24 24
S 7 (OIS (el 2 X NUIMENSIONS S03310-32 :? 32 23 ;i
] PART NO. AFRAFE DN b5 DASH L D
I 1 S00110-04 6 04 30 20.6
ol S00110-05 8 05 31 20.8
' S00110-06 10 06 32 233
1 S00110-08 13 08 34 27
S00110-10 16 10 37 30
S00110-12 19 12 43 34
S00110-16 25 16 50 426
S00110-20 32 20 59 52
S00110-24 38 24 74 58
S00110-32 51 32 78 72

23/ Z MR E R

24) = FRIREREM

ot



£ FERRULE

Sannke

®
£# FERRULE Sannke

S01100

C
S01200
(1T
E
=

S01300

25/ = MR EE

HE 7 — o 22 g SR
FERRULE FOR CHINA STANDARD 1-STEEL WIRE BRAID HOSE

i

5 4% HOSE BORE Ji~} DIMENSIONS
PART NO. AR A4E DN k55 DASH L D
S01100-04 6 04 30 19
S01100-05 8 05 32 21
S01100-06 10 06 32 23
S01100-08 13 08 34 28
S01100-10 16 10 37 31
S01100-12 19 12 43 34
S01100-16 25 16 50 41
S01100-20 32 20 59 49
S01100-24 38 24 74 55

[ 7 4 J2 0 42 G U R 1
FERRULE FOR CHINA STANDARD 2-STEEL WIRE BRAID HOSE

R %4 HOSE BORE Ji~} DIMENSIONS
PART NO. AFEP4E DN Fr'% DASH L D
S01200-04 6 04 30 21
S01200-05 8 05 31 23
S01200-06 10 06 32 25
S01200-08 13 08 34 31
S01200-10 16 10 39 34
S01200-12 19 12 43 37
S01200-16 25 16 50 43
S01200-20 32 20 59 51
S01200-24 38 24 74 57

[ 77 = 240 22 g U 1
FERRULE FOR CHINA STANDARD 3-STEEL WIRE BRAID HOSE

foe %% HOSE BORE Ji~} DIMENSIONS
PART NO. AFRA1E DN # DASH L D
S01300-05 8 05 32 255
S01300-08 13 08 34 33
S01300-10 16 10 39 36
S01300-12 19 12 43 39
S01300-16 25 16 50 45
S01300-20 32 20 59 53
S01300-24 38 24 74 59
S01300-32 51 32 78 72

S01400

SAE 100 R12/20-24, GB 10544 5/ #4451
FERRULE FOR SAE 100 R12/20-24, GB 10544 5TYPE HOSE

e ¥ HOSE BORE /{5 DIMENSIONS
PART NO. AFA 7 DN b5 DASH L D
S01400-06 10 06 39 27.5
S01400-08 13 08 41 315
S01400-10 16 10 43 34
S01400-12 19 12 51 39
S01400-16 25 16 61.5 46.5
S01400-20 32 20 67.5 55.5
S01400-24 38 24 75 63.5
S01400-32 51 32 79 78

SAE 100 R12/06-16, GB 10544 37/20-32, DIN 20023-4SP, 4SH/10-16# &£

S00400 FERRULE For SAE 100 R12/06-16, GB 10544 3TYPE/20-32, DIN 20023-4SP, 4SH/10-16 HOSE
; ) %% HOSE BORE Ji} DIMENSIONS
PART NO. AFRAAE DN k55 DASH L D
f[n‘ﬂj’]ﬂ 1 S00400-04 6 04 37.5 22
11181} M S00400-06 10 06 39 255
S00400-08 13 08 41 29
! S00400-10 16 10 43 34
S00400-12 19 12 51 37
S00400-16 25 16 615 465
S00400-20 32 20 675 57
S00400-24 38 24 75 65
S00400-32 51 32 79 79
DIN 20023-4SH /& £
S00401 FERRULE FOR DIN 20023-4SH HOSE
; T 4% HOSE BORE Ji-] DIMENSIONS
J PART NO. AFRPAE DN b5 DASH L D
mm S00401-20 32 20 67.5 53
Hih Lo S00401-24 38 24 75 61
S00401-32 51 32 79 77

25/ = MR E

o



£ FERRULE

Sannke

®

ot

SAE 100 R13/R15. 4SH/12-16 /& 3 N SMNRE

$00621 INTERLOCK FERRULE FOR SAE 100R13/R15. 4SH/12-16 HOSE
=2 # HOSE BORE JL5} DIMENSIONS
p—L PART NO. AFRHNE DN Fr'5 DASH L D
1 S00621-12 19 12 53 39.5
1 . Lo S00621-16 25 15 66 48.5
S00621-20 32 20 88 59
- S00621-24 38 24 102 69.3
S00621-32 51 32 106 84.45

-’

27 = R EE

3%

KE=AE K
T - e 8]

RE =k

Hydraulic Hose Fitting



® ®
151 25 HOSE FITTING st one rece ring O ANNKE A 251 HOSE FITTING 5t one pece Fiting Sannke

NSRG4 NHETIE RS 45° TS NN RG24 HEATOTE B 251

2=

Pz

S10411-RW METRIC MALE 24° CONE SEATL.T.ISO 84341-1-DIN3861 S20441-TRW 45° METRIC FEMALE 24° CONE O-RING L.T. ISO 12151-2—DIN 3865
K= RS T %% HOSE BORE ETHME R~ DIMENSIONS e AT W4y HOSE BORE ST i~} DIMENSIONS
PART NO. THREADT | A M4EDN | b DASH | TUBEO.D | L | D St PART NO. THREAD T | A#W4DN | 4% DASH | TUBEOE. | L | H St
$10411-12-04RW | M12X1.5 6 04 6 13.5| 6 14 S20441-14-04TRW | M14X1.5 6 04 8 39 | 17 17
$10411-14-04RW | M14X1.5 6 04 8 13.5| 8 17 S20441-16-04TRW | M16X1.5 6 04 10 39 | 19 19
S10411-14-05RW | _ M14X1.5 8 05 8 14.5| 8 17 S20441-16-05TRW | M16X1.5 8 05 10 45 | 215 19
S10411-16-04RW M16X1.5 6 04 10 16.5| 10 17 S20441-18-05TRW M18X1.5 8 05 12 46 20 20
S10411-16-05AW | __M16X1.5 8 05 10 16.5| 10 17 S20441-18-06TRW | M18X1.5 10 06 12 48 [ 222 22
S10411-18-05RW | __M18X1.5 8 05 12 16.5] 12 19 S20441-26-08TRW | M26X1.5 13 08 18 60.5 | 27.9 32
e e O g B WIS [0 L5 2 18,9|_1= 1 S20441-26-10TRW | M26X1.5 16 10 18 68.5 | 29 32
S e T V) NI 1 5 = L S &l S20441-30-12TRW |  M30X2 19 12 22 74 315 36
S10411-26-08RW | M26X1.5 13 08 18 19 | 18 27 S20441-36-12TRW |  M36X2 19 12 28 76,5 | 33.7 41
$10411-26-10RW | M26X1.5 16 10 18 19.5] 18 27 S20441-36-16TRW | M36X2 25 16 28 38 | 35 a1
SIS | & 13 12 = 225 22 £ S20441-45-20TRW | M45X2 32 20 35 98 [ 39.1 50
S10411-36-16RW | _ M36X2 25 16 28 25.5 28 41 S20441-52-20TRW | M52X2 32 20 42 100 | 39.1 60
il0 et 2O NN M1 22 £y £ LB € et $20441-52-24TRW | M52X2 38 24 42 115 | 45.3 60
S10411-52-24RW | M52X2 38 24 42 27.5| 42 55 ; . : e :
e RPRGHTREPE . 20 Wik TSP 105 50 S20442-XX-XXTRW  Note:1.For use with
w1 RPRSH PRSI . 20 T THEZPAEER 5 15 S10412-XX-XXRW braided hoses. 2.If use with spiral hoses,hose fitting series number is S20442-XX-XXTRW
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is S10412-XX-XXRW.

90° A5 A HINIEL24° HiEH O B 241
S20491-TRW 90° METRIC FEMALE 24° CONE O-RING L.T.ISO 12151-2-DIN 3865

NHINERZ24° HEHTOIEIE 2 R

$20411-TRW METRIC FEMALE 24° CONE O-RING L.T. ISO 12151-2—DIN 3865 1t BT #%% HOSE BORE T THE | 0 DIMENSIONS
e LT 4 HOSE BORE R ] DIMENSIONS SEOL?RLNOS'TRW TE:TQD; EaY] VzﬁéDN fr's DASH | TUBE OE. 3'-2 3*; 151
N 4 =l —14- - 04 8 7
SQOZP;R-EELRW T;?;g?; A%?@N ﬁﬁo?tASH TUBIZ s 2L6 1871 el Sleablit L LA 6 04 10 32 335 19
S20411-14-04TRW| M14X1.5 6 04 8 235 17 7 S20491-16-05TRW | _M16X1.5 8 05 10 33 39 | 19
). S20411-16-04TRW| M16X1.5 6 04 10 205 19 | SRS s : 05 12 33 40 | 22
E 5] - I:} S20411-16-05TRW| M16X1.5 8 05 10 255 19 N 520491-18-06TRW | _M18X1.5 10 06 12 36.5 42 | 22
S20411-18-05TRW| M18X1.5 8 05 12 235 22 g SELLIEAE DT P2 13 08 15 43.5 48 | 27
N 520411-18-06TRW| M18X1.5 10 06 12 265 22 S20491-26-08TRW | _M26X1.5 13 08 18 435 52 | 32
- 520411-22-08TRW | M22X1.5 13 08 15 285 27 =t e IO L e 1 10 18 55 56.5 | 32
S20411-26-08TRW | M26X1.5 13 08 18 30 32 S20491-30-10TRW | _M30X2 16 10 22 55 56 | 36
$20411-26-10TRW | M26X1.5 16 10 18 32 32 e i 12 12 22 64 64 | 36
S20411-30-10TRW | M30X2 16 10 22 325 36 S20491-36_12TRW | _M36X2 19 12 28 64 67 | 41
S20411-30-12TRW |  M30X2 19 12 22 335 36 et e e ol 0 o 16 28 74 74 | 41
S20411-36-12TRW | M36X2 19 12 28 35 41 S20491-45-16TRW | _M45X2 25 16 35 74 735 50
S20411-36-16TRW |  M36X2 25 16 28 36 41 I Be 20 35 915 86 | 50
S20411-45-16TRW | M45X2 25 16 35 34 50 S20491-52-20TRW | _M52X2 32 20 42 915 87.5| 60
S20411-45-20TRW |  M45X2 32 20 35 35 50 vl L Lo 38 24 42 109 101 | 60
S20411-52-20TRW | _ M52X2 32 20 42 38 60 ‘f’_; y f*ﬁ?ﬁ ?Wﬂﬁfﬁ I2h ﬁﬂﬁﬁﬁ:ﬁﬂﬁ?@ﬁ%ﬁ%Eﬁ%i”@g;gﬁ;é&“gﬁ’\‘;&sﬂ For use with
S20411-52-24TRW M52X2 38 24 40 38 60 ralae 0ses. Z.IT use with spiral hoses,nose Titting series numbper Is - -
He 1 RPASHTRARE . 20 WA TSN 0T 50 S20412-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20412-XX-XXTRW.

29) =R IR ERE A

30/ = iR E



B RSk R

® ®

HOSE FITTING —f{£ One Piece Fitting Sannl ie ﬁ%%%%ﬁu HOSE FITTING —f{£ One Piece Fitting Sannl (e

2=

INEIANBL24° N HETH E 2R 4 45° ISNEINIEZ24° HETOTE B E &R 41
S$10511-RW METRIC MALE 24° CONE SEATH.T.ISO 84341-1-DIN3861 S$20541-TRW 45° METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2-DIN 3865
R LT #% HOSE BORE | # 11 /] DIMENSIONS R BT #4% HOSE BORE ETHR i~} DIMENSIONS
PART NO. THREAD T | AFkP942DN | ki *+ DASH|TUBEO.D.| L D S1 PART NO. THREAD T | AF{P#%DN | 7= DASH | TUBEOE. | L | H S1
S10511-14-04RW | M14X1.5 6 04 6 24 6 14 S20541-16-04TRW | M16X1.5 6 04 8 37 | 20 19
51 S10511-16-04RW | M16X1.5 6 04 8 265 8 17 S20541-18-04TRW | M18X1.5 6 04 10 42 (186 22
S10511-18-04RW | M18X1.5 6 04 10 26.5 10 19 S20541-18-05TRW | M18X1.5 8 05 10 472|232 22
Hel —— S10511-18-06RW | M18X1.5 10 06 10 27 10 19 S20541-18-06TRW | M18X1.5 10 06 10 492235 22
UL S10511-20-05RW | M20X1.5 8 05 12 28 12 22 S20541-20-05TRW | M20X1.5 8 05 12 472232 24
L S10511-20-06RW | M20X1.5 10 06 12 28 12 22 S20541-20-06TRW | M20X1.5 10 06 12 50 | 24 24
S10511-22-06RW | M22X1.5 10 06 14 285 14 24 S20541-22-06TRW | M22X1.5 10 06 14 495 | 235 27
S10511-24-08RW | M24X1.5 13 08 16 32 16 27 S20541-24-08TRW | M24X1.5 13 08 16 59 | 265 30
S10511-30-10RW | M30X2 16 10 20 36 20 32 S20541-30-10TRW | M30X2 16 10 20 69 | 29.6 36
S10511-30-12RW | M30X2 19 12 20 36 20 32 S20541-30-12TRW | M30X2 19 12 20 76 | 333 36
S10511-36-12RW | M36X2 19 12 25 40 25 4 S20541-36-12TRW |  M36X2 19 12 25 76 | 33 46
S10511-36-16RW | M36X2 25 16 25 41 25 4 S20541-36-16TRW | M36X2 25 16 25 88 | 343 46
S10511-42-16RW | M42X2 25 16 30 43 30 46 S20541-42-16TRW |  M42X2 25 16 30 88 | 35.1 50
S10511-52_20RW | M52xX2 32 20 38 48 38 55 S20541-52-20TRW | M52X2 32 20 38 100 | 39.4 60
W 1. BPREGHATREKE . 2. W TSR ENR T SCNS10512-XX-XXRW  Note:1.For use with e 1 RS TR . 20 WA TSRS 5N S20542-XX-XXTRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S10512-XX-XXRW. braided hoses. 2.If use with spiral hoses,hose fitting series number is S20542-XX-XXTRW.

S20511-TRW

31/ =FRIREEN

NHINIEZ24° HENFOILIE B R 41 90° /NI IELr24° HENFOT I E AT
METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2-DIN 3865 $20591-TRW 90° METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2-DIN 3865
5 IREZT # %% HOSE BORE ETHA J) DIMENSIONS R AT 4 HOSE BORE ErER JUs} DIMENSIONS

PART NO. THREADT | A®AEDN | 455 DASH | TUBEO.E. | L S1 PART NO. THREAD T | A#N%DN | #55 DASH | TUBEO.E. | L | H S1
S20511-16-04TRW | M16X1.5 6 04 8 24 19 _—f b |S20591-16-04TRW|  M16X15 6 04 8 32 | 32 19
820511-18-04TRW M18X1.5 6 04 10 25 22 $20591-18-04TRW M18X1.5 6 04 10 32 [36.5 22
520511-18-05TRW M18X1.5 8 05 10 25 22 $20591-18-05TRW M18X1.5 8 05 10 33 | 38 22
$20511-18-06TRW | M18X1.5 10 06 10 25 22 520591-18-06TRW M18X1.5 10 06 10 36.5 | 43.5 22
820511-20-05TRW | M20X1.5 8 05 12 25.5 24 520591-20-05TRW M20X1.5 8 05 12 33 | 42 24
S20511-20-06TRW | M20X1.5 10 06 12 255 24 $20591-20-06TRW M20X1.5 10 06 12 36.5| 44 24
S20511-22-06TRW | M22X1.5 10 06 14 255 27 520591-22-06TRW M22X1.5 10 06 14 36.5| 44 27
S20511-24-08TRW | M24X1.5 13 08 16 30 30 520591-24-08TRW M24X1.5 13 08 16 435 | 50.5 30
$20511-30-10TRW M30X2 16 10 20 34 36 $20591-30-10TRW M30X2 16 10 20 55 | 57 36
$20511-30-12TRW M30X2 19 12 20 35 36 520591-30-12TRW M30X2 19 12 20 64 | 65 36
520511-36-12TRW M36X2 19 12 25 32 46 $20591-36-12TRW M36X2 19 12 25 64 | 66 46
$20511-36-16TRW M36X2 25 16 25 35.5 46 520591-36-16TRW M36X2 25 16 25 74 | 73 46
$20511-42-16TRW M42X2 25 16 30 36 50 S20591-42-16TRW M42X2 25 16 30 74 | 74 50
$20511-52-20TRW M52X2 32 20 38 36 60 $20591-52-20TRW M52X2 32 20 38 915 | 86.5 60
e 1y RIPRESH TR . 2. Wi TS E IS BN S20512-XX-XXTRW  Note:1.For use with A 1 RS HTEARE . 20 W H TSRS 508 S20592-XX-XXTRW. Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20512-XX-XXTRW. braided hoses. 2.If use with spiral hoses,hose fitting series number is S20592-XX-XXTRW.

32/ = AR E A

|



®

®
ﬁ%%%%ﬁu HOSE FITTING —f&3 One Piece Fitting Eann e ﬁ%j%%%ﬁu HOSE FITTING A One Piece Fitting ann e

2=

BEEHMZEL60° PN AHE T BN A i T4 A 3 5 B 0O #E3k 45° S NIREL 60° ARMEN
$12611A-RW BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL $22641-RW 45° BSP FEMALE 60° CONE
R Bar T %% HOSE BORE JUs} DIMENSIONS RE WRLrT 4% HOSE BORE i~} DIMENSIONS
. PART NO. THREAD T AFRAFEDN | bi% DASH L St PART NO. THREAD T | AF%A#DN | 455 DASH L | H St
) $12611A-04-04RW G1/4”X1 9 6 04 25.5 19 $22641-04-04RW | G1/4"X19 6 04 42.3|20.2 19
) , Ms! S12611A-06-05RW | G3/8”X19 8 05 27.5 22 S22641-04-05RW | G1/4"X19 8 05 46 | 22 19
T S12611A-06-06RW | GS3/8"X19 10 06 26 22 S22641-06-04RW | G3/8"X19 6 04 432188 22
' = S12611A-06-08RW | G3/8"X19 13 08 28 22 $22641-06-05RW | G3/8"X19 8 05 46 | 22 22
S12611A-08-06RW | G1/2"X14 10 06 32 27 S22641-06-06RW | G3/8"X19 10 06 48 | 22 22
S12611A-08-08RW | G1/2"X14 13 08 33 27 S22641-06-08RW | (G3/8"X19 13 08 57 | 245 22
S12611A-08-10RW | G1/2"X14 16 10 34 27 $22641-08-08RW | G1/2"X14 13 08 58.5| 26 27
S12611A-10-08RW | G5/8"X14 13 08 36 30 S22641-10-08RW | G5/8"X14 13 08 59 |26.5 30
S12611A-10-10RW | G5/8"X14 16 10 37 30 S22641-10-10RW | G5/8"X14 16 10 71 | 278 30
S12611A-12-08RW | G3/4"X14 13 08 35 32 S22641-12-10RW | GB3/4"X14 16 10 68.5 | 28.8 32
S12611A-12-10RW | G3/4"X14 16 10 36 32 S22641-12-12RW | G3/4"X14 19 12 745 32 32
S12611A-12-12RW G3/4”X14 19 12 37 32 S22641-16-16RW G1"X11 25 16 87 34 41
S12611A-16-12RW | G1"X11 19 12 39 41 S22641-20-20RW | G1.1/4"X11 32 20 101 | 40 50
S12611A-16-16RW |  G1”X11 25 16 42 41 S22641-24—24RW | G1.1/2"X11 38 24 17 a7 55
S12611A-20-16RW | G1.1/4”X11 25 16 45 50 S§22641-32-32RW G2"X11 51 32 137 | 56.2 70
S N L = 2 i 2 e A, R A FRAUIT. 2. M TAIGERKTE L0 S22642- XX XXRW.  Note:1.For use with
Sk Aol il = o e = braided hoses. 2.If use with spiral hoses,hose fitting series number is S22642-XX-XXRW.
S12611A-32-32RW |  G2"X11 51 32 545 70
e 1y RIS HTRMEEE . 2. WFHEMH THESHE RS BCNS12612A-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S12612A-XX-XXRW.

HEE PIRZL 60° HMEETHI 90° UL NIRL 60° AMEI
S22611-RW BSP FEMALE 60° CONE $22691-RW 90° BSP FEMALE 60° CONE
15 BRAT 4 HOSE BORE JUst DIMENSIONS 5 BRAT % HOSE BORE JUs DIMENSIONS
PART NO. THREADT | A®KA4EDN | 455 DASH L S1 PART NO. THREAD T | A#KMN4EDN | b5 DASH L H S
S22611-02-04RW G1/8"X28 6 04 15 14 L : S22691-02-04RW G1/8"X28 6 04 32 34 14
S22611-04-04RW G1/4"X19 6 04 19 19 S$22691-04-04RW G1/4"X19 6 04 32 35 19
S522611-04-05RW G1/4"X19 8 05 19 19 S22691-04-05RW G1/4"X19 8 05 33 | 40 19
S522611-04-06RW G1/4"X19 10 06 19 19 S22691-04-06RW G1/4"X19 10 06 36.5| 42 19
S522611-06-04RW G3/8"X19 6 04 19.5 22 S522691-06-04RW G3/8"X19 6 04 32 35 22
S22611-06—-05RW G3/8"X19 8 05 19 22 L S22691-06—-05RW G3/8"X19 8 05 33 | 39 22
S22611-06-06RW G3/8"X19 10 06 19.5 22 1| S$22691-06-06RW G3/8"X19 10 06 36.5| 42 22
S22611-06—-08RW G3/8"X19 13 08 20 22 S22691-08-08RW G1/2"X14 13 08 435 | 50 27
S22611-08-08RW G1/2"X14 13 08 215 27 S22691-10-08RW G5/8"X14 13 08 43.5 | 50.5 30
S22611-10-08RW G5/8"X14 13 08 225 30 S22691-10-10RW G5/8"X14 16 10 55 | 55 30
S22611-10-10RW G5/8"X14 16 10 23 30 i S22691-12-10RW G3/4"X14 16 10 55 | 56.5 32
S22611-12-10RW G3/4"X14 16 10 24 32 S$22691-12-12RW G3/4"X14 19 12 64 | 64.5 32
S22611-12-12RW G3/4"X14 19 12 24 32 S$22691-16-16RW G1"X11 25 16 74 | 74 41
S22611-16-14RW G1"X11 22 14 26 41 - S$22691-20-20RW | G1.1/4"X11 32 20 91.5| 90 50
S522611-16-16RW G1"X11 25 16 27 41 S22691-24-24RW | G1.1/2"X11 38 24 109 | 105 55
S22611-20-20RW G1.1/4"X11 32 20 30.5 50 S$22691-32-32RW G2"X11 51 32 129 |128.5 70
S22611-24-24RW | G1.1/2"X11 38 24 31.5 55 e 1 RMRGHTHREE . 2. HH THSHAE S U S22692-XX-XXRW.  Note:1.For use with
$22641-32-32RW G2"'X11 51 32 34 70 braided hoses. 2.If use with spiral hoses,hose fitting series number is $22692-XX-XXRW.
e 1 RIS TR . 2. WM TS B S22612-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S22612-XX-XXRW.

33/ =FRIAEE A 34/ =R IR E M

|



® ®

BEH ) £ HOSE FITTING st one piecs Fiting Sannke AR B4 HOSE FITTING ikt one pice Fiting Sannke

2=

K HJ LCHMBST4° S HETH KHJICHIZELT74° PHE
$16711-RW JIC MALE 74° CONE SO 8434-2-SAE J514 $26711-RW JIC FEMALE 74° CONE SEAT SAE J514
5 IRAT % HOSE BORE JUs DIMENSIONS 15 IRAT 4% HOSE BORE <} DIMENSIONS
PART NO. THREAD T | AFHA4DN | #5%5 DASH L S1 PART NO. THREAD T | A%M4EDN | F5'5 DASH L S
51 S16711-04-04RW 7/16"X20 6 04 26.5 12 51 S26711-04-04RW 7/16"X20 6 04 15 14
S16711-05-04RW 1/2"X20 6 04 26.5 14 S26711-05-05RW 1/2"X20 8 05 1515 17
= it $16711-05-05RW |  1/2"X20 8 05 26.5 14 - 4 -—- S26711-06-05RW |  9/16"X18 8 05 155 19
N S16711-05-06RW 1/2"X20 10 06 26.5 17 S26711-06-06RW 9/16"X18 10 06 1515 19
L S16711-06-04RW 9/16"X18 6 04 26.5 17 L .| S26711-06-08RW 9/16"X18 13 08 16 19
S16711-06-05RW 9/16"X18 8 05 26.5 17 S26711-08-06RW 3/4"X16 10 06 17.5 24
S16711-06-06RW 9/16"X18 10 06 26.5 17 S26711-08-08RW 3/4"X16 13 08 18 24
S16711-08-06RW 3/4"X16 10 06 31 22 S26711-10-08RW 7/8"X14 13 08 18.5 27
S16711-08-08RW 3/4"X16 13 08 31.5 22 S26711-10-10RW 7/8"'X14 16 10 20 27
S16711-10-06RW 7/8"X14 10 06 32 24 S26711-10-12RW 7/8"X14 19 12 20 27
S16711-10-08RW 7/8"X14 13 08 34.5 24 S26711-12-10RW | 1.1/16"X12 16 10 21.5 32
S16711-10-10RW 7/8"X14 16 10 35.5 24 S26711-12-12RW | 1.1/16"X12 19 12 21.5 32
S16711-12-08RW | 1.1/16"X12 13 08 39 27 S26711-14-12RW | 1.3/16"X12 19 12 21.5 36
S16711-12-10RW | 1.1/16"X12 16 10 40 27 S26711-16-16RW | 1.5/16"X12 25 16 23 4
S16711-12-12RW | 1.1/16"X12 19 12 40 27 S26711-20-20RW 1.5/8"X12 32 20 26 50
S16711-12-16RW | 1.1/16"X12 25 16 41 30 S26711-24-24RW 1.7/8"X12 38 24 26.5 55)
S$16711-14-10RW | 1.3/16"X12 16 10 40 32 S26711-32-32RW 2.1/2"X12 51 32 27 75
SUEFNEAIEY || 1S5 19 le 40.5 % HEe A RTCE I THRAE . 20 Wi TS LS BOhS26712-XX-XXRW.  Note:1.For use with
S16711-16-12RW | 1.5/16"X12 19 12 42.5 36 braided hoses. 2.If use with spiral hoses,hose fitting series number is S26712-XX-XXRW.
S16711-16-16RW 1.5/16"X12 25 16 435 36
S16711-20-16RW 1.5/8"X12 25 16 46 46
S16711-20-20RW 1.5/8"X12 32 20 47.5 46
S16711-24-20RW | 1.7/8"X12 32 20 53.5 50
16711-24-24RW .7/8" 53 50 o g 2 sk v g0
21 271 1-32-32RW ;:g';:‘lg 2? (23; 64 65 S26741-RW 457 TRHICHIRLTA" AHET
- - - 45° JIC FEMALE 74° CONE SEAT SAE J514
e 1 BRIPREHTRARE . 2. WFHH TS E RS SS16712-XX-XXRW  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is $16712-XX-XXRW. R BRLLT % HOSE BORE J5) DIMENSIONS
PART NO. THREADT | AFNf£DN | #r*5 DASH L | H S1
S26741-04-04RW 7/16"X20 6 04 39 (154 14
S26741-05-05RW 1/2"X20 8 05 43 | 19.2 17
S26741-06-05RW 9/16"X18 8 05 44 | 195 19
S26741-06-06RW 9/16"X18 10 06 455 | 20 19
S26741-06-08RW 9/16"X18 12 08 55 23 19
S26741-08-06RW 3/4"X16 10 06 46.6 | 21 22
S26741-08-08RW 3/4"X16 13 08 56 | 23.7 22
S26741-10-08RW 7/8"X14 13 08 56.5| 24 27
S26741-10-10RW 7/8"X14 16 10 64.5 | 25.3 27
S26741-10-12RW 7/8"X14 20 12 71 | 28.5 27
S26741-12-10RW | 1.1/16"X12 16 10 66.5 | 27.1 32
S26741-12-12RW | 1.1/16"X12 19 12 73 | 30.2 32
S26741-14-12RW | 1.3/16"X12 19 12 73 | 30.2 36
S26741-16-16RW | 1.5/16"X12 25 16 85 |32.2 41
S26741-20-20RW 1.5/8"X12 32 20 99 | 38.4 50
S26741-24-24RW 1.7/8"X12 38 24 113 | 43.9 55
S26741-32-32RW 2.1/2"X12 51 32 136.5| 51.5 75
T 1 RS TRAURE . 2. Wil 1 TR AU 1500 S26742-XX-XXRW.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26742-XX-XXRW.

35/ =M A E = 36/ =FRIRE AT

|



® ®

ﬁ%%%%ﬁu HOSE FITTING —# 3 One Piece Fitting Sannl(e ﬁ\%%%%ﬁu HOSE FITTING —#3 One Piece Fitting ann e

2=

|

90° EHINICHIBLTA® PaEH S24211-RW ORFffgﬁﬁingﬁfiiﬁ
$26791-RW 90° JIC FEMALE 74° CONE SEAT SAE J514 S24211-TRW 150 191511 SAE Jo16
R BT K HOSE BORE JUs} DIMENSIONS RS IRGT %% HOSE BORE 5 DIMENSIONS
PART NO. THREAD T | AFKP4EDN | 455 DASH L H S1 i PART NO. THREAD T | A% M4EDN | #5'5 DASH L S1
L S26791-04-04RW |  7/16"X20 6 04 30 | 29 14 $24211-04-04RW 9/16 " X18 6 04 22,5 19
S26791-05-05RW |  1/2"X20 8 05 33 | 33 17 S24211-04-05RW | 9/16 " X18 8 05 225 19
S26791-06-05RW 9/16"X18 8 05 33 | 36.5 19 S$24211-04—-06RW 9/16 " X18 10 06 205 19
S26791-06-06RW 9/16"X18 10 06 36.5 | 38.5 19 S$24211-06—-04TRW | 11/16 " X16 6 04 235 22
S$26791-06-08RW 9/16"X18 13 08 435 | 44 19 $24211-06—-05TRW | 11/16 " X16 8 05 235 29
S26791-08-06RW | 3/4"X16 10 06 36.5| 41 24 $24211-06-06RW | 11/16 " X16 10 06 25.5 22
S26791-08-08RW 3/4"X16 13 08 43.5| 46.5 24 $24211-06—-08RW 11/16 " X16 13 08 26 29
S26791-10-08RW 7/8"X14 13 08 43.5| 47 27 S24211-08-05TRW | 13/16 " X16 8 05 25 27
S26791-10-10RW 7/8"X14 16 10 56 | 51.5 27 $24211-08—-06TRW | 13/16 " X16 10 06 25 27
S26791-10-12RW 7/8"X14 19 12 64 | 59.5 27 S24211-08-08RW 13/16 " X16 13 08 28 27
S26791-12-10RW | 1.1/16"X12 16 10 56 54 32 S24211-08-10RW 13/16 " X16 16 10 29 27
S26791-12-12RW | 1.1/16"X12 19 12 63 | 60.5 32 S24211-10-08TRW 1" X14 13 08 295 30
S26791-14-12RW | 1.3/16"X12 19 12 64 |63.5 36 S24211-10-10RW 1"X14 16 10 33 30
S26791-16-16RW | 1.5/16"X12 25 16 76 | 72 4 S24211-10-12RW 1"X14 19 12 335 30
S26791-20-20RW 1.5/8"X12 32 20 91.5| 85 50 S24211-12-08TRW | 1.3/16 " X12 13 08 30.5 36
S26791-24-24RW 1.7/8"X12 38 24 109 | 100 55 S24211-12-10TRW | 1.3/16 " X12 16 10 31.5 36
S26791-32-32RW 2.1/2"X12 51 32 129 [121.5 75 S24211-12-12RW 1.3/16 " X12 19 12 35 36
W 1, RS TR . 2. Wl TSR e A5 80k S26792-XX-XXRW.  Note:1.For use with S24211-12-16RW | 1.3/16 " X12 25 16 36 36
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26792-XX-XXRW. S24211-16-12TRW | 1.7/16 " X12 19 12 35 41
S$24211-16-14TRW | 1.7/16 " X12 22 14 35 41
S$24211-16-16TRW | 1.7/16 " X12 25 16 35 41
S$24211-16-20RW | 1.7/16 " X12 32 20 39.5 41
S24211-20-16TRW | 1.11/16 " X12 25 16 35 50
S§24211-24-20TRW 2" X12 32 20 36 60
S$24211-24-24TRW 2" X12 38 24 36 60
S X HIORFSHMRL T EOM B % & Vi 1. RPRSITREEE . 20 W T LTS B S24212-XX-XXRW,y
14211-RW ORFS MALE O-RING SEAL I1SO 8434-3—SAE J1453 NOTE: 1. For use with braided hoses, 2. If use spiral hoses, hose fitting series number is S24212-XX-XXRW,
R WAL 4% HOSE BORE &~} D MENSIONS
PART NO. THREAD T | AFSP4ADN | #5' DASH L S
S14211-04-04RW | 9/16 " X18 6 04 225 17
S14211-06-04RW | 11/16 " X16 6 04 24 19
S14211-06-06RW | 11/16 " X16 10 06 24 19
S14211-08-06RW | 13/16 " X16 10 06 275 22
S14211-08-08RW | 13/16 " X16 13 08 28.5 22
S14211-08-10RW | 13/16 " X16 16 10 28.5 22
S14211-10-08RW 1" X14 13 08 32.5 27
S14211-10-10RW 1" X14 16 10 33.5 27
S14211-12-08RW | 1.3/16 " X12 13 08 355 32
S14211-12-10RW | 1.3/16 " X12 16 10 36 32
S14211-12-12RW | 1.3/16 " X12 19 12 36.5 32
S14211-16-12RW | 1.7/16 " X12 19 12 37 41
S14211-16-16RW | 1.7/16 " X12 25 16 38.5 41
S14211-20-20RW | 1.11/16 " X12 32 20 415 46
S14211-24-24RW 2" X12 38 24 43 55
10 HPRGHTROKE, 20 Wi HTFHLRET RS 8O S14212-XX-XXRW,
NOTE: 1. For use with braided hoses, 2. If use spiral hoses, hose fitting series number is S14212-XX-XXRW,

37] =R E N

38/ =M i E



®

Sannke Sannkg

EB: I 2| HOSE FITTING st one piecs Fiting EB I 2 HOSE FITTING st one piese Fiting

2=

S24241-RW 45° 75 3 HIORF SN 18 80 F ffi SAE 2% 3000 PSI
S24241-TRW 45° ELBOW ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516 S87311-RW SAE FLANGE 3000 PSI 1SO 12151-3—SAE J516
5 LT ##% HOSE BORE J~+ DIMENSIONS o i #’& HOSE BORE J~) DIMENSIONS
PART NO. THREADT | AFFAEDN | 455 DASH L | H S1 PART NO. FLANGE SIZE| /A#%/142DN | 455 DASH L D | L1
S24241-04-04RW | 9/16"X18 6 04 455|23.4 19 S87311-08—08RW 12" 13 08 46 302 | 673
S24241-04-05RW | 9/16"X18 8 05 47.6124.3 19 S87311-12-08RW 3/4" 13 08 47 381 6.73
S24241-04-06RW | 9/16"X18 10 06 49.2124.9 19 h S87311-12-10RW 3/4" 16 10 48 38.1] 6.73
S A0 TS 6 o4 89.5|17.4 22 {, _@ S87311-12-12RW | 3/4" 19 12 48 38.1] 6.73
524241-06-05TRW | 11/16"X16 8 05 42.3) 19 22 "ff‘f" S87311-12-16RW 3/4" 25 16 49 38.1] 6.73
S24241-06-06RW | 11/16"X16 10 06 51.3|27.1 22 . S T 5 5 B ARG D
S24241-08-06TRW | 13/16"X16 10 06 44.6]20.3 27 587311-16-16RW I o5 16 = 244 8
S24241-08-08RW | 13/16"X16 13 08 65.730.7 27 P — " = 20 = VARG
S24241-08-10RW 13/16"X16 16 10 76.5(31.7 27 S87311-20-16RW 1.1/4" o5 16 57 508| 8
S24241-10-08TRW |  {1"X14 13 08 58.2|23.3 30 A A T = 5 =5 o8l 8
524241-10-10RW 17X14 12 ;g 79'2 34'2 80 S87311-24-20RW 1.1/2" 32 20 68 603| 8
:ﬁiiﬂﬁfgm Sﬂgig 16 10 22:2 22:2 :2 S87311-24-24RW 112 38 24 68 Ul e
i ; 587311-32-24RW 2o 38 24 66 71.4| 953
S24241-12-12RW | 1.8/16'X12 19 12 87 395 % S87311-32-32RW 2 51 32 66 714 953 —
S24241-12-16RW | 1 3/16"X12 25 16 95.3| 41 36 = = = T :
S24241-16-12TRW | 1 7/16"X12 19 12 74 129.6 21 VB 1 RASTROME . 2. W TGS H0YS87312-XX-XXRW.  Note:1.For use with 1_*%
S24241-16-14TRW | 1 7/16"X12 55 14 78.7128.5 41 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87312-XX-XXRW. =
S24241-16-16TRW | 1 7/16"X12 25 16 84.1(29.7 41
S24241-20-16TRW | 1 11/16"X12 25 16 84.1(29.7 50
S24241-24-20TRW | vx12 32 20 94.5(33.8 60
S24241-24-24TRW |  ouyqo 38 24 108.5/37.7 60
S$24291-RW 90° 5 3 HIORFS 4 42 40 F i 45° #5SAE ¥4 3000 PSI
S24291-TRW 90° ELBOW ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516 S87341-RW 45° SAE FLANGE 3000 PSI 1SO 12151-3-SAE J516
15 By i HOSE BORE 5 DIMENSIONS s ] i’ HOSE BORE JO+ DIMENSIONS
PART NO. THREAD T | AFAN#DN | #72 DASH L H S1 PART NO. FLANGE SIZE| AFfP42DN | #5'5 DASH L H D L1
S24291-04-04RW | 9/16 " X18 6 04 30 | 41 19 S87341-08-08RW 1/2" 13 08 55,5| 23 |30.2|6.73
S24291-04-05RW | 9/16 " X18 8 05 33 | 44 19 S87341-12-08RW 3/4" 13 08 59 | 24 | 38.1|6.73
S24291-06-05TRW| 11/16 " X16 8 05 33 |37.5 22 587341-12-10RW 3/4" 16 10 64.5| 25 | 38.1|6.73
S24291-06-06RW | 11/16 " X16 10 06 35.3/49.3 22 $87341-12-12RW 3/4" 19 12 71 | 28 |38.1)6.73
$24291-06-08RW | 11/16 " X16 13 08 41 | 55 22 $87341-12-16RW 3/4" 25 16 82.5|29.5 | 38.1|6.73
S24291-08-06TRW| 13/16 " X16 10 06 35.3(39.8 27 S87341-16—12RW i~ 19 12 71 | 28 |444| 8
$24291-08-08RW | 13/16 " X16 13 08 41 | 575 27 587341-16-16RW 1" 25 16 82 | 294|444 8
S24291-08-10RW | 13/16 " X16 16 10 56.5|61.5 27 \ 587341-16-20RW {~ 32 20 945338444 8
S24291-10-08TRW| 1 " X14 13 08 41 | 46 30 S87341-20-16RW 1.1/4" 25 16 77 | 31 |508/| 8
S24291-10-10RW | 1" X1{4 16 10 56 | 66 30 S87341-20-20RW 1.1/4" 32 20 945(338(508| 8
$24291-10-12RW | 1" X14 13 12 65.5|75.5 30 S87341-24-20RW 1.1/2" 32 20 94533.8(603| 8
S$24291-12-10TRW| 1.3/16 " X12 16 10 59 [51.5 36 S87341-24-24RW 1.1/2" 38 24 110 | 40.4 | 60.3| 8
S24291-12-12RW | 1.3/16 " X12 19 12 65.5| 77 36 S87341-32-24RW 2" 38 24 110 | 40.4 | 71.4 | 9.53
S24291-12-16RW | 1.3/16 " X12 25 16 76.7|83.5 36 S87341-32-32RW 3 51 32 127 [ 46.3]71.4] 953
$24291-16-12TRW| 1.7/16 " X12 19 12 65.5| 63 41 T 1 RS T REAT . 2, WG i T8 U5 B 887342-XX-XXRW.  Note:1.For use with
S24291-16-14TRW| 1.7/16 " X12 22 14 71.2| 63 41 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87342-XX-XXRW.
$24291-16-16TRW| {_7/16 " X12 25 16 76.9/67.5 41
S24291-20-16TRW|1 . 11/16 " X12 25 16 76.7 |67.5 50
S24291-24-20TRW o " x12 32 20 91.5|78.5 50
$24291-24-24TRW| o x{2 38 24 109.4] 92 60
W 1. RPARSHFMEHE . 2. Wil T %R ER S % hS24292-XX-XXRW,
NOTE: 1. Foruse with braided hoses, 2. If use spiral hoses, hose fitting series numberis
$24292-XX-XXRW,

I 39/ =R

40/ = iR E A



® ®

WS B 551 HOSE FITTING st one e ey O@NNKE G )R] HOSE FITTING it ore e ring O @NNKE

2=

90° #5 SAE 7% 3000 PSI 45° 25SAE 2% 6000 PSI
S87391-RW 90° SAE FLANGE 3000 PSI 1SO 12151—3-SAE J516 S$87641-RW 45° SAE FLANGE 6000 PSI ISO 12151-3-SAE J516
5 IR # % HOSE BORE Js} DIMENSIONS 5 TR # 4% HOSE BORE JUI DIMENSIONS
PART NO. FLANGE SIZE| AFKM4DN | #5* DASH L|H| D]/ L1 PART NO. FLANGE SIZE| A®M1DN | #5'; DASH L |H| D]/ L1
$87391-08-08 1/2" 13 08 435|455 |30.2|6.73 $87641-08-08RW 1/2" 13 08 58 | 25.1|31.7 | 7.75
$87391-12-08 3/4" 13 08 435|465 | 38.1|6.73 —— $87641-12—10RW 3/4" 16 10 67 |27.8|41.3|8.76
$87391-12-10 3/4" 16 10 55 | 51 | 38.1|6.73 587641-12—12RW 3/4" 19 12 73.5|30.5 | 41.3 | 8.76
$87391-12-12 3/4" 19 12 64 | 59 |38.1]6.73 587641-16-12RW 1" 19 12 76 | 33 | 476|953
S87391-12-16 3/4" 25 16 74 | 66 | 38.1]6.73 587641-16-16RW 1" 25 16 87 |34.4|47.6|953
$87391-16-12 i~ 19 12 64 | 59 |444]| 8 $87641-16-20RW 1" 32 20 99.5| 39 |47.6|9.53 D
S87391-16-16 1" 25 16 74 | 66 |444| 8 $87641-20—16RW 1.1/4" 25 16 90 [37.4| 54 [10.29
S87391-16-20 1" 32 20 915|785|44.4| 8 S87641-20-20RW 1.1/4" 32 20 103 | 41.5| 54 [10.29
$87391-20-16 1.1/4" 25 16 74 | 66 |50.8| 8 \ S87641-24-24RW 1.1/2" 38 24 120 | 50.3 | 63.5 [12.57
$87391-20-20 1.1/4" 32 20 91.5|785|508| 8 $87641-32-24RW 2 38 24 125 | 56 |79.4 [12.57
$87391-24-20 1.1/2" 32 20 91.5|80.5|603| 8 $87641-32-32RW 2" 51 32 143 | 62 |79.4 [12.57
S87391-24-24 1.1/2" 38 24 109 | 94 |60.3| 8 T 1 RAPUSHTRAAT . 2, Wil TS0 5 180 S87642-XX-XXRW.  Note:1.For use with
$87391-32-24 2" 38 24 109 | 94 171.419.53 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87642-XX-XXRW.
$87391-32-32 2 51 32 129 |114.5 71.4 | 9.53 —
e 1 RS H TSR . 20 Wil TR AU S 0k S87392-XX-XXRW. ﬁ:
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is S87392-XX-XXRW. E:
SAE ¥:>% 6000 PSI 90° #5SAE 2% 6000 PSI
$87611-RW SAE FLANGE 6000 PSI ISO 12151-3-SAE J516 90° SAE FLANGE 6000 PS|
5 $87691-RW ISO 12151-3-SAE J516
rRE BERE %% HOSE BORE J&~} DIMENSIONS
PART NO. FLANGE SIZE| AF¢P4EDN | #5*5 DASH L D | L1 R s %% HOSE BORE Ji~) DIMENSIONS
S87611-08-08RW 1/2" 13 08 47 31.7]7.75 PARTNO.  |FLANGE SIZE| A% /A#DN | i'; DASH L[ H ] D] Lt
587611-12-10RW 3/4" 16 10 51 41.3|8.76 S87691—08—08RW 1/ 13 08 435 | 485|317 | 7.75
S87611-12-12RW 3/4" 19 12 o1 41.3 | 8.76 $87691-12-10RW 3/4" 16 10 55 | 55 | 41.3|8.76
S87611-16-12RW L 19 12 56 47.6 | 9.53 $87691-12-12RW 3/4" 19 12 64 | 63 | 41.3]8.76
S87611-16-16RW 1 25 16 57 47.6 | 9.53 $87691-16-12RW 1" 19 12 64 | 66 | 47.6]|9.53
S87611-16-20RW 1" 32 20 58 476|953 587691-16-16RW 1" 25 16 74 | 73 | 476|953
S87611-20-16RW |  1.1/4" 25 16 65 54 110.29 S87691-16-20RW 1" 32 20 915|855 47.6] 9.53
S87611-20-20RW 1.1/4" 32 20 66 54 (10.29 S87691-20-16RW 1.1/4" 25 16 74 | 77 | 54 |10.29
S87611-24-20RW |  1.1/2" 32 20 75 63.5 |12.57 $87691-20-20RW 1.1/4" 32 20 915 |89.5| 54 [10.29
S87611-24-24RW |  1.1/2" 38 24 75 63.5 |12.57 587691-24-20RW 1.1/2" 32 20 91.5| 945 | 63.5|12.57
S87611-32-24RW 2" 38 24 85 79.4 |12.57 . $87691-24—-24RW 1.1/2" 38 24 109 | 108 | 63.5 |12.57
$87611-32-82RW 2" 51 32 85 79.4 |12.57 $87691-32-24RW o 38 24 109 | 112 | 79.4 [12.57
He A RIPCGH TR . 2. W H TS0 5Uh87612-XX-XXRW.  Note:1.For use with S87691-32-32RW 2" 51 32 129 | 137 | 79.4 [12.57
braided hoses. 2.If use with spiral hoses,hose fitting series number is 87612—-XX-XXRW. p. Ve 1y FPCE T RARAES . 2. W T AR b i S87692-XX—XXRW.  Note:1.For use with
@ braided hoses. 2.If use with spiral hoses,hose fitting series number is S87692-XX-XXRW.

41/ =R IR E 42/ = F iR



®
EB) 25 HOSE FITTING  #175t Swaged Hose Fitting Sannke

®

1 3. 251 HOSE EITTING  suist swaged Hose Fiting O @NNKE

SR

S$10411

AHISMES24° P HETEE FR
METRIC MALE24° CONE SET L.T.

ISO 84341-1—DIN3861

K5 WRZLT %% HOSE BORE HrAME J{=} DIMENSIONS

PART NO. THREADT | AFKA4EDN | 455 DASH TUBE O.D L D | St
S10411-12-04 M12X1.5 6 04 6 20.5 6 | 14
S10411-14-04 M14X1.5 6 04 8 20.5 8 | 17
S10411-14-05 M14X1.5 8 05 8 215 8 17
S10411-16-04 M16X1.5 6 04 10 225 10 | 17
S10411-16-05 M16X1.5 8 05 10 225 10 | 17
S10411-16-06 M16X1.5 10 06 10 235 10 | 17
S10411-18-05 M18X1.5 8 05 12 23.5 12 | 19
S10411-18-06 M18X1.5 10 06 12 23.5 12 | 19
S10411-22-06 M22X1.5 10 06 15 245 15 | 24
S10411-22-08 M22X1.5 13 08 15 25 15 | 24
S10411-26-08 M26X1.5 13 08 18 26.5 18 | 27
S10411-26-10 M26X1.5 16 10 18 27 18 | 27
S10411-30-10 M30X2 16 10 22 30 22 | 32
S10411-30-12 M30X2 19 12 22 30 22 | 32
S10411-36-16 M36X2 25 16 28 33 28 | 41
S10411-45-20 M45X2 32 20 35 38 35 | 46
S10411-52-24 M52X2 38 24 42 38.5 42 | 55
He A RS HTRARE . 2. Wl HTHSEHRENS EChS10412-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S10412-XX-XX.

43/ =R IR

AN BRZ24° HEH 01 18 5 R 51
METRIC FEMALE 24° CONE O-RING L.T.
$20411-W ISO 12151-2—DIN 3865
5 IRAT %% HOSE BORE Tt JR5J- DIMENSIONS
PART NO. THREADT | A®AEDN | 4% DASH | TUBEOD | L St
: S20411-12-04W M12X1.5 6 04 6 26 14
S20411-14-04T M14X1.5 6 04 8 23.5 17
e S20411-14-05W M14X1.5 8 05 8 27.5 17
owwe S20411-14-06W M14X1.5 10 06 8 27.5 17
S20411-16-04T M16X1.5 6 04 10 20.5 19
S20411-16-05T M16X1.5 8 05 10 25.5 19 D
S20411-16-06W M16X1.5 10 06 10 28 19
S20411-18-05T M18X1.5 8 05 12 23.5 22
S20411-18-06T M18X1.5 10 06 12 26.5 22
S20411-18-08W M18X1.5 13 08 12 29.5 22
S20411-22-08T M22X1.5 13 08 15 28.5 27
S20411-22-10W M22X1.5 16 10 15 26.5 27
S20411-26-10T M26X1.5 16 10 18 32 32
S20411-T S20411-26-12W M26X1.5 19 12 18 35 32
S20411-30-10T M30X2 16 10 22 325 36
L S20411-30-12T M30X2 19 12 22 33.5 36
‘ S20411-30-16W M30X2 25 16 22 31 36
J)jm S20411-36-12T M36X2 19 12 28 35 4 1
_ S20411-36-14T M36X2 22 14 28 35 41 E
S20411-36-16T M36X2 25 16 28 36 41 =%
S20411-36-20W M36X2 32 20 28 33 41
S20411-45-16T M45X2 25 16 35 34 50
S20411-45-20T M45X2 32 20 35 35 50
S20411-45-24W M45X2 38 24 35 35 50
S20411-52-20T M52X2 32 20 42 38 60
S20411-52-24T M52X2 38 24 42 38 60
S20411-52-32W M52X2 51 32 42 39 60
e Ay RIS TRWEURE . 2. W] T g s 5 o S20412-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20412-XX-XX.

44/ = MR E S



®

®
B 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke AR, 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke

SR

45° NI IZL24° HEHTOM PR % R 41 90° 5 /NI IRLr24° Al O B % R 51
45° METRIC FEMALE 24° CONE O-RING L.T. 90° METRIC FEMALE 24° CONE O-RING L.T.
$20441-W ISO 12151-2—DIN 3865 $20491-W ISO 12151-2—DIN 3865
K= BAT ¥ HOSE BORE H T JUsI DIMENSIONS : (157 BT #4 HOSE BORE TR JUs} DIMENSIONS
PART NO. THREAD T | A#M4DN | #5*5 DASH TUBE O.D L H S1 PART NO. THREAD T | AFH4DN | #5*5 DASH TUBE O.D L H S1
S20441-12-04W M12X1.5 6 04 6 47 25 14 S20491-12-04W M12X1.5 6 04 6 30 40 14
S20441-14-04T M14X1.5 6 04 8 39 17 17 S20491-14-04T M14X1.5 6 04 8 30 32 17
S$20441-14-05W M14X1.5 8 05 8 425| 19 17 S20491-14-05W M14X1.5 8 05 8 33 43 17
S20441-14-06W M14X1.5 10 06 8 45 19 17 S20491-14-06W M14X1.5 10 06 8 36.5| 45 17
S20441-16-04T M16X1.5 6 04 10 39 19 19 S20491-16-04T M16X1.5 6 04 10 28 29 19
S20441-16-05T M16X1.5 8 05 10 45 | 21.5 19 S20491-16-05T M16X1.5 8 05 10 818 39 19 D
S20441-16-06W M16X1.5 10 06 10 54.6 | 28.6 19 S20491-16-06W M16X1.5 10 06 10 36.5| 51 19
S20441-18-05T M18X1.5 8 05 12 46 22 22 S20491-18-05T M18X1.5 8 05 12 33 40 22
S20441-18-06T M18X1.5 10 06 12 48 | 22.2 22 S20491-18-06T M18X1.5 10 06 12 36.5| 42 22
S20441-18-08W M18X1.5 8 08 12 54 | 21.5 22 S20491-18-08W M18X1.5 13 08 12 43.5| 55 22
$20441-22-08T M22X1.5 13 08 15 57 25 27 S20491-22-08T M22X1.5 13 08 15 43.5| 48 27
S$20441-22-10W M22X1.5 16 10 15 73 | 33.7 27 S20491-22-10W M22X1.5 16 10 15 55 64 27
S20441-26-10T M26X1.5 16 10 18 68.5| 29 32 S20491-26-10T M26X1.5 16 10 18 55 | 56.5 32
320441 =T S20441-26-12W M26X1.5 19 12 18 81 | 38,5 32 S20491-26-12W M26X1.5 19 12 18 64 | 735 32
S$20441-30-10T M30X2 16 10 22 68 |28.5 36 S20491-30-10T M30X2 16 10 22 55 56 36
S$20441-30-12T M30X2 19 12 22 74 | 315 36 S20491-30-12T M30X2 19 12 22 64 64 36
S20441-30-16W M30X2 25 16 22 89.5 | 36.5 36 S20491-30-16W M30X2 25 16 22 74 76 36
S20441-36-12T M36X2 19 12 28 76.5 | 33.7 41 S20491-36-12T M36X2 19 12 28 64 67 41 n
S20441-36-14T M36X2 22 14 28 79.5| 34 41 S20491-36-16T M36X2 25 16 28 74 74 4 E
S20441-36-16T M36X2 25 16 28 88 B85 41 S20491-36-20W M36X2 32 20 28 91.5 | 89.5 41 =
S20441-36-20W M36X2 32 20 28 102 | 415 41 | S20491-45-16T M45X2 25 16 35 74 | 735 50
S20441-45-16T M45X2 25 16 85) 88 85 50 S20491-45-20T M45X2 32 20 35 915 | 86 50
- $20441-45-20T M45X2 32 20 35 99.8 | 39.1 50 8 S20491-45-24W M45X2 38 24 35 109 | 101 50
' S$20441-45-24W M45X2 38 24 85 113.5| 44.5 50 7 S20491-52-20T M52X2 32 20 42 91.5 | 87.5 60
S20441-52-20T M52X2 32 20 42 100 | 39.1 60 \ S20491-52-24T M52X2 38 24 42 109 | 101 60
S20441-52-24T M52X2 38 24 42 115 | 45.3 60 . S20491-52-32W M52X2 51 32 42 129 [130.5 60
g $20441-52-32W M52X2 51 32 42 132.5| 51.5 60 o e 1 FRRGHFRIRE . 20 Wl TSRS 150k S20492-XX-XX.  Note:1.For use with
e 1y RIS HTWEE . 2. WFEH TS 8 5 8k S20442-XX-XX.  Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is S20492-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20442-XX-XX.

45/ =R E R 46/ =R E



®

®
B 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke AR, 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke

SR

ANTHIANERZG24° A HETTHE R 51 45° Nl IRZG24° Ml 02 fE T & 41
METRIC MALE24° CONE SET H.T. 45° METRIC FEMALE 24° CONE O-RING H.T.
$10511 ISO 84341-1—DIN3861 $20541-W ISO 12151-2—DIN 3865
rRE AT & HOSE BORE B THME | RF DIMENSIONS N = AT #% HOSE BORE EThME Ji5F DIMENSIONS
PART NO. THREAD T AREPNAEDN ¥5'5 DASH | TUBEO.D| L D | S1 ' ' PART NO. THREADT | AFA4EDN | 5’5 DASH TUBE O.D L H S1
S10511-14-04 M14X1.5 6 04 6 24 6 14 S20541-14-04T M14X1.5 6 04 6 41 | 185 17
S10511-16-04 M16X1.5 6 04 8 26.5 8 17 S20541-16-04T M16X1.5 6 04 8 37 | 20 19
$10511-18-04 M18X1.5 6 04 10 26.5 10 | 19 $20541-16-05T M16X1.5 8 05 8 46 | 22 19
S10511-18-06 M18X1.5 10 06 10 27 10 | 19 i S20541-18-04T M18X1.5 6 04 10 42 | 18.6 22
S10511-20-05 M20X1.5 8 05 12 28 12 | 22 S20541-18-05T M18X1.5 8 05 10 47.2 | 23.2 22
S10511-20-06 M20X1.5 10 06 12 28 12 | 22 S20541-18-06T M18X1.5 10 06 10 49.2 | 23.5 22 D
$10511-22-06 M22X1.5 10 06 14 |285 14 | 24 $20541-20-06T M20X1.5 10 06 12 50 | 24 24
S10511-24-08 M24X1.5 13 08 16 32 16 | 27 S20541-20-08W M20X1.5 13 08 12 58.5 | 26 24
$10511-30-10 M30X2 16 10 20 36 20 | 32 S20541-22-06T M22X1.5 10 06 14 50 | 24 27
S10511-30-12 M30X2 19 12 20 36 20 | 32 S20541-T S20541-24-06T M24X1.5 10 06 16 50 | 245 30
310511-36-12 M36X2 19 12 o5 40 o5 | 41 S20541-24-08T M24X1.5 13 08 16 59 | 26.5 30
S10511-36-16 M36X2 o5 16 o5 41 o5 | 41 S20541-30-10T M30X2 16 10 20 69 | 29.5 36
S10511-42-16 M42X2 o5 16 30 43 30 | 46 S20541-30-12T M30X2 19 12 20 76 | 33.3 36
S10511-52-20 M52X2 32 20 38 48 38 | 55 S20541-36-12T M36X2 19 12 25 76 33 46
W 1L RPCSITRGUE . 2. W7 PAESEIEIC S BObS10512-XX-XX.  Note:1.For use with 520541-86_16T | M36X2 25 10 25 88 345 28
braided hoses. 2.If use with spiral hoses,hose fitting series number is S10512-XX-XX. ) MHELE 1 12 £y 76517 84 50
. S20541-42-16T M42X2 25 16 30 88 | 35.1 50
S20541-42-20W M42X2 32 20 30 100 | 39.5 50
S20541-52-20T M52X2 32 20 38 100 | 39.4 60 iTl:'_l
N RL24° HE T 2 5 ‘8‘20541 —52—2f1T M52Xi 7:38 - ?4 ‘ 38 114 | 44.6 .60 o
METRIC FEMALE 24° CONE O-RING H.T. @ He A RIS TRARE . 2. Wl TS RE T 5k S20542-XX-XX.  Note:1.For use with
S20511-W 1SO 12151-2—DIN 3865 braided hoses. 2.If use with spiral hoses,hose fitting series number is $20542-XX-XX.
R IBaT %4 HOSE BORE HToME JUs) DIMENSIONS
PART NO. THREAD T | AFKMN4EDN | F3'5 DASH TUBE O.D L S1
S20511-14-04T M14X1.5 6 04 6 23.5 17
S20511-16-04T M16X1.5 6 04 8 24 19
o $20511-16-05T M16X1.5 8 05 8 24 19
S20511-18-04T M18X1.5 6 04 10 25 22
S20511-18-05T M18X1.5 8 05 10 25 22
= S20511-18-06T M18X1.5 10 06 10 25 22
S20511-20-06T M20X1.5 10 06 12 28.5 24
S20511-20-08W M20X1.5 13 08 12 29 24
S20511-22-06T M22X1.5 10 06 14 25.5 27
S20511-24-06T M24X1.5 10 06 16 29.5 30
S20511-T $20511-24-08T M24X1.5 13 08 16 30 30
S20511-30-10T M30X2 16 10 20 34 36
S20511-30-12T M30X2 19 12 20 35 36
S20511-36-12T M36X2 19 12 25 32 46
S20511-36-16T M36X2 25 16 25 355 46
S20511-42-12T M42X2 19 12 30 35 50
S20511-42-16T M42X2 25 16 30 36 50
S20511-42-20W M42X2 32 20 30 34.5 50
S20511-52-20T M52X2 32 20 38 36 60
S20511-52-24T M52X2 38 24 38 36 60
TEe 1 RS T . 2. Wi TS5 8o S20612-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20512-XX-XX.

47] =FRIREE N 48/ =M E =



® ®

B 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke AR, 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke

SR

90° TN IRA24° M0 B FE R 41 AHIRLE SEEN]
90° METRIC FEMALE 24° CONE O-RING H.T. S$20111 METRIC FEMALE MULTISEAL
$20591-W ISO 12151-2—DIN 3865 N 5 =
(5 IEAT & HOSE BORE JUs} DIMENSIONS
5 IRAT %% HOSE BORE HTAME JUsf DIMENSIONS PART NO. THREADT | AFSA4EDN | 455 DASH L St
] PART NO. THREAD T | AFKP4ADN | #5'; DASH TUBE O.D L H S S20111-12-04 M12X1.5 6 04 19.5 17
Ty S20591-14-04T | M14X15 6 04 6 32 | 35 17 S20111-12-05 | M12X15 8 05 195 17
J ' $20591-16-04T M16X1.5 6 04 8 32 | 32 19 $20111-14-04T | M14X1.5 6 04 19.5 17
£ ;,, S§20591-16-05T M16X1.5 8 05 8 33 | 32 19 S20111-14-05 M14X1.5 8 05 19.5 19
| g.s. S20591-18-04T M18X1.5 6 04 10 30 | 38 22 S20111-16-04T M16X1.5 6 04 20 19
! e S20591-18-05T M18X1.5 8 05 10 33 | 38 22 S20111-16-05T M16X1.5 8 05 20 19 D
) S20591-18-06T M18X1.5 10 06 10 36.5 |43.5 22 S20111-18-06T M18X1.5 10 06 20.5 20
S20591-20-06T M20X1.5 10 06 12 36.5| 44 24 S20111-18-08 M18X1.5 13 08 22 24
S20591-20-08W M20X1.5 8 08 12 43.5| 50 24 S20111-T S20111-22-08T M22X1.5 13 08 208 27
S20591-22-06T M22X1.5 10 06 14 36.5| 44 27 S20111-24-10 M24X1.5 16 10 255 30
S20591-24-06T M24X1.5 10 06 16 36.5| 44 30 s - S20111-27-10T M27X1.5 16 10 235 32
S20591-24-08T M24X1.5 13 08 16 43.5 |50.5 30 S20111-30-12T M30X1.5 19 12 245 36
S20591-30-10T M30X2 16 10 20 655 57 36 —L z S20111-39-16T M39X2 25 16 205 46
S20591-30-12T M30X2 19 12 20 64 | 60 36 w M S20111-45-20T M45X2 32 20 31.5 55)
S20591-36-12T M36X2 19 12 25 63 | 66 46 S20111-52-24T M52X2 38 24 33 60
S20591-36-16T M36X2 25 16 25 74 | 73 46 - e 1 RPRS TR . 2. WHI THHE S % hS20112-XX-XX.  Note:1.For use with
$20591-42-12T M42X2 19 12 30 64 | 67 50 braided hoses. 2.If use with spiral hoses,hose fitting series number is S20112-XX-XX.
S20591-42-16T M42X2 25 16 30 74 | 74 50
S20591-42-20W M42X2 32 20 30 91.5| 91 50 n
S20591-52-20T M52X2 32 20 38 91.5|86.5 60 E
S20591-52-24T M52X2 38 24 38 109 | 100 60 X
Ee A RPASHTRARE . 20 Wil TG HE S ok $20592-XX-XX.  Note:1.For use with
. braided hoses. 2.If use with spiral hoses,hose fitting series number is S20592—-XX-XX.
' 45° A A BRECER
45° METRIC FEMALE MULTISEAL
o RS LT & HOSE BORE JUs) DIMENSIONS
PART NO. THREAD T | AR MN4DN | #5'5 DASH L H S1
S20141-12-04 M12X1.5 6 04 39.5| 16.5 17
S20141-14-04T M14X1.5 6 04 43 | 18.3 17
S20141-14-05 M14X1.5 8 05 455|222 19
S20141-16-04T M16X1.5 6 04 425 | 21.4 19
S20141-16-05T M16X1.5 8 05 445|195 19
S20141-16-06 M16X1.5 10 06 50 | 24 22
S20141-18-06T M18X1.5 10 06 50 | 24 22
S20141-18-08 M18X1.5 13 08 58.5 | 28.8 24
320141 _T S20141-22-08T M22X1.5 13 08 60 |27.2 27
S20141-24-10 M24X1.5 16 10 67 | 27 30
L ; S20141-27-10T M27X1.5 16 10 69 | 29.6 32
S20141-30-12T M30X1.5 19 12 76.5 | 33.7 36
e 1 S20141-39-16T M39X2 25 16 86 |33.6 46
S20141-45-20T M45X2 32 20 99 | 38.4 55
) S20141-52-24T M52X2 38 24 114 | 44.6 60
/ 1y BPRSHTREE . 2. WFH TS5 B S20142-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20142-XX-XX.

=

49] =R IR E N SO/ =R i EE 1



® ®

W49 21 HOSE FITTING ks swaged Hose Fiting OANNKE 1451 B8] HOSE FITTING st swaged Hose Fiing O@NNKE

SR

90° &/ il N RSB 45° BAHINRECT1
$20191 90° METRIC FEMALE MULTISEAL = 45° METRIC FEMALE FLAT SEAT
R BaT #’F HOSE BORE Rl DIMENSIONS 20241 Z%REF.GB/T 9065.3
PART NO. THREAD T | AFA4EDN | $r's DASH L | H S1 5 BRAT % HOSE BORE JUsI DIMENSIONS
S$20191-12-04 M12X1.5 6 04 30 32 17 — PART NO. THREAD T | AFRP4EDN | 455 DASH L H S1
S20191-14-04T M14X1.5 6 04 32 | 35.5 17 S20241-14-04T M14X1.5 6 04 37 [ 135 17
S$20191-14-05 M14X1.5 8 05 33 | 405 19 S$20241-14-05 M14X1.5 8 05 41 | 175 19
S20191-16-04T M16X1.5 6 04 32 | 345 19 S20241-16-05T M16X1.5 8 05 42 (185 19
S$20191-16-05T M16X1.5 8 05 33 41 19 . S20241-16-06 M16X1.5 10 06 45 19 22
S20191-16-06 M16X1.5 10 06 36.5| 43 22 S20241-18-06T M18X1.5 10 06 46 20 22
S$20191-18-06T M18X1.5 10 06 36.5 | 44.5 22 S$20241-22-08T M22X1.5 13 08 53 [ 215 27 D
S20191-18-08 M18X1.5 i3 08 43,5 | 50 24 S20241-27-10T M27X1.5 16 10 65 | 25.5 32
S$20191-22-08T M22X1.5 13 08 435 | 52 27 S20241-30-12T M30X1.5 19 12 70 | 27.5 36
S20191-24-10 M24X1.5 16 10 55 | 56.5 30 S$20241-39-16T M39X2 25 16 84 | 29.7 46
S$20191-27-10T M27X1.5 16 10 55 54 32 820241 -T S$20241-45-20T M45X2 32 20 945 | 34 55
S20191-30-12T M30X1.5 19 12 64 67 36 S20241-52-24T M52X2 38 24 110 | 41 60
S20191-39-16T M39X2 25 16 74 72 46 = S20241-60-28T M60X2 45 28 118.5| 43.6 70
S20191-45-20T M45X2 32 20 915 | 85 55 S$20241-64-32T M64X2 51 32 128 | 455 75
S20191-52-24T | M52X2 38 24 109 | 100 60 Ve AL RS TR . 2. W TSRS {5 1 S20242-XX-XX.  Note:1.For use with
e 1 RIS HTREEE . 20 WFHEHTESRER 5 ECNS20192-XX-XX.  Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is S20242-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20192-XX-XX.

SER

N ARG T 90° /A il PN RSCT THI
METRIC FEMALE FLAT SEAT 90° METRIC FEMALE FLAT SEAT
S20211 % % REF.GB/T 9065.3 $20291 %% REF.GB/T 9065.3
5 IB4T 4% HOSE BORE Ji~) DIMENSIONS . 5 WRAT & HOSE BORE JX~) DIMENSIONS
PART NO. THREADT | AFM4DN | #5'5 DASH L S1 PART NO. THREADT | AFFHM4DN | #5*5 DASH L H St
$20211-14-04T M14X1.5 6 04 15.5 17 $20291-14-04T M14X1.5 6 04 32 285 17
$20211-14-05 M14X1.5 8 05 15.5 19 $20291-14-05 M14X1.5 8 05 33 [335 19
$20211-16-05T M16X1.5 8 05 16.5 19 $20291-16-05T M16X1.5 8 05 325| 35 19
$20211-16-06 M16X1.5 10 06 16.5 22 $20291-16-06 M16X1.5 10 06 36.5| 37 22
$20211-18-06T M18X1.5 10 06 17.5 22 $20291-18-06T M18X1.5 10 06 36.5| 39 22
$20211-22-08T M22X1.5 13 08 18.5 27 S20291-22-08T M22X1.5 13 08 435|435 27
$20211-27-10T M27X1.5 16 10 22 32 $20291-27-10T M27X1.5 16 10 55 | 52 32
$20211-30-12T M30X1.5 19 12 21 36 S20291-30-12T M30X1.5 19 12 63 | 58 36
S20211-T $20211-36-12T M36X2 19 12 21 41 $20291-39-16T M39X2 25 16 74 685 46
$20211-39-16T M39X2 25 16 235 46 $20291-45-20T M45X2 32 20 915|785 55
5! —W $20211-45-20T M45X2 32 20 24.5 55 $20291-52-24T M52X2 38 24 109 | 92 60
_]U'J]lﬂllﬂ'_‘} 520211-52-24T M52X2 38 24 25 60 S20291-64-32T M64X2 51 32 129 [113.3 75
I $20211-60-28T MB0X2 45 28 26 70 Ve A BPRSIITREURE . 2. Wi TS AE 5 8 S20292-XX-XX.  Note:1.For use with
. $20211-64-32T Me4x2 51 32 27 7 braided hoses. 2.If use with spiral hoses,hose fitting series number is S20292-XX-XX.
e 1 RPRSHTREEK . 20 T TAZHAE R 58U S20212-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20212-XX-XX.

S1/ =R IR E R 52/ ZFRIRE AT



B 2% HOSE FITTING skt Swaged Hose Fitting Sannk

®

e

®

W 4 3. 251 HOSE EITTING  suist swaged Hose Fiting O@NNKE

SR

S20711

S20711-T

[El bR A N IRL 740 PYHETRT

GB METRIC FEMALE 74° CONE SEAT

%% REF.GB/T 9065.1

K5 WRLLT 4% HOSE BORE JR~F DIMENSIONS

PART NO. THREAD T | AFFP4EDN | 457 DASH L S1
S20711-12-04 M12X1.5 6 04 14.5 17
S20711-14-04T | M14X1.5 6 04 15. 5 17
S$20711-14-05 M14X1.5 8 05 15. 5 19
S$20711-14-06 M14X1.5 10 06 15. 5 19
S$20711-16-04T | M16X1.5 6 04 16.5 19
S$20711-16-05T | M16X1.5 8 05 16. 5 19
S$20711-16-06 M16X1.5 10 06 16.5 22
S20711-18-05T | M18X1.5 8 05 18.5 22
S$20711-18-06T | M18X1.5 10 06 17.5 22
S$20711-20-06T | M20X1.5 10 06 16 24
S20711-22-08T | M22X1.5 13 08 18.5 27
S20711-27-08T | M27X1.5 13 08 20.5 32
S20711-27-10T | M27X1.5 16 10 21.5 32
S20711-30-10T | M30X1.5 16 10 21.5 36
S$20711-30-12T | M30X1.5 19 12 21.5 36
S20711-33-12T M33X2 19 12 22 41
S20711-36-12T M36X2 19 12 21 41
S20711-36-14T M36X2 22 14 21 41
S$20711-36-16T M36X2 25 16 22 41
S$20711-39-16T M39X2 25 16 23.5 46
S20711-42-16T M42X2 25 16 23.5 50
S$20711-45-20T M45X2 32 20 25 55
S$20711-52-24T M52X2 38 24 25 60

e 1. RPAS T URAE .
braided hoses. 2.If use with spiral hoses,hose fitting series number is S20712-XX-XX.

2, i H T 95 HCE AR S B0k S20712-XX-X X,

Note:1.For use with

S3/ =FRIAEE N

S20741

45° [EFRAHINIZL74° N HER
45° GB METRIC FEMALE 74° CONE SEAT

S20741-T

22 REF.GB/T 9065.1
= IBHT ¥ HOSE BORE JUsF DIMENSIONS
PART NO. THREADT | AFKA4EDN | 455 DASH L H S
S20741-12-04 M12X1.5 6 04 38 | 15 17
S20741-14-04T | M14X1.5 6 04 39 | 16 17
S20741-14-05 M14X1.5 8 05 43.5|19.5 19
S20741-14-06 M14X1.5 10 06 46 | 20 19
- S20741-16-04T | M16X1.5 6 04 39 [15.5 19
S20741-16-05T | M16X1.5 8 05 42.5| 19 19
S20741-16-06 M16X1.5 10 06 46.5|20.5 22
S20741-18-05T | M18X1.5 8 05 44.5| 21 22
S20741-18-06T | M18X1.5 10 06 47 | 23 22
S20741-22-08T | M22X1.5 13 08 56.2|23.7 27
S20741-27-08T | M27X1.5 13 08 55 |22.5 32
S20741-27-10T | M27X1.5 16 10 63.5| 24 32
S20741-30-10T | M30X1.5 16 10 67 | 27 36
S20741-30-12T | M30X1.5 19 12 72.830.2 36
S20741-33-12T M33X2 19 12 72 |29.5 41
S20741-36-12T M36X2 19 12 69.5|26.5 41
S20741-36-14T M36X2 22 14 74 |28.4 41
S20741-36-16T M36X2 25 16 81 28 41
S20741-39-16T M39X2 25 16 82 [29.4 46
S20741-45-20T M45X2 32 20 94.5|33.8 55
S20741-52-24T M52X2 38 24 108 | 39 60
de 1 RPUSH TR . 2. Wi TS0 5 500 S20742-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S20742-XX-XX.

SA/ =M R E R

SR



®

AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

B 2% HOSE FITTING sk 5t Swaged Hose Fitting Sannk

®

e

SR

S$20791

90° E[HARAHINERET4 AAHET
90° GB METRIC FEMALE 74° CONE SEAT
Z7% REF.GB/T 9065.1

15 IRAT ¥ HOSE BORE 5] DIMENSIONS

PART NO. THREADT | AFN1EDN | #55 DASH L H S

S20791-12-04 M12X1.5 6 04 32 | 30 17

S20791-14-04T M14X1.5 6 04 30 | 30 17

S20791-14-05 M14X1.5 8 05 33 | 37 19

S20791-14-06 M14X1.5 10 06 36.5(38.5 19

S20791-16-04T M16X1.5 6 04 32 |32.5 19

S20791-16-05T M16X1.5 8 05 33 | 36 19

S20791-16-06 M16X1.5 10 06 36.5|39.5 22

\ N S20791-18-05T M18X1.5 8 05 33 |38.5 22
' — S20791-18-06T M18X1.5 10 06 36.5|40.5 22
@ S20791-22-08T M22X1.5 13 08 43.5|46.5 27
S20791-27-08T M27X1.5 13 08 43.5(48.5 32

S20791-27-10T M27X1.5 16 10 55 | 53 32

$20791-T S20791-30-10T M30X1.5 16 10 55 | 54 36
S20791-30-12T M30X1.5 19 12 64 | 62 36

5 S$20791-33-12T M33X2 19 12 64 | 61 41
S20791-36-12T M36X2 19 12 64 | 57 41

S20791-36-14T M36X2 22 14 68.5| 63 41

S20791-36-16T M36X2 25 16 74 | 64 41

- S20791-39-16T M39X2 25 16 74 | 66 46
o S20791-45-20T M45X2 32 20 gil. 5| 7.5 55
~ S20791-52-24T M52X2 38 24 109 | 92 60

Vi 1 RIS H TR 2. I A TS 5 U0 S20792-XX-XX.

Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S20792-XX-XX.

S5/ =R IR EE

S50011

KEAHE
METRIC STANDPIPE STRAIGHT
5 ErME 4 HOSE BORE &~} DIMENSIONS Py
PART NO. TUBEO.D | AFMFEDN | F5'5 DASH L D L1 | NOTE
S$50011-06L-04 6 6 04 295 6 22
S$50011-10L-05 10 8 05 31 10 23
S$50011-10L-06 10 10 06 33.5 | 10 23
S50011-12L-06 12 10 06 32 12 25
S$50011-12L-08 12 13 08 325 | 12 25
S$50011-15-08 15 13 08 355 | 15 25
S$50011-18-10 18 16 10 35 18 26 | %7
S$50011-22-10 22 16 10 38 22 28 w
S50011-22-12 22 19 12 38 22 28
S50011-22-16 22 25 16 39 22 28
S$50011-28-16 28 25 16 41 28 30
S$50011-35-20 35 32 20 56 35 36
S50011-42-24 42 38 24 62 42 40
S50011-08S-04 8 6 04 31 8 24
S$50011-08S-05 8 8 05 31 8 24
S$50011-085-06 8 10 06 31 8 24
S$50011-10S-04 10 6 04 35 10 23
S$50011-125-04 12 6 04 33 12 25
S$50011-12S-05 12 8 05 33 12 25
S50011-14-05 14 8 05 39.5 | 14 29
S50011-14-06 14 10 06 39.5 | 14 29
S50011-14-08 14 13 08 40 14 29 | wz5
S$50011-16-08 16 13 08 41 16 30 S)
S50011-16-10 16 16 10 42 16 30
S$50011-20-10 20 16 10 52.5 | 20 36
S50011-20-12 20 19 12 52.5 | 20 36
S$50011-25-12 25 19 12 56 25 40
S50011-25-16 25 25 16 57 25 40
S$50011-30-16 30 25 16 63 30 44
S50011-30-20 30 32 20 64 30 44
S50011-38-16 38 25 16 69 38 50
S$50011-38-20 38 32 20 70 38 50

Ee 1y RPAS TR .

2. Wi AT gnge s A0S Bl S50012-XX-X X
braided hoses. 2.If use with spiral hoses,hose fitting series number is S50012-XX-XX.

Note:1.For use with

SER

56/ =FRIREEZ M



®
AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

SR

S50041

45° BAHREXAEY
45° METRIC STRANDPIPE STRAIGHT

R HFHIME %4 HOSE BORE JXs DIMENSIONS K

PART NO. TUBEO.D | ABAEDN | #5* DASH L H D L1 | NOTE
S50041-06L-04 6 6 04 52 30 6 22
S50041-10L-05 10 8 05 54 | 30.5 10 23
S50041-10L-06 10 10 06 56 31 10 23
S50041-12L-06 12 10 06 58.5 | 34 12 25
S50041-12L-08 12 13 08 73 37 12 25
S50041-15-08 15 13 08 71 35.5 15 25
S50041-18-10 18 16 10 85 | 39.5 18 26 |z
S50041-22-10 22 16 10 87 42 22 28 L
S50041-22-12 22 19 12 93.5 | 45.5 | 22 28
S50041-22-16 22 25 16 101 | 46.5 | 22 28
S50041-28-16 28 25 16 104 | 49.5 28 30
S50041-35-20 35 32 20 119 | 57.5 | 35 36
S50041-08S-04 8 6 04 54 30 8 24
S50041-08S-05 8 8 05 56 32 8 24
S50041-085-06 8 10 06 58 33 8 24
S50041-10S-04 10 6 04 54 31 10 23
S50041-12S-04 12 6 04 57 35 12 25
S50041-12S-05 12 8 05 59 | 35.5 12 25
S50041-14-05 14 8 05 61 37 14 29
S50041-14-06 14 10 06 62 | 37.5 14 29
S50041-14-08 14 13 08 74 | 38.5 14 29
S50041-16-08 16 13 08 77 | 41.5 16 30 | Fxy|
S50041-16-10 16 16 10 88 43 16 30 (S)
S50041-20-10 20 16 10 93 48 20 36
S50041-20-12 20 19 12 101 | 52.5 | 20 36
S50041-25-12 25 19 12 102 54 25 40
S50041-25-16 25 25 16 110 55 25 40
S50041-30-16 30 25 16 114 | 59.5 | 30 44
S50041-30-20 30 32 20 125 | 63.5 30 44
S50041-38-16 38 25 16 119 | 63.5 | 38 50
S50041-38-20 38 32 20 129 68 38 50

e 1y RS TRV . 2. ] T 9nge s A0S 2 S50042-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S50042—-XX-XX.

S| =RRIAE A

S50091

90° BAHFEAREY

90° METRIC STRANDPIPE STRAIGHT
5 MR & HOSE BORE X~ DIMENSIONS AV
PART NO. TUBEO.D | AMMNDN | #5'5 DASH L H D L1 | NOTE
S$50091-06L-04 6 6 04 31 44 6 22
S$50091-10L-05 10 8 05 33 53 10 23
S50091-10L-06 10 10 06 36.5 | 55 10 23
S50091-12L-06 12 10 06 36.5 | 60 12 25
$50091-12L-08 12 13 08 435 | 67 12 25
S$50091-15-08 15 13 08 435 | 69 15 25 | KA
S$50091-18-10 18 16 10 55 73 18 26 L
S50091-22-10 22 16 10 55 75 22 28
S50091-22-12 22 19 12 64 86 22 28
S$50091-22-16 22 25 16 74 | 915 | 22 28
S$50091-28-16 28 25 16 74 | 935 | 28 30
S50091-35-20 35 32 20 91.5 [112.5| 35 36
S$50091-085-04 8 6 04 30 48 8 24
S$50091-085-05 8 8 05 33 55 8 24
$50091-085-06 8 10 06 36.5 | 58 8 24
S$50091-10S-04 10 6 04 32 50 10 23
S50091-125-04 12 6 04 32 50 12 23
S50091-125-05 12 8 05 33 60 12 23
S$50091-14-06 14 10 06 36.5 | 63 14 29
S$50091-14-08 14 13 08 435 | 69 14 29
S$50091-16-08 16 13 08 435 | 70 16 30 | ERY
S50091-16-10 16 16 10 55 | 77.5 | 16 30 (8)
S50091-20-10 20 16 10 55 | 83.5 | 20 36
S$50091-20-12 20 19 12 64 | 955 | 20 36
S$50091-25-12 25 19 12 64 | 99.5 | 25 40
S50091-25-16 25 25 16 74 [103.5| 25 40
S50091-30-16 30 25 16 74 [109.5| 30 40
S$50091-30-20 30 32 20 91.5 [120.5| 30 44
S$50091-38-16 38 25 16 74 |[115.5| 38 50
S50091-38-20 38 32 20 91.5 [126.5| 38 50

Ee 1 RPAS TR . 2. Wil 1 TE5eAE S 500 S50092-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S50092—-XX-XX.

Note:1.For use with

S8/ =FRIRE T

SER



®

®
A4 ) 81 HOSE FITTING  fnsist swaged Hose Fiting Q@NNKE 145 1) 28] HOSE FITTING sisist Swaged Hose Fiting O@ANMNKE

SR

PLAFHMEL60° PIHEN HCAE IRS60° AT
$12611 BSP MALE 60° CONE SEAT $22611 BSP FEMALE 60° CONE
=) By ik’ HOSE BORE JUs] DIMENSIONS rRE gaT % HOSE BORE J¢5} DIMENSIONS
PART NO. THREAD T | AFRA4EDN | 455 DASH L S1 . PART NO. THREADT | AFKAM1EDN | Fx5 DASH L S
i S12611-04-04 G1/4"X19 6 04 24.5 14 §22611-02-04 G1/8 " X28 6 04 16 14
B S12611-06-05 | G3/8"X19 8 05 27.5 17 $22611-04-04 | G1/4" X19 6 04 19 19
S12611-06-06 | G3/8"'X19 10 06 27.5 17 $22611-04-05 | G1/4" X19 8 05 19 19
- 49 S12611-06-08 | G3/8"X19 13 08 26.5 19 $22611-04-06 | G1/4" X19 10 06 19 19
$12611-08-06 | G1/2"X14 10 06 30.5 22 $22611-06-04T | G3/8 " X19 6 04 18 22
S12611-08-08 G1/2"X14 13 08 31 2o S22611-06-05T | G3/8 " X19 8 05 i 22 D
S12611-10-08 | G5/8"X14 13 08 325 24 S22611-06-06 | G3/8" X19 10 06 19-5 22
S12611-10-10 | G5/8"X14 16 10 33.5 24 S22611-06-08 | G3/8" X19 U= 08 U 22
S12611-12-08 | G3/2"X14 13 08 355 . S22611-08-06T | G1/2" X14 10 06 20.5 27
S12611-12-10 | G3/4"X14 16 10 36.5 27 Sofolldein GlE i U o 2 =
5126111212 | G3/4"X14 1o 2 6.5 o7 S22611-10-08T | G5/8" X14 13 08 225 30
S12611-16-12 | G1°X11 19 12 39.5 36 N e 5 Ll e £l
512611-16-16 | G1'X11 o5 6 415 36 S22611-12-10T | G3/4 " X14 16 10 23 32
S12611-20-16 | G1.1/4"X11 25 16 435 46 e B R 19 e e £
S12611-20-20 | G1.1/4"X11 32 20 445 46 S22611-16-12T | G1' X1 19 12 24 41
§12611-24-20 | G1.1/2"X11 32 20 46 50 S22611-16-16 | G1' X1 25 16 &S g
S12611-24-24 | G1.1/2'%11 38 ol 6 0 S22611-20-16T |G1.1/4 " X11 25 16 275 50
S12611-32-32 |~ G2'x11 5 ™ 535 o5 S22611-20-20 |G1.1/4 " X11 32 20 305 50
~ R S T— . S22611-24-20T |G1.1/2" X11 32 20 32 55 0
7,{:. 1. £ w‘ﬁ%?é)»ﬁé}]\.?ﬂﬁf 2, ﬁﬂﬁ'ﬁ;ﬂ%?ﬁ%%ﬁﬁ a‘u&)\JS12€.512—XX—XXO Note:1.For use with S02611-24-24 G112 X11 38 54 G 55 E
braided hoses. 2.If use with spiral hoses,hose fitting series number is S12612-XX-XX. S02611-32-24T G2 " X11 38 o4 335 70 =
S22611-32-32 G2 " X11 51 32 34 70
1 RPASHTRMAAT . 2. Wl TS 500 S22612-XX-XX.  Note:1.For use with
S Y HMIRL60° PN R AR di 1 2 BB s TR XU Sk braided hoses. 2.If use with spiral hoses,hose fitting series number is $22612-XX-XX.
12611A BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL
RE gaT /& HOSE BORE Ji<} DIMENSIONS
PART NO. THREADT | AFRAEDN | F5% DASH L S1
S12611A-04-04 | G1/4"X19 6 04 25.5 19
S12611A-06-05 | G3/8"X19 8 05 27.5 22
S12611A-06-06 | G3/8"X19 10 06 26 22
S12611A-06-08 | G3/8"X19 13 08 28 22
S12611A-08-06 | G1/2"X14 10 06 32 27
S12611A-08-08 | G1/2"X14 13 08 33 27
S12611A-08-10 | G1/2"'X14 16 10 34 27
S12611A-10-08 | G5/8"X14 13 08 36 30
S12611A-10-10 | G5/8"X14 16 10 37 30
S12611A-12-08 | G3/4"X14 13 08 35 32
S12611A-12-10 | G3/4"X14 16 10 36 32
S12611A-12-12 | G3/4"X14 19 12 37 32
S12611A-16-12 | G1"X11 19 12 39 41
S12611A-16-16 | G1'X11 25 16 42 41
S12611A-20-16 | G1.1/4"X11 25 16 45 50
S12611A-20-20 | G1.1/4"X11 32 20 45 50
S12611A-24-20 | G1.1/2"X11 32 20 46 55
S12611A-24-24 | G1.1/2"X11 38 24 49 55
S12611A-32-32 | G2'X11 51 32 54.5 70
de 1 RIS HFREIRAE . 2. Wi TSP B S12612A-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S12612A-XX-XX.

SO/ =R IR E M 60/ =i E =



®

W 4 3. 1 HOSE EITTING st swaged Hose Fiting D@NNKE

®

W 4 3. 251 HOSE EITTING  suist swaged Hose Fiting O@NNKE

SR

S$22641

45° ZIAE NIRE60° M

S$22641-T

45° BSP FEMALE 60° CONE
e gaT ## HOSE BORE J5I DIMENSIONS
PART NO. THREAD T | A#ADN | ##% DASH L[ H St
S22641-02-04 | G1/8" X28 6 04 42 [19.5 14
S22641-04-04 | G1/4" X19 6 04 423 18 19
S22641-04-05 | G1/4" X19 8 05 46 | 22 19
S22641-04-06 | G1/4" X19 10 06 485 | 22 19
S22641-06-04T | G3/8" X19 6 04 415 [18. 2 22
N $22641-06-05T | G3/8" X19 8 05 46 | 22 22
S22641-06-06 | G3/8" X19 10 06 48 | 22 22
S22641-06-08 | G3/8" X19 13 08 57 |24.5 22
S22641-08-06T | G1/2" X14 10 06 50 | 24 27
S22641-08-08 | G1/2" X14 13 08 59.3 | 26 o0
S22641-10-08T | G5/8" X14 13 08 59 [26.5 30
S22641-10-10 | G5/8" X14 16 10 71 [27.8 30
S22641-12-10T | G3/4" X14 16 10 68.5 |28. 8 32
S22641-12-12T | G3/4" X14 19 12 745 | 32 32
S22641-16-12T | G1"X11 19 12 75.5 |32. 5 41
S22641-16-16T | G1"X11 25 16 87 | 34 41
S22641-20-16T | G1.1/4 " X11 25 16 89 | 36 50
S22641-20-20T | G1.1/4 " X11 32 20 101 | 40 50
S22641-24-20T | G1.1/2 " X11 32 20 101.5/40. 8 55
S22641-24-24 | G1.1/2" X11 38 24 17 | 47 55
S22641-32-24T | G2 " X11 38 24 119.5/50. 5 70
S22641-32-32 G2 " X11 51 32 137 [56. 2 70

A NI A ER R T A

braided hoses. 2.If use with spiral hoses,hose fitting series number is S26412-XX-XX.

2. it TS AN S Ok $26412-XX-XX.

Note:1.For use with

61/ =i Bt

90° YL PYIBL60° ST

S22691 90° BSP FEMALE 60° CONE

fRE BLT ¥4 HOSE BORE J5 DIMENSIONS

. PART NO. THREAD T | AFRAFDN | #i% DASH L[ H S1
S22691-02-04 | G1/8" X28 6 04 30 | 29 14
S22691-04-04 | G1/4"X19 6 04 32 | 30 19
S22691-04-05 | G1/4" X19 8 05 33 | 40 19
S22691-04-06 | G1/4" X19 10 06 36.5| 42 19
$22691-06-04T | G3/8" X19 6 04 30 | 33 22
$22691-06-05T | G3/8" X19 8 05 30 | 39 22
$22691-06-06 | G3/8" X19 10 06 36.5| 42 22
$22691-06-08 | G3/8" X19 13 08 43.5|58.5 22
$22691-08-06T | G1/2" X14 10 06 36. 5| 44.5 27
S22691-08-08 | G1/2" X14 13 08 43.5| 50 27
$22691-10-08T | G5/8 " X14 13 08 43.5|50.5 30
S22691-10-10 | G5/8"X14 16 10 56 | 55 30
S22691-12-10T | G3/4" X14 16 10 56 | 56.5 32
S22691-12-12 | G3/4" X14 19 12 64 | 65 32
$22691-16-12T | G1 " X11 19 12 64 | 61 41
$22691-16-16 G1 " X11 25 16 74 | 74 41
$22691-20-16T |G1.1/4 " X11 25 16 73 | 77 50
$22691-20-20 |G1.1/4" X11 32 20 92 | 90 50
$22691-24-20T | G1.1/2 " X11 32 20 92 |88.5 55
S22691-24-24 | G1.1/2 " X11 38 24 110 | 105 55
S22691-32-24T | G2 " X11 38 24 109 | 108 70
$22691-32-32 G2 " X11 51 32 128 [128.5| 70

e A RS TR .
braided hoses. 2.If use with spiral hoses,hose fitting series number is S22692-XX-XX.

2. il I T s AR5 10k S22692-XX-XX

Note:1.For use with

62/ =i

SR



®
W . 51 HOSE EITTING st swaged Hose Fiting O@NNKE

®

15 4 3. 251 HOSE FITTING suist swaged Hose Fitting D @NNKE

SR

S$22611-0OR

S$22611-ORT

63/ =f i

Y NIRZ60° SME T T O Fel
BSP FEMALE 60° O-RING CONE

RS RGT %% HOSE BORE J) DIMENSIONS

PART NO. THREAD T | A®M4DN | #5'5 DASH L S1
$22611-02-040R | G1/8 " X28 6 04 15 14
$22611-04-040R | G1/4 " X19 6 04 19 19
$22611-04-050R | G1/4 " X19 8 05 19 19
$22611-04-060R | G1/4 " X19 10 06 19 19
$22611-06-040RT | G3/8 " X19 6 04 18 22
$22611-06-050RT | G3/8 " X19 8 05 19 22
$22611-06-060R | G3/8 " X19 10 06 19.5 22
$22611-06-080R | G3/8 " X19 13 08 20 22
$22611-08-060RT | G1/2 " X14 10 06 21 27
$22611-08-080R | G1/2" X14 13 08 21.5 27
$22611-10-080RT | G5/8 " X14 13 08 21.5 30
$22611-10-100R | G5/8 " X14 16 10 23 30
$22611-12-100RT | G3/4 " X14 16 10 23 32
$22611-12-120R | G3/4 " X14 19 12 24 32
§22611-16-120RT | G1" X11 19 12 25 41
$22611-16-160R G1" X11 25 16 27 41
$22611-20-160RT | G1.1/4 " X11 25 16 28.5 50
$22611-20-200R | G1.1/4 " X11 32 20 30.5 50
§22611-24-200RT |G1.1/2 " X11 32 20 32 55
$22611-24-240R | G1.1/2 " X11 38 24 31.5 55
§22611-32-240RT | G2 " X11 38 24 33.5 70
$22611-32-320R G2 " X11 51 32 34 70

i L RS Tl

braided hoses. 2.If use with spiral hoses,hose fitting series number is S22612-XX-XX.

2. W FESRAE AR S 20 S22612-XX-X X,

Note:1.For use with

S$22641-0OR

S$22641-ORT

45° AL N IRL60° SMIEIHIOM
45° BSP FEMALE 60° O-RING CONE

KR BT & HOSE BORE JUst DIMENSIONS

PART NO. THREADT | AFA4EDN | 455 DASH L | H St
$22641-02-040R | G1/8" X28 6 04 42 |19.5 14
§22641-04-040R | G1/4" X19 6 04 41.5/20. 2 19
§22641-04-050R | G1/4" X19 8 05 46 | 22 19
§22641-04-060R | G1/4" X19 10 06 48.5| 22 19
$22641-06-040RT| G3/8" X19 6 04 41.5/18.2 22
$22641-06-050RT| G3/8" X19 8 05 46 | 22 22
$22641-06-060R | G3/8" X19 10 06 48.2(22.2 22
§22641-06-080R | G3/8" X19 13 08 57 | 24 22
§22641-08-060RT| G1/2" X14 10 06 50 | 24 27
§22641-08-080R | G1/2" X14 13 08 58.3|25. 8 27
§22641-10-080RT| G5/8" X14 13 08 59 |26.5 30
$22641-10-100R | G5/8" X14 16 10 67.4|27.7 30
§22641-12-100RT| G3/4 " X14 16 10 68.5(28. 8 32
§22641-12-120R | G3/4" X14 19 12 74.6| 32 32
$22641-16-120RT| G1" X11 19 12 75.5(32. 5 41
§22641-16-160R | G1 " X11 25 16 86.4| 34 4
§22641-20-160RT| G1.1/4 " X11 25 16 87 | 34 50
$22641-20-200R | G1.1/4 " X11 32 20 101 | 40 50
$22641-24-200RT| G1.1/2 " X11 32 20 101 | 40 55
§22641-24-240R | G1.1/2 " X11 38 24 118 | 49 55
§22641-32-240RT| G2 " X11 38 24 119.550. 5 70
§22641-32-320R | G2 " X11 51 32 136.2/56. 4 70

Ee 1y RPAS T RO .

2. Wi AT T e s AR S Bk S22642-XX-X X

Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S22642-XX-XX.

64/ =f i

SR



®

AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

S$22691-0OR

S$22691-ORT

S$22611D

amlil =
&:;ﬁ-”%ﬁ ................

90° WL AIRL60° SME O
90° BSP FEMALE 60° O-RING CONE

R IRAT & HOSE BORE JUs) DIMENSIONS

PART NO. THREAD T | AFFA4EDN | #5'5 DASH L | H | st
S22691-02-040R G1/8 " X28 6 04 32 | 34 | 14
S$22691-04-040R G1/4" X19 6 04 32 | 36 | 19
S22691-04-050R G1/4" X19 8 05 33 | 40 | 19
S22691-04-060R G1/4" X19 10 06 36.5| 42 | 19
S22691-06-040RT| G3/8" X19 6 04 32 35 | 22
S22691-06-050RT | G3/8 " X19 8 05 33 | 39 | 22
S22691-06-060R G3/8 " X19 10 06 36.5| 42 | 22
S22691-06-080R G3/8 " X19 13 08 43.5|47.5| 22
S522691-08-060RT| G1/2" X14 10 06 36.5|44.5| 27
S$22691-08-080R G1/2" X14 13 08 43.5|50.5| 27
S22691-10-080RT| G5/8 " X14 13 08 43.5]49.5| 30
S$22691-10-100R | G5/8 " X14 16 10 56 | 55 | 30
S22691-12-100RT| G3/4 " X14 16 10 55 |56.5| 32
S22691-12-120R G3/4" X14 19 12 64 |64.5| 32
S§22691-16-120RT| G1 " X11 19 12 64 | 61 41
S22691-16-160R G1 " X11 25 16 74 | 74 | 41
S22691-20-160RT | G1.1/4 " X11 25 16 74 | 77 | 50
S$22691-20-200R [ G1.1/4" X11 32 20 91.5| 90 | 50
S§22691-24-200RT | G1.1/2 " X11 32 20 91.5(88.5| 55
S22691-24-240R | G1.1/2" X11 38 24 109 | 105 | 55
S22691-32-240RT| G2 " X11 38 24 109 | 103 | 70
S22691-32-320R G2 " X11 51 32 129 | 130 | 70

e 1 RS TWMARE . 2. Wi TR RS 1500 S22692-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S22692—-XX-XX.

S IBAI60° MO FA

BSP FEMALE 60° CONE DOUBLE HEXAGON

(A= IRAT %% HOSE BORE J{=} DIMENSIONS

PART NO. THREADT | AFKA4EDN | 455 DASH L S1 | S2
S22611D-04-04 | G1/4" X19 6 04 23.5/ 19| 19
S$22611D-06-06 | G3/8 " X19 10 06 26.5| 22 | 22
S22611D-08-08 | G1/2" X14 13 08 31 27 | 27
S22611D-10-08 | G5/8 " X14 13 08 32 | 30| 30
S22611D-12-08 | G3/4 " X14 13 08 33 | 32| 32
S22611D-12-12 | G3/4 " X14 19 12 34 | 32| 32
S22611D-16-16 G1" X11 25 16 35.5| 41 | 41
S22611D-20-20 | G1.1/4 " X11 32 20 43.5| 50 | 50
TEe 1. RPAS I TRAAT . 2. Wil 1 TE5e A A0S 500 S22612D-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S22612D-XX-XX.

65/ =R mIRE T

S$22611D-SM

S$22691K

G PIIRL60° SMHETHIRN F
BSP FEMALE 60° CONE DOUBLE HEXAGON
5 IRAT & HOSE BORE I DIMENSIONS

PART NO. THREADT | AFXHN1EDN | #55 DASH L S1 | 82
S22611D-04-04SM| G1/4 " X19 6 04 23 | 14 | 19
S22611D-06-06SM| G3/8 " X19 10 06 25 | 17 | 22
522611D-08-08SM| G1/2" X14 13 08 28.5| 22 | 27
S§22611D-10-08SM| G5/8 " X14 13 08 30 | 22 | 30
S§22611D-12-08SM| G3/4 " X14 13 08 31.5| 27 | 32
S22611D-12-12SM| G3/4 " X14 19 12 32.5| 27 | 32
S22611D-16-16SM| G1 " X11 25 16 36.3| 32 | 41
S$22611D-20-20SM| G1.1/4 " X11 32 20 41.5| 41 | 50

e . BPRSGHTHREHE . 20 Wi s 5185 150 5226 12D-XX-XXSM.

Note:1.For use

with braided hoses. 2.If use with spiral hoses,hose fitting series number is S22612D-XX-XXSM.

AR S WERL60° AR

90° BSP COMPACT FEMALE 60° CONE
5 WET % HOSE BORE J~) DIMENSIONS

PART NO. THREAD T | AFM4#DN | #5'5 DASH L H | S1| S2
S22691K-04-04 | G1/4" X19 6 04 17.5| 22 | 14 | 19
S22691K-06-04 | G3/8" X19 6 04 20 | 24 | 16 | 22
S22691K-06-05 | G3/8" X19 8 05 20 | 24 | 16 | 22
S22691K-06-06 | G3/8 " X19 10 06 20 | 24 | 16 | 22
S22691K-08-06 | G1/2" X14 10 06 23 |26.5| 19 | 27
S22691K-08-08 | G1/2" X14 13 08 23.5(28.5| 19 | 27
S22691K-10-10 | G5/8 " X14 16 10 25 [29.5] 22 | 30
S822691K-12-12 | G3/4 " X14 19 12 27.5| 33 | 27 | 32
S822691K-16-16 | G1" X11 25 16 32.5/38.1| 33 | 41

66/ =f i s

SR



®

®
B8 He e 20 HOSE FITTING it swaged Hose Fiing O@NNKE A H): 2H HOSE FITTING  fuisst Swaged Hose Fitting Sannke

SR

LT HMERLL e R S ER T
S13011 BSPT MALE $22111 BSP FEMALE MULTISEAL
s BRET & HOSE BORE R+ DIMENSIONS &5 BAT 1’ HOSE BORE J| DIMENSIONS
PART NO. THREADT | AFP42DN | b’ DASH L St PART NO. THREAD T | AF/4EDN | i DASH L st
S13011-02-04 | R1/8"X28 6 04 18.5 12 522111-02-04 | G1/8"X28 6 04 75 ”
S13011-04-04 | R1/4°X19 2 04 21 17 S22111-04-04 | G1/4"X19 6 04 19.5 19
L S13011-04-05 | R1/4°X19 8 05 21 7 S22111-06-05T | G3/8"X19 8 05 20 22
N STEOIAE=0E | [RIF 10 i 21 L/ S22111-06-06 | G3/8'X19 10 06 205 22
S13011-06-04 | R3/8"X19 6 04 21.1 17 522111-06-08 | G3/8'X19 13 08 21 55
a S13011-06-05 | R3/8"X19 8 05 21.1 17 555111082067 T G1/5°X14 0 06 3 57 D
S13011-06-06 | R3/8"X19 10 06 21.1 17 522111-08-08 | G1/2'X14 13 08 o4 o7
Al e 1 U N S LS 05 30 L9 S22111-08-10 | G1/2'X14 16 10 24.5 27
S13011-08-06 | R1/2°X14 10 06 26.3 22 S22111-10-08T | G5/8'X14 13 08 24 30
S13011-08-08 | R1/2"'X14 13 08 26.8 22 S TIEE R BRIl 16 10 e 0
S13011-08-10 | R1/2"'X14 16 10 26.8 22 522111-10-12 | G5/8"X14 19 12 o5 30
S13011-08-12 | R1/2"'X14 19 12 29.8 27 | o || (G s 5 T =5
S13011-12-08 | R3/4"X14 13 08 27.5 27 522111-12-12 | G3/4"X14 19 1 o6 35
S13011-12-10 | R3/4"X14 16 10 28.5 27 S TTCiec T T Gkt 19 2 = i
S13011-12-12 | R3/4"X14 19 12 29.3 27 5291111616 G1'X11 o8 16 28 41
S13011-12-16 | R3/4"X14 25 16 30 52 $22111-20-16T | G1.1/4"X11 25 16 28 50
S13011-16-12 R1"X11 19 12 35.1 36 §22111-20-20 | G1.1/4"X11 32 20 31.5 50
$13011-16-16 R1°X11 25 16 36.1 36 §22111-24-20T | G1.1/2"X11 32 20 33 55 i
S13011-20-20 | R1.1/4"X11 32 20 36.8 46 S22111-24-24 | G1.1/2"X11 38 24 33 55 =
S13011-24-24 | R1.1/2"X11 38 24 38.8 50 S| R T | BRG] o o B = ‘t
S13011-32-24 R2"X11 38 24 42 1 65 5991113232 G2"X11 51 v T . =
§13011-32-32 | R2'X11 51 32 42.1 65 Ve AL PR TR, 2, i T UL 1C S EhS22112-XX-XX.  Note:1.For use with
e 1 RPUS TR . 2, Wi TSR U B0 813012-XX-XX.  Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is S22112-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S13012-XX-XX.

67/ =f i s 1

68/ =i E B



®

EB) 25 HOSE FITTING  #175t Swaged Hose Fitting Sannke

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

SR

S$22141

45° 5 9LE NIRGUKIHI

S$22141-T

45° BSP FEMALE MULTISEAL
RS WRST %% HOSE BORE JN~} DIMENSIONS
PART NO. THREAD T | AFKPI4EDN | 45 DASH L H S1
S22141-02-04 | G1/8" X28 6 04 43 |21.6 14
S22141-04-04 | G1/4" X19 6 04 43 |21.6 19
S$22141-06-05T | G3/8" X19 8 05 46 [22.9 22
S22141-06-06 | G3/8" X19 10 06 50 (23.9 22
$22141-06-08 G3/8 " X19 13 08 58 |25.5 22
S$22141-08-06T | G1/2" X14 10 06 51 | 25 27
S22141-08-08 G1/2 " X14 13 08 61 [26.8 27
S$22141-08-10 | G1/2" X14 16 10 68 | 28 27
S22141-10-08T | G5/8" X14 13 08 60 [27.5 30
S22141-10-10 | G5/8" X14 16 10 68.5|28. 8 30
S22141-10-12 G5/8 " X14 19 12 74.5| 32 30
S22141-12-10T | G3/4" X14 16 10 67 | 27 32
S22141-12-12 G3/4 " X14 19 12 76 [33.7 32
S22141-16-12T | G1" X11 19 12 81.6| 33 41
S22141-16-16 G1" X11 25 16 88 |35. 1 41
S822141-20-16T |G1.1/4 " X11 25 16 89.5|36.5 50
S822141-20-20 |G1.1/4" X11 32 20 101.5/40. 8 50
S822141-24-20T |G1.1/2 " X11 32 20 104 | 43 55
S22141-24-24 [ G1.1/2" X11 38 24 117.5/48. 2 55
S22141-32-24T | G2" X11 38 24 120 | 51 70
S22141-32-32 G2 " X11 51 32 138 | 57 70

V1 PR AU
braided hoses. 2.If use with spiral hoses,hose fitting series number is S22142-XX-XX.

2. W TS AR S 2 S22142-XX-XX,  Note:1.For use with

69/ =t i EE

S$22191

90° E UL A BRECER I

S$28611

90° BSP FEMALE MULTISEAL
= IRAT ¥ HOSE BORE JUs) DIMENSIONS
PART NO. THREAD T | AFKAN4EDN | #55 DASH L H S
S22191-02-04 G1/8 " X28 6 04 30.5| 33 14
S22191-04-04 G1/4 " X19 6 04 30.5| 37 19
S22191-06-05T | G3/8" X19 8 05 33 |41.5 22
S22191-06-06 G3/8 " X19 10 06 36.5|43.5 22
S22191-06-08 G3/8 " X19 13 08 43.5| 49 22
S22191-08-06T | G1/2" X14 10 06 36.5| 46 27
S22191-08-08 G1/2" X14 13 08 43.5/51.5 27
S22191-08-10 G1/2" X14 16 10 55 | 56 27
S22191-10-08T | G5/8" X14 13 08 43.5| 52 30
S22191-10-10 G5/8 " X14 16 10 55 |56.5 30
S22191-10-12 G5/8 " X14 19 12 64 |64.5 30
S22191-12-10T | G3/4" X14 16 10 55 |58.5 32
S22191-12-12 G3/4 " X14 19 12 63 |66.5 32
S22191-16-12T G1" X11 19 12 63 |67.5 41
S22191-16-16 G1" X11 25 16 74 |74.5 41
S22191-20-16T |G1.1/4" X11 25 16 74 |76.5 50
S22191-20-20 |G1.1/4" X11 32 20 91.5| 89 50
S22191-24-20T |G1.1/2" X11 32 20 91.5/92.5 55
S22191-24-24 | G1.1/2" X11 38 24 109 | 106 55
S22191-32-24T G2 " X11 38 24 109 | 105 70
S22191-32-32 G2 " X11 51 32 129 |125. 5 70
TEe . RPASIITRAEE . 2. Wi TSRS EU0NS22192-XX-XX,  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S22192-XX-XX.

FIAS A BRZ060° A HE i

JIS METRIC FEMALE 60° CONE SEAT

R WRT % HOSE BORE JUs; DIMENSIONS

PART NO. THREADT | AFFA4EDN | #5'5 DASH L S1 | S2
S28611-12-04 M12X1.5 6 04 20.5| 17 | 17
S28611-14-04 M14X1.5 6 04 21 19 | 19
S28611-14-06 M14X1.5 10 06 21 19 | 19
S28611-16-04 M16X1.5 6 04 24 | 22 | 22
S28611-16-05 M16X1.5 8 05 24 | 22 | 22
S28611-16-06 M16X1.5 10 06 24 | 22 | 22
S28611-18-06 M18X1.5 10 06 25 | 24 | 24
S528611-18-08 M18X1.5 13 08 25.5| 24 | 24
S28611-20-08 M20X1.5 13 08 28.5| 27 | 27
S28611-22-08 M22X1.5 13 08 25.5| 27 | 27
528611-24-08 M24X1.5 13 08 28 | 32 | 32
S28611-24-10 M24X1.5 16 10 28.5| 32 | 32
S28611-27-10 M27X1.5 16 10 28.5| 32 | 32
S28611-30-12 M30X1.5 19 12 28.5| 36 | 36
S28611-33-12 M33X1.5 19 12 31 | 41 | 41
S28611-33-16 M33X1.5 25 16 32 | 41 | 41
528611-36-20 M36X1.5 32 20 35.5| 46 | 46

TEe 1 RPRSH T 42U

oo 2. MEEH THSEAE RS U S28612-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S28612-XX-XX.

70/ =R i

SR



® ®

B 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke GBS 281 HOSE FITTING #1752t Swaged Hose Fitting Sal’mke

SR

90° 4 H A A il (N RS60°  PyHET

S28611GM HAAHINERE60° P HETE $28691 90°JIS METRIC FEMALE 60° CONE SEAT
JIS METRIC FEMALE 60° CONE SEAT o BET 1 HOSE BORE JLI” DIMENSIONS
5 BT %% HOSE BORE JN~} DIMENSIONS PART NO. THREAD T | AFXP4DN | #4535 DASH L H | S1 | Ss2
PART NO. THREAD T | AFHN4DN | #5*%5 DASH L S1 f $28691-12-04 M12X1.5 6 04 30 [29.5| 17 | 17
S28611GM-12-04 | M12X1.5 6 04 20 17 S28691-14-04 M14X1.5 6 04 30 | 30 | 19 | 19
S28611GM-14-04 | M14X1.5 6 04 21 19 S$28691-14-06 M14X1.5 10 06 36.5| 28 | 19 | 19
S28611GM-14-06 | M14X1.5 10 06 21 19 S28691-16-04T M16X1.5 6 04 30 | 28 | 22 | 22
S28611GM-16-04 | M16X1.5 6 04 24 22 S28691-16-05 M16X1.5 8 05 36.5|37.5| 22 | 22
S28611GM-16-05 | M16X1.5 8 05 24 22 ! S28691-16-06 M16X1.5 10 06 36.5| 39 | 22 | 22
S$28611GM-16-06 | M16X1.5 10 06 24 22 ' S28691-18-06 M18X1.5 10 06 36.5| 41 | 24 | 24 D
S$28611GM-18-06 | M18X1.5 10 06 25 24 S28691-18-08 M18X1.5 13 08 43.5|46.5| 24 | 24
S28611GM-18-08 | M18X1.5 13 08 24.5 24 = S$28691-22-08 M22X1.5 13 08 43.5| 47 | 27 | 27
S$28611GM-20-08 | M20X1.5 13 08 28.5 27 S28691-24-08 M24X1.5 13 08 43.5 |48.5| 32 | 32
S28611GM-22-08 | M22X1.5 13 08 25.5 27 j S$28691-24-10 M24X1.5 16 10 55 | 53 | 32 | 32
S28611GM-24-08 M24X1.5 13 08 27.5 32 - S28691-30-12 M30X1.5 19 12 64 62 | 36 36
S28611GM-24-10 | M24X1.5 16 10 28.5 32 S$28691-33-12 M33X1.5 19 12 64 | 70 | 41 | 41
S28611GM-27-10 | M27X1.5 16 10 28.5 32 e S28691-33-16 M33X1.5 25 16 74 | 77 | 41 | 41
S28611GM-30-12 | M30X1.5 19 12 28.5 36 S28691-36-20 M36X1.5 32 20 91.5| 92 | 46 | 46
S28611GM-33-12 | M33X1.5 19 12 31 41 W AL BPRS TG . 20 Wil TSR 5 B S28692-XX-XX.  Note:1.For use with
§28611GM-33-16 | M33X1.5 25 16 32 41 braided hoses. 2.If use with spiral hoses,hose fitting series number is S28692-XX-XX.
S28611GM-36-20 | M36X1.5 32 20 35.5 46
A 1 BIPREHTWMAE . 2. W TS E 5 50 S28612GM-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S28612GM-XX-XX.

SER

HATER] N EREr60° A HE

45° 75 [ AN A 24600 AT JIS GAS FEMALE 60° CONE
$28641 45° JIS METRIC FEMALE 60° CONE SEAT $29611 SEAT JIS B8363
= IBarT ¥ HOSE BORE R~ DIMENSIONS R IBAT & HOSE BORE ) DIMENSIONS
PART NO. THREADT | AFKA4EDN | 455 DASH L H S1 | S2 PART NO. THREADT | AFKA4EDN | #55 DASH L S1 | S2
S28641-12-04 M12X1.5 6 04 42.5| 19 | 17 | 17 S$29611-04-04 | G1/4" X19 6 04 21 19 | 19
S28641-14-04 M14X1.5 6 04 42.5| 19 | 19 | 19 S$29611-04-05 | G1/4" X19 8 05 21 19 | 19
S28641-14-06 M14X1.5 10 06 49 | 23 19 19 S29611-06-04 G3/8 " X19 6 04 23.5 22 | 22
S28641-16-04 M16X1.5 6 04 45 |21.5| 22 | 22 S29611-06-06 | G3/8" X19 10 06 23 22 | 22
S28641-16-05 M16X1.5 8 05 49 |25.5| 22 | 22 S29611-08-06 | G1/2" X14 10 06 26 27 | 27
S28641-16-06 M16X1.5 10 06 51.5|25.5| 22 | 22 S29611-08-08 G1/2" X14 13 08 26.5 27 | 27
S28641-18-06 M18X1.5 10 06 52 | 26 | 24 | 24 S29611-10-10 G5/8 " X14 16 10 31 30 | 30
S28641-18-08 M18X1.5 13 08 61 |28.5| 24 | 24 S29611-12-10 | G3/4 " X14 16 10 31.5 32 | 32
§28641-22-08 M22X1.5 13 08 61 |28.5| 27 | 27 S29611-12-12 | G3/4" X14 19 12 31.5 32 | 32
528641-24-08 M24X1.5 13 08 62.5| 30 | 32 | 32 S20611-16-16 G1"X11 25 16 32 41 | 41
S28641-24-10 | M24X1.5 16 10 /1 81 82 | 32 Ve 1. RPUEIITHRGURE. 2. W AT HOh S29612-XX-XX.  Note:1.For use with
S 2 LD 2 1 L vy gh L Ea ] D braided hoses. 2.If use with spiral hoses,hose fitting series number is S29612-XX-XX.
S28641-33-12 M33X1.5 19 12 78.5| 36 | 41 41
S28641-33-16 M33X1.5 25 16 90 | 37 | 41 | 41
S28641-36-20 M36X1.5 32 20 104 |43.5| 46 | 46
de 1 BPRSHTWMARE . 2. WFH TSR E R S0 S28642-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S28642-XX-XX.

71 =f i 72 =R



% 3. 241 HOSE FITTING

®

1+ Swaged Hose Fitting Sannke

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

SR

S$29641

$29691

45° 25 ARG N BRZ60° P HETH
45° JIS GAS FEMALE 60° CONE

SEAT JIS B8363

K5 WELT 4% HOSE BORE JR~F DIMENSIONS

PART NO. THREAD T | A4 DN | #55 DASH L H | S1| S2
S29641-04-04 | G1/4" X19 6 04 425(19.5 19 | 19
S29641-04-05 | G1/4 " X19 8 05 47 | 23 | 19 | 19
S29641-06-04 | G3/8 " X19 6 04 445| 21 | 22 | 22
S29641-06-06 | G3/8 " X19 10 06 51 | 25 | 22 | 22
S29641-08-06 | G1/2 " X14 10 06 53 | 27 | 27 | 27
S29641-08-08 | G1/2 " X14 13 08 615 29 | 27 | 27
S$29641-10-10 | G5/8 " X14 16 10 72.5(32.5| 30 | 30
S29641-12-10 | G3/4 " X14 16 10 725| 33 | 32 | 32
S29641-12-12 | G3/4 " X14 19 12 79 | 36 | 32 | 32
S29641-16-16 G1" X11 25 16 90 | 37 | 41 | 41

T 1 RPRSH TS

K. 2. WA T YGRS 50 S29642-XX-XX .
braided hoses. 2.If use with spiral hoses,hose fitting series number is S29642-XX-XX.

Note:1.For use with

90° 75 [ AL N HRLS60° P HEH
90° JIS GAS FEMALE 60° CONE

SEAT JIS B8363

5 WRLT %4 HOSE BORE R~} DIMENSIONS
PART NO. THREAD T | AFKP4EDN | 457 DASH L H | 81| 82
$29691-04-04 G1/4 " X19 6 04 305 36 | 19 | 19
$29691-04-05 G1/4 " X19 8 05 33 [395| 19 | 19
$29691-06-04 G3/8 " X19 6 04 305| 37 | 22 | 22
$29691-06-06 G3/8 " X19 10 06 365 44 | 22 | 22
$29691-08-06 G1/2 " X14 10 06 36.5| 46 | 27 | 27
$29691-08-08 G1/2 " X14 13 08 44 |515| 27 | 27
S29691-10-10 G5/8 " X14 16 10 55 | 59 | 30 | 30
$29691-12-10 G3/4 " X14 16 10 55 |57.5| 32 | 32
S$29691-12-12 G3/4 " X14 19 12 63 |655| 32 | 32
$29691-16-16 G1" X11 25 16 74 | 745| 41 | 41

e A RIS TRAEE . 2. Wil T HESE 0T B0k S29692-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S29692-XX-XX.

Note:1.For use with

73 =R i EE

S$15611

m’f?ﬁ’ S

S$15611SW

3
A

71 E 1 n

1 | et
=

ATHERT SMRAL
NPT MALE

5 IRAT %4 HOSE BORE 5 DIMENSIONS
PART NO. THREADT | AFRAMAEDN | kx5 DASH L S
S15611-02-04 | NPT1/8 " X27 6 04 18.5 12
S15611-04-04 | NPT1/4 " X18 6 04 22.5 17
S15611-04-05 NPT1/4 " X18 8 05 22.5 17
S15611-04-06 | NPT1/4 " X18 10 06 22.5 17
S$15611-06-04 NPT3/8 " X18 6 04 23 19
S15611-06-05 | NPT3/8 " X18 8 05 23.5 1K)
S15611-06-06 NPT3/8 " X18 10 06 23.9 19
S$15611-06-08 | NPT3/8 " X18 13 08 24.4 19
S15611-08-06 | NPT1/2 " X14 10 06 26.5 22
S15611-08-08 | NPT1/2 " X14 13 08 26.5 22
S15611-08-10 | NPT1/2 " X14 16 10 28 22
S15611-12-08 | NPT3/4 " X14 13 08 29 27
S15611-12-10 | NPT3/4 " X14 16 10 29.5 27
S15611-12-12 | NPT3/4 " X14 i 12 30 27
S15611-12-16 | NPT3/4 " X14 25 16 31 32
S$15611-16-10 | NPT1 " X11.5 16 10 33.5 36
S15611-16-12 NPT1 " X11.5 19 12 34 36
S15611-16-16 | NPT1 " X11.5 25 16 35 36
S§$15611-20-16 | NPT1.1/4 " X115 25 16 37.5 46
S15611-20-20 | NPT1.1/4 " X115 32 20 38.5 46
S15611-24-24 | NPT1.1R2 " X115 38 24 40.5 50
S$15611-32-32 | NPT2 " X11.5 51 32 43.5 65

Ee A RPN T RARE . 2. Wil TS HE S ok $15612-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series number is S15612-XX-XX.

Note:1.For use with

A HEET e AMREL
NPT SWIVEL MALE
5 IRAT ‘& HOSE BORE J5) DIMENSIONS

PART NO. THREADT | AFKAAEDN | kx5 DASH L S
S15611SW-04-04 | NPT1/4 " X18 6 04 47.3 19
S15611SW-06-06 | NPT3/8 " X18 10 06 54 22
S15611SW-08-08 | NPT1/2 " X14 13 08 64 27
S§15611SW-12-12 | NPT3/4 " X14 19 12 68.5 32

74 =R i EE

SER



AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

®

®

W 4 3. 51 HOSE EITTING susist swaged Hose Fiting Q@NNKE

90° 5 AHEE HEAe S RA

FEHIORFSIA MR- TH]
ORFS FEMALE FLAT SEAT

$24211 ISO 12151-1—SAE J516
RS IRET %% HOSE BORE J{=} DIMENSIONS
PART NO. THREAD T | A#N4DN | F5%5 DASH L S
S24211-04-04 9/16 " X18 6 04 22.5 19
S24211-06-04T 11/16 " X16 6 04 22.5 22
S24211-06-05T 11/16 " X16 8 05 23.5 22
S24211-06-06 11/16 " X16 10 06 25.5 22
S24211-08-06T 13/16 " X16 10 06 25 27
S24211-08-08 13/16 " X16 13 08 28.5 27
S24211-08-10 13/16 " X16 16 10 29.5 27
S24211-10-08T 1" X14 13 08 29 30
S$24211-10-10 1"X14 16 10 33.5 30
S24211-12-08T | 1.3/16 " X12 13 08 31 36
$24211-T S24211-12-10T | 1.3/16 " X12 16 10 32 36
S24211-12-12 1.3/16 " X12 19 12 85 36
8 F—— S24211-16-12T | 1.7/16 " X12 19 12 34 41
| S24211-16-16T | 1.7/16 " X12 25 16 38 41
i - S$24211-20-16T | 1.11/16 " X12 25 16 35 50
5l S24211-20-20 1.11/16 " X12 32 20 40 50
S24211-24-20T 2" X12 32 20 36.5 60
S24211-24-24T 2" X12 38 24 36.5 60
« RPRSITRAEE . 2, W TS 80N S24212-XX-XX, Note:1.For use with
bralded hoses. 2.If use with spiral hoses,hose fitting series number is S24212-XX-XX.

S15691KSW 90° NPT SWIVEL MALE
5 BT %4 HOSE BORE N~} DIMENSIONS
PART NO. THREAD T | AFKM4ADN | 4% DASH L H | S1| s2
S15691KSW-04-04 | NPT1/4 " X18 6 04 25 |59.5| 16 | 19
o S15691KSW-06-06 | NPT3/8 " X18 10 06 25 |64.5| 16 | 22
I } S15691KSW-08-08 | NPT1/2 " X14 13 08 285 |71.5| 19 | 27
% S15691KSW-12-12 | NPT3/4 " X14 19 12 36 |76.9| 27 | 32
D
n
fis
%
2 HIORFSAHME LV [HIONE el % &f
$14211 ORFS MALE O-RING SEAL SO 8434-3—SAE J1453
5 24T %% HOSE BORE X~ DIMENSIONS
PART NO. THREADT | AFRMEDN | 455 DASH L S1
5$14211-04-04 9/16 " X18 6 04 225 17
St S14211-06-04 11/16 " X16 6 04 24 19
lﬁfﬂ]ﬂ'ﬂﬂj $14211-06-06 11/16 " X16 10 06 24 19
Ly o $14211-08-06 y .
2 Siéit 0605 | lorie xie |13 o5
= S14211-08-10 13/16 " X16 16 10 28.5 22
$14211-10-08 1" X14 13 08 325 27
$14211-10-10 1" X14 16 10 33.5 27
S$14211-12-08 1.3/16 " X12 13 08 35.5 32
S$14211-12-10 1.3/16 " X12 16 10 36 32
S14211-12-12 1.3/16 " X12 19 12 36.5 32
S$14211-16-12 1.7116 " X12 19 12 37 41
$14211-16-16 1.7116 " X12 25 16 38.5 41
$14211-20-20 1.11/16 " X12 32 20 415 46
s14211 —24-24 2" X12 38 24 43 55
. RPREHFRERE. 2. izuﬁﬂﬁér AT N S14212-XX-X X,
NOTE. 1. For use with braided hoses, 2. If use spiral hoses, hose fitting series number is S14212-XX-XX,

75 =R

i ORFS PIBLCFTH AN fA
ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
$24211D ISO 12151-1—SAE J516
&5 [ty % HOSE BORE J'~) DIMENSIONS
PART NO. THREAD T | AFFP4EDN | 45 DASH L S1 | S2
S$24211D-04-04 | 9/16 " X18 6 04 27.5 14 | 19
S$24211D-06-04 | 11/16 " X16 6 04 30.5 19 | 22
S$24211D-06-05 | 11/16 " X16 8 05 30.5 19 | 22
s F o1 S$24211D-06-06 | 11/16 " X16 10 06 30.5 19 | 22
), | S$24211D-08-06 | 13/16 " X16 10 06 33 22 | 27
. = i iieccaninc ] S$24211D-08-08 | 13/16 " X16 13 08 33.5 22 | 27
s B 7/ S24211D-08-10 | 13/16 " X16 16 10 34.5 24 | 27
S$24211D-10-08 1" X14 13 08 40 27 | 30
S$24211D-10-10 1" X14 16 10 41 27 | 30
S$24211D-12-08 | 1.3/16 " X12 13 08 31 36 | 36
S$24211D-12-10 | 1.3/16 " X12 16 10 32 36 | 36
S24211D-12-12 | 1.3/16 " X12 19 12 35 36 | 36
S$24211D-16-16 | 1.7/16 " X12 25 16 35 41 | 41
S$24211D-20-16 [1.11/16 " X12 25 16 35 50 | 50
S$24211D-20-20 [1.11/16 " X12 32 20 40 50 | 50
S$24211D-24-20 2"X12 32 20 36.5 60 | 60
S24211D-24-24 2"X12 38 24 36.5 60 | 60
RPREG TR . 2. WM TSR 15 S24212D-XX-XX,  Note:1.For use with
bralded hoses. 2.If use with spiral hoses,hose fitting series number is S24212D-XX-XX.

76/ =R i A

SR



AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

®

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

SR

45° 725 E4H|ORFS N MRS 1R

824241 45° ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516
5 WRALT %4 HOSE BORE JR5} DIMENSIONS

PART NO. THREAD T | A#HN4#DN | #45i% DASH L H S1
S24241-04-04 9/16 " X18 6 04 43 20 19
S24241-06-04T | 11/16 " X16 6 04 38 (14.7 22
S24241-06-05T | 11/16 " X16 8 05 42 [18.5 22
S24241-06-06 11/16 " X16 10 06 52 27 22
S24241-08-06T | 13/16 " X16 10 06 48 [21.4 27
S24241-08-08 13/16 " X16 13 08 63.3(30.4 27
S24241-08-10 13/16 " X16 16 10 71 [31.5 27
S24241-10-08T 1"X14 13 08 66.5(33.5 30
S24241-10-10 1"X14 16 10 74.5| 35 30
$24241-T S24241-12-08T |1.3/16" X12 13 08 67.5| 35 36
S24241-12-10T [1.3/16" X12 16 10 64.8|25.6 36
S24241-12-12 1.3/16 " X12 19 12 79.5|39.4 36
S24241-16-12T [1.7/16" X12 19 12 74 29 41
S24241-16-16T [1.7/16" X12 25 16 82 |29.5 41
S24241-20-16T [1.11/16" X12 25 16 95 42 50
) S24241-20-20 1.11/16 " X12 32 20 107 |46.5 50
) S24241-24-20T 2"X12 32 20 94.5|33.8 60
S24241-24-24T 2" X12 38 24 112 |39.5 60

e 1 RBPRTHTREEK . 2. WA TSR 5 S24242-XX-XX..  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S24242-XX-XX.

$24291

k.

90° Z52E1|ORES Py B LCF 1fi

90° ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516

RS BT 4 HOSE BORE JUs| DIMENSIONS
PART NO. THREAD T | A#N4EDN | F5* DASH L H S
S24291-04-04 9/16 " X18 6 04 30 | 36 19
S24291-06-04T | 11/16 " X16 6 04 30 [42.5 22
S24291-06-05T | 11/16 " X16 8 05 33 | 35 22
S24291-06-06 11/16 " X16 10 06 36.5| 48 22
S24291-08-06T | 13/16" X16 10 06 36.5| 38 27
S24291-08-08 13/16 " X16 13 08 43.5| 56 27
S24291-08-10 13/16 " X16 16 10 55 |60.5 27
S24291-10-08T 1" X14 13 08 43.5| 46 30
S24291-10-10 1" X14 16 10 55 | 65 30
S24291-12-08T | 1.3/16 " X12 13 08 43.5|46.5 36
S24291-12-10T | 1.3/16 " X12 16 10 55 | 51 36
S24291-12-12 1.3/16 " X12 1% 12 64 | 75 36
S24291-16-12T | 1.7/16 " X12 19 12 64 | 58 41
S24291-16-16T | 1.7/16 " X12 25 16 73 | 66 41
S24291-20-16T |1.11/16 " X12 25 16 74 | 67 50
S24291-20-20 1.11/16 " X12 32 20 91.5|96. 5 50
S24291-24-20T 2" X12 32 20 91.5(79.5 60
S24291-24-24T 2" X12 38 24 109 | 93 60
e 1y RPRTHTWERE . 2. WFEH T s 5 h S24292-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S24292-XX-XX.

771 =R E R

$16711

’(IQIJ% e m e mr e e

E I TICHMBELG 74 ST
JIC MALE 74° CONE
ISO 8434-2-SAE J514

RE IBAT %% HOSE BORE JUs) DIMENSIONS

PART NO. THREADT | AFFA4EDN | 455 DASH L S
S16711-04-04 7/16 " X20 6 04 26.5 12
S16711-05-04 1/2 " X20 6 04 26.5 14
S16711-05-05 1/2 " X20 8 05 26.5 14
S16711-05-06 1/2 " X20 10 06 26.5 17
S16711-06-04 9/16 " X18 6 04 26.5 17
S16711-06-05 9/16 " X18 8 05 26.5 17
S16711-06-06 9/16 " X18 10 06 26.5 17
S16711-08-06 3/4" X16 10 06 31 22
S16711-08-08 3/4" X16 13 08 31.5 22
S16711-10-06 7/8 " X14 10 06 32 24
S16711-10-08 7/8 " X14 13 08 34.5 24
S16711-10-10 7/8 " X14 16 10 8515 24
S16711-12-08 1.1/16 " X12 13 08 39 27
S16711-12-10 1.1/16 " X12 16 10 40 27
S16711-12-12 1.1/16 " X12 19 12 40 27
S16711-12-16 1.1/16 " X12 25 16 41 32
S16711-14-10 1.3/16 " X12 16 10 40 32
S16711-14-12 1.3/16 " X12 19 12 40.5 32
S16711-16-12 1.5/16 " X12 19 12 425 36
S16711-16-16 1.5/16 " X12 25 16 43.5 36
S16711-20-16 1.5/8 " X12 25 16 46 46
S16711-20-20 1.5/8 " X12 32 20 475 46
S16711-24-20 1.7/8 " X12 32 20 53.5 50
S16711-24-24 1.7/8 " X12 38 24 53 50
S16711-32-32 2.1/2" X12 51 32 64 65
e 1y PG TRWEURE . 2. Wil T9a5e B B0 S16712-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S16712-XX-XX.

78/ =f i

SER



®

AP 25 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

®

AP 29 HOSE FITTING  sujkst Swaged Hose Fitting Sannke

SR

S$26711

S$26711-T

FHITICH IBL74° N HET

S$26711D

JIC FEMALE 74° CONE SEAT J514
Rz IBAT %% HOSE BORE ) DIMENSIONS
PART NO. THREADT | AFFA4EDN | 455 DASH L S
S26711-04-04 7/16 " X20 6 04 15 14
S26711-05-04 1/2 " X20 6 04 15.5 17
S26711-05-05 1/2 " X20 8 05 15.5 17
S26711-06-04T | 9/16 " X18 6 04 1585 19
S26711-06-05 9/16 " X18 8 05 15.5 19
S26711-06-06 9/16 " X18 10 06 1585 19
S26711-07-06 5/8 " X18 10 06 16.5 22
S26711-08-06T 3/4" X16 10 06 17.5 24
S26711-08-08 3/4" X16 13 08 18 24
S26711-08-10 3/4" X16 16 10 19 24
S26711-10-08T 7/8" X14 13 08 18 27
S26711-10-10 7/8" X14 16 10 20 27
S26711-10-12 7/8 " X14 19 12 20 27
S26711-12-08T | 1.1/16 " X12 13 08 20 32
S26711-12-10T | 1.1/16 " X12 16 10 21.5 32
S26711-12-12 | 1.1/16 " X12 19 12 21.5 32
S26711-14-12T | 1.3/16 " X12 19 12 21.5 36
S26711-16-12T | 1.5/16 " X12 19 12 22 41
S26711-16-16 | 1.5/16 " X12 25 16 23 41
S26711-20-16T | 1.5/8 " X12 25 16 25 50
S26711-20-20 1.5/8" X12 32 20 26 50
S26711-24-20T | 1.7/8 " X12 32 20 26.5 55
S26711-24-24 1.7/8 " X12 38 24 26.5 55
S26711-32-24T | 2.1/2" X12 38 24 26.5 75
S26711-32-32 2.1/2"X12 51 32 27 75
A 1 RS TwAE . 20 WdiH T9nge 9o 5 8k S26712-XX-XX,  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26712-XX-XX.

K JICHBRE74° AHERIXL/N A

JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON SAE J514
RS BLT % HOSE BORE JUs; DIMENSIONS

PART NO. THREAD T | AFKA4EDN | 455 DASH L S1 | S2
S26711D-04-04 | 7/16 " X20 6 04 20 14 | 14
S26711D-05-04 1/2 " X20 6 04 20.5 17 | 17
S26711D-06-04 | 9/16 " X18 6 04 21 19 19
S26711D-06-06 | 9/16 " X18 10 06 21 19 | 19
S26711D-08-06 3/4 " X16 10 06 25 24 | 24
S26711D-08-08 3/4" X16 13 08 24.5 24 | 24
S26711D-08-10 3/4" X16 16 10 25.5 24 | 24
S26711D-10-08 7/8" X14 13 08 28 27 | 27
S26711D-10-10 7/8 " X14 16 10 29 27 | 27
S26711D-12-12 |[1.1/16 " X12 19 12 31.5 32 | 32
S26711D-16-12 |1.5/16 " X12 19 12 33.5 41 41
S26711D-16-16 | 1.5/16 " X12 25 16 34.5 41 41
S26711D-16-20 |1.5/16 " X12 32 20 36.5 41 41
S26711D-20-20 | 1.5/8 " X12 32 20 39 50 | 50
e 1 RS TWMAERE . 2. M THEE RS 50 S26712D-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26712D-XX-XX.

79 =f i

S$26711D-SM

S$26741

FHITICHIRL74° PIHEIXUN i

JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON

SAE J514

(157 BT ¥4 HOSE BORE JUsF DIMENSIONS

PART NO. THREADT | AFKA4EDN | 455 DASH L S1 | S2
S26711D-04-04SM| 7/16 " X20 6 04 20 12 | 14
S26711D-05-04SM| 1/2 " X20 6 04 20.5 12 | 17
S26711D-06-04SM| 9/16 " X18 6 04 21 14 | 19
S26711D-06-06SM| 9/16 " X18 10 06 21 17 | 19
S26711D-08-06SM| 3/4 " X16 10 06 25 19 | 24
S26711D-08-08SM| 3/4 " X16 13 08 24.5 22 | 24
S26711D-08-10SM| 3/4 " X16 16 10 25.5 22 | 24
S26711D-10-08SM| 7/8 " X14 13 08 24 22 | 27
S26711D-10-10SM| 7/8 " X14 16 10 27 22 | 27
S26711D-12-12SM| 1.1/16 " X12 19 12 31.5 27 | 32
S26711D-16-12SM| 1.5/16 " X12 19 12 31.5 32 | 41
S26711D-16-16SM| 1.5/16 " X12 25 16 32.5 32 | 41
S26711D-20-20SM| 1.5/8 " X12 32 20 37 41 | 50
e 1y RS TRmEE . 2. FH T HSEE S 80 S26712D-XX-XXSM.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S26712D-XX-XXSM.

45° 5EHITICHIRET4° AL
45° JIC FEMALE 74° CONE SEAT

S$26741-T

SAE J514
R IRAT %% HOSE BORE Js) DIMENSIONS
PART NO. THREADT | AFKA4EDN | 455 DASH L H S
S26741-04-04 7/16 " X20 6 04 39 |17.4 14
S26741-05-04 1/2 " X20 6 04 39 |15.5 17
S26741-05-05 1/2 " X20 8 05 43 |19.2 17
S26741-06-04T | 9/16" X18 6 04 39.5|15.5 19
S26741-06-05 9/16 " X18 8 05 43.7| 20 19
S26741-06-06 9/16 " X18 10 06 455 | 20 19
S26741-07-06 5/8 " X18 10 06 46 20 22
S26741-08-06T 3/4" X16 10 06 46.6 | 21 24
S26741-08-08 3/4 " X16 13 08 56 |23.7 24
S26741-08-10 3/4 " X16 16 10 64.5| 25 24
S26741-10-08T | 7/8" X14 13 08 50 | 19 27
S26741-10-10 7/8" X14 16 10 64.5|25.3 27
S26741-10-12 7/8" X14 19 12 71 |28.5 27
S26741-12-08T |1.1/16 " X12 13 08 58 |25.8 32
S26741-12-10T |1.1/16 " X12 16 10 60 | 22 32
S26741-12-12 | 1.1/16 " X12 19 12 73 |30.2 32
S26741-14-12T | 1.3/16 " X12 19 12 73.5| 31 36
S26741-16-12T | 1.5/16 " X12 19 12 73 |30.5 41
S26741-16-16 1.5/16 " X12 25 16 85 |32.2 41
S26741-20-16T | 1.5/8 " X12 25 16 83 | 30 50
S26741-20-20 1.5/8 " X12 32 20 99 |38.4 50
S26741-24-20T | 1.7/8 " X12 32 20 96 | 35 65)
S26741-24-24 1.7/8 " X12 38 24 113 [43.9 55
S26741-32-24T | 2.1/2" X12 38 24 136.5|51.5 75
S26741-32-32 2.1/2" X12 51 32 132 |51.5 75
e 1 RPAS I TRAURE . 2. Wil T 95U 50 S26742-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is S26742-XX-XX.

80/ = RIAE T

0
E

I



® ®

RGBS 281 HOSE FITTING  #1/sat Swaged Hose Fitting Sannke RE ) Y] HOSE FITTING #1555t Swaged Hose Fitting Sannke

SR

90° W RHIILCHIRETL" PIHE

90° JIC FEMALE 74° CONE SEAT O3 R AL K ek
S26791 SAE J514 20011-T METRIC FEMALE WATERWASH INSERTS
A= BT 4% HOSE BORE K~} DIMENSIONS NG BT # % HOSE BORE K~ DIMENSIONS
— PART NO. THREADT | AFRMADN | #5'5 DASH L | H S1 PART NO. THREADT | A#M4DN | kx5 DASH L | D/ d
$26791-04-04 7/16 " X20 6 04 30 | 29 14 $20011-22-04T M22X1.5 6 04 35 |345| 14
S26791-05-04 1/2 " X20 6 04 32 | 30.5 17 = :] 1 $20011-22-05T M22X1.5 8 05 35 | 345/ 14
$26791-05-05 1/2 " X20 8 05 33 | 33 17 ] $20011-22-06T M22X1.5 10 06 35 |345| 14
S$26791-06-04T | 9/16" X18 6 04 30.5| 31 19 :
$26791-06-05 9/16 " X18 8 05 33 | 36.5 19
S$26791-06-06 | 9/16" X18 10 06 36.5| 38.5 19
$26791-07-06 5/8" X18 10 06 36.5| 39 22 // D
S26791-08-06T | 3/4" X16 10 06 36.5| 37 24 - =
. $26791-08-08 3/4" X16 13 08 44 | 46.5 24 “ﬂ)/’
% Oy $26791-08-10 | 3/4"X16 16 10 55 | 51 24 & ‘/
S26791-10-08T | 7/8" X14 13 08 43.5| 40 27 m,./
S$26791-10-10 7/8 " X14 16 10 56 | 51.5 27
$26791-10-12 7/8 " X14 19 12 64 | 59.5 27
S26791-T S$26791-12-08T | 1.1/16 " X12 13 08 43.5| 48 32
$26791-12-10T | 1.1/16 " X12 16 10 56 | 54 32
S$26791-12-12 | 1.1/16 " X12 19 12 63 | 60.5 32
§ S$26791-14-12T [ 1.3/16 " X12 19 12 64 | 63.5 36
S$26791-16-12T | 1.5/16 " X12 19 12 64 | 62 41
S$26791-16-16 | 1.5/16 " X12 25 16 74 | 72 41 e
S$26791-20-16T | 1.5/8 " X12 25 16 74 | 73 50 SAE ¥= 3000 PSI 6121 il
S26791-20-20 | 1.5/8" X12 32 20 91.5| 85 50 s87311 SAE FLAE = SR el CobE B i
S26791-24—20T | 1.7/8 " X12 32 20 91.5/ 79.5 55 o sl E R E:o
S$26791-24-24 | 1.7/8 " X12 38 24 109 | 100 55 5 WRLT % HOSE BORE JU~} DIMENSIONS
S26791-32-24T | 2.1/2" X12 38 24 109 | 94 75 _ _ PART NO. THREAD T | AFWMDN | b5 DASH L D | L1
S26791-32-32 | 2.1/2" X12 51 32 129 [121.5 75 $87311-08-08 12" 13 08 46 30.2 | 6.73
W AL RS H TR . 20 W H TSR 5 i S26792-XX-XX.  Note:1.For use with 587311-12-08 /4" i 08 e ENOT
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26792-XX-XX. S87311-12-10 3/4 " 16 10 48 38.1|6.73
$87311-12-12 3/4" 19 12 48 38.1|6.73
$87311-12-16 3/4 " 25 16 49 38.1| 6.73
$87311-16-12 K 19 12 51 44| 8
$87311-16-16 K 25 16 52 444 8
$87311-16-20 1" 32 20 53 444 8
$87311-20-16 1.1/4" 25 16 57 50.8| 8
90° MG JICHIBLT4° AT $87311-20-20 1.1/4" 32 20 58 50.8| 8
90° JIC COMPACT FEMALE 74° CONE SEAT S87311-24-20 1.1/2" 32 20 68 603 | 8
S$26791-K SAE J514 S87311-24—24 12" 38 24 68 60.3| 8
RE AT i HOSE BORE /I DIMENSIONS S87311-32-24 2 38 24 66 714953
PART NO. THREAD T | A% P#DN | # 5 DASH L] H]SI] S cireid it b EN < £ eo [l || el
S26791K-04-04 | 7/16 " X20 6 04 1751 18 | 11 | 14 e 1 RPRGHFREAE . 20 T TSRS 8O S87312-XX-XX,  Note:1.For use with
S26791K-05-05 1/2 " X20 ) 05 19.5] 18 | 11 17 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87312-XX-XX.
S26791K-06-04 | 9/16" X18 6 04 19 [ 21 | 14 | 19
S26791K-06-06 | 9/16" X18 10 06 20 | 21 | 16 | 19
S26791K-08-06 | 3/4"X16 10 06 23 | 25 | 19 | 24
S26791K-08-08 | 3/4" X16 13 08 23.5| 25 | 22 | 24
S26791K-10-08 | 7/8" X14 13 08 23.5|27.5| 22 | 27
S26791K-10-10 | 7/8" X14 16 10 25 |27.5| 22 | 27
S$26791K-12-12 [1.1/16 " X12 19 12 27.5| 30 | 27 | 32
S26791K-16-16 | 1.5/16 " X12 25 16 43 (34.3| 33 | 41

e 1 RS TRARE . 2. WFRH THZPE RS 8 S26792K-XX-XX. Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S26792K-XX-XX.

81/ =Flm iR 82/ =M E =



®

®
B 25 HOSE FITTING  #1ji5t Swaged Hose Fitting Sannke GBS 281 HOSE FITTING #1752t Swaged Hose Fitting Sal’mke

SR

45° Z5SAE % 3000 PSI 617 SAE 5= 6000 PSI 6211
45° SAE FLANGE 3000 PSI CODE 61 SAE FLANGE 6000 PS| CODE 62
$87341 ISO 12151-3—SAE J516 S87611 ISO 12151-3-SAE J516
R BT %% HOSE BORE Ji~) DIMENSIONS ® B LA 4% HOSE BORE Ji~; DIMENSIONS
PART NO. THREADT | AFfA1EDN | #5's DASH L H| D | L1 PART NO. FLANGE SIZE | AFkPM DN | #5'%5 DASH L D | L1
$87341-08-08 12" 13 08 55.5| 23 | 30.2| 6.73 $87611-08-08 1/0" 13 08 47 31.7|7.75
S S87341-12-08 3/4 " 13 08 59 | 24 | 38.1| 6.73 $87611-12-10 3/4" 16 10 51 41.3|8.76
$87341-12-10 3/4" 16 10 64.5| 25 | 38.1| 6.73 $87611-12-12 3/4" 19 12 51 41.3|8.76
S87341-12-12 3/4 " 19 12 71 | 28 | 38.1| 6.73 - $87611-16-12 1" 19 12 56 47.6|9.53
S87341-12-16 3/4 " 25 16 82.5| 29.5| 38.1| 6.73 $87611-16-16 1" 25 16 57 47.6|9.53
S87341-16-12 1" 19 12 71 | 28 | 44.4| 8 $87611-16-20 1" 32 20 58 47.6|9.53
S87341-16-16 1" 25 16 82 [ 294 444| 8 S87611-20-16 1.1/4" 25 16 65 54 (10.29 D
S87341-16-20 1" 32 20 945 | 338| 444| 8 $87611-20-20 1.1/4" 32 20 66 54 [10.29
: $87341-20-16 1.1/4" 25 16 77 | 31 ]508| 8 $87611-24-20 1.1/2" 32 20 75 63.5 [12.57
$87341-20-20 1.1/4" 32 20 945 | 33.8| 50.8| 8 S87611-24-24 1.1/2" 38 24 75 63.5[12.57
S87341-24-20 1.1/2" 32 20 94.5| 33.8| 60.3| 8 S87611-32-24 2" 38 24 85 79.4 12.57
S87341-24-24 1.14/2" 38 24 110 | 40.4 | 60.3| 8 S87611-32-32 2" 51 32 85 79.4]12.57
S87341-32-24 2" 38 24 110 | 40.4 | 71.4| 9.53 He 1 RPCSHTRAE . 2. T THSREICT SN S87612-XX-XX.  Note:1.For use with
S87341-32-32 2" 51 32 127 | 46.3| 71.4| 9.53 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87612-XX-XX.
He 1 RPGHTRGURE . 20 Wil TSR0 B0 S87342-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S87342-XX-XX.
n
o AR VE 1] Py v 2L ,:TE
90° #5SAE %% 3000 PSI 617 45° 5SAE 2% 6000 PSI 627 z
90° SAE FLANGE 3000 PSI CODE 61 45° SAE FLANGE 6000 PSI CODE 62
$87391 ISO 12151-3—SAE J516 S87641 ISO 12151-3-SAE J516
s BRAT #Er HOSE BORE JO} DIMENSIONS ® B M §# HOSE BORE R} DIMENSIONS
PART NO. THREADT | AFFNFEDN | #55 DASH L | H| D] L PART NO. FLANGE SIZE | AFkM4£DN | #5'5 DASH L | H|[D]L1
S87391-08-08 12" 13 08 44 | 47 | 30.2| 6.73 _ S87641-08-08 1/2" 13 08 58 [25.1(31.7|7.75
587391-12-08 3/4" 13 08 44 | 48 | 38.1] 6.73 $87641-12-10 3/4" 16 10 67 |27.8|41.3|8.76
$87391-12-10 3/4" 16 10 55 | 53 | 38.1| 6.73 $87641-12-12 3/4" 19 12 73.5/30.5|41.3|8.76
S87391-12-12 3/4" 19 12 64 | 59 | 38.1] 6.73 S87641-16-12 i 19 12 76 | 33 |47.6/9.53
S87391-12-16 3/4" 25 16 74 66 | 38.1| 6.73 S87641-16-16 1" 25 16 87 |34.4|47.6|9.53
S87391-16-12 1" 19 12 64 | 59 | 44.4| 8 587641-16-20 1" 32 20 99.5| 39 |47.6|9.53
S87391-16-16 1" 25 16 74 | 66 | 444| 8 S87641-20-16 1.1/4" 25 16 90 |37.4| 54 |10.29
$87391-16-20 1" 32 20 91.5|785| 444| 8 $87641-20-20 1.1/4" 32 20 103 |41.5| 54 [10.29
S87391-20-16 1.1/4" 25 16 74 | 66 | 50.8| 8 $87641-24-20 1.1/2" 32 20 106 | 45.1|63.5|12.57
S87391-20-20 1.1/4" 32 20 91.5| 785| 50.8| 8 $87641-24-24 1.1/2" 38 24 120 | 50.3 | 63.5[12.57
S87391-24-20 14/2" 32 20 91.5| 80.5| 60.3| 8 $87641-32-24 2" 38 24 125 | 56 |79.4|12.57
S87391-24-24 1.1/2" 38 24 109 | 94 | 60.3| 8 S87641-32-32 2" 51 32 143 | 62 |79.4|12.57
| S87391-32-24 2" 38 24 109 | 94 | 71.4| 953 e RIS HTRLE. 2. Wil TSI 5 1% 0 S87642-XX-XX.  Note:1.For use with
@ $87391-32-32 25 51 32 131 | 115 ] 71.4] 9.53 braided hoses. 2.If use with spiral hoses,hose fitting series number is S87642-XX-XX.
e 1 BRIPRSHTWMARE . 2. WFRH THEYCE R 5 hS87392-XX-XX,  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S87392-XX-XX.

83/ =M i E = 84/ = iR



% 3. 241 HOSE FITTING

#1 )=, Swaged Hose Fitting Sannk

®

e

®

W55 B2 3L 251 HOSE FITTING 1k Swaged Hose Fiting Da@NNKE

SR

S$87691

90° ZISAE %% 6000 PSI 627!
90° SAE FLANGE 6000 PSI CODE 62

ISO 12151-3-SAE J516
= i ) #‘% HOSE BORE Ji~} DIMENSIONS
PART NO. FLANGE SIZE | AFRN42DN | 455 DASH L H D | L1

$87691-08-08 1/2" 13 08 43.5|48.5(31.7|7.75
i $87691-12-10 3/4" 16 10 55 | 55 |41.3(8.76
$87691-12-12 3/4" 19 12 64 | 63 [41.3|8.76
587691-16-12 i 19 12 64 | 66 [47.6/9.53
587691-16-16 1" 25 16 74 | 73 |47.6|9.53
$87691-16-20 i 32 20 91.5|85.5(47.6|9.53
$87691-20-16 1.1/4" 25 16 74 | 77 | 54 |10.29
$87691-20-20 1.1/4" 32 20 91.5(89.5| 54 [10.29
587691-24-20 1.1/2" 32 20 91.5|94.5|63.5(12.57
S87691-24-24 1.1/2" 38 24 109 | 108 | 63.5[12.57
S87691-32-24 2" 38 24 109 | 112 | 79.4[12.57
$87691-32-32 2" 51 32 129 | 137 | 79.4 [12.57

Ve 1 RO TREUKE . 2, W TAILEHE (U5 5 S87692-XX-XX.

braided hoses. 2.If use with spiral hoses,hose fitting series number is S87692-XX-XX.

Note:1.For use with

S60011

D2
D1

A

TR e F Sk

MT STAPLELOCK MALE

5 4% HOSE BORE JX~I DIMENSIONS
PART NO. AFRN4EDN | f5'5 DASH L L1 | D1 | D2
S60011-04-04 6 04 31 | 25 | 11 | 15
$60011-05-05 8 05 335 26 | 13 | 18
S60011-06-06 10 06 34 | 26 | 15 | 18
S60011-08-06 10 06 345 26 | 18 | 22
$60011-08-08 13 08 345 26 | 18 | 22
S60011-10-10 16 10 39 | 30 | 20 | 25
S$60011-12-12 19 12 40.5| 31 | 24 | 28
S60011-16-14 22 14 41 | 31 | 30 | 35
S60011-16-16 25 16 42 | 31 | 30 | 35

A RPRS TR

braided hoses. 2.If use with spiral hoses,hose fitting series number is S60012-XX-XX.

2. WA TGRS A U S60012-XX-X X,

Note:1.For use with

85/ =M E =

NS
S70011 METRIC BANJO DIN 7642
5 IR %% HOSE BORE Ji~} DIMENSIONS
PART NO. BOLT AFKPAEDN | #5 DASH L d D | H
$70011-10-03 M10X1 5 03 17 [10.1] 17 | 10
S70011-10-04 M10X1 6 04 19.5|10.1] 17 | 10
$70011-12-04 M12X1.5 6 04 21 [12.1] 20 | 12
S70011-12-05 M12X1.5 8 05 225[121] 22 | 12
) $70011-12-06 M12X1.5 10 06 21 [12.1] 20 | 12
i S70011-14-04 M14X1.5 6 04 245(141] 24 | 14
= $70011-14-05 M14X1.5 8 05 21 [14.1] 24 | 14
G S70011-14-06 M14X1.5 10 06 245(14.1] 24 | 14
$70011-16-04 M16X1.5 6 04 24 [16.1] 28 | 18
$70011-16-05 M16X1.5 8 05 24 [16.1] 28 | 18
$70011-16-06 M16X1.5 10 06 24 [16.1] 28 | 18
S70011-18-04 M18X1.5 6 04 30.5[18.1] 32 | 20
3 $70011-18-05 M18X1.5 8 05 245[18.1] 32 | 20
; S70011-18-06 | M18X1.5 10 06 24.5|18.1] 32 | 20
$70011-18-08 M18X1.5 13 08 25 |18.1] 32 | 20
$70011-22-06 M22X1.5 10 06 27 [22.1] 35 | 22
$70011-22-08 M22X1.5 13 08 27.5(22.1] 35 | 22
$70011-22-10 M22X1.5 16 10 28 [22.1] 39 | 22
S70011-26-12 M26X1.5 19 12 36.5(26.1| 45 | 29
$70011-30-16 M30X1.5 25 16 40 [30.1| 54 | 36
$70011-30-20 M30X1.5 32 20 41 |30.1| 54 | 36
e 1y RIPREHTREEE . 2. T THSeCE 5 80 S70012-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is S70012-XX-XX.
Bl ek
$72011 BSP BANJO
(5 i i HOSE BORE J&) DIMENSIONS
PART NO. BOLT AFRA4DN | 455 DASH L d | D| H
S$72011-04-04 | G1/4" X19 6 04 19.5[13.3| 24 | 14
S72011-04-05 | G1/4 " X19 8 05 19.5[13.3| 24 | 14
S$72011-04-06 | G1/4"X19 10 06 22 [13.3| 24 | 14
o S$72011-06-04 | G3/8"X19 6 04 22 [16.7| 29 | 18
_ S$72011-06-05 | G3/8"X19 8 05 22 [16.7] 29 | 20
S$72011-06-06 | G3/8"X19 10 06 22 [16.7] 29 | 20
o e S$72011-06-08 | G3/8"X19 13 08 23.5(16.7| 28 | 20
S72011-08-05 | G1/2" X14 8 05 27.5| 21 | 385 | 22
S$72011-08-06 | G1/2" X14 10 06 27.5(21.2| 385 | 22
S$72011-08-08 | G1/2" X14 13 08 27.5(21.2| 36 | 25
S$72011-08-10 | G1/2" X14 16 10 28.5(21.2| 36 | 25
S$72011-10-10 | G5/8" X14 16 10 28 | 23 | 40 | 27
S72011-12-10 | G3/4" X14 16 10 32 [26.5| 48 | 31
S72011-12-12 | G3/4" X14 19 12 32 |26.5| 48 | 31
$72011-16-08 G1"X11 13 08 40 |33.3| 48 | 36
S$72011-16-12 G1" X11 19 12 40 |33.3| 54 | 36
S$72011-16-16 G1"X11 25 16 41 |33.3| 54 | 36

TE: 1 RIS T MEURAE
braided hoses. 2.If use with spiral hoses,hose fitting series number is S72012-XX-XX.

2. W TS A AR B S72012XX-XXs

Note:1.For use with

86/ =Fm IR E T

SR



®
W5 3. 251 HOSE EITTING st swaged Hose Fiting D@NNKE

®
B 2| HOSE FITTING  w#ist interlock Fitting Sannke

SR

N EEEE
METRIC BOLT
S700M DIN 7643
(A= BT R~ DIMENSIONS
2\,\_ PART NO. THREAD T L [ L1 S1
o S700M-10 M10X1 19.5| 6 14
L o] - S700M-12 M12X1.5 245| 6 17
%f E S700M-14 M14X1.5 26 | 6 19
R S700M-16 M16X1.5 28.5| 6 22
L S700M-18 M18X1.5 325| 6 24
S700M-22 M22X1.5 39 | 8 27
S700M-26 M26X1.5 46 | 10 32
S700M-30 M30X1.5 51 | 10 36
iE: BEES70011/E A, NOte: USE for S70011 series
TR R
S720B BSP BOLT
R AT X~} DIMENSIONS
st PART NO. THREAD T L [ L1 St
] S720B-02 G1/8 " X28 29.5| 4.8 14
il (i [ | N ) e S720B-04 G1/4 " X19 28.5| 6 19
%ﬁ L i S720B-06 G3/8 " X19 38.5| 7 22
- S720B-08 G1/2" X14 44 | 8.5 27
L'—-L S720B-10 G5/8 " X14 48.5| 10 30
S720B-12 G3/4 " X14 46 | 10 32
S720B-16 G1" X11 68.5| 13 41
E: BEES72011{E A, NOte: USE for S72011 series
X E R
S90011 DOUBLE CONNECTOR
o5 #’& HOSE BORE <+ DIMENSIONS
PART NO. AFRN4DN | 455 DASH L
= $90011-04 6 04 12
fmmii diiliis ) el $90011-05 8 05 12
o $90011-06 10 06 12
S90011-08 13 08 13
S90011-10 16 10 16
S90011-12 19 12 16
S90011-16 25 16 23
$90011-20 32 20 26
S90011-24 38 24 26
$90011-32 51 32 26

e 1 RS T EURE .
braided hoses. 2.If use with spiral hoses,hose fitting series number is S90012-XX-XX.

2. ki HY T 4ise

AT M S90012-XX-X X,

Note:1.For use with

87/ =i E

S$20513-T

S$20543-T

S20593-T

NI ERL24° HEAFOI B E R 51
METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2-DIN 3865
£ 5 BT 4 HOSE BORE EThME Ji~} DIMENSIONS
PART NO. THREAD T | AFA4 DN | #5%5 DASH | TUBEO.D | L S1
$20513-36-12T M36X2 19 12 25 33.5 46
$20513-42-16T M42X2 25 16 30 37.5 50
$20513-52-20T M52X2 32 20 38 455 60
45° NN IELr24° HEHT O IE HE R 51
45° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2-DIN 3865
£ 5 BT %% HOSE BORE FroME X~ DIMENSIONS
PART NO. THREAD T |AFKPI4#DN | 455 DASH| TUBEO.D | L H S1
$20543-36-12T M36X2 19 12 25 82.5 | 33 46
$20543-42-16T M42X?2 25 16 30 95 | 35.1 50
$20543-52-20T M52X2 32 20 38 109 | 39.5 60
90° AN IRL24° HEHOTF B T 241
90° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2-DIN 3865
£ 5 4T & HOSE BORE ETIME Ji~} DIMENSIONS
PART NO. THREAD T | A#‘AfEDN| 455 DASH| TUBEO.D | L H S1
$20593-36-12T M36X2 19 12 25 69 | 67.8 46
$20593-42-16T M42X2 25 16 30 76 74 50
$20593-52-20T M52X2 32 20 38 99.5 | 895 60

88/ =M i E =



% 3. 241 HOSE FITTING

®

P10 Interlock Fitting Sannl(e

5 3. 241 HOSE FITTING

®

W81z Interlock Fitting Sannl(e

R JUREL 60° ML OTE 1

FHICHIRG74° Py

$22613-0OR BSP FEMALE 60° CONE O-RING S$26713 JIC FEMALE 74° CONE SEAT SAE J514
5 AT # % HOSE BORE Ji~} DIMENSIONS R 5 T #/% HOSE BORE Ji~} DIMENSIONS
PART NO. THREAD T | AFXN7DN | k5= DASH L S1 < PART NO. THREADT | AFKAEDN | fi% DASH L S1
S22613-12-120R | G3/4"X14 19 12 26.5 32 S26713-12-12 1.1/16 " X12 19 12 265 32
S22613-16-160R G1"X11 25 16 30.4 41 S26713-16-16 | 1.5/16" X12 25 16 29.4 41
S22613-20-200R | G1.1/4"X11 32 20 35.8 50 '_[ e S26713-20-20 1.5/8 " X12 32 20 323 50
S22613-24-240R | G1.1/2"X11 38 24 36.7 55 S26713-24-24 1.7/8 " X12 38 24 35.2 60
S26713-32-32 24/2" X12 50 32 345 75
45° YU NIRLL 60° AMIETRI T OTEE
S$22643-0OR 45° BSP FEMALE 60° CONE O-RING \
45° EHJICHIRLT74° WHER
g 5 BT #% HOSE BORE JUs} DIMENSIONS S26743 45° ELBOWJIC FEMALE 74° CONE SEAT SAE J514
INFIRIN 42 N =
: R R T R BT AR € % | a1 | 9 HosEBORE L DIMENSIONS
S22643-16-160R | G1'X11 25 16 93 [34.2 41 PART NO. THREAD T AFRAFEDN | b5 DASH L H S1
S22643-20-200R | GL.# i1 |52 20 109.5 40 || 50 TR = TR a
$22643-24-240R | G1.1/2X11 38 24 125] 47 %5 $26743-20-20 | 1.5/8" X12 32 20 109 | 384 50
S26743-24-24 | 1.7/8" X12 38 24 113 | 43.9 55
S26743-32-32 | 2.1/2" X12 51 32 115 | 515 75
90° A HL A NIRLL 60° HMETH O 8l
$22693-0OR 90° BSP FEMALE 60° CONE O-RING
= 24T #% HOSE BORE Jis} DIMENSIONS ,
PART NO. THREAD T | /AF{A4DN | bi's DASH L [H St S26793 o 90° ERAEICHIRETA" Py
S22693-12-120R | G3/4"X14 19 12 70 | 65 32 U7 JUC FELALI R UMD ST SHE e
S22693-16-160R G1"X11 25 16 82 | 74 41 £ 5 LT #’& HOSE BORE Ji~} DIMENSIONS
S822693-20-200R | G1.1/4"X11 32 20 100 | 90 50 PART NO. THREAD T | AFKA42DN | 455 DASH L H S1
S$22693-24-240R G1.1/2"X11 38 24 118 | 105 55 S26793-12-12 1.1/16 " X12 19 12 73.8 | 645 32
S26793-16-16 | 1.5/16 " X12 25 16 889 | 725 41
_ S26793-20-20 | 1.5/8" X12 32 20 105.8 | 815 50
{ S26793-24-24 | 1.7/8" X12 38 24 1242 101 55
S26793-32-32 | 2.1/2"X12 50 32 150.3 | 121.3 75

89/ = iR E T 90/ =R IR EE R



®

%%%%%ﬁu HOSE FITTING WL Interlock Fitting Sannl(e

5 3. 241 HOSE FITTING

i Interlock Fitting Sannl(e

S$14213

K HIORFSHMRLCY [ O ] %

ORFS MALE O-RING SEAL ISO 8434-3—SAE J1453

5 2y ## HOSE BORE JJ DIMENSIONS

PART NO. THREAD T | AR A4DN | k5% DASH L S1
$14213-12-12 1.3/16 " X12 19 12 38.5 32
514213-16-16 1.7/16 " X12 25 16 40.5 38
$14213-20-20 | 1.11/16 " X12 32 20 42,5 46
$14213-24-24 2" X12 24 24 45.5 55

FHIORFS N IR ST

$24213 ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516

R BT # % HOSE BORE JUs DIMENSIONS
& PART NO. THREADT | AFM4EDN | 455 DASH L St
e $24213-12-12 1.3/16 " X12 19 12 41 36
_l ,h “,_j I T S24213-16-16 1.7/16 " X12 25 16 44.4 41
ey e $24213-20-20 | 1.11/16 " X12 32 20 47.8 50
$24213-24-24 2" X12 38 24 48.2 60
45° 5 EHIORFS Y ERGT- i
$24243 45° ELBOW ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516

= 28T ik HOSE BORE J&5 DIMENSIONS

l PART NO. THREADT | /ABXPI#2DN | b5t DASH L]H st

§24243-12-12 1.3/16 " X12 19 12 97.7| 42 36

S24243-16-16 1.7/16 " X12 25 16 111 [ 44.6 41

$24243-20-20 | 1.11/16 " X12 32 20 124 | 49 50

$24243-24-24 2" X12 38 24 138.253.6 60

21/ = iR E R

S$24293

S87313

S87343

90° % KHIORFS MBS T

90° ELBOW ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516

5 1B4T #%% HOSE BORE Ju~} DIMENSIONS
PART NO. THREADT | AFA1EDN | #3% DASH L | H S1
§24293-12-12 1.3/16 " X12 19 12 73.8|88.5 36
$24293-16-16 17116 " X12 25 16 88.9(88.5 41
$24293-20-20 1.11/16 " X12 32 20 105.8| 100 50
$24293-24-24 212 38 24 123.2[114.5 60

SAE 2% 3000 PSI 617!

SAE FLANGE 3000 PSI CODE 61

ISO 12151-3-SAE J516
5 rtivies & HOSE BORE JN~) DIMENSIONS
PART NO. FLANGE SIZE| AFkM4DN | #15 DASH L D | L1
$87313-12-12 3/4" 19 12 50 38.1/6.73
587313-16-12 1" 19 12 53 44.4| 8
$87313-16-16 1" 25 16 54 44.4| 8
$87313-20-16 1.1/4" 25 16 59 50.8| 8
$87313-20-20 1.1/4" 32 20 60 50.8| 8
$87313-24-20 1.4/2" 32 20 70 60.3| 8
S87313-24-24 1.1/2" 38 24 70 60.3| 8

$87313-32-24 2" 38 24 67.5 71.4|9.53
$87313-32-32 2" 51 32 64.5 71.4|9.53

45° Z5SAE 2% 3000 PSI 617

45° SAE FLANGE 3000 PSI CODE 61

ISO 12151-3-SAE J516
= PR AR 4 HOSE BORE Jis DIMENSIONS
PART NO. FLANGE SIZE| A% M4DN | #5'5 DASH L | H|D]|L1

S87343-12-12 3/4" 19 12 78 | 28 [38.1(6.73
$87343-16-12 ik 19 12 78 | 28 |44.4| 8
$87343-16-16 q" 25 16 88 [29.4(44.4| 8
$87343-20-16 1.1/4" 25 16 88 [29.4(50.8| 8
$87343-20-20 1.1/4" 32 20 103 [33.8(50.8| 8
$87343-24-20 1.1/2" 32 20 103 [ 33.8(60.3| 8
$87343-24-24 1.1/2" 38 24 118 |40.4(60.3| 8

$87343-32-24 & 38 24 119 | 40.4(71.4|9.53

$87343-32-32 o 51 32 137 |46.3]71.4]9.53

92/ =FRIREREN



®
W) 25 HOSE FITTING  w#tst interlock Fitting Sannke

5 3. 241 HOSE FITTING

®

i Interlock Fitting Sannl(e

S$87393

90° 75 SAE %% 3000 PSI 617!
90° SAE FLANGE 3000 PSI CODE 61

S$87613

S87643

ISO 12151-3-SAE J516
£ V24 g0 & HOSE BORE Jsf DIMENSIONS
PART NO. FLANGE SIZE | AFRN4EDN | 455 DASH L H D | L1
$87393-12-12 3/4" 19 12 69 | 59 [38.1]6.73
$87393-16-12 ik 19 12 69 | 59 [44.4| 8
$87393-16-16 1 25 16 80 | 66 [44.4| 8
$87393-20-16 1.1/4" 25 16 80 | 66 [50.8| 8
$87393-20-20 1.1/4" 32 20 99.5/78.5(/50.8| 8
$87393-24-20 1.1/2" 32 20 99.5(78.5(60.3| 8
$87393-24-24 1.1/2" 38 24 117 | 94 |[60.3| 8
$87393-32-24 2o 38 24 117 | 94 [71.4]9.53
$87393-32-32 2" 51 32 137 | 115 [ 71.4]9.53
SAE 7:226000 PSI 627%¢
SAE FLANGE 6000 PSI CODE 62
ISO 12151-3-SAE J516
g R #% HOSE BORE Ji5I DIMENSIONS
PART NO. FLANGE SIZE| A#NDN | 455 DASH L D L1
$87613-12-12 3/4" 19 12 52.5|41.3 8.76
587613-16-12 ik 19 12 55.5|47.6 9.53
$87613-16-16 1 25 16 58.5|47.6 9.53
$87613-20-16 1.1/4" 25 16 66 | 54 10.29
$87613-20-20 1.1/4" 32 20 67.5| 54 10.29
$87613-24-20 1.1/2" 32 20 76 |63.5 12.57
$87613-24-24 1.1/2" 38 24 77 |63.5 12.57
$87613-32-24 25 38 24 84 |79.4 12.57
$87613-32-32 o 51 32 84 |79.4 12.57
45° 25SAE 2% 6000 PSI 627!
45° SAE FLANGE 6000 PSI CODE 62
ISO 12151-3-SAE J516
g2 RS & HOSE BORE N~ DIMENSIONS
PART NO. FLANGE SIZE| AF{AN4EDN | #5'5 DASH L D H | L1
S87643-12-12 3/4" 19 12 80 |41.3| 31 [8.76
S87643-16-12 1" 19 12 83 [47.6| 33 |9.53
$87643-16-16 1" 25 16 84 |47.6(34.4|9.53
$87643-20-16 1.1/4" 25 16 97 | 54 [37.3[10.29
S87643-20-20 1.1/4" 32 20 110 | 54 |41.5/|10.29
t S87643-24-20 1.1/2" 32 20 114 [63.5|45.1 [12.57
S87643-24-24 1.1/2" 38 24 128 [63.5[50.3(12.57,
S87643-32-24 2" 38 24 133 [79.4| 56 [12.57
$87643-32-32 2" 51 32 153 |79.4|61.9(12.57

93/ =i E R

90° % SAE %% 6000 PSI 627
90° SAE FLANGE 6000 PSI CODE 62

S87693 ISO 12151-3-SAE J516
£ = Pt ihe) % HOSE BORE Ji~) DIMENSIONS
PART NO. FLANGE SIZE| AFXPW4EDN | 455 DASH L D H | L1

$87693-12-12 3/4" 19 12 69 |41.3| 63 [8.76

587693-16-12 ik 19 12 69 |47.6| 66 [9.53

587693-16-16 1" 25 16 76 |47.6| 73 |9.53

587693-20-16 1.1/4" 25 16 76 | 54 | 77 [10.29

$87693-20-20 1.1/4" 32 20 99.5| 54 |89.5(10.29

587693-24-20 1.1/2" 32 20 99.5(63.5[94.5(12.57,

$87693-24-24 1.1/2" 38 24 118 |63.5| 109 [12.57,

$87693-32-24 24 38 24 118 |79.4| 109 [12.57

i $87693-32-32 o 51 32 121 [79.4| 129 |12.57

Vs

SAE % 9000 PSI

S87913 SAE FLANGE 9000 PSI
® B PRt % HOSE BORE JN~t DIMENSIONS

PART NO. FLANGE SIZE| AFx42DN | 45 DASH L D L1

S87913-12-12 3/4" 19 12 58 [41.3 14.3

$87913-16-12 1" 19 12 62.5|47.6 14.3

587913-16-16 1" 25 16 63.5|47.6 14.3

$87913-20-16 1.1/4" 25 16 70.5| 54 14.3

$87913-20-20 1.1/4" 32 20 71.5| 54 14.3

587913-24-20 1.1/2" 32 20 78.5|63.5 14.3

= 587913-24-24 1.1/2" 38 24 79 |63.5 14.3

45° Z5SAE 52 9000 PSI

S$87943 45° SAE FLANGE 9000 PSI
Ko g0 %% HOSE BORE Ji~) DIMENSIONS

PART NO. FLANGE SIZE| AF P4£DN | k55 DASH L D | H | L1

$87943-12-12 3/4" 19 12 80 |41.3| 35 [14.3

$87943-16-12 ik 19 12 81.5|47.6|36.5|14.3

$87943-16-16 1 25 16 93 |47.6| 38 [14.3

587943-20-16 1.1/4" 25 16 95.5| 54 | 40 |14.3

$87943-20-20 1.1/4" 32 20 109 | 54 |44.5(14.3

$87943-24-20 1.1/2" 32 20 111 |63.5|46.5|14.3

$87943-24-24 1.1/2" 38 24 127 |63.5|51.5(14.3

94) =FRIAERM



®

AP 25 HOSE FITTING  mi#tst Interlock Fitting Sannke

90° &SAE £ 9000 PSI

$87993 90° SAE FLANGE 9000 PSI

R = et i) % HOSE BORE JUsJ DIMENSIONS

PART NO. FLANGE SIZE| A®PI4£DN | #55 DASH L | D | H]L1
S87993-12-12 3/4" 19 12 71 |41.3| 69 |14.3
S87993-16-12 1 19 12 71 |47.6| 71 |14.3
S87993-16-16 1 25 16 82 |47.6| 78 |14.3
S87993-20-16 1.1/4" 25 16 82 | 54 | 81 |14.3
S$87993-20-20 11/4" 32 20 99.5| 54 |93.5|14.3
< S87993-24-20 11/2" 32 20 99.5|63.5|96.5|14.3
D S87993-24-24 11/2" 38 24 118 |63.5| 106 | 14.3

ONEEESS

Adapter

95) =i E R 06/ =R IR EREMT



®

P15k ADAPTER /#ipiN-f%3t METRIC Thread Bite Type Tube Fitting Sa nni \E

®

L) ADAPTER 2#iDINEZES METRIC Thread Bite Type Tube Fitting Sa 118 ke

S it =Ar

S1C. S1D [ERLEDR
S1C/RN\ S1D/RN STRAIGHT FITTINGS
(157 124 THREAD ETHME JUs DIMENSIONS =E Ifggﬁ %
= PART NO. T1 T2 D1/D2 | L1 | L2 | L3 | s1 [so/s3|su/¢| (b |1
- S1C-12 M12X1.5 | M12X1.5 06 24 | 10 | 39 | 12 | 14 | 12 | 500
S1C-14 M14X1.5 | M14X1.5 08 25 | 11 | 40 | 14 | 17 | 16 | 500
-1 L) S1C-16 M16X1.5 | M16X1.5 10 27 | 13 | 42 | 17 | 19 | 23 | 500
o A S1C-18 M18X1.5 | M18X1.5 12 28 | 14 | 43 | 19 | 22 | 28 | 400
I—B]_ S1C-22 M22X1.5 | M22X1.5 15 30 | 16 | 46 | 24 | 27 | 51 | 400 |L
\s1 S1C-26 M26X1.5 | M26X1.5 18 31 16 | 48 | 27 | 32 | 69 | 400
S1C-30 M30X2 M30X2 22 35 | 20 | 52 | 32 | 36 | 90 | 250
S1C-36 M36X2 M36X2 28 36 | 21 54 | 41 41 | 137 | 250
" S1C-45 M45X2 M45X2 35 41 | 20 | 63 | 46 | 50 | 214 | 250
S1C-52 M52X2 M52X2 42 43 | 21 | 66 | 55 | 60 | 296 | 250
S1D-14 M14X1.5 | M14X1.5 06 30 | 16 | 45 | 14 | 17 | 26 | 800
S1D-16 M16X1.5 | M16X1.5 08 32 18 | 47 17 | 19 | 37 800
S1D-18 M18X1.5 | M18X1.5 10 32 17 | 49 19 | 22 | 44 800
S1D-20 M20X1.5 | M20X1.5 12 34 | 19 | 51 | 22 | 24 | 60 | 630
S1D-22 M22X1.5 | M22X1.5 14 38 | 22 57 24 | 27 | 77 630 |s
S1D-24 M24X1.5 | M24X1.5 16 38 | 21 | 57 | 27 | 30 | 90 | 630
S1D-30 M30X2 M30X2 20 44 | 23 | 66 | 32 | 36 | 143 | 420
S1D-36 M36X2 M36X2 25 50 | 26 | 74 | 41 46 | 251 | 420
S1D-42 M42X2 M42X2 30 54 | 27 | 80 | 46 | 50 | 330 | 420
S1D-52 M52X2 M52X2 38 61 | 29 | 90 | 55 | 60 | 545 | 420
i, e W R LR BRI BT, WEAEARS A “RN”, WiS1C-30/RN.
A ;,[é Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S1C-30/RN.
S1C9. S1D9 \
90° #5H:k
S1C9/RN. S1D9/RN 90° ELBOW FITTINGS
5 124 THREAD 4ME | sl DIMENSIONS R | TEEN %
- PART NO. T4 T2 D1/D2 |L1/L2]13/L4[11/12] s1 [s2/s3|ve/fk| (bar) |51
S1C9-12 M12X1.5 | M12X1.5 06 19 | 27 | 12 | 12 | 14 | 29 | 500
pR— S1C9-14 M14X1.5 | M14X1.5 08 21 | 29 | 14 | 12 | 17 | 43 | 500
T = S1C9-16 M16X1.5 | M16X1.5 10 22 | 30 | 15 | 14 | 19 | 54 | 500
| S1C9-18 M18X1.5 | M18X1.5 12 24 | 32 | 17 | 17 | 22 | 80 | 400
B I S1C9-22 M22X1.5 | M22X1.5 15 28 | 36 | 21 19 | 27 | 81 | 400 L
1 i 51 S1C9-26 M26X1.5 | M26X1.5 18 31 | 40 |23.5| 24 | 32 | 140 | 400
foe LT ] S1C9-30 M30X2 M30X2 22 35 | 44 |27.5| 27 | 36 | 178 | 250
i S1C9-36 M36X2 M36X2 28 38 | 47 |30.5| 36 | 41 | 340 | 250
T- S1C9-45 M45X2 M45X2 35 45 | 56 [34.5| 41 50 | 458 | 250
L S1C9-52 M52X2 M52X2 42 51 | 63 | 40 | 50 | 60 | 776 | 250
s [ S1D9-14 M14X1.5 | M14X1.5 06 23 | 31 16 | 12 | 17 | 52 | 800
2 S1D9-16 M16X1.5 | M16X1.5 08 24 | 32 | 17 | 14 | 19 | 74 | 800
. b S1D9-18 M18X1.5 | M18X1.5 10 25 | 34 |17.5] 17 | 22 | 97 | 800
él-l—— = IJ/ - S1D9-20 M20X1.5 | M20X1.5 12 29 | 38 |21.5| 17 | 24 | 137 | 630
' P S1D9-22 M22X1.5 | M22X1.5 14 30 | 40 | 22 | 19 | 27 | 145 | 630 S
=5 S1D9-24 M24X1.5 | M24X1.5 16 33 | 43 |24.5| 24 | 30 | 162 | 630
S1D9-30 M30X2 M30X2 20 37 | 48 |26.5| 27 | 36 | 221 | 420
S1D9-36 M36X2 M36X2 25 42 | 54 | 30 | 36 | 46 | 424 | 420
S1D9-42 M42X2 M42X2 30 49 | 62 |35.5| 41 | 50 | 603 | 420
S1D9-52 M52X2 M52X2 38 57 | 72 | 41 | 50 | 60 [1010| 420
TE: Y R REIRB TR, WETEARS )5 “RN” , n1S1C9-30/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S1C9-30/RN.

97 ZRRIREREN

S1C-Y. S1D-Y
S1C-Y/RN, S1D-Y/RN

SAC. SAD
SAC/RN. SAD/RN

L2

!
L1

[ A A e Sk
CYLINDER STRAIGHT BULKHEAD
RE 124 THREAD ETIME JUs DIMENSIONS i, Ig’EEj} =
PART NO. T1 T2 D1 | D2 | D L1 | L2 | S1 | S2 vo/ff| (bar) |5
S1C-12Y | M12X1.5 | M12X1.5 | 06 | 06 | 18 | 56 | 85 | 14 | 14 103 | 500
S1C-14Y | M14X1.5 | M14X1.5 | 08 | 08 | 20 | 56 | 85 | 17 | 17 121 | 500
S1C-16Y | M16X1.5 | M16X1.5 10 10 22 58 87 19 19 142 | 500
S1C-18Y | M18X1.5 | M18X1.5 | 12 | 12 | 25 | 58 | 87 | 22 | 22 176 | 400
S1C-22Y | M22X1.5 | M22X1.5 15 15 28 70 | 100 | 27 27 262 | 400 L
S1C-26Y | M26X1.5 | M26X1.5 | 18 | 18 | 32 | 69 | 101 | 32 | 32 333 | 400
S1C-30Y | M30X2 M30X2 22 | 22 | 36 | 73 | 105| 36 | 36 394 | 250 E
S1C-36Y | M36X2 M36X2 28 | 28 | 40 | 73 | 106 | 41 | 41 448 | 250
S1C-45Y | M45X2 M45X2 35| 35 | 50 | 71 | 114 | 50 | 50 713 | 250
S1C-52Y | M52X2 M52X2 42 | 42 | 60 | 70 | 115 | 60 | 60 997 | 250
S1D-14Y | M14X1.5 | M14X1.5 | 06 | 06 | 20 | 60 | 89 | 17 | 17 135 | 800
S1D-16Y | M16X1.5 | M16X1.5 | 08 | 08 | 22 | 60 | 89 | 19 | 19 163 | 800
S1D-18Y | M18X1.5 | M18X1.5 | 10 | 10 | 25 | 59 | 91 | 22 | 22 201 | 800
S1D-20Y | M20X1.5 | M20X1.5 | 12 | 12 | 28 | 59 | 91 | 24 | 24 249 | 630 45
S1D-22Y | M22X1.5 | M22X1.5 14 14 30 72 | 107 | 27 27 337 | 630 S E
S1D-24Y | M24X1.5 | M24X1.5 | 16 | 16 | 35 | 71 | 107 | 30 | 30 441 | 630 X
S1D-30Y | M30X2 M30X2 20 | 20 | 38 | 71 | 114 | 36 | 36 509 | 420
S1D-36Y | M36X2 M36X2 25 | 25 | 45 | 72 | 120 | 46 | 46 720 | 420
S1D-42Y | M42X2 M42X2 30 | 30 | 50 | 73 [ 126 | 50 | 50 873 | 420
S1D-52Y | M52X2 M52X2 38 | 38 | 60 | 72 [ 133 | 60 | 60 1248| 420
e WA R R REBR B E, WEERS E I “RN” , W1S1C-30Y/RN,
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example S1C-30Y/RN.

ESTEISS
EQUAL TEES
5 124 THREAD ETHME JUs} DIMENSIONS EE | TEEN =
PART NO. T1/T2/T3 D1/D2/D3 L1 | L2 | L3 | S1| S2 so/fF| (bar) | %1
SAC-12 M12X1.5 06 19| 12| 27 | 12| 14 37 | 500
SAC-14 M14X1.5 08 21| 14 | 29 | 12| 17 53 | 500
SAC-16 M16X1.5 10 22 | 15| 30 | 14| 19 48 | 500
SAC-18 M18X1.5 12 24 | 17 | 32 | 17 | 22 65 | 400
SAC-22 M22X1.5 15 28 | 21| 36 | 19| 27 106 | 400 L
SAC-26 M26X1.5 18 31 |23.5| 40 | 24 | 32 179 | 400
SAC-30 M30X2 22 35 | 27.5| 44 | 27 | 36 225 | 250
SAC-36 M36X2 28 38 | 30.5| 47 | 36 | 41 396 | 250
SAC-45 M45X2 35 45 | 34.5| 56 | 41 | 50 567 | 250
SAC-52 M52X2 42 51| 40 | 63 | 50| 60 905 | 250
SAD-14 M14X1.5 06 23 | 16 | 31 12 | 17 68 | 800
SAD-16 M16X1.5 08 24 | 17 | 32 | 14| 19 70 | 800
SAD-18 M18X1.5 10 25 |17.5| 34 | 17 | 22 91 | 800
SAD-20 M20X1.5 12 29 |21.5| 38 | 17 | 24 117 | 630
SAD-22 M22X1.5 14 30| 22| 40 | 19| 27 136 | 620 S
SAD-24 M24X1.5 16 33 |24.5| 43 | 24| 30 202 | 630
SAD-30 M30X2 20 37 | 26.5| 48 | 27 | 36 289 | 420
SAD-36 M36X2 25 42 | 30 | 54 | 36| 46 545 | 420
SAD-42 M42X2 30 49 | 35.5| 62 | 41| 50 758 | 420
SAD-52 M52X2 38 57 | 41 | 72 | 50| 60 1264| 420
e W RE L RERAPEEITS, WEHEASEN “BN” , WSAC-30/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example SAC-30/RN.

98/ =FRIREREN



L% %) ADAPTER A#IDINEZER METRIC Thread Bite Type Tube Fitting Sa nn k

®

e

®

it P ) ADAPTER Zs#iDIN+25t METRIC Thread Bite Type Tube Fitting Sannke

S it A

SXC. SXD —
SXC/RN. SXD/RN CROSS FITTINGS
" 5 124 THREAD| %514z Ji~) DIMENSIONS i Iﬁ;m %
IIj’ PART NO. | T1/T2/T3/T4 |D1/D2/D3/D4| L1 | L2 | L8 | S1 | S2 se/fF| (bar) | %1
ey SXC-12 M12X1.5 06 19 | 12 | 27 | 12 | 14 35 | 315
SXC-14 M14X1.5 08 21 | 14 | 29 | 12 | 17 40 | 315
SXC-16 M16X1.5 10 22 | 15 | 30 | 14 | 19 52 | 315
= p SXC-18 M18X1.5 12 24 | 17 | 32 | 17 | 22 69 | 315
- SXC-22 M22X1.5 15 28 | 21 | 36 | 19 | 27 130 | 315 | L
| SXC-26 M26X1.5 18 31 [23.5| 40 | 24 | 32 188 | 315
s | SXC-30 M30X2 22 35 |27.5| 44 | 27 | 36 251 | 160
- SXC-36 M36X2 28 38 [30.5| 47 | 36 | 41 392 | 160
] SXC-45 M45X2 35 45 |34.5| 56 | 41 | 50 618 | 160
' SXC-52 M52X2 42 51 | 40 | 63 | 50 | 60 905 | 160
— 3 SXD-14 M14X1.5 06 23 | 16 | 31 | 12 | 17 58 | 630
§—-+-H sewesnan SXD-16 M16X1.5 08 24 | 17 | 32 | 14 | 19 82 | 630
] == SXD-18 M18X1.5 10 25 |17.5| 34 | 17 | 22 97 | 630
(1']) SXD-20 | M20X1.5 12 29 |21.5] 38 | 17 | 24 146 [ 630
-l SXD-22 M22X1.5 14 30 | 22 | 40 | 19 | 27 176 | 400 | S
EX SXD-24 M24X1.5 16 33 [24.5| 43 | 24 | 30 220 | 400
SXD-30 M30X2 20 37 |26.5| 48 | 27 | 36 339 | 315
SXD-36 M36X2 25 42 | 30 | 54 | 36 | 46 576 | 315
SXD-42 M42X2 30 49 |35.5| 62 | 41 | 50 843 | 315
SXD-52 M52X2 38 57 | 41 | 72 | 50 | 60 1350| 315
e W R LRSI BT, WEAEACSJE I “RN”, WISXC-30/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example SXC-30/RN.

S6C-LN. S6D-LN PL AR L
S6C-LN/RN. S6D-LN/RN STRAIGHT BULKHEAD FITTINGS
fo 124 THREAD HroME JsJ DIMENSIONS T | TR N &
PARTNO.| Ti T2 D1 | D2 |L1|L2|L3| L4 |L5|L6|ST|S2|s3/s| /1| (bar) |5

u w5 S6C-12LN | M12X1.5 |[M12X1.5| 06 | 06 |14 | 7 | 34|27 |22|42|17|17|14| 39 | 500

= =l S6C-14LN | M14X1.5 |[M14X1.5| 08 | 08 |15| 8 | 34|27 |23|42|19|19|17| 50 | 500

e S6C-16LN | M16X1.5 |M16X1.5| 10 | 10 |17 |10 | 35|28 | 25|43 | 22|22 (19| 67 | 500

1 I S6C-18LN | M18X1.5 [M18X1.5| 12 | 12 |17 |10 | 36|29 | 25|44 | 24|24 |22 | 78 | 400
ik i i °J $6C-22LN | M22X1.5 |M22X1.5| 15 | 15 | 19| 1213831 |27 4627|3027 | 128 400 |

J S6C-26LN | M26X1.5 |M26X1.5| 18 | 18 |21 [13.5( 40(32.5/ 30 |49 | 32|36 | 32| 198 | 400

S6C-30LN | M30X2
S6C-36LN | M36X2

M30X2 | 22 22 | 24 |16.5| 42|34.5/ 33 | 51| 36|41 |36 | 254 | 250
M36X2 | 28 28 | 26 |18.5| 43355/ 35|52 | 41|46 | 41| 335 | 250
S6C-45LN | M45X2 | M45X2 | 35 35 |29 (18.5| 47|36.5| 40 | 58 | 50 | 55 | 50 | 546 | 250
S6C-52LN | M52X2 | M52X2 | 42 42 | 30|19 |47|36|42|59|60|65|60| 758 | 250
S6D-14LN | M14X1.5 |[M14X1.5| 06 06 [19|12|36|29|27|44|19|19|17| 65 | 900
S6D-16LN | M16X1.5 |[M16X1.5| 08 08 |20|13 (36|29 |28 |44|22|22|19| 87 | 900
S6D-18LN | M18X1.5 |[M18X1.5| 10 10 |22 |14.5)/ 37 (29.5/ 31|46 |24 |24 | 22| 112 | 900
S6D-20LN | M20X1.5 | M20X1.5| 12 12 | 22 |14.5| 38 (30.5| 31 | 47| 27|27 |24 | 141 | 900
S6D-22LN | M22X1.5 |[M22X1.5| 14 14 | 25|17 | 40|32 |35|50|30|30|27|180 | 700
S6D-24LN | M24X1.5 |M24X1.5| 16 16 | 25 |16.5/ 40 (31.5/ 35| 50| 32|32 | 30 | 201 | 630
S6D-30LN | M30X2 | M30X2 | 20 20 | 28(17.5| 44|33.5/ 39 | 55| 41|41 |36 | 462 | 630
S6D-36LN | M36X2 | M36X2 | 25 25 | 32|20 |47|35|44|59|46 |46 |46 | 492 | 630
S6D-42LN | M42X2 | M42X2 | 30 30 | 3521.5| 51|37.5/48 | 64| 50|50 | 50 | 631 | 420
S6D-52LN | M52X2 | M52X2 | 38 38 | 38|22 |53|37|53|68|65|65|60|1083| 420
e WA R E AR BRI, AT A “RN” . 6C-30LN/RN;

Note: order the adapter with cutting ring and nut ,insert suffix " RN " after part NO ,

for example 6C-30LN/RN

99 =R IREREA

S6C9-LN. S6D9-LN
S6C9-LN/RN S6D9-LN/RN

90° 75 i A Sk
90° ELBOW BULKHEAD FITTINGS

R #24 THREAD BT Jis+ DIMENSIONS 8| TR =
PARTNO.| Ti T2 |Di|D2[Da|L1] 2|3 a5 6] L7 [s1]s2]sys|/ft| (bar |3y

S6C9-12LN | M12X1.5|M12X1.5/ 06 | 06 | 17 |19 | 12 | 14 | 27 |48 |27 |42 | 12|17 | 14| 51 | 315
S6C9-14LN | M14X1.5|M14X1.5/ 08 | 08 | 19| 21 | 14 | 17| 27 | 51 |29 | 42| 12|19 |17 | 61 | 315
S6C9-16LN | M16X1.5|M16X1.5/ 10| 10 | 22|22 | 15| 18| 28 |53 |30 |43 | 14|22 | 19| 78 | 315
S6C9-18LN | M18X1.5|M18X1.5| 12 | 12 | 24 | 24 | 17 | 20| 29 | 56 | 32 | 44 | 17 | 24 | 22| 85 | 315
86C9-22LN | M22X1.5|M22X1.5| 15| 15|27 |28 | 21 | 23| 31 |61 | 36| 46| 19|30 |27 |150| 315
S6C9-26LN | M26X1.5|M26X1.5| 18 | 18 | 32 | 31 |23.5| 24 |32.5| 64 | 40 | 49 | 24 | 36 | 32 | 238 | 315
S6C9-30LN | M30X2 | M30X2 | 22 | 22 | 36 | 35 |27.5| 30 |34.5| 72 | 44 | 51| 27 | 41 | 36 | 327 | 160 E
S6C9-36LN | M36X2 | M36X2 | 28 | 28 | 42 | 38 |30.5| 34 |35.5| 77 | 47 | 52 | 36 | 46 | 41 | 482 | 160
S6C9-45LN | M45X2 | M45X2 | 35| 35 | 50 | 45 |34.5| 39 |36.5| 86 | 56 | 58 | 41 | 55 | 50 | 729 | 160
S6C9-52LN | M52X2 | M52X2 | 42 | 42 | 60 | 51 | 40 | 43|36 | 90 | 63 | 59 | 50 | 65 | 60 1091 160
S6D9-14LN | M14X1.5|M14X1.5/ 06 | 06 | 19|23 | 16 | 17| 29 | 53 | 31 | 44| 12|19 | 17| 72 | 630
S6D9-16LN | M16X1.5|M16X1.5| 08 | 08 | 22 | 24 | 17 | 18| 29 | 54 | 32 | 44 | 14 | 22| 19| 99 | 630
S6D9-18LN | M18X1.5|M18X1.5| 10 | 10 | 24 | 25 |17.5| 20 |29.5| 57 | 34 | 46 | 17 | 24 | 22| 128 | 630
S6D9-20LN | M20X1.5|M20X1.5| 12 | 12 | 27 | 29 |21.5| 21 |30.5| 59 | 38 | 47 | 17 | 27 | 24 | 168 | 630
S6D9-22LN | M22X1.5|M22X1.5| 14 | 14 |27 | 30| 22 | 23| 32 |63 | 40| 50| 19| 30|27 |194| 630
S6D9-24LN | M24X1.5|M24X1.5| 16 | 16 | 30 | 33 |24.5| 24 |31.5| 64 | 43 | 50 | 24 | 32 | 30 | 249 | 400
S6D9-30LN | M30X2 | M30X2 | 20 | 20 | 36 | 37 |26.5| 30 (33.5| 74 | 48 | 55 | 27 | 41 | 36 | 390 | 400
S6D9-36LN | M36X2 | M36X2 | 25|25 | 42| 42| 30 | 34| 35|81 |54 |59 | 36|46 |46 |618| 400
S6D9-42LN | M42X2 | M42X2 | 30 | 30 | 50 | 49 |35.5| 39 |37.5| 90 | 62 | 64 | 41 | 50 | 50 | 889 | 500
S6D9-52LN | M52X2 | M52X2 | 38 | 38 | 60 | 57 | 41 | 43| 37 | 96 | 72 | 68 | 50 | 65 | 60 |1337| 315
e Wil R E L REBEATY, A5 EN “RN” . 16C9-30LN/RN;

Note: order the adapter with cutting ring and nut ,insert suffix " RN " after part

NO ,for example 6C9-30LN/RN

SE ik A

S2C-W. S2D-W HMRE AR ez Sk
S2C-W/RN. S2D-W/RN REDUCER TUBE ADAPTOR WITH SWIVEL NUT
5 240 THREAD EFIME JUs] DIMENSIONS Ea I?/E | %
O © - B PART NO. T1 T2 D1/D2 L1 | L2 | L3 | s1 |sz/s3|se/fF| (bar) |4
T . S S2C-12W M12X1.5 | M12X1.5 06 36 | 43 | 51 12 | 14 | 33 | 500
S2C-14W M14X1.5 | M14X1.5 08 36 | 43 | 51 14 | 17 | 46 | 500
S2C-16W M16X1.5 | M16X1.5 10 36 | 43 | 51 17 | 19 | 60 | 500
S2C-18W M18X1.5 | M18X1.5 12 36 | 43 | 51 19 | 22 | 75 | 400
S2C-22W M22X1.5 | M22X1.5 15 36 | 43 | 51 24 | 27 | 118 | 400 L
S2C-26W M26X1.5 | M26X1.5 18 36 |43.5| 52 | 27 | 32 | 153 | 400
S2C-30W M30X2 M30X2 22 40 |47.5| 56 | 32 | 36 | 210 | 250
S2C-36W M36X2 M36X2 28 40 |47.5| 57 | 41 41 | 279 | 250
S2C-45W M45X2 M45X2 35 50 |60.5| 72 | 46 | 50 | 468 | 250
S2C-52W M52X2 M52X2 42 60 | 71 | 83 | 55 | 60 | 802 | 250
S2D-14W M14X1.5 | M14X1.5 06 36 | 43 | 51 14 | 17 | 48 800
S2D-16W M16X1.5 | M16X1.5 08 36 | 43 | 51 17 | 19 | 64 | 800
S2D-18W M18X1.5 | M18X1.5 10 36 |43.5| 52 19 | 22 | 81 800
S2D-20W M20X1.5 | M20X1.5 12 36 |43.5| 52 | 22 | 24 | 97 | 630
S2D-22W M22X1.5 | M22X1.5 14 40 | 48 | 58 | 24 | 27 | 133 | 630 S
S2D-24W M24X1.5 | M24X1.5 16 40 [48.5| 58 | 27 | 30 | 166 | 630
S2D-30W M30X2 M30X2 20 46 |56.5| 68 | 32 | 36 | 265 | 420
S2D-36W M36X2 M36X2 25 50 | 62 | 74 | 41 | 46 | 466 | 420
S2D-42W M42X2 M42X2 30 56 |69.5| 83 46 | 50 | 601 | 420
S2D-52W M52X2 M52X2 38 60 | 76 | 91 | 55 | 60 | 871 | 420
T Wt R R R B, WEEACS S “RN”, 11S2C-30/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S2C-30/RN.

100/ =f o iR



P15k ADAPTER /#ipiN-f%3t METRIC Thread Bite Type Tube Fitting Sa nni \E

®

L) ADAPTER 2#iDINEZES METRIC Thread Bite Type Tube Fitting Sa NN ke

S it =Ar

S$2C4-W. S2D4-W

45° T5HMRAT NIRSUR Ak

SZC4_W/RN\ SZD4_W/RN 45° ELBOW REDUCER TUBE ADAPTOR WITH SWIVEL NUT
R 1240 THREAD H¥4ME TUBE O.D JUs) DIMENSIONS | & & I?’EEJJ %=
2 PART NO. T1 T2 D1 D2 | L1 | L2 | L3 | S1 |S52/83 |me/fF bar) |4
= S2C4-12W | M12X1.5| M12X1.5 06 9 16 | 26 | 24 | 14 14 37 500
> 5 S2C4-14W | M14X1.5| M14X1.5 08 12 19 |27.5| 27 | 14 | 17 49 500
g S2C4-16W | M16X1.5 | M16X1.5 10 12 19 |29 | 27 | 19 | 19 77 500
sl { 'k S2C4-18W | M18X1.5 | M18X1.5 12 14 21 [29.5| 29 | 19 | 22 86 400
. (L S2C4-22W | M22X1.5 | M22X1.5 15 17 24 |32.5| 32 | 22 | 27 | 144 400 L
= S2C4-26W | M26X1.5 | M26X1.5 18 16.5 | 24 |35.5| 33| 27 | 32 | 210 400
B S2C4-30W | M30X2 | M30X2 22 18.5 | 26 |38.5| 35| 30 | 36 | 270 250
S2C4-36W | M36X2 | M36X2 28 23 |30.5|41.5| 40 | 36 | 41 | 385 250
S2C4-45W | M45X2 | M45X2 35 26.5 | 37 | 51 | 48 | 50 | 50 | 805 250
S2C4-52W | M52X2 | M52X2 42 26 37 | 56 | 49 | 50 | 60 | 887 250
S2D4-14W | M14X1.5| M14X1.5 06 9 16 | 27 | 24 | 14 17 50 800
S2D4-16W | M16X1.5 | M16X1.5 08 12 19 |27.5| 27 | 19 | 19 80 800
S2D4-18W | M18X1.5| M18X1.5 10 13.5 21 | 30 | 30 | 19 22 95 800
S2D4-20W | M20X1.5 | M20X1.5 12 16.5 24 | 31 | 33 | 22 24 137 630
S2D4-24W | M24X1.5 | M24X1.5 16 15.5 24 |36.5| 34 | 27 30 217 630 s
S2D4-30W | M30X2 | M30X2 20 16 |26.5(44.5| 38 | 30 | 36 | 313 420
S2D4-36W | M36X2 | M36X2 25 18.5 |30.5| 50 | 43| 36 | 46 | 529 420
S2D4-42W | M42X2 | M42X2 30 23.5 | 37 |55 | 50 | 50 | 50 | 940 420
[ - S2D4-52W | M52X2 | M52X2 38 21 37 |63 | 52| 50 | 60 |1055 420
T W R LRI, WSS S “RN” . 1S2C4-30W/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S2C4-30W/RN.

S2C9-W | S2D9-W 90° 5 AN AL AL e )

$2C9-W/RN, S2D9-W/RN 90° ELBOW REDUCER TUBE ADAPTOR WITH SWIVEL NUT
= 5 124 THREAD AN JX-| DIMENSIONS C I?’EEJJ A
i PART NO. T1 T2 D1/D2 | L1 | L2 [ L3 | L4 | S1 [sa/sa|se/fF| (ban) |51
e S2C9-12W M12X1.5|M12X1.5 06 19 12 26 27 12 14 34 500
! 0 | S2C9-14W M14X1.5/M14X1.5 08 21 14 (27.5| 29 12 17 | 43 500
— S2C9-16W  |[M16X1.5|M16X1.5 10 22 | 15 | 29 | 30 | 14 | 19 | 58 | 500
I*— I—I_—jf/ S2C9-18W M18X1.5|M18X1.5 12 24 17 (29.5| 32 17 | 22 81 400
1k S2C9-22W M22X1.5|M22X1.5 15 28 21 |32.5| 36 19 | 27 | 128 | 400 L
L S2C9-26W  |[M26X1.5|M26X1.5 18 31 |23.5|35.5| 40 | 24 | 32 | 197 | 400
o S2C9-30W M30X2 | M30X2 22 35 |27.5|38.5| 44 27 | 36 | 258 | 250
2 S2C9-36W M36X2 | M36X2 28 38 [30.5|41.5| 47 | 36 | 41 | 370 | 250
‘T S2C9-45W M45X2 | M45X2 35 45 | 34.5| 51 56 41 50 | 593 | 250
S2C9-52W M52X2 | M52X2 42 51 | 40 | 56 | 63 | 50 | 60 | 993 | 250
S2D9-14W M14X1.5|M14X1.5 06 23 | 16 | 27 | 31 12 | 17 | 48 | 800
S2D9-16W  |[M16X1.5|M16X1.5 08 24 | 17 |27.5| 32 | 14 | 19 | 65 | 800
S2D9-18W  |[M18X1.5|M18X1.5 10 25 |17.5| 30 | 34 | 17 | 22 | 92 | 800
S2D9-20W  |M20X1.5|M20X1.5 12 29 [21.5| 31 | 38 | 17 | 24 | 107 | 630
S2D9-22W M22X1.5|M22X1.5 14 30 22 35 40 19 | 27 | 146 | 630 S
S2D9-24W  |M24X1.5|M24X1.5 16 33 |24.5|36.5| 43 | 24 | 30 | 212 | 630
S2D9-30W M30X2 | M30X2 20 37 |26.5|44.5| 48 | 27 | 36 | 309 | 420
S2D9-36W M36X2 | M36X2 25 42 | 30 | 50 | 54 | 36 | 46 | 547 | 420
S2D9-42W M42X2 | M42X2 30 49 |35.5| 55 62 41 50 | 744 | 420
S2D9-52W M52X2 | M52X2 38 57 41 63 72 50 | 60 [1222| 420
Y WFEHRE RIS, WRETEAS S “RN” . 11S2C9-30W/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, it is
necessary to insert suffix “RN” after our part NO., for example S2C9-30W/RN.

101/ =M & s

R

A

SBC-W. SBD-W
SBC-W/RN, SBD-W/RN

2

L aE Rk

STRAIGHT TUBE ADAPTERS WITH SWIVEL NUT

RE 124t THREAD | & 14Me Jis+ DIMENSIONS EE | TEEH| R

PART NO. T1 T2 D1/D2 | L1 | L2 |S1/S2 sa/fE| | F
S3C-12wW M12X1.5|M12X1.5| 06 32 | 33 | 14 28 | 500
S3C-14W M14X1.5|M14X1.5| 08 32 | 33 | 17 41 | 500
S3C-16W M16X1.5|M16X1.5| 10 33 | 34 | 19 53 | 500
S3C-18W M18X1.5|M18X1.5| 12 33 | 34 | 22 71 | 400

S3C-22W M22X1.5|M22X1.5| 15 38 | 39 | 27 129 | 400 |
S3C-26W M26X1.5|M26X1.5| 18 38 | 40 | 32 165 | 400
S3C-30W M30X2 | M30X2 22 42 | 44 | 36 243 | 250
S3C-36W M36X2 | M36X2 28 46 | 48 | 41 319 | 250
S3C-45W M45X2 | M45X2 35 48 | 52 | 50 449 | 250
S3C-52W M52X2 | M52X2 42 52 | 57 | 60 737 | 250
S3D-14W M14X1.5|M14X1.5| 06 32 | 33 | 17 41 | 800
S3D-16W M16X1.5|M16X1.5| 08 33 | 34 | 19 54 | 800
S3D-18W M18X1.5|M18X1.5| 10 33 | 35 | 22 74 | 800
S3D-20W M20X1.5|M20X1.5| 12 36 | 38 | 24 95 | 630

S3D-22W M22X1.5|M22X1.5| 14 39 | 41 | 27 131 630 |
S3D-24W M24X1.5|M24X1.5| 16 39 | 42 | 30 172 | 630
S3D-30W M30X2 | M30X2 20 44 | 48 | 36 261 | 420
S3D-36W M36X2 | M36X2 25 46 | 53 | 46 477 | 420
S3D-42W M42X2 | M42X2 30 52 | 62 | 50 605 | 420
S3D-52W M52X2 | M52X2 38 52 | 67 | 60 826 | 420

F )3t P MR S 2 A = sk

BRANCH TEE FITTINGS WITH SWIVEL NUT

1187 B4 THREAD ETIME JUsI DIMENSIONS =5 | ThREN &

PART NO. T1/T3 T2 DID3| D2 | L1 | L2 | L3 | L4 | s1 | s2 |su/¢| (ban) |
SBC-12W| M12X1.5 | M12X1.5 | 06 | 06 | 19 | 12 | 26 | 27 | 12 | 14 | 42 | 500
SBC-14W| M14X1.5 | M14X1.5 | 08 | 08 | 21 | 14 |27.5| 29 | 12 | 17 | 53 | 500
SBC-16W| M16X1.5 | M16X1.5 | 10 | 10 | 22 | 15 | 29 | 30 | 14 | 19 | 71 | 500
SBC-18W| M18X1.5 | M18X1.5 | 12 | 12 | 24 | 17 |29.5| 32 | 17 | 22 | 97 | 400

SBC-22W| M22X1.5 | M22X1.5 | 15 | 15 | 28 | 21 |32.5| 36 | 19 | 27 | 159 | 400 |
SBC-26W| M26X1.5 | M26X1.5 | 18 | 18 | 31 |23.5(35.5| 40 | 24 | 32 [ 239 | 400
SBC-30W| M30X2 M30X2 | 22 | 22 | 35 |27.5|38.5| 44 | 27 | 36 | 308 | 250
SBC-36W| M36X2 M36X2 | 28 | 28 | 38 [30.5|41.5| 47 | 36 | 41 | 449 | 250
SBC-45W| M45X2 M45X2 | 35 | 35 | 45 |34.5| 51 | 56 | 41 | 50 | 679 | 250
SBC-52W| M52X2 M52X2 | 42 | 42 | 51 | 40 | 56 | 63 | 50 | 60 |1131| 250
SBD-14W| M14X1.5 | M14X1.5| 06 | 06 | 23 | 16 | 27 | 31 | 12 | 17 | 63 | 800
SBD-16W| M16X1.5 | M16X1.5 | 08 | 08 | 24 | 17 |27.5| 32 | 14 | 19 | 79 | 800
SBD-18W| M18X1.5 | M18X1.5 | 10 | 10 | 25 |17.5| 30 | 34 | 17 | 22 [113| 800
SBD-20W| M20X1.5 | M20X1.5 | 12 | 12 | 29 |21.5| 31 | 38 | 17 | 24 [ 136| 630

SBD-22W| M22X1.5 | M22X1.5 | 14 | 14 | 30 | 22 | 35 | 40 | 19 | 27 | 173 630 |
SBD-24W| M24X1.5 | M24X1.5 | 16 | 16 | 33 |24.5(36.5| 43 | 24 | 30 | 239 | 630
SBD-30W| M30X2 M30X2 | 20 | 20 | 37 |26.5|44.5| 48 | 27 | 36 | 388 | 420
SBD-36W| M36X2 M36X2 | 25 | 25 | 42 | 30 | 50 | 54 | 36 | 46 | 652 | 420
SBD-42W| M42X2 M42X2 | 30 | 30 | 49 [35.5| 55 | 62 | 41 | 50 | 905 | 420
SBD-52W| M52X2 M52X2 | 38 | 38 | 57 | 41 | 60 | 72 | 50 | 60 |1462| 420

e T RE RSB T, WEEEMR S “RN” , iSBC-30W/RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis

necessary to insert suffix “RN” after our part NO., for example SBC-30W/RN.

102/ =R A1

SE ik oA



®
1L P84 ) ADAPTER /Aspinzst METRIC Thread Bite Type Tube Fitting Sannke

J\j:

®

P52 ADAPTER Z#iDINE%3t METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

SCC-W, SCD-W
SCC-W/RN, SCD-W/RN

WIRS S il ek
RUN TEE FITTINGS WITH SWIVEL NUT

s 124 THREAD ETiE JUs) DIMENSIONS R (TEEN R
PART NO. T1/T2 T3 D1/D2 D3 L1 [ L2 L3 | L4 [ s1 ] s2 |5/t (ba) |51
SCC-12W | M12X1.5 | M12X1.5 06 06 19 | 12 | 26 | 27 | 12 | 14 | 42 | 500
SCC-14W | M14X1.5 | M14X1.5 08 08 21 | 14 |27.5| 29 | 12 | 17 | 53 | 500
SCC-16W | M16X1.5 | M16X1.5 10 10 22 115|129 | 30 | 14 | 19 | 71 | 500
SCC-18W | M18X1.5 | M18X1.5 12 12 24 | 17 |29.5| 32 | 17 | 22 | 97 | 400
SCC-22W | M22X1.5 | M22X1.5 15 15 28 | 21 |32.5| 36 | 19 | 27 | 159 | 400 L
SCC-26W | M26X1.5 | M26X1.5 18 18 31 [23.5|/35.5| 40 | 24 | 32 | 239 | 400
SCC-30W | M30X2 M30X2 22 22 35 |27.5|38.5| 44 | 27 | 36 | 308 | 250
SCC-36W | M36X2 M36X2 28 28 38 [30.5|/41.5| 47 | 36 | 41 | 449 | 250
SCC-45W | M45X2 M45X2 35 35 45 |34.5| 51 | 56 | 41 | 50 | 679 | 250
SCC-52W | M52X2 M52X2 42 42 51 | 40 | 56 | 63 | 50 | 60 [1131] 250
SCD-14W | M14X1.5 | M14X1.5 06 06 23 | 16 | 27 | 31 12 | 17 | 63 | 800
SCD-16W | M16X1.5 | M16X1.5 08 08 24 | 17 |27.5| 32 | 14 | 19 | 79 | 800
SCD-18W | M18X1.5 | M18X1.5 10 10 25 |17.5| 30 | 34 | 17 | 22 | 113 | 800
SCD-20W | M20X1.5 | M20X1.5 12 12 29 |21.5| 31 | 38 | 17 | 24 | 136 | 630
SCD-22W | M22X1.5 | M22X1.5 14 14 30 | 22 | 35 | 40 | 19 | 27 | 173 | 630 s
SCD-24W | M24X1.5 | M24X1.5 16 16 33 |24.5|36.5| 43 | 24 | 30 | 239 | 630
SCD-30W | M30X2 M30X2 20 20 37 |26.5|/44.5| 48 | 27 | 36 | 388 | 420
SCD-36W | M36X2 M36X2 25 25 42 | 30 | 50 | 54 | 36 | 46 | 652|420
SCD-42W | M42X2 M42X2 30 30 49 |35.5| 55 | 62 | 41 | 50 | 905 | 420
SCD-52W | M52X2 M52X2 38 38 57 | 41 | 60 | 72 | 50 | 60 [1462| 420

e W R R R RIR A, WHETERS 5 “RN” . lnSCC-30W/RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis

necessary to insert suffix “RN” after our part NO., for example SCC-30W/RN.

103/ = #m A iE 1t

S1CB. S1DB

e gt

oD1

GO IRAL60° HE R daf ml 21 A B At AT
S1CB/RN\ S1DB/RN BSP THREAD 60° CONE SEALING
o 124 THREAD  |&T-4Mz JX DIMENSIONS R TREN &
L PART NO. T T2 D1 L1 | L2 [ L3 | L4 [ s1 [ s2 |w/tF (ban |z
”i L S1CB-12-02 | M12X1.5 | G1/8"X28 06 25 | 10| 8 | 23 | 14 | 14 | 12 | 500
S1CB-12-04 | M12X1.5| G1/4'X19 | 06 28 | 12 | 11 | 24 | 19 | 14 | 28 | 500
] S1CB-14-02 | M14X1.5 | G1/8'X28 | 08 25 | 10| 8 | 23 | 14 | 17 | 16 | 500
T =1+ S1CB-14-04 | M14X1.5 | G1/4'X19 | 08 28 | 12 | 11 | 24 | 19 | 17 | 27 | 500
S1CB-14-06 | M14X1.5| G3/8'X19 | 08 [29.5/13.5| 12 | 24 | 22 | 17 | 44 | 420
s S1CB-16-04 | M16X1.5 | G1/4"X19 10 29 | 12 | 11 | 25 | 19 | 19 | 29 | 500
S1CB-16-06 | M16X1.5 | G3/8"'X19 10 |30.5[13.5| 12 | 25 | 22 | 19 | 42 | 420
i S1CB-16-08 | M16X1.5 | G1/2'X14 10 34 | 16 | 14 | 26 | 27 | 19 | 70 | 400
S1CB-18-04 | M18X1.5 | G1/4"X19 12 29 [ 12 | 11 | 25 | 19 | 22 | 30 | 400
{ S1CB-18-06 | M18X1.5 | G3/8"X19 12 [30.5[13.5| 12 | 25 | 22 | 22 | 40 | 420 |,
' 1 S1CB-18-08 | M18X1.5 | G1/2'X14 12 34 | 16 | 14 | 26 | 27 | 22 | 66 | 400
! ) S1CB-18-12 | M18X1.5 | G3/4"X14 12 |36.5(18.5| 16 | 26 | 32 | 22 [ 117| 250
: S1CB-22-06 | M22X1.5 | G3/8'X19 15 32 |13.5| 12 | 26 | 24 | 27 | 53 | 400
a2 S1CB-22-08 | M22X1.5 | G1/2'X14 15 |35.5| 16 | 14 | 27 | 27 | 27 | 71 | 400
S1CB-26-08 | M26X1.5 | G1/2'X14 18 35 | 16 | 14 | 28 | 27 | 32 | 70 | 400
S1CB-26-12 | M26X1.5 | G3/4"X14 18 |37.5/18.5| 16 | 28 | 32 | 32 | 118 | 250
S1CB-30-12 | M30X2 | G3/4'X14 | 22 [39.5/18.5| 16 | 30 | 32 | 36 | 101 | 250
S1CB-36-16 | M36X2 | Gi'X11 28 [42.5(20.5| 19 | 31 | 41 | 41 | 168 | 250
S1CB-45-20 | M45X2 |G1.1/4'X11| 35 [46.5(20.5| 20 | 37 | 50 | 50 | 270 | 250
S1CB-52-24 | M52X2 |G1.12'X11| 42 50 | 23 | 22 | 39 | 55 | 60 | 340 | 250
S1DB-14-04 | M14X1.5| G1/4'X19 | 06 32 | 12 | 11 [ 28 | 19 | 17 | 35 | 800
S1DB-16-04 | M16X1.5 | G1/4'X19 | 08 32 | 12 | 11 [ 28 | 19 | 19 | 40 | 800
S1DB-16-06 | M16X1.5| G3/8'X19 | 08 [35.5/13.5| 12 | 32 | 22 | 19 | 56 | 800
S1DB-18-04 | M18X1.5 | G1/4"X19 10 32 |12 [ 11 [ 29 | 19 | 22 | 41 | 400
S1DB-18-06 | M18X1.5 | G3/8"X19 10 |35.5[13.5| 12 | 31 | 22 | 22 | 54 | 800
S1DB-18-08 | M18X1.5 | Gi/2'X14 10 38 | 16 | 14 [ 31 | 27 | 22 | 95 | 630
S1DB-20-04 | M20X1.5 | G1/4"X19 12 34 | 12 | 11 [ 31 | 22 | 24 | 60 | 630
S1DB-20-06 | M20X1.5 | G3/8'X19 12 [35.5[13.5] 12 | 31 | 22 | 24 | 62 | 630
S1DB-20-08 | M20X1.5 | G1/2'X14 12 38 | 16 | 14 | 31 | 27 | 24 | 98 | 630
S1DB-22-08 | M22X1.5 | Gi/2'X14 14 40 | 16 | 14 | 34 | 27 | 27 | 95 | 630 |s
S1DB-24-06 | M24X1.5 | G3/8'X19 16 |37.5/13.5| 12 | 34 | 27 | 30 | 82 | 630
S1DB-24-08 | M24X1.5 | G1/2'X14 16 40 | 16 | 14 | 34 | 27 | 30 | 90 | 630
S1DB-24-12 | M24X1.5 | G3/4"X14 16 |44.5[18.5| 16 | 36 | 32 | 30 | 150 | 420
S1DB-30-12 | M30X2 | G3/4'x14 | 20 [46.5/18.5| 16 | 39 | 32 | 36 | 147 | 420
S1DB-36-08 | M36X2 | G1/2'X14 | 25 47 | 16 | 14 | 43 | 41 | 46 | 226 420
S1DB-36-12 | M36X2 | G3/4'X14 | 25 |49.5|18.5| 16 | 43 | 41 | 46 | 264 | 420
S1DB-36-16 | M36X2 | G1'X11 25 [52.5(20.5| 19 | 44 | 41 | 46 | 400]| 420
S1DB-42-20 | M42x2 |G1.1/4'x11| 30 [55.5/20.5| 20 | 48 | 50 | 50 | 415 | 420
S1DB-52-24 | M52X2 |Gi.12'X11| 38 62 | 23 | 22 | 54 | 55 | 60 | 560 | 420

TEe Wil R MR R B8, WHEAEACS /5 “RN” , 11S1CB-30-12/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S1CB-30-12/RN.

104/ =t i EE s

SE ik oA



P15k ADAPTER /#ipiN-f%3t METRIC Thread Bite Type Tube Fitting Sa nnk

IGE

®

J§ 4% ADAPTER Zs#iDINEZ5t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

S1CB-WD RO BRI RE0° Mt
S1CB_WD/RN BSP THREAD WITH CAPTIVE SEAL OR 60° SEAT SEALING
e 124 THREAD ETAME JUs} DIMENSIONS Eg== Ig’EEj:] =
PART NO. T T2 D1 [ D2 | L1] L2 | L3 | L4 | s1 | s2 |5/#| (ban) |51
m S1CB-12-02WD | M12X1.5|G1/8"X28 | 06 | 14 | 23.5| 8.5 | 8 23 | 14 | 14 | 13 | 500
2 , L3 S1CB-12-04WD | M12X1.5|G1/4" X19 | 06 | 19 29| 10 | 12 | 25 | 19 | 14 | 28 | 500
S1CB-12-06WD | M12X1.5|G3/8" X19 | 06 | 22 | 30.5/11.5| 12 | 26 | 22 | 14 | 44 | 420
= S1CB-12-08WD | M12X1.5|G1/2" X14 | 06 | 27 33| 12 | 14 | 27 | 27 | 14 | 61 400
= R S1CB-14-02WD | M14X1.5|G1/8"X28 | 08 | 14 | 24.5| 9.5 | 8 24 | 14 | 17 | 16 | 500
= S1CB-14-04WD | M14X1.5|G1/4"X19 | 08 | 19 29 | 10 | 12 | 25 | 19 | 17 | 27 | 500
\ _ S1CB-14-06WD | M14X1.5|G3/8"X19 | 08 | 22 | 30.5/11.5| 12 | 26 | 22 | 17 | 45 | 420
\s1 S1CB-14-08WD | M14X1.5|G1/2" X14 | 08 | 27 33| 12 | 14 | 27 | 27 | 17 | 74 | 400
" S1CB-16-02WD | M16X1.5|G1/8" X28 | 10 | 14 | 25.5/10.5| 8 25 | 17 | 19 | 21 500
S1CB-16-04WD | M16X1.5|G1/4"X19 | 10 | 19 30 | 11 12 | 26 | 19 | 19 | 29 | 500
S1CB-16-06WD | M16X1.5|G3/8" X19 | 10 | 22 | 31.5/12.5| 12 | 27 | 22 | 19 | 43 | 420
S1CB-16-08WD | M16X1.5|G1/2" X14 | 10 | 27 34| 13 | 14 | 28 | 27 | 19 | 71 400
S1CB-18-02WD | M18X1.5|G1/8" X28 | 12 | 14 | 26.5/11.5| 8 26 | 19 | 22 | 26 | 420
S1CB-18-04WD | M18X1.5|G1/4"X19 | 12 | 19 31| 12 | 12 | 27 | 19 | 22 | 31 400
S1CB-18-06WD | M18X1.5|G3/8" X19 | 12 | 22 | 31.5/12.5| 12 | 27 | 22 | 22 | 41 420
S1CB-18-08WD | M18X1.5|G1/2" X14 | 12 | 27 34| 13 | 14 | 28 | 27 | 22 | 67 | 400
S1CB-18-12WD | M18X1.5|G3/4 " X14 | 12 | 32 37| 14 | 16 | 29 | 32 | 22 | 118 | 250 |L
S1CB-22-06WD | M22X1.5|G3/8" X19 | 15 | 22 | 32.5/13.5| 12 | 29 | 24 | 27 | 54 | 400
S1CB-22-08WD | M22X1.5|G1/2" X14 | 15 | 27 35| 14 | 14 | 29 | 27 | 27 | 72 | 400
S1CB-22-12WD | M22X1.5|G3/4 " X14 | 15 | 32 38| 15 | 16 | 30 | 32 | 27 | 116 | 250
S1CB-26-06WD | M26X1.5|G3/8" X19 | 18 | 22 | 33.5| 14 | 12 | 30 | 27 | 32 | 66 | 400
S1CB-26-08WD | M26X1.5 | G1/2" X14 | 18 | 27 36 |14.5| 14 | 31 | 27 | 32 | 71 400
S1CB-26-12WD | M26X1.5|G3/4 " X14 | 18 | 32 38 |14.5| 16 | 31 | 32 | 32 | 110 | 250
S1CB-30-08WD | M30X2 |G1/2"X14 | 22 | 27 38 |16.5| 14 | 83 | 32 | 36 | 91 250
S1CB-30-12WD | M30X2 |G3/4"X14 | 22 | 32 40 |16.5| 16 | 33 | 32 | 36 | 102 | 250
S1CB-30-16WD | M30X2 | G1"X11 | 22 | 40 43 |17.5| 18 | 34 | 41 | 36 | 189 | 250
S1CB-36-12WD | M36X2 |G3/4" X14 | 28 | 32 41 |17.5| 16 | 34 | 41 | 41 | 159 | 250
S1CB-36-16WD | M36X2 | G1"X11 | 28 | 40 43 |17.5| 18 | 34 | 41 | 41 | 170 | 250
S1CB-36-20WD | M36X2 (G1.1/4" X11| 28 | 50 46 {18.5| 20 | 35 | 50 | 41 | 316 | 250
S1CB-45-16WD | M45X2 | G1"X11 | 35 | 40 46 |17.5| 18 | 39 | 46 | 50 | 226 | 250
S1CB-45-20WD | M45X2 |G1.1/4" X11| 35 | 50 48 |17.5| 20 | 39 | 50 | 50 | 272 | 250
S1CB-45-24WD | M45X2 G1.1/2" X11| 35 | 55 52 |19.5| 22 | 41 | 55 | 50 | 423 | 250
S1CB-52-16WD | M52X2 | G1"X11 | 42 | 40 48 | 19 | 18 | 42 | 55 | 60 | 324 | 250
S1CB-52-20WD | M52X2 (G1.1/4" X11| 42 | 50 50| 19 | 20 | 42 | 55 | 60 | 348 | 250
S1CB-52-24WD | M52X2 G1.1/2" X11| 42 | 55 52| 19 | 22 | 42 | 55 | 60 | 343 | 250
TEe W RE LR BB EPREEIT S, WEELCT S “RN” , #1S1CB-30-12WD/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis

necessary to insert suffix “RN” after our part NO., for example S1CB-30-12WD/RN.

105/ =M i idE =

S1DB-WD SRR SR B R 600 MR
S1DB-WD/RN BSP THREAD WITH CAPTIVE SEAL OR 60° SEAT SEALING
e 1247 THREAD ETIME R~ DIMENSIONS o IJ’EJ_.IJJ
L1 PART NO. T1 T2 D1 | D2 L1 L2 L3 L4 S1 S2 o/ bar)
2, L3 S1DB-14-02WD | M14X1.5 [G1/8 " X28 | 06 14 | 27.5|12.5| 8 27 14 17 21 500
S1DB-14-04WD | M14X1.5 [G1/4" X19 | 06 19 32 | 13 12 28 19 17 35 800
" S1DB-14-06WD | M14X1.5 |G3/8 " X19 | 06 22 | 34.5/15.5| 12 30 22 17 52 630
) P %‘ S1DB-14-08WD | M14X1.5 |G1/2" X14 | 06 27 39 | 18 14 33 27 27 83 630
S1DB-16-04WD | M16X1.5 |G1/4 " X19 | 08 19 34 | 15 12 30 19 19 41 800
'*I_ S1DB-16-06WD | M16X1.5 |G3/8 " X19 | 08 22 | 34.5/15.5| 12 30 22 19 57 800
el S1DB-16-08WD | M16X1.5 |G1/2 " X14 | 08 27 39 | 18 14 33 27 19 89 630
Le S1DB-18-04WD | M18X1.5 |G1/4" X19 | 10 19 34 [14.5| 12 31 19 22 42 800
S1DB-18-06WD | M18X1.5 |G3/8 " X19 | 10 22 | 34.5| 15 12 31 22 22 55 800
S1DB-18-08WD | M18X1.5 |G1/2" X14 | 10 27 39 [17.5]| 14 34 27 22 97 630
S1DB-20-04WD | M20X1.5 |G1/4" X19 | 12 19 36 |16.5] 12 33 22 24 61 630
S1DB-20-06WD | M20X1.5 |G3/8 " X19 | 12 22 | 36.5| 17 12 33 22 24 62 630
S1DB-20-08WD | M20X1.5 |G1/2" X14 | 12 27 39 |17.5] 14 34 27 24 99 630
S1DB-22-06WD | M22X1.5 |G3/8 " X19 | 14 22 | 38.5|18.5| 12 36 24 27 74 420
S1DB-22-08WD | M22X1.5 |G1/2" X14 | 14 27 41 19 14 37 27 27 96 630
S1DB-22-12WD| M22X1.5| G3/4"X14 | 14 32 45 21 16 39 32 27 | 138 | 630
S1DB-24-06WD| M24X1.5| G3/8"X19 | 16 22 |38.5| 18 12 36 27 30 83 420
S1DB-24-08WD| M24X1.5| G1/2'X14 | 16 27 41 [18.5| 14 37 27 30 91 420
S1DB-24-12WD| M24X1.5| G3/4"X14 | 16 32 45 |20.5| 16 39 32 30 | 152 | 420
S1DB-30-08WD| M30X2 | G1/2"X14 | 20 27 45 |20.5| 14 42 32 36 | 142 | 420
S1DB-30-12WD| M30X2 | G3/4"'X14 | 20 32 47 |20.5| 16 42 32 36 | 149 | 420
S1DB-30-16WD| M30X2 G1"X11 20 40 51 |22.5| 18 44 41 36 | 265 | 420
S1DB-30-20WD| M30X2 |G1.1/4"X11| 20 50 53 |22.5] 20 44 50 36 | 404 | 420
S1DB-36-08WD| M36X2 | G1/2"X14 | 25 27 49 23 14 47 41 46 | 228 | 420
S1DB-36-12WD| M36X2 | G3/4"X14 | 25 32 51 23 16 47 41 46 | 266 | 420
S1DB-36-16WD| M36X2 G1"X11 25 40 53 23 18 47 41 46 | 404 | 420
S1DB-36-20WD| M36X2 |G1.1/4"X11| 25 50 55 23 20 47 50 46 | 411 420
S1DB-36-24WD| M36X2 |G1.1/2"X11| 25 55 60 26 22 50 55 46 | 549 | 315
S1DB-42-16WD| M42X2 G1"X11 30 40 55 |23.5| 18 50 46 50 | 344 | 420
S1DB-42-20WD| M42X2 |G1.1/4"X11| 30 50 57 |23.5| 20 50 50 50 | 418 | 420
S1DB-42-24WD| M42X2 |G1.1/2"X11| 30 55 62 |26.5| 22 53 55 50 | 530 | 315
S1DB-52-20WD| M52X2 |G1.1/4"X11| 38 50 62 26 20 57 55 60 | 575 | 420
S1DB-52-24WD| M52X2 |G1.1/2"X11| 38 55 64 26 22 57 55 60 | 563 | 420

£
7]

T W RE R RERBEEI T,

EERSJE I “RN” , 41S1DB-30-12WD/RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S1IDB-30-12WD/RN.

106/ =t A s 1

SE ik oA



®

®
L $2 ) ADAPTER A#IDINE2st METRIC Thread Bite Type Tube Fitting Sa nn ke L $2 ) ADAPTER /#iDINF%3t METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

S1CM. S1DM INHIIMBEI60° a5 2] £ S 5 i R i S1CM-WD. S1DM-WD DI IMBE R B R 600 it
S1CM/RN. S1DM/RN METRIC MALE 60° SEAT SEALING OR BONDED SEAL STUD ENDS S1CM-WD/RN, S1DM-WD/RN METRIC THREAD WITH CAPTIVE SEAL OR 60° SEAT SEALING
%= 124 THREAD | & 74z Ji~) DIMENSIONS o szm # s 124 THREAD HTIME Ji~} DIMENSIONS T8 | TEEN &
Lt PART NO. T1 T2 D1 L1 | L2 [ 3] L4 | s1] s2 |su/f] (ban) |51 PART NO. T1 T2 D1 [ D2 | L1 | L2 ]| L3 4] s1] s2 |su/# (ba) |31
L2, L3 S1CM-12-10 | M12X1.5 | M10X1 06 [235/85| 8 | 23 | 14 | 14 | 13 | 500 S1CM-12-10WD | M12X1.5 | M10X1 | 06 | 14 [23.5|/ 85| 8 | 23 | 14 | 14 | 13 | 500
' S1CM=-14-12 | M14X1.5 | M12X1.5 08 29 | 10 | 10 | 25 | 17 | 17 | 22 | 500 S1CM-14-12WD | M14X1.5 | M12X1.5| 08 | 17 | 29 | 10 | 12 | 25 | 17 | 17 | 22 | 500
! -] S1CM-14-18 | M14X1.5 | M18X1.5 08 [30.5(11.5| 12 | 26 | 24 | 17 | 23 | 500 $1CM-16-12WD | M16X1.5 | M12X1.5| 10 | 17 | 30 | 11 | 12 | 26 | 17 | 19 | 23 | 500
:éét- I i S1CM-16-14 | M16X1.5 | M14X1.5 10 30 | 11 | 11 | 26 | 19 | 19 | 29 | 500 o S1CM-16-14WD | M16X1.5 | M14X1.5| 10 | 19 | 30 | 11 | 12 | 26 | 19 | 19 | 29 | 500
1 S1CM-16 M16X1.5 | M16X1.5 10 |31.5(12.5| 12 | 24 | 22 | 19 | 39 | 420 ® SICM-16WD | M16X1.5 | M16X1.5| 10 | 22 |31.5|12.5| 12 | 24 | 22 | 19 | 40 | 420
= S1CM-16-18 | M16X1.5 | M18X1.5 10 [31.5[12.5| 12 | 27 | 24 | 19 | 49 | 400 S1CM-16-18WD | M16X1.5 | M18X1.5 | 10 | 24 [31.5|12.5| 12 | 27 | 24 | 19 | 50 | 400 E
S1CM-16-22 | M16X1.5 | M22X1.5 10 35 | 14 | 14 | 29 | 27 | 19 | 79 | 400 S1CM-16-22WD | M16X1.5 | M22X1.5| 10 | 27 | 35 | 14 | 14 | 29 | 27 | 19 | 80 | 400
S1CM-18-14 | M18X1.5 | M14X1.5 12 30 | 11 | 11 | 26 | 19 | 22 | 30 | 400 S1CM-18-14WD | M18X1.5 | M14X1.5| 12 | 19 | 30 | 11 | 12 | 26 | 19 | 22 | 30 | 400
S1CM-18-16 | M18X1.5 | M16X1.5 12 |31.5(12.5| 12 | 27 | 22 | 22 | 39 | 400 S1CM-18-16WD | M18X1.5 | M16X1.5 | 12 | 22 [31.5|12.5| 12 | 27 | 22 | 22 | 40 | 400
S1CM-18 M18X1.5 | M18X1.5 12 [31.5[12.5| 12 | 27 | 24 | 22 | 46 | 400 SICM-18WD | M18X1.5 | M18X1.5| 12 | 24 |31.5(12.5| 12 | 27 | 24 | 22 | 47 | 400
S1CM-18-22 | M18X1.5 | M22X1.5 12 85 | 14 | 14 | 29 | 27 | 22 | 78 | 400 | S1CM-18-22WD | M18X1.5 | M22X1.5| 12 | 27 | 35 | 14 | 14 | 29 | 27 | 22 | 75 | 400 |L
S1CM-22-16 | M22X1.5 | M16X1.5 15 32 | 13 | 12 | 28 | 24 | 27 | 50 | 400 S1CM-22-16WD | M22X1.5 | M16X1.5| 15 | 22 | 32 | 13 | 12 | 28 | 24 | 27 | 64 | 400
S1CM-22-18 | M22X1.5 | M18X1.5 15 |32.5|13.5| 12 | 29 | 24 | 27 | 63 | 400 S1CM-22-18WD | M22X1.5 | M18X1.5| 15 | 24 |32.5(13.5| 12 | 29 | 24 | 27 | 51 | 400
S1CM-22 M22X1.5 | M22X1.5 15 36 | 15 | 14 | 30 | 27 | 27 | 75 | 400 , SICM-22WD | M22X1.5 | M22X1.5| 15 | 27 | 36 | 15 | 14 | 30 | 27 | 27 | 77 | 400 +
S1CM-26-18 | M26X1.5 | M18X1.5 18 |33.5| 14 | 12 | 30 | 27 | 32 | 67 | 400 . S1CM-26-18WD | M26X1.5 | M18X1.5| 18 | 24 [33.5| 14 | 12 | 30 | 27 | 32 | 68 | 400 E
S1CM-26-22 | M26X1.5 | M22X1.5 18 36 |14.5| 14 | 31 | 27 | 32 | 72 | 400 _ S1CM-26-22WD | M26X1.5 | M22X1.5| 18 | 27 | 36 |14.5| 14 | 31 | 27 | 32 | 74 | 400 E
S1CM-30-22 | M30X2 | M22X1.5 22 38 |16.5| 14 | 33 | 32 | 36 | 94 | 250 > S1CM-30-22WD | M30X2 | M22X1.5| 22 | 32 | 27 |16.5| 14 | 33 | 32 | 36 | 97 | 250
S1CM-30-26 | M30X2 | M26X15| 22 40 |16.5| 16 | 33 | 32 | 36 | 100 | 250 S1CM-30-26WD | M30X2 | M26X1.5| 22 | 32 | 40 |16.5| 16 | 33 | 32 | 36 | 103 | 250
S1CM-30-27 | M30X2 | M27X2 22 42 [18.5| 16 | 35 | 32 | 36 | 164 | 250 S1CM-30-27WD | M30X2 | M27X2 | 22 | 32 | 40 |16.5| 16 | 33 | 32 | 36 | 106 | 250
S1CM-86-33 | M36X2 | M33X2 28 43 |17.5]| 18 | 34 | 41 | 41 | 275 | 250 S1CM-36-33WD | M36X2 M33X2 | 28 | 40 | 43 |17.5| 18 | 34 | 41 | 41 | 168 | 250
S1CM-45-42 M45X2 | M42X2 35 48 [17.5] 20 | 39 | 50 | 50 | 350 | 250 S1CM-45-42WD | M45X2 M42X2 | 35 | 50 | 48 |17.5| 20 | 39 | 50 | 50 | 281 | 250
S1CM-52-48 | M52X2 | M48X2 42 52 | 19 | 22 | 42 | 55 | 60 | 355 | 250 S1CM-52-48WD | M52X2 | M48X2 | 42 | 55 | 52 | 19 | 22 | 42 | 55 | 60 | 356 | 250
S1DM-14-12 | M14X1.5 | M12X1.5 06 32 | 13 | 10 | 28 | 17 | 17 | 41 | 800 S1DM-14-12WD | M14X1.5 | M12X1.5| 06 | 17 | 32 | 13 | 12 | 28 | 17 | 17 | 30 | 800
S1DM-16-14 | M16X1.5 | M14X1.5 08 34 | 15| 11 | 30 | 19 | 19 | 53 | 800 S1DM-16-14WD | M16X1.5 | M14X1.5| 08 | 19 | 34 | 15 | 12 | 30 | 19 | 19 | 42 | 800
S1DM-18-16 | M18X1.5 | M16X1.5 10 [34.5] 15 | 12 | 31 | 22 | 22 | 59 | 800 S1DM-18-16WD | M18X1.5 | M16X1.5| 10 | 22 [34.5| 15 | 12 | 31 | 22 | 22 | 54 | 800
S1DM-20-18 | M20X1.5 | M18X1.5 12 |36.5) 17 | 12 | 83 | 24 | 24 | 70 | 630 S1DM-20-14WD | M20X1.5 | M14X1.5| 12 | 19 | 36 |16.5| 12 | 33 | 22 | 24 | 60 | 630
S1DM-20-22 | M20X1.5 | M22X1.5 12 39 |17.5] 14 | 34 | 27 | 24 | 100 | 630 S1DM-20-18WD | M20X1.5 | M18X1.5| 12 | 24 [36.5| 17 | 12 | 33 | 24 | 24 | 71 | 630
S1DM-22-20 | M22X1.5 | M20X1.5| 14 | 41 | 19 | 14 | 37 | 27 | 27 | 96 | 630 | S1DM-20-22WD | M20X1.5 | M22X1.5 | 12 | 27 | 39 [17.5| 14 | 34 | 27 | 24 | 102 630 | _
S1DM-24-18 | M24X1.5 | M18X1.5 16 |38.5) 18 | 12 | 36 | 27 | 30 | 86 | 630 S1DM-22-20WD | M22X1.5 | M20X1.5| 14 | 26 | 41 | 19 | 14 | 37 | 27 | 27 | 98 | 630
S1DM-24-22 | M24X1.5 | M22X15| 16 41 |18.5| 14 | 37 | 27 | 30 | 93 | 800 S1DM-24-18WD | M24X1.5 | M18X1.5| 16 | 24 |38.5| 18 | 12 | 36 | 27 | 30 | 88 | 630
S1DM-30-27 | M30X2 | M27X2 20 47 |20.5| 16 | 42 | 32 | 36 | 147 | 420 S1DM-24-22WD | M24X1.5 | M22X1.5| 16 | 27 | 41 |18.5| 14 | 37 | 27 | 30 | 95 | 800
S1DM-36-33 | M36X2 | M33X2 25 53 | 23 | 18 | 47 | 41 | 46 | 260 | 420 S1DM-30-27WD | M30X2 | M27X2 | 20 | 32 | 47 [20.5| 16 | 42 | 32 | 36 | 150 | 420
S1DM-42 M42X2 | M42X2 30 57 |23.5| 20 | 50 | 50 | 50 | 415 | 420 S1DM-36-33WD | M36X2 | M33X2 | 25 | 40 | 53 | 23 | 18 | 47 | 41 | 46 | 264 | 420
S1DM-52-48 | M52X2 | M48X2 38 64 | 26 | 22 | 57 | 55 | 60 | 560 | 420 SIDM-42WD | M42X2 | M42x2 | 30 | 50 | 57 [23.5] 20 | 50 | 50 | 50 | 422 | 420
T it R S R R B, WEEACS S “RN”, 11S1CM-30-27/RN. S1DM-52-48WD | M52X2 | M48X2 | 38 | 55 | 64 | 26 | 22 | 57 | 55 | 60 | 569 | 420
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, it is W AR N A RS T 1, AR S S T “RN”, $11S1CM-30-27WD/RN.
necessary to insert suffix "RN”_after our part NO., for example S1CM-30-27/RN. Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S1CM-30-27WD/RN.

107/ =M A = 108/ =t A e 4 1



®

®
) ADAPTER Z#iDINF235t METRIC Thread Bite Type Tube Fitting Sannke 1L g ADAPTER 2#ipiNt23t METRIC Thread Bite Type Tube Fitting Sannke

S1CG. S1DG
S1CG/RN, S1DG/RN

T BRSO Y ] 5 ) A
BSP THREAD STUD ENDS WITH O-RING SEALING

S1CG. S1DG
S1CG/RN. S1DG/RN

LA RSO TY ] %5 B A i
BSP THREAD STUD ENDS WITH O-RING SEALING

S it =Ar

= B4 THREAD EEhME JU5] DIMENSIONS e Ifgm % =) 1240 THREAD MR JUs} DIMENSIONS w | LEREN &
. PART NO. 1 T2 D1 [D2 | L1 [ L2 ] 13[4 ] s1 | s2|si/fh (ba) |5 o PART NO. Ti T2 Di [ D2 | Lt [ L2 [ L3 [ L4 st1]s2 s/ (ban |
TR S1CG-12-02 | M12X1.5|G1/8"X28 | 06 | 14 |23.5| 85| 8 | 23 | 14 | 14 | 14 | 315 Iz _, 13 S1DG-22-06 | M22X1.5 | G3/8"X19| 14 | 22 |38.5/18.5| 12 | 36 | 24 | 27 | 74 | 400
S1CG-12-04 | M12X1.5 | G1/4"X19| 06 | 18 | 29 | 10 | 12 | 25 | 19 | 14 | 60 | 315 i (S S1DG-22-08 | M22X1.5 | G1/2"X14| 14 | 26 | 41 | 19 | 14 | 37 | 27 | 27 | 96 | 400
: —— | S1CG-12-06 | M12X1.5 | G3/8"X19 | 06 | 22 [30.5|11.5| 12 | 26 | 22 | 14 | 45 | 315 T ! S1DG-24-06 | M24X1.5 | G3/8"X19| 16 | 22 |38.5| 18 | 12 | 36 | 27 | 30 | 83 | 400
= p 8 S1CG-12-08 | M12X1.5 | G1/2"X14 | 06 | 26 | 33 | 12 | 14 | 27 | 27 | 14 | 60 | 315 =R - & g S1DG-24-08 | M24X1.5 | G1/2"X14| 16 | 26 | 41 |18.5| 14 | 37 | 27 | 30 | 92 | 400
' . S1CG-14-02 | M14X1.5|G1/8"X28 | 08 | 14 |23.5| 85| 8 | 23 | 14 | 17 | 16 | 315 | S1DG-24-12 | M24X1.5 | G3/4"X14| 16 | 32 | 45 |20.5| 16 | 39 | 32 | 30 | 157 | 400
S1CG-14-04 | M14X1.5|G1/4"X19| 08 | 18 | 29 | 10 | 12 | 25 | 19 | 17 | 26 | 315 S1DG-30-08 | M30X2 | G1/2"X14| 20 | 26 | 45 |20.5| 14 | 42 | 32 | 36 | 142 400
= S1CG-14-06 | M14X1.5|G3/8"X19 | 08 | 22 [30.5|11.5| 12 | 26 | 22 | 17 | 44 | 315 o S1DG-30-12 | M30X2 | G3/4"X14| 20 | 32 | 47 |20.5| 16 | 42 | 32 | 36 | 151 | 400 E
S1CG-14-08 | M14X1.5|G1/2"X14 | 08 | 26 | 33 | 12 | 14 | 27 | 27 | 17 | 74 | 315 $1DG-30-16| M30X2 | G1'X11 | 20 | 39 | 51 |22.5| 18 | 44 | 41 | 36 | 273 | 250 | _
v S1CG-16-02 | M16X1.5|G1/8"X28 | 10 | 14 |25.5/10.5| 8 | 25 | 17 | 19 | 21 | 315 L1 S1DG-30-20 | M30X2 |G1.1/4X11| 20 | 50 | 53 [22.5| 20 | 44 | 50 | 36 | 387 | 160
2, L3 S1CG-16-04 | M16X1.5 | G1/4"X19 | 10 | 18 | 30 | 11 | 12 | 26 | 19 | 19 | 31 | 315 2.2 S1DG-36-12 | M36X2 | G3/4"X14| 25 | 32 | 51 | 23 | 16 | 47 | 41 | 46 |245| 250
| S1CG-16-06 | M16X1.5 | G3/8"X19 | 10 | 22 [31.5|12.5| 12 | 27 | 22 | 19 | 44 | 315 | S1DG-36-16 | M36X2 | G1"X11 | 25 | 39 | 53 | 23 | 18 | 47 | 41 | 46 | 267 | 250
| 1 I S1CG-16-08 | M16X1.5 | G1/2"X14 | 10 | 26 | 34 | 13 | 14 | 28 | 27 | 19 | 72 | 315 [ 3 [ L S1DG-36-20 | M36X2 |G1.1/4X11| 25 | 50 | 55 | 23 | 20 | 47 | 50 | 46 |422| 160
=E B S1CG-18-02 | M18X1.5|G1/8"X28 | 12 | 14 |26.5|11.5| 8 | 26 | 19 | 22 | 27 | 315 :‘3!] Bk S1DG-42-16 | M42X2 | G1'X11 | 30 | 39 | 55 |23.5| 18 | 50 | 46 | 50 | 337 | 160
1 ]: S1CG-18-04 | M18X1.5[G1/4"X19| 12 | 18 | 381 | 12 | 12 | 27 | 19 | 22 | 32 | 315 1 ] S1DG-42-20 | M42X2 [G1.1/4X11| 30 | 41 | 57 |23.5| 20 | 50 | 50 | 50 |422| 160 +
aed i S1CG-18-06 | M18X1.5|G3/8"X19 | 12 | 22 [31.5|12.5| 12 | 27 | 22 | 22 | 43 | 315 “@1 S1DG-52-20 | M52X2 [G1.1/4X11| 38 | 50 | 62 | 26 | 20 | 57 | 55 | 60 | 578 | 160 E
- S1CG-18-08 | M18X1.5|G1/2"X14 | 12 | 26 | 34 | 13 | 14 | 28 | 27 | 22 | 67 | 315 S1DG-52-24 | M52X2 [G1.1/2X11| 38 | 55 | 64 | 26 | 22 | 57 | 55 | 60 | 560 | 160 o
S10G-18-12 | M18X1.5 | G3/4"X14 | 12 | 32 | 37 | 14 | 16 | 29 | 32 | 22 | 120 | 315 e Wiy FE & REBERE R 5, WEAER S5 “RN” , @1S1CG-30-12/RN;
S1CG-22-06 | M22X1.5 | G3/8"X19 | 15 | 22 |32.5|13.5| 12 | 29 | 24 | 27 | 56 | 250 — 1 i Y e AR5 R i “DQ”, iS1CG-30-12DQ. . o
A ezl wexislateXiel te Lo Lss Lt el 2o 2 e T2 a0 s p e T e
% SleleEpesin SRS | S vds e L8 | g | 0 e S L as |2 i 280 o+ E :Niltshnrztt?:isnseirl}/ing please insert suffix “DQ” alPterour;’)artNO,foFexampIe S1CG-30-12DQ.
= S1CG-26-06 | M26X1.5 | G3/8"X19 | 18 | 22 [33.5| 14 | 12 |29.5| 27 | 32 | 69 | 250 *
Bh—e— S1CG-26-08 | M26X1.5 | G1/2"X14 | 18 | 26 | 36 |14.5| 14 | 31 | 27 | 32 | 72 | 250
= S1CG-26-12 | M26X1.5 | G3/4"X14 | 18 | 32 | 38 |14.5| 16 | 30 | 32 | 32 | 112 | 250 \s2
= S1CG-30-08 | M30X2 |G1/2"X14 | 22 | 26 | 38 |16.5| 14 | 33 | 32 | 36 | 91 | 160
S1CG-30-12 | M30X2 |G3/4"X14| 22 | 32 | 40 |16.5| 16 | 33 | 32 | 36 | 103 | 160
S1CG-30-16 | M30X2 | G1"X11 | 22 | 39 | 43 |17.5| 18 [33.5| 41 | 36 | 184 | 160
S1CG-36-08 | M36X2 |G1/2"X14 | 28 | 26 | 39 |17.5| 14 | 34 | 41 | 41 | 141 | 160
S1CG-36-12 | M36X2 |G3/4'X14 | 28 | 32 | 41 |17.5| 16 | 34 | 41 | 41 | 156 | 160
S1CG-36-16 | M36X2 | G1"X11 | 28 | 39 | 43 |17.5| 18 | 34 | 41 | 41 | 168 | 160
S1CG-36-20 | M36X2 |G1.1/4X11| 28 | 50 | 46 |18.3| 20 | 35 | 50 | 41 | 314 | 160
S1CG-45-12 | M45X2 |G3/4"X14 | 35 | 32 | 44 |17.5| 16 | 39 | 46 | 50 | 202 | 160
S1CG-45-16 | M45X2 | G1"X11 | 35 | 39 | 46 |17.5| 18 | 39 | 46 | 50 | 234 | 160
S1CG-45-20 | M45X2 |G1.1/4X11| 35 | 50 | 48 |17.5| 20 | 39 | 50 | 50 | 276 | 160
S1CG-45-24 | M45X2 |G1.1/2X11| 35 | 55 | 52 |19.5| 22 | 41 | 55 | 50 | 355 | 160
S1CG-52-16 | M52X2 | G1"X11 | 42 | 39 | 48 | 19 | 18 | 42 | 55 | 60 | 327 | 160
S1CG-52-20 | M52X2 |G1.1/4X11| 42 | 49 | 50 | 19 | 20 | 42 | 55 | 60 | 336 | 160
S1CG-52-24 | M52X2 |G1.1/2X11| 42 | 55 | 52 | 19 | 22 | 42 | 55 | 60 | 349 | 160
S1DG-14-02 | M14X1.5|G1/8"X28 | 06 | 14 |27.5(12.5| 8 | 27 | 14 | 17 | 22 | 400
S1DG-14-04 | M14X1.5|G1/4"X19| 06 | 18 | 32 | 13 | 12 | 28 | 19 | 17 | 35 | 400
S1DG-14-06 | M14X1.5 | G3/8"X19 | 06 | 22 |[34.5|15.5| 12 | 30 | 22 | 17 | 57 | 400
S1DG-14-08 | M14X1.5|G1/2"X14 | 06 | 26 | 39 | 18 | 14 | 33 | 27 | 17 | 83 | 400
S1DG-16-04 | M16X1.5 | G1/4"X19 | 08 | 18 | 34 | 15 | 12 | 30 | 19 | 19 | 41 | 400
S1DG-16-06 | M16X1.5|G3/8"X19 | 08 | 22 [34.5|15.5| 12 | 30 | 22 | 19 | 59 | 400
S1DG-16-08 | M16X1.5 | G1/2"X14 | 08 | 26 | 39 | 18 | 14 | 33 | 27 | 19 | 100 | 400 |s
S1DG-18-04 | M18X1.5|G1/4"X19 | 10 | 18 | 34 |14.5| 12 | 31 | 19 | 22 | 43 | 400
S1DG-18-06 | M18X1.5 | G3/8"X19 | 10 | 22 |34.5| 15 | 12 | 31 | 22 | 22 | 56 | 400
S1DG-18-08 | M18X1.5 | G1/2"X14 | 10 | 26 | 39 |17.5| 14 | 34 | 27 | 22 | 97 | 400
S1DG-20-04 | M20X1.5 | G1/4"X19 | 12 | 18 | 36 |16.5| 12 | 33 | 22 | 24 | 57 | 400
S1DG-20-06 | M20X1.5 | G3/8"X19 | 12 | 22 [36.5| 17 | 12 | 33 | 22 | 24 | 62 | 400
S1DG-20-08 | M20X1.5 | G1/2"X14 | 12 | 26 | 39 |17.5| 14 | 34 | 27 | 24 | 57 | 400

109/ =R E = 110/ =t A s 1



®
P15k ADAPTER /#ipiN-f%3t METRIC Thread Bite Type Tube Fitting S ann | &

®

L% #5251 ADAPTER A#IDINE 25t METRIC Thread Bite Type Tube Fitting Sa 118 ke

S it =Ar

S1CH. S1DH I HISMBERERISO 6149
S1CH/RN. S1DH/RN METRIC THREAD STUD ENDS ISO 6149
e 124 THREAD | & 74Mz Jist DIMENSIONS EE | TEENE
= PART NO. T T2 |D1[D2| L1 [ L2 [ L3 [ L4 s1 [ s2 s/ (ba) |51
S1CH-12-10 | M12X1.5| M10X1 | 06 | 14| 24 | 85 | 85 | 23 | 14 | 14 | 15 | 500
I S1CH-14-12 | M14X1.5|M12X1.5| 08 | 17| 28 | 10 | 11 | 25 | 17 | 17 | 23 | 500
J ET | of & S1CH-16-14 | M16X1.5|M14X1.5| 10 | 19| 29 | 11 | 11 | 26 | 19 | 19 | 28 | 500
= A S1CH-16 M16X1.5 | M16X1.5| 10 | 22 | 31 [12.5|11.5(27.5| 22 | 22 | 40 | 420
i S1CH-18-16 | M18X1.5|M16X1.5| 12 | 22 | 31 [12.5|11.5| 27 | 22 | 22 | 42 | 400
\s1 S1CH-18 M18X1.5 | M18X1.5| 12 | 24 | 33 [13.5|12.5| 28 | 24 | 22 | 51 | 400
L1 S1CH-22-18 | M22X1.5|M18X1.5| 15 | 24 | 33 [13.5|12.5| 29 | 24 | 27 | 56 | 400
12 qals S1CH-22 M22X1.5 | M22X1.5| 15 | 27 |34.5[14.5| 13 | 80 | 27 | 27 | 74 | 400 |L
— S1CH-26-22 | M26X1.5|M22X1.5| 18 | 27 | 35 |14.5| 13 | 31 | 27 | 32 | 80 | 400
i = a14 S1CH-26 M26X1.5 | M26X1.5| 18 |31.9| 38 [14.5| 16 | 31 | 32 | 32 | 108 | 400
Fle [ He S1CH-30-26 M30X2 |M26X1.5| 22 (31.9] 40 |16.5| 16 | 33 | 32 | 36 | 107 | 250
. ; S1CH-30-27 M30X2 | M27X2 | 22 | 32| 40 |16.5| 16 | 33 | 32 | 36 | 104 | 250
TS S1CH-36-33 M36X2 | M33X2 |28 | 41| 41 [17.5| 16 | 34 | 41 | 41 | 171 | 250
% S1CH-45-42 M45X2 | M42X2 | 35 | 50 | 44 |17.5| 16 | 39 | 50 | 50 | 278 | 250
S1CH-52-48 M52X2 | M48X2 | 42 | 55 |47.5| 19 [17.5| 42 | 55 | 60 | 340 | 250
< = S1DH-14-12 | M14X1.5|M12X1.56| 06 | 17| 31 | 13 | 11 | 28 | 17 | 17 | 29 | 800
S1DH-16-14 | M16X1.5|M14X1.5| 08 | 19| 33 | 15 | 11 | 30 | 19 | 19 | 37 | 800
S1DH-16 M16X1.5 | M16X1.5| 08 | 22 | 35 | 15 [12.5| 31 | 22 | 19 | 50 | 800
S1DH-18-16 | M18X1.5|M16X1.5| 10 |22 | 35 | 15 |12.5| 31 | 22 | 22 | 55 | 800
S1DH-18 M18X1.5 | M18X1.5| 10 | 24 [38.5| 17 | 14 | 33 | 24 | 22 | 71 | 630
S1DH-20-18 | M20X1.5|M18X1.5| 12 | 24 [38.5| 17 | 14 | 33 | 24 | 24 | 73 | 630 |s
S1DH-24-22 | M24X1.5|M22X1.5| 16 | 27 | 42 |18.5| 15 | 37 | 27 | 30 | 102 | 630
S1DH-30-27 M30X2 | M27X2 | 20 | 32 |49.5|20.5(18.5| 42 | 32 | 36 | 169 | 420
S1DH-36-33 M36X2 | M33X2 | 25 | 41 |53.5| 23 [18.5| 47 | 41 | 46 | 274 | 420
S1DH-42 M42X2 | M42X2 |30 [ 50 | 56 | 23 | 19 | 50 | 50 | 50 | 412 | 420
S1DH-52-48 M52X2 | M48X2 | 38 | 55 |63.5| 26 (21.5| 57 | 55 | 60 | 580 | 420

W A R E LR BRI S, WEAER S E I “RN” , 31S1CH-30-27/RN;
A S E I “DQ” , WS1CH-30-27DQ,
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example S1CH-30-27/RN;with
retainer ring please insert suffix “DQ” after our part NO,for example S1CH-30-27DQ.

11/ = R AERZ

$1CO. S1DO BB LIOM M H LSO 11926
S1 CO/RN\ S1 DO/RN UN. UNF THREAD STUD ENDS WITH O-RING SEALING ISO 11926
K5 R4 THREAD | & 1AMz Ji~) DIMENSIONS | TER ) &R
g PART NO. T1 T2 Di[D2| L1 ]2 ]3] La] st [ s2 s/ (ban) 31
L;I - S1C0-14-04 | M14X1.5|716'X20UNF | 08 | - 26 | 10 9 25 | 17 | 17 | 21 315
S1C0-16-04 |M16X1.5|7/16'X20UNF | 10 | - 27 | 11 9 26 | 17 | 19 | 23 315
i = oq 1 S1C0-18-06 |M18X1.5|916'X18UNF | 12 | - 28 | 11 10 | 26 | 19 | 22 | 32 315
r a' i | ol S1C0O-18-08 |M18X1.5| 34'XI6UNF | 12 | - 31 18 11 28 | 24 | 22 | 52 Bill5)
Is' el 15 S1C0-18-10 |M18X1.5| 7B'X14UNF | 12 - 34 (14.3|12.7| 29 | 27 | 22 77 315 E
. S1C0-22-08 | M22X1.5| 3/4'X16UNF | 15 | - 32 | 14 11 29 | 24 | 27 | 57 Sill5
\st S1C0-22-10 |M22X1.5| 7/8'X14UNF | 15 | - 35 |15.3|/12.7| 30 | 27 | 27 | 81 315
S1C0-26-08 |M26X1.5| 3/4'X16UNF | 18 |23.9| 33 |14.5| 11 31| 27 | 32 | 68 315
S1C0-26-10 |M26X1.5| 7/8'X14UNF | 18 | - 35 [14.8|12.7| 31 27 | 32 | 72 315 | L
S1C0-30-10 M30X2 | 7/8'X14UNF | 22 |26.9| 37 |16.8|12.7| 33 | 32 | 36 | 94 160
S1C0O-30-12 M30X2 |1116'X12UN| 22 | - 39 |16.5| 15 | 33 | 32 | 36 | 103 | 160
S1C0O-30-16 M30X2 |15/16'X12UN| 22 | - 40 |17.5| 15 | 34 | 41 36 | 163 | 160
S1C0-36-12 M36X2 |1.116'X12UN| 28 |33.3| 40 |17.5| 15 | 34 | 41 41 | 152 | 160 g
S1C0-36-16 M36X2 |15/16'X12UN| 28 | - 40 |17.5| 15 | 34 | 41 41 [ 163 | 160 oo
S1C0-45-16 M45X2 |15/16'X12UN| 35 [39.6| 43 |17.5| 15 | 39 | 46 | 50 | 222 | 160
S1C0-45-20 M45X2 | 158'X12UN | 35 | - 43 |17.5| 15 | 39 | 50 | 50 | 257 | 160
S1C0-52-20 M52X2 | 158'X12UN | 42 |47.7| 45 | 19 15 | 42 | 55 | 60 | 339 | 160
S1DO-16-04 | M16X1.5| 7/16'X20UNF | 08 | - 31 13 11 30 | 17 | 19 | 33 630
S1D0O-18-06 |M18X1.5| 916'X18UNF | 10 | - 32 |12.5| 12 | 31 19 | 22 | 42 630
S1D0-20-06 |M20X1.5|916'X18UNF| 12 | 19 | 32 |12.5| 12 | 31 | 22 | 24 | 50 630
S1D0-20-08 | M20X1.5| 3/4'X16UNF | 12 | - 36 [14.5| 14 | 34 | 24 | 24 | 73 630
S1D0-24-08 |M24X1.5| 34'XI6UNF | 16 | - 35 [12.5| 14 | 34 | 24 | 30 | 90 | 400
S1D0-24-10 |M24X1.5| 7/8'X14UNF | 16 | - 40 (15,5 16 | 37 | 27 | 30 | 95 | 400
S1D0O-30-08 M30X2 | 34'X16UNF | 20 |23.9| 42 |17.5| 14 | 42 | 32 | 36 | 132 | 400 s
S1D0-30-10 M30X2 | 78'X14UNF | 20 |26.9| 44 |17.5| 16 | 42 | 32 | 36 | 141 | 400
S1D0-30-12 M30X2 |1.116'X12UN| 20 | - 46 | 17 |18.5| 42 | 32 | 36 | 163 | 400
S1D0-36-12 M36X2 |1.116'X12UN| 25 |33.3| 50 |19.5|/18.5| 47 | 36 | 46 | 206 | 400
S1D0O-36-16 M36X2 |15/16'X12UN| 25 | - 50 [19.5|18.5| 47 | 41 46 | 258 | 400
S1D0-42-16 M42X2 |1516'X12UN| 30 |39.6] 52 | 20 |18.5| 50 | 46 | 50 | 327 | 400
S1D0-42-20 M42X2 | 158°X12UN | 30 | - 52 | 20 |18.5| 50 | 50 | 50 | 422 | 400
S1D0-52-20 M52X2 | 158'X12UN | 38 |47.7| 57 |22.5|/18.5| 57 | 55 | 60 | 554 | 315
VE: TR KRR ETI, WIEE SR “RN” L 1IS1CO-30-12/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, it is
necessary to insert suffix “RN” after our part NO, for example S1CO-30-12/RN.

12/ ZfR s &2



®
ADAPTER Z4#iDINtZ&3t METRIC Thread Bite Type Tube Fitting Sa nn ke

&
R

®

1k ADAPTER /#DiN-f33t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

S1CT-SP TEHEAS SN AL

S1CT-SP/RN BSPT MALE
i e 24 THREAD ETIE J&-I DIMENSIONS FE(TEED R
L2 PART NO. T T2 D1 | L1 | L2 | L3 | L4 | s1 | s2 |si/fF| (bar) |51

S1CT-12-02SP | M12X1.
S1CT-12-04SP | M12X1.
S1CT-14-02SP | M14X1
S1CT-14-04SP | M14X1
: S1CT-16-04SP | M16X1.
st S1CT-18-04SP | M18X1.
S1CT-18-06SP | M18X1.
L . S1CT-18-08SP | M18X1.
S1CT-22-06SP | M22X1.

R1/8"X28 | 06 | 22 | 15 8 30 | 12 | 14 | 11 315
R1/4"X19| 06 | 27 | 20 | 12 | 35 | 17 | 14 | 24 | 315
R1/8"X28 | 08 | 23 | 16 8 31 17 | 17 | 15 | 315
R1/4"X19| 08 | 27 | 20 | 12 | 85 | 17 | 17 | 22 | 315
R1/4"X19| 10 | 28 | 21 12 | 36 | 17 | 19 | 24 | 315
R1/4"X19| 12 | 29 | 22 | 12 | 37 | 19 | 22 | 53 | 315
R3/8"X19| 12 | 29 | 22 | 12 | 37 | 19 | 22 | 33 | 315
R1/2"X14| 12 | 31 | 24 | 14 | 39 | 24 | 22 | 53 | 315 |L
R3/8"X19| 15 | 30 | 23 | 12 | 38 | 24 | 27 | 49 | 315
S1CT-22-08SP | M22X1. R1/2"X14 | 15 | 32 | 25 | 14 | 40 | 24 | 27 | 59 | 315
S1CT-26-08SP | M26X1. R1/2"X14| 18 | 33 |25.5| 14 | 42 | 27 | 32 | 64 | 315
S1CT-30-12SP | M30X2 R3/4"X14 | 22 | 37 |29.5| 16 | 46 | 32 | 36 | 99 | 160
S1CT-36-16SP | M36X2 R1"X11 28 | 40 |32.5| 18 | 49 | 41 | 41 | 154 | 160
S1CT-45-20SP | M45X2 |R1.1/4"X11] 35 | 45 |34.5| 20 | 56 | 46 | 50 | 238 | 160
S1CT-52-24SP | M52X2 |R1.1/2"X11| 42 | 49 | 38 | 22 | 61 | 55 | 60 | 335 | 160

e W R E A REBRAEEIT ST, WEEACT S “RN” , W1S1CT-30-12SP/RN,
Note: Incaseif you are interested to order the adapter in complete set with cutting ring and
nut, itis necessary toinsert suffix “RN” after our part NO, for example S1CT-30-12SP/RN.

]

T1
@D1
—
L

o|o|o|lo|o|lo|lo oo oo

S1CN/RN. S1DN/RN NPT MALE
e, B4 THREAD  [H ¥tk J3 DIMENSIONS TR TR R
- - PART NO. T T2 D1 [ L1 [ L2 [ L3 [ L4 | s1 [ s2 |[su/ff (ban |41
- S1CN-12-02 | M12X1.5 |NPT18"X27| 6 | 24 | 17 | 10 | 32 | 12 | 14 | 12 | 315
S1CN-12-04 | M12X1.5 |NPT1/4"X18| 6 | 30 | 23 |14.5| 38 | 17 | 14 | 27 | 315
E S1CN-12-06 | M12X1.5 |NPT3/8"X18| 6 | 30 | 23 |14.5| 38 | 19 | 14 | 32 | 315
8l Wil S1CN-12-08 | M12X1.5 [NPT12"X14| 6 | 36 | 29 [19.5| 44 | 22 | 14 | 53 | 315
! - S1CN-14-02 | M14X1.5 |[NPT1/8"X27| 8 | 25 | 18 | 10 | 33 | 14 | 17 | 16 | 315
Ns M2 S1CN-14-04 | M14X1.5 [NPT1/4"X18| 8 | 30 | 23 |14.5| 38 | 17 | 17 | 25 | 315
S1CN-14-06 | M14X1.5 |NPT3/8"X18| 8 | 30 | 23 |14.5| 38 | 19 | 17 | 34 | 315
. S1CN-14-08 | M14X1.5 |NPT12"X14| 8 | 36 | 29 |19.5| 44 | 22 | 17 | 54 | 315
S1CN-16-02 | M16X1.5 |NPT1/8"X27| 10 | 25 | 18 | 10 | 33 | 17 | 19 | 19 | 315
, w S1CN-16-04 | M16X1.5 [NPT1/4"X18| 10 | 31 | 24 |14.5| 39 | 17 | 19 | 25 | 315
o T T | S10N-16-06 [ Mt6X1.5 [NPTaB " Xis| 10 | 82 | 25 [14.5] 40 | 19 [ 19 | 40 | 315
5 1 k | S1CN-16-08 | M16X1.5 [NPT1/2"X14| 10 | 37 | 30 |19.5| 45 | 22 | 19 | 54 | 315
\ ‘E ' S1CN-16-12 | M16X1.5 |NPT3/4"X14| 10 | 38 | 31 |19.5| 46 | 30 | 19 | 93 | 315 |L
\s2 S1CN-18-02 | M18X1.5 |NPT18"X27| 12 | 26 | 19 | 10 | 34 | 19 | 22 | 52 | 315
S1CN-18-04 | M18X1.5 |NPT1/4"X18| 12 | 32 | 25 |14.5| 40 | 19 | 22 | 31 | 315
S1CN-18-06 | M18X1.5 |NPT3/8"X18| 12 | 32 | 25 [14.5| 40 | 19 | 22 | 37 | 315
g7 4 S1CN-18-08 | M18X1.5 |NPT12"X14| 12 | 37 | 30 |19.5| 45 | 22 | 22 | 62 | 315
(] e S1CN-22-06 | M22X1.5 |NPT3/8"X18| 15 | 33 | 26 |14.5| 41 | 24 | 27 | 53 | 315
Y [l S1CN-22-08 | M22X1.5 |NPT1/2"X14| 15 | 38 | 31 |19.5| 46 | 24 | 27 | 63 | 315
' S1CN-22-12 | M22X1.5 |NPT3/4"X14| 15 | 39 | 32 |19.5| 47 | 30 | 27 | 112 | 315
S1CN-22-16 | M22X1.5 |NPT1"X115| 15 | 45 | 38 |24.5| 53 | 36 | 27 | 158 | 315
S1CN-26-06 | M26X1.5 |NPT3/8"X18| 18 | 34 |26.514.5| 43 | 27 | 32 | 69 | 315
S1CN-26-08 | M26X1.5 |NPT1/2"X14| 18 | 39 |31.519.5| 48 | 27 | 32 | 79 | 315
S1CN-26-12 | M26X1.5 |NPT3/4"X14| 18 | 39 |31.5]19.5| 48 | 30 | 32 | 104 | 315
S1CN-26-16 | M26X1.5 |NPT1"X115| 18 | 45 |37.5|24.5| 54 | 36 | 32 | 159 | 315

N3/ = R EZ

S1CN. S1DN AL SR
S1CN/RN, S1DN/RN NPT MALE
o= 124 THREAD ETHME JUst DIMENSIONS FE | THEH &
P PARTNO. | Ti T2 DI [ L1 [ L2 | (3] La]st]s2|wf (ba)|s
3 S1CN-30-06 | M30X2 NPT3/8 " X18 22 36.5| 29 |14.5| 45 32 | 36 | 91 315
S1CN-30-08 | M30X2 NPT12 " X14 22 41 |33.5(19.5| 50 | 32 | 36 | 96 160
S1CN-30-12 | M30X2 NPT3/4 " X14 22 41 |33.5(19.5| 50 | 32 | 36 | 108 | 160
= élf . ~1R- S1CN-30-16 | M30X2 NPT1 " X11.5 22 47 |39.5(24.5| 56 | 36 | 36 | 174 | 160
LL_JJ S1CN-36-12 | M36X2 NPT3/4 " X14 28 42 |34.5(19.5| 51 41 41 | 157 | 160 L
. S1CN-36-16 | M36X2 NPT1 " X11.5 28 47 |39.5(24.5| 56 | 41 41 | 197 | 160
s1 = S1CN-36-20 | M36X2 |NPT11/4"X115| 28 49 |41.5| 25 | 58 | 46 | 41 | 266 | 160 E
S1CN-45-16 | M45X2 NPT1 " X11.5 85 50 |39.5(24.5| 61 46 | 50 | 280 | 160
£ S1CN-45-20 | M45X2 |NPT1.1/4" X115 35 51 |40.5| 25 62 46 | 50 | 285 | 160
S1CN-52-20 | M52X2 |NPT1.1/4" X115 42 53 | 42 | 25 | 65 | 55 | 60 | 382 | 160
E i w S1CN-52-24 | M52X2 |NPT1.12" X115 42 53 | 42 | 26 | 65 | 55 | 60 | 377 | 160
%'T — T |S1DN-14-02 | M14X1.5| NPT1/8" X27 06 28 | 21 10 | 36 14 | 17 | 21 630
L}_}:.{jl ! S1DN-14-04 | M14X1.5 | NPT1/4"X18 06 35 | 28 [14.5| 43 17 | 17 | 37 630
‘\..52 S1DN-14-06 | M14X1.5 | NPT38 " X18 06 33 | 26 [14.5| 41 19 | 17 | 40 630 ‘F
S1DN-14-08 | M14X1.5 | NPT12" X14 06 42 35 |19.5| 50 22 17 | 71 630 E
S1DN-16-04 | M16X1.5 | NPT1/4" X18 08 35 | 28 |14.5| 43 17 | 19 | 38 630 =%
S1DN-16-06 | M16X1.5 | NPT38 " X18 08 35 | 28 |14.5| 43 19 | 19 | 46 630
S1DN-16-08 | M16X1.5 | NPT12 " X14 08 42 | 35 |19.5| 50 | 22 | 19 | 73 630
S1DN-18-04 | M18X1.5 | NPT1/4" X18 10 35 |27.5|14.5| 44 19 | 22 | 45 630
S1DN-18-06 | M18X1.5 | NPT3/8 " X18 10 35 |27.5|14.5| 44 19 | 22 | 49 630
S1DN-18-08 | M18X1.5 | NPT12"X14 10 42 |34.5/19.5| 51 22 | 22 | 73 630
S1DN-18-12 | M18X1.5 | NPT3/4 " X14 10 44 136.5/19.5| 53 | 30 | 22 | 125 | 630
S1DN-20-04 | M20X1.5 | NPT1/4" X18 12 37 |29.5|/14.5| 46 | 22 | 24 | 57 630
S1DN-20-06 | M20X1.5 | NPT3/8 " X18 12 37 |29.5|145| 46 | 22 | 24 | 62 630
S1DN-20-08 | M20X1.5 | NPT12" X14 12 42 |34.5(19.5| 51 22 | 24 | 83 630
S1DN-20-12 | M20X1.5 | NPT3/4 " X14 12 44 |36.5(19.5| 53 | 30 | 24 | 126 | 630
S1DN-22-06 | M22X1.5 | NPT38 " X18 14 39 | 31 (14.5| 49 | 24 | 27 | 77 630
S1DN-22-08 | M22X1.5 | NPT12 " X14 14 44 | 36 [19.5| 54 | 24 | 27 | 89 630
S1DN-22-12 | M22X1.5 | NPT3/4 " X14 14 46 | 38 [19.5| 56 | 30 | 27 | 130 | 630 S
S1DN-22-16 | M22X1.5 | NPT1" X115 14 51 43 |24.5| 61 36 | 27 | 180 | 630
S1DN-24-06 | M24X1.5 | NPT3/8 " X18 16 39 |30.5|14.5| 49 | 27 | 30 | 84 | 400
S1DN-24-08 | M24X1.5 | NPT12 " X14 16 48 |39.5(19.5| 58 | 27 | 30 | 97 | 400
S1DN-24-12 | M24X1.5 | NPT3/4 " X14 16 46 |37.5/19.5| 56 | 30 | 30 | 130 | 400
S1DN-24-16 | M24X1.5 | NPT1" X115 16 53 |44.5|24.5| 61 36 | 30 | 178 | 400
S1DN-30-08 | M30X2 NPT1/2 " X14 20 48 |37.5|19.5| 59 32 | 36 | 144 | 400
S1DN-30-12 | M30X2 NPT3/4 " X14 20 48 |37.5/19.5| 59 | 32 | 36 | 149 | 400
S1DN-30-16 | M30X2 NPT1 " X115 20 55 |44.5|24.5| 66 | 36 | 36 | 243 | 400
S1DN-36-12 | M36X2 NPT3/4 " X14 25 52 | 40 |19.5] 64 | 41 46 | 240 | 400
S1DN-36-16 | M36X2 | NPT1"X115 25 57 | 45 |24.5| 69 | 41 | 46 | 278 | 400
S1DN-36-20 | M36X2 |NPT1.1/4" X115 25 58 | 46 | 25 | 70 | 46 | 46 | 396 | 400
S1DN-36-24 | M36X2 |NPT1.12"X115 25 61 49 | 26 | 73 | 50 | 46 | 469 | 400
S1DN-42-12 | M42X2 NPT3/4 " X14 30 54 |40.5(19.5| 67 | 46 | 50 | 307 | 400
S1DN-42-16 | M42X2 NPT1 " X11.5 30 59 |455|24.5| 72 46 | 50 | 343 | 400
S1DN-42-20 | M42X2 |NPT1.1/4" X115 30 60 |46.5| 25 | 73 | 46 | 50 | 397 | 400
S1DN-42-24 | M42X2 |NPT1.12" X115 30 60 |46.5| 26 | 73 | 50 | 50 | 440 | 400
S1DN-52-16 | M52X2 NPT1 " X11.5 38 64 | 48 |24.5| 79 | 55 | 60 [ 510 | 315
S1DN-52-20 | M52X2 |NPT1.1/4" X115 38 65 | 49 | 25 | 80 | 55 | 60 | 535 | 315
S1DN-52-24 | M52X2 |NPT1.1/2" X115 38 65 | 49 | 26 | 80 | 55 | 60 | 571 | 315
W WA RE R R BB T, WEEEA S S “RN” , WS1CN-30-12/RN,
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example STCN-30-12/RN.

114/ = MR A ERE



® ®

»

% ); ADAPTER #ipiN#3t METRIC Thread Bite Type Tube Fitting Sannke 198 1% ADAPTER #iDiN-3t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

S2HC-W AHISMBEURE S /2 R8240 HEOR! I i bt S2GC-W YERPIRLL O TR A SR B/ A I K 2 8024° HE O 2 25
S2HD-W METRIC THREAD STUD ENDS/METRIC FEMALE 24° CONE O-RING SEALING S2GD-W BSP THREAD STUD ENDS WITH O-RING SEALING/METRIC FEMALE 24° CONE O-RING SEALING
(=2 1240 THREAD AR Ji~} DIMENSIONS EE(THEEN &R =2 1240 THREAD ETHMR Ji~} DIMENSIONS TR =
PART NO. T T2 D1 | D2 | L1 | L2 | 81 | S2 ve/1F| (Bar)| 41 PART NO. T1 T2 D1 | D2 | L1 | L2 | 81 | 82 vio/fF| (Bar)| 5l
S2HC-10-12W| M10X1 M12X1.5 | 06 [13.8]24.5| 8.5 | 14 | 14 29 | 500 o S2GC-02-12W| G1/8'X28 | M12X1.5 | 06 | 14 |24.5| 8 | 14 | 14 29 | 500
u S2HC-12-14W| M12X1.5 | M14X1.5 | 08 |16.8|26.5| 11 | 17 | 17 43 | 500 S2GC-04-14W | G1/4'X19 | M14X1.5 | 08 | 19 [29.5| 12 | 19 | 17 30 | 500
i S2HC-14-16W| M14X1.5 | M16X1.5 | 10 |18.8/27.5| 11 | 19 | 19 57 | 500 S2GC-04-16W | G1/4'X19 | M16X1.5 | 10 | 19 |27.5| 12 | 19 | 19 55 | 500
o i - T S2HC-16-18W| M16X1.5 M18X1.5 12 (21.8|30.5|(11.5| 22 22 85 400 S2GC-06-16W | G3/8"X19 Mi6X1.5 10 20 29 12 20 19 75 400
271 “— 7 2% [s2HC-18-22w| M18X1.5 | M22X1.5 | 15 [23.8]31.5|12.5] 24 | 27 115 ] 400 | S2GC_06-18W| G3/8"'X19 | M18X15 | 12 | 22 | 34 | 12 | 22 | 22 98 | 400
P S2HC—22-26W| M22X1.5 | M26x1.5 | 18 |26.8][31.5] 13 | 27 | 32 452 | 400 S2GC-0418W| G1/a'x19 | Miaxis | 12 | 19 [275] 12 | 19 | 22 57 | 200
~2 s e zgzg‘iz‘gm migg mgg}’g iz 2;'2 3;5 12 if i? ;gz ;28 S2GC-08-18W| G1/2'X14 | M18X15 | 12 | 27 |29.5| 14 | 27 | 22 116 | 400 | E
SoHo—2-25W| Maoxa MaBxo a5 298225 16 | 50 | 50 516 | 250 S2GC-08-22W| G1/2'X14 | M22X15 | 15 | 27 | 32 | 14 | 27 | 27 140 | 400
ST NG Ve o I e o E o 1 e —18 | 250 S2GC-08-26W| G1/2'X14 | M26X1.5 | 18 | 27 [31.5| 14 | 27 | 32 145 | 400
S2HD-12-14W| M12X1.5 | M14X1.5 | 06 [16.8] 27 | 11 | 17 | 17 49 | 800 SHEIG AR ERiR e L ERNs LT | e B L1 | e L e gt L 20
TR S I el L E N e EE N BT R S2GC-12-30W| G3/4'X14 | M30X2 | 22 | 32 [32.5| 16 | 32 | 36 2004| 250
S2HD-16-18W| M16X1.5 | M18X1.5 | 10 |21.8| 32 [12.5] 22 | 22 96 | 800 2265 [ 35 il T 2 0 e O 0 1 (R OIS 292 | 250
SOHD-18-20W| M18X1.5 | M20X1.5 | 12 |23.8| 34 | 14 | 24 | 24 116 | 630 S2GC-20-45W| G1.1/4"X11| M45X2 | 35 | 50 |42.5| 20 | 50 | 50 506 | 250
S2HD-22-24W| M22X1.5 | M24x1.5 | 16 |26.8| 37 | 15 [ 27 | 30 179 | 630 | s S2GC-24-52W| G1.1/2"X11| MS52X2 | 42 | 55 |46.5| 22 | 55 | 60 722 | 250
S2HD-27-30W| M27X2 M30X2 20 |31.8| 43 [18.5| 32 | 36 280 | 420 S2GD-04-14W| G1/4'X19 | M14X15 | 06 | 19 | 27 | 12 | 19 | 17 55 | 800 +*
S2HD-33-36W| M33X2 M36X2 25 |40.8] 48 [18.5| 41 | 46 502 | 420 S2GD-04-16W| G1/4'X19 | M16X1.5 | 08 | 19 [29.5| 12 | 19 | 19 66 | 800 =
S2HD-42W M42X2 M42X2 30 [49.8| 51 | 19 | 50 | 50 697 | 420 S2GD-06-18W| G3/8'X19 | M18X15 | 10 | 22 | 32 | 12 | 22 | 22 94 | 800 =
S2HD-48-52W| M48X2 M52X2 38 |54.8| 60 |[21.5| 55 | 60 965 | 420 S2GD-06-20W| G3/8'X19 | M20X15 | 12 | 22 | 34 | 12 | 22 | 24 103 | 630
VAR s 4SS 5 i “DQ” , WS2HD-33-36WDQ S2GD-04-20W | G1/4"X19 M20X1.5 12 19 |31.5| 12 19 24 142 | 630
Note: Ifyguinterestedtoordertheadapterwithretainerring,pleaseinsert S2GD-08-20W | G1/2'X14 | M20X1.5 | 12 | 27 | 35 | 14 | 27 | 24 142 | 630 R
suffix"DQ" after our Part No,for example S2HD-33-36WDQ S2GD-08-22W| G1/2"X14 | M22X1.5 | 14 | 27 |36.5| 14 | 27 | 27 160 | 630
S2GD-08-24W| G1/2'X14 | M24X15 | 16 | 27 | 37 | 14 | 27 | 30 173 | 630
S2GD-12-30W| G3/4'X14 | M30X2 | 20 | 32 | 43 | 16 | 32 | 36 276 | 420
S2GD-16-36W| G1"X11 M36X2 | 25 | 40 | 48 | 18 | 41 | 46 496 | 420
S2GD-20-42W | G1.1/4"'X11| M42X2 | 30 | 50 | 51 | 20 | 50 | 50 695 | 420
S2GD-24-52W | G1.1/2"X11| M52X2 | 38 | 55 | 60 | 22 | 55 | 60 938 | 420
S2MC-WDW A HINREUR R B REIRERO0° HE% 1/ A HI N IR Lr24° HE O 71 e 1 ilzﬁ%fi?ﬁa%%li%ﬁ:ﬁ%ﬁtn “DQ” , WIS2GC-12-30WDQ
o o Note: If you interested to orderthe adapter with retainer ring,please insert
S2MD-WDW METRIC THREAD WITH CAPTIVE SEAL OR 60° SEAT SEALING/METRIC FEMALE 24° CONE O-RING SEALING su¥fix"DO" after our Part No. for e)‘()ample S2GC-1 2_38\/‘\’/[)0
R 24 THREAD ETAME JU:I DIMENSIONS | TR S| %
PART NO. T T2 D1 | D2 | L1 L2 | St S2 /1| (bar) |1
S2MC-10-12WDW| M10X1 | M12X1.5 | 06 | 14 |245| 8 | 14 | 14 27 | 500
S2MC-12-14WDW| M12X1.5 | M14X1.5 | 08 | 17 [26.5| 12 17 17 45 500
S2MC-14-16WDW| M14X1.5 | M16X1.5 | 10 | 19 [27.5| 12 19 19 57 500
S2MC-16-18WDW| M16X1.5 | M18X1.5 | 12 | 22 [30.5| 12 22 | 22 82 400
S2MC-22-18WDW| M22X1.5 | M18X1.5 | 12 | 27 | 27 14 27 | 22 921 | 400
S2MC-18-22WDW| M18X1.5 | M22X1.5 | 15 | 24 [31.5| 12 24 | 27 113 | 400 .
SOMC-22WDW | M22X1.5 | M22X1.5 | 15 | 27 | 32 | 14 | 27 | 27 142 | 400
S2MC-22-26WDW| M22X1.5 | M26X1.5 | 18 | 27 |31.5| 14 | 27 | 32 148 | 400
S2MC-26-30WDW| M26X1.5 | M30X2 22 | 32 |32.5] 16 32 | 36 203 | 250
S2MC-33-36WDW| M33X2 M36X2 28 | 40 | 35 18 41 41 289 | 250
S2MC-42-45WDW| M42X2 | M45X2 | 35 | 50 [42.5| 20 | 50 | 50 511 | 250
S2MC-48-52WDW| M48X2 | M52X2 | 42 | 55 |46.5| 22 | 55 | 60 711 | 250
S2MD-12-14WDW| M12X1.5 | M14X1.5 | 06 | 17 | 27 | 12 | 17 | 17 47 | 800
S2MD-14-16WDW| M14X1.5 | M16X1.5 | 08 | 19 [29.5| 12 19 19 65 800
S2MD-16-18WDW| M16X1.5 | M18X1.5 | 10 | 22 | 32 12 22 | 22 91 800
S2MD-18-20WDW| M18X1.5 | M20X1.5 | 12 | 24 | 34 12 24 | 24 112 | 630
S2MD-20-22WDW| M20X1.5 | M22X1.5 | 14 | 26 |36.5| 14 | 27 | 27 153 | 630 |
S2MD-22-24WDW| M22X1.5 | M24X1.5 | 16 | 27 | 37 | 14 | 27 | 30 174 | 630
S2MD-27-30WDW| M27X2 | M30X2 |20 | 32 | 43 | 16 | 32 | 36 274 | 420
S2MD-33-36WDW| M33X2 M36X2 25 | 40 | 48 18 41 46 497 | 420
S2MD-42WDW M42X2 M42X2 30 | 50 | 51 20 50 | 50 691 | 420
S2MD-48-52WDW| M48X2 M52X2 38 | 55 | 60 | 22 55 | 60 957 | 420

115/ =M s st 116/ Zf R iR =t



®
1L P84 ) ADAPTER /Aspinzst METRIC Thread Bite Type Tube Fitting Sannke

J\j:

®
IEH): ADAPTER 4#iDINEZEst METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

#02
T1
!

S2BC-WDW
S2BD-WDW

-

PR R OB R BT ER60° HEW B/ A I IR E24° HEOZY B

BSP THREAD WITH CAPTIVE SEAL OR 60° SEAT SEALING/METRIC FEMALE 24° CONE O-RING SEALING

JT) #24r THREAD HThME Ji~} DIMENSIONS P IJ’EEjj =
PART NO. iE T2 DI [ D2 | L1 [ L2 s1]s2 /1| (bar) |31
SPBC-02-12WDW| G1/8'X28 | M12X1.5| 06 | 14 |245| 8 | 14 | 14 27 | 500
SOBC-04-14WDW| G1/4'X19 |M14X1.5| 08 | 19 |29.5| 12 | 19 | 17 26 | 500
S2BC-04-16WDW| G1/4"X19 | M16X1.5| 10 | 19 |27.5| 12 | 19 | 19 54 | 500
S2BC-06-16WDW| G3/8"X19 |M16X1.5| 10 | 22 | 29 | 12 | 22 | 19 70 | 400
S2BC-06-18WDW| G3/8"X19 | M18X1.5| 12 | 22 | 34 | 12 | 22 | 22 95 | 400
SPBC-04-18WDW| G1/4"X19 |M18X1.5| 12 | 19 |27.5] 12 | 19 | 22 65 | 400
SOBC-08-18WDW| G1/2'X14 |M18X1.5| 12 | 27 |29.5| 14 | 27 | 22 114 ] 400 |
SPBC-08-22WDW| G1/2'X14 |M22X1.5| 15 | 27 | 32 | 14 | 27 | 27 137 | 400
SPBC-08-26WDW| G1/2'X14 | M26X1.5| 18 | 27 |31.5| 14 | 27 | 32 143 | 400
S2BC-12-26WDW | G3/4"X14 | M26X1.5| 18 | 32 |29.5| 16 | 32 | 32 182 | 250
S2BC-12-30WDW| G3/4"X14 | M30Xx2 | 22 | 32 |32.5] 16 | 32 | 36 200 | 250
S2BC-16-36BWDW| G1"X11 | M36X2 | 28 | 40 | 35 | 18 | 41 | 41 289 | 250
S2BC-20-45WDW | G1.1/4'X11| M45X2 | 35 | 50 |42.5| 20 | 50 | 50 500 | 250
SPBC-24-52WDW | G1.1/2'X11| M52X2 | 42 | 55 |46.5| 22 | 55 | 60 718 | 250
SOBD-04-14WDW| G1/4'X19 | M14X1.5| 06 | 19 | 27 | 12 | 19 | 17 53 | 800
S2BD-04-16WDW| G1/4'X19 | M16X1.5| 08 | 19 |29.5| 12 | 19 | 19 64 | 800
S2BD-06-18WDW| G3/8"X19 | M18X1.5| 10 | 22 | 32 | 12 | 22 | 22 93 | 800
S2BD-06-20WDW | G3/8'X19 | M20X1.5| 12 | 22 | 34 | 12 | 22 | 24 100 | 630
S2BD-04-20WDW | G1/4"X19 | M20X1.5 | 12 | 19 [31.5| 12 | 19 | 24 140 | 630
S2BD-08-20WDW| G1/2'X14 |M20X1.5 | 12 | 27 | 35 | 14 | 27 | 24 140 | 630 |
S2BD-08-22WDW| G1/2'X14 | M22X1.5| 14 | 27 |36.5| 14 | 27 | 27 157 | 630
S2BD-08-24WDW| G1/2'X14 |M24X1.5| 16 | 27 | 37 | 14 | 27 | 30 170 | 630
S2BD-12-30WDW | G3/4"X14 | M30X2 | 20 | 32 | 43 | 16 | 32 | 36 273 | 420
SOBD-16-36WDW| G1"X11 | M36X2 | 25 | 40 | 48 | 18 | 41 | 46 493 | 420
S2BD-20-42WDW | G1.1/4"X11| M42X2 | 30 | 50 | 51 | 20 | 50 | 50 691 | 420
S2BD-24-52WDW | G1.1/2'X11| M52X2 | 38 | 55 | 60 | 22 | 55 | 60 934 | 420

117/ Zf R A&z

S$1CG9-0G. S1DGI9-0G
§1CG9-0G/RN, S1DG9-0G/RN

T1

12

S1CG4-0G, S1DG4-0G
§1CG4-0G/RN, S1DG4-0G/RN

45° 5B IRECAT I O BB R
45° ELBOW BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

5 W2 THREAD [ ¢ JX-} DIMENSIONS R | TEEN %
PART NO. T1 T2 D1 |L1| L2 | L3 | L4 | S1 | S2 | S3 |m/f| (Bar)|5l

S1CG4-12-020G |M12X1.5| G1/8"X28| 06 | 9 | 16 | 28 | 24 | 14 | 14 | 14 | 30 | 315

S1CG4-14-040G |M14X1.5| G1/4"X19| 08 |12 | 19 | 29 | 27 | 14 | 19 | 17 | 50 | 315

S1CG4-16-060G |M16X1.5| G3/8"X19| 10 (15| 22 | 30 | 30 | 16 | 22 | 22 | 81 | 315

S1CG4-18-060G |M18X1.5| G3/8"X19| 12 | 14 | 21 | 37 | 28 | 19 | 22 | 22 | 85 | 250

S1CG4-22-080G |M22X1.5| G1)2"X14| 15 | 17 | 24 | 39 | 32 | 22 | 27 | 27 | 150 | 250

S1CG4-26-080G | M26X1.5| G1/2"X14| 18 | 17 |245| 45 | 33 | 27 | 27 | 32 | 180 | 250

S1CG4-30-120G | M30X2 | G3/4"X14| 22 | 19 |26.5| 50 | 35 | 30 | 36 | 36 | 276 | 160

S1CG4-36-160G | M36X2 | G1"X11 | 28 | 23 |30.5| 52 | 40 | 36 | 41 | 41 | 453 | 160 E
S1CG4-45-200G | M45X2 |G1.1/4"X11| 35 | 27 |37.5| 54 | 48 | 50 | 50 | 50 | 680 | 160

S1CG4-52-240G | M52X2 |G1.1/2"X11| 42 | 26 | 37 | 54 | 49 | 50 | 55 | 60 | 888 | 160

S1DG4-14-040G |M14X1.5| G1/4"X19/ 06 | 9 | 16 | 28 | 24 | 14 | 19 | 17 | 57 | 315

S1DG4-16-040G |M16X1.5| G1/4"X19| 08 | 12 | 19 | 32 | 27 | 19 | 19 | 19 | 67 | 315

S1DG4-18-060G |M18X1.5| G3/8"X19| 10 | 13 |20.5| 34 | 29 | 19 | 22 | 22 | 92 | 250

S1DG4-20-060G | M20X1.5| G3/8"X19| 12 | 17 [245| 34 | 33 | 19 | 22 | 24 | 100 | 250

S1DG4-22-080G |M22X1.5| G1/2"X14| 14 | 22 | 30 | 40 | 36 | 22 | 27 | 27 | 153 | 250 | S

S1DG4-24-080G | M24X1.5| G1/2"X14| 16 | 16 |[24.5| 44 | 34 | 27 | 27 | 30 | 163 | 250

SE ik oA

S1DG4-30-120G | M30X2 | G3/4"X14| 20 | 16 |26.5| 46 | 38 | 27 | 36 | 36 | 284 | 250

S1DG4-36-160G | M36X2 | GI"X11 |25 |19 | 31 | 51 | 43 | 36 | 41 | 46 | 475 | 250

S1DG4-42-200G | M42X2 |G1.1/4"X11| 30 | 24 |37.5| 53 | 50 | 50 | 50 | 50 | 577 | 160

oy R BN RSB EIT 5t , WIEER S 5 “RN” , 41 S1DG4-20-060G/RN
G B A S 5 “DQ” , W1 S1DG4-20-060GDQ
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example S1DG4-20-060G/RN
with retainer ring please insert suffix “DQ” after our part NO,for example S1DG4-20-060GDQ

Q0° 5 BLFFURLTT YA O P B R
90° ELBOW BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING

L3

foE B4 THREAD |64 JE-I DIMENSIONS EHETEED | R
PART NO. T1 T2 D1 L1 L2 | L3 | L4 | S1 | s2 | s3 |w/fF (Bar) |5

S1CG9-14-040G | M14X1.5 | G1/4"X19 | 08 | 23 | 16 | 32 | 31 14 | 19 | 17 | 59 | 315

S1CG9-16-040G | M16X1.5 | G1/4'X19 | 10 | 24 | 17 | 34 | 32 | 19 | 19 | 19 | 82 | 315

S1CG9-18-060G | M18X1.5 | G3/8'X19 | 12 | 26 | 19 | 37 | 34 | 19 | 22 | 22 | 96 | 250

S1CG9-22-080G | M22X1.5 | G1/2'X14 | 15 | 28 | 21 | 43 | 36 | 22 | 27 | 27 | 149 | 250

4

S1CG9-26-080G | M26X1.5 | G1/2'X14 | 18 | 31 | 24 | 49 | 40 | 27 | 27 | 32 | 221 | 250

S1CG9-30-120G| M30X2 | G3/4'X14 | 22 | 35 | 28 | 49 | 44 | 30 | 36 | 36 | 310 | 160

S1CG9-36-160G | M36X2 G1"X11 | 28 | 38 | 31 | 59 | 47 | 36 | 41 | 41 | 455 | 160

S1CG9-45-200G| M45X2 |G1.1/4"X11) 35 | 48 | 38 | 65 | 59 | 50 | 50 | 50 [1043| 160

S1CG9-52-240G| M52X2 |G1.1/2"X11| 42 | 49 | 38 | 67 | 61 50 | 55 | 60 | 994 | 160

S1DG9-14-040G | M14X1.5 | G1/4"X19 | 06 | 22 | 15 | 32 | 30 | 14 | 19 | 17 | 56 | 315

S1DGY-16-040G | M16X1.5 | G1/4"X19 | 08 | 24 | 17 | 36 | 32 | 19 | 19 | 19 | 88 | 315

S1DG9-18-060G | M18X1.5 | G3/8'X19 | 10 | 25 | 18 | 38 | 34 | 19 | 22 | 22 | 98 | 250

S1DG9-20-060G | M20X1.5 | G3/8'X19 | 12 | 29 | 22 | 38 | 38 | 22 | 22 | 24 | 128 | 250

S1DG9-22-080G | M22X1.5 | G1/2'X14 | 14 | 30 | 22 |43.2| 40 | 22 | 27 | 27 | 147 | 250 S

S1DG9-24-080G | M24X1.5 | G1/2'X14 | 16 | 33 | 25 | 49 | 43 | 27 | 27 | 30 | 234 | 250

S1DG9-30-120G| M30X2 | G3/4'X14 | 20 | 38 | 28 | 51 | 49 | 30 | 36 | 36 | 344 | 250

S1DG9-36-160G | M36X2 G1'X11 | 25 | 42 | 30 | 58 | 54 | 36 | 41 | 46 | 533 | 250

S1DG9-42-200G | M42X2 |G1.1/4"X11| 30 | 49 | 36 | 64 | 62 | 50 | 50 | 50 |1085| 160

S1DGY-52-240G| M52X2 |G1.1/2"X11| 38 | 50 | 34 | 70 | 65 | 50 | 55 | 60 |1116] 160

Wt FE L REBRRRET 5, WIEERSFN “RN” , 41S1DG9-20-060G/RN
WP s AR S A n “DQ” , W S1DG9-20-060GDQ

Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,

itis necessary to insert suffix “RN” after our part NO, for example S1DG9-20-060G/RN

with retainer ring please insert suffix “DQ” after our part NO,for example S1DG9-20-060GDQ

118/ =R A E =1t



18 %)k ADAPTER /AipiN-f%3t METRIC Thread Bite Type Tube Fitting Sannk

®

e

®
P ) ADAPTER /s#iDIN+25t METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

45° TNHIAMELCAT I ) K SO 6149
45° ELBOW MALE ADJUSTABLE STUD END ISO 6149

S1CH4-0G, S1DH4-0G
S1CH4-0G/RN, S1DH4-0G/RN

e 24 THREAD |6 JUs| DIMENSIONS = | LR %
- @ PART NO. T1 T2 D1 | L1 | L2 | L3 | L4 | S1 | S2 | s3 |%/fF| (Bar)4l
P S1CH4-12-100G | M12X1.5| M10X1 | 06 | 9 | 16 | 28 | 24 | 14 | 14 | 14 | 30 | 315
“ S1CH4-14-120G | M14X1.5 | M12X1.5 | 08 | 12 | 19 | 29 | 27 | 14 | 17 | 17 | 49 | 315
;|§| A S1CH4-16-140G | M16X1.5 | M14X1.5 | 10 | 12 | 19 | 33 | 27 | 19 | 19 | 19 | 59 | 315
S1CH4-18-160G | M18X1.5 | M16X1.5 | 12 | 14 | 21 | 34 | 28 | 19 | 22 | 22 | 85 | 250
n | s S1CH4-22-180G | M22X1.5 | M18X1.5 | 15 | 17 | 24 | 35 | 32 | 22 | 24 | 27 | 121 | 250 |L
= S1CH4-26-220G | M26X1.5 | M22X1.5 | 18 | 17 |24.5| 42 | 33 | 27 | 27 | 32 | 167 | 250

S1CH4-30-270G | M30X2 M27X2 22 | 19 |26.5| 45 | 35 | 30 | 32 | 36 | 263 | 160
S1CH4-36-330G | M36X2 M33X2 | 28 | 23 |30.5| 51 | 40 | 36 | 41 | 41 | 410 | 160
S1CH4-45-420G | M45X2 M42X2 35 | 27 |37.5| 53 | 48 | 50 | 50 | 50 | 686 | 160
S1DH4-14-120G | M14X1.5 | M12X1.5 | 06 9 16 | 29 | 24 | 14 | 17 | 17 | 46 | 315
S1DH4-16-140G | M16X1.5 | M14X15 | 08 | 12 | 19 | 29 | 27 | 19 | 19 | 19 | 59 | 315
S1DH4-18-160G | M18X1.5 | M16X1.5 | 10 | 13 |20.5| 34 | 29 | 19 | 22 | 22 | 85 | 250
S1DH4-20-180G | M20X1.5 | M18X1.5 | 12 | 17 |24.5| 37 | 33 | 19 | 24 | 24 | 117 | 250
S1DH4-24-220G | M24X1.5 | M22X1.5 | 16 | 16 |24.5| 44 | 34 | 19 | 27 | 30 | 185 | 250
S1DH4-30-270G | M30X2 M27X2 20 | 16 |26.5| 51 | 38 | 27 | 32 | 36 | 165 | 250
S1DH4-36-330G | M36X2 M33X2 | 25 | 19 | 31 | 53 | 43 | 36 | 41 | 46 | 410 | 250
S1DH4-420G M42X2 M42X2 30 | 24 |37.5| 54 | 50 | 50 | 50 | 50 | 672 | 160

Al R E LR EEREEIT R, WIEER S F N “RN” , 41 S1DH4-24-220G/RN

7 AP s /A5 5 “DQ” , i S1DH4-24-220GDQ
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,

itis necessary to insert suffix “RN” after our part NO, forexample S1IDH4-24-220G/RN
with retainer ring please insert suffix “DQ” after our part NO,for example S1DH4-24-220GDQ

S1CH9-0G, S1DH9-0G
S1CH3-0G/RN, S1DH3-0G/RN

90° B il SR AL AT 1 ) 15 1SO 6149
90° ELBOW MALE ADJUSTABLE STUD END ISO 6149
5 1240 THREAD BTG JU5) DIMENSIONS B | LEE)| =
PART NO. T1 T2 D1 | L1 | L2 | L8 | L4 | S1 | S2 | s3 |vi/fF| (Bar)|%l
S1CH9-12-100G | M12X1.5 | M10X1 06 | 14 | 21 | 27 | 29 | 14 | 14 | 14 | 33 | 315
S1CH9-14-120G | M14X1.5 | M12X15 | 08 | 16 | 23 | 32 | 31 | 14 | 17 | 17 | 52 | 315
S1CHI9-16-140G | M16X1.5 | M14X15 | 10 | 17 | 24 | 34 | 32 | 19 | 19 | 19 | 66 | 315
S1CHI9-18-160G | M18X1.5 | M16X1.5 | 12 | 19 | 26 | 35 | 34 | 19 | 22 | 22 | 91 | 250
S1CH9-22-180G | M22X1.5 | M18X1.5 | 15 | 21 | 28 | 42 | 36 | 22 | 24 | 27 | 132 | 250
S1CH9-26-220G | M26X1.5 | M22X1.5 | 18 | 24 |31.5| 45 | 40 | 27 | 27 | 32 | 197 | 250
S1CH9-30-270G | M30X2 M27X2 | 22 | 28 |35.5| 50 | 44 | 30 | 32 | 36 | 302 | 160
S1CH9-36-330G | M36X2 M33X2 | 28 | 31 |38.5| 53 | 47 | 36 | 41 | 41 | 466 | 160
S1DH9-14-120G | M14X1.5 | M12X15 | 06 | 15 | 22 | 32 | 30 | 14 | 17 | 17 | 54 | 315
S1DH9-16-140G | M16X1.5 | M14X1.5 | 08 | 17 | 24 | 36 | 32 | 19 | 19 | 19 | 68 | 315
S1DH9-18-160G | M18X1.5 | M16X1.5 | 10 18 |25.5| 38 | 34 19 | 22 | 22 | 93 | 250
S1DH9-20-180G | M20X1.5 | M18X1.5 | 12 | 22 |29.5| 43 | 38 | 22 | 24 | 24 | 126 | 250
S1DH-22-200G |M22X1.5 | M20X1.5 | 14 | 22 | 30 | 40 | 40 | 22 | 27 | 27 | 161 | 250 | S
S1DH9-24-220G | M24X1.5 | M22X1.5 | 16 | 25 |33.5| 50 | 43 | 27 | 27 | 30 | 183 | 250
S1DH9-30-270G | M30X2 M27X2 | 20 | 28 |38.5| 54 | 49 | 30 | 32 | 36 | 309 | 250
S1DH9-36-330G | M36X2 M33X2 | 25 | 30 | 42 | 60 | 54 | 36 | 41 | 46 | 487 | 250
S1DH9-420G M42X2 M42X2 | 30 | 36 |49.5| 68 | 62 | 50 | 50 | 50 | 773 | 160
Wil R R B AR AT O, WEE/EACS 5 “RN” , W1 S1DH9-24-220G/RN
i C P E RS F i “DQ” , 41 S1DH9-24-220GDQ
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,

itis necessary toinsert suffix “RN” after our part NO, for example S1DH9-24-220G/RN
with retainer ring please insert suffix “DQ” after our part NO,for example S1DH9-24-220GDQ

19/ = R &Rz

$1C04-0G, $1D04-0G
§1C04-0G/RN, S1D04-0G/RN

45° 75 SEIRSCAT I 0] 023l 25 B 41551 SO 11926
45° ELBOW UN. UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING ISO 11926

RE 1247 THREAD BTAME JU~) DIMENSIONS T | TEEN &
5 PART NO. T1 T2 DI | L1 | 2] L3 | s | s1]| s2| s3 |[5/fH (Bar)|%l
=, o S1C04-12-040G| M12X1.5 | 7/16"X20 | 06 | 9 | 16 | 29 | 24 | 14 | 14 | 14 | 40 | 315
= $1C04-14-060G| M14X1.5 | 9/16"X18 | 08 | 12 | 19 | 29 | 27 | 14 | 17 | 14 | 53 | 315
: $1C04-16-060G| M16X1.5 | 9/16"X18 | 10 | 12 | 19 | 34 | 27 | 19 | 17 | 19 | 64 | 315
:éf ' 3 $1C04-18-080G| M18X1.5 | 3/4"X16 | 12 | 14 | 21 | 37 | 28 | 19 | 22 | 22 [ 110] 250
X $1004-22-100G| M22X1.5 | 7/8"X14 | 15 | 17 | 24 | 39 | 32 | 22 | 27 | 27 | 151 250
= $1C04-22-080G| M22X1.5 | 3/4"X16 | 15 | 17 | 24 | 37 | 32 | 22 | 22 | 27 [ 128 250 |t
$1004-26-120G| M26X1.5 |1.1/16"X12| 18 | 17 |24.5| 47 | 33 | 30 | 32 | 32 | 140 250
$1C04-30-120G6| M30X2 [1.1/16"X12| 22 | 19 [26.5] 50 | 35 | 30 | 32 | 36 | 275| 160
$1C04-36-160G| M36X2 [1.5/16"X12| 28 | 23 [30.5| 52 | 39 | 36 | 41 | 41 | 429 160
$1004-45-200G6| M45X2 | 1.5/8"X12| 35 | 27 [37.5| 54 | 48 | 50 | 50 | 50 | 670 160
$1004-52-240G| M52X2 | 1.7/8"X12| 42 | 26 | 37 | 54 | 49 | 50 | 55 | 60 | 847 | 160
$1D04-14-040G| M14X1.5 | 7/16"X20 | 06 | 9 | 16 | 30 | 24 | 14 | 14 | 17 | 43 | 315
S1D04-16-060G| M16X1.5 | 9/16"X18 | 08 | 12 | 19 | 33 | 27 | 19 | 17 | 19 | 62 | 315
S1D04-18-060G| M18X1.5 | 9/16"X18 | 10 | 13 [20.5] 33 | 29 | 19 | 17 [ 22 | 70 | 250
$1D04-20-080G| M20X1.5 | 3/4"X16 | 12 | 17 |24.5| 36 | 33 | 22 | 22 | 24 | 125] 250
$1D04-24-100G| M24X1.5 | 7/8"X14 | 16 | 16 |[23.5| 45 | 34 | 27 | 27 | 30 [ 176 250 | s
$1D04-30-120G| M30X2 [1.1/16"X12| 20 | 16 [36.5| 50 | 38 | 30 | 32 | 36 | 310| 250
$1D04-36-160G| M36X2 [1.5/16"X12| 25 | 30 | 42 | 52 | 54 | 36 | 32 | 46 | 486 | 250
$1D04-42-200G| M42X2 |1.5/8"X12| 30 | 24 |[37.5| 54 | 50 | 50 | 50 | 50 | 662 | 160
$1D04-52-240G| M52X2 |1.7/8"X12| 38 | 21 | 37 | 54 | 52 | 50 | 55 | 60 | 837 | 160

I Wi RE R R ET T, WEEYES 5 “RN” , 41S1C04-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO, for example S1C04-30-120G/RN, .

120/ =Ml A e s

SE ik oA



18 %)k ADAPTER /AipiN-f%3t METRIC Thread Bite Type Tube Fitting Sannk

®
L% #5251 ADAPTER A#IDINE 25t METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

$1C09-0G, S1D09-0G
§1C09-0G/RN, $1D09-0G/RN

90° 2 K HIREZCAT A [ 024 Jl 2% 3 A1 SO 11926
90° ELBOW UN. UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING ISO 11926

5 124 THREAD ERRN J{~) DIMENSIONS wE | TEEN &
12 PART NO. T T2 D1 | L1 | L2 | L3 | L4 | S1 | S2 | S3 |5/ (Bar)|s
} $1C09-12-040G | M12X1.5 | 7/16"X20 | 06 | 14 | 21 | 29 | 29 | 14 | 14 | 14 | 42 | 315
S1C09-14-060G | M14X1.5 | 9/16"X18 | 08 |15.5(|22.5(31.8(30.5| 14 | 19 | 17 | 60 | 315
m $1C09-16-060G | M16X1.5| 9/16"X18 | 10 | 17 | 24 | 34 | 32 | 19 | 17 | 19 | 70 | 315
= S1C09-18-080G | M18X1.5| 3/4'X16 | 12 | 19 | 26 | 38 | 34 | 19 | 22 | 22 | 118 | 250
”T | i $1C09-22-100G | M22X1.5 | 7/8'X14 | 15 | 21 | 28 | 43 | 36 | 22 | 27 | 27 | 168 250 |
e {j S1C09-22-080G | M22X1.5 | 3/4'X16 | 15 | 21 | 28 | 41 | 36 | 22 | 22 | 27 | 144 | 250
1 o Te $1C09-26-120G | M26X1.5 | 1.1/16"'X12| 18 | 24 [31.5| 49 | 40 | 30 | 32 | 32 | 265 | 250
7 S1C09-30-120G | M30X2 |1.1/16'X12| 22 | 28 |35.5| 52 | 44 | 30 | 32 | 36 | 313 | 160
) $1C09-36-120G | M36X2 |1.1/16"'X12| 28 |33.5| 41 |57.5|47.8| 36 | 41 | 41 | 410 | 160
$1C09-36-160G | M36X2 | 1.5/16"X12| 28 | 31 |38.5| 59 | 47 | 36 | 41 | 41 | 500 | 160
$1C09-45-200G| M45X2 | 1.5/8'X12| 35 | 38 |48.5| 63 | 59 | 50 | 50 | 50 | 585 | 160
$1C09-52-240G | M52X2 | 1.7/8"X12 | 42 | 38 | 49 | 64 | 61 | 50 | 55 | 60 | 582 | 160
S1D09-14-040G | M14X1.5| 7/16"X20 | 06 | 15 | 22 | 32 | 30 | 14 | 14 | 17 | 199 | 315
$1D09-16-060G | M16X1.5 | 9/16'X18 | 08 | 17 | 24 | 37 | 32 | 19 | 17 | 19 | 226 | 315
S1D09-18-060G | M18X1.5 | 9/16"X18 | 10 | 18 |25.5| 38 | 34 | 19 | 17 | 22 | 236 | 250
S1D09-18-080G | M18X1.5 | 3/4'X16 | 10 |19.5| 27 [37.5| 36 | 19 | 24 | 22 | 281 | 250
$1D09-20-080G | M20X1.5 | 3/4'X16 | 12 | 22 |29.5| 44 | 38 | 22 | 22 | 24 | 311 | 250 |s
S1D09-22-100G | M22X1.5 | 7/8'X14 | 14 | 23 |30.5| 44 | 41 | 22 | 27 | 27 | 328 | 250
S1D09-24-100G | M24X1.5 | 7/8"X14 | 16 | 25 |33.5| 50 | 43 | 27 | 27 | 30 | 348 | 250
S1D09-30-120G | M30X2 |1.1/16"'X12| 20 | 28 |38.5| 56 | 49 | 30 | 32 | 36 | 430 | 250
S1D09-36-160G | M36X2 | 1.5/16'X12| 25 | 30 | 42 |57.5| 54 | 36 | 41 | 46 | 510 | 250
S1D09-42-200G | M42X2 | 1.5/8'X12 | 30 | 36 |49.5| 69 | 62 | 50 | 50 | 50 | 695 | 160
S1D09-52-240G | M52X2 | 1.7/8"X12 | 38 | 34 | 50 | 70 | 65 | 50 | 55 | 60 | 629 | 160

Note: In case if e/intere, r dap
necessary to insm'y{ 3%{%@%‘3@%

e A RE L REBRREEEIT I, WREERS B “BN” , 41S1C09-30-120G/RN,

in complete set with cutting ring and nut, itis

xample S1C09-30-120G/RN.

121/ =M i dE s

SACCH-0G, SADDH-0G
SACCH-OG/RN, SADDH-OG/RN

AFISMELCA] I 7 A1 SO 6149 237 =l
METRIC MALE ADJUSTABLE STUD END ISO 6149 RUN TEE

5 240 THREAD BT JUs} DIMENSIONS T | THEES &
PART NO. |T1/T2 T3 Di[D2| L1 [ L2 | L3 [ L4 | s1 [s2/s3] S4 |5i/fk| (bar) |51
SACCH-12-12-100G | M12X1.5| M10X1 | 06 [06 | 21 | 14 | 27 | 29 | 14 | 14 | 14 | 45 | 315
SACCH-14-14-120G | M14X1.5| M12X1.5( 08 |08 | 23 | 16 | 32 | 31 | 14 | 17 | 17 | 68 | 315
SACCH-16-16-140G | M16X1.5| M14X1.5 10 |10 | 24 | 17 | 34 | 32 | 19 | 19 | 19 | 89 | 315
SACCH-18-18-160G | M18X1.5|M16X1.5 12 |12 | 26 | 19 | 35 | 34 | 19 | 22 | 22 | 121 | 250 |
SACCH-22-22-180G | M22X1.5| M18X1.5| 15 [15 | 28 | 21 | 41 | 36 | 22 | 27 | 24 | 177 | 250
SACCH-26-26-220G | M26X1.5| M22X1.5| 18 [18 |31.5| 24 | 44 | 40 | 27 | 32 | 27 | 263 | 250
SACCH-30-30-270G | M30X2 | M27X2 | 22 |22 |35.5| 28 | 49 | 44 | 30 | 36 | 32 | 396 | 160
SACCH-36-36-330G | M36X2 | M33X2 | 28 [28 |38.5| 31 | 52 | 47 | 36 | 41 | 41 | 621 | 160
SADDH-14-14-120G | M14X1.5|M12X1.5| 06 [06 | 22 | 15 | 32 | 30 | 14 | 17 | 17 | 71 | 400
SADDH-16-16-140G | M16X1.5|M14X1.5| 08 [08 | 24 | 17 | 36 | 32 | 19 | 19 | 19 | 91 | 400
SADDH-18-18-160G | M18X1.5|M16X1.5| 10 [10 |25.5| 18 | 38 | 34 | 19 | 22 | 22 | 124 | 400
SADDH-20-20-180G| M20X1.5|M18X1.5| 12 |12 |28.5| 21 | 43 | 38 | 22 | 24 | 24 | 160 | 400 |
SADDH-24-24-220G | M24X1.5|M22X1.5| 16 |16 |33.5| 25 | 49 | 43 | 27 | 30 | 27 | 213 | 400
SADDH-30-30-270G | M30X2 | M27X2 | 20 [20 |38.5| 28 | 55 | 49 | 30 | 36 | 32 | 409 | 400
SADDH-36-36-330G | M36X2 | M33X2 |25 (25 | 42 | 30 | 60 | 54 | 36 | 46 | 41 | 657 | 350
SADDH-420G M42X2 | M42X2 | 30 |30 |49.5| 36 | 68 | 62 | 46 | 50 | 50 |1006| 250

TE R R KR R ] 0

i B P R AE A5 A “DQ” , W SADDH-18-18-160GDQ

s eSS S5 n “RN” -, 41 SADDH-18-18-160G/RN

Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example SADDH-18-18-160G/RN
with retainer ring please insert suffix “DQ” after our part NO,for example SADDH-18-18-160GDQ

122/ = MR &1

SE ik oA



®
L $2 ) ADAPTER A#IDINE2st METRIC Thread Bite Type Tube Fitting Sa 118 ke

®
L) ADAPTER 2#iDINEZES METRIC Thread Bite Type Tube Fitting Sa nn ke

S it =Ar

SACCG-0G, SADDG-0G
SACCG-0G/RN, SADDG-0G/RN

A REC AT i ) 024 ] 6 e Ao 3 52 =0
BSP THREAD ADJUSTABLE STUD END WITH O-RING SEALING RUN TEE

a0y
|

SACCO-0G, SADDO-0G
SACCO-OG/RN, SADDO-0G/RN

K5 24 THREAD RN i~} DIMENSIONS 5| TR A &

PART NO. T1/T2 T3 D1|D2| L1 L2 L3 L4 | S1 | S2S3 | S4 |w/fF (bar) | %
SACCG-12-12-020G | M12X1.5| G1/8'X28 | 06 | 06 | 21 14 26 29 14 14 14 44 200
SACCG-14-14-040G| M14X1.5| G1/4'X19 | 08 | 08 | 23 16 | 32 | 31 14 17 19 | 68 200
SACCG-16-16-040G| M16X1.5| G1/4'X19 | 10 | 10 | 24 17 | 34 | 32 19 19 19 85 200
SACCG-18-18-060G| M18X1.5| G3/8"X19 | 12 | 12 | 26 19 37 | 34 19 | 22 | 22 | 125 | 200
SACCG-22-22-080G | M22X1.5| G1/2'X14 | 15| 15| 28 | 21 43 | 36 22 | 27 | 27 | 205 | 200
SACCG-26-26-080G | M26X1.5| G1/2'X14 | 18 | 18 |31.5| 24 | 49 | 40 27 | 832 | 27 | 266 | 200
SACCG-30-30-120G| M30X2 | G3/4'X14 | 22 | 22 | 35.5| 28 49 | 44 30 | 36 | 32 | 400 | 200
SACCG-36-36-160G| M36X2 G1"X11 | 28 | 28 | 38.5| 31 59 | 47 36 | 41 41 | 637 | 200
SACCG-45-45-200G| M45X2 | G1.1/4'X11| 35 | 35 |48.5| 38 65 | 59 50 | 50 | 50 | 995 | 160
SADDG-14-14-040G | M14X1.5| G1/4'X19 | 06 | 06 | 22 15 32 | 30 14 17 19 | 72 315
SADDG-16-16-040G| M16X1.5| G1/4'X19 | 08 | 08 | 24 17 | 36 | 32 19 19 19 87 315
SADDG-18-18-060G | M18X1.5| G3/8"'X19 | 10 | 10 | 25.5| 18 38 | 34 19 | 22 | 22 | 127 | 315
SADDG-20-20-060G | M20X1.5| G3/8'X19 | 12 | 12 |28.5| 21 38 | 38 22 | 24 | 22 | 145 | 315

SADDG-22-2-080G | M22X1.5| Gi/2'X14 | 14 | 14 | 31 23 | 43 | 41 22 | 27 | 27 | 213 | 250 | S
SADDG-24-24-080G | M24X1.5| G1/2'X14 | 16 | 16 | 33.5| 25 49 | 43 27 | 30 | 27 | 234 | 250
SADDG-30-30-120G| M30X2 | G3/4'X14 | 20 | 20 | 38.5| 28 51 49 30 | 36 | 36 | 413 | 250
SADDG-36-36-160G| M36X2 GI'X11 | 25| 25| 42 30 58 | 54 36 | 46 | 41 | 673 | 250
SADDG-42-42-200G| M42X2 | G1.1/4'X11| 30 | 30 |49.5| 36 | 64 | 62 46 | 50 | 50 [1013| 160

WA R R BT Y, WIS /RS )5 I “RN” , 41 SADDG-18-18-060G/RN

W s RS 5 m “DQ” , W SADDG-18-18-060GDQ
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example SADDG-18-18-060G/RN

with retainer ring please insert suffix “DQ” after our part NO,for example SADDG-18-18-060GDQ

i

L1

SR 1) 7Y Pl Ay 3 57 =00
UN. UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING RUN TEE

5 #240 THREAD BT Jis) DIMENSIONS i Igmjj %=
PARTNO. | T1/T2 T3 D1|D2| L1 | L2 | L8 | L4 | s1 [s2/s3| s4 |%e/fF| (ban) |4
SACCO-12-12-040G|M12X1.5| 7/16'X20 | 06 | 06 | 21 | 14 | 29 | 29 | 14 | 14 | 14 | 53 | 315
SACCO-14-14-060G [M14X1.5| 9/16"X18 | 08 | 08 | 22.5|15.5|31.8(30.5| 14 | 17 | 17 | 72 | 250
SACCO-16-16-060G | M16X1.5| 9/16'X18 | 10 | 10 | 24 | 17 | 34 | 32 | 19 | 19 | 17 | 90 | 250
SACCO-18-18-080G [M18X1.5| 3/4'X16 | 12| 12| 26 | 19 | 38 | 34 | 19 | 22 | 22 | 142 | 250
SACCO-22-22-100G [M22X1.5| 7/8'X14 | 15| 15| 28 | 21 | 43 | 36 | 22 | 27 | 27 | 212| 200 |L
SACCO-26-26-120G | M26X1.5(1.1/16"X12| 18 | 18 [31.5| 24 | 49 | 40 | 30 | 32 | 32 | 333 | 200
SACCO-30-30-120G| M30X2 [1.1/16"X12| 22 | 22 |35.5| 28 | 53 | 44 | 30 | 36 | 32 | 410 | 200
SACCO-36-36-160G| M36X2 |1.5/16"'X12| 28 | 28 [38.5| 31 | 59 | 47 | 36 | 41 | 41 | 642 | 160
SACCO-45-45-200G| M45X2 | 1.5/8"'X12| 35 | 35 |48.5| 38 | 63 | 59 | 46 | 50 | 50 |1047| 125
SADDO-14-14-040G [M14X1.5| 7/16"X20 | 06 | 06 | 22 | 15 | 32 | 30 | 14 | 17 | 14 | 66 | 400
SADDO-16-16-060G [M16X1.5| 9/16"X18 | 08 | 08 | 24 | 17 | 37 | 32 | 19 | 19 | 17 | 92 | 400
SADDO-18-18-060G [M18X1.5| 9/16"'X18 | 10 | 10 |25.5| 18 | 38 | 34 | 19 | 22 | 17 | 110 | 400
SADDO-20-20-080G | M20X1.5| 3/4'X16 | 12 | 12 |28.5| 21 | 44 | 38 | 22 | 24 | 22 | 167 | 400
SADDO-22-22-100G | M22X1.5| 7/8"X14 | 14 | 14| 31 | 23 | 44 | 41 | 22 | 27 | 27 | 220 | 400 |s
SADDO-24-24-100G | M24X1.5| 7/8"X14 | 16 | 16 [33.5| 25 | 50 | 43 | 27 | 30 | 27 | 263 | 400
SADDO-30-30-120G| M30X2 |1.1/16"X12| 20 | 20 |38.5| 28 | 56 | 49 | 30 | 36 | 32 | 423 | 400
SADDO-36-36-160G| M36X2 [1.516"X12| 25 | 25 | 42 | 30 | 69 |56.8| 36 | 46 | 41 | 678 | 315
SADDO-42-42-200G | M42X2 | 1.5/8"X12 | 30 | 30 |49.5| 36 | 69 | 62 | 46 | 50 | 50 [1007| 250

TE: il R S R B, WSS 5 “RN”, 1SACCO-30-30-120G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example SACCO-30-30-120G/RN.

123/ = MR A1

SACGC-0G, SADGD-0G
SACGC-OG/RN, SADGD-0G/RN

TEEIRGOAT U [ O ) 5 o A iy 79 S =

% =il

BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING BRANCH TEE

(i BYTHREAD | F4h e JUsI DIMENSIONS = Iﬁ;m %
] PART NO. | T1/T3 T2 |Di[p2| L1 [ L2 ] L3 | L4 | s1 [suss| sa |sa/¢F (bar) |5
i SACGC-12-02-120G | M12X1.5| G1/8'X28| 06 | 06 | 21 | 14 | 26 | 29 | 14 | 14 | 14 | 44 | 500
2 ‘ SACGC-14-04-140G | M14X1.5| G1/4'X19] 08 |08 [ 23 | 16 | 32 | 31 | 14 | 17 | 19 | 68 | 500
) SACGC-16-04-160G | M16X1.5| G1/4'X19]| 10| 10 | 24 | 17 | 34 | 32 | 19 | 19 | 19 | 85 | 500
Hz[i 11 SACGC-18-06-180G | M18X1.5| Ga/8"x19| 12 [ 12 [ 26 | 19 | 37 | 34 | 19 | 22 | 22 [ 125 400
| SACGC-22-08-220G | M22X1.5| G1/2'X14| 15| 15 | 28 | 21 | 43 | 36 | 22 | 27 | 27 | 205 | 400 | L
S SACGC-26-08-260G | M26X1.5| G1/2'X14] 18 | 18 [31.5| 24 | 49 | 40 | 27 | 32 | 27 | 266 | 400
- SACGC-30-12-300G | M30X2 | Ga/a"x14| 22 | 22 [35.5| 28 | 49 | 44 | 30 | 36 | 32 [ 400 250 E
SACGC-36-16-360G | M3eX2 | G1"x11 [ 28 |28 [38.5] 31 | 59 | 49 | 36 | 41 | 41 | 637 250
SACGC-45-20-450G | M45X2 |G1.1/4'X11 35 | 35 [48.5| 38 | 65 | 59 | 46 | 50 | 50 | 995 | 250
| SADGD-14-04-140G [M14X1.5] G1/4"X19] 06 [ 06 [22 | 15 [ 32 [ 30 | 14 [ 17 [ 19 | 72 | 800
B s T VB SADGD-16-04-160G | M16X1.5| G1/4"X19| 08 | 08 | 24 | 17 | 36 | 32 | 19 | 19 | 19 | 87 | 800
o - it 7 8 | SADGD-18-06-1806 | M18X1.5| Ga/"X19| 10 | 10 |25.5| 18 | 38 | 34 | 19 | 22 | 22 | 127 | 800
— — o] SADGD-20-06-200G | M20X1.5| Ga/8"x19| 12 | 12 [28.5| 22 | 38 | 38 | 22 | 24 | 22 | 145 630
2 SADGD-22-08-220G | M22X1.5| G1/2'X14] 14 |14 [ 31 [ 23 | 43 | 41 | 22 [ 27 | 27 [213] 630 | s +*
SADGD-24-08-240G | M24X1.5| G1/2'X14| 16 | 16 [33.5| 25 | 49 | 43 | 27 | 30 | 27 | 234 | 630 £
SADGD-30-12-300G | M30X2 | Ga/4"X14] 20 | 20 [38.5| 28 | 51 | 49 | 30 | 36 | 36 | 413 | 420 =X
SADGD-36-16-360G | M36X2 | G1"X11 | 25|25 | 42 | 30 | 58 | 54 | 36 | 46 | 41 | 673 420
SADGD-42-20-420G | M42X2 |G1.1/4x11 30 | 30 [49.5| 36 | 64 | 62 | 46 | 50 | 50 [1013] 420

SACHC-OG, SADHD-0G
SACHC-OG/RN, SADHD-0G/RN

12

L3

T3

s |

T R KR R AT O,

e s R85 5 m “DQ” , W SADGD-18-06-180GDQ

miE eSS 5 “RN” , W SADGD-18-06-180G/RN

Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary to insert suffix “RN” after our part NO, for example SADGD-18-06—180G/RN

with retainer ring please insert suffix “DQ” after our part NO,for example SADGD-18-06-180GDQ

A I AMREZCAT R [ F i | SO6149 4y 32 il

METRIC MALE ADJUSTABLE STUD END ISO 6169 BRANCH TEE

15 24 THREAD EFIE JUs} DIMENSIONS wE | TEEN &

PARTNO. |T1/T3 T2 D1| D2 | L1 L2 | L3 | L4 | S1 |S2/S3| S4 |w/fF (bar) | %)
SACHC-12-10-120G| M12X1.5| M10X1 | 06 | 06 | 21 14 | 27 | 29 | 14 | 14 | 14 | 45 | 315
SACHC-14-12-140G| M14X1.5 |M12X1.5| 08 | 08 | 23 | 16 | 32 | 31 14 | 17 | 17 | 68 | 315
SACHC-16-14-160G| M16X1.5 [M14X1.5| 10 | 10 | 24 | 17 | 34 | 32 | 19 | 19 | 19 | 89 | 315
SACHC-18-16-180G| M18X1.5 [M16X1.5| 12 | 12 | 26 | 19 | 35 | 84 | 19 | 22 | 22 | 121 | 250 L
SACHC-22-18-220G| M22X1.5 [M18X1.5| 15 | 15 | 28 21 41 36 22 27 24 | 177 | 250
SACHC-26-22-260G| M26X1.5 |M22X1.5| 18 | 18 |31.5| 24 | 44 | 40 | 27 | 32 | 27 | 263 | 250
SACHC-30-27-300G| M30X2 | M27X2 | 22 | 22 |35.5| 28 | 49 | 44 | 30 | 36 | 32 | 396 | 160
SACHC-36-33-360G| M36X2 | M33X2 | 28 | 28 |38.5| 31 | 52 | 47 | 36 | 41 | 41 | 621 | 160
SADHD-14-12-140G| M14X1.5 |M12X1.5| 06 | 06 | 22 | 15 | 32 | 30 | 14 | 17 | 17 | 71 400
SADHD-16-14-160G|M16X1.5|M14X1.5| 08 | 08 | 24 | 17 | 36 | 32 | 19 | 19 | 19 | 91 400
SADHD-18-16-180G| M18X1.5 |M16X1.5| 10 | 10 [25.5| 18 | 38 | 34 | 19 | 22 | 22 | 124 | 400
SADHD-20-18-200G| M20X1.5 |M18X1.5| 12 | 12 |[28.5| 21 | 43 | 38 | 22 | 24 | 24 | 160 | 400 s
SADHD-24-22-240G| M24X1.5 |M22X1.5| 16 | 16 [33.5| 25 | 49 | 43 | 27 | 30 | 27 | 213 | 400
SADHD-30-27-300G| M30X2 | M27X2 | 20 | 20 |38.5| 28 | 55 | 49 | 30 | 36 | 32 | 409 | 400
SADHD-36-33-360G| M36X2 | M33X2 | 25|25 | 42 | 30 | 60 | 54 | 36 | 46 | 41 | 657 | 350
SADHD-420G M42X2 | M42X2 | 30| 30 |49.5| 36 | 68 | 62 | 46 | 50 | 50 [1006| 250
sl R E LR EE R 5, WIS F i “RN” , 41 SADHD-16-14-160G/RN

it BC A Pl i E AR5 5 n “DQ” , W SADHD-16-14-160GDQ
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut,
itis necessary toinsert suffix “RN” after our part NO, for example SADHD-16-14-160G/RN
with retainer ring please insert suffix “DQ” after our part NO,for example SADHD-16-14-160GDQ

124/ = MR &



® ®
5 J; ADAPTER #DINF#35t METRIC Thread Bite Type Tube Fitting Sannke P42k ADAPTER 2#DIN+2#3 METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

SACOC-0G. SADOD-0G SRR ST O S1CT9-SP. S1DT9-SP 000 5 Jei A
SACOC-0G/RN. SADOD-OG/RN UN. UNF THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING BRANCH TEE $1CT9-SP/RN. S1DT9-SP/RN 90 ELBOW BSPT MALE
(5= U240 THREAD BT JUst DIMENSIONS | TEE)| & R 24 THREAD TR J5J” DIMENSIONS &= 5 | TR AR

™

PART NO. T1/T3 T2 Di|D2| L1 | L2 | L3 | L4 | S1 [s2, 53 S4 /M (bar) | %1

. PART NO. Ti T2 DI | L1 [ 2 [ 3] a5 [ st [ s2 [su/ (ban s
‘ SACOC-12-04-120G|M12X1.5| 7/46'x20 | 06 [ 06 | 21 | 14 | 29 | 29 [ 14 [ 14 | 14 | 53 | 315

S1CT9-12-02SP| M12X1.5 | R1/8"X28 | 06 | 19 | 12 | 20 | 9.5 | 27 | 12 | 14 | 30 | 315
S1CT9-12-04SP| M12X1.5 | R1/4"X19 | 06 | 21 14 | 26 | 12 | 29 | 12 | 14 | 47 | 315

SACOC-14-06-140G|M14X1.5| 9/16"X18 |08 | 08 |22.5|15.5| 29 |30.5| 14 | 17 | 17 | 72 | 250

, W SACOC-16-06-160G|M16X1.5| 9/16"X18 |10 |10 | 24 | 17 | 34 | 32 | 19 | 19 | 17 | 90 | 250 S1CT9-14-04SP| M14X15 | R1/4"X19 | 08 | 21 | 14 | 26 | 14 | 29 | 14 | 17 | 46 | 315
:HE[ —— —:-r SACOC-18-08-180G|M18X1.5| 3/4'X16 |12 |12 | 26 | 19 | 38 | 34 | 19 | 22 | 22 | 142 | 250 S10T9-14-02SP| M14x15 | R1/8"x28 | 08 | 21 | 14 | 26 | 95| 29 | 14 | 17 | 49 | 315
= SACOC-22-10-220G|M22X1.5| 7/8"'X14 |15 | 15| 28 | 21 | 41 | 36 | 22 | 27 | 27 | 212 | 200 |L S1CT9-14-06SP| M14X15 | R3/8'X19 | 08 | 24 | 17 | 28 | 14 | 32 | 19 | 17 | 94 | 315

o SACOC-26-12-260G|M26X1.5|1.1/16'X12| 18 | 18 |31.5| 24 | 47 | 40 | 30 | 32 | 32 | 333 | 200

S1CT9-16-04SP| M16X1.5 | R1/4"X19 | 10 | 22 | 16 | 27 | 14 | 30 | 17 | 19 | 61 315 E
S1CT9-16-06SP| M16X1.5 | R3/8"X19 | 10 | 24 | 17 | 28 | 14 | 32 | 19 | 19 | 87 | 315
S1CT9-18-06SP| M18X1.5 | R3/8"X19 | 12 | 24 | 17 | 28 | 14 | 32 | 19 | 22 | 88 | 315
S1CT9-18-04SP| M18X1.5 | R1/4"X19 | 12 | 24 | 17 | 27 | 14 | 32 | 19 | 22 | 80 | 315
S1CT9-18-08SP| M18X1.5 | R1/2"X14 | 12 | 28 | 21 | 34 | 14 | 36 | 19 | 22 | 89 | 315
S1CT9-22-08SP| M22X1.5 | R1/2"X14 | 15 | 28 | 21 | 34 | 14 | 36 | 22 | 27 | 94 | 315
S1CT9-26-08SP| M26X1.5 | R1/2"X14 | 18 | 31 |23.5| 36 | 17 | 40 | 27 | 32 | 141 | 315
S1DT9-14-04SP| M14X15 | R1/4"X19 | 06 | 23 | 16 | 26 | 14 | 31 14 | 17 | 56 | 400
S1DT9-14-06SP| M14X1.5 | R3/8"X19 | 06 | 25 | 18 | 20 | 12 | 33 | 19 | 17 | 61 | 400
S1DT9-16-04SP| M16X1.5 | R1/4"X19 | 08 | 24 | 17 | 27 | 14 | 32 | 17 | 19 | 73 | 400
S1DT9-16-06SP| M16X1.5 | R3/8"X19 | 08 | 25 | 18 | 28 | 12 | 33 | 19 | 19 | 63 | 400
S1DT9-18-06SP| M18X1.5 | R3/8"X19 | 10 | 25 |17.5| 28 | 14 | 34 | 19 | 22 | 104 | 400
S1DT9-18-04SP| M18X1.5 | R1/4"X19 | 10 | 25 [17.5| 28 | 14 | 34 | 19 | 22 | 59 | 400 |s
S1DT9-18-08SP| M18X1.5 | R1/2"X14 | 10 | 30 |22.5| 32 | 14 | 39 | 22 | 22 | 98 | 400
S1DT9-20-06SP| M20X1.5 | R3/8"X19 | 12 | 29 |21.5| 28 | 14 | 38 | 19 | 24 | 126 | 400
S1DT9-20-08SP| M20X1.5 | R1/2"X14 | 12 | 30 |22.5| 32 | 14 | 39 | 24 | 24 | 97 | 400
S1DT9-22-08SP| M22X1.5 | R1/2"X14 | 14 | 30 | 22 | 32 | 14 | 40 | 22 | 27 | 101 | 400
S1DT9-24-08SP| M24X15 | R1/2"X14 | 16 | 33 |24.5| 32 | 17 | 43 | 24 | 30 | 150 | 400

TE: WA RE A REREEEI R, WA “BN” . #1S1CT9-30-12SP/RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis

necessary to insert suffix “RN” after our part NO, for example S1CT9-30-12SP/RN.

SACOC-30-12-300G| M30X2 |1.1/16"'X12| 22 |22 |35.5| 28 | 52 | 44 | 30 | 36 | 32 | 410 | 200
SACOC-36-16-360G| M36X2 [1.5/16"X12| 28 | 28 | 38.5| 31 59 | 47 | 36 | 41 41 | 642 | 160
SACOC-45-20-450G| M45X2 | 1.5/8"X12 |35 |35 |48.5| 38 | 63 | 59 | 46 | 50 | 50 [1047| 125
SADOD-14-04-140G|M14X1.5| 7/16"X20 | 06 | 06 | 22 15 | 32 | 30 14 | 17 14 | 66 | 400
- | SADOD-16-06-160G|M16X1.5| 9/16"X18 | 08 | 08 | 24 17 | 37 | 32 19 | 19 17 | 92 400
e - SADOD-18-06-180G|M18X1.5| 9/16'X18 | 10 | 10 |25.5| 18 | 38 | 34 19 | 22 17 | 110 | 400
v | | SADOD-20-08-200G|M20X1.5| 3/4'X16 |12 | 12 |28.5| 22 | 44 | 38 | 22 | 24 | 22 | 167 | 400
o SADOD-22-10-220G|M22X1.5| 7/8'X14 |14 | 14 | 31 23 | 44 | M1 22 | 27 | 27 | 220 | 400 |s
SADOD-24-10-240G|M24X1.5| 7/8'X14 |16 |16 |33.5| 25 | 50 | 43 | 27 | 30 | 27 | 263 | 400
SADOD-30-12-300G| M30X2 [1.1/16"'X12|20 | 20 |38.5| 28 | 56 | 49 | 30 | 36 | 32 | 423 | 400
SADOD-36-16-360G| M36X2 |1.5/16"X12| 25 | 25 |44.8|32.8|57.5|56.8| 36 | 46 | 41 | 678 | 315
SADOD-42-20-420G| M42X2 | 1.5/8'X12 |30 | 30 [49.5| 36 | 69 | 62 | 46 | 50 | 50 [1007| 250
TE: Wi R N RER R B, WSS 5 “RN” , 1lISACOC-30-12-300G/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example SACOC-30-12-300G/RN.

SE ik oA

125/ =t A e s 1 126/ = R A dE st



® ®

% ); ADAPTER #ipiN#3t METRIC Thread Bite Type Tube Fitting Sannke 1% 42 ADAPTER #iniN+23t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

S1CN9, S1DN9 00" THAHERIMELL SBLs SRY p
S1CN9/RN. S1DN9/RN 90° ELBOW NPT MALE S1CW/RN., S1DW/RN WELD FITTINGS
R 24 THREAD _ [pitée JUsI DIMENSIONS wE | TEE & : e U348 THREAD BTitte S DIMENSIONS £ ngm ES
PARTNO. | i T2 |Di [ L1 ] L2]L3] L4 L5 | s1]s2 W/t (Ban|sl T SO D1 D [Lt ]2 [Ls]st[s2 /] toa) 7
S1CN9-12-02| M12X1.5 | NPT18%27 | 06 | 19 | 12 | 20 | 10 | 27 | 12 | 14 | 29 | 315 S1CW-12-06| M12X1.5 6 10 | 21 ) 14 | 29 | 12 | 14 | 11 | 315
SICN9-12-04| M12X1.5 | NPTI4'X18 | 06 | 21 | 14 | 26 |14.5] 29 | 12 | 14 | 44 | 315 l P S1CW-14-08] M14X1.5 8 12 123 | 16 | 31 | 14 | 17 | 15 | 315
S1ON9-12-06| M12X1.5 | NPT38'X18 | 06 | 25 | 18 | 28 |14.5| 33 | 17 | 14 | 55 | 315 5 el i3 S1CW-16-10] M16X1.5 10 14 1 26 | 18 | 33 | 17 | 19 | 22 | 315
S1CN9-14-02| M14X1.5 | NPTI8X27 | 08 | 21 | 14 | 26 | 10 | 29 | 12 | 17 | 48 | 315 B J: SUCHETEL ] LB 12 JE 25 e s e pr 28 L 2T
S1ON9-14-04| M14X1.5 | NPTI4'X18 | 08 | 21 | 14 | 26 |14.5| 29 | 12 | 17 | 47 | 315 S10W-22-15 M22X1.5 15 19129 | 22 | 37 | 22 | 27 | 44 | 315 |
S1CN9-16-04] M16X1.5 | NPTI4'X18 | 10 | 22 | 15 | 27 |14.5] 30 | 14 | 19 | 61 | 315 \St SUCHIZE ] LB S L& Eomm iy ) T e i E
S1ON9-16-06| M16X1.5 | NPT38'X18 | 10 | 24 | 17 | 28 |14.5| 32 | 17 | 19 | 92 | 315 L3 S1CW-30-22] M30X2 22 27 | 36 1285 45 | 32 | 36 | 98 | 160
S1ON9-18-04| M18X1.5 | NPTIMX18 | 12 | 24 | 17 | 28 [14.5] 32 | 17 | 22 | 82 | 315 | SO R e8 N R O S S i S (b))
S1ON9-18-06| M18X1.5 | NPT38'X18 | 12 | 24 | 17 | 28 |14.5| 32 | 17 | 22 | 92 | 315 S1CW-45-35 M45X2 35 40 | 43 132.5| 54 | 46 | 50 | 232 | 160
S1CN9-18-08] M18X1.5 | NPT12'X14 | 12 | 28 | 21 | 34 |19.5] 36 | 19 | 22 | 90 | 315 Sl i cy | al |20 ] o6 | ge G0 she ] 60
S1CN9-22-08| M22X1.5 | NPTI2'X14 | 15 | 28 | 21 | 34 |19.5| 36 | 19 | 27 | 89 | 315 S1DW-14-06] M14X1.5 6 1126 | 19 | 34 | 14 | 17 | 21 | 630
S1CN9-26-08] M26X1.5 | NPTI2'X14 | 18 | 31 |23.5] 36 |19.5| 40 | 24 | 32 | 150 | 315 SLOMETEADE| LS = N = A I
SICN9-30-12| M30X2 | NPT34'X14 | 22 | 35 |27.5| 42 |19.5| 44 | 27 | 36 | 176 | 160 S1DW-18-10| M18X1.5 10 15 | 30 122.5] 39 | 19 | 22 | 41 | 630 +*
SICN9-36-16] M36X2 | NPTI'X115 | 28 | 38 |30.5| 48 |24.5| 47 | 36 | 41 | 314 | 160 SUDMIZT T LIS 12 N e R CRR I =
SICN9-45-20| M45X2 |NPTI114'X115 35 | 45 |34.5| 54 | 25 | 56 | 46 | 50 | 465 | 160 S1DW-22-14) M22X1.5 14 19 | 35 | 27 | 45 | 24 | 27 | 85 | 630 | =
SICN9-52-24]  M52X2 INPT1.12°X115 42 | 51 | 40 | 61 | 26 | 63 | 50 | 60 | 849 | 160 S1DW-24-16) M24X1.5 16 21 | 35 |26.5| 45 | 27 | 30 | 82 | 400
SIDN9-14-04| M14X1.5 | NPTI4'X18 | 06 | 23 | 16 | 26 |14.5| 31 | 12 | 17 | 56 | 630 V3020 BEMB0NE 1 D U T U i e
SIDN9-16-04| M16X1.5 | NPTI4'X18 | 08 | 24 | 17 | 27 |14.5| 32 | 14 | 19 | 73 | 630 S1DW-36-25| M36X2 25 31 | 44 | 32 | 56 | 41 | 46 | 219 | 400
S1DN9-16-06| M16X1.5 | NPT38'X18 | 08 | 25 | 18 | 28 |14.5| 33 | 17 | 19 | 77 | 630 SDVETe S0 RIME 22 £ Co Ao e g B2 an B0 2iT ] Al
S1DN9-16-08| M16X1.5 | NPT12'X14 | 08 | 30 | 23 | 34 |19.5| 38 | 19 | 19 | 75 | 630 S1DW-52-38] M52X2 38 44 | 54 | 38 | 69 | 55 | 60 | 448 315
SHONG-16-06|_16X1.5 | NPTogs | 10 | 25 [17.5] 20 [14.5] 3¢ | 17 | 22 | 8 | 630 tis necessary to insert suffix "AN” after our part NO, for example S1CW-80-20/RN.
S1DN9-20-08| M20X1.5 | NPTIZX14 | 12 | 30 |22.5| 34 |19.5] 39 | 19 | 24 | 107 | 630 | °
SIDN9-22-08| M22X1.5 | NPTI2'X14 | 14 | 30 | 22 | 34 |19.5| 40 | 19 | 27 | 103 | 630
SIDN9-24-08] M24X1.5 | NPTI2'X14 | 16 | 33 |24.5| 36 |19.5| 43 | 24 | 30 | 157 | 400
SIDN9-30-12| M30X2 | NPT34'X14 | 20 | 37 |26.5| 42 |19.5| 48 | 27 | 36 | 205 | 400
SIDN9-36-16] M36X2 | NPTI'X115 | 25 | 42 | 30 | 48 |24.5| 54 | 36 | 46 | 381 | 400
SIDN9-42-20| M42X2 |NPTI.14'’X115 30 | 49 |35.5| 54 | 25 | 62 | 41 | 50 | 598 | 400
SIDN9-52-24] M52X2 |NPT112'X115 38 | 57 | 41 | 61 | 26 | 72 | 50 | 60 |1029] 315
TE: W RE & REREEEIT S, WISAER S5 “RN” . #1S1CN9-30-12/RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO, for example S1CN9-30-12/RN.

127 = iR i E 128/ =t A EE s



® ®
L% ) ADAPTER /#iDINE 25t METRIC Thread Bite Type Tube Fitting Sannke 198 1% ADAPTER #iDiN-3t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

E 3 4 3 =5t ey
S e S1CFL. S1DFL METRIC MALE BlTE?L/NPE%/ﬁz/ECEI@E
S2WD WELD FITTINGS S1CFL-ZH/RN, S1DFL-ZH/RN 3000 PS| % 4]
(9= 24 THREAD | FMETUBE 0-D]  JUsF DIMENSIONS 5 Iz/gm % (157 124 THREAD | M2 TUBE OD. JUs) DIMENSIONS =5 (TR &
PART NO. T1 D1 L1 | D2 | D3 s1 |se/tr| (ban) |51 L PART NO. 1 D1 D [L1[L2] 3] L4] st s2 s/ (ba) |51
S2WC-6X1.5 M12X1.5 06 31.5] 3 | 06 14 | 7 | 528 2 S1CFL-22-08 | M22X1.5 15 30.2| 48 | 41 [ 6.7 | 56 | 24 | 27 | 360 | 315
S2WC-8X2.0 M14X1.5 08 31.5] 4 | 08 17 | 11 | 528 . S1CFL-26-08 | M26X1.5 18 30.2| 50 [42.5] 6.7 | 61 | 24 | 32 |420] 315
- S2WC-10X2.0 M16X1.5 10 33.5] 6 | 10 19 | 16 | 460 ofE | ) " S1CFL-26-12 | M26X1.5 18 38.1| 53 [45.5/ 6.7 | 62 | 30 | 32 | 590 | 315
S2WC-12X2.0 M18X1.5 12 33.5| 8 | 12 22 | 20 | 393 ™= i S1CFL-30-12 | M30X2 22 38.1| 53 |45.5| 6.7 | 62 | 30 | 36 | 590 | 160
S e T S2WC-15X2.0 M22X1.5 15 34.5] 11 | 15 27 | 29 | 305 | L = S1CFL-36-12 | M36X2 28 38.1| 55 [45.5] 6.7 | 64 | 32 | 41 [600| 160 |L
| 14 ' i S2WC-18X2.0 M26X1.5 18 36.5| 14 | 18 32 | 38 | 315 . S1CFL-36-16 | M36X2 28 44.5| 54 |46.5| 8 | 63 | 36 | 41 [ 730 | 160 E
=5 G S2WC-22X2.0 M30X2 22 39.5| 18 | 22 36 | 55 | 160 S1CFL-45-20 | M45X2 35 50.8 | 58 [47.5] 8 | 69 | 41 | 50 |1020] 160
= S2WC-28X2.5 M36X2 28 425 23 | 28 41 | 73 | 160 S1CFL-45-24 | M45X2 35 60.3 | 65 |54.5| 8 | 76 | 46 | 50 |1200| 160
S2WC-35X3.0 M45X2 35 49.5| 29 | 35 50 | 89 | 160 e _ S1CFL-52-24 | M52X2 42 60.3| 64 | 53 | 8 | 76 | 46 | 60 |1360] 160
S2WC-42X3.0 M52X2 42 50 | 36 | 42 60 | 155| 160 == S1DFL-24-08 | M24X1.5 16 30.2| 50 |41.5| 6.7 | 60 | 24 | 30 | 400 | 350
\ S2WD-6X1.5 M14X1.5 06 31.5] 3 | 06 17 | 7 [ 528 , E = S1DFL-24-12 | M24X1.5 16 38.1| 55 [46.5] 6.7 |64.5| 27 | 30 | 520 | 350
S2WD-8X2.0 M16X1.5 08 31.5| 4 | 08 19 | 11 | 528 §]-'_--_ i ! S1DFL-30-12 | M30X2 20 38.1| 57 [46.5] 6.7 | 68 | 30 | 36 | 650 | 350
S2WD-10X1.0 M18X1.5 10 33.5 8 | 10 22 | 13 | 249 ! - . = | S1DFL-36-12 | M36X2 25 38.1| 57 | 45 [ 6.7 | 69 | 30 | 46 | 780 | 350 +
S2WD-10X1.5 M18X1.5 10 33.5] 7 | 10 22 | 13 | 358 =f S1DFL-30-16 | M30X2 20 445| 60 |48.5| 8 | 71 | 32 | 36 | 700 | 350 =
S2WD-10X2.0 M18X1.5 10 33.5| 6 | 10 22 | 16 | 460 S1DFL-36-16 | M36X2 25 44.5| 58 |46.5| 8 | 60 | 36 | 46 | 840 | 350 | S %
S2WD-12X1.5 M20X1.5 12 335| 9 | 12 24 | 21 | 305 S1DFL-42-16 | M42X2 30 44.5| 63 |49.5| 8 | 76 | 36 | 50 | 940 | 200
A NS S2WD-12X2.0 M20X1.5 12 33.5| 8 | 12 24 | 21 | 393 S1DFL-36-20 | M36X2 25 50.8| 60 | 48 | 8 | 72 | 41 | 46 |1170] 200
S S2WD-12X2.5 M20X1.5 12 335 7 | 12 24 | 22 | 476 S1DFL-42-20 | M42X2 30 50.8 | 62 |48.5| 8 | 75 | 41 | 50 [1200] 200
S2WD-14X2.0 M22X1.5 14 39.5| 10 | 14 27 | 26 | 343 S1DFL-52-20 | M52X2 38 50.8| 66 | 50 | 8 | 81 | 46 | 60 [1410] 200
S2WD-14X3.0 M22X1.5 14 39.5| 8 | 14 27 | 33 | 487 S1DFL-52-24 | M52X2 38 60.3| 70 [ 54 | 8 | 85 | 46 | 60 |1630] 200
S2WD-16X1.5 M24X1.5 16 40.5| 13 | 16 30 | 32 | 234 VE: W R 2SR RIBAT 4645 R i “ZH” S 1CFL-36-16ZH.
S2WD-16X2.0 M24X1.5 16 405| 12 | 16 30 | 31 | 305 In case if you are interested to order adapter in complete set with Flange folder and Screw.
SOWD-16X2.5 M24X1.5 16 405| 11 | 16 30 | 38 | 372 Itis necessary to insert suffix “ZH” after our part NO,for example S1CFL-36-16ZH.
S2WD-16X3.0 M24X1.5 16 40.5| 10 | 16 30 | 41 | 400
S2WD-20X2.0 M30X2 20 47 | 16 | 20 36 | 57 | 249 |
S2WD-20X2.5 M30X2 20 47 [ 15 | 20 36 | 57 | 305
S2WD-20X3.0 M30X2 20 47 | 14 | 20 36 | 64 | 358 S1DFS DIN- 45 A/ SAEL
S2WD-20X3.5 M30X2 20 47 | 13 | 20 36 | 71 | 400 S1DFS-ZH/RN METRIC MALE BITE TYPEé%GE ELS/?'\%%
S2WD-20X4.0 M30X2 20 47 | 12 | 20 36 | 78 | 400 } e SE THRERD B0 <7 DIMENSIONS we Tl =
S2WD-25X3.0 M36X2 25 53 [ 19 | 25 46 | 89 | 294 T PART NO. — D1 | b T 2] 3] a5t 52 | s/ bat| 5]
S2WD-25X3.5 M36X2 25 53 | 18 | 25 46 | 100} 337 : S1DFS-20-08 | M20X1.5 | 12 |31.8|42.5/4255] 7.7 | 57.5| 19 | 24 |uxa0| 350 | 420
S2WD-25X4.0 Msex2 25 53 L 17 | 25 46 | 111 379 gl] S1DFS-22-08 | M22X1.5 | 14 [31.8| 50 | 42 | 7.7 |59.5| 19 | 27 |M8X30| 390 | 420
S2WD-25X5.0 M36X2 25 53 L 15 | 25 46 125 400 'y STDFS-24-08 | M24X1.5 | 16 |31.8| 53 |44.5| 7.7 | 63 | 24 | 30 |M&x30| 470 | 400
S2WD-30X3.0 Ma2x2 80 57 | 24 | 30 50 | 1131 249 S1DFS-24-12 | M24X1.5 | 16 |41.3| 59 |50.5] 8.7 | 69 | 30 | 30 |wiox3] 790 | 400
S2WD-30X4.0 Ma2x2 30 57 | 22 | 30 50 | 141 323 S1DFS-30-12 | M30X2 | 20 |41.3| 61 |50.5| 8.7 | 72 | 30 | 36 [Mi0x3s| 860 | 400
S2WD-30X5.0 Ma2x2 30 57 | 20 | 80 50 | 166 | 393 STDFS-36-12 | M36X2 | 25 |41.3| 63 | 51 | 8.7 | 75 | 30 | 46 |W0x3] 970 | 400
S2WD-30X6.0 Mé2x2 30 57 | 18 | 30 50 | 188 | 400 STDFS-42-12 | M42x2 | 30 |41.3| 76 | 62 | 8.7 | 89 | 30 | 50 |Mi0x3[1150| 420
S2WD-38X3.0 MS2X2 38 64 | 32 | 38 60 | 163 | 200 g+ S1DFS-30-16 | M30X2 | 20 |47.6| 75 |64.5] 9.5 | 88 | 36 | 36 |Wi2xs] 970 | 420
S2WD-38X4.0 MS2X2 38 64 | 30 38 60 1209 | 261 1 STDFS-36-16 | M36X2 | 25 |47.6] 72 | 60 | 9.5 | 84 | 36 | 46 |i2xs1420] 400 | -
S2WD-38X5.0 M52X2 38 64 | 28 | 38 60 | 247 | 815 S1DFS-42-16 | M42x2 | 80 [47.6| 74 |60.5| 9.5 | 87 | 36 | 50 |Mi2x4s[1400] 400
S2WD-38X6.0 MS2X2 38 64 | 26 | 38 60 | 270 | 315 STDFS-52-16 | M52X2 | 38 |47.6|84.5| 68 | 9.5 | 99 | 46 | 60 |12x41400| 315
S2WD-38X7.0 M52X2 38 64 | 24 | 38 60 | 270 | 815 , S1DFS-36-20 | M36x2 | 25 | 54 | 80 | 68 [10.2| 92 | 41 | 46 |M14x50[1850] 420
S1DFS-42-20 | M42X2 | 30 | 54 | 79 |65.5[10.2] 92 | 41 | 50 |Mi4x50/1900] 400
S1DFS-52-20 | Ms52x2 | 38 | 54 | 83 | 67 [10.2] 98 | 46 | 60 |Mi4xs02100] 315
S1DFS-42-24 | Mm42x2 | 30 [63.5| 90 | 74 |12.5| 103 | 46 | 50 |Mi6X552100| 420
S1DFS-52-24 | ms52x2 | 38 [63.5| 89 | 73 [12.5] 104 | 46 | 60 |Mi6X553060] 315
VE s W R SR AR ET A£G Ja I “ZH” inS1DFS-36-16ZH.
Note:In case if you are interested to order adapter in complete set with Flange folder and Screw.
Itis necessary to insert suffix “ZH” after our part NO,for example SIDFS-36-16ZH.

129/ =M i E = 130/ =t A e s 1



®

1L P84 ) ADAPTER /Aspinzst METRIC Thread Bite Type Tube Fitting Sannke

s 823 ADAPTER

®

~#HDIN+EX METRIC Thread Bite Type Tube Fitting Sa n n ke

S it =Ar

90° DIN~%E:\/SAEWL=

S1CFL9. S1DFL9
90° METRIC MALE BITE TYPE/SAE FLANGE

S1CFL9-ZH/RN, S1DFL9-ZH/RN 3000 PSI
= R Y24 THREAD |ET4M3 i~} DIMENSIONS e it [ e ] 2
PART NO. T1 D1 | D [L1 L2 ]3] 4] 5] s1]s2]| " [w/f (ban ?ﬂ

S1CFL9-22-08
S1CFL9-26-08
S1CFL9-26-12
S1CFL9-30-12
S1CFL9-36-12
S1CFL9-30-16
S1CFL9-36-16
S1CFL9-45-20
S1CFL9-45-24
S1CFL9-52-24
S1DFL9-20-08
S1DFL9-24-08
S1DFL9-24-12
S1DFL9-30-12
S1DFL9-36-12
o’ A S1DFL9-30-16
\ S1DFL9-36-16
S1DFL9-42-16
S1DFL9-36-20
S1DFL9-42-20

M22X1.5 15 [30.2| 36 | 29 | 6.7 | 36 | 44 | 24 | 27 |M8X25/400 | 315
M26X1.5 | 18 |30.2| 37 |29.5| 6.7 | 36 | 46 | 24 | 32 |[M8X25/440 | 315
M26X1.5 18 [38.1| 39 |31.5/ 6.7 | 42 | 48 | 30 | 32 |M10X30 660 | 315
M30X2 22 |38.1| 41 |33.5/ 6.7 | 42 | 50 | 30 | 36 |M10X30 660 | 160
M36X2 28 |38.1| 41 |33.5| 6.7 | 42 | 50 | 30 | 41 |M10X30780 | 160 L
M30X2 22 |44.5| 65 |57.5| 8 60 | 74 | 34 | 36 [M10X30810 | 160
M36X2 28 |44.5| 44 |36.5| 8 45 | 53 | 36 | 41 |M10X30850 | 160
M45X2 35 |50.8| 57 |46.5| 8 50 | 68 | 41 | 50 |M10X351150| 160

8

8

M45X2 35 |60.3| 78 |67.5 55 | 83 | 50 | 50 |M10X351550| 160
M52X2 42 |60.3| 58 | 47 55 | 70 | 50 | 60 |M12X351600| 160
M20X1.5 12 |30.2| 50 |42.5| 6.7 | 36 |58.5| 22 | 24 |M8X25/380 | 210
M24X1.5 | 16 |30.2| 38 |29.5| 6.7 | 36 | 48 | 24 | 30 [M8X25/430 | 350
M24X1.5 16 |38.1| 64 |55.5| 6.7 | 43 |73.5| 27 | 30 [M10X30600 | 350
M30X2 20 |38.1| 43 |32.5| 6.7 | 42 | 54 | 30 | 36 [M10X30 760 | 350
M36X2 25 |38.1| 45 | 33 | 6.7 | 42 | 57 | 30 | 46 |M10X30890 | 350
M30X2 20 |44.5| 65 |54.5| 8 | 45 | 77 | 36 | 36 |M10X30 780 | 350
M36X2 25 |44.5| 48 |36.5| 8 45 | 57 | 36 | 46 |M10X30950 | 350
M42X2 30 |44.5| 50 |36.5| 8 | 45 | 63 | 36 | 50 [M10X301060| 350
M36X2 25 |50.8| 55 | 43 | 8 50 | 67 | 41 | 46 |M10X351350| 280

8

8

8

M42X2 30 |50.8| 57 |43.5 50 | 71 | 41 | 50 |M10X351400| 280
S1DFL9-52-20 M52X2 38 [50.8| 59 | 43 50 | 74 | 41 | 60 [M10X351530| 280
S1DFL9-52-24| M52X2 38 |60.3| 64 | 48 55 | 79 | 50 | 60 |M10X351950| 210
e Gk AR ETAEAC S S5 “ZH”  WS1DFS9-36-16ZH.

Note:In case if you are interested to order adapter in complete set with Flange folder and Screw.
Itis necessary to insert suffix “ZH” after our part NO,for example SIDFS9-36-16ZH.

S1DFS9 90° TDINFER/SAEK 2
90° METRIC MALE BITE TYPE/SAE FLANGE

. 5 122 THREAD [ 1-514% /{5t DIMENSIONS sgpy | E AN R

i PART NO. T4 DI | D [L1]L2]ia]La|Ls[s1[sa]| - [su/fk| (a5

1 S1DFS9-20-08
il S1DFS9-22-08
S1DFS9-24-08
S1DFS9-24-12
S1DFS9-30-12
S1DFS9-36-12
S1DFS9-30-16
S1DFS9-36-16
S1DFS9-42-16
S1DFS9-36-20
S1DFS9-42-20
S1DFS9-52-20

M20X1.5 12 |31.8| 50 (42.5| 7.7 | 39 |58.5| 22 | 24
M22X1.5 14 |31.8| 50 | 42 | 7.7 | 39 |59.5| 22 | 27 | M8X30 | 390 | 420
M24X1.5 16 |31.8| 38 (29.5/ 7.7 | 39 | 48 | 24 | 30 | M8X30 | 490 | 400
M24X1.5 16 |41.3| 45 |36.5/ 8.7 | 48 | 55 | 32 | 30 |[M10X35| 920 | 400
M30X2 20 |41.3| 46 |35.5/ 8.7 | 48 | 57 | 32 | 36 [M10X35| 970 | 400
M36X2 25 |41.3| 48 | 36 | 8.7 | 48 | 60 | 32 | 46 |M10X35| 1110] 400
M30X2 20 |47.6| 65 |54.5/ 9.5 | 60 | 75 | 41 | 36 |M12X45| 1690| 420
M36X2 25 |47.6| 53 | 44 | 9.5| 60 | 65 | 41 | 46 |M12X45| 1670| 400
M42X2 30 |47.6| 55 |41.5/9.5| 60 | 68 | 41 | 50 |M12X45| 1630| 400
M36X2 25 54 | 64 | 52 |10.2| 68 | 76 | 42 | 46 |M14X50| 2230| 420
M42X2 30 54 | 58 |44.5/10.2| 68 | 71 | 46 | 50 |M14X50| 2220| 400
M52X2 38 54 | 61 | 45 [10.2| 68 | 76 | 46 | 60 |M14X50| 2390| 315
S1DFS9-42-24 | M42X2 30 [63.5| 76 |63.5/12.5| 76 | 90 | 50 | 50 |[M16X55| 2380| 420
S1DFS9-52-24 | M52X2 38 |63.5| 72 | 56 |12.5| 76 | 87 | 50 | 60 [M16X55| 2580 315
e WA R SR RRAT AR AT S “ZH” ,WiS1DFS9-36-16ZH.

Note:In case if you are interested to order adapter in complete set with Flange folder and Screw.
Itis necessary to insert suffix “ZH” after our part NO,for example S1DFS9-36-16ZH.

M8X30 | 370 | 420

L1
&bl |
i=

[T

131/ =t i dE st

Fh U7 Tk 2 e sk
S1CFG/S1DFG Pump flange connection
)
Tf.@_‘l_
I\f\ Fa
1 B o -
L2 / L
L1 N
A= 1240 THREAD | T 4Mz J{s} DIMENSIONS Wi FH B2 AR )
PART NO. T1 TUDE O.D. L L1 L2 L3 D1 124 BOLT | OJF[E O-RING Mpa
S1CFG-16-30 M16X1.5 10 36 30 8 30 6.5 4XM6X22 20X2.5 31.5
S1CFG-18-30 M18X1.5 12 36 30 8 30 6.5 4XM6X22 20X2.5 31.5
S1CFG-16-35 M16X1.5 10 39 30 8 35 6.5 4AXM6X22 20X2.5 31.5
S1CFG-18-35 M18X1.5 12 39 30 8 85 6.5 4XM6X22 20X2.5 31.5
S1CFG-22-35 M22X1.5 15 39 30 8 35 6.5 4XM6X22 20X2.5 25
S1CFG-26-35 M26X1.5 18 39 30 8 35 6.5 4XM6X22 20X2.5 25
S1CFG-22-40 M22X1.5 15 42 35 8 40 6.5 4XM6X22 20X2.5 10
S1CFG-26-40 M26X1.5 18 42 35 8 40 6.5 4XM6X22 20X2.5 10
S1CFG-30-40 M30X2 22 42 35 8 40 6.5 4XM6X22 20X2.5 10
S1CFG-36-40 M36X2 28 42 42 8 40 6.5 4XM6X22 20X2.5 10
S1DFG-24-35 M24X1.5 16 39 30 8 35 6.5 4XM6X22 20X2.5 31.5
S1DFG-30-55 M30X2 20 55 42 8 55 8.5 4XM8X22 32X2.5 25
R H90° 757 ik 2 Bk
S1CFG9/S1 DFG9 Elbow pump flange connection
—_— UL
_ —
el L
; 9
<’ = ]
L —
i v L1
f = 1240 THREAD| & F4hE JXs) DIMENSIONS VLIRS BK(319)
PART NO. T1 TUDE O.D. L L1 L2 L3 D1 IZ2F: BOLT Of:fél O-RING| Mpa
S1CFG9-16-35 M16X1.5 10 39 | 16.5| 38 35 6.5 M6X22/M6X35 20X2.5 31.5
S1CFG9-18-35 M18X1.5 12 39 | 16.5 | 38 35 6.5 M6X22/M6X35 20X2.5 31.5
S1CFG9-22-35 M22X1.5 15 39 | 16.5 | 38 35 6.5 M6X22/M6X35 20X2.5 25
S1CFG9-26-35 M26X1.5 18 39 | 20.5| 38 35 6.5 M6X22/M6X40 20X2.5 25
S1CFG9-22-40 M22X1.5 15 42 | 22.5| 38 40 6.5 M6X22/M6X40 26X2.5 10
S1CFG9-26-35 M26X1.5 18 42 | 22.5| 38 40 6.5 M6X22 26X2.5 10
S1CFG9-30-40 M30X2 22 42 | 22.5| 38 40 6.5 M6X22 26X2.5 10
S1CFG9-36-40 M36X2 28 42 28 40 40 6.5 M6X22/M6X50 26X2.5 10
S1CFG9-45-40 M45X2 35 42 34 41 40 6.5 M6X22/M6X60 26X2.5 10
S1DFG9-24-35 M24X1.5 16 39 20 38 35 6.5 M6X22/M6X40 20X2.5 .5
S1DFG9-30-35 M30X2 20 39 25 45 35 6.5 M6X22/M6X45 20X2.5 31.5
S1DFG9-30-40 M30X2 20 42 | 22.5| 40 40 6.5 M6X22/M6X45 26X2.5 25

132/ =t A e s 1

SE ik oA



®

®
L% ) ADAPTER /#iDINE 25t METRIC Thread Bite Type Tube Fitting Sa NN ke CLJE B2 ) ADAPTER A#iDINEZst METRIC Thread Bite Type Tube Fitting Sa nn I (e

S it =Ar

S1CI-KDS S1CI-KDS/RN  S1CI-GDK/RN - | R S T IE AT I SR
S1DI-KDS S1DI-KDS/RN S1DI-GDK/RN i S A8 e X S O oM B % s -b- -B- / HIGH PRESSURE BSP BANJO ELASTIC SEAL
KDS#H: [ KDS # & GDK 4N #4 & HIGH PRESSURE METRIC BANJO ELASTIC SEAL KD S#A 4| KDS# 4] GDK%N 24 3|

5]

L1 12

L2 L6 F 3\

LS

i3

'
|

BRI ANIR 52 EO )

BHIPI AR 52 EO

;R = 124 THREAD  [#7T4ED = DIMENSIONS 1EH ] r = 4 THREAD  [#TFH#D S~ DIMENSIONS TAEE S
PART NO. T1 T2 TUEOD| L1 | L2 | L3 | L4 | L5 | L6 | L7 | S1 | S2 | S3 [D1(KDS)D1(GDK) Mpa PART NO. T1 T2 TWEOD.| L1 | L2 | L3 | L4 | L5 | L6 | L7 | D1 | S1 | S2 | S3 Mpa

S1CI-12-10KDS M12X1.5| M10X1 | 06 | 19 | 12 |10.5| 8 24 | 27 | 25|17 | 17 | 14 |14.9] 14 | 31.5 S1CI-12-B02KDS M12X1.5 | G1/8"X28 | 06 | 19 | 12 |10.5| 8 24 | 27 | 2.5 (14.9| 17 | 17 | 14 31.5
S1CI-14-12KDS M14X1.5|M12X1.5| 08 [21.5|14.5| 14 | 12 | 30 | 29 |3.0| 22 | 19 | 17 | 17 | 17 | 31.56 S1CI-14-B04KDS M14X1.5 | G1/4"X19| 08 |21.5(14.5| 14 | 12 | 30 | 29 | 3.0 |18.9| 22 | 19 | 17 31.5 g
S1CI-16-14KDS M16X1.5|M14X1.5| 10 |22.5|15.5| 14 | 12 | 30 | 30 | 3.0| 22 | 19 | 19 |18.9| 19 | 31.5 S1CI-16-B04KDS M16X1.5 | G1/4"X19| 10 |22.5|15.5| 14 | 12 | 30 | 30 | 3.0 (18.9] 22 | 19 | 19 31.5 =
S1CI-18-16KDS M18X1.5|M16X1.5| 12 | 25 |18.0|16.5| 12 | 36 | 33 | 3.0 | 27 | 24 | 22 [21.9| 21 | 31.5 S1CI-18-B06KDS M18X1.5 | G3/8"X19 | 12 | 25 [18.0|16.5| 12 | 36 | 33 | 3.0 [21.9| 27 | 24 | 22 31.5
S1CI-22-18KDS M22X1.5|M18X1.5| 15 |27.5|21.5|18.5| 12 |39.5| 37 | 3.0 | 30 | 30 | 27 |23.9| 23 | 31.5 S1CI1-22-B08KDS M22X1.5 | G1/2"X14 | 15 |28.5|21.5|21.5| 14 | 45 | 37 | 4.5 |26.9| 32 | 30 | 27 31.5
S1CI-26-22KDS M26X1.5|M22X1.5| 18 [28.5| 21 |21.5| 14 | 45 | 37 | 4.5 | 32 | 30 | 32 [26.9| 27 | 31.5 S1CI-26-B08KDS M26X1.5 | G1/2"X14 | 18 |28.5| 21 |21.5| 14 | 45 | 37 | 4.5 |26.9| 32 | 30 | 32 31.5
S1CI-30-26KDS M30X2 [M26X1.5| 22 | 35 |27.5| 24 | 16 | 53 | 44 | 3.5| 41 | 36 | 36 |31.9| 31 16 S1CI-30-B12KDS M30X2 | G3/4"X14| 22 | 35 |27.5| 24 | 16 | 53 | 44 | 3.5 |32.9| 41 | 36 | 36 16
S1CI-36-33KDS M36X2 | M33X2 | 28 |39.5| 32 |30.5| 18 | 66 | 49 | 3.5 | 50 | 46 | 41 |39.9| 39 16 S1CI-36-B16KDS M36X2 G1"X11 | 28 [39.5| 32 [30.5| 18 | 66 | 49 | 3.5 |39.9| 50 | 46 | 41 16
S1CI-45-42KDS M45X2 | M42X2 | 35 |46.5| 36 |35.5| 20 | 76 | 58 | 3.5 | 60 | 55 | 50 |49.9| 49 16 S1CI-45-B20KDS M45X2 |G1.1/4"X11| 35 |46.5| 36 |35.5| 20 | 76 | 58 | 3.5 |49.9| 60 | 55 | 50 16
S1CI-52-48KDS M52X2 | M48X2 | 42 |51.5|40.5|40.5| 22 | 87 | 63 | 3.5| 70 | 60 | 60 |55.9| 55 16 S1CI-52-B24KDS M52X2 |G1.1/2"X11| 42 |51.5/40.5|/40.5| 22 | 87 | 63 | 3.5 |55.9| 70 | 60 | 60 16
S1DI-14-12KDS M14X1.5|M12X1.5| 06 [23.5|16.5| 14 | 12 | 30 | 31 | 3.0 | 22 | 19 | 17 | 17 | 17 40 S1DI-14-B04KDS M14X1.5 | G1/4"X19 | 06 |23.5/16.5| 14 | 12 | 30 | 31 | 3.0 |18.9] 22 | 19 | 17 40
S1DI-16-14KDS M16X1.5|M14X1.5| 08 [23.5|16.5| 14 | 12 | 30 | 31 | 3.0| 22 | 19 | 19 [18.9] 19 40 S1DI-16-B04KDS M16X1.5 | G1/4"X19 | 08 |23.5(16.5| 14 | 12 | 30 | 31 | 3.0 |18.9| 22 | 19 | 19 40
S1DI-18-16KDS M18X1.5|M16X1.5| 10 | 26 |18.5|16.5| 12 | 36 | 35 | 3.0 | 27 | 24 | 22 |21.9| 21 40 S1DI-18-B06KDS M18X1.5 | G3/8"X19 | 10 | 26 |18.5|/16.5| 12 | 36 | 35 | 3.0 |21.9| 27 | 24 | 22 40
S1DI-20-18KDS M20X1.5|M18X1.5| 12 [27.5| 20 |18.5| 12 |39.5| 36 | 3.0 | 27 | 27 | 24 [23.9| 23 40 S1DI-20-B06KDS M20X1.5 | G3/8"X19 | 12 | 26 [18.5|16.5| 12 | 36 | 35 | 3.0 [21.9| 27 | 24 | 24 40
S1DI-22-20KDS M22X1.5|M20X1.5| 14 |30.5|22.5| 20 | 14 |43.5/ 40 | 3.0| 32 | 30 | 27 | 32 | 25 40 S1DI-22-B08KDS M22X1.5 | G1/2"X14 | 14 |30.5|22.5|21.5| 15 | 45 | 40 | 4.5 |26.9| 32 | 30 | 27 40
S1DI-24-22KDS M24X1.5|M22X1.5| 16 [30.5| 22 |21.5| 14 | 45 | 40 | 4.5 | 32 | 30 | 30 (26.9| 27 | 31.5 S1DI-24-B08KDS M24X1.5 | G1/2"X14| 16 |30.5| 22 [21.5| 14 | 45 | 40 | 4.5 |26.9| 32 | 30 | 30 31.5
S1DI-30-27KDS M30X2 | M27X2 | 20 | 37 |26.5| 24 | 16 | 53 | 48 | 3.5| 41 | 36 | 36 |32.9| 32 | 31.5 S1DI-30-B12KDS M30X2 | G3/4"X14| 20 | 37 |26.5| 24 | 16 | 53 | 48 | 3.5 |32.9| 41 | 36 | 36 31.5
S1DI-36-33KDS M36X2 | M33X2 | 25 |43.5|31.5|30.5| 18 | 66 | 56 | 3.5 | 50 | 46 | 46 |39.9| 39 25 S1DI-36-B16KDS M36X2 G1"X11 | 25 [43.5|31.5(30.5| 18 | 66 | 56 | 3.5 |39.9| 50 | 46 | 46 25
S1DI-42KDS M42X2 | M42X2 | 30 |50.5| 37 |35.5| 20 | 76 | 64 | 3.5 | 60 | 55 | 50 |49.9| 49 16 S1DI-42-B20KDS M42X2 |G1.1/4"X11| 30 |50.5| 37 |35.5| 20 | 76 | 64 | 3.5 |49.9| 60 | 55 | 50 16
S1DI-52-48KDS M52X2 | M48X2 | 38 |57.5|41.5|40.5| 22 | 87 | 72 | 3.5 | 70 | 60 | 60 |55.9| 55 16 S1DI-52-B24KDS M52X2 |G1.1/2"X11| 38 [57.5|41.5{40.5| 22 | 87 | 72 | 3.5 |55.9] 70 | 60 | 60 16

VEe W R R R R AT B, AR N “RN” |, 11S1CI-30-26KDS/RN, VEe RS SR AR R AT B, I AEACS T I “RN”, WIS1CI-30-B12KDS/RN.

Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut, itis necessary toinsert Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut, itis necessary to

suffix “RN” after our part NO, for example S1CI-30-26KDS/RN. insert suffix “RN” after our part NO, for example S1CI-30-B12KDS/RN.

133/ =M A = 134/ =M iR E A



P15k ADAPTER /#ipiN-f%3t METRIC Thread Bite Type Tube Fitting Sa nnk

®

e

®

1L P15 ADAPTER 2#DINFE3t METRIC Thread Bite Type Tube Fitting Sannke

S it =Ar

S4C. S4D 1 9.
S4C/RN. S4D/RN PULUG
L2 5 124 THREAD TR Ji~) DIMENSIONS &= | TR &
PART NO. T1 D1 L1 | L2 | L3 | s1 [ s2 |si/#k| (ban) |5

L S4C-12 M12X1.5 06 7 | 142212 ] 14| 8 | 500

i S4C—14 M14X1.5 08 8 | 15| 23 | 14 | 17 | 13 | 500

AI- S4C-16 M16X1.5 10 9 | 16| 24 | 17 | 19 | 17 | 500

= i S4C-18 M18X1.5 12 10 | 17 [ 25 | 19 | 22 | 24 | 400
S4C-22 M22X1.5 15 11 | 18 | 26 | 24 | 27 | 41 | 400 ||

S4C—26 M26X1.5 18 115 19 | 28 | 27 | 32 | 56 | 400

1 S4C-30 M30X2 22 135/ 21 | 30 | 32 | 36 | 84 | 250

S4C-36 M36X2 28 145] 22 [ 31 | 41 | 41 [138] 250

S4C-45 M45X2 35 14.5| 25 | 36 | 46 | 50 | 203 | 250

S4C-52 M52X2 42 16 | 27 | 39 | 55 | 60 | 318 | 250

S4D-14 M14X1.5 06 11 | 18 | 26 | 14 | 17 | 17 | 800

S4D-16 M16X1.5 08 13 [ 20 | 28 | 17 | 19 | 28 | 800

S4D-18 M18X1.5 10 145 20 | 29 | 19 | 22 | 33 | 800

S4D-20 M20X1.5 12 145| 22 | 31 | 22 | 24 | 50 | 630
S4D-22 M22X1.5 14 16 | 24 | 34 | 24 | 27 | 62 | 630 | _

S4D-24 M24X1.5 16 155 24 | 34 | 27 | 30 | 75 | 630

S4D-30 M30X2 20 175 28 | 39 | 32 | 36 | 125 | 420

S4D-36 M36X2 25 20 | 32 | 44 | 41 | 46 | 229 420

S4D-42 M42X2 30 20.5| 34 | 47 | 46 | 50 | 310 | 420

S4D-52 M52X2 38 23 | 39 | 54 | 55 | 60 | 805 | 420

T g R RER R R, SRS S “RN” . 1S4C-30/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO., for example S4C-30/RN.

S9C IR Lt Sk
S9D FEMALE PLUG
(%57 24 THREAD | & 1 4 12 R~ DIMENSIONS B | TEEN &R
PART NO. T1 D1 L1 | D2 | S1 v /0 (bar) | 271
L S9C-12 M12X1.5 06 18.5| 06 | 14 15 | 500
S9C-14 M14X1.5 08 18.5| 08 | 17 24 | 500
7 S9C-16 M16X1.5 10 20 | 10 | 19 33 | 500
. | o S9C-18 M18X1.5 12 20.5| 12 | 22 46 | 400
) % S9C-22 M22X1.5 15 20.5| 15 | 27 73 | 400 |
S9C-26 M26X1.5 18 225( 18 | 32 111 | 400
S9C-30 M30X2 22 25 | 22 | 36 162 | 250
S9C-36 M36X2 28 25.5| 28 | 41 220 | 250
S9C-45 M45X2 35 30 | 35 | 50 376 | 250
S9C-52 M52X2 42 30 | 42 | 60 558 | 250
S9D-14 M14X1.5 06 18.5| 06 | 17 23 | 800
S9D-16 M16X1.5 08 18.5| 08 | 19 29 | 800
S9D-18 M18X1.5 10 20 | 10 | 22 46 | 800
S9D-20 M20X1.5 12 20.5| 12 | 24 55 | 630
S9D-22 M22X1.5 14 225| 14 | 27 83 | 630 |
S9D-24 M24X1.5 16 23.5| 16 | 30 106 | 630
S9D-30 M30X2 20 28.5| 20 | 36 180 | 420
S9D-36 M36X2 25 29 | 25 | 46 322 | 420
S9D-42 M42X2 30 30.5| 30 | 50 398 | 420
S9D-52 M52X2 38 33 | 38 | 60 647 | 420

135/ =f i & 1

SNL
SNS

L1

RAEIER]

RETAINING NUTS

5 B ReRD | T MR Ji+} DIMENSIONS R P

PART NO. T1 TUBEO.D | L1 | D1 S1 |we/fF 4
SNL-12 M12X1.5 06 15 | 06 14 | 10
SNL-14 M14X1.5 08 15 | 08 17 | 15
SNL-16 M16X1.5 10 16 | 10 19 | 18
SNL-18 M18X1.5 12 16 | 12 22 | 25
SNL-22 M22X1.5 15 17.5| 15 27 | 42

SNL-26 M26X1.5 18 18.5| 18 32 | 62 L
SNL-30 M30X2 22 20.5| 22 36 | 82
SNL-36 M36X2 28 21 | 28 41 | 89
SNL-45 M45X2 35 24 | 35 50 | 137
SNL-52 M52X2 42 24 | 42 60 | 216
SNS-14 M14X1.5 06 17 | 06 17 | 17
SNS-16 M16X1.5 08 17 | o8 19 | 20
SNS-18 M18X1.5 10 18 | 10 22 | 31
SNS-20 M20X1.5 12 18 | 12 24 | 34

SNS-22 M22X1.5 14 21 | 14 27 | 53 S
SNS-24 M24X1.5 16 21 | 16 30 | 66
SNS-30 M30X2 20 24.5| 20 36 | 102
SNS-36 M36X2 25 27 | 25 46 | 202
SNS-42 M42X2 30 29 | 30 50 | 219
SNS-52 M52X2 38 32.5| 38 60 | 339

SE ik oA

136/ =M A& s



s ® NN o ®
g ) ADAPTER %] MIRCThexd Fitting Sannke % H: ) ADAPTER 4%] MIR CThead Fitting Sannke

NI AMRZCORY B 1 INTHIAMESCORY P~ [HI %/ A HIAMESCE 241 1ISO 6149
S1E METRIC MALE O-RING S1EH METRIC MALE O-RING /METRIC MALE S-SERIES BONDED ISO 6149
X = 124 THREAD JR5I” DIMENSIONS TAEE) L i = 1247 THREAD J{=} DIMENSIONS AR
i PART NO. T1 T2 L | L2 S1 | Mpa TR PART NO. T1 T2 L L2 S1 | Mpa
—‘U—h_.i._ S1E-12 M12X1.25 M12X1.25 28 10 10 14 ' ' S1EH-12-10 M12X1.25 M10X1 28 11 9.5 14
~ S1E-14 M14X1.5 M14X1.5 28 11 11 17 o s = S1EH-14-12 M14X1.5 M12X1.25 28 11 11 17
S1E-16 M16X1.5 M16X1.5 28 11 11 17 63 ] i S1EH-16-14 M16X1.5 M14X1.5 28 11 11 19 63
A trrr S1E-18 M18X1.5 M18X1.5 28 | 11 | 11 19 ) Ve S1EH-18-16 M18X1.5 M16X1.5 315| 11 | 125 22
S1E-22 M22X1.5 M22X1.5 32 12 12 24 - S1EH-22-18 M22X1.5 M18X1.5 345 12 14 24
E ke a1 B S1E-27 M27X1.5 M27X1.5 36 i 13 30 L S1EH-27-22 M27X1.5 M22X1.5 38 13 15 30 E
- S1E-30 M30X1.5 M30X1.5 39 | 14 | 14 32 | 40 1 S1EH-30-27 M30X1.5 M27X2 435| 14 | 185 32 | 40
S1E-36 M36X2 M36X2 43 16 16 4 S1EH-36-33 M36X2 M33X2 475 | 16 | 185 41
S1E-39 M39X2 M39X2 49 18 18 41 S1EH-39-33 M39X2 M33X2 495 | 18 | 185 41
S1E-42 M42X2 M42X2 53 | 20 | 20 46 S1EH-42 M42X2 M42X2 54 | 20 19 50
S1E-45 M45X2 M45X2 55 21 21 46 25 S1EH-45-42 M45X2 M42X2 54 | 21 19 50 %
S1E-52 M52X2 M52X2 59 22 | 22 55 S1EH-52-48 M52X2 M48X2 585 | 22 | 215 B5)
S1E-60 M60X2 MooX2 0 |22 | 22 6 IR PE I 4E AR SR I “DQ” , 40 S1EH-80-27DQ,
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1EH-30-27DQ
2 2

il il

o AABISMELOT T K

S1E9 90°METRIC MALE O-RING
5 NG o DINENSENS ey 45° 45 A HISMBLCOMENT- T B/ A BISMBLCT M TR R 51 1SO 6149-2
% Ps':‘g Ng M12Tx11 25 M12T><21 25 2|<_)15 2;25 ?; Mpa S1EH4-0G 45° METRIC MALE O-RING /METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2
S1E9-14 M14X15 M14X15 225 | 225 14 ft % JRZL THREAD JOF DIMENSIONS T
S1E9-16 M16X1.5 M16X1.5 o4 | 24 17 | 63 AN LK T2 L1 L2 S1 | Mpa
S1E9-18 M18X1.5 M18X1.5 2 | 26 19 S1EH4-12-100G | M12X1.25 M10X1 18 | 255 12
A7 _ S1E9-22 M22X1.5 M22X1.5 29 | 29 22 §1EH4‘14‘128G M14X1.5 bl 195] 27 e
(st — 1EH4-16-140G | M16X1.5 M14X1.5 20 | 28 17
—tr 2153_23 m%)ﬂg mg;ﬂ: gig 222 i; 20 S1EH4-18-160G | M18X1.5 M16X1.5 215/ 34 19 | 63
ST V3650 136 > | 42 % S1EH4-22-180G | M22X1.5 M18X1.5 23 | 34 22
S1E9_39 V392 M39X2 475|475 “ S1EH4-27-220G | M27X1.5 M22X1.5 245|405 27
S Va2 e I e S1EH4-30-270G | M30X1.5 M27X2 26 | 48 30
S1E9_45 V452 Md5X2 525 | 525 26 | 25 S1EH4-36-330G M36X2 M33X2 305 | 49.5 B | L.
S NS T — | o 50 S1EH4-39-330G M39X2 M33X2 36 | 52 41 '
S1EH4-420G M42X2 M42X2 38 | 53 41 -
S1EH4-45-420G M45X2 M42X2 39 | 54 46
S1EH4-52-480G M52X2 M48X2 42 | 585 50 | 20
A AR S AS 5 “DQ” , a1 S1EH4-30-270GDQ
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1EH4-30-270GDQ

137/ =M AR E = 138/ =t (A EE s



k83 ADAPTER %] MIRCThred Fitting Sannke g ) ADAPTER %] MIR CThred Fitting Sannke

90° 25 A HISMERL O P Y11 %% /A THIAMRET RT i ) ki 5 R 41 1ISO 6149-2 AT AMEZEZORY P /A HEE S MRS
S1EH9_OG 90° METRIC MALE O-RING /METRIC MALE ADJUSTABLE STUD END S-SERIES I1SO 6149-2 S1EN METRIC MALE O-RING /NPT MALE
£ 24 THREAD -] DIMENSIONS THEES £ = i24r THREAD J~F DIMENSIONS TR
2 PART NO. T1 T2 L1 L2 S1 Mpa PART NO. T T2 L L1 L2 S Mpa
' S1EH9-12-100G M12X1.25 M10X1 20.5| 28.5 14 ﬁ S1EN-14-04 M14X1.5 NPT1/4" X18 33.2| 11 | 145 17 27.5
S1EH9-14-120G M14X1.5 M12X1.5 22.5|33.2 17 ] S1EN-14-06 M14X1.5 NPT3/8 " X18 35 11 | 145 19 21
: ﬁz S1EH9-16-140G M16X1.5 M14X1.5 24 36 19 _' S1EN-16-04 M16X1.5 NPT1/4" X18 342 | 11 | 145 17 27.5
] : S1EH9-18-160G M18X1.5 M16X1.5 26 39 22 63 T W [ S1EN-16-06 M16X1.5 NPT3/8 " X18 36 11 | 145 19
i S1EH9-22-180G | M22X1.5 | M18X1.5 29 | 44 24 L% S1EN-16-08 M16X1.5 | NPT12'X14 39.5| 11 195 22| &
e ! S1EH9-27-220G M27X1.5 M22X1.5 32.5| 48 27 <3l S1EN-18-04 M18X1.5 NPT1/4" X18 36.7| 11 | 145 19 27.5 E
S1EH9-30-270G M30X1.5 M27X2 35.5| 57 31 S1EN-18-06 M18X1.5 NPT3/8" X18 37 11 | 145 19
S1EH9-36-330G M36X2 M33X2 42 | 60.5 4 315 S1EN-18-08 M18X1.5 NPT1/2" X14 405 | 11 | 195 22 21
S1EH9-39-330G M39X2 M33X2 475 | 64 41 . S1EN-22-08 M22X1.5 NPT1/2" X14 42 12 | 195 24
S1EH9-420G M42X2 M42X2 49.5 | 65 50 o5 S1EN-22-12 M22X1.5 NPT3/4" X14 425 | 12 [ 195 27 17
S1EH9-45-420G M45X2 M42X2 52.5| 67.5 50 S1EN-24-06 M24X1.5 NPT3/8" X18 40 12 | 145 27
S1EH9-52-480G M52X2 M48X2 57 | 73.5 55 20 S1EN-24-08 M24X1.5 NPT1/2" X14 44 12 | 195 27 21
VEE AP I EAL S 5 I “DQ”, 41 S1EH9-30-270GDQ S1EN-27-08 M27X15 | NPT1/2-X14 445| 13 1195 30
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ" S1EN-27-12 M27X1.5 NPT3/4 " X14 445| 13 | 195 30
after our part NO,for example S1EH9-30-270GDQ S1EN-30-12 M30X1.5 NPT3/4" X14 46.5| 14 | 195 32 17
S1EN-36-12 M36X2 NPT3/4 " X14 51 16 | 19.5 41
S1EN-36-16 M36X2 NPT1"X11.5 55 16 | 25.5 41 14
S1EN-39-16 M39X2 NPT " X11.5 59 | 18 | 255 41
S1EL RSO BT /A HAMRECA £ 40 ey e LRI o8BS —— n
METRIC MALE O-RING /METRIC MALE WITH BONDED SEAL BONDED SEAL S1EN-42-20 Ma2X2 NPT11/4" X115 65 20 | 265 46 ﬁ;u
= 124 THREAD i~} DIMENSIONS TS S1EN-45-20 M45X2 NPT1.1/4" X11.5 66 | 21 | 26.5 46 8
L PART NO. T1 T2 L1 L2 L S1 Mpa S1EN-52-20 M52X2 NPT1.1/4" X11.5 67 | 22 | 26.5 55
L1 ol S1EL-14 M14X1.5 M14X15 11 12 1305 19 S1EN-60-24 M60X2 NPT1.1/2" X11.5 735 | 24 | 275 65 7
S1EL-16-14 M16X1.5 M14X1.5 11 12 30 19
— J = S1EL-22-18 M22X1.5 M18X1.5 12 12 | 335 | 24 40
] | S1EL-27-22 M27X1.5 M22X1.5 13 14 | 38.5| 30
8 S1EL-30-27 M30X1.5 M27X2 14 16 41 36
\st S1EL-36-33 M36X2 M33X2 16 18 49 41
S1EL-42 M42X2 M42X2 21 20 56 50 25
S1EL-52-48 M52X2 M48X2 22 | 22 | 61 60

139/ =t A e s 1 140/ = i de f



it Bz ) ADAPTER 4% MR CThecd Fitting Sannke.

oy ®
% $:J; ADAPTER 2%] MR CThrecd Fitting Sannke

S1ET-SP

L2

T1

>

i

WSRO 8] /FEHEE SR
METRIC MALE O-RING /BSPT MALE

A 1240 THREAD JUs} DIMENSIONS TAERT)
PART NO. T1 T2 L1 | L2 | L S1 | Mpa
S1ET-14-04SP M14X1.5 R1/4"X19 11 | 26.2| 33.2 17
S1ET-14-06SP M14X1.5 R3/8"X19 11 28 | 35 17
S1ET-16-04SP M16X1.5 R1/4"X19 11 | 26.2| 34.2 17
S1ET-16-06SP M16X1.5 R3/8"X19 11 28 | 36 17 345
S1ET-18-06SP M18X1.5 R3/8"X19 11 28 | 37 19
S1ET-18-08SP M18X1.5 R1/2"X14 11 | 31.5|40.5 22
S1ET-22-08SP M22X1.5 R1/2"X14 12 | 325 | 42 24
S1ET-22-12SP M22X1.5 R3/4"X14 12 | 33 | 425 27 | 275
S1ET-24-06SP M24X1.5 R3/8"X19 12 | 32 | 43 27
S1ET-24-08SP M24X1.5 R1/2"X14 12 | 33 | 44 27 34.5
S1ET-27-08SP M27X1.5 R1/2"X14 13 | 33.5|44.5 30
S1ET-27-12SP M27X1.5 R3/4"X14 13 | 33.5 | 44.5 30
S1ET-30-12SP M30X1.5 R3/4"X14 14 | 33.5| 46.5 32 | 275
S1ET-36-12SP M36X2 R3/4"X14 16 | 40 | 51 38
S1ET-36-16SP M36X2 R1"X11 16 | 44 | 55 38 205
S1ET-39-16SP M39X2 R1"X11 18 | 46 | 59 41 '
S1ET-39-20SP M39X2 R1.1/4"X11 18 | 50 | 63 46
S1ET-42-20SP M42X2 R1.1/4"X11 20 | 52 | 65 46 17
S1ET-45-20SP M45X2 R1.1/4"X11 21 53 | 66 46
S1ET-52-24SP M52X2 R1.1/2"X11 22 | 54 | 67 55 10.5
A TIIMERSL O Y1 % B/
METRIC MALE O-RING /BUTT-WELD TUBE
A 1240 THREAD HTH R~ DIMENSIONS THEES
PART NO. T1 D1 L L1 L2 S1 Mpa
S1EW-12-06 M12X1.25 6 24 | 10 8 14
S1EW-14-08 M14X1.5 8 25 | 11 8 17
S1EW-16-10 M16X1.5 10 25 | 11 8 17 63
S1EW-18-12 M18X1.5 12 29 | 11 12 19
S1EW-22-14 M22X1.5 14 32 | 12 | 12 24
S1EW-27-18 M27X1.5 18 34 | 13 | 12 30
S1EW-30-22 M30X1.5 22 37 | 14 | 14 32 40
S1EW-36-28 M36X2 28 42 | 16 | 16 41
S1EW-39-30 M39X2 30 47 | 18 | 16 4
S1EW-42-34 M42X2 34 50 | 20 16 46 o5
S1EW-45-38 M45X2 38 52 21 18 46
S1EW-52-42 M52X2 42 56 | 22 18 55)

141/ =t s EE s

90° 75 A HIAMBELOM T b/
90° METRIC MALE O-RING /BUTT-WELD TUBE

VA= 1240 THREAD HFH J{5} DIMENSIONS THEES
PART NO. T1 D1 L1 L2 S1 Mpa
S1EW9-12-06 M12X1.25 6 20.5 | 16.5 12
S1EW9-14-08 M14X1.5 8 225|175 14
S1EW9-16-10 M16X1.5 10 24 | 195 17 63
S1EW9-18-12 M18X1.5 12 26 | 25 19
S1EW9-22-14 M22X1.5 14 29 | 27 22
S1EW9-27-18 M27X1.5 18 325|295 27
S1EW9-30-22 M30X1.5 22 35.5 | 33.5 30 40
S1EW9-36-28 M36X2 28 42 | 39 36
S1EW9-39-30 M39X2 30 475 | 43 41
S1EW9-42-34 M42X2 34 495 | 43 41 25
S1EW9-45-38 M45X2 38 525|475 46
S1EW9-52-42 M52X2 42 57 | 50 50
90° & /A il 41 R SrO%Y [ ~F i % &
90° METRIC MALE O-RING
f = 24 THREAD JU} DIMENSIONS THEES
PART NO. T1 T2 L1 | L2 S1 | S2 Mpa
S2E9-12 M12X1.25 M12X1.25 20.5 12 | 17
S2E9-14 M14X1.5 M14X1.5 22.5 14 | 19
S2E9-16 M16X1.5 M16X1.5 24 17 | 22 63
S2E9-18 M18X1.5 M18X1.5 26 19 | 24
S2E9-22 M22X1.5 M22X1.5 29 22 | 27
S2E9-27 M27X1.5 M27X1.5 32.5 27 | 32
S2E9-30 M30X1.5 M30X1.5 35.5 30 | 36 40
S2E9-36 M36X2 M36X2 42 36 | 41
S2E9-39 M39X2 M39X2 47.5 41 | 46
S2E9-42 M42X2 M42X2 49.5 41 | 50 o5
S2E9-45 M45X2 M45X2 52.5 46 | 55
S2E9-52 M52X2 M52X2 57 50 | 60

142/ = F R A EE 2

il



L2 J; ADAPTER A4

METRI C Thread Fi tti

®
ng Sannke

®
I ¥ ADAPTER A%] METR CThreod Fitting Sannke

D\

il

S2WE

10}
i
|
—

S9E

B

R/ A B PIRECO T Y T 5
BUTT-WELD TUBE / FEMALE O-RING

TR 5 1240 THREAD H¥H TUBE O.D Js) DIMENSIONS TAEES
PART NO. T1 D L1 L2 | ¢D Mpa
S2EW-06-12 M12X1.25 6 22 | 14 6
S2EW-08-14 M14X1.5 8 22 | 17 8
S2EW-10-16 M16X1.5 10 24 | 19 | 10 63
S2EW-12-18 M18X1.5 12 26 | 22 | 12
S2EW-14-22 M22X1.5 14 28 | 27 | 14
S2EW-18-27 M27X1.5 18 32 | 32 | 18
S2EW-22-30 M30X1.5 22 32 | 36 | 22 40
S2EW-28-36 M36X2 28 35 | 41 28
S2EW-30-39 M39X2 30 38 | 46 | 30
S2EW-34-42 M42X2 34 38 | 50 | 34 25
S2EW-38-45 M45X2 38 40 | 55 | 38
S2EW-42-52 M52X2 42 40 | 60 | 42
VEANECIR BER AR S 5 X, s S2WE-18-27X "
Note:Please insert suffix"x" after our part No.if you Order without nut,for example:szwe-18-27x

O 1 A1 2 SO e S T B B 3 Sk
METRIC MALE O-RING PLUG

&= 124 THREAD R~ DIMENSIONS THEES
PART NO. T1 L1 L S1 | Mpa
S4E-14 M14X1.5 11 | 17 17
S4E-16 M16X1.5 11 | 17 17 63
S4E-18 M18X1.5 11 | 17 19
S4E-22 M22X1.5 12 | 20 24
S4E-27 M27X1.5 13 | 23 30
S4E-30 M30X1.5 14 | 25 32 40
S4E-36 M36X2 16 | 29 41
S4E-42 M42X2 20 | 33 46
S4E-45 M45X2 21 | 34 46 25
S4E-52 M52X2 22 | 37 55
N A B S O 78 P P T 5 b Sk
METRIC FEMALE MALE O-RING PLUG
o= 124 THREAD R~ DIMENSIONS TS
PART NO. T1 L1 | st Mpa
S9E-12 M12X1.25 10 | 14
S9E-14 M14X1.5 105 | 17
S9E-16 M16X1.5 115] 19 63
S9E-18 M18X1.5 13 | 22
S9E-22 M22X1.5 13 | 27
S9E-27 M27X1.5 15 | 32
S9E-30 M30X1.5 15 | 36 40
S9E-36 M36X2 155 | 41
S9E-36 M39X2 175 | 46
S9E-42 M42X2 185 | 50 o5
S9E-45 M45X2 18.5| 55
S9E-52 M52X2 18.5| 60

143/ = R s i1

N THIAMERETO R Bl 1 o 5 e = T e

SAE METRIC MALE O-RING TEE
K = 22, THREAD ]~} DIMENSIONS p—
. PART NO. T T2 T3 L] 2| L3 S1 | Mpa
: SAE-14 M14X1.5 M14X1.5 M14X15 | 225 | 225 | 225 14
SAE-16 M16X1.5 M16X1.5 M16X1.5 | 24 | 24 | 24 17| o
— SAE-18 M18X1.5 M18X1.5 MI8X15 | 26 | 26 | 26 19
A4 4 o SAE-22 M22X1.5 M22X1.5 M22X15 | 29 | 29 | 29 22
o SAE—27 M27X1.5 M27X1.5 M27X15 | 325 | 325 | 32.5 27
L SAE-30 M30X1.5 M30X1.5 M30X1.5 | 355|355 355 0,
SAE-36 M36X2 M36X2 M36X2 | 42 | 42 | 42 36
SAE-39 M39X2 M39X2 M39X2 | 47.5| 475|475 41
SAE-42 M42X2 M42X2 M42X2 | 49.5 | 495 | 495 41
SAE—45 M45X2 MA45X2 M45X2 | 52.5 | 525 | 52.5 46 | 25
SAE_52 M52X2 M52X2 M52X2 | 57 | 57 | 57 50
SBE 28 1l A0 2 SrOFY ] S T 6 =i %3k
METRIC MALE O-RING TEE
o T 22 THREAD J-} DIMENSIONS TR
= N PART NO. T T2 T3 L1 | L2 | 81| s2 Mpa
: SBE-14 M14X1.5 M14X1.5 M14X15 | 225 | 225| 14 | 19
SBE-16 M16X1.5 M16X1.5 M16X1.5 | 24 | 24 | 17 | 22 63
SBE-18 M18X1.5 M18X1.5 M18X1.5 | 26 | 26 | 19 | 24
SBE-22 M22X1.5 M22X1.5 M22X15 | 29 | 29 | 22 | 27
SBE-27 M27X1.5 M27X1.5 M27X1.5 | 325 | 325| 27 | 32
SBE-30 M30X1.5 M30X1.5 M30X1.5 | 355 |355| 30 | 36 40
SBE-36 M36X2 M36X2 M36X2 | 42 | 42 | 36 | 41
SBE-39 M39X2 M39X2 M39X2 | 475|475 41 | 46
SBE-42 M42X2 M42X2 M42X2 | 49.5| 495| 41 | 50 .
SBE_45 MA45X2 M45X2 M45X2 | 52.5|525| 46 | 55
SBE-52 M52X2 M52X2 M52x2 | 57 | 57 | 50 | 60
N T AR SO P T T % s =l sk
SCE METRIC MALE O-RING TEE
e r B 2 THREAD ]~} DIMENSIONS T
: PART NO. T1 T2 T3 L] 2| st s2 Mpa
SCE-14 M14X1.5 M14X1.5 M14X15 | 225|225 14 | 19
SCE-16 M16X1.5 M16X1.5 MI6X15 | 24 | 24 | 17 | 22 63
SCE-18 M18X1.5 M18X1.5 M18X15 | 26 | 26 | 19 | 24
SCE-22 M22X1.5 M22X1.5 M22X15 | 29 | 29 | 22 | 27
SCE-27 M27X1.5 M27X1.5 M27X15 | 325|325 27 | 32
SCE-30 M30X1.5 M30X1.5 M30X15 |355]355| 30 | 36 40
SCE-36 M36X2 M36X2 M36X2 | 42 | 42 | 36 | 4
SCE—39 M39X2 M39X2 M39X2 | 475|475 41 | 46
SCE-42 M42X2 M42X2 M42X2 | 495 495 | 41 | 50 »s
SCE-45 M45X2 M45X2 M45X2 | 525 525 | 46 | 55
SCE_52 M52X2 M52X2 M52X2 | 57 | 57 | 50 | 60

144/ = MR A &1

/A

il



®
ihJE ) ADAPTER 24| MR CThrecd Fitting Sannke

oy ®
PLJE 8 ADAPTER 24| MR CThrecd Fitting Sannke

ONTHIANERALO 2 P~ i 5 e DU 4k
METRIC MALE O-RING CROSS

13

T4

il

S1Q

K= 24 THREAD JU+] DIMENSIONS T
PART NO. T1/T2/T3/T4 1] 12| 13]L4]sSt]| Mpa
SXE-14 M14X1.5 225|225 225 | 225| 14
SXE-16 M16X1.5 4 [ 24 [24 (24 [ 17|
SXE-18 M18X1.5 26 | 26 | 26 | 26 | 19
SXE-22 M22X1.5 29 | 29 | 29 | 29 | 22
SXE-27 M27X1.5 325|325 | 325|325 | 27
SXE-30 M30X1.5 355855 365|355| 80 |
SXE-36 M36X2 42 | 42 | 42 | 42 | 36
SXE-39 M39X2 475|475 | 475|475 41
SXE-42 M42X2 495|495 | 495 | 495 | 41
SXE-45 M45X2 525|525 525|525 46 | 25
SXE-52 M52X2 57 | 57 | 57 | 57 | 50
AHIGMRSTA® H1E
METRIC MALE 74°CONE
rRoE i24 THREAD JU5F DIMENSIONS THE
PART NO. T1 T2 Ll |Le S1 | Mpa
S1Q-10 M10X1 M10X1 30 | 125125 12
S10-12 M12X1.5 M12X1.5 37 | 16 | 16 14 | 35
S1Q-14 M14X1.5 M14X1.5 42 | 18 | 18 17
S1Q-16 M16X1.5 M16X1.5 44 [ 19 | 19 19 | 25
S1Q-18 M18X1.5 M18X1.5 45 | 19 | 19 22
S1Q-22 M22X1.5 M22X1.5 46 | 195|195 24
S1Q-24 M24X1.5 M24X1.5 48 | 20 | 20 27
s1Q-27 M27X1.5 M27X1.5 49 [ 205205 30 | 20
S1Q-30 M30X1.5 M30X1.5 57 | 23 | 23 32
S1Q-30E M30X2 M30X2 62 | 26 | 26 32
S1Q-33 M33X2 M33X2 62 | 26 | 26 34 | 16
S1Q-36 M36X2 M36X2 62 | 26 | 26 41
S1Q-39 M39X2 M39X2 67 | 275|275 41 | 125
S1Q-42 M42X2 M42X2 69 | 285285 46
S1Q-45 M45X2 M45X2 69 | 285|285 46 | 10

145/ =i E =+

WHISMRLTA SN/ S SMRAIORY

$1QG METRIC MALE 74° CONE / BSP MALE O-RING
® = 1240 THREAD JUs+ DIMENSIONS TAEES
Ta—T PART NO. T T2 L1 L2 L S1 | Mpa
; | S1QG-14-04 M14X1.5 G1/4" X19 18 11.2 36 19 35
S1QG-16-06 M16X1.5 G3/8 " X19 19 11.2 40 22
H ] [+ S1QG-18-06 M18X1.5 G3/8 " X19 19 112 | 40 22 25
\ S1QG-18-08 M18X1.5 G1/2" X14 19 14.5 43 27
\s1 S1QG-22-08 M22X1.5 G1/2" X14 19.5 | 145 | 445 27
L S1QG-27-12 M27X1.5 G3/4 " X14 20.5 | 145 | 495 36 20
S1QG-30-12 M30X1.5 G3/4 " X14 23 145 | 525 36
S1QG-33-16 M33X2 G1" X11 26 18.6 60 4
S1QG-36-16 M36X2 G1" X11 26 18.6 60 41 16
S1QG-45-20 M45X2 G1.1/4 " X11 28.5 | 18.6 | 66.5 50 10
AT AP S A4S S i “DQ” , 1m S1QG-27-12DQ
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1QG-27-12DQ

90° 75 NHISMRETA SMfE/TUE SMERSLORLE AT [ AT

$1QG9-0G 90° METRIC MALE 74° CONE /BSP MALE O-RING ADJUSTABLE STUD END
- R s 22 THREAD JF DIMENSIONS [/
= PART NO. T1 T2 L1 L2 S1 S2 Mpa
S1QG9-14-040G M14X1.5 G1/4" X19 285 | 31.3 14 19 315
‘&3 S1QG9-16-060G M16X1.5 G3/8 " X19 30.5 | 35.8 16 22 o5
FraaR S1QG9-18-060G M18X1.5 G3/8 " X19 315 | 36.8 19 22
= -Q]—- — S1QG9-18-080G M18X1.5 G1/2" X14 34 43.2 22 27 20
7 Ta1 S1QG9-22-080G M22X1.5 G1/2" X14 34 43.2 22 27
S1QG9-27-120G M27X1.5 G3/4 " X14 375 | 493 27 32
S1QG9-30-120G M30X1.5 G3/4 " X14 42.8 52 30 32 16
S1QG9-33-160G M33X2 G1" X11 45.5 58 33 41
S1QG9-36-160G M36X2 G1" X11 47 58 41 41
S1QG9-45-200G M45X2 G1.1/4 " X11 54 63 46 50 10
e R G AR5 S n “DQ” , # S1QG9-27-120GDQ
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1QG9-27-120GDQ

146/ =t iR EE S

il



®
L8 ADAPTER %] MTR CThrecd Fitting Sannke

»

L ®
pLJE B ADAPTER %] MIR CThrecd Fitting Sannke

N

il

WHISNEREL 740 SME/ A HISMERSORT I AL 2 R 51 1SO 6149-3

S1QH METRIC MALE 74° CONE /METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3
A= 1240 THREAD JUs} DIMENSIONS TS
PART NO. T1 T2 L L1 L2 S1 Mpa
S1QH-14-12 M14X1.5 M12X1.5 365 18 | 11 17 315
S1QH-16-14 M16X1.5 M14X1.5 375 19 | 11 19 )
S1QH-18-16 M18X1.5 M16X1.5 38 | 19 | 115 22 25
S1QH-22-18 M22X1.5 M18X1.5 40.5|19.5| 125 24
S1QH-27-22 M27X1.5 M22X1.5 44 |205| 13 27 20
S1QH-30-27 M30X1.5 M27X2 50 | 23 | 16 32
S1QH-33-27 M33X2 M27X2 53 | 26 | 16 34 16
S1QH-36-33 M36X2 M33X2 55 | 26 | 16 41
S1QH-39-33 M39X2 M33X2 55 |275| 16 41 125
S1QH-45-42 M45X2 M42X2 595|285 | 16 50 )
oA HER B ARSI “DQ” , #MS1QH-30-27DQ,
Note: If youinterested to order the adapter with retainerring,please insert suffix"DQ"
after our part NO,for example S1QH-30-27DQ

90° & AHISMRLT74 SME/ A HISMRLCAT I W FE e R 51 1SO 6149-3
90° METRIC MALE 74° CONE

S1QH9-0G METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3
- R = 24 THREAD Ji<} DIMENSIONS THREE S
- PART NO. T ) 1| Le S1] s2 | Mpa
: S1QH9-14-120G| M14X1.5 M12X1.5 285 | 31 14 | 17 | 315
J o S1QH9-16-140G| M16X1.5 M14X1.5 305 | 31 619
= S1QH9-18-160G| M18X1.5 M16X1.5 315|335 19 | 22
e )] ) S1QH9-22-180G| M22X15 M18X1.5 34 | 375 20 | 24
il S1QH9-27-220G| M27X1.5 M22X1.5 375|415 27 | 27 | 20
S1QH9-30-270G | M30X1.5 M27X2 428|485 30 | 32
S1QH9-33-270G|  M33X2 M27X2 455 485 33 | 32
S1QH9-36-330G|  M36X2 M33X2 47 515 36 | a1 | O
S1QH9-39-330G|  M39X2 M33X2 50 |51.5 M| 41| 125
S1QH9-45-420G |  M45X2 M42X2 54 | 56.5 46 | 50 | 10

A W GRS REE AR A S S n “DQ” , #n S1QH9-30-270GDQ
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ"

after our part NO,for example S1QH9-30-270GDQ

147/ = MR s &1

REIGMELIT74° INEIAISMRSH SRR

S1QL METRIC MALE 74° CONE/METRIC MALE WITH BONDED SEAL
g B 40 THREAD Js DIMENSIONS
L PART NO. T T2 L1 L2 L S1
LT o k2 S1QL-10 M10X1 M10X1 125 | 8 27 17
m% S1QL-12 M12X1.5 M12X1.5 16 12 | 352 | 17
(Ll S1QL-12-10 M12X1.5 M10X1 16 8 | 305 | 17
H : B s1QL-14 M14X1.5 M14X1.5 18 12 | 365 | 19
1 S1QL-14-10 M14X1.5 M10X1 18 8 32 17
e S1QL-14-12 M14X1.5 M12X1.5 18 12 | 365 | 17
S1QL-14-16 M14X1.5 M16X1.5 18 12 37 | 22
S1QL-16 M16X1.5 M16X1.5 19 12 38 | 22
S1QL-16-14 M16X1.5 M14X1.5 19 12 37 19
S1QL-18 M18X1.5 M18X1.5 19 12 | 395 | 24
S1QL-18-16 M18X1.5 M16X1.5 19 12 38 | 22
S1QL-22 M22X1.5 M22X1.5 195 | 14 | 435 | 27
S1QL-22-18 M22X1.5 M18X1.5 195 | 12 | 41 24
S1QL-27 M27X1.5 M27X2 205 | 16 | 49 | 34
S1QL-27-22 M27X1.5 M22X1.5 205 | 14 | 44 | 30
S1QL-30-27 M30X1.5 M27X2 23 16 50 | 34
S1QL-33 M33X2 M33X2 26 18 57 | 41
S1QL-33-27 M33X2 M27X2 26 16 55 | 34
S1QL-36-33 M36X2 M33X2 26 18 58 | 41
S1QL-39-33 M39X2 M33X2 275 | 18 59 | 41
S1QL-42 M42X2 M42X2 285 | 20 | 655 | 50
S1QL-45-42 M45X2 M42X2 285 | 20 | 655 | 50
PNHEISMBLI74° SNE/AREE SMBLL
S1QN METRIC MALE 74° CONE / NPT MALE
=t 24; THREAD 5 DIMENSIONS TS
PART NO. T1 T L1 L2 L S1 Mpa
i S1QN-12-02 M12X1.5 | NPT18"X27 16 | 85 | 30 14 | 345
S1QN-12-04 M12X1.5 | NPTI/4"X18 16 | 125 | 34 14
S1QN-14-02 M14X1.5 | NPTI/8" X27 18 | 85 | 32 17 | 275
S1QN-14-04 M14X1.5 | NPT1/4"X18 18 | 125 | 36 17
S1QN-16-04 M16X1.5 | NPT1/4"X18 19 | 125 | 37 19 | 25
S1QN-16-06 M16X1.5 | NPT38"X18 19 13 | 375 | 19 | 21
S1QN-18-04 M18X1.5 | NPT1/4"X18 19 | 125 | 37 19 | 25
S1QN-18-06 M18X1.5 | NPT38"X18 19 13 | 385 | 19
S1QN-18-08 M18X1.5 | NPTI2"X14 19 17 | 425 | 24 | 2
S1QN-22-06 M22X1.5 | NPT38"X18 195 | 13 | 39 | 24
S1QN-22-08 M22X1.5 | NPT12"Xi4 195 | 17 | 43 | 24
S1QN-27-06 M27X1.5 | NPT38"X18 205 | 13 | 41 30 20
S1QN-27-08 M27X1.5 | NPT12"X14 205 | 17 | 45 | 30
S1QN-27-12 M27X1.5 | NPT34"X14 205 | 18 | 46 | 30 17
S1QN-27-16 M27X1.5 | NPTI"X115 205 | 215 | 52 | 36 14
S1QN-30-12 M30X1.5 | NPT3/4" X4 23 18 | 49 | 32 17
S1QN-33-12 M33X2 NPT3/4" X14 26 18 | 52 | 36 16
S1QN-36-16 M36X2 NPT1 " X115 26 | 215 | 575 | 41 14
S1QN-39-16 M39X2 NPT1 " X115 275 | 215 | 60 | 41 | 125
S1QN-45-16 M45X2 NPT1 " X115 285 | 215 | 62 | 46 10
S1QN-45-20 M45X2 | NPT1.1/4" X115 285 | 24 | 645 | 46 8
S1QN-45-24 M45X2 | NPT1.12" X115 285 | 275 | 68 | 50 7
S1QN-52-20 M52X2 | NPT1.1/4" X115 30 | 24 | 66 | 55 8

148/ = fl iR A E 1

il



®
L8 ADAPTER %] MTR CThrecd Fitting Sannke

»

v

L2 ADAPTER 24|

®
METRI CThread Fitting Sannke

il

45° I SME LT A HHE/ A HEET SR AL
45° METRIC MALE 74° CONE /NPT MALE

S1QN9

r 5 124 THREAD R~ DIMENSIONS RS
PART NO. T1 T2 L1 L2 S1 Mpa
S1QN4-12-02 M12X1.5 | NPT1/8" X27 23 17 11 345
S1QN4-14-02 M14X1.5 | NPT1/8" X27 24 18 14 :
S1QN4-14-04 M14X1.5 | NPT1/4"X18 24 21 14 27.5
S1QN4-16-06 M16X1.5 | NPT3/8" X18 26 24 16 o1
S1QN4-18-06 M18X1.5 | NPT3/8" X18 28 24 19
S1QN4-22-08 M22X1.5 | NPT1/2" X14 305 | 295 | 22 00
S1QN4-27-08 M27X1.5 | NPT1/2" X14 33 31 27
S1QN4-27-12 M27X1.5 | NPT3/4" X14 33 35 27 17
S1QN4-30-12 M30X1.5 | NPT3/4" X14 36.2 | 355 | 30
S1QN4-36-16 M36X2 | NPT1"X115 42 41 36 14
S1QN4-39-16 M39X2 | NPT1"X115 445 | 425 | 41 12,5
S1QN4-45-20 M45X2  NPT1.1/4 " X11.5 47 43 46 8
90° 25 I AMB L7 HHE/ A HE S SR 4L
90° METRIC MALE 74° CONE / NPT MALE
r = 124 THREAD Ji~) DIMENSIONS (AR
PART NO. T1 T2 L1 L2 S1 Mpa
S1QN9-12-02 M12X1.5 NPT1/8 " X27 24 24 11 34.5
S1QN9-12-04 M12X1.5 NPT1/4 " X18 25 | 255 | 14 27.5
S1QN9-14-02 M14X1.5 NPT1/8 " X27 285 | 235 | 14 34,5
S1QN9-14-04 M14X1.5 NPT1/4 " X18 285 | 285 | 14 27.5
S1QN9-16-04 M16X1.5 NPT1/4 " X18 305 | 305 | 16 25
S1QN9-16-06 M16X1.5 NPT3/8 " X18 305 | 305 | 16 o1
S1QN9-16-08 M16X1.5 NPT1/2 " X14 34 34 22
S1QN9-18-04 M18X1.5 NPT1/4 " X18 315 | 287 | 19 25
S1QN9-18-06 M18X1.5 NPT3/8 " X18 315 | 315 | 19 21
S1QN9-22-06 M22X1.5 NPT3/8 " X18 34 34 22
S1QN9-22-08 M22X1.5 NPT1/2 " X14 355 | 355 | 22 20
S1QN9-27-08 M27X1.5 NPT1/2 " X14 375 | 375 | 27
S1QN9-27-12 M27X1.5 NPT3/4 " X14 375 | 43 27 17
S1QN9-27-16 M27X1.5 NPT1 " X11.5 43 47 33 14
S1QN9-30-12 M30X1.5 NPT3/4 " X14 43 43 30 17
S1QN9-36-16 M36X2 NPT1 " X11.5 47 47 36 14
S1QN9-39-16 M39X2 NPT1 " X11.5 50 50 41 12.5
S1QN9-42-20 M42X2 NPT1.1/4" X115 | 525 | 525 | 41 8
S1QN-45-16 M45X2 NPT1 " X11.5 54 54 46 10
S1QN-45-20 M45X2 NPT1.1/4 " X115 | 54 54 46 8
S1QN-52-24 M52X2 NPT1.1/2" X115 | 54 63 46 7

149/ =t i s 1

S$1Q09-0G

NTHIAMEST4° SMTE/SAE SMBACH 0% £ 411SO 11926-3
METRIC MALE 74° CONE / SAE O-RING BOSS L-SERIES ISO 11926-3

r & 124 THREAD R~ DIMENSIONS AR
PART NO. T1 T2 L1 L2 S S2 Mpa
S1Q0-16-06 M16X1.5 | 9/16 " X18 19 9.9 35 17 o5
S1Q0-18-08 M18X1.5 3/4" X16 19 11.1 37 22
S1Q0-22-10 M18X1.5 7/8 " X14 195 | 12.7 | 42 27
S1Q0-27-12 M22X1.5 | 1.1/16 " X12 20.5 | 15.1 46 32 20
S1Q0-30-12 M27X1.5 | 1.1/16 " X12 23 15.1 49 32
S1Q0-33-16 M30X1.5 | 1.5/16 " X12 26 15.1 54 41 16
S1Q0-39-16 M36X2 1.5/16 " X12 275 | 15.1 58 41 12.5
S1Q0-42-20 M45X2 1.5/8 " X12 28,5 | 15.1 58 50 10
90° AHIAMEL74° HMNE/SAE SMELCH O 8 5 A 511ISO 11926-3
90° METRIC MALE 74° CONE / SAE O-RING BOSS L-SERIES ISO 11926-3
® = i24r THREAD JU+ DIMENSIONS TS
PART NO. T1 T2 L1 L2 S S2 Mpa
S1Q09-16-060G M16X1.5 9/16 " X18 30.5 | 31.8 16 17 o5
S1Q09-18-080G M18X1.5 3/4 " X16 315 | 36.8 19 22
S1Q09-22-100G M18X1.5 7/8 " X14 34 44 22 27
S1Q09-27-120G M22X1.5 | 1.1/16 " X12 375 | 51 27 32 20
S1Q09-30-120G M27X1.5 | 1.1/16 " X12 428 | 53 30 32
S1Q09-33-160G M30X1.5 | 1.5/16 " X12 47 | 545 | 33 41 16
S1Q09-39-160G M36X2 1.5/16 " X12 50 | 59.5 | 41 41
S1Q09-42-200G M45X2 1.5/8" X12 525 | 59 46 50 10

150/ =M A& S

b\

il



v v

. s ® LGRS ®
k) ADAPTER »%) MITR CThrecd Fitting Sgannke ) ADAPTER 2% MITR CThrecd Fitting Sannke

N

A I SR S 740 5 il /SEHE A S IB 4L 600 P S2Q9 90°%5 J4 HHISMB 4L T4/ 24 YR 5L T4° W
S1QT-SP METRIC MALE 74° CONE/BSPT MALE 60° CONE 90° METRIC MALE 74°CONE/METRIC FEMALE 74°SEAT
® = 24 THREAD J5J DIMENSIONS TS = 1240 THREAD J&~} DIMENSIONS K {(Ei))
i PART NO. T1 T2 L1 L2 L S1 | Mpa PART NO. T1 T2 L1 S1 | s2 | Mpa
S1QT-10-02SP M10X1 R1/8 " X28 125 | 85 | 265 | 12 S2Q9-14 M14X1.5 M14X1.5 28.5 14 | 19 | 35
S1QT-14-04SP M14X1.5 | R1/4"X19 18 | 125 | 36 17 | 345 $2Q9-16 M16X1.5 M16X1.5 30.5 16 | 22 o5
S1QT-14-06SP M14X1.5 | R3/8"X19 18 13 37 17 S$2Q9-18 M18X1.5 M18X1.5 31.5 19 | 24
S1QT-16-04SP M16X1.5 | Ri/4" X19 19 | 125 | 37 19 S$2Q9-22 M22X1.5 M22X1.5 34 2 | 27
S1QT-16-06SP M16X1.5 | R3/8" X19 19 13 38 19 25 S2Q9-27 M27X1.5 M27X1.5 37.5 27 | 3 20
S1QT-18-04SP M18X1.5 | R1/4"X19 19 | 125 | 385 | 19 $2Q9-30 M30X1.5 M30X1.5 42.8 30 | 36
S1QT-18-06SP M18X1.5 | R3/8" X19 19 13 | 385 | 22 S52Q9-33 M33X2 M33X2 45.5 33 | 4 16
S1QT-22-08SP M22X1.5 | R1/2"X14 195 | 17 | 445 | 24 $2Q9-36 M36X2 M36X2 47 36 | 41
S1QT-27-08SP M27X1.5 | R1/2"X14 205 | 17 45 30 20 S2Q9-39 M39X2 M39X2 50 41 | 46 | 125
S1QT-27-12SP M27X1.5 | R3/4"X14 205 | 18 46 30 S$2Q9-45 M45X2 M45X2 54 46 | 55 10
S1QT-30-12SP M30X1.5 | R3/4"X14 23 18 50 32
S1QT-33-12SP M33X2 R3/4 " X14 26 18 52 34 16
S1TQ-36-16SP M36X2 R1 " X11 26 | 215 | 575 | 41
S1QT-39-16SP M39X2 R1 " X11 275 | 215 | 60 41 | 125
S1QT-45-20SP M45X2 | R1.1/4 " X11 285 | 24 | 645 | 46 10
90° 5 AHISMBLTA° SME/SHER SMBLL 60° P HE ATHISMRSTA SMEERE Sk
s1 QT9_SP 90° METRIC MALE 74° CONE / BSPT MALE 60° CONE S4Q METRIC MALE 74°CONE PLUG
® = 124 THREAD R~ DIMENSIONS THEES £ = 124 THREAD J5 DIMENSIONS THERS
= o PART NO. T1 T2 L1 L2 St Mpa L PART NO. T1 L | L1 S1 | Mpa
S1QT9-14-04SP M14X15 | Ri/4"X19 285 | 285 | 14 34.5 L1 S4Q-10 M10X1 18 | 125 12
S1QT9-16-04SP M16X1.5 | Ri/4"X19 305 | 305 | 16 — S4Q-12 M12X1.5 215/| 16 14 | 35
S1QT9-18-06SP M18X1.5 | R3/8"X19 315 | 315 | 19 25 AIII S4Q-14 M14X1.5 23 | 18 17
S1QT9-18-08SP M18X15 | Ri1/2"X14 355 | 355 | 22 HT1mm S4Q-16 M16X1.5 24 | 19 17 |
S1QT9-22-08SP M22X15 | R1/2"X14 355 | 355 | 22 S4Q-18 M18X1.5 24 | 19 19
S1QT9-27-08SP M27X15 | R1/2"X14 375 | 375 | 27 » S4Q-22 M22X1.5 275|195 24
S1QT9-27-12SP M27X1.5 | R3/4"X14 415 | 44 27 20 S4Q-24 M24X1.5 30 | 20 27 | 5
S1QT9-30-12SP M30X2 R3/4 " X14 43 43 30 $4Q-27 M27X1.5 30 | 205 30
S1QT9-33-12SP M33X2 R3/4 " X14 455 | 455 | 33 S4Q-30 M30X1.5 34 | 23 32
S1TQ9-36-16SP M36X2 R1 " X11 47 47 36 16 S4Q-30E M30X2 37 | 26 32
S1QT9-39-16SP M39X2 R1 " X11 50 50 41 125 S4Q-33 M33X2 37 | 26 34 16
S1QT9-45-20SP M45X2 | R1.1/4" X11 54 | 54 | 46 10 SHOE EEE Ll “
S4Q-39 M39X2 39 | 275 4
S4Q-42 M42X2 415|285 46 125
S4Q-45 M45X2 415|285 46 10

151/ = iiEsE 152/ = f gt

N



®
pLJE B ADAPTER »%] MIR CThrecd Fitting Sannke

ﬁ:

(Y

®
% $:): ADAPTER 2%] MR CThrecd Fitting Sannke

S6Q-LN

1§
%
L=

il

S6Q9-LN
B _ |
TeAl|| |

AHISMBEL T4 HMERAR Bk
METRIC MALE 74°CONE BULKHEAD

® = 24, THREAD )| DIMENSIONS THEES
PART NO. T1 T2 L] [L2]s1][s2]| Mpa
S6Q-10LN M10X1 M10X1 51.5]125] 34 | 14 | 14
S6Q-12LN M12X1.25 M12X1.5 60 | 16 | 38 | 14 | 17 | 35
S6Q-14LN M14X1.5 M14X1.5 64 | 18 | 40 | 17 | 19
S6Q-16LN M16X1.5 M16X1.5 66 | 19 | 41 | 19 [ 22 |
S6Q-18LN M18X1.5 M18X1.5 68 | 19 | 43 | 22 | 24
S6Q-22LN M22X1.5 M22X1.5 69.5]19.5] 44 | 27 | 27
S6Q-24LN M24X1.5 M24X1.5 78 | 20 | 45 | 30 | 30 |
S6Q-27LN M27X1.5 M27X1.5 76.5]205] 48 | 32 | 32
S6Q-30LN M30X1.5 M30X1.5 87 | 23 | 53 | 36 | 36
S6Q-33LN M33X2 M33X2 % [ 26 | 55 [ 4136 |
S6Q-36LN M36X2 M36X2 93 | 26 | 56 | 41 | 41
S6Q-39LN M39X2 M39X2 075|275 58 | 46 | 46 |
S6Q-42LN M42X2 M42X2 100.5/ 285 | 59 | 50 | 50 '
S6Q-45LN M45X2 M45X2 1025/ 285| 60 | 50 | 50 | 10
90° & AhIAMRLL 74° SR,
90° METRIC MALE 74°CONE BULKHEAD
r® = 240 THREAD JU-+ DIMENSIONS THR S
PART NO. T1 T2 L1 | 2] L3 S1 | Mpa
S6Q9-12LN M12X1.5 M12X1.5 24 | 38 | 52 1
S6Q9-14LN M14X1.5 M14X1.5 285 40 | 56 14
S6Q9-16LN M16X1.5 M16X1.5 305| 41 | 58 16 |
S6Q9-18LN M18X1.5 M18X1.5 315| 43 | 62 19
S6Q9-22LN M22X1.5 M22X1.5 34 | 44 | 64 22
S6Q9-27LN M27X1.5 M27X1.5 375] 48 | 72 27 | 20
S6Q9-30LN M30X1.5 M30X1.5 428 53 | 78 30
S6Q9-33LN M33X2 M33X2 455| 55 | 82 33
S6Q9-36LN M36X2 M36X2 47 | 56 | 86 3% | 16
S6Q9-39LN M39X2 M39X2 50 | 58 | 88 41
S6Q9-42LN M42X2 M42X2 525| 59 | 95 41 | 125
S6Q9-45LN M45X2 M45X2 54 | 60 | 96 46 | 10

153/ =t A e s 1

SAQHQ-0G

SAQQH-0G

O |

AHISMELTA SV =Tk
METRIC MALE 74°CONE TEE

VAV 124 THREAD R~ DIMENSIONS THEES)
PART NO. T T2 T3 L1 | L2 | L3 S1 | Mpa
SAQ-14 M14X1.5 M14X1.5 M14X1.5 | 285 (285|285 14
SAQ-16 M16X1.5 M16X1.5 M16X1.5 | 305 |30.5 | 30.5 16 35
SAQ-18 M18X1.5 M18X1.5 M18X1.5 |315|31.5|315 19
SAQ-22 M22X1.5 M22X1.5 M22X1.5 34 | 34 | 34 22
SAQ-27 M27X1.5 M27X1.5 M27X1.5 | 375 (375|375 27 20
SAQ-30 M30X1.5 M30X1.5 M30X1.5 |42.8|42.8|42.8 30
SAQ-33 M33X2 M33X2 M33X2 455|455 455 33 16
NFISMRETA ANE/ A I SMR ST [ R AR R 51 1SO 6149-34) % i@
METRIC MALE 74° CONE
/ METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3 BRANCH TEE
R = 124 THREAD R~} DIMENSIONS THEES
PART NO. T T2 T3 L1,L3| L2 S1 S2 | Mpa
SAQHQ-14-12-140G | M14X1.5 M12X1.5 M14X1.5 | 285 | 31 14 17 | 315
SAQHQ-16-14-160G | M16X1.5 M14X1.5 M16X1.5 | 30.5 | 31 16 19 25
SAQHQ-18-16-180G | M18X1.5 M16X1.5 M18X1.5 | 315 | 335 19 22
SAQHQ-22-18-220G | M22X1.5 M18X1.5 M22X1.5 34 | 375 | 22 24 20
SAQHQ-27-22-270G | M27X1.5 M22X1.5 M27X1.5 | 375 | 415 | 27 27
SAQHQ-30-27-300G | M30X1.5 M27X2 M30X1.5 | 428 | 485 | 30 32
SAQHQ-33-27-330G | M33X2 M27X2 M33X2 455 | 485 | 33 32 16
SAQHQ-36-33-360G | M36X2 M33X2 M36X2 47 | 515 | 36 41
SAQHQ-39-33-390G | M39X2 M33X2 M39X2 50 | 515 | 41 41 12,5
SAQHQ-45-42-450G | M45X2 M42X2 M45X2 54 | 565 | 46 50 10

A T R S RS JS i “DQ” , am SAQHQ-30-27-300GDQ
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ"

after our part NO,for example S AQHQ-30-27-300GDQ

NHISMERATA SV A HISMREOTI [ AR AR 51 1SO 6149-33 3 il
METRIC MALE 74° CONE / METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3 RUN TEE

® = 4. THREAD JU) DIMENSIONS |14y
PART NO. T1 T2 T3 2] 38 | s1 | S2 | Mpa
SAQQH-14-14-120G| M14X15 | M14X15 | M12X15 | 285 | 31 | 14 | 17 | 315
SAQQH-16-16-140G| M16X15 | M16X15 | M14x15 | 305 | 31 | 16 | 19 | 25
SAQQH-18-18-160G| M18X15 | M18X15 | M16X15 | 315 | 335 | 19 | 22
SAQQH-22-22_180G| M22X15 | M22x15 | M18X15 | 34 | 375 | 22 | 24 | 20
SAQQH-27-27-220G| M27X15 | M27X15 | M22X15 | 375 | 415 | 27 | 27
SAQQH-30-30-270G| M30X15 | MB30X15 M27X2 | 428 | 485 | 30 | 32
SAQQH-33-33-270G|  M33X2 M33X2 M27X2 | 455 | 485 | 33 | 32 | 16
SAQQH-36-36-330G | M36X2 M36X2 M33X2 47 | 515 | 36 | 41
SAQQH-39-39-330G M39X2 M39X2 M33X2 50 515 41 41 12.5
SAQQH-45-45-420G|  M45X2 M45X2 M42X2 54 | 565 | 46 | 50 | 10

A R S RS F i “DQ” , sSAQQH-30-30-270GDQ
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ"

after our part NO,for example SAQQH-30-30-270GDQ

154/ =f R iR it

>

i



®
#J: ADAPTER %] MTR CThrecd Fitting Sannke

v

%82 ADAPTER 24|

MITRI CThread Fi tting Sannke®

HAERXHIIMEL 60° 5

S1K JIS METRIC MALE 60° CONE
r = 1240 THREAD J{s} DIMENSIONS TS
o . 12 PART NO. T1 T2 L1 L2 L3 S Mpa
S S1K-14 M14X15 | M14X15 40 | 17 17
| | o S1K-16 M16X1.5 M16X1.5 42 18 18 17
1 S1K-18 M18X1.5 M18X1.5 42 18 18 19
51 S1K-20 M20X1.5 M20X1.5 48 20 20 22 34.5
S1K-22 M22X1.5 M22X1.5 48 20 20 24
S1K-24 M24X1.5 M24X1.5 53 215 | 215 27
S1K-30 M30X1.5 M30X1.5 63 26 26 32 0.5
S1K-33 M33X1.5 M33X1.5 71 30 30 36 '
S1K-36 M36X1.5 M36X1.5 79 33 33 41 17
S1K-42 M42X1.5 M42X1.5 85 36 36 46
S1KG HASAFISMESI60° ShE/ZREIMESIORIE
JIS METRIC MALE 60° CONE/BSP MALE O-RING
. ® = 24 THREAD JU DIMENSIONS TS
PART NO. T1 T2 L1 L2 L3 S1 Mpa
S1KG-14-04 M14X1.5 G1/4 " X19 36 17 11 19 34.5
o S1KG-14-06 M14X1.5 G3/8 " X19 36.5 17 11.5 22
" S1KG-16-06 M16X1.5 G3/8 " X19 38 18 115 22 31.5
S1KG-18-06 M18X1.5 G3/8 " X19 38 18 115 22
S1KG-22-08 M22X1.5 G1/2" X14 47 20 14 27
S1KG-30-12 M24X1.5 G3/4 " X14 52.5 26 155 32
S1KG-33-12 M30X1.5 G3/4 " X14 59.5 30 155 36 20
S1KG-33-16 M33X1.5 G1" X11 62 30 18 41
WA RS NS AR R i “DQ” , W S1KG-14-06DQ,
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1KG-14-06DQ,

S1KG9-0G

90° THARRHISMBL60° ShefE/SEE MRG0 BRI [a) i
90° JIS METRIC MALE 60° CONE/BSP MALE O-RING ADJUSTABLE STUD END

®f = W22 THREAD J{~5 DIMENSIONS THEES
PART NO. T T2 L1 L2 S1 Mpa

S1KG9-14-040G M14X1.5 G1/4 " X19 26.5 31.3 14 315
S1KG9-14-060G M14X1.5 G3/8 " X19 28.5 | 35.8 16
S1KG9-16-060G M16X1.5 G3/8 " X19 29.5 | 35.8 16
S1KG9-18-060G M18X1.5 G3/8 " X19 30.8 37 19 25
S1KG9-22-080G M22X1.5 G1/2" X14 35.5 | 43.2 22
S1KG9-24-080G M24x15 | G1/2 " X14 37 | 432 22
S1KG9-24-120G M24X1.5 | G3/4 " X14 40 | 493 | 27
S1KG9-30-120G M30x1.5 | G3/4 " X14 45 53 30 .
S1KG9-33-160G M33X1.5 G1" X11 50 53 33
S1KG9-42-200G M42x15 |G1.1/4 " X11 63 59 41

A R S E RS I “DQ” , I1S1KG9-24-120GDQ

Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"

after our part NO,for example S1KG9-24-120GDQ

155/ =R iR izt

S1KH

HARHISMEL60° SME/ATISMESER SISO 6149-2
JIS METRIC MALE 60° CONE/METIRC MALE S-SERIES ISO 6149-2

L1

R = 124 THREAD JUs} DIMENSIONS VS
= PART NO. T1 T2 L1 L2 L S Mpa
- S1KH-14-12 M14X1.5 M12X1.5 17 11 39 17
S1KH-14 M14X1.5 M14X1.5 17 11 39 19
S1KH-16-14 M16X1.5 M14X1.5 18 11 40 19
S1KH-18-14 M18X1.5 M14X1.5 18 11 40 19
S1KH-18-16 M18X1.5 M16X1.5 18 12.5 42 22 34.5
12l S1KH-18-20 M18X1.5 M20X1.5 18 14 45 27
S1KH-20-18 M20X1.5 M18X1.5 20 14 47 24
| o S1KH-22-20 M22X1.5 M20X1.5 20 14 47 27
¥ S1KH-24-20 M24X1.5 M20X1.5 215 14 48.5 27
S1KH-24-22 M24X1.5 M22X1.5 21.5 15 50 27 275
S1KH-30-27 M30X1.5 M27X2 26 18.5 | 60.5 32
S1KH-33 M33X1.5 M33X2 30 18.5 65 41 205
S1KH-36-33 M36X1.5 M33X2 33 18.5 68 41 17
A TP B AEAR S R I “DQ” , 4 S1KH-30-27DQ,
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1KH-30-27DQ.

90° & HARNHISMRLI60° I/ I IMESRTE EFEHE R 511SO 6149-2

S1KH9-0G 90° JIS METRIC MALE 60° CONE/METIRC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2
r S 4L THREAD J{s) DIMENSIONS THES
PART NO. T1 T2 L1 L2 S1 Mpa
e S1KH9-14-120G M14X1.5 M12X1.5 265 | 31 14
S1KH9-140G M14X1.5 M14X1.5 26.5 31 14
o | S1KH9-16-140G M16X1.5 M14X1.5 29.5 31 16
T2 7| S1KH9-18-140G M18X1.5 M14X1.5 30.8 | 335 19
i L] S1KH9-18-160G M18X1.5 M16X1.5 30.8 | 335 19 345
S1KH9-18-200G M18X1.5 M20X1.5 30.8 | 41.5 19
L1 = S1KH9-20-180G M20X1.5 M18X1.5 33 37.5 19
S1KH9-22-200G M22X1.5 M20X1.5 35 415 22
S1KH9-24-200G M24X1.5 M20X1.5 37 415 24
S1KH9-24-220G M24X1.5 M22X1.5 37 415 24 275
S1KH9-30-270G M30X1.5 M27X2 45 48.5 30 205
S1KH9-330G M33X1.5 M33X2 50 51.5 33 '
S1KH9-36-330G M36X1.5 M33X2 57 51.5 36 17
He A R LG A5 S I “DQ” , W1 S1KEH9-22-200GDQ
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ"
after our part NO,for example S1KEH9-22-200GDQ

156/ = MR E 1

>

il



» v

SN ® s ®
L% ADAPTER %] MIR CThecd Fitting Sannke LI He) ADAPTER %] MTR CThread Fitting Sannke

HANFISMELI60° SE/ZEHEE MBS NHEERZTEESL
S1KT-SP JIS METRIC MALE 60° CONE/BSPT MALE S4L METRIC MALE WITH BONDED SEALC PLUG
L " = 240 THREAD ) DIMENSIONS TR L ® 5 124 THREAD ) DIMENSIONS YRS
e e PART NO. 1 T2 L1 L2 L S1 | Mpa = PART NO. T1 L1 L St Mpa
S1KT-14-04SP M14X1.5 R1/4 " X29 17 | 113 | 375 | 117 S4L-10 M10X1 8 14 14
S1KT-14-06SP M14X15 | R3/8"X19 17 15 38 19 i S4L-12 M12X1.5 12 19 17
S1KT-16-06SP M16X1.5 | R3/8"X19 18 15 39 19 = 7 S4L-14 M14X1.5 12 19 19
S1KT-18-06SP M18X1.5 | R3/8"X19 18 15 39 19 | ., S4L-16 M16X1.5 12 22 22
E S1KT-20-06SP M20X1.5 | R3/8"X19 20 15 43 22 ’ 5 S4L-18 M18X1.5 12 22 24 -
S1KT-22-06SP M22X1.5 | R3/8" X19 20 15 43 24 S4L-22 M22X1.5 14 25 27
S1KT-22-08SP M22X15 | Ri/2" X14 20 18 48 24 S4L-27 M27X2 16 29 34
S1KT-24-08SP M24X15 | R1/2"X14 215 | 18 | 515 | 27 | .. S4L-33 M33X2 18 34 41
S1KT-24-12SP M24X1.5 | R3/4"X14 215 | 20 | 515 | 30 ) S4L-42 M42X2 20 41 50
S1KT-30-12SP M30X15 | R3/4"X14 26 20 57 2 | ,os
S1KT-33-16SP M33X1.5 R1 " X11 30 22 | 665 | 36 ]
S1KT-36-20SP M36X1.5 | R1.1/4" X11 33 25 | 725 | 46 17
S1KT-42-24SP M42X1.5 | R1.1/2" X11 36 25 | 775 | 50 | 10.5 SIS R f L
S4VIN-WD METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG
) L ® 5 124; THREAD Ji5} DIMENSIONS Y
BALRBISMRLE0® SN L1 PART NO. T1 L1 L | s1 | Mpa
S4K JIS METRIC MALE 60° CONE PLUG S4MN-10WD M10X1 8 12.3 5
/A R = 122 THREAD N~ DIMENSIONS TR S4MN-12WD M12X1.5 12 17.3 6 50 /A
PART NO. T1 L1 L S Mpa . S4MN-14WD M14X1.5 12 17.3 6
f‘Eu S4K-14 M14X1.5 17 23 17 ol St S4MN-16WD M16X1.5 12 17.3 8 ﬂ%u
S4K-16 M16X1.5 18 24 17 S4MN-18WD M18X1.5 12 17.3 8 40
s S4K-18 M18X1.5 18 25 19 345 S4MN-20WD M20X1.5 14 19.3 10
il S4K-20 M20X1.5 20 28 22 S4MN-22WD M22X1.5 14 19.3 10
S4K-22 M22X1.5 20 28 24 S4MN-26WD M26X1.5 16 21.3 12
S4K-24 M24X1.5 215 | 315 | 27 275 S4MN-27WD M27X2 16 213 | 12 o5
S4K-30 M30X1.5 26 37 32 S4MN-33WD M33X2 16 22.8 17
S4K-33 M33X1.5 30 | 41 | 36 205 S4MN-42WD M42x2 16 228 | 22
S4MN-48WD M48X2 16 228 | 24
A IMESTOR B 3k
S4H METRIC MALE O-RING PLUG
o BN EISMEST 60° SMESIE L g =2 1240 THREAD s DIMENSIONS THEES
JIS METRIC MALE 60° CONE TEE u PART NO. T L1 L S1 Mpa
s ® = 124, THREAD J-I DIMENSIONS  [1H5 ) S4H-12 M12X1.5 M| 195 | 17 50
| PART NO. T T2 T3 L1 L2 L3 S1 | Mpa ~ S4H-14 M14X1.5 11 195 | 19
5 9 SAK-14 M14X1.5 M14X1.5 M14X15 | 265 | 265 | 265 | 14 " S4H-16 M16X1.5 125 | 23 22 42
:m,_, 1= 2'_| SAK-16 M16X1.5 M16X1.5 M16X1.5 | 295 | 295 | 295 | 16 345 S4H-18 M18X1.5 14 | 245 | 24
i i SAK-18 M18X1.5 M18X1.5 M18X15 | 30.8 | 30.8 | 30.8 | 19 ' ol S4H-22 M22X1.5 15 | 275 | 27 40
sl SAK-22 M22X1.5 M22X1.5 M22X15 | 855 | 355 | 355 | 22 S4H-27 M27X2 185 | 32 32
SAK-24 M24X1.5 M24X1.5 M24X1.5 37 37 37 22 | 275 4 S4H-33 M33X2 185 | 345 | 41 25
w S4H-42 M42X2 19 37 50
BT S I “DQ” , #1S4H-27DQ,
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
our Part No, for example S4H-27DQ.

157/ ZFm s & 214 158/ = MR E



® ©

ADAPTER  ## BSPAndBSPT Thread Fitting Sa nn ke RS ADAPTER Jeilll - BSP And BSPT Thread Fitting E annke

HARZEESMES60° ShiE 90° THARESMEL60° IME/FEEEINEL60° N

2 B

S1S JIS GAS MALE 60° CONE S1ST9-SP 90° ELBOW JIS GAS MALE 60° CONE/BSPT MALE 60° SEAT
JTe) #2240 THREAD J~} DIMENSIONS | e #4; THREAD Js} DIMENSIONS
L PART NO. T T2 L1 | L2 L S = PART NO. 1 T2 L1 L2 | st
S15-02 G1/8" X28 | G1/8 " X28 12 | 12 | 30 | 14 J, | . S1ST9-02SP | G1/8"X28 | R1/8" X28 21.8 | 21 | 11
S1S-04 G1/4 " X19 G1/4 " X19 16 16 38 17 e ’T S1ST9-04SP G1/4 " X19 R1/4 " X19 25 26 14
S1S-06 G3/8" X19 G3/8" X19 18 18 42 19 | _ Al S1ST9-06SP G3/8 " X19 R3/8 " X19 28 30 16
S15-08 G1/2" X14 | G1/2" X14 20 | 20 | 48 | 22 ==, S1ST9-08SP_ | G1/2"X14 | R1/2"X14 32 | 36 | 22
S15-12 G3/4"X14 | G3/4"X14 22 | 22 | 54 | 30 T (€1 S1ST9-12SP | G3/4"X14 | R3/4"X14 37 | 43 | 27
S15-16 G1 " X11 G1" X11 24 | 24 | 59 | 36 S1ST9-16SP G1"X11 R1 " X11 42 | 50 | 33
S15-20 G1.1/4 " X11| G1.1/4 " X11 27 | 27 | 67 | 46 S1ST9-20SP | G1.1/4 " X11| R1.1/4 " X11 50 | 58 | 41 E
S15-24 G1.1/2" X11] G1.1/2* X11 27 | 27 | 69 | 50 S1ST9-24SP | G1.1/2" X11| R1.1/2 " X11 52 | 63 | 48
S15-32 G2 " X11 G2 " X11 30 | 30 | 77 | 65 S1ST9-32SP G2 " X11 R2 " X11 63 | 75 | 63
HARZEEIMNEL60° SME/EHE T IMREL60° K
S1ST-SP JIS GAS MALE 60° SEAT/BSPT MALE 60° SEAT
L e #4. THREAD S~} DIMENSIONS
PART NO. T1 T2 L1 | L2 L S B HMBL60° P4k
S1ST-02SP__ | G1/8"X28 | R1/8"X28 12 | 10 | 28 | 14 S1B el Al
S1ST-04SP G1/4"X19 | R1/4"X19 16 | 14.5 | 36.5 | 17 e 4. THREAD -} DIMENSIONS
S1ST-06SP G3/8"X19 | R3/8"X19 18 | 15 | 39 | 19 PART NO. T1 T2 L1 | L2 L | si
S1ST-08SP G1/2"X14 | R1/2"X14 20 | 20 | 48 | 24 S1B-02 G1/8"'X28 | G1/8"X28 10 | 10 | 26 | 14
S1ST-12SP G3/4"X14 | R3/4"X14 22 | 20 | 53 | 30 S1B-02-04 G1/8'X28 | G1/4"X19 10 | 12 | 28 | 19 3%
S1ST-16SP G1" X11 R1" X11 24 | 255|625 41 RN CR— S1B-04 G1/4"'X19 | G1/4"X19 12 | 12 | 30 | 19
S1ST-20SP | G1.1/4" X11 | R1.1/4 " X11 27 | 26.5| 66 | 46 = = S1B-04-06 G1/4"'X19 | G3/8"X19 12 | 135|335 | 22 il
S1ST-24SP | G1.1/2" X11 | R1.1/2 " X11 27 | 26.5 | 67.5| 50 k/{ - S1B-04-08 G1/4'X19 | G1/2"X14 12 | 16 | 38 | 27
S1ST-32SP G2 " X11 R2 " X11 30 | 30 | 77 | 65 " IL J_I_ ~ S1B-06 G3/8"'X19 | G3/8"X19 13.5|135| 35 | 22
||| S1B-06-08 G3/8"'X19 | G1/2'X14 13.5| 16 | 39.5| 27
_J.@ S1B-08 G1/2"X14 | G1/2'X14 16 | 16 | 42 | 27
S1B-08-10 G1/2"'X14 | G5/8"X14 16 | 17.5 | 43.5 | 30
S1B-10 G5/8"'X14 | G5/8"X14 17.5 | 17.5| 45 | 30
S1B-10-12 G5/8"'X14 | G3/4"X14 175 | 18.5 | 47 | 32
45° 75 [ K SE B AR AL60° S A/ HE B S BRAL60° 1 M S1B-12 G3/4'X14 | G3/4"X14 18.5 | 18.5 | 48 | 82
S1ST4-SP 45° ELBOW JIS GAS MALE 60° CONE/BSPT MALE 60° SEAT S1B-12-16 G3/4"X14 G1"X11 18.5 | 20.5 | 52.5 | 41
= W24 THREAD ]~ DIMENSIONS S1B-12-20 G3/4"X14 | G1.1/4"X11 18.5 | 20.5 | 53.5 | 50
e NG = = =T 5 5 S1B-16 G1'X11 G1"X11 205 | 20.5 | 53.5 | 41
515T2-025P | G1/8"x28 | R1/8" X28 o 17 | 11 S1B-16-20 G1"X11 | G1.1/4"X11 20.5 | 20.5| 58 | 50
SRR ERE RIECREEE S1B-16-24 G1"X11 | G1.1/2"X11 20.5| 23 | 60.5| 55
S15T4-06SP | Ga/a" X19 | Ra/a" x19 os | 22 | 16 S1B-20 G1.1/4"X11 | G1.1/4"X11 205|205 | 58 | 50
e R TR AR 28 26 | 22 S1B-20-24 G1.1/4"X11 | G1.1/2"X11 205| 23 | 60.5| 55
S15Ta-125Pp | Ga/a"x14 | Ra/a"X14 3 | 30 | 27 S1B-24 G1.1/2"'X11 | G1.1/2"X11 23 | 23 | 63 | 55
SIS e TR 36 a2 | 33 S1B-24-32 G1.1/2"X11 G2"X11 23 | 255|665 70
S1ST4-20SP | G1.1/4" X11| R1.1/4 " X11 42 | 40 | 41 = Ee c20 ARSI 205 | 2501 @9 LU
S1ST4-24SP | G1.1/2" X11| R1.1/2" X11 43 | 41 | 48
S1ST4-32SP G2 " X11 R2 " X11 54 | 50 | 63

159/ =t s EE s

160/ =M s i1



® ®
oh)EH:k  ADAPTER et 8P Ana 8P Tvead Fitng D @NMNKE gk ADAPTER il 559 And 8591 v Fiing. D ANTNKE

2 B

45° 4 L SMRZ60° Y AT HMIBLI60° Py HE/ L P IRL60° M HE
S1B4 45° ELBOW BSP MALE 60° SEAT S2B BSP MALE 60° SEAT/BSP FEMALE 60° CONE
K5 U2 THREAD JU DIMENSIONS re 22 THREAD J~F DIMENSIONS
PART NO. n T2 L1 | L2 | st PART NO. T T2 L1 L S1 | s2
S1B4-02 G1/8"X28 G1/8"X28 17 | 17 | 11 S2B-04 G1/4"X19 G1/4"X19 12 | 29 | 19 | 19
S1B4-04 G1/4"X19 G1/4"X19 21 | 21 14 S2B-04-06 G1/4"X19 G3/8"X19 12 [ 305 ] 19 | 22
S1B4-06 G3/8"X19 G3/8"X19 24 | 24 | 16 S2B-04-08 G1/4"X19 G1/2"X14 12 | 32 | 19 | 27
S1B4-08 G1/2"X14 G1/2"X14 27 | 27 | 22 S2B-06 G3/8"X19 G3/8"X19 135 | 34 | 22 | 22
S1B4-10 G5/8"X14 G5/8"X14 30 | 30 | 22 S2B-06-04 G3/8"'X19 | G1/4"X19 135 | 325 | 22 | 19
S1B4-12 G3/4"X14 G3/4"X14 32 | 32 | 27 S2B-06-08 G3/8"'X19 | G1/2'X14 13.5 | 385.5 | 22 | 27
S1B4-16 G1"X11 G1"X11 35 | 35 | 33 S2B-08 G1/2"X14 G1/2"X14 16 | 40 | 27 | 27 E
S1B4-20 G1.1/4"X11 | G1.1/4"X11 37 | 37 | 41 S2B-08-06 G1/2"X14 G3/8"X19 16 | 38.5 | 27 | 22
S1B4-24 G1.1/2'X11 | G1.1/2"X11 46 | 46 | 48 S2B_08_12 G1/2X14 | G3/4"X14 16 | 41 | 27 | 32
S1B4-32 G2"X11 G2"X11 57 | 57 | 63 S2B-12 G3/4"X14 G3/4"X14 18.5 | 44.5 | 32 | 32
S2B-12-08 G3/4"X14 | G1/2'X14 18.5 | 435 | 32 | 27
S2B-12-16 G3/4"X14 G1"X11 185 | 46 | 32 | 41
S2B-16 G1"X11 G1"X11 205 | 50 | 41 | 41
S2B-16-12 G1"X11 G3/4"X14 205 | 49 | 41 | 32
S2B-16-20 G1"X11 G1.1/4"X11 205| 53 | 41 | 50
S2B-20 G1.1/4"X11 | G1.1/4"X11 205| 55 | 50 | 50
90° 5 4 AMIRZ60° P HE
S1B9 90° ELBOW BSP MALE 60° SEAT
e 22 THREAD I DIMENSIONS -
2 PART NO. T T2 L1 | L2 | st =
=1 S1B9-02 G1/8"'X28 | G1/8"X28 19.8 | 19.8 | 11 S2B4 45° TR HMZL60° N HE/TEE P IR L60° b HE il
| b S1B9-04 G1/4"X19 G1/4"X19 245 | 245 14 45° ELBOW BSP MALE 60° SEAT/BSP FEMALE 60° CONE
o S1B9-06 G3/8"X19 | G3/8"X19 27.5|275]| 16 R #4. THREAD JsI DIMENSIONS
51 I —— 1 | S1B9-08 G1/2"'X14 | G1/2"X14 345 | 345 | 22 PART NO. T4 T2 L1 ] L2 | s1] s2
V' S1B9-10 G5/8"X14 | G5/8"X14 38 | 38 | 22 S2B4-04 G1/4"'X19 | G1/4"X19 21 | 155 | 14 | 19
! = S1B9-12 G3/4"X14 | G3/4"X14 40 | 40 | 27 S2B4-04-06 G1/4"X19 | G3/8"X19 21 | 185 | 14 | 22
S1B9-16 G1"X11 G1"X11 46 | 46 | 33 o S2B4-06 G3/8"X19 | G3/8"X19 24 [ 185 | 16 | 22
S1B9-20 G1.1/4"X11 | G1.1/4"X11 50.5 | 50.5 | 41 S2B4-06-04 G3/8"'X19 | G1/4"X19 24 [ 155 16 | 19
S1B9-24 G1.1/2"X11 | G1.1/2"X11 57.5 | 57.5 | 48 S2B4-08 G1/2'X14 | G1/2"X14 27 | 22 | 22 | 27
S2B4-08-06 G1/2"X14 | G3/8"X19 27 | 205 | 22 | 22
S2B4-10 G5/8"X14 | G5/8"'X14 30 | 23 | 22 | 30
S2B4-10-08 G5/8"X14 | G1/2"'X14 30 | 22 | 22 | 27
S2B4-12 G3/4"'X14 | G3/4"X14 32 | 245 27 | 32
S2B4-16 G1"X11 G1"X11 35 | 275 33 | 41
S2B4-20 G1.1/4"X11 | G1.1/4"X11 38.5|345| 41 | 50
S2B4-24 G1.1/2"X11 | G1.1/2"X11 45 | 375| 48 | 55
S2B4-32 G2"X11 G2"X11 51 | 54.3| 63 | 70

161/ = F R A1 162/ = s & 214



®
oJEH); ADAPTER Sl BSP And BSPT Thread Fitting Sannke i, ADAPTER 61 Bsp AnsssPT Tread iing. D@ NMNKE

2 B

S2B9 90° & i AMIRLI60° PN HE/DEAE IR L60° AhHE L A B Sr60° P HE/ DL AN IR SrOR 1
90° ELBOW BSP MALE 60° SEAT/BSP FEMALE 60° CONE S1BG BSP MALE 60° SEAT/BSP MALE O-RING
fr 122 THREAD J\st DIMENSIONS lin=s 14 THREAD JisF DIMENSIONS
= PART NO. T1 T2 L1 | L2 | s1 ] s2 - PART NO. T1 T2 L1 L2 L S2
S2B9-02 G1/8"X28 G1/8"X28 19.8 | 17.9 | 11 14 ' i" S1BG-02 G1/8"X28 G1/8"X28 10 | 9.5 | 27 14
e S2B9-04 G1/4"X19 G1/4"X19 245|257 | 14 | 19 < %* S1BG-04 G1/4"X19 G1/4"X19 12 [ 11 31 19
i i S2B9-06 G3/8"X19 G3/8"X19 275|296 | 16 | 22 :-IL -2 S1BG-04-06 G1/4"X19 G3/8"X19 12 [115] 32 | 22
17 = = S2B9-08 G1/2"X14 G1/2"X14 345 | 33.8 | 22 27 I]B;E—" S1BG-06 G3/8"X19 G3/8"X19 13.5 | 11.5 | 33 22
e o S2B9-10 G5/8"X14 G5/8"X14 35 |[32.1] 22 | 30 s1f S1BG-06-04 G3/8"X19 G1/4"X19 135 | 11 | 325 | 22
S2B9-12 G3/4"X14 G3/4"X14 40 [36.3| 27 | 32 S1BG-06-08 G3/8"X19 G1/2"X14 13.5 | 14 | 38.5]| 27
S2B9-16 G1"X11 G1'X11 46 | 427 | 33 | 41 ) S1BG-08 G1/2"X14 G1/2"X14 16 | 14 | 41 27 E
Ta. =] S1BG-08-06 G1/2"X14 G3/8"X19 16 | 115 | 36 | 27
S1BG-08-12 G1/2"X14 G3/4"X14 16 | 15.5 | 45.5 | 32
S1BG-10-08 G5/8"X14 G1/2"X14 175 | 14 | 445 30
S1BG-12 G3/4"X14 G3/4"X14 185 | 15 | 46 | 32
S1BG-12-08 G3/4"X14 G1/2"X14 18.5 | 14 | 455 32
S1BG-16 G1"X11 G1"X11 205 | 18 | 53 | 41
S1BG-16-12 @14l G3/4"X14 205 | 155 | 52 | 41
S1BG-20 G1.1/4"X11 | G1.1/4"X11 20.5| 20 | 58.5]| 50
S1BG-24 G1.1/2"X11 | G1.1/2"X11 23 [ 215|625 55

EEEEREBBEERSEM “DQ” , MS1BG-16-12DQ,
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
our Part No, for example S1BG-16-12DQ.

TLE NIRA60° SR
S3B BSP FEMALE 60° CONE

3
g , 45° A5 Wi AG HMIBLI60° P HE/ 8 A S IE LrOT Bl T ) AT 3
PAQ{T\IO. Tf’%z THREADT2 C RST D"\SAENS'ONS S1BG4-0G 45° ELBOW BSP MALE 60° SAET/EéS[\P?I'VI)A(‘LE OV—\]RE/%KIJ}S igE%?S#Ag/L% STTEDmENg il
g S3B-04 G1/4'X19 | G1/4"X19 25 | 19 | 19 RE R4 THREAD /&) DIMENSIONS
S3B-04-06 G1/4"X19 G3/8"X19 26.5| 19 | 22 PART NO. T T2 L1 | L2 S1 S2
S3B_06 G3/8"X19 G3/8"X19 27 | 20 | 22 S1BG4-04-060G| G1/4"X19 G3/8"X19 21 30 | 16 | 22
S3B-06-08 G3/8"X19 G1/2"X14 595 | 22 | 27 - S1BG4-04-080G| G1/4"'X19 G1/2"X14 225 | 36 | 22 | 27
S3B-08 G1/2"X14 G1/2"X14 31 27 | o7 : S1BG4-060G G3/8"X19 G3/8"X19 21 30 | 16 | 22
S3B_08-12 G1/2"X14 G3/4"X14 325]| 27 | 32 - S1BG4-06-080G| G3/8"X19 G1/2"X14 235 | 36 | 22 | 27
S3B_12 G3/4"X14 G3/4"X14 335 | 32 | 32 S1BG4-120G G3/4"X14 G3/4"X14 32 | 42 | 27 | 32
S3B-16 G1"X11 G1"X11 6.5 | 41 41 S1BG4-12-160G| G3/4"X14 G1"X11 325 | 44 | 33 | 41
S3B-20 G1.1/4"X11 | G1.1/4"X11 40 | 50 | 50 S1BG4-160G G1°X11 G1'X11 84 | 44 | 38 | 41
S3B_24 G1.1/2"X11 | G1.1/2"X11 42 | 55 | 55 S1BG4-200G G1.1/4"X11 | G1.1/4"X11 385 | 47.5 | 41 50
S1BG4-240G G1.1/2"X11 | G1.1/2"X11 44 [515]| 48 | 55
WA WA REE AR S S n “DQ” , a1 S1BG4-040GDQ,
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ" after
our Part No, forexample S1BG4-040GDAQ.

163/ =t s dE s 1 164/ =M A&z



® ®
ADAPTER il BSP And BSPT Thread Fitting Sa nn ke HER)  ADAPTER Yl BSP And BSPT Thread Fitting Sa nn ke

90° TR EIMEL60° [ H#/ZEE SINMELLOR B 7T 1 [5) 4 i Wk AR L060° [N HE /S HE RS S 20600 P AE

S1BG9-0G 90° ELBOW BSP MALE 60° SAET/BSP MALE O-RING ADJUSTABLE STUD END S1BT-SP BSP MALE 60° SEAT/BSPT MALE 60° SEAT
e 124 THREAD JisI DIMENSIONS B 1240 THREAD JUs} DIMENSIONS
PART NO. T1 T2 L1 L2 St S2 PART NO. T1 T2 L L1 L2 S1
S1BG9-040G G1/4"X19 G1/4"X19 25 | 31.5| 14 19 S1BT-02SP G1/8"X28 | R1/8"X28 26 10 10 14
S1BG9-04-060G| G1/4"X19 G3/8"X19 26.5|36.8| 16 | 22 S1BT-02-04SP | G1/8"X28 | R1/4"X19 30.5| 10 | 145 | 14
S1BG9-060G G3/8"X19 G3/8"X19 28 | 36.8| 16 | 22 S1BT-04SP G1/4"X19 | R1/4"X19 32 12 | 145 | 19
S1BG9-06-080G| G3/8"X19 G1/2"'X14 31 | 432 | 22 | 27 L S1BT-04-02SP | G1/4"X19 | R1/8"X28 28.5 | 12 10 19
S1BG9-080G G1/2"'X14 G1/2"X14 345|432 | 22 | 27 s, L2 S1BT-04-06SP | G1/4"X19 | R3/8"X19 32 12 15 19
S1BG9-08-120G| G1/2"X14 G3/4"X14 40 | 49.3| 27 | 32 ‘d‘_—' S1BT-06SP G3/8"X19 | R3/8"X19 35,5 | 135 | 15 22
E S1BG9-120G G3/4"X14 G3/4"X14 40 | 49.3| 27 | 32 R 2 S1BT-06-04SP | G3/8"X19 | R1/4"X19 355|135 | 14.5| 22 E
S1BG9-12-160G| G3/4"'X14 G1"X11 45 | 53 | 33 | 41 Pl I] |- L S1BT-06-08SP | G3/8"X19 | R1/2"X14 40.5 | 13.5 | 20 24
S1BG9-160G G1"X11 G1"X11 46 | 53 | 33 | 41 - S1BT-08SP G1/2"X14 | R1/2"X14 45 16 | 20 27
S1BG9-20-160G| G1.1/4"X11 G1"X11 50.5| 58 | 41 41 -mj"‘ T2 S1BT-08-06SP | G1/2"X14 | R3/8" X19 40 16 15 27
S1BG9-200G G1.1/4"X11 | G1.1/4"X11 51.5| 58 | 41 50 S1BT-08-12SP | G1/2"X14 | R3/4"X14 45 16 | 20 30
S1BG9-240G G1.1/2"X11 | G1.1/2"X11 58.5| 63 | 48 | 55 S1BT-10-08SP | G5/8"X14 | R1/2" X14 46.5 | 17.5 | 20 30
WA R EE S S “DQ” , W1 S1BG9-160G DQ, S1BT-10-12SP | G5/8"X14 | R3/4"X14 46.5 | 17.5 | 20 30
Note: If you interested to order the adapter with retainer ring,please insert suffix"DQ" after S1BT-12SP G3/4 " X14 R3/4 " X14 485 | 185 | 20 32
our Part No, forexample S1BG9-160GDAQ. " "
S1BT-12-08SP | G3/4"X14 | R1/2"X14 49.5 | 185 | 20 32
S1BT-12-16SP | G3/4" X14 R1" X11 53.5 | 18.5 | 25.5 | 36
S1BT-16SP G1" X11 R1" X11 58 | 20.5| 255 | 41
S1BT-16-12SP G1" X11 R3/4 " X14 53 | 20.5| 20 41
S1BT-16-20SP G1"X11 | R1.1/4" X11 60 | 20.5 | 26.5| 46
S1BT-20SP G1.1/4 " X11 | R1.1/4 " X11 65 | 20.5|26.5| 50
S1BT-20-16SP | G1.1/4" X11| R1" X11 61 | 20.5|25.5| 50
S1BT-20-24SP | G1.1/4 " X11| R1.1/2" X11 62 | 20.5 | 26.5| 50
S1BT-24SP G1.1/2" X11| R1.1/2 " X11 71 23 | 25 55
SR HMRAI60° A HE/ D S IR SUR H G S1BT-24-20SP | G1.1/2" X11| R1.1/4 " X11 64.5| 23 | 26.5| s5
i S1B-WD BSP MALE 60° SEAT/BSP MALE CAPTIVE SEAL S1BT_24-32SP | G11/2"X11| R2" X11 20 | 23 | 30 | 65 P
& 5 1247 THREAD JUs) DIMENSIONS S1BT-32SP G2 " X11 R2 " X11 72.5 | 25,5 | 30 70 |
PART NO. ™ T2 L L1 L2 st S1BT-32-24SP G2"X11 | R1.1/2" X11 68.5 | 25.5 | 26.5| 70
. iz S1B-02WD G1/8"X28 G1/8"X28 25.5| 10 8 14
| S1B-04WD G1/4"X19 G1/4"X19 32 12 12 19
S1B-06WD G3/8"X19 G3/8"X19 34 | 135 | 12 | 22
= S1B-08WD G1/2"X14 G1/2"X14 43 16 14 | 27
S1B-12WD G3/4"X14 G3/4"X14 46.5| 185 | 16 | 32
S1B-16WD G1"X11 G1"X11 54.5| 205 | 18 | 41
S1B-20WD G1.1/4"X11 | G1.1/4"X11 58.5|20.5| 20 | 50
S1B-24WD G1.1/2"X11 | G1.1/2"X11 63 | 23 | 22 55
S1B-32WD G2"X11 G2"X11 66.5 | 25.5 | 22 75

165/ = ¥ ds EE sk 166/ =F s f1



ADAPTER

®

Y% BSP And BSPT Thread Fitting Sa nn ke

Pk

ADAPTER

®
¥l BSP And BSPT Thread Fitting S a n n I(e

2 OB

S1BT4-SP

45° FLFAMRA60° P HE/

e ft

=

HMRA60° P HE

45° ELBOW BSP MALE 60° SEAT/BSPT MALE 60° SEAT

R 122r THREAD R~ DIMENSIONS

PART NO. T1 T2 L1 L2 S1
S1BT4-02SP G1/8"X28 | R1/8" X28 17 17 11
S1BT4-04SP G1/4"X19 | R1/4"X19 20.3 | 21 14
S1BT4-04-06SP | G1/4"X19 | R3/8"X19 20.5 | 23 16
S1BT4-06SP G3/8"X19 | R3/8"X19 22 23 16
S1BT4-06-04SP | G3/8"X19 | R1/4"X19 22 21 16
S1BT4-06-08SP | G3/8"X19 | R1/2"X14 24 [ 295 | 22
S1BT4-08SP G1/2"X14 | R1/2"X14 27 | 29.5| 22
S1BT4-08-06SP | G1/2"X14 | R3/8"X19 27 25 22
S1BT4-08-12SP | G1/2"X14 | R3/4"X14 28.5 | 30.5 | 27
S1BT4-10-08SP | G5/8"X14 | R1/2"X14 28.5 | 29.5 | 22
S1BT4-10-12SP | G5/8"X14 | R3/4"X14 29 |30.5| 27
S1BT4-12SP G3/4"X14 | R3/4"X14 31 | 30.5| 27
S1BT4-12-08SP | G3/4"X14 | R1/2"X14 31 | 30.5| 27
S1BT4-12-16SP | G3/4 " X14 R1" X11 325 | 38 33
S1BT4-16SP G1" X11 R1" X11 35 38 33
S1BT4-16-12SP | G1 " X11 R3/4 " X14 35 [325| 33
S1BT4-16-20SP | G1"X11 | R1.1/4"X11 38.5 | 43 41
S1BT4-20SP G1.1/4 " X11 | R1.1/4 " X11 38.5 | 43 41
S1BT4-20-16SP | G1.1/4" X11| R1"X11 38.5 | 42 41
S1BT4-20-24SP | G1.1/4 " X11 | R1.1/2 " X11 415 | 475 | 48
S1BT4-24SP G1.1/2" X11| R1.1/2 " X11 39 | 475 | 47
S1BT4-24-20SP | G1.1/2 " X11 | R1.1/4 " X11 44 | 455 | 48
S1BT4-24-32SP | G1.1/2" X11| R2"X11 51 53 63
S1BT4-32SP G2 " X11 R2 " X11 51 53 63
S1BT4-32-24SP | G2"X11 |R1.1/2" X11 51 52 63

167/ =t i dE s 1

S1BT9-SP

T1

90° HLATAMRA60° P HE/TLE SMIRA60° N HE
90° ELBOW BSP MALE 60° SEAT/BSPT MALE 60° SEAT

5 124 THREAD Jis) DIMENSIONS

PART NO. T1 T2 L1 L2 S1
S1BT9-02SP G1/8"X28 | R1/8"X28 20 | 21 11
S1BT9-02-04SP | G1/8"X28 | R1/4" X19 223|255 | 14
S1BT9-04SP G1/4"X19 | R1/4"X19 245|255 | 14
S1BT9-04-02SP | G1/4"X19 | R1/8" X28 25 | 235 | 14
S1BT9-04-06SP | G1/4"X19 | R3/8"X19 25 | 28.5| 16
S1BT9-06SP G3/8"X19 | R3/8"X19 275|285 | 16
S1BT9-06-04SP | G3/8"X19 | R1/4"X19 275|265 | 16
S1BT9-06-08SP | G3/8"X19 | R1/2"X14 31 36 | 22
S1BT9-08SP G1/2"X14 | R1/2"X14 345| 36 | 22
S1BT9-08-06SP | G1/2"X14 | R3/8" X19 345|325 | 22
S1BT9-08-12SP | G1/2"X14 | R3/4"X14 37.5| 435 | 27
S1BT9-10-08SP | G5/8"X14 | R1/2"X14 35 | 36 | 22
S1BT9-10-12SP | G5/8"X14 | R3/4"X14 39 | 435 27
S1BT9-12SP G3/4"X14 | R3/4"X14 40 | 43 | 27
S1BT9-12-08SP | G3/4"X14 | R1/2"X14 40 | 39.5| 27
S1BT9-12-16SP | G3/4 " X14 R1" X11 435 | 50 | 33
S1BT9-16SP G1" X11 R1" X11 46 | 50 | 33
S1BT9-16-12SP | G1 " X11 R3/4 " X14 46 | 47.5| 38
S1BT9-16-20SP | G1"X11 | R1.1/4" X11 50.5 | 56.5 | 41
S1BT9-20SP G1.1/4 " X11| R1.1/4 " X11 52 | 59 | 41
S1BT9-20-16SP | G1.1/4 " X11| R1"X11 52 | 56.5 | 41
S1BT9-20-24SP | G1.1/4 " X11 | R1.1/2 " X11 54.5 | 62.5 | 48
S1BT9-24SP G1.1/2" X11| R1.1/2 " X11 57.5 | 62 | 48
S1BT9-24-20SP | G1.1/2 " X11| R1.1/4 " X11 57.5 | 61 48

168/ = FAm s &2 14

# OB



® ®
Y% BSP And BSPT Thread Fitting Sa nn ke of ek ¥ BSP And BSPT Thread Fitting Sa nn ke

ADAPTER ADAPTER

2 B

YL AN Z60° P HE BY N A i T 2 A B /S0 N IR 2SO 1179 YL HNIRE60° PN HE BN A ity T 2L A A dt /O P B AL
S5B BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/BSP FEMALE 1SO 1179 S5BT BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/BSPT FEMALE
e 2. THREAD I DIMENSIONS RE 22 THREAD Ji- DIMENSIONS
PART NO. T1 T2 L | L1 ] st L PART NO. T T2 L | L1 ] s
S5B-02-04 | G1/8"X28 | G1/4 " X19 29 | 11 | 19 il SEBT-04-02 | G1/4"X19 | Rci/8" X28 28 | 12 | 19
S5B-04-02 G1/4"X19 | G1/8" X28 28 | 12 | 19 % S5BT-04 G1/4"X19 | Rcl/4" X19 335 | 12 | 19
) S5B-04 G1/4" X19 | G1/4 " X19 33 | 12 | 19 i IJ_[ ) S5BT-04-06 | G1/4'X19 | Rc3/8" X19 34 | 12 | 22
S5B_04-06 | G1/4"X19 | G3/8"X19 36 | 12 | 22 Nz S5BT-04-08 | G1/4"X19 | Rci1/2 " X14 41 | 12 | 27
S5B-06-04 | G3/8"X19 | G1/4 " X19 335 | 13.5 | 22 ——— S5BT-06-04 | G3/8"X19 | Rci/4 " X19 35 | 135 | 22
S5B-06 G3/8" X19 | G3/8 " X19 375 | 135 | 22 S5BT-06 G3/8" X19 | Rc3/8 " X19 34 | 135 22
S5B-06-08 | G3/8"X19 | G1/2"X14 425 | 135 | 27 S5BT-08-06 | G1/2"X14 | Rc3/8" X19 395| 16 | 27
S5B-08-06 | G1/2"X14 | G3/8 " X19 38 | 16 | 27 S5BT-08 G1/2" X14 | Rci/2" X14 45 | 16 | 27
S5B-08 G1/2" X14 | G1/2"X14 45 | 16 | 27 S5BT-10-08 | G5/8"X14 | Rci/2" X14 435 | 17.5 | 30
S5B-08-10 | G1/2"X14 | G5/8 " X14 46 | 16 | 30 SB5BT-12-08 | G3/4"X14 | Rci/2" X14 475 185 | 32
S5B-08-12 | G1/2"X14 | G3/4 " X14 445 16 | 36 S5BT-12 G3/4" X14 | Rc3/4" X14 49 | 185 | 36
S5B-10-08 | G5/8"X14 | G1/2 " X14 415] 16 | 30 S5BT-16-12 G1"X11 | Rcd/4" X14 475 | 205 | 41
S5B-12-08 | G3/4"X14 | G1/2"X14 445|185 | 32 S5BT-16 G1'X11 | Red " X11 57 | 205 | 41
S5B-12 G3/4" X14 | G3/4 " X14 48 | 185 | 36 S5BT-20 G1.1/4 " X11 |Re1.1/4 " X11 58.5 | 205 | 50
S5B-12-16 | G3/4"X14 | G1"X11 53.5 | 18.5 | 41 S5BT-24 G1.1/2"X11|Rel.1/2 " X11 61 | 23 | 55
S5B-16-12 G1"X11 | G3/4" x14 47.5 | 205 | 41
S5B-16 G1°X11 | G1°X11 5551205 ] 41 YO MBL60° P HE B A B T I 4L S /3% o A M P MR
S5B-16-20 G1"X11  |G1.1/4 " X11 56.5 | 20.5 | 50 S5BN BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/ NPT FEMALE
S5B-20-16 | G1.1/4" X11| G1"X11 49 | 205 | 50 L i R R EN TS
S5B-20 G1.1/4 " X11 [G1.1/4 " X11 52.5 | 205 | 50 - AR NO. = - T T s
S5B-20-24 | G1.1/4" X11 | G1.1/2" 11 57.5 | 205 | 55 SeBN-0s a4 xTo | NPT xTs > 3 o
S5B-24 G1.1/2" 11 |G1.1/2" 11 58 | 23 | 55 | [ S5BN-06 G3/8" X19 | NPT3/8"X18 135 | 33 | 22
S5B-32-24 G2°X11_|G1.1/2" 11 59.5| 26 | 70 d - S5BN-08 G1/2"X14 | NPTi/2' X14 16 | 42 | 30
bets GRPGhi EFhs ) |l A8 b rm— S5BN-12 G3/4" X14 | NPT3/4"X14 185 | 445 | 36
5y S5BN-16 G1"X11 | NPT1'X115 205 | 52 | 41
. S5BN-20 G1.1/4 " X11 [NPT1.1/4" X115 205 | 55 | 50 E: 3
S5B-WD BSP MALE CAPTIVE SEAL/BSP FEMALE ISO 1179 S5BN-24 G1.1/2" X11 [NPT1.1/2"X11.5 23 | 60 | 60 %
= T RrEET— S5BN-32 G2"X11 | NPT2' X115 255 | 62 | 70
PART NO. T T2 C | 1] s
S5B-02-04WD | G1/8"X28 | G1/4" X19 305| 8 | 19
S5B—02-06WD | G1/8"X28 | Ga/8"X19 335| 8 | 22
N T S5B-04-02WD | G1/4"X19 | G1/8"X28 315]| 12 | 19 s o o T 0
S5B-04-06WD | G1/4"X19 | G3/8"X19 37 | 12 | 22 S5GB BSP ﬁATéF%%%l?\l%@éys I?Eﬂl?ﬂéflf)é :38 1 :Zg
S5B-04-08WD | G1/4'X19 | G1/2"X14 43 | 12 | 27
S5B-06-02WD | G3/8 " X19 | G1/8" X28 35| 12 | 22 TS— s BT AR S BIBIENEND NE
S5B-06-04WD | G3/8" X19 | G1/4"X19 37.5| 12 | 22 - PART NO. ik T2 L | L1 ] S
S5B-06-08WD | G3/8"X19 | Gi/2" X14 435 12 | 27 4 ST 1) S EarrmT e I A oy
S5B-08-04WD | G1/2"X14 | G1/4"X19 38 | 14 | 27 ' e : :
SBB-08-06WD | G1/2"X14 | Ga/8" X19 a1 | 14 | 27 ,_ S5GB-06 G3/8* X19 | G3/8° X19 36 | 115 22
<5B08—12WD | G1/2 X124 | G3/a" x4 6 14 T 36 st/ S5GB-06-08 | G3/8"X19 |G1/2" X14 41 | 115 27
S5B_12-08WD | Ga/4' X14 | G1/2" X14 475 16 | 32 ] S5GB-08 G1/2" X14 |G1/2" X14 4 | 14 | 27
S5B—12-16WD | G3/4"X14 | G1°'X11 535 | 16 | 41 S56B-08-12 | G1/2"X14 |G3/4"X14 46 | 14 | 36
S5B—12-20WD | GB3/4"X14 | G1.1/4 " X11 545 | 16 | 50 S5GB-12 G3/4"X14 | G3/4" X14 46 | 155 | 36
S5B—16-12WD | G1'X11 | G3/4"X14 505 | 18 | 41 S5GB-12-16 | G3/4'X14 | G1'X11 50 | 155 41
S5B-16-20WD | G1'X11 | G1.1/4" X11 56.5| 18 | 50 2222‘12‘12 21 : il} G(::Ajl x):114 S
L L e A ALYV 6185 i i “DQ” , WIS5GB-16DQ, '
SEleZooZiiil G ol e e 59.5 20 - the: If you interested to order the a;dapter with retainer ring,please insert suffix"DQ" after
S5B-20-32WD | G1.1/4" X11| G2 " X11 64 | 20 | 70 our Part No, for example S5GB-16DQ.
S5B—24—16WD | G1.1/2" X11| G1 ' X11 595 | 22 | 55
S5B—24-20WD | G1.1/2" X11| G1.1/4 " X11 60 | 22 | 55
S5B—24-32WD | G1.1/2" X11| G2 "' X11 66 | 22 | 70

169/ =fm i & i 170/ =M A EE s



ADAPTER

®

¥l BSP And BSPT Thread Fitting Sa nn ke

ADAPTER

®

Yl BSP And BSPT Thread Fitting Sa n n |(e

2 B

YA SN IR AI60° A HE T AR Sk

S6B-LN BSP MALE 60° SEAT BULKHEAD
R 24, THREAD JisF DIMENSIONS

PART NO. T4 T2 L1 ] L2 L | s1 [s2
S6B-04LN G1/4"X19 | G1/4"X19 12 | 35 | 53 | 19 | 19
- S6B—06LN G3/8"X19 | G3/8"X19 135 | 35 |56.5| 22 | 22
—;JFI o . S6B-08LN G1/2"X14 | G1/2"X14 16 | 39 | 65 | 27 | 27
J1 == . S6B—10LN G5/8"X14 | G5/8"X14 175 | 40 |67.5| 30 | 30
1 1 S6B—12LN G3/4"X14 | G3/4"X14 185 | 42 | 71.5| 32 | 32
ETA S6B—16LN G1" X11 G1"X11 205 | 50 | 84 | 41 | 41
S6B—20LN G1.1/4 " X11 | G1.1/4 " X11 205 | 52 | 89.5| 50 | 50
S6B—24LN G1.1/2" X11| G1.1/2* X11 23 | 55 | 93 | 55 | 55

90° AL & AMZR L60° A 4E I AR 22 3k

S6B9-LN 90° BSP MALE 60° SEAT BULKHEAD

R 247 THREAD - DIMENSIONS
PART NO. T1 T2 L1 | L2 [ L3 | s1 | s2
= S6B9-04LN G1/4"X19 | G1/4"X19 25 | 51 | 35 | 16 | 19
S6B9—06LN G3/8"X19 | G3/8"X19 29 [ 535 35 | 19 | 22
E\E - - S6B9-08LN G1/2"X14 | Gi1/2"X14 345 | 585| 39 | 22 | 27
: 4 S6B9—12LN G3/4"X14 | G3/4"X14 41 | 64 | 42 | 30 | 32
[/ %, S6B9-16LN G1 " X11 G1"X11 475 71 | 50 | 33 | 41
5 | S6B9—20LN | G1.1/4 " X11| G1.1/4 " X11 52 | 84 | 52 | 41 | 50
= ‘-‘-J S6B9-24LN | G1.1/2" X11| G1.1/2 " X11 575| 93 | 55 | 48 | 55
TR VS - T | ]

[VAVASE bz SE2 20t

HEE IR 1ISO 1179

S7B BSP FEMALE I1SO 1179
T 124 THREAD J~F DIMENSIONS
PART NO. T T2 L | st
S7B-02 G1/8"X28 | G1/8"X28 22 | 14
S7B-02-04 G1/8" X28 | G1/4"X19 24 | 19
( A S7B-04 G1/4"X19 | G1/4"X19 24 | 19
I 1 1[ S7B—04-06 G1/4"X19 | G3/8"X19 29 | 22
lr‘ 2 S7B-06 G3/8"X19 | G3/8" X19 26 | 22
( [ : S7B-06-08 G3/8" X19 | G1/2"X14 33 | 27
st | S7B-08 G1/2"X14 | G1/2"X14 32 | 27
L S7B-08-10 G1/2"X14 | G5/8" X14 36 | 30
S7B-10 G5/8"X14 | G5/8" X14 36 | 30
S7B-12 G3/4" X14 | G3/4"X14 36 | 32
S7B-12-16 G3/4"X14 | G1"X11 43 | 41
S7B-16 G1" X11 G1"X11 40 | 41
S7B-16-20 G1"X11 | G1.1/4" X11 46 | 50
S7B-20 G1.1/4 " X11| G1.1/4 " X11 44 | 50
S7B—20-24 | G1.1/4" X11| G1.1/2 " X11 48 | 55
S7B-24 G1.1/2"X11| G1.1/2 " X11 45 | 55
S7B-24-32 | G1.1/2"X11| G2"X11 56 | 70
S7B-32 G2 " X11 G2 " X11 54 | 70
o s i At o
S7B9 9902 Eﬁ??ﬁ:ﬁ:gg“;g
e 4. THREAD -] DIMENSIONS

PART NO. T T2 L1 | L2 | st

S7B9-02 G1/8"X28 | G1/8"X28 20 | 20 | 16

S7B9-04 G1/4"X19 | G1/4"X19 205 | 225 | 19

S7B9-06 G3/8"X19 | G3/8"X19 26 | 26 | 24

S7B9-08 G1/2"X14 | G1/2"X14 31 | 31 | 27

S7B9-12 G3/4"X14 | G3/4"X14 34 | 34 | 33

S7B9-16 G1" X11 G1" X11 42 | 42 | 41

S7B9-20 G1.1/4 " X11| G1.1/4 " X11 48 | 48 | 50

S7B9-24 G1.1/2" X11| G1.1/2 " X11 53 | 53 | 60

S7B9-32 G2 " X11 G2 " X11 62 | 62 | 70

172/ = R &

# OB



ADAPTER

®
Yifil  BSP And BSPT Thread Fitting Sa nn ke

ADAPTER

®
Yl BSP And BSPT Thread Fitting S a n n I(e

YA IR 1ISO 1179 =i

SGB BSP FEMALE ISO 1179 TEE
R 12247 THREAD JU~) DIMENSIONS
| PART NO. T1 T2 T3 L1 L2 L3 S1
J i’# | SGB-02 G1/8"X28 | G1/8"X28 | G1/8"x28 | 20 | 20 | 20 | 16
. : SGB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 | 22.5 | 225 | 22.5 | 19
S I 40 | SGB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 | 26 | 26 | 26 | 24
x._ SGB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 | 31 | 31 | 31 | 27
el SGB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 | 34 | 34 | 34 | 33
SGB-16 G1 " X11 G1 " X11 G1" X11 42 | a2 | 42 | M
E SGB-20 G1.1/4"X11| G1.1/4"X11| G1.1/4"X11| 48 | 48 | 48 | 50
SGB-24 G1.1/2"X11| G1.1/2"X11| G1.1/2"X11| 53 | 53 | 53 | 60
N SGB-32 G2 " X11 G2 " X11 G2 " X11 62 | 62 | 62 | 70
YL AN S60° PN HE B SS A ity T AL G SR AR
S1BW BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/BUTT-WELD TUBE
RE 124 THREAD |1 TUBEO.D R DIMENSIONS
L PART NO. T4 D1 L1 | L2 L S1
- = S1BW-04-10 | G1/4"X19 10 12 7 25 | 19
e ' S1BW-06-14 | G3/8"X19 14 135| 8 | 295 22
= IL -—15 S1BW-08-18 | G1/2"X14 18 16 | 10 | 36 | 27
S1BW-12-22 | G3/4"X14 22 18.5| 10 | 39.5 | 32
- S1BW-12-28 | G3/4"X14 28 185 | 12 | 41.5| 32
% S1BW-16-28 G1"X11 28 20.5| 12 | 455 41
S1BW-16-30 G1"X11 30 20.5| 12 | 455 41
il S1BW-20-34 | G1.1/4 " X11 34 20.5| 14 | 495| 50
S1BW-20-36 | G1.1/4" X11 36 20.5| 14 | 49.5| 50
S1BW-20-42 | G1.1/4 " X11 42 205| 16 | 51.5| 50
S1BW-24-36 | G1.1/2" X11 36 23 | 14 | 52 | 55
S1BW-24-42 | G1.1/2" X11 42 23 | 16 | 54 | 55
S1BW-24-50 | G1.1/2" X11 50 23 | 16 | 54 | 55
TR /L IR 460° A
S2WB BUTT-WELD TUBE/BSP FEMALE 60° CONE
B 122 THREAD |# F## TUBEO.D Js DIMENSIONS
PART NO. T1 D1 L [ st
S2WB-10-04 G1/4" X19 10 35 | 19
S2WB-14-06 | G3/8"X19 14 40 | 22
S2WB-18-08 | G1/2"X14 18 50 | 27
S2WB-22-08 | G1/2"X14 22 50 | 27
S2WB-22-12 G3/4 " X14 22 62 | 32
S2WB-28-16 G1"X11 28 65 | 41
S2WB-34-20 | G1.1/4" X11 34 68 | 50
S2WB-42-20 | G1.1/4 " X11 42 59.5 | 50
S2WB-50-24 | G1.1/2" X11 50 57.5| 55

173/ =t s EE s 1

REIMREYE0° NS ARIEAASETH/
EHISAEIMELHOR B R FIISO

BSP MALE DOUBLE FOR 60°

SEAT OR BONDED SEAL /

S1BO SAE O-RING Boss L-SERIES ISO
= 124r THREAD J\st DIMENSIONS
PART NO. T1 T2 L1 L2 L S1
S1BO-04 G1/4"X19 | 7/16" X20 12 | 9.1 | 295 19
S1BO-04-05 G1/4"X19 | 1/2"X20 12 | 9.1 [ 295 19
S1BO-04-06 G1/4"X19 | 9/16" X18 12 | 9.9 | 32 | 19
L S1BO-04-08 G1/4"X19 | 3/4"X16 12 | 11.1 | 31 22
L, ek S1BO-06 G3/8"X19 | 9/16" X18 13.5| 9.9 | 335 | 22
% S1BO-06-04 G3/8"X19 | 7/16 " X20 13.5| 9.1 | 33 | 22
[ S1BO-06-08 G3/8"X19 | 3/4"X16 13.5 | 11.1| 36 | 24
= -IJ—H - & S1BO-06-10 G3/8"X19 | 7/8"X14 13.5 | 12.7 | 39.5 | 27
S1BO-08 G1/2"X14 | 3/4"X16 16 | 11.1 | 38 | 27
. S1BO-08-06 G1/2"X14 | 9/16" X18 16 | 9.9 | 36 | 27
S1BO-08-10 G1/2"X14 | 7/8"X14 16 | 12.7 | 42 | 27
S1BO-08-12 G1/2"X14 |1.1/16 " X12 16 | 15.1 | 425 | 32
S1BO-10 G5/8"X14 | 7/8"X14 17.5 | 12.7 | 43.5 | 30
S1BO-10-08 G5/8" X14 | 3/4"X16 17.5 | 11.1 | 415 | 30
S1BO-10-12 G5/8" X14 | 1.1/16 " X12 17.5 | 151 | 47 | 32
S1BO-12 G3/4"X14 | 1.1/16 " X12 18.5 | 15.1 | 48 | 32
S1BO-12-08 G3/4"X14 | 3/4"X16 18.5 | 11.1 | 40.5 | 32
S1BO-12-10 G3/4"X14 | 7/8"X14 18.5 | 12.7 | 45.5 | 32
S1BO-12-14 G3/4" X14 | 1.3/16 " X12 18.5 | 15.1 | 48 | 36
S1BO-12-16 G3/4" X14 | 1.5/16 " X12 18.5 | 15.1 | 50.7 | 41
S1BO-16 G1"X11 | 1.5/16"X12 20.5 | 15.1 | 52.6 | 41
S1BO-16-10 G1"X11 7/8" X14 20.5 | 12.7 | 49.5 | 41
S1BO-16-12 G1"X11 | 1.1/16" X12 205 | 151 | 52 | 41
S1BO-16-14 G1"X11 | 1.3/16" X12 205 | 151 | 52 | 41
S1BO-16-20 G1" X11 1.5/8 " X12 20.5 | 15.1 | 54.7 | 50
S1B0O-20 G1.1/4"X11| 1.5/8" X12 20.5 | 15.1 | 54.7 | 50
S1B0O-20-16 | G1.1/4"X11]| 1.5/16 " X12 20.5 | 15.1 | 54.7 | 50
S1BO-24 G1.1/2"X11| 1.7/8" X12 23 | 151 | 57 | 55

174] =M E ==

# OB



ADAPTER

®

Y&l BSP And BSPT Thread Fitting Sa n n I(e

®
L2 ADAPTER Yiffl  BSP And BSPT Thread Fitting Sa nn ke

REIMRAGE0° NENANAIREAESEER/
NHEIIMELGEE RSO 6149-3

BSP MALE DOUBLE FOR 60°

SEAT OR BONDED SEAL /

S1BH METRIC MALE L-SERIES ISO 6149-3

L R 124 THREAD J\sF DIMENSIONS
DETTT PART NO. T T2 L1 L2 | st L

\ S1BH-02-10 G1/8" X28 M10X1 10 | 85 | 14 | 25

i IS i S1BH-02-12 G1/8"X28 | M12X1.5 10 | 11 17 | 28
i "]L [ii S1BH-04-12 G1/4"X19 | M12X1.5 12 | 11 19 | 30
.. S1BH-04-14 G1/4"X19 | M14X1.5 12 | 11 19 | 31.5
E 8y . S1BH-04-16 G1/4"X19 | M16X1.5 12 [115] 22 | 315
= ~ S1BH-06-14 G3/8"X19 | M14x1.5 13.5 | 11 22 | 35

(=1 S1BH-06-16 G3/8"X19 | M16X1.5 135 | 11.5 | 22 | 33
T T S1BH-06-18 G3/8" X19 M18X1.5 135 | 125 | 24 | 36.5

:, 1 |] ':“I S1BH-08-18 G1/2" X14 M18X1.5 16 | 125 | 27 41
= S1BH-08-22 G1/2"X14 | M22x1.5 16 | 13 | 27 [ 415

s/ S1BH-10-22 G5/8"X14 | M22X1.5 175| 13 | 30 | 43
S1BH-12-22 G3/4"X14 | M22X1.5 185 | 13 | 32 | 45
S1BH-12-27 G3/4 " X14 M27X2 18.5| 16 | 32 | 45.5

S1BH-16-27 G % X1 M27X2 205 | 16 | 41 | 49
S1BH-16-33 G1"X11 M33X2 205| 16 | 41 | 49.5
S1BH-20-42 | G1.1/4 " X11 M42X2 205| 16 | 50 | 51.5
S1BH-24-48 | G1.1/2" X11 M48X2 23 [ 175 55 | 55.5

WA R IS AR F i “DQ” , 41 S1BH-12-27DQ
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
our Part No, for example S1BH-12-27DQ

2 B

S1BH4-0G

45° BSP MALE 60°

45° THEIMEL60° A/ HISMELEEZFIISO 6149-3
SEAT/METRIC MALE L-SERIES ISO 6149-3

5 IZ4. THREAD J{s; DIMENSIONS
PART NO. T T2 L1 L2 S1 S2
S1BH4-02-100G G1/8 " X28 M10X1 17 | 23.5 | 11 14
S1BH4-02-120G G1/8 " X28 M12X1.5 17 | 27.5 | 11 17
S1BH4-04-120G G1/4 " X19 M12X1.5 20.3 | 28.3 | 14 17
S1BH4-04-140G G1/4 " X19 M14X1.5 20.3 | 28.3 | 14 19
S1BH4-04-160G G1/4 " X19 M16X1.5 20.8 | 29.3 | 16 22
S1BH4-06-140G G3/8 " X19 M14X1.5 22.3 | 28.3| 16 19
S1BH4-06-160G G3/8 " X19 M16X1.5 22.3 | 29.3| 16 22
S1BH4-06-180G G3/8 " X19 M18X1.5 23 31 19 24
S1BH4-08-180G G1/2 " X14 M18X1.5 27.3 | 33.3 | 22 24
S1BH4-08-220G G1/2 " X14 M22X1.5 27.3 | 33.3 | 22 27
S1BH4-10-220G G5/8 " X14 M22X1.5 27.8 | 33.3 | 22 27
S1BH4-12-220G G3/4 " X14 M22X1.5 31 34.5 | 27 27
S1BH4-12-270G G3/4 " X14 M27X2 31 39.5 | 27 32
S1BH4-16-270G G1 " X11 M27X2 34.5 | 40.5 | 33 32
S1BH4-16-330G G1" X11 M33X2 345 | 41 33 41
S1BH4-20-420G | G1.1/4 " X11 M42X2 39 | 45,5 | 41 50
S1BH4-24-480G | G1.1/2" X11 M48X2 44 | 49.5 | 48 55

AR EE AT )E I “DQ” , W S1BH4-10-220GDQ

Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after

our Part No, for example S1BH4-10-220GDQ

175/ = R &

90° THREIMEL60° KHE/ N HIIMELERTIISO 6149-3

S1BH9-0G 90° BSP MALE 60° SEAT/METRIC MALE L-SERIES ISO 6149-3
K5 124 THREAD JUsf DIMENSIONS
PART NO. T1 T2 L1 L2 S1 S2
S1BH9-02-100G | G1/8 " X28 M10X1 20 | 26.5 | 11 14
S1BH9-02-120G | G1/8 " X28 M12X1.5 20 | 30.5 | 11 17
S1BH9-04-120G | G1/4 " X19 M12X1.5 24.5 | 32 14 17
S1BH9-04-140G | G1/4 " X19 M14X1.5 245|325 | 14 19
2 S1BH9-04-160G | G1/4" X19 M16X1.5 26.5 | 345 | 16 22
S1BH9-06-140G | G3/8 " X19 M14X1.5 27.5 | 34 16 19
S1BH9-06-160G | G3/8 " X19 M16X1.5 27.5 | 34.8| 16 22 E
S1BH9-06-180G | G3/8 " X19 M18X1.5 28.5 | 37 19 24
S1BH9-08-180G | G1/2" X14 M18X1.5 345|395 | 22 24
S1BH9-08-220G | G1/2 " X14 M22X1.5 34.5 | 40.2 | 22 27
S1BH9-10-220G | G5/8" X14 M22X1.5 35 | 40.2 | 22 27
S1BH9-12-220G | G3/4 " X14 M22X1.5 40 | 43.5 | 27 27
S1BH9-12-270G | G3/4 " X14 M27X2 40 | 48.5 | 27 32
S1BH9-16-270G G1"X11 M27X2 46 52 23 32
S1BH9-16-330G G1"X11 M33X2 46 | 52.5 | 33 41
S1BH9-20-420G | G1.1/4 " X11 M42X2 50.5 | 57.5 | 41 50
S1BH9-24-480G | G1.1/2 " X11 M48X2 57.5 | 62.5 48 55
VR TGRS S AR T E I “DQ” , W S1BH9-10-220GDQ
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
our Part No, for example S1BH9-10-220GDQ

# OB

176/ =t A EE 2



® ®
» e .y
HiERL  ADAPTER il BSP And BSPT Thread Fitting Sa nn ke wixrxrs  AUAPTER Yl BSP And BSPT Thread Fitting Sa nn ke
HEEIMEL60° NESABIHEAASREZE/ HEEIMRL60° NEWANRIREAHEEGEZE/ZEHJIICIMELTL M
NEISMBLIE0° 1o S A D S1BJ BSP MALE DOUBLE USE FOR 60° SEAT OR BONDE SEAL/JIC MALE 74° CONE
S1BM METRIG MALE DOUBLE USE FOR 60" SEAT OR BONDEDSEAL 5 B THREAD JF DIMENSIONS
PART NO. T1 T2 L1] L2] L | st
e R4 THREAD JU:F DIMENSIONS S1BJ-02-04 G1/8" X28 | 7/16" X20 10 | 14 | 30 | 14
ARG 1 12 I i S1BJ-04 G1/4"X19 | 7/16 " X20 12 | 14 [ 82 [ 19
S1BM-02-10 G1/8 ' X28 M10X1 0 | 8 | 25 | 14 S1BJ-04-05 | G1/4"X19 | 1/2"X20 12 | 14 | 32 | 19
S1BM-02-12 G1/8"X28 | M12X1.5 10 | 10 | 27 | 17 S1BJ—04-06 | G1/4"X19 | 9/16" X18 12 | 141 | 32 | 19
S1BM-04-12 G1/4"X19 | M12X1.5 12 | 10 | 29 | 19 S1BJ-06 G3/8"X19 | 9/16"X18 13.5 | 14.1 | 35.5 | 22
Sl e R e SR B R U T O S1BJ-06-04 | GB3/8"X19 | 7/16" X20 135 | 14 [ 355 22
E S1BM-04-16 | G1/4*X19 | M16X1.5 12 | 12 | 83 | 22 S1BJ-06-05 | G3/8"X19 | 7/16 " X20 135 | 14 | 355 22 E
S1BM-04-18 | G1/4°X19 | M18X1.5 Iz | e L ee |l S1BJ-06-08 | GB3/8"X19 | 3/4"X16 13.5 | 16.7 [ 38.5 | 22
S1BM-06-10 | G3/8°X19 | M10X1 13.5] 8 1295 22 S1BJ-06-10 | G3/8"X19 | 7/8" X14 13.5 | 19.3 [ 41 | 24
S1BM-06-12 G3/8"X19 | Mi2X1.5 135 | 10 | 315 | 22 S B SE0sA | G e 55 el @ | o
L S1BM-06-14 G3/8"X19 | M14X1.5 135 | 11 | 325 | 22 L S1BJ-08-04 | G1/2"x14 | 7/16 " x20 6 | 14 | 40 | 27
TR S1BM—06-16 G3/8"X19 | M16X1.5 135 | 12 | 335 | 22 u et . s | el | R0 6 T2 a0 | 27
. m . S1BM-06-18 G3/8"X19 | M18X1.5 135 | 12 | 34.5 | 24 B o S1BJ_08-06 | Gi/2"x14 | 9/16 " X18 6 1211 20 | 27
I : il S1BM-06-20 G3/8"X19 | M20X1.5 135 | 14 | 385 27 ikl & S1BJ-08-10 | G1/2"X14 | 7/8"X14 16 | 19.3 | 45.5 | 27
= | " S1BM-06-22 G3/8"X19 | M22X1.5 135 | 14 | 385 | 27 T = S1BJ—10 G5/ X14 | 7/8° x14 1751193 47 | 30
S1BM-08-14 G1/2"X14 | M14X1.5 16 | 11 | 38 | 27 S1BJ-10-08 | G5/8"X14 | 3/4"X16 17.5 | 16.7 | 44 | 30
s1 S1BM-08-16 Gi/2"X14 | M16X1.5 16 | 12 | 39 | 27 s/ S1BJ-10-12 | G5/8"X14 [1.1/16" X12 17.5 [ 21.9[ 49.5 | 30
S1BM-08-18 G1/2"X14 | M18X1.5 16 | 12 | 39 | 27 S1BJ-12 G3/4" X14 | 1.1/16 " X12 18.5 | 21.9 | 51.5 | 32
S1BM-08-20 G1/2" X14 | M20X1.5 16 | 14 | 41 | 27 S1BJ-12-06 | G3/4"X14 | 9/16"X18 18.5 | 14.1 | 43.5 | 32
S1BM-08-22 G1/2" X14 | M22X1.5 16 | 14 | 41 | 27 S1BJ-12-08 | G3/4"X14 | 3/4"X16 18.5 | 16.7 | 46.5 | 32
S1BM-08-24 G1/2"X14 | M24X1.5 16 | 14 | 41 | 30 S1BJ-12-10 | G3/4"X14 | 7/8"X14 18.5 | 19.3 | 49 | 32
S1BM-08-26 G1/2"X14 | M26X1.5 16 | 16 | 44 | 32 S1BJ-12-14 | G3/4"X14 | 1.3/16 " X12 185 | 22.6 | 52 | a2
S1BM-08-27D | G1/2"X14 | M27X1.5 16 | 16 | 44 | 32 S1BJ-12-16 | G3/4"X14 | 1.5/16 " X12 18.5 | 23.1 | 52.5 | 34
S1BM-08-30 G1/2" X14 | M30X1.5 16 | 18 | 45 | 36 S1BJ-16 G1"X11 |1.5/16"X12 20.5 | 231 | 57 | 41
= S1BM-10-22 G5/8"X14 | M22X1.5 175 | 14 | 42.5| 30 S1BJ-16-10 1 x11 | 7/8° x1a 205 193 | 53 | a1 %
&) S1BM-10-26 G5/8" X14 | M26X1.5 17.5| 16 | 455 | 32 S1BJ-16-12 G1"X11 | 1.1/16 " X12 20.5 | 21.9 | 55.5 | 41 |
S1BM-12-18 G3/4 " X14 | M18X1.5 18.5 | 12 | 425 | 32 S1BJ-16-14 G1"X11 |1.3/16"X12 20.5 | 22.6 | 56 | 41
S1BM-12-20 G3/4"X14 | M20X1.5 185 | 14 | 445 32 T, TERTREE B TG s | o || G
S1BM-12-22 G3/4 " X14 | M22X1.5 18.5 | 14 | 445 | 32 S1BJ-20 G1.1/4" X11| 1.5/8"X12 20.5 | 24.3| 62 | 50
S1BM-12-24 G3/4 " X14 | M24X1.5 18.5 | 14 | 445 ]| 32 S1BJ-20-12 | G1.1/4 " X11] 1.1/16 * X12 20.5 | 21.9 | 57.5 | 50
S1BM-12-26 G3/4 " X14 | M26X1.5 185 | 16 | 465 | 32 S1BJ-20-16 | G1.1/4"X11| 1.5/16 * X12 20.5 | 23.1 | 60.5 | 50
S1BM-12-27 G3/4" X14 M27X2 185 | 16 | 465 | 32 S1BJ—20-24 | G1.1/4" X11| 1.7/8" X12 205 | 27.5| 63 | 50
S1BM-12-27D | G3/4"X14 | M27X1.5 18.5| 16 | 46.5 | 32 S1BJ-24-16 | G1.1/2" X11| 1.5/16 " X12 23 | 23.1| 61 | 55
S1BM-12-30 | G3/4"X14 | M30X2 165 U8 | 47 o S1BJ-24-20 | G1.1/2"X11| 1.5/8" X12 23 [24.3]625] 55
S1BM—12-30D | G3/4"X14 | M30X1.5 185 | 18 | 47.5 | 36 S1BJ_24 G1.1/2°X11] 1.7/8 * X12 23 1275 6751 55
S1BM-16-14 G1 " X11 M14X1.5 205 | 11 | 455 | 41 S1BJ—24-32 | G1.1/2"X11| 2.1/2" X12 23 |339| 74 | 65
S1BM-16-22 G1 " X11 M22X1.5 205 | 14 |48.5| 41 S1BJ-32 G2"X11 | 2.1/2" X12 255 | 33.9 | 77.5 | 70
S1BJ—_32-24 G2"X11 | 1.7/8" x12 255 | 27.5| 70 | 70

177/ ZfR s &2

178/ =Ml A e 1



o ®
ADAPTER %l BSP And BSPT Thread Fitting Sa nn ke RS ADAPTER Jeilll - BSP And BSPT Thread Fitting S ann l €

00° THESMRLIO0° P AT A A BT H/E BIICHMBLTA SME e e e

2 B

S1BJ9 90° BSP MALE DOUBLE USE FOR 60° SEAT OR BONDE SEAL/JIC MALE 74° CONE S2BJ-WD BSP MALE CAPTIVE SEAL/JIC FEMALE 74° SEAT
R 124 THREAD S5} DIMENSIONS = 124 THREAD K~/ DIMENSIONS
T2 PART NO. T1 T2 L1 L2 S1 PART NO. T T2 L1 L S S2
S1BJ9-04 G1/4"X19 | 7/16"X20 2451 26.5| 14 S2BJ-02-04WD | G1/8"X28 | 7/16" X20 8 | 235 14 14
1 S1BJ9-04-05 G1/4" X19 1/2 " X20 23.5| 28 14 S2BJ-04-05WD | G1/4"X19 | 1/2"X20 12 | 285 19 | 17
L o S1BJ9-04-06 G1/4"X19 | 9/16"X18 245|269 | 14 S2BJ-04-06WD | G1/4"X19 | 9/16"X18 12 | 285| 19 | 19
S1BJ9-06 G3/8"X19 | 9/16"X18 27.5| 285 | 16 S2BJ-04-08WD | G1/4"X19 | 3/4"X16 12 | 305 | 19 | 24
4 NI L S1BJ9-06-08 G3/8°X19 | 3/4"X16 28.5| 32 | 19 S2BJ-04WD G1/4"X19 | 7/16" X20 12 | 28 | 19 | 14
[F— v, S1BJ9-08 G1/2"X14 | 3/4"X16 325| 35 | 22 S2BJ-06-08WD | G3/8"X19 | 3/4"X16 12 | 33 | 22 | 24
i \st S1BJ9-08-10 G1/2" X14 7/8 " X14 345 | 37.8 | 22 S2BJ-06WD G3/8" X19 9/16 " X18 12 31 22 19 E
S1BJ9-10 G5/8 " X14 7/8 " X14 32.7 | 38.1| 22 S2BJ-08-06WD | G1/2"X14 | 9/16"X18 14 [ 335 27 | 19
S1BJ9-12 G3/4"X14 | 1.1/16 " X12 37 | 442 | 27 S2BJ-08-10WD | G1/2"X14 | 7/8" X14 14 | 38 | 27 | 27
S1BJ9-16 G1"X11 | 1.5/16 " X12 46 | 49 | 33 S2BJ-08WD G1/2"X14 | 3/4"X16 14 | 375 27 | 24
S1BJ9-16-20 G1" X11 1.5/8 " X12 50.5 | 55.5 | 41 S2BJ-12-16WD | G3/4"X14 | 1.5/16" X12 16 | 425 | 32 | 41
S2BJ-12WD G3/4"X14 | 1.1/16 " X12 16 | 425| 32 | 32
S2BJ-16WD G1"X11 |1.5/16"X12 18 | 46.5 | 41 41
S2BJ-20-16WD | G1.1/4 " X11| 1.5/16 " X12 20 | 50.5| 50 | 41
S2BJ-20WD G1.1/4"X11| 1.5/8" X12 20 | 54.5| 50 | 50
S2BJ-24WD G1.1/2"X11| 1.7/8 " X12 22 |585]| 55 | 55
EEIMEL60° NESANAHEAASEZTH/ERICHELT74 K EEIMEL60° MY FRimE A EA BT H/E G AT IMEL
S2BJ BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/JIC FEMALE 74° SEAT S1BN BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/NPT MALE
%1 247 THREAD J\st DIMENSIONS KR 24 THREAD JisF DIMENSIONS
PART NO. T1 T2 L1 L S1 | s2 PART NO. T T2 L1 L2 L | st H
S2BJ-02-04 G1/8"X28 | 7/16" X20 10 | 24 | 14 | 15 S1BN-02 G1/8 " X28 NPT1/8 " X27 10 | 10.5| 26 | 14 )
S2BJ-02-06 G1/8"X28 | 9/16"X18 10 | 245 14 | 19 S1BN-02-04 G1/8 " X28 NPT1/4 " X18 10 | 15 | 31 17
S2BJ-04 G1/4"X19 | 7/16" X20 12 | 26 | 19 | 15 S1BN-04 G1/4 " X19 NPT1/4 " X18 12 | 15 | 33 | 19
L S2BJ-04-05 G1/4"X19 | 1/2"X20 12 | 26,5 | 19 | 17 PR = S1BN-04-02 G1/4 " X19 NPT1/8 " X27 12 | 105| 28 | 19
S2BJ-04-06 G1/4"X19 | 9/16"X18 12 | 27 | 19 | 19 = L2 S1BN-04-06 G1/4 " X19 NPT3/8 " X18 12 | 16 | 34 | 19
S2BJ-04-08 G1/4"X19 | 3/4"X16 12 | 29 | 19 | 24 - %77 S1BN-06 G3/8 " X19 NPT3/8 " X18 13.5| 16 | 37.5| 22
S2BJ-06 G3/8"X19 | 9/16"X18 13.5 | 30.5 | 22 | 19 = S1BN-06-04 G3/8 " X19 NPT1/4 " X18 135 | 15 | 36 | 22
S2BJ-06-08 G3/8"X19 | 8/4"X16 13.5 | 325 | 22 | 24 |L[ | l S1BN-06-08 G3/8 " X19 NPT1/2 " X14 13.5 | 19.5 | 41 22
S2BJ-06-10 G3/8"X19 | 7/8"X14 13.5| 33 | 22 | 27 . i S1BN-08 G1/2 " X14 NPT1/2 " X14 16 | 19.5 | 455 | 27
S2BJ-08 G1/2"X14 | 3/4"X16 16 | 37 | 27 | 24 3y N S1BN-08-06 G1/2 " X14 NPT3/8 " X18 16 | 16 | 42 | 27
S2BJ-08-06 G1/2"X14 | 9/16"X18 16 | 35 | 27 | 19 S1BN-08-12 G1/2 " X14 NPT3/4 " X14 16 | 19.5 | 45.5 | 30
S2BJ-08-10 G1/2"X14 | 7/8"X14 16 | 375 | 27 | 27 S1BN-12 G3/4 " X14 NPT3/4 " X14 18.5 | 19.5 | 49 | 32
S2BJ-10 G5/8"X14 | 7/8"X14 175|375 | 30 | 27 S1BN-12-08 G3/4 " X14 NPT1/2 " X14 18.5 | 19.5 | 49 | 32
S2BJ-12 G3/4"X14 | 1.1/16 " X12 18.5 | 42 | 32 | 32 S1BN-12-16 G3/4 " X14 NPT1 " X11.5 18.5 | 25,5 | 55 | 36
S2BJ-12-08 G3/4"X14 | 3/4"X16 18.5| 40 | 32 | 24 S1BN-16 G1" X11 NPT1 " X11.5 20.5 | 25.5| 59 | 41
S2BJ-12-10 G3/4"X14 | 7/8"X14 18.5 | 41 32 | 27 S1BN-16-12 G NPT3/4 " X14 20.5 | 19.5 | 53 | 41
S2BJ-12-16 G3/4"X14 | 1.5/16" X12 18.5 | 42 | 32 | 41 S1BN-20 G1.1/4 " X11 | NPT1.1/4 " X11.5 20.5|26.5| 62 | 50
S2BJ-16 G1"X11 | 1.5/16"X12 20.5 | 46 | 41 41 S1BN-20-16 G1.1/4 " X11 NPT1 " X11.5 20.5 | 25.5 | 61 50
S2BJ-16-20 G1" X11 1.5/8 " X12 20.5 | 50 | 41 50 S1BN-20-24 G1.1/4 " X11 | NPT1.1/2" X11.5 205 | 27.5] 63 | 50
S2BJ-20 G1.1/4" X11| 1.5/8" X12 205 | 52 | 50 | 50 S1BN-24 G1.1/2" X11 | NPT1.1/2" X11.5 23 | 27.5|655]| 55
S2BJ-20-24 | G1.1/4"X11| 1.7/8" X12 20.5 | 53.5| 50 | 55 S1BN-24-20 G1.1/2" X11 | NPT1.1/4 " X11.5 23 | 26.5|64.5]| 55
S2BJ-24 G1.1/2"X11| 1.7/8" Xx12 23 [ 56.5| 55 | 55 S1BN-24-32 G1.1/2 " X11 NPT2 " X11.5 23 | 27.5]|675]| 65
S2BJ-32 G2 " X11 2.1/2" X12 255| 60 | 70 | 75 S1BN-32 G2 " X11 NPT2 " X11.5 255 |275] 70 | 70
S1BN-32-20 G2"X11 | NPT1.1/4" X115 255 | 26.5| 69 | 70
S1BN-32-24 G2 " X11 NPT1.1/2 " X11.5 255|275 70 | 70

179/ =M &E s+

180/ =M A A E =



® ®
Y BSP And BSPT Thread Fitting Sa nn ke o) g2 H  BSP And BSPT Thread Fitting Sa nn ke

ADAPTER ADAPTER

90° THREIMEL60° M HE /N A A H & B3 H/EF A EE ML 90° B HEEIMELUEE NIRL60° ShiE

2 B

S1BN9 90° BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/NPT MALE S2NB9 90° NPT MALE/BSP FEMALE 60° CONE
R 1240 THREAD R~} DIMENSIONS - 5 124; THREAD JR-] DIMENSIONS
_ PART NO. T1 T2 L1 L2 | s1 T PART NO. T1 T2 L1 | S1 S2
N S1BN9-04 G1/4"X19 |[NPT1/4"X18 245|255 | 14 S2NB9-02 NPT1/8 " X27 G1/8 " X28 21 11 14
_é = S1BN9-04-02 | G1/4"X19 |NPT1/8"X27 245 | 235 | 14 S2NB9-04 NPT1/4" X18 G1/4" X19 255 | 14 | 19
il s |_|_ S1BN9-06 G3/8" X19 |NPT3/8" X18 285 | 31 16 T : S2NB9-04-06 NPT1/4 " X18 G3/8" X19 255 | 14 | 22
I | ——, S1BN9-06-04 | GB3/8"X19 |NPT1/4"X18 275|265 | 16 S2NB9-06 NPT3/8 " X18 G3/8 " X19 31 | 16 | 22
L ME S1BN9-06-08 | G3/8"X19 |[NPT1/2"X14 31 | 36.5 | 22 | 5 S2NB9-06-04 NPT3/8 " X18 G1/4" X19 31 16 | 19
S1BN9-06-12 G3/8"X19 |NPT3/4"X14 345 | 44 27 ! S2NB-06-08 NPT3/8 " X18 G1/2" X14 31 19 | 27
\ st
S1BN9-08 G1/2" X14 |NPT1/2"X14 345 | 37.5 | 22 | S2NB9-08 NPT1/2" X14 G1/2" X14 37.3| 22 | 27 E
S1BN9-08-06 | G1/2"X14 |[NPT3/8"X18 345 | 33 22 S2NB9-08-06 NPT1/2" X14 G3/8 " X19 36.7 | 22 | 22
S1BN9-12 G3/4" X14 |NPT3/4"X14 38 | 435 | 27 S2NB9-12 NPT3/4 " X14 G3/4" X14 435| 27 | 32
S1BN9-12-08 | GB3/4"X14 |NPT1/2"X14 39 | 40 27 S2NB9-12-08 NPT3/4 " X14 G1/2" X14 45 | 27 | 27
S1BN9-12-16 | G3/4"X14 |[NPT1"X11.5 43 | 50 33 S2NB9-12-16 NPT3/4" X14 G1" X11 45 30 | 41
S1BN9-16 G1"X11 |NPT1"X11.5 46 | 50 33 S2NB9-16 NPT1" X11.5 G1" X11 50 33 | 41
S1BN9-16-12 G1"X11 |[NPT3/4" X14 46 | 46.5 | 33 S2NB9-16-12 NPT1" X11.5 G3/4 " X14 50 33 32
S2NB9-20 NPT1.1/4 " X11.5 | G1.1/4 " X11 545 | 41 50
S2NB9-24 NPT1.1/2" X11.5 | G1.1/2 " X11 59 | 48 | 55
S2NB9-32 NPT2" X11.5 G2 " X11 735 | 63 | 70
+ A5 Bl e o A\ & TS IME LT/ S “I60° S T
S2NB pr ﬁféjsﬂigﬁaﬂ%i@céﬁ S2TB-SP BSPT1 nﬁﬁé/lé%gﬁﬁﬂ%z%éocéﬁ :J
5 1240 THREAD JsF DIMENSIONS 5 124 THREAD JUs DIMENSIONS
. PART NO. T1 T2 L1 L | sq ) PART NO. T1 T2 L1 L | s1 | s2
Lt S2NB-02 NPT1/8"X27 | G1/8" X28 10.5 | 25.5 | 12 14 S2TB-02SP R1/8 " X28 | G1/8" X28 10 | 25 12 | 14
S2NB-02-04 NPT1/8"X27 | G1/4" X19 10.5 | 27 14 19 S2TB-04SP R1/4"X19 | G1/4"X19 14.5| 31.5 | 17 19
S2NB-04 NPT1/4"X18 | G1/4" X19 15 | 31 17 19 S2TB-06SP R3/8"X19 | G3/8"X19 15 | 33 19 | 22
T V-t S2NB-04-06 | NPT1/4'X18 | G3/8" X19 15 | 325 | 17 | 22 S2TB-06-04SP | R3/8"X19 | G1/4"X19 L0 e - /()
; S2NB-04-08 NPT1/4"X18 | G1/2" X14 15 | 35 19 | 27 S2TB-06-08SP | R3/8"X19 | G1/2" X14 15 | 35 19 | 27
s b ) e S2NB-06 NPT3/8" X18 | G3/8" X19 16 [ 335 | 19 | 22 S2TB-08SP R1/2"X14 | G1/2"X14 20 | 42 | 22 | 27
S2NB-06-08 NPT3/8"X18 | G1/2" X14 16 | 36 19 | 27 S2TB-08-06SP | R1/2"X14 | G3/8"X19 20 | 40 | 22 | 22
S2NB-08 NPT1/2"X14 | G1/2" X14 195 | 41 20 | o7 S2TB-08-12SP | R1/2"X14 | G3/4" X14 20 | 45 | 27 | 32
S2NB-08-06 NPT1/2"X14 | G3/8" X19 19.5 [ 39.5 | 24 | 22 S2TB-12SP R3/4" X14 | G3/4"X14 20 | 45 | 30 | 32
S2NB-08-12 NPT1/2" X14 | G3/4" X14 19.5 | 445 | 27 | 32 $2TB-12-08SP | R3/4"X14 | G1/2"X14 20 | 44 | 30 | 27
S2NB-12 NPT3/4"X14 | G3/4" X14 19.5 | 445 | 30 32 82TB-12-16SP | R3/4"X14 G1" X11 20 | 47 32 41
S2NB-12-16 NPT3/4 " X14 G1"X11 195 | 46.5 | 32 | 41 S2TB-16SP R1" X11 G1" X11 25.5| 52.5 | 36 | 41
S2NB-16 NPT1 " X11.5 G1 " X11 255 | 52.5 | 36 | 41 S2TB-16-12SP R1" X11 G3/4" X14 255 51.5| 36 | 32
S2NB-16-20 NPT1"X11.5 |G1.1/4" X11 255 | 59.5 | 41 50 S2TB-20-16SP | R1.1/4"X11| G1" XiH 26.5| 55.5 | 46 | 41
S2NB-20 NPT1.1/4 " X11.5/G1.1/4 " X11 26.5 | 60.4 | 46 50 S2TB-20SP R1.1/4 " X11| G1.1/4 " X11 26.5| 59 46 50
S2NB-24 NPT1.1/2 " X11.5|G1.1/2 " X11 275 | 62 50 | 55 S2TB-24SP R1.1/2" X11| G1.1/2 " X11 26.5| 61.5| 50 | 55
S2NB-32 NPT2" X11.5 G2 " X11 27.5| 65.4| 65 | 70 S2TB-32SP R2 " X11 G2 " X11 30 | 68 | 65 | 70

181/ =t A EE s

182/ =t A e s



®

E;_____1 ®
3%l BSP And BSPT Thread Fitting Sa nn | (e ok 1 si61_Bsp and ssPT Thvead iting D ATNMNKE

ADAPTER ADAPTER

00° & 348 HMBLUR BN BLO0° Shik E/BSP FEMALE/BSP MALE BRANGH TEE

2 B

$2TB9-SP 90° BSPT MALE/BSP FEMALE 80° CONE SBB BSP MALE/BSP FEMALE/BSP MALE BRANCH TEE
RE #24; THREAD Jis} DIMENSIONS o 24 THREAD R~} DIMENSIONS
. T2 PART NO. T1 T2 L1| s1 ] s2 oy PART NO. T1 T2 T3 L1] L2 [ 3] s1] s2
S2TB9-02SP R1/8"X28 | G1/8" X28 21 | 11 14 YR SBB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 | 19.8 | 19.8 | 17.9 | 11 | 14
s S2TB9-04SP R1/4"X19 | G1/4"X19 255 | 14 | 19 A SBB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 | 245 | 245 | 25.7 | 14 | 19
= : S2TB9-06SP R3/8"X19 | G3/8"X19 28.5 | 16 | 22 ] q SBB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5 | 27.5 | 29.6 | 16 | 22
S2TB9-06-08SP | R3/8"X19 | G1/2" X14 31 | 19 | 27 e SBB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5 | 345 | 33.8 | 22 | 27
S2TB9-08-06SP | R1/2"X14 | G3/8" X19 36 | 22 | 22 = SBB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 | 35 | 35 | 321 | 22 | 30
S2TB9-08SP R1/2"X14 | G1/2"X14 36 | 22 | 27 SBB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 40 | 36.3 | 27 | 32
S2TB9-08-12SP | R1/2"X14 | G3/4"X14 37 | 24 | 32 SBB-16 G1" X11 G1" X11 G1" X11 46 | 46 | 42.7 | 33 | 41 E
S2TB9-12-08SP | R3/4"X14 | G1/2"X14 435 | 27 | 27 SBB-20 G1.1/4"X11| G1.1/4" X11| G1.1/4" X11| 50.5 | 50.5 | 49.5 | 41 | 50
S2TB9-12SP R3/4"X14 | G3/4'X14 435 | 27 | 32
S2TB9-16SP R1 " X11 G1"X11 50 | 33 | 41
S2TB9-20SP R1.1/4 " X11| G1.1/4 " X11 58 | 41 | 50
S2TB9-24SP R1.1/2"X11| G1.1/2 " X11 62.5 | 48 | 55
FEHEIMNEL60° NHEEEEIMEL 60° SEEFT=E
SCB BSP MALE 60° SEAT/BSP FEMALE 60° CONE RUN TEE
e #24r THREAD <} DIMENSIONS
Ta PART NO. T T2 T3 L1 ] t1] 3] s1[ s2
' SCB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 | 19.8 | 19.8 | 17.9 | 11 | 14
SCB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 | 245 | 245 | 25.7 | 14 | 19
SCB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5 | 27.5 | 29.6 | 16 | 22
SAB Bs%ﬁﬁ%%go;gﬁ%% = 4- SCB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5 | 34.5 | 33.8 | 22 | 27
SCB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 | 35 | 35 | 321 | 22 | 30
5 SR4L THREAD SO DIMENSIONS SCB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 40 [36.3] 27 | 32 -
n PART NO. T1 T2 T3 L1 | L2 | L3 ] St SCB-16 G1"X11 G1 " X11 G1"X11 46 | 46 | 427 33 | 41 ®=
| SAB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 | 19.8 | 19.8 | 19.8 | 11 SCB-20 G1.1/4 " X11| G1.1/4"X11| G1.1/4 " X11| 50.5 | 50.5 | 49.5 | 41 | 50 o
; SAB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 | 24.5 | 24.5 | 245 | 14
[ e SAB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5| 27.5| 27.5 | 16
_:'_'_'",_LT' g SAB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5 | 345 | 34.5 | 22
£, SAB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 | 35 | 35 | 35 | 22
u = SAB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 40 | 40 | 27
SAB-16 G1" X11 G1" X11 G1" X11 46 | 46 | 46 | 33
SAB-20 G1.1/4"X11 | G1.1/4"X11| G1.1/4 " X11| 50.5 | 50.5 | 50.5 | 41
SAB-24 G1.1/2"X11 | G1.1/2" X11| G1.1/2"X11| 57.5 | 57.5 | 57.5 | 48 THESMBEL60° HHE/EEIMELOR B WA EiEmES =18
SABBG-0G BSP MALE 60° SEAT/BSP MALE O—RING ADJUSTABLE STUD END RUN TEE
RE #24r THREAD -} DIMENSIONS
= PART NO. T1 T2 T3 L1 L2 L3 | S1 S2
| [sABBG-040G G1/4"X19 | G1/4"X19 | G1/4"X19 | 24.5 | 245 | 31.3 | 14 | 19
. 7i SABBG-04-04-060G| G1/4"X19 | G1/4"X19 | G3/8"X19 | 26.5 | 26.5 | 35.5 | 16 | 22
B T || [SABBG-060G G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5 | 27.5 | 35.8 | 16 | 22
. :[B]D— SABBG-06-06-080G| G3/8"X19 | G3/8"X19 | G1/2"X14 | 31 | 31 | 43 | 22 | 27
L« | ™= ] SABBG-080G G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5 | 345 | 432 | 22 | 27
SABBG-120G G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 40 | 49.3 | 27 | 32
SABBG-160G G1" X11 G1" X11 G1" X11 46 | 46 | 53 | 33 | 41

183/ = E =

184/ = MR &1



®

®
ADAPTER Sl BSP And BSPT Thread Fitting Sannke HER)  ADAPTER Yl BSP And BSPT Thread Fitting Sannke

90° 5 B HfE A A IR SL60° A AfE

FEHSMELI60° K/ EIMEGOR B RIA MRS Z =8 S1T9-SP 90° ELBOW BSPT MALE 60° SEAT
SABGB-0G BSP MALE 60° SEAT/BSP MALE O—RING ADJUSTABLE STUD END BRANCH TEE —
— T 1220 THREAD oI DIMENSIONS R 240 THREAD J&I DIMENSIONS
! PART NO. T1 T2 T3 L1 L2 L3 | St S2 2= f ' PARTNO. L 12 L1 L2 St
2 . - - - S1T9-02SP R1/8 " X28 | R1/8" X28 21 21 11
SABGB-040G G1/4"X19 | G1/4"X19 | G1/4"X19 | 245 | 31.8 | 245 | 14 19
3 n — S1T9-02-04SP | R1/8"X28 | R1/4" X19 235 | 255 | 14
. SABGB-06-04-060G| G3/8"X19 | G1/4"X19 | G3/8"X19 | 27.5 | 33.5 | 27.5 | 16 19 —|- S1T9-04SP R1/4" X19 | R1/4" X19 055 255 12
el | il SABGB-060G G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5|36.8 |275| 16 | 22 Y= S e | LA | FEh0c 265 2851 16
SABGB-08-06-080G| G1/2"X14 | G3/8"X19 | G1/2"X14 | 345|395 | 345 | 22 | 22 i/ S1T9-065P R3/8° X19 | R3/8" X19 285 285 16
e s SABGB-080G G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5 | 43.2 | 345 | 22 | 27 1 's1 - - ; -
E SABGB-12-08-120G| G3/4"X14 | G1/2"X14 | G3/4"X14 | 40 | 46.5| 40 | 27 | 27 "] 2113:82;283'9 2?;2 - §1i 2:;2 - ilj 3: 36 2;
SABGB-120G G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 49.3 | 40 | 27 | 32 S e | AD s || ERi D 395 [235 ] 27 E
SA?GB{GOG‘,» —— 91 ",X”,‘ - G1 X1 G1 7 X1 46 53 46 | 83 | # S1T9-12SP R3/4 " X14 | R3/4"X14 435 | 435 | 27
AR S S 5 “DQ” , W SABGB-120G DQ, = =
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after S1T9-12-16SP | R3/4 " X14 R1" X11 48 50 33
our Part No, for example SABGB-120GDAQ. S1T9-16SP R1" X11 R1 " X11 50 50 33
S1T9-16-20SP R1"X11 | R1.1/4" X11 56.5 | 57.5 | 41
S1T9-20SP R1.1/4" X11 | R1.1/4 " X11 57.5 | 57.5 | 41
" L S1T9-24SP R1.1/2" X11 | R1.1/2 " X11 62.5 | 62.5 | 48
S9B BSpT FEﬁf'IJ_VE‘] *fb?%%@%ﬁé S1T9-32SP R2 " X11 R2 " X11 68 | 75 | 63
L =) y S
PA4RJETH—NO, T%M THREAD - )EL DIMENSIONS S4T_SP AR AR L0600 Py HE S Sk
BSPT MALE 60° SEAT PLUG
% S9B-02 G1/8 " X28 11.5 | 14
B Tdir S9B-04 G1/4 " X19 13.5 | 19 L RE #2247 THREAD Ji~) DIMENSIONS
= S9B-06 G3/8 " X19 145 | 22 = PART NO. T L L1 S1
al S9B-08 G1/2 " X14 16 27 S4T-02SP R1/8'X28 16 10 12
o S9B-10 G5/8 " X14 16.5 | 30 S4T-04SP R1/4 " X19 20 | 14.5| 14
S9B-12 G3/4 " X14 17.5 | 32 S4T-06SP R3/8 " X19 21 15 17
. S9B-16 G1" X11 19 49 S4T-08SP R1/2 " X14 27 20 22 .
* S9B-20 G1.1/4 " X11 215 | 50 S4T-12SP R3/4 " X14 29 20 27 e
1| S9B-24 G1.1/2 " X11 22 | 55 S4T-16SP R1" X11 36.5 | 25.5 | 36 i
S4T-20SP R1.1/4 " X11 38.5 | 26.5 | 46
S4T-24SP R1.1/2 " X11 42 | 26.5| 50
S4T-32SP R2X11 47 30 65
s e X
S1T-SP é%s@gﬁ nﬁtﬁ? 660(1 slg/iET
5 124 THREAD JN~) DIMENSIONS
PART NO. T1 T2 L1 L2 L S1 L AR SO P /MR A IR 4L
S1T-02SP R1/8"X28 | R1/8" X28 0 1 10 | 26 | 12 S5GT BSP MALE O—RING/BSPT FEMALE
- S1T-02-04SP | R1/8"X28 | R1/4"X19 10 | 14.5 | 30.5 | 14 AN S 5 R4 THREAD JU:] DIMENSIONS
S1T-04SP R1/4"X19 | R1/4"X19 145 | 145 | 34 14 =4 PART NO. T1 T2 L1 L2 S
S1T-04-06SP R1/4"X19 | R3/8"X19 14.5 | 15 35 17 S5GT-02 G1/8"X28 | Rc1/8" X28 9.5 | 26 14
S1T-06SP R3/8"X19 | R3/8"X19 15 15 36 19 - S5GT-04 G1/4"X19 | Rel1/4" X19 10 32 19
S1T-06-08SP R3/8"X19 | R1/2"X14 15 20 43 22 S5GT-06 G3/8"X19 | Rc3/8" X19 115 | 37 22
S1T-08SP R1/2"X14 | R1/2"X14 20 20 46 22 F . S5GT-08-06 G1/2"X14 | Rc3/8" X19 14 38 27
S1T-08-12SP R1/2" X14 | R3/4"X14 20 20 48 27 e S5GT-08 G1/2"X14 | Re1/2" X14 14 46 27
S1T-12SP R3/4"X14 | R3/4"X14 20 20 48 27 T S5GT-12 G3/4"X14 | Rc3/4" X14 15.5 | 49.5 | 36
S1T-12-16SP R3/4 " X14 R1" X11 20 | 25.5|55.5| 36 74 —— K S5GT-16 G1"X11 Rc1 " X11 18 52 41
S1T-16SP R1"X11 R1"X11 25.5 | 25.5 | 61 36 o - T T I P AR S I “DQ” , WS5GT-16DQ,
S1T-16-20SP R1" X11 R1.1/4 " X11 255 | 26.5 | 64.5 46 Sy Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
S1T-20SP R1.1/4 " X11| R1.1/4 " X11 26.5 | 26.5 | 65.5 | 46 our Part No, for example S5GT-16DQ.
S1T-20-24SP | R1.1/4" X11| R1.1/2 " X11 26.5 | 26.5 | 67 50
S1T-24SP R1.1/2" X11 | R1.1/2 " X11 26.5 | 26.5 | 67 50
S1T-24-32SP | R1.1/2"X11| R2"X11 26.5| 30 | 71.5| 65
S1T-32SP R2 " X11 R2 " X11 30 30 75 65

185/ AR 186/ ST

























































































ADAPTER

3l BSP And BSPT Thread Fitting Sa nn ke

®

:\d:

v,

I 45

ADAPTER

Yl BSP And BSPT Thread Fitting S a n n I(e

THE T SMIRAI60° A HE/ JEHERT N IR AL

S5T-SP BSPT MALE 60° SEAT/BSPT FEMALE
R 124; THREAD JR~ DIMENSIONS
PART NO. T T2 L1 L St
S5T-02-04SP | R1/8"X28 | Rc1/4" X19 11 | 32.5| 19
S5T—04-02SP | R1/4"X19 | Rc1/8" X28 145 | 205 | 14
S5T-04SP R1/4"X19 | Rc1/4" X19 145 | 36 | 19
S5T—04-06SP | R1/4"X19 | Rc3/8" X19 145 | 38 | 22
p—= S5T-06-04SP | R3/8"X19 | Rc1/4"X19 15 | 23 | 19
1 S5T—-06SP R3/8"X19 | Rc3/8" X19 15 | 38.5 | 22
E ﬂ% S5T—06-08SP | R3/8"X19 | Rcl1/2" X14 15 | 44 | 27
! — -4 S5T—08-04SP | R1/2"X14 | Rc1/4"X19 20 | 30 | 24
e S5T-08-06SP | R1/2"X14 | Rc3/8" X19 20 | 30 | 24
Y, j— S5T-08SP R1/2"X14 | Rc1/2" X14 20 | 49 | 27
S5T—08-12SP | R1/2"X14 | Rc3/4" X14 20 | 51 | 36
S5T—12-06SP | R3/4"X14 | Rc3/8" X19 20 | 31 | 30
S5T—12-08SP | R3/4"X14 | Rc1/2" X14 20 | 31 | 30
S5T—-12SP R3/4 " X14 | Rc3/4 " X14 20 | 51 | 36
S5T-12-16SP | R3/4"X14 | Rcl " X11 20 | 56.5 | 41
S5T—16-08SP R1"X11 | Rc1/2"X14 255 | 37 | 36
S5T—16-12SP R1"X11 | Rc3/4"X14 255 | 37 | 36
S5T-16SP R1 " X11 Rcl " X11 255 | 60 | 41
S5T-16-20SP R1"X11 |Rc1.1/4 " X11 255 | 64 | 50
N S5T—20-12SP | R1.1/4" X11| Rc3/4 " X14 26.5| 38 | 46
A N S5T-20-16SP | R1.1/4"X11| Rc1 " X11 26.5| 38 | 46
S5T-20SP R1.1/4 " X11 |Rc1.1/4 " X11 26.5 | 64.5 | 50
S5T-24-16SP | R1.1/2"X11| Rec1 " X11 26.5| 41 | 50
" S5T—24-20SP | R1.1/2 " X11 |Rc1.1/4 " X11 26.5| 41 | 50
=R S5T-32-20SP R2"X11 |Rc1.1/4" X11 30 | 45 | 65
& S5T_32-24SP R2"X11 |Rc1.1/2" X11 30 | 45 | 65
90° 75 LMl HMIBE 4600 P HE/ Ak N I 4L
S5T9-SP 90° ELBOW BSPT MALE 60° SEAT/BSPT FEMALE
re 2. THREAD J<} DIMENSIONS
PART NO. T1 T2 L1 | L2 | st
S5T9-02SP R1/8 " X28 | Rc1/8 " X28 245| 23 | 16
S5T9-04SP R1/4 " X19 | Rc1/4"X19 285 | 25 | 19
S5T9-06SP R3/8 " X19 | Rc3/8 " X19 335| 25 | 24
S5T9-08SP R1/2"X14 | Rc1/2" X14 40.8 | 31.5 | 30
S5T9-12SP R3/4 " X14 | Rc3/4 " X14 475| 37 | 33
S5T9-16SP R1 " X11 Rcl " X11 56.5 | 43 | 41
S5T9-20SP | R1.1/4 " X11|Rc1.1/4 " X11 61 | 50 | 48
S5T9-24SP | R1.1/2" X11|Rc1.1/2 " X11 75 | 55 | 63

187/ =M A e f 1

S7T

{TE

A PN IR 4L
BSPT FEMALE
R 122r THREAD Ji~} DIMENSIONS
PART NO. T T2 L S
S7T-02 Rc1/8 " X28 | Rc1/8" X28 20 14
S7T-02-04 Rc1/8 " X28 | Rc1/4" X19 30 19
S7T-04 Rc1/4 " X19 | Rc1/4" X19 30 19
S7T-04-06 Rc1/4 " X19 | Rc3/8" X19 30 22
S7T-04-08 Rc1/4" X19 | Rci/2" X14 40 27
S7T-06 Rc3/8 " X19 | Rc3/8" X19 30 22
S7T-06-08 Rc3/8 " X19 | Rc1/2" X14 40 27
S7T-06-12 Rc3/8 " X19 | Rc3/4 " X14 37 36
S7T-08 Rc1/2 " X14 | Rci/2" X14 40 27
S7T-08-12 Rc1/2 " X14 | Rc3/4 " X14 42 36
S7T-12 Rc3/4 " X14 | Rc3/4" X14 42 36
S7T-12-16 Rc3/4 " X14 | Rel " X11 50 41
S7T-16 Rel " X11 Rcl " X11 50 41
S7T-16-20 Rc1 " X11 | Re1.1/4 " X11 52 50
S7T-20 Rc1.1/4 " X11| Re1.1/4 " X11 55 50
S7T-24 Rc1.1/2 " X11| Re1.1/2 " X11 55 55
S7T-32 Rc2 " X11 Rc2 " X11 65 70
90° T HEE NIELL
90° BSPT FEMALE
R 1227 THREAD J{~) DIMENSIONS
PART NO. T1 T2 L1 L2 S1
S7T9-02 Rc1/8 " X28 | Rc1/8 " X28 20 20 16
S7T9-04 Rc1/4 " X19 | Rc1/4" X19 225|225 | 19
S7T9-06 Rc3/8 " X19 | Rc3/8 " X19 26 26 24
S7T9-08 Rc1/2 " X14 | Re1/2 " X14 31 31 27
S7T9-12 Rc3/4 " X14 | Rc3/4" X14 34 34 33
S7T9-16 Rec1 " X11 Rec1 " X11 42 42 41
S7T9-20 Rc1.1/4 " X11|Rc1.1/4 " X11 48 48 50
S7T9-24 Rci1.1/2 " X11|Rc1.1/2 " X11 53 53 60
S7T9-32 Rc2 " X11 Rc2 " X11 62 62 70
HEBTHNBY =R
BSPT FEMALE TEE
= 122r THREAD Ji~) DIMENSIONS
PART NO. T1 T2 T3 L1 L2 L3 S1
SGT-02 Rc1/8 " X28 | Rc1/8" X28| Rc1/8" X28 | 20 20 20 16
SGT-04 Rc1/4"X19 | Rc1/4"X19| Rc1/4"X19 | 22.5 | 22.5 | 22.5 | 19
SGT-06 Rc3/8" X19 | Rc3/8"X19| Rc3/8"X19 | 26 26 26 24
SGT-08 Rc1/2 " X14 | Rci/2"X14| Rc1/2" X14 | 31 31 31 27
SGT-12 Rc3/4 " X14 | Rc3/4" X14| Rc3/4" X14 | 34 34 34 33
SGT-16 Rc1 " X11 Rc1 " X11 Rec1 " X11 42 42 42 41
SGT-20 Rc1.1/4 " X11| Rc1.1/4 " X11Rc1.1/4 " X11| 48 48 48 50
SGT-24 Rc1.1/2 " X11| Re1.1/2 " X114 Re1.1/2 " X11| 53 53 53 60
SGT-32 Rc2 " X11 Rc2 " X11 Rc2 " X11 62 62 62 70

188/ =t iR

# OB



ADAPTER

¥l BSP And BSPT Thread Fitting Sa nn ke

®

ADAPTER

®
¥l BSP And BSPT Thread Fitting S a n n |(e

gy e N
SZT BSPT ?ﬁni&miggs%
RE 1240 THREAD R~} DIMENSIONS
PART NO. TH1 T2 T3 T4 L1,L2,L3,L4| Si
SZT-02 Rc1/8 " X28 | Rc1/8 " X28 | Rc1/8" X28 | Rc1/8 " X28 20 16
SZT-04 Rc1/4 " X19 | Rc1/4 " X19 | Rc1/4 " X19 | Rec1/4 " X19 22.5 19
SZT-06 Rc3/8 " X19 | Rc3/8" X19 | Rc3/8 " X19 | Rc3/8 " X19 26 24
SZT-08 Rc1/2" X14 | Rc1/2" X14 | Rc1/2" X14 | Rc1/2 " X14 31 27
SZT-12 Rc3/4 " X14 | Rc3/4 " X14 | Rc3/4 " X14 | Rc3/4 " X14 34 33
SZT-16 Rc1 " X11 Rc1 " X11 Rc1 " X11 Rc1 " X11 42 41
E SZT-20 Rc1.1/4 " X11| Rc1.1/4 " X11| Rc1.1/4 " X11|Rc1.1/4 " X11 48 50
e SR SO P 3 Sk
S4G BSP MALE O-RING PLUG
R 1240 THREAD JUsI DIMENSIONS
PART NO. T1 L1 L S1
**Lj S4G-04 G1/4" X19 11 19 19
S4G-06 G3/8 " X19 11.5 | 22 22
= S4G-08 G1/2" X14 14 27 27
S4G-12 G3/4 " X14 15.5 | 29.5 32
1 S4G-16 G1"X11 18 34 41
= VEA RIS S I “DQ”, WIS4G-16DQ.
Note: If youinterested to order the adapter with retainer ring,please insert suffix"DQ" after
| our Part No, for example S4G-16DQ.

S4B

L1

JEE SR E60° Py HE BN A I 1 A £ B B b Sk
BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL PLUG

5 1540 THREAD JUs DIMENSIONS
PART NO. T1 L L1 S1
S4B-02 G1/8 " X28 16 10 14
S4B-04 G1/4 " X19 18 12 19
S4B-06 G3/8 " X19 215 | 13.5 | 22
S4B-08 G1/2" X14 26 16 27
S4B-10 G5/8 " X14 27.5 | 17.5| 30

189/ =Fl iR E =

T1

S4B-WD

Ll

s1

S4BN-WD

REMNEG A RFBHASEEH N RAE L
BSP MALE DOUBLE USE FOR BONDED SEAL INTERNAL HEX PLUG

5 1240 THREAD Jis DIMENSIONS
PART NO. T L L1 S1
S4BN-02 G1/8 " X28 11 8 5
S4BN-04 G1/4 " X19 15 12 6
S4BN-06 G3/8 " X19 15 12 8
S4BN-08 G1/2" X14 18 14 | 10
S4BN-12 G3/4" X14 20 16 12
S4BN-16 G1" X11 21 16 | 17
YL S B L s I Sk
BSP MALE CAPTIVE SEAL PLUG
R 124r THREAD JN~} DIMENSIONS
PART NO. T L L1 S1
S4B-02WD G1/8 " X28 155| 8 14
S4B-04WD G1/4" X19 19.6 | 12 19
S4B-06WD G3/8 " X19 225| 12 | 22
S4B-08WD G1/2 " X14 25 14 | 27
S4B-12WD G3/4 " X14 29 16 | 32
S4B-16WD G1" X11 35 18 | 41
S4B-20WD G1.1/4 " X11 37 | 20 | 50
S4B-24WD G1.1/2 " X11 40 | 22 | 55
A A B L B L N Sk
BSP MALE CAPTIVE SEAL INTERNAL HEX PLUG
5 124 THREAD Ji~) DIMENSIONS
PART NO. T1 L L1 S1
S4BN-02WD G1/8 " X28 122 8 5
S4BN-04WD G1/4 " X19 17.2 | 12 6
S4BN-06WD G3/8 " X19 17.2 | 12 8
S4BN-08WD G1/2 " X14 19.2 | 14 10
S4BN-12WD G3/4 " X14 21.2 | 16 12
S4BN-16WD G1" X11 228 | 16 17
S4BN-20WD [G1.1/4" X11 26.8| 20 | 22
S4BN-24WD | G1.1/2 " X11 28.8 | 22 | 24

190/ =f i s& 1

# OB



®

;. ADAPTER % JicORFSSAE NPT AND NPSM Thread Fitting Sannke RLJE#EK ADAPTER S JiCORFSSAE NPT AND NPSM Thread Fiting Sannke

®

FHIICHMREL74° HIME 90° #EMIJICHMRL74° HME
S1J JIC MALE 74° CONE S1J9 90° ELBOW JIC MALE 74° CONE
R i24; THREAD JF DIMENSIONS [ & | iy A rRe 240 THREAD Jf DIMENSIONS [ & [ ey
PART NO. T1 T2 L1 |2 3]st ]| g |Mpa - PART NO. Ti T2 1] L2 S1]| 9 |Mpa
S1J-04 716" X20 | 7/16 " X20 14 | 14 | 34 | 12 | 23 S1J9-04 7/16" X20 | 7/16 " X20 23 | 23 11 | 27
S1J-04-05 7/16" X20 | 1/2" X20 14 | 14 | 34 | 14 | 26 |345 $1J9-05 1/2"X20 | 1/2"X20 24.5| 245 14 | 35 |345
S1J-04-06 7/16 " X20 | 9/16" X18 14 [141] 36 | 17 | 35 S1J9-06 9/16" X18 | 9/16" X18 26.9 | 26.9 14 | 46
S1J-04-08 716" X20 | 3/4 " X16 14 [16.7[385] 22 | 60 | 31 S1J9-08 3/4"X16 | 3/4"X16 32 | 32 19 | 100 | 31
L S1J-05 1/2"X20 | 1/2"X20 14 | 14 13481 14 | 29 [ $1J9-10 7/8"X14 | 7/8"X14 37.8 | 37.8 22 [ 146 |
E LYy eu S1J-05-06 12" X20 | 9/16" X18 14 [141] 34 | 17 [ 85 |7 S1J9-12 1116 " X12 [ 1146 " X12 442 | 442 27 | 246 E
e reen S1J-05-08 12"X20 | 3/4"X16 14 [16.7]385]| 22 | 63 | 31 S1J9-14 1.3/16 " X12 | 1.3/16 " X12 475 | 475 30 | 361 [ 31
B - " S1J-06 9/16 " X18 | 9/16" X18 141|141 [342] 17 | 85 [345 S1J9-16 1.5/16 " X12 | 1.5/16 " X12 46 | 46 33 | 363 | 21
TUW - $1J-06-08 9/16" X18 | 34" X16 14.1]16.7 | 38.5 | 22 | 62 | 31 $1J9-20 158" X12 | 15/8" X12 555 | 555 41 | 363 | 17
b S1J-06-10 916" X18 | 7/8" X14 141193415 24 | 81 | 24 S1J9-24 1.7/8" X12 | 1.7/8" X12 62.5 | 62.5 48 | 863 | 14
S1J-08 3/4"X16 | 3/4"X16 16.7|16.7| 42 | 22 | 78 | 31 S1J9-32 21/2" X12 | 2.1/2" X12 78 | 78 63 [1890]10.5
S1J-08-10 3/4"X16 | 7/8" X14 16.7[19.3] 44 | 24 | 92
$1J-08-12 3/4"X16 | 1.1/16" X12 16.721.9| 49 | 30 | 148 o4
$1J-10 7/8" X14 | 7/8"X14 19.3]19.3[ 465 24 [ 102
S1J-10-12 7/8" X14 | 1.1/16" X12 19.3|21.9] 51 | 30 [ 152
S1J-10-16 7/8" X14 | 1.5/16" X12 19.3|23.1[535] 36 | 219
S1J-12 1116 " X12 | 1.1/16 " X12 219219 54 | 30 | 175 \
S1J-12-14 1.1/16 " X12[ 1.3/16 " X12 21.9 226555 | 32 | 203 K HIICHMELTA SMEIICHIRET74° Py HE
S1J-12-16 1116 " X12 | 1.5[16 " X12 21.9| 231|561 | 36 | 236 | 21 S2J LGNS T CONSIAIGHINAES 027 ST
S1J-14 1.3/16 " X12[ 1.316 " X12 22.6 226 |56.1| 32 |239 e #24; THREAD JF DIMENSIONS [ & | 1y
S$1J-14-16 1.3/16 " X12| 1.5/16 " X12 22.6 | 23.1 | 56.5 | 36 | 260 PART NO. L1 L]st|s2]| g |Mpa
S1J-16-20 15/16 " X12 | 1.5/8" X12 23.1]243(605| 46 | 384 | 17 S20-04-05 716" %20 | 172" X20 2 28 [ 12 [ 17 [ 19 |345
S1J-16-24 1.5/16 " X12| 1.7/8" X12 23.1]275|655| 50 | 497 [ 14 S2J-04-06 7116 " X20 | 9/16 " X18 14 | 285| 14 | 19 | 23
S1J-20 1.5/8" X12 | 1.5/8 " X12 24.3|24.3| 62 | 46 | 422 | 17 S2J-04-08 7116 " X20 | 3/4" X16 14 | 305| 19 | 24 | 31 | 31
$1J-20-24 1.5/8" X12 | 1.7/8" X12 24.3|275| 67 | 50 | 523 | 14 S2J-05 1/2 " X20 1/2 " X20 14 | 28 | 14 | 17 | 24
S1J-20-32 1.5/8" X12 2.1/2 " X12 24.3 | 33.9 75 65 978 10.5 S2J-05-06 1/2 " X20 9/16 " X18 14 28.5 14 19 25 34.5
S1J-24 1.7/8" X12 | 1.7/8" X12 27.5[275| 70 | 50 | 553 [ 14 . S2J-05-08 1/2 " X20 34" X16 14 | 305| 19 | 24 | 33 | 31
£ S1J-24-32 1.7/8" X12 | 2.1/2" X12 27.5|33.9|785| 65 | 896 105 S2J-06 9/16 " X18 9/16 " X18 141 28 | 17 | 19 | 32 | 345 ES
) S1J-32 212" X12 | 21/2"X12 33.9[339| 85 | 65 [1150] S2J-06-08 916" X18 | 3/4" X16 1411 31| 19 | 24 | 36 | 31 -
S2J-06-10 916" X18 | 7/8" X14 141 [335| 22 | 27 | 49 | 24
S2J-08 3/4 " X16 3/4 " X16 167 | 36 | 22 | 24 | 61
45° BEEIICHMBRLTA S S2J-08-06 3/4"X16 | 9/16"X18 167 | 34 | 22 [ 10 | 63 |
S1J4 45° ELBOW JIC MALE 74° CONE $2J-08-10 3/4 " X16 7/8 " X14 16.7 | 36.5| 22 | 27 | 64
RE 124r THREAD K~/ DIMENSIONS = 8 | T S2J-08-12 3/4 " X16 1.1/16 " X12 16.7 | 395 27 | 32 | 90
PART NO. T T2 L1 L2 S1 g Mpa S2J-10 7/8 " X14 7/8 " X14 193 | 39 | 24 27 82
S1J4-04 7/16 " X20 7/16 " X20 85 | 85 11 25 S2J-10-08 7/8 " X14 3/4 " X16 193 | 38 | 24 | 24 | 79 | 24
S1J4-05 1/2 " X20 1/2* X20 19.5[19.5 14 | 33 | 345 S2J-10-12 7/8" X14 | 1.1/16 " X12 193 | 42 | 27 | 32 | 100
S1J4-06 916" X18 | 916" X18 21 | 21 14 | 39 S2J-12 1.1/16 " X12 | 1.1/16 " X12 21.9 [445] 30 | 32 | 138
S1J4-08 3/4" X16 34" X16 25 25 19 83 31 S2J-12-10 1.1/16 " X12 7/8 " X14 219 | 435| 30 27 | 137
S1J4-10 7/8 " X14 7/8 " X14 28 | 28 oo | 120 S2J-12-16 1.1/16 " X12 | 1.5/16 * X12 21.9[455| 32 | 41 [ 165 |
S1J4-12 11716 " X12 | 1.116" X12 32.5[325 o7 198 | % S2J-16 1.5/16 " X12 | 1.5/16 " X12 23.1/465| 36 | 41 | 190
51J4-16 156" X12 | 1516 X12 375375 23 | 295 | 21 S2J-16-20 1516 " X12 | 1.5/8" X12 231 53 | 41| 50 [260 |
S2J-20 15/8" X12 | 1.5/8" X12 243 [545| 46 | 50 | 359
S2J-20-24 15/8" X12 | 1.7/8" X12 243 [ 655| 46 | 55 [ 348 |
S2J-24 1.7/8" X12 | 1.7/8" X12 275 | 61 | 50 | 55 | 465
S2J-24-32 1.7/8" X12 | 2.1/2" X12 27.5] 63 | 65 [ 75 626 |
S2J-32 2.1/2" X12 | 2.1/2" X12 33.9 [69.5| 65 | 75 | 853 |

191/ =M & s 192/ =t i e s 1



ADAPTER

®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

il

S2J9

90° FEHIJICHMEL74° SMEIICAIRL74° A4

90° ELBOWJIC MALE 74° CONE/JIC FEMALE 74° SEAT
= 124 THREAD JU+ DIMENSIONS | 5 4 | 1))
PART NO. T T2 L1 S1 | 82 g | Mpa
S2J9-04 7/16 " X20 7/16 " X20 22.6 11 | 14 | 20
S2J9-05 1/2 " X20 1/2 " X20 241 14 | 17 | 29 |34.5
S2J9-06 9/16 " X18 9/16 " X18 26.9 14 | 19 | 35
S2J9-06-08 9/16 " X18 3/4 " X16 28.5 16 | 24 | 45
$2J9-08-06 3/4" X16 9/16 " X18 32 19 | 19 | 72 | 31
S2J9-08 3/4" X16 3/4 " X16 32 19 | 24 | 79
$2J9-08-10 3/4" X16 7/8 " X14 32 19 | 27 | 88
S2J9-10 7/8 " X14 7/8 " X14 36.8 22 | 27 | 112
S2J9-10-08 7/8" X14 3/4 " X16 36.8 22 | 24 | 102
W 24
S2J9-10-12 7/8" X14 1.1/16 " X12 39.5 24 | 32 | 137
S2J9-12 1.116 " X12 | 1.1/16" X12 42.2 27 | 32 | 183
S2J9-12-10 1.116 " X12 7/8 " X14 422 27 | 27 | 163
S2J9-12-16 1.116 " X12 | 1.5/16" X12 46 30 | 41 | 216
z 21
S2J9-14 1.3/16 " X12 | 1.3/16" X12 457 30 | 36 | 230
S2J9-16 1.5/16 " X12 | 1.5/16" X12 46 33 | 41 | 275
S2J9-16-20 1.5/16 " X12 1.5/8 " X12 54 41 | 50 | 416
. 17
S2J9-20-16 1.5/8 " X12 1.5/16 " X12 52.3 41 | 41 | 405
S2J9-20 1.5/8 " X12 1.5/8 " X12 52.3 41 | 50 | 510
S$2J9-20-24 1.5/8 " X12 1.7/8 " X12 59.5 48 | 55 | 582
S2J9-24-20 1.7/8 " X12 1.5/8 " X12 62.5 48 | 50 | 658 | 14
S2J9-24 1.7/8 " X12 1.7/8 " X12 62.5 48 | 55 | 685
52J9-32 21/2" X12 2.1/2" X12 78 63 | 75 |1412]10.5
LHICHZLTA HhE= T
JIC MALE 74° CONE TEE
e 124 THREAD J&F DIMENSIONS | & & | iy
PART NO. T T2 T3 1| 2| 3| St| g |Mpa
SAJ-04 7/16"X20 | 7/16"X20 | 7/16"X20 |245 (245|245 11 | 44
SAJ-05 1/2 " X20 1/2 " X20 1/2 " X20 26 | 26 | 26 | 14 | 56 |34.5
SAJ-06 9/16"X18 | 9/16"X18 | 9/16"X18 |26.9|26.9(269| 14 | 70
SAJ-08 3/4 " X16 3/4 " X16 3/4 " X16 32 | 32 | 32 | 19 | 150 | 31
SAJ-10 7/8 " X14 7/8 " X14 7/8" X14 |37.8(37.8|37.8| 22 | 220 o4
SAJ—12 1146 "X12 [1.1/16 " X12 [1.1/16 " X12 | 44.2 | 442 | 442 | 27 | 370
SAJ-16 1516 "X12 [1.5/16 "X12 |1.5/16"X12 | 49 | 49 | 49 | 33 | 558 | 21
SAJ-20 15/8"X12 | 158" X12 | 1.5/8"X12 |56.5|56.5|56.5| 41 | 966 | 17
SAJ-24 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 | 63 | 63 | 63 | 48 |1305| 14
SAJ-32 21/2"X12 | 21/2"X12 | 21/2"X12 | 78 | 78 | 78 | 63 [2835|10.5

193/ =M A& s

FKMIICHMERL 74 SME/ L HIICHIRAT74° WHES 3 =i

JIC MALE 74° CONE/JIC FEMALE BRANCH TEE
fr 1240 THREAD J&F DIMENSIONS | & i | 145,
PART NO. N T2 T3 L1 L2 | st | S2| g |Mpa
SBJ-04 716" X20 | 7/16"X20 | 7/16"X20 | 22,6226 | 11 | 14 | 35
SBJ-05 1/2 " X20 1/2 " X20 1/2"X20 | 241|241 14 | 17 | 49 | 345
SBJ-06 9/16 " X18 | 9/16"X18 | 9/16"X18 | 26.9/26.9| 14 | 19 | 61
SBJ-08 3/4 " X16 3/4 " X16 3/4"X16 | 32 | 32 | 19 | 24 | 121 | 31
SBJ-10 7/8 " X14 7/8 " X14 7/8"X14 | 368|368 | 22 | 27 | 192 | ,
SBJ-12 1,116 " X12 | 1.116 " X12 | 1.1/16 " X12 | 42.2| 422 | 27 | 32 | 315
SBJ-14 1.3/16" X12 | 1.3/16" X12 | 1.3/16" X12 | 457|457 | 30 | 36 | 385 | ,_
SBJ-16 15116 " X12 | 1.5/16 " X12 | 1.5/16 " X12 | 46 | 46 | 33 | 41 | 477
SBJ-20 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 | 52.3|/52.3| 41 | 50 | 876 | 17
SBJ-24 1.7/8" X12 | 1.7/8"X12 | 1.7/8"X12 | 625/62.5| 48 | 55 | 114 | 14
SBJ-32 24/2"X12 | 24/2"X12 | 21/2"X12 | 78 | 78 | 63 | 75 |2455|10.5
FHIIICHMRL T4 HMfE/SEHIIICHIRE74° AHETSZ =30
JIC MALE 74° CONE/JIC FEMALE RUN TEE
e 240 THREAD J&I DIMENSIONS | & & | iy
PART NO. T T2 T3 1| L2 | st| s2| g |Mpa
SCJ-04 716" X20 | 7/16"X20 | 7/16"X20 |22.6|22.6| 11 | 14 | 34
SCJ-05 1/2 " X20 1/2 " X20 1/2"X20 | 24.1|241| 14 | 17 | 49 | 345
SCJ-06 9/16" X18 | 9/16"X18 | 9/16"X18 |26.9(26.9| 14 | 19 | 61
SCJ-08 3/4 " X16 3/4 " X16 3/4"X16 | 32 | 32 | 19 | 24 | 121 | 31
SCJ-10 7/8 " X14 7/8 " X14 7/8" X14 368|368 | 22 | 27 | 192
SCJ-12 1.116" X12 | 1.1/16 " X12 | 1.1/16 " X12 | 422 | 42.2| 27 | 32 | 315
SCJ-14 1.316" X12 | 1.3/16 " X12 | 1.3/16" X12 | 45.7 | 457 | 30 | 36 | 385 |
SCJ-16 1.5/16 " X12 | 1.5/16" X12 | 1.5/16 " X12 | 46 | 46 | 33 | 41 | 477
SCJ-20 15/8"X12 | 1.58"X12 | 15/8"X12 |52.3|523| 41 | 50 | 876 | 17
SCJ-24 1.7/8"X12 | 1.7/8"X12 | 1.7/8" X12 | 62.5|625| 48 | 55 | 114 | 14
SCJ-32 21/2"X12 | 24/2"X12 | 21/2"X12 | 78 | 78 | 63 | 75 [2455]|10.5
FHICHIRZ T4 NHE
JIC FEMALE 74° SEAT
K= R4 THREAD J\) DIMENSIONS | TS
PART NO. 1 T L St S2 g | Mpa
S3J-04 7/16 " X20 | 7/16 " X20 19 14 14 30
S3J-05 1/2"X20 | 1/2"X20 21 17 17 42 345
$3J-06 9/16 " X18 | 9/16 " X18 21 19 19 51
S3J-06-08 9/16 " X18 | 3/4" X16 23 19 24 78 |
S3J-08 3/4"X16 | 3/4"X16 26 24 24 114
S3J-10 7/8" X14 | 7/8" X14 27 27 27 185 | ,,
$3J-12 1.1/16 " X12[1.1/16 " X12 29 32 32 242
S3J-16 1.5/16 " X12|1.5/16 " X12 29 41 4 358 | 21
S3J-20 1.5/8 " X12 | 1.5/8 " X12 35 50 50 648 | 17
S3J-24 1.7/8 " X12 | 1.7/8 " X12 3515 55 55 845 | 14

194/ =R A EE 2

il



L) ADAPTER

®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |(e

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |(e

®

EHIJICHMRLT4 HMESE K

FHIICHMRL 74 ST AR P2k

S4J JIC MALE 74° CONE PLUG
RE 220 THREAD Js} DIMENSIONS | TEE)
L PART NO. T1 L1 L S1 g | Mpa
L) S4J-04 7/16 " X20 14 20.3 12 15
e S4J-05 1/2 " X20 14 20.3 14 19 | 34.5
o L N S4J-06 9/16 " X18 14.1 20.3 17 24
j \|_| S4J-08 3/4 " X16 16.7 23.9 22 50 | 31
! S4J-10 7/8 " X14 19.3 27.9 24 7,
E \st S4J-12 1.1/16 " X12 21.9 32,5 30 126
S4J-14 1.3/16 " X12 22.6 33.3 32 148 |
S4J-16 1.5/16 " X12 28 34 36 187
S4J-20 1.5/8 " X12 24.3 36.8 46 317 | 17
S4J-24 1.7/8 " X12 27.5 42 50 434 | 14
S4J-32 2.1/2 " X12 33.9 52 65 926 | 10.5
FHIJICHIRL74° AHER, k&
S9J JIC FEMALE 74° SEAT PLUG
5 R4 THREAD JUs) DIMENSIONS & | T{EE)
L PART NO. T1 L1 S1 g | Mpa
17/ d B S9J-04 7/16 " X20 9 14 5
W e S9J-05 1/2 " X20 9.5 17 7 |34.5
[\ S9J-06 9/16 " X18 10.5 19 10
e S9J-08 3/4" X16 11 24 17 | 31
S9J-10 7/8" X14 13 27 28 | ,,
S9J-12 1.1/16 " X12 15 32 46
S9J-14 1.3/16 " X12 15 36 58 | .
S9J-16 1.5/16 " X12 16 41 75
e G $9J-20 1.5/8 " X12 17 50 125 | 17
) S9J-24 1.7/8 " X12 20 55 181 | 14
S9J-32 2.1/2 " X12 23.5 75 345[10.5
- 4H1JICT74° 50
9.-CAP
L R 124 THREAD JUs} DIMENSIONS T8 |THE)
- PART NO. T1 L S1 g | Mpa
] L”ﬁ S9J-04CAP 7/16 " X20 15.1 14 13
S - S9J-05CAP 1/2 " X20 15.5 17 17 |34.5
N S9J-06CAP 9/16 " X18 15.9 19 21
o \st S9J-08CAP 3/4" X16 19 24 40 | 31
S9J-10CAP 7/8 " X14 21.4 27 57 | 5,
S9J-12CAP 1.1/16 " X12 2% 32 80
S9J-16CAP 1.5/16 " X12 25.8 41 155 | 21
S9J-20CAP 1.5/8 " X12 27 50 234 | 17
S9J-24CAP 1.7/8 " X12 30.2 60 388 | 14
S9J-32CAP 2.1/2" X12 36.5 75 652 [10.5

195/ =M i ==

JIC MALE 74° CONE BULKHEAD
B 22 THREAD R~ DIMENSIONS = 5| T
= o PART NO. 1 T2 L1 L2 L St S2 | 9 | Mpa
[;7, = S6J-04LN 7/16 " X20 | 7/16 " X20 14 305|526 | 17 | 17 | 52
o S6J-05LN 1/2"X20 | 1/2"X20 14 305 | 52.6 | 19 | 19 | 64 |34.5
1V S6J-06LN 9/16 " X18 | 9/16 " X18 141 325|554 | 22 | 22 | 82
o L S6J-08LN 3/4"X16 | 3/4"X16 16.7 365 | 62 | 24 | 24 | 131| 31
S6J-10LN 7/8"X14 | 7/8"X14 19.3 40.1169.6 | 30 | 30 |201]
S6J-12LN 11/16 " X12[1.1/16 "x12| 21.9 444|785 | 36 | 36 |332 E
S6J-14LN 1.3/16 " X12[1.3/16 " X12| 22.6 444 (792 | 38 | 38 [371]
S6J-16LN 1.5/16 " X12[1.5/16 " X12|  23.1 44.4 | 798 | 41 | 41 | 441
S6J-20LN 1.5/8 " X12 | 1.5/8 " X12 24.3 45.7 | 841 | 50 | 50 |672] 17
S6J-24LN 1.7/8" X12 | 1.7/8 " X12 27.5 46 | 89.4| 55 | 55 |835| 14
S6J-32LN 2.1/2"X12 | 2.1/2 " X12 33.9 53.1 [106.7| 70 | 70 |160210.5
45° BETHIJICHMRS74° AMEREAREE K
S6J4-LN 45° ELBOW JIC MALE 74° CONE BULKHEAD
R 240 THREAD JU&sI DIMENSIONS B | TR
PART NO. T T2 L1 L2 | 3] st s2 | 9 |Mpa
S6J4-04LN 7116 " X20 | 7/16 " X20 18.5 389 | 26 | 11 | 17 | 46
S6J4—-05LN 1/2"X20 | 1/2" X20 19.6 422 | 26 | 14 | 19 | 60 | 345
S6J4-06LN 9/16 " X18 | 9/16 " X18 211 424 | 277 | 14 | 22 | 75
S6J4-08LN 34" X16 | 3/4" X16 25 493 | 317 | 19 | 24 |143] 31
S6J4-10LN 7/8" X14 | 7/8" X14 28.5 551353 | 22 | 30 [205]
S6J4—12LN 1.1/16 " X12| 1.1/16 " X12 325 62 | 395 | 27 | 36 | 300
S6J4-16LN 1.5/16 " X12| 1.5/16 " X12 375 65 | 395 | 33 | 41 |455| 21
S6J4—20LN 1.5/8 " X12 | 1.5/8 " X12 405 673 | 41 | 41 | 50 |658]| 17
==
il
90° LREHITICHMEL 74 At b ek
S6J9-LN 90° ELBOW JIC MALE 74° CONE BULKHEAD
. %= IF4. THREAD JUsF DIMENSIONS 5 | TR
= PART NO. e T2 L1 L2 | 3] st | s2| 9 |Mpa
- i S6J9-04LN 7116 " X20 | 7/16 " X20 24.6 404 | 26 | 11 | 17 | 48
" 4 S6J9-05LN 1/2"X20 | 1/2" X20 26.9 437 | 26 | 14 | 19 | 62 |345
3 S6J9-06LN 9/16 " X18 | 9/16 " X18 27.7 46 | 277 | 14 | 22 | 77
T | S6J9-08LN 34" X16 | 3/4" X16 345 536 | 31.7 | 19 | 24 |150| 31
ML =) S6J9-10LN 7/8" X14 | 7/8" X14 39.6 607 [ 353 [ 22 | 30 [222] .
— S6J9-12LN 1.1/16 " X12[ 1.1/16 " X12 45.2 67.8 | 395 | 27 | 36 | 360
S6J9-14LN 1.3/16 " X12] 1.3/16 " X12 48.8 71.1[395| 33 | 38 [433]
S6J9-16LN 1.5/16 " X12| 1.5/16 " X12 49.3 711 | 395 | 33 | 41 |522
S6J9-20LN 1.5/8 " X12 | 1.5/8 " X12 55.1 795 | 41 | 41 | 50 |835]| 17

196/ =t i EE s 1



®

®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke oL Bk %l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke

ADAPTER ADAPTER

EHJICHMEL 74 HMTE/ B2 R 5115 241SO 6162-1 KHIJICHMRL74° HMRLSL/ T R 4172415061622

S1JFL JIC MALE 74° CONE/L-SERIES FLANGE ISO 6162-1 S1JFS JIC MALE 74° CONE/S-SERIES FLANGE ISO 6162-2
5 24 THREAD| s JisI DIMENSIONS A | TR 1’5 240 THREAD| 2270 Ji~I DIMENSIONS ;& | TR
PART NO. 1 FLANGE SIZE L1 D L g | Mpa PART NO. T FLANGE SIZE L1 D L g | Mpa
S1JFL-08 3/4" X16 1/2" 6.73 30.2 435 103 |, ¢ ?ZZZZZZ% S1JFS-08 3/4" X16 1/2" 7.75 31.7 47.5 70 | 31
S1JFL-08-12 3/4 " X16 3/4 " 6.73 38.1 45.4 130 | 7 = :Hl—n-—r o S1JFS-10-08 7/8 " X14 1/2" 7.75 31.7 50 90
o - S1JFL-10-08 7/8 " X14 1/2" 6.73 30.2 48 127 S S1JFS-10-12 7/8 " X14 3/4 " 8.76 413 55 9 | ,,
S1JFL-10-12 7/8 " X14 3/4" 6.73 38.1 48 150 = S1JFS-12 1.1/16 " X12 3/4 " 8.76 41.3 56.7 146
i S1JFL-12-08 [ 1.1/16 " X12 12" 6.73 30.2 49 167 | 24 L S1JFS-12-16 [ 1.1/16 " X12 1" 9.53 47.6 61.5 158
E iy S1JFL-12 1.1/16 " X12 3/4 " 6.73 38.1 50.5 196 S1JFS-16-12 [ 1.5/16 " X12 3/4 " 8.76 41.3 57.8 205 | 21 E
> S1JFL-12-16 | 1.1/16 " X12 1" 8 44.4 52.2 234 2 S1JFS-16 1.5/16 " X12 1" 9.53 47.6 62.8 224 | 20
S1JFL-16-12 | 1.5/16 " X12 3/4" 6.73 38.1 52 254 | S1JFS-16-20 [1.5/16"X12| 1.1/4" 10.29 54 67.7 241
S1JFL-16 1.5/16 " X12 1" 8 44.4 53.4 290 S1JFS-20-16 1.5/8 " X12 1" 9.53 47.6 64 234 | 17
S1JFL-16-20 |1.5/16"X12| 1.1/4" 8 50.8 52.2 316 | 20 S1JFS-20 1.5/8 " X12 1.1/4" 10.29 54 68.9 349
S1JFL-20-16 1.5/8" X12 1" 8 44.4 54.5 376 S1JFS-20-24 1.5/8 " X12 1.14/2" 12.57 63.5 735 356
S1JFL-20 1.5/8" X12 1.1/4" 8 50.8 53.1 398 | 17 S1JFS-24-20 1.7/8 " X12 1.1/4" 10.29 54 72 432 | 14
S1JFL-20-24 1.5/8" X12 1.4/2" 8 60.3 56 472 S1JFS-24 1.7/8 " X12 1.14/2" 12.57 63.5 76.7 438
S1JFL-24-20 1.7/8 " X12 1.1/4" 8 50.8 56.5 471
S1JFL-24 1.7/8 " X12 1.14/2" 8 60.3 59.2 547 | 14
S1JFL-24-32 1.7/8 " X12 2" 9.53 71.4 60 657
S1JFL-32 2.1/2 " X12 2" 9.53 71.4 66.3 1002| 10.5
90° #5LHIJICHMRL74 St/ R 5115 241SO 61621 90° 5 Y HIJICHMEL74° SRS/ T A HE41SO 6162-2
S1JFL9 90° ELBOW JIC MALE 74° CONE/L-SERIES FLANGE ISO 6162-1 S1JFS9 90° JIC MALE 74° CONE/S—SERIES FLANGE ISO 6162—2
R JB4 THREAD| e JUs} DIMENSIONS & | TEE)) Fos 24 THREAD|  yE227m N~} DIMENSIONS B | TR
= PART NO. T FLANGE SIZE L1 L2 L3 D S g | Mpa ; PART NO. T1 FLANGE SIZE L1 L2 L3 D S1 g | Mpa
S1JFL9-08 3/4 " X16 1/2" 32.5 44 | 673 | 30.2 | 24 | 167 31 ! 3 S1JFS9-08 3/4 " X16 1/2 325 44 | 7.75 | 31.7 | 24 |185| 31 =
il S1JFL9-08-12 3/4 " X16 3/4" 38 541 | 6.73 | 38.1 30 | 279 S1JFS9-10-08 7/8 " X14 2E 37.5 44 775 | 31.7 | 24 | 202 &
S1JFL9-10-08 7/8 " X14 12" 37.5 44 | 673 | 30.2 | 24 | 182 I o S1JFS9-10-12 7/8 " X14 3/4" 41 541 | 8.76 | 41.3 | 30 | 297
S1JFL9-10-12 7/8 " X14 3/4" Al 541 | 673 | 381 | 30 |292 o4 S1JFS9-12 1.1/16 " X12 3/4" 44.2 541 | 876 | 41.3 | 30 | 326 24
S1JFL9-12 1.1/16 " X12 3/4" 44.5 541 ] 6.73 | 381 | 30 |322 i I S1JFS9-12-16 | 1.1/16 " X12 1" 48 60.2 | 953 | 47.6 | 33 | 455
S1JFL9-12-16 | 1.1/16 " X12 1" 48 602 | 8 | 444 | 33 |410 al _ S1JFS9-16 1.5/16 " X12 e 51.5 60.2 | 953 | 47.6 | 33 | 503
S1JFL9-16 1.5/16 " X12 1" 49 60.2 8 | 444 | 33 |450 o1 & S1JFS9-16-12 | 1.5/16 " X12 3/4" 49 541 | 876 | 41.3 | 30 |386| 21
S1JFL9-16-12 1.5/16 " X12 3/4 " 49 54.1 | 6.73 | 38.1 30 421 bt S1JFS9-16-20 1.5/16 " X12 1.1/4" 54 66.5 | 10.29| 54 41 634
S1JFL9-16-20 1.5/16 " X12 1.1/4" 54 66.5 8 50.8 41 | 597 | 20 S1JFS9-20 1.5/8 " X12 1.1/4" 55.5 66.5 | 1029 | 54 41 | 707
S1JFL9-20 1.5/8 " X12 1.1/4" 55.5 665 | 8 |508 | 41 |666 S1JFS9-20-24 | 1.5/8" X12 1.14/2" 59.5 793 [ 1257 | 635 | 50 [1050| '/
S1JFL9-20-24 | 1.5/8 " X12 1.1/2" 60 79.3 8 60.3 | 50 |955 S1JFS9-24 1.7/8 " X12 1.1/2" 62.5 79.3 | 1257 | 635 | 50 |1111| 14
S1JFL9-24 1.7/8 " X12 1.14/2" 62.5 793 | 8 |603| 50 |1015] .
S1JFL9-24-32 | 1.7/8 " X12 2" 74.5 108 | 953 | 71.4 | 60 |1675
S1JFL9-32 2.1/2" X12 2" 80 108 | 953 | 71.4 | 60 |[1978]10.5

197/ Zf i dE s 1

198/ =t A dE s 1



ADAPTER

rl ®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting a n n e

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

FKHINICHMEL T4 M/ ATHER SMIREL

S1JN JIC MALE 74° CONE/NPT MALE
R $24r THREAD JU:I_DIMENSIONS R ANKEI]
PART NO. 1 T2 L1 L2 L S1 9 | Mpa
S1JN-04-02 7/16" X20 | NPT1/8" X27 14 105 31 12 18 |345
S1JN-04 7/16" X20 | NPT1/4"X18 14 15 36 17 30 |275
S1JN-04-06 7/16" X20 | NPT38' X18 14 16 36 19 39 | 21
S1JN-04-08 7/16" X20 | NPT12"X14 14 195 43 22 74 |275
: S1JN-05-04 1/2"X20 | NPTi/4"X18 14 15 36 17 32
E TN S1JN-05-06 1/2"X20 | NPT38'X18 14 16 37 19 42 | 21
S1JN-05-08 1/2"X20 | NPTiR' X14 14 195 43 22 75
Vs ;‘% S1JN-06-04 9/16"X18 | NPT14'X18 | 14.1 15 36.5 17 33 |275
(= - L S1JN-06 9/16"X18 | NPT38'X18 | 14.1 16 36.5 19 a1,
\|_| S1JN-06-08 9/16" X18 | NPTIR'X14 | 14.1 19.5 42.9 22 73
¥, Lm2 S1JN-08-04 3/4"X16 | NPT1/4"X18 16.7 15 39 22 56 |27.5
S1JN-08-06 3/4"X16 | NPT3B'X18 | 16.7 16 39 22 60 | .
S1JN-08 3/4"X16 | NPTIR"X14 | 16.7 195 44 24 80
S1JN-08-12 3/4"X16 | NPT34'X14 | 16.7 19.5 47 30 |125]| 17
S1JN-10-06 7/8"X14 | NPT38'X18 | 19.3 16 43.5 24 80 | .
S1JN-10-08 7/8"X14 | NPTIR'X14 | 19.3 195 48 24 93
S1JN-10-12 7/8"X14 | NPT34'X14 | 19.3 195 49.5 30 | 127 17
S1JN-12-08 1.116" X12 | NPTIR"X14 | 21.9 19.5 52.3 30 | 142 21
S1JN-12 1.1/16" X12 | NPT34"X14 | 21.9 195 52.3 30 | 147 17
S1JN-12-16 11/16" X12 | NPT1"X115 | 21.9 25.5 57.1 36 | 213| 14
S1JN-12-20 1.1/16" X12 [NPT1.14" X115| 21.9 26.5 61.5 46 358 8
S1JN-14-12 1.3/16" X12 | NPT34"X14 | 226 19.5 53 & 170
S1JN-16-12 1.5/16 " X12 | NPT34"Xt4 | 23.1 195 53.5 36 | 206
S1JN-16 1.5/16" X12 | NPT1"'X115 | 23.1 25.5 58.5 36 | 242 14
S1JN-16-20 1.5/16 " X12 | NPT1.14" X115|  23.1 26.5 62.5 46 | 370| 8
S1JN-16-24 1.5/16 " X12 [NPTL.1R"X115| 23.1 27.5 65.5 50 |468| 7
S1JN-20-16 1.5/8"X12 | NPT1'X115 | 243 25.5 61.5 46 | 343 | 14
S1JN-20 1.5/8" X12 |NPTL.Y/4" X115| 24.3 26.5 62.2 46 |385| 8
E3 S1JN-20-24 1.5/8"X12 |NPTL1R"X115| 24.3 27.5 67 50 492 7
] S1JN-24-20 1.7/8" X12 |NPTL.14"X115| 27.5 26.5 67.3 50 |475| 8
S1JN-24 1.7/8" X12 |NPTLIR"X115| 27.5 27.5 68 50 |501| 7
S1JN-24-32 1.7/8"X12 | NP2"X115 | 275 27.5 72 65 | 747 | 5
S1JN-32 21/2"X12 | NPT2'X115 | 33.9 27.5 79 65 [903| 5
S1JN-32-24 21/2" X12 |NPT11R"X115| 33.9 27.5 785 65 [930] 7

199/ =M iR E =

S1JN4

45° ZSEHIINCHMRLT74° HMIE/ A HER SMRAL

45° ELBOW JIC MALE 74° CONE/NPT MALE
RS 184 THREAD J\~) DIMENSIONS e THES
PART NO. T1 T2 L1 L2 S1 g | Mpa
S1JN4-04-02 7/16 " X20 | NPT1/8 " X27 18.3 16.5 11 18 | 345
S1JN4-04 7/16 " X20 | NPT1/4 " X18 22 21 14 28 |27.5
S1JN4-04-06 7/16 " X20 | NPT3/8 " X18 23 24 19 M,
S1JN4-04-08 7/16 " X20 | NPT1/2 " X14 24.5 29.5 22 68
S1JN4-05-02 1/2 " X20 | NPT1/8 " X27 19.6 16.5 14 22 | 345
S1JN4-05-04 1/2 " X20 | NPT1/4 " X18 22 21 14 31 (275
S1JN4-06-02 9/16 " X18 | NPT1/8 " X27 22 17.3 14 28 345
S1JN4-06-04 9/16 " X18 | NPT1/4 " X18 22.8 21 14 35 |27.5
S1JN4-06 9/16 " X18 | NPT3/8 " X18 22 24 19 45 |
S1JN4-06-08 9/16 " X18 | NPT1/2 " X14 225 29.5 22 70
S1JN4-08-04 3/4" X16 | NPT1/4" X18 25 24 19 56 |27.5
S1JN4-08-06 3/4" X16 | NPT3/8 " X18 24.9 24.1 19 85 | .
S1JN4-08 3/4" X16 | NPT1/2 " X14 25 29.5 22 45
S1JN4-08-12 3/4" X16 | NPT3/4 " X14 26.5 30.5 27 118 | 17
S1JN4-10-08 7/8 " X14 | NPT1R2 " X14 28.2 29.7 22 101 | 21
S1JN4-10-12 7/8 " X14 | NPT3/4 " X14 29.5 30.5 27 130 | 17
S1JN4-12-08 [ 1.1/16 " X12 | NPT1/2 " X14 325 31 27 141 | 21
S1JN4-12 1.1/16 " X12 | NPT3/4 " X14 325 30.5 27 162 | 17
S1JN4-12-16 [ 1.1/16 " X12 | NPT1 " X115 375 39 33 244 | 14
S1JN4-14-12 [ 1.3/16 " X12 | NPT3/4 " X14 37 33 30 198 |
S1JN4-16-12 [ 1.5/16 " X12 | NPT3/4 " X14 38.5 36.5 33 240
S1JN4-16 1.5/16 " X12 | NPT1 " X115 37.3 37.6 33 285 | 14
S1JN4-16-20 | 1.5/16 " X12 |[NPT1.1/4 " X115 42 425 41 402 | 8
S1JN4-20-16 1.5/8 " X12 | NPT1" X115 43 425 41 395 | 14
S1JN4-20 1.5/8 " X12 [NPT1.14 " X115 40.5 425 41 462 | 8
S1JN4-20-24 1.5/8 " X12 |[NPT112" X115 46 45 48 570 |
S1JN4-24 1.7/8 " X12 [NPT1.1R " X115 45.2 45 48 617

200/ ZHm s & 1

il



ADAPTER

®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |(e

e

L4
J g

45

ADAPTER

®

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

90° T HIJICHMBRAIT74° HMHE/ A HEE SMERLL

S1JN9
E
J,El
M)
L1 s
E
il

201/ =M s EE s

90° ELBOW JIC MALE 74° CONE/NPT MALE
R 122 THREAD Jisk DIMENSIONS it | TR
PART NO. T T2 L1 L2 S1 9 | Mpa
S1JN9-04 7/16" X20 | NPT1/4"X18 | 26.6 27.7 14 35 | 275
S1JN9-04-02 | 7/16" X20 | NPT1/8" Xo7 23 20.5 11 23 (345
S1JN9-04-06 | 7/16" X20 | NPT3/8" X18 29 31 16 51 | 21
S1JN9-05-04 1/2"X20 | NPT1/4'X18 | 245 27.7 14 38 |27.5
S1JN9-05-06 1/2"X20 | NPT3/8" X18 29 31 16 55 | .
S1JN9-06 9/16 " X18 | NPT38 " X18 29 31 16 59
S1JN9-06-04 | 9/16" X18 | NPT1/4"X18 | 26.9 27.7 14 43 |,
S1JN9-06-08 | 9/16" X18 | NPTi)2" X14 31 37.3 22 85
S1JN9-08 3/4"X16 | NPT1R"X14 | 3458 37.3 22 114 | 21
S1JN9-08-04 3/4" X16 | NPT1/4" X18 32 31 19 71 | 275
S1JN9-08-06 3/4" X16 | NPT38" X18 32 31 19 84 | 21
S1JN9-08-12 3/4"X16 | NPT3/4"X14 36.1 40.4 27 151 17
S1JN9-10-06 7/8" X14 | NPT38" X18 37 32.5 22 07
S1JN9-10-08 7/8 " X14 | NPT1/2 " X14 37 37.3 P 130
S1JN9-10-12 7/8" X14 | NPT34"X14 | 39.2 40.4 27 170 | 17
S1JN9-10-16 7/8" X14 | NPT1"X115 | 445 50 33 259 | 14
S1JN9-12 11/16 " X12| NPT34"X14 | 425 40.5 27 214 | 17
S1JN9-12-08 | 1.1/16 " X12| NPTIR"X14 | 425 40.4 27 182 | 21
S1JN9-12-16 | 1.1/16 " X12| NPT1' X115 45 50 33 298 | 14
S1JN9-12-20 | 1.1/16 * X12 |NPT1.1/4 " X115| 525 54.5 41 442 8
S1JN9-14-12 | 1.3/16 " X12| NPT3/4 " X14 46 43 30 250 | 17
S1JN9-14-16 | 1.3/16 " X12| NPT1"X115 | 487 50 33 330
S1JN9-16 1.5/16 " X12 | NPT1"X115 46 50 33 354
S1JN9-16-12 | 1.5/16 * X12| NPT34 " X14 46 452 33 287 | 17
S1JN9-16-20 | 1.5/16 * X12 |NPT1.1/4" X115 54 60.5 41 541 8
S1JN9-16-24 | 1.5/16 " X12 [NPT1.12 " X115| 59.4 59.5 48 637 | 7
S1JN9-20 1.5/8 " X12 [NPT1.1/4" X115| 52.3 60.5 41 626 | 8
S1JN9-20-16 | 1.5/8" X12 | NPT1 " X115 53 59.5 41 507 | 14
S1JN9-20-24 | 1.5/8" X12 |NPT1.12" X115 56 67 48 Rz
S1JN9-24 1.7/8 " X12 [NPT112 " X115| 625 63 48 858
S1JN9-24-20 | 1.7/8 " X12 |NPT1.1/4 " X115 59 57 48 717 | 8
S1JN9-32-24 | 2.1/2" X12 |[NPT1.1R " X115| 77.7 70 63 1415] 7
S1JN9-32 2.1/2"X12 | NPT2"X115 | 77.7 76.2 63 1615 5

(2]
-
(.
2
P

-

e

S1JN9-LL

90° ML HIJICHMBELLTA HMHE/ KA HEE MRS

90° ELBOW JIC MALE 74°

CONE/LONG NPT MALE

R 240 THREAD Ji>] DIMENSIONS T | TR
PART NO. T T2 L1 L2 S1 g | Mpa
S1JN9-04L 7116 " X20 | NPT1/4" X18 24.5 40.1 14 43 |275
S1JN9-05-04L | 1/2"X20 | NPT1/4" X18 24.5 40.1 14 46 |,
S1JN9-06-04L | 9/16" X18 | NPT1/4" X18 26.9 40.1 14 51
S1JN9-06-08L | 9/16 " X18 | NPTi/2" X14 31 55.1 22 114 | 21
S1JN9-08-06L | 3/4"X16 | NPT38" X18 32 46.2 19 100 | 34.5
S1JN9-08L 3/4" X16 | NPT12" X14 33.3 55.1 22 139
S1JN9-10-08L | 7/8" X14 | NPT1R"X14 37 55.1 22 159 | 21
S1JN9-12-08L | 1.1/16 " X12 | NPT122 " X14 425 56.9 27 209
S1JN9-12L 1.1/16 " X12 | NPT3/4 " X14 425 62 27 24|
S1JN9-16-12L [ 1.5/16 " X12| NPT3/4 " X14 46 69.9 33 345
S1JN9-16L 1.5/16 " X12| NPT1 " X115 46 76.5 33 445 | 14
S1JN9—-20L 1.5/8 " X12 |NPT1.1/4" X115 53 93.7 41 810| 8
S1JN9—24L 1.7/8 " X12 [NPT1.12" X115 60 104.1 48 1120 7
90° Z5SEHITICHMRLTA S/ B K ATHERS SMZLL
90° ELBOW JIC MALE 74° CONE/LONGER NPT MALE
R R4 THREAD J-} DIMENSIONS ENKi)
PART NO. Ti T2 L1 L2 S1 9 | Mpa
S1JN9-04LL 7116 " X20 | NPT1/4 " X18 24.5 52.6 14 51
S1JN9-05-04LL | 1/2" X20 | NPT1/4" X18 24.5 52.6 14 55 | b s
S1JN9-06-04LL | 9/16" X18 | NPT1/4 " X18 26.9 52.6 14 60
S1JN9-06LL 9/16 " X18 | NPT38 " X18 29 61.5 19 92
S1JN9-08-06LL | 3/4" X16 | NPT38" X18 32 61.5 19 117 | 21
S1JN9-10-08LL | 7/8" X14 | NPT12" X14 37 72.9 22 187
S1JN9-12LL 1.1/16 " X12 | NPT3/4 " X14 42.5 83.3 27 313 | 17
S1JN9-16LL 1.5/16 " X12 | NPT1 " X115 46 102.9 33 536
S1JN9-20LL 1.5/8 " X12 |NPT1.1/4 " X115 53 127 4 991 8
S1JN9-24LL 1.7/8 " X12 [NPT1.12 " X115 60 141 48 1370 7

202/ =M E R

il



® ®

g ADAPTER %8 JICORFS SAE,NPTAND NPSM Thread Fiting Sannke PLJE9)c  ADAPTER 3 JICORFS SAENPTAND NPSM Thread Fiting Sannke

FKHIICHMEL 74> SMIE/SABSMELLH OTE el 42 7 51 1ISO 11926-3 45° IIEHIICHMRE74° S/ SAESNRLUH OTE el 2 A 511SO 11926-3
S1JO JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES ISO 11926-3 S1J04-0G 45° ELBOW JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES ISO 11926-3
RE 24 THREAD Ji+f DIMENSIONS 4 [TED ] B34 THREAD i+ DIMENSIONS 1 | TES
PART NO. T T2 L1 L2 L st 9 |Mpa PART NO. T T2 L1 L2 st s2 | 9 [Mpa
S1J0-04 716" X20 | 716" X20 | 14 9.14 | 312 14 |25 $1J04-040G 716" X20 | 7/16"X20 | 20.6 24.7 11 14 [ 30
S1J0-04-05 | 716" X20 | 1/2" X20 14 9.14 31.2 17| 3 $1J04-04-060G | 7/16"X20 | 916" X18 | 21.1 29 14 17 |4
S1J0-04-06 | 716" X20 | 9/16"X18 | 14 993 | 327 17 |33 S1J04-04-080G | 7/16"X20 | 3/4"X16 | 245 325 19 2 |73
S1J0-05 1/2"X20 | 1/2"X20 14 9.14 31.2 17 |33 $1J04-050G 12"X20 | 1/2"X20 | 196 26.7 14 17 [ 38
S1J0-05-04 | 1/2"X20 | 7/16"X20 | 14 9.14 31 14 | 26 $1J04-05-040G | 1/2"X20 | 716" X20 | 19.6 26.7 14 14 [ 34315
E S1J0-05-06 | 1/2"X20 | 9/16"X18 | 14 9.93 33 17|20 |315 $1J04-060G 916" X18 | 9/16" X18 | 21.1 29 14 17 [ 48 E
S1J0-06 916" X18 | 916" X18 | 14.1 9.93 33 17 [ 22 S1J04-06-040G | 9/16 " X18 | 7/16"X20 | 21.1 26.7 14 14 | 38
S1J0-06-04 | 9/16"X18 | 7/16"X20 | 14.1 9.14 32.2 17 |35 $1J04-06-050G | 916" X18 | 1/2"X20 | 21.1 26.7 14 17 [ 42
S1J0-06-05 | 9/16"X18 | 1/2"X20 | 14.1 9.14 | 322 17 | 36 $1J04-06-080G | 9/16 " X18 | 3/4" X16 25 325 19 22 | 80
S1J0-06-08 | 916" X18 | 3/4"X16 | 141 | 1113 | 351 22 | 6t S1J04-06-100G | 916" X18 | 7/8"X14 | 255 385 22 27 |108] 25
$1J0-08 34"X16 | 3/4'X16 | 167 | 11.13 | 37.6 2 |75 $1J04-080G 3/4"X16 | 3/4"X16 25 33 19 22 [100]
) S1J0-08-04 | 3/4"X16 | 716" X20 | 16.7 9.14 [ 34 22 |61, $1J04-08-060G | 3/4"X16 | 9/16"X18 | 25 28 19 17 [ 70
: = S1J0-08-06 | 3/4"X16 | 916" X18 | 16.7 9.93 | 365 22 | 67 $1J04-08-100G | 3/4"X16 | 7/8"X14 | 275 38.7 22 27 [131]
| ] S1J0-08-10 | 3/4"X16 | 7/8"X14 | 16.7 127 40.7 27 [103] S1J04-08-120G | 3/4"X16 [1.116"X12[ 30 43.9 27 32 | 188
= S1J0-08-12 | 3/4"X16 [1.1/16"X12| 16.7 151 | 447 32 [153 $1J04-100G 7/8" X14 | 7/8"X14 | 285 38.7 22 27 | 145
3 Il I T S1J0-10 7/8" X14 | 7/8"X14 | 193 127 432 27 114 $1J04-10-080G | 7/8"X14 | 3/4"X16 | 285 345 22 22 [ 121
! S1J0-10-08 | 7/8"X14 | 3/4"X16 | 19.3 11 41.7 24 | 99 $1J04-10-120G | 7/8" X14 [1.116" X12[ 31 43.9 27 32 |203] 24
= S1J0-10-12 | 7/8"X14 [1.1/16"X12| 19.3 151 | 472 2 [te2] _. S1J04-120G  [1.116" X12[1.116 " X12| 325 43.9 27 32 287
S1J0-12 1.1/16" X12[1.1/16 " X12| 21.9 15.1 50 32 | 187 S1J04-12-100G [ 1.116" X12| 7/8" X14 | 325 39.8 27 27 | 186
S1J0-12-08  [1.1/16"X12| 3/4"X16 | 21.9 [ 1113 | 492 27 [ 157 $1J04-12-160G | 1.1/16 " X12[ 15116 " X12| 37 455 33 41 [a315
S1J0-12-10  [1.1/16" X12| 7/8"X14 | 21.9 12.7 47.7 27 147 S1J04-140G [ 1.316 " X12[1.3116 " X12| 37 475 33 36 |234] 20
S1J0-12-14  [1.1/16" X12[1.3/16 " X12| 21.9 15.1 49 36 |21 S1J04-160G | 1.5/16 " X12[1.5[16 " X12| 375 475 33 41 [ 372
S1J0-12-16 [ 1.1/16" X12[1.5/16 " X12| 21.9 15.1 50.5 38 237 20 $1J04-16-120G | 1.5/16 " X12[1.1/16 " X12| 37,5 45 33 32 |305] 21
S1J0-14 1.3/16" X12[1.3/16 " X12| 226 15.1 50.5 36 | 234 $1J04-16-200G | 1.5/16 " X12| 1.5/8 " X12 | 405 47 41 50 | 475
S1J0-14-12 [ 1.3/16" X12[1.1/16 " X12| 2256 15.1 49.5 32 [198] 21 $1J04-200G 15/8" X12 | 1.5/8" X12 | 405 485 41 50 |564| 16
S1J0-14-16 [ 1.3/16" X12[1.5/16 " X12| 2256 15.1 Bile 38 310 $1J04-20-240G | 1.5/8 " X12 | 1.7/8" X12 | 455 50 48 55 | 671
S1J0-16 1.5/16 " X12[1.5/16 " X12| 231 15.1 51.8 38 |267| $1J04-240G 1.7/8" X12 | 1.7/8" X12 | 455 48.5 48 55 | 721] 14
S1J0-16-12 [ 1.5/16" X12[1.1/16 " X12| 23.1 15.1 50.5 36 | 237 $1J04-320G 212" x12 [ 212" X12 | 565 54 63 70 [1487] 105
% S1J0-16-14 [ 1.5/16" X12[1.3/16 " X12| 231 15.1 52 36 | 254 ”
) S1J0-16-20 [ 1.5/16" X12| 1.5/8" X12 | 231 15.1 54.1 50 [407] )
$1J0-20 158" X12 | 1.5/8" X12 | 24.3 15.1 55.1 50 | 451
S1J0-20-16 | 1.5/8" X12 [1.5/16" X12| 24.3 15.1 59.1 46 446 | 17
S1J0-20-24 | 1.5/8"X12 [ 1.7/8" X12 | 243 15.1 54.5 55 494 16
S1J0-24 17/8"x12 [ 1.7/8" X12 | 275 15.1 60.2 55 |s77]
S1J0-24-20 | 1.7/8" X12 | 15/8" X12 | 275 15.1 62 50 | 548
S1J0-24-32 | 1.7/8"X12 | 21/2" X12 | 275 15.1 62 70 |857 125
S1J0-32 212" x12 | 2.1/2"X12 | 34 15 71 70 [1141[105

203/ =i E R 204/ =M E Rz



Pk

ADAPTER

%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |(

®

e  MuEm

ADAPTER

®

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

il

S$1J09-0G

90° LEHIJICHMEL74° SME/SAESMELITEOR BIEE 2 511SO 11926-3
90° ELBOW JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES ISO 11926-3

T 240 THREAD JUs} DIMENSIONS | TR
PART NO. T T2 L1 L2 s s2 9 | Mpa
S1J09-040G 7/16 " X20 | 716" X20 | 2256 26.2 11 14 | 33
S1J09-04-050G | 7/16"X20 | 1/2"X20 | 24.1 287 14 17 | 40
S1J09-04-060G | 7/16" X20 | 9/16"X18 | 24.1 29.3 14 17 | 44
S1J09-05-040G | 1/2"X20 | 7/16"X20 | 24.1 287 14 14 | 39
S1J09-050G 12" X20 | 1/2"x20 | 24.1 287 14 17 | 4
S1J09-05-060G | 1/2"X20 | 9/16"X18 | 24.1 31.8 14 17 [50],. .
S1J09-06-040G | 9/16" X18 | 7/16"X20 | 26.9 31.2 14 14 |46 |7
S1J09-06-050G | 9/16" X18 | 1/2"X20 | 26.9 31.2 14 17| 50
S1J09-060G 9/16" X18 | 916" X18 | 26.9 31.8 14 17 | 56
S1J09-06-080G | 9/16 " X18 | 3/4" X16 29 36.8 19 2 |92
S1J09-08-040G | 3/4"X16 | 7/16"X20 | 32 33 19 14 |78
S1J09-08-060G | 3/4"X16 | 9/16"X18 | 32 335 19 17 | 87
S1J09-080G 3/4"X16 | 3/4"X16 | 318 36.8 19 22 [120] 3t
S1J09-08-100G | 3/4"X16 | 7/8" X14 34 435 22 a7 [188]
S1J09-08-120G | 3/4"X16 [1.1/16"X12| 365 49.5 27 32 | 218
S1J09-10-080G | 7/8" X14 | 3/4" X16 38 40 22 22 [152
S1J09-100G 7/8"X14 | 7/8"X14 | 368 432 22 27 [ 173
S1J09-10-120G | 7/8"X14 [1.1/16"X12| 41 51 27 32 [o47]
S1J09-12-080G [1.116 " X12| 3/4"X16 | 422 44 27 22 | 208
S1J09-12-100G [1.116 " X12| 7/8"X14 | 422 47 27 27 | 232
S1J09-120G 1116 " X12[1.116 " X12| 422 49.3 27 32 | 284
S1J09-12-160G [ 1.1/16 " X12[1.5/16 " X12| 47.8 54.5 33 a1 Jse7]
S1J09-140G 1316 " X12[1.3116 " X12| 45.7 51 30 36 | 370
S1J09-14-160G [ 1.3/16 " X12[1.5/16 " X12| 457 54.5 33 41 414 16
S1J09-16-120G | 1.5/16 " X12[1.1/16 " X12| 457 54.5 33 32 [370] 21
S1J09-16-140G | 1.5/16 " X12[1.3/16 "X12| 46 56 33 3% [416]
S1J09-160G 1.5M6 " X12|1.5/16 " X12| 46 52.1 33 41 | 430
S1J09-16-200G [ 1.5/16 " X12| 1.5/8" X12 | 523 59 41 50 | 603 16
S1J09-20-160G | 1.5/8" X12 [1.5/16" X12| 523 57.2 41 41 |s82| 17
S1J09-200G 15/8" X12 | 1.5/8" X12 | 52.3 57.2 41 50 [694]
S1J09-20-240G | 1.5/8"X12 | 1.7/8"X12 | 56 60.7 48 55 | 834
S1J09-240G 1.7/8" X12 [ 1.7/8" X12 | 592 60.7 48 55 | 920 14
S1J09-320G 212" X12 | 242" X12 | 777 73.4 63 70 [2034[105

205/ = MR E

SEENICHMBLTA S/ Y IR 3

S1JB-WD JIC MALE 74° CONE/BSP MALE CAPTIVE SEAL
R 240 THREAD Jis} DIMENSIONS B
PART NO. T T2 L1 L2 L S1 g | Mpa
S1JB-04-02WD | 7/16" X20 | G1/8 " X28 14 8 30 14 26
S1JB-04WD 7/16 " X20 | G1/4 " X19 14 12 34.8 19 38
S1JB-04-06WD | 7/16" X20 | G3/8 " X19 14 12 35.7 22 52
S1JB-04-08WD | 7/16 " X20 | G1/2" X14 14 14 39.2 27 105
S1JB-05-02WD | 1/2"X20 | G1/8" X28 14 8 30 14 25
S1JB-05-04WD | 1/2"X20 | G1/4 " X19 14 12 348 19 25 |34.5
S1JB-05-06WD | 1/2"X20 | G3/8" X19 14 12 35.7 22 57
= S1JB-06-02WD | 9/16 " X18 | G1/8 " X28 14.1 8 31 17 32
S1JB-06-04WD | 9/16" X18 | G1/4" X19 | 14.1 12 35.1 19 44
S1JB-06WD 9/16 " X18 | G3/8" X19 | 14.1 12 36 22 58
S1JB-06-08WD | 9/16" X18 | G1/2" X14 | 14.1 14 39.4 27 101
S1JB-08-04WD | 3/4"X16 | G1/4"X19 | 16.7 12 39 19 61
S1JB-08-06WD | 3/4"X16 | G3/8"X19 | 16.7 12 39 22 59 | 31
S1JB-08WD 3/4"X16 | G1/2"X14 | 16.7 14 42 27 115
S1JB-08-12WD | 3/4"X16 | G3/4"X14 | 16.7 16 45.6 32 177 | 275
S1JB-10-06WD | 7/8"X14 | G3/8"X19 | 19.3 12 426 24 98
S1JB-10-08WD | 7/8"X14 | G1/2"X14 | 19.3 14 44.5 27 126
S1JB-10-12WD | 7/8"X14 | G3/4"X14 | 19.3 16 481 32 162]
S1JB-12WD 1116 " X12| G3/4"X14 | 21.9 16 50.9 32 211
S1JB-12-06WD | 1.1/16 " X12| G3/8" X19 | 21.9 12 47 27 | 157
S1JB-12-08WD | 1.1/16 " X12| G1/2" X14 | 21.9 14 49 27 160
S1JB—12-16WD | 1.1/16 " X12| G1 " X11 21.9 18 53.4 41 312 [ 20.5
S1JB-16-12WD | 1.5/16 " X12 | G3/4 " X14 | 23.1 16 527 36 | 245 | 21
S1JB—16WD 15/16"X12| G1 " X11 23.1 18 54.7 41 342 | 205
S1JB-16-20WD | 1.5/16 " X12 | G1.1/4 " X11|  23.1 20 58.7 50 | 382
S1JB—20-16WD | 1.5/8" X12 | G1 " X11 24.3 18 62.1 46 | 456 | 17
S1JB-20WD 15/8"X12 | G1.1/4 " X11| 24.3 20 60 50 | 488
S1JB—20-24WD | 1.5/8" X12 | G1.1/2" X11| 243 22 63.8 55 | 590 |10.5
S1JB-24-20WD | 1.7/8 " X12 | G1.1/4 " X11| 27.5 20 62 50 | 544 | 14
S1JB—24WD 17/8"X12 |G1.1/2" X11| 275 22 67.1 55 | 633|105

206/ =f R iR E =

il



° ®

ADAPTER % JIC,ORFSSAE,NPT AND NPSM Thread Fitting me SRS ADAPTER % Jic.ORFS SAENPT AND NPSM Thread Fiting DA MK E

90° ZRMHIJICHMRLL74° SMEE/ 2 I SMRELCT I [ K e 7 511SO 6149-3

KHICHMRLTA SME/ A TRISHREUR R I1ISO 6149-3 S1JH9-0G 90° ELBOW JIC MALE 74° CONE/METRIC MALE ADJUSTABLE STUD END L-SERIES 1SO 6149-3
S1JH JIC MALE 74° CONE/METRIC MALE END L-SERIES 1SO 6149-3
| | T #4. THREAD Ji5+ DIMENSIONS | TR
(197 240 THREAD JXo DIMENSIONS A (TR = PART NO. 1 T L1 L2 S1 S2 g | Mpa
) PART NO. T 12 L1 L2 L St 9 | Mpa S1JH9-04-100G | 7/16"X20 | M10X1 226 25 11 14 28
S1JH-04-10 | 7/16"X20 | M10X1 14 8.5 30 14| 21 S1JH9-05-120G | 1/2"X20 | Mi2X15 | 241 30 14 17 | 4 |315
S [ R e Lo L ol LT 34.5 5| [ S1JH9-06-140G | 9/16"X18 | M14X15 | 269 34.9 14 19 | 58
u S2
S1JH-06-14 | 9/16°X18 | M14X15 | 141 i 31 19 | 36 ) S1JH9-08-160G | 3/4"X16 | M16X1.5 | 318 35.9 19 22 o5
Sllcleis @y ot | Wlledls | i NS 5 2 & 1 | S1JH9-08-180G | 3/4"X16 | M18X15 | 31.8 36.8 19 24 | 110
E S1JH-08-16 | 3/4°X16 | M16X15 | 167 15 36 2 | 67 [/ S1JH9-10-180G | 7/8" X14 | M18X15 | 3658 40.7 22 24 | 125 E
S A i o e 125 =l 24 |74 1q15 i S1JH9-10-220G | 7/8"X14 | M22X15 | 36.8 417 22 27 | 167 24
S1JH-10-18 7/8°X14 | M18X15 | 193 12.5 a7 24 | 88 S1JH9-12-220G | 1116 " X12| M22X15 | 422 444 27 27 | 224
S1JH-10-22 iSRRI S| BRI2 2 )15 WS NI 00 Lo £ | S1JH9-12-270G | 1.1/16 " X12| M27X2 422 485 27 822|282
S1JH-12-22 |1.1716°X12| M22X15 | 219 13 45.5 27 | 160 S1JH9-16-330G | 1.5/16 " X12| M33X2 46 51.2 33 41 | 420
S1JH-12-27 | 1.1/16 "X12| M27X2 21.9 16 495 32 | 180 S R P A S D . 1 STIH9-16-2706DG
" e AL B e AT Ja , -16-
S1JH-16-27 1.5/16 - X12 M27X2 23.1 16 50.5 36 247 | 20 Note:If you interested to order the adapter with retainerring please insert suffix “DQ”
S1JH-16-33 | 1.5/16 " X12| M33X2 23.1 16 515 41 | 285 after our part NO.for example S1JH9-16-270GDQ
S1JH-20-42 | 1.5/8"X12 | M42X2 243 16 555 50 | 488 17
S1JH-24-48 | 1.7/8"X12 | M48X2 275 17.5 61 55 | 605 | 14
W WEMENSTER Y S “DQ” , wS1JH-24-48DQ.
Note:If you interested to order the adapter with retainerring please insert suffix “DQ”
after our part NO,for example S1JH-24-48DQ.
K HJICHMRL74° HIMHE/ T4 SMNBLSOTE B
S1JG JIC MALE 74° CONE/BSP MALE O-RING
e #2240 THREAD /) DIMENSIONS =& | TR
PART NO. T1 2 L1 L2 L S1 9 | Mpa
S1JG-04-02 | 7/16"X20 | G1/8 " X28 14 8 28.7 14 23 |, .
S1JH4-0G 45° TS HIIICHMRLTAS ShHE/ A HISMBLCT A 1 e R SISO 6149-3 gljg‘gj — ;ﬂg : ;‘;g g;ﬁg : Qg :j 12 gi ;Z ig
45° JIC MALE 74° CONE/METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3 10108 T 7me 00 1o xia o - 56 = 51315
(%2 U22L THREAD J&:f DIMENSIONS | TEED L S1JG-05-04 12" X20 | G1/4" X19 14 12 32 19 32 (345
PART NO. Tt 12 L1 L2 St S2 o | b2 - 2 $1JG-05-06 1/2"X20 | G3/8" X19 | 14 12 33 22 45 315
= S1JH4-04-100G | 7/16 "X20 | M10X1 215 235 11 14 26 = 51160604 | 916" x18 | Gi/a " x19 | 121 " ™ 1o 31 (345 -
S1JH4-04-120G | 7/16 "X20 | Mi2X15 | 215 275 11 17 36 S GO0 | @EEoen | 0 " =5 5 pE
" b - - & . 315
%l S1JH4-04-140G | 7/16"X20 | M14X15 | 22.3 28.3 14 19 40 | . o S1JG-06-08 | 9/16"X18 | G1/2" X14 | 141 14 38.6 57 94 il
S1JH4-05-120G | 1/2"X20 | Mi2X15 | 223 28.3 14 17 38 | e S dE | G e | TE T 5 = s e
S1JH4-05-140G | 1/2"X20 | M14X15 | 223 28.3 14 19 44 51 S1JG-0B-06 24 X16 | Ga/8" X19 | 167 " % o 50 | 31
S1JH4-06-140G | 9/16 " X18 | M14X15 | 22.3 28.3 14 19 47 S TR AN v T S
S1JH4-06-160G | 9/16"X18 | M16X1.5 | 22.3 29 16 22 58 S1G08-12 34" x16 | G3/4 " x1a | 167 s 124 6 136 20
S1JH4-08-160G | 3/4"X16 | Mi6X15 | 2658 30 19 22 79 | 25 SRR e e 5 B 7 =
S1JH4-08-180G | 3/4 " X16 M18X1.5 26.8 31 19 24 93 S1JG-10-08 78" X14 | G1/2" Xx14 | 193 14 43.9 27 118 &
S1JH4-10-160G | 7/8"X14 | M16X1.5 31 31 22 22 | 106 S as e RE emon | e v yoE S,
S1JH4-10-180G | 7/8"X14 | M18X1.5 31 32 22 24 [115] S1JG-12 1176 " X12 | Ga/a " Xda | 21.9 16 475 % 168
S1JH4-10-220G | 7/8"X14 | M22X15 31 33 22 27 | 136 R PR i = Vo W m
S1JH4-12-220G | 1.1/16 " X12| M22X1.5 355 345 27 27 | 182 51061612 11516 " x12| G3/4 " x14 | 231 6 475 36 188 20
S1JH4-12-270G | 1.116 " X12| M27X2 325 39.5 27 32 | 223 T eFmorcal o vher e = 5 T | s
S1JH4-16-270G | 1.5/16 " X12| M27X2 385 41 33 32 [206] 51161620 11516 " x121G1.1/2 " X11| 231 20 55 1 50 |38
S1JH4-16-330G | 1.5/16 " X12| M33X2 385 415 33 41 | 345 S s e G R BnE 0 o6 = |10 I
S1JH4-20-420G | 1.5/8 " X12 | M42X2 43 45 41 50 | 575 51JG2420 | 17/8 " x12 |G11/2" xi1| 275 20 604 0 |53
S1JH4-24-480G | 1.7/8" X12 | M48X2 49 49.5 48 55 766 | 14 S1JG_24 178" X12 | G112 x11| 275 >0 61 55 201]
IE: d RIS R “DQY . W S1JH4-16-270GDQ . - Vi RIS “DQ” . I $1JG-16-20DQ
Note:If you interested to order the adapter with retainer ring please insert suffix “DQ Note:|f you interested to order the adapter with retainer ring please insert suffix “DQ”
after our part NO,for example S1JH4-16-270GDQ after our part NO,for example S1JG-16-20DQ

207/ =M E =

208/ = MR &



® ®

g ADAPTER %8 JICORFS SAE,NPTAND NPSM Thread Fiting Sannke PLJE9)c  ADAPTER 3 JICORFS SAENPTAND NPSM Thread Fiting Sannke

45° TEHIIICHMRA74 HIMIE/ S HMRELOTE e W R AT I

. R JICHMRS74° HMHE/ I8 RS I H % &
S1JG4-0G 45° ELBOW JIC MALE 74° CONE/BSP MALE O-RING ADJUSTABLE STUD END S1JM-WD JIC MALE 74° CONE/METHIO THAEAD UALE GABTIVE SEAL
s JRE_THREAD S DIMENSIONS 5 | TR e 4. THREAD J-/ DIMENSIONS = 5T
AR LS L 2 il L2 S S2 9_|Mpa PART NO. T T2 L1 L2 L s1 g | Mpa
S1JG4-040G 7/16 " X20 | G1/4"X19 | 21 28 14 19 | 39 L Stveoa1owD T 7716 xao | Mo ” . o rym————
S1JG4-05-040G | 1/2"X20 | G1/4"X19 | 21 28 14 19 | 42 |315 u 2 o owh i xe0 T B 5 - > - R
S1JG4-06-040G | 916 " X18 | G1/4 ' X19 | 22 28 14 19 | 43 7 7%7 = S1IM_06_14WD | 9116 X18 | Mi4xis | 14.1 12 335 19 | 36 |45
S1J6G4-060G O/ ' X18 | G3/8'X19 | 23 %2 19 22 | 68 = 1+ - e [ S1UM-06-16WD | 9/16° X18 | Mi6X15 | 141 12 35.1 22 | 50
S1JG4-08-060G | 3/4"X16 | G3/8"X19 | 258 32 19 22 | 90 | 25 JE[ s oa1ewn | 32 xi6 T M | 167 5 s o0
E 21j§2‘?§0;0(3 gg ;(12 glg ilj{ 5;? 2: 22 Z E: ” _ » S1JM—08—18WD | 3/4"X16 | Mi8X15 | 16.7 12 39.1 24 |70 3 E
e e 1L S TN T T T TR
S1JG4-12-100G | 1.116 " X12| G5/8 " X14 | 34 385 27 30 | 196 - Stz 200D 1 115 X1z Mooxie | 219 . e 08| 24
S1JG4-12-160G |1.116 "X12| G1"X11 | 375 44 33 41 |308| 20 N VELE R ERTT I CIRE T 75 - P TRRETS
S1JG4-120G 14/16 " X12| G3/4 " X14 | 325 42 27 2 | 224 == TS _ ; 5
ey s ) SIS TR T T
S1JG4-160G 15/16 " X12| G1 " X11 38 44 33 41 | 358
S1JG4-200G 15/8" X12 | G1.1/4 " X11| 43 475 41 50 | 589
S1JG4—240G 17/8" X12 | G1.1/2 " X11| 49 515 48 55 | 776 | 14
VE: WECRYEEAMNR S G “DQ” . Wl S1JG4-160GDQ
Note:If you interested to order the adapter with retainer ring please insert suffix “DQ”
after our part NO,for example S1JG4-160GDQ
K HIJICHMRL74° HME/ SEHEE FMREI60° P HE
S1JT-SP JIC MALE 74° CONE/BSPT MALE 60° SEAT
90° 5 EHIJICHMRLLTA HIME/ e HM RSO 8l % A ] 1 A g
$1JG9-0G 90° ELBOW JIC MALE 74° CONE/BSP MALE O-RING ADJUSTABLE STUD END e #2 THREAD Ji</ DIMENSIONS 5 [T
I $R4L THREAD S DIMENSIONS R | L) 51?3)1\](%9 7/16T"1 X20 R1/8T?X28 :_41, |1_(2) 3L1 ?; 292 -
PART NO. T T2 L1 L2 s s2 9 | Mpa _ _
S1JG9-04-020G | 716 "X20 | G1B'Xe8 | 22.6 26.2 11 14 | 28 L IR iy 716 °X20 | R1/4°X19 | 14 12 36 14 |3
2 S1JG9-040G | 716 "X20 | GIA'X19 | 226 318 14 19 [ 46|, b 2 :jl:gg:gi:i :g i igg Exi _ i?g 1: 12 ;’; 1: ig 345
S1JG9-05-020G | 1/2"X20 | G1B'Xe8 | 24.1 27.7 14 14 | 33 . %L . .
T e s = s T | E — S1T-06-045P | 916" X18 | Rt/a”X19 | 14 12 36.3 17 | 35
ES o S1JG9-05-080G | 1/2"X20 | GIR'X19 | 285 36.8 19 22 | 75| 25 M:’ 213’1_82854@ 93//146“ ;(1168 2?2 . iig 11;"; 12 gg'g 13 22 x
) ] i S S1JG9-06-040G | 9116 " X18 | GI/A'X19 | 26.9 318 14 19 | 50 |315 I s e e T = — T & )
i S1JG9-06-080G | 9/16 " X18 | GaB8 " X19 29 36.8 19 22 | 80| 25 = & : ' '
TR S1JG9-08-040G | /4" X16 | GUA'X19 | 318 | 368 19 57 | 88 |315 S1JT-08SP 4 X16 | Ri/2"X14 | 167 14 45.5 22 | 98
i S1JG9-080G 34" X16 | G38'X19 | 31.8 36.8 19 22 | 100 zljljg:ggz:z Zg . Qi 2?2 : Qi 13'2 13 42; 22 1%94
Sl eatemn a0l sihe MLl el Dkl o 432 22 27 |18 o5 S1JT_10-125P | 7/8"X14 | R/ " x14 | 193 16 495 57 | 140 24
S1JG9-10-060G | 7/8 " X14 | G38'X19 | 36.8 37.1 22 36 | 125 ’ : ' '
SieeToosoa T 7 s T o xe T 368 15 = T S1T-12-085P | 1.1/16" X12| A12"X14 | 219 14 52.3 27 | 145
S1JG9-10-120G | 7/8" X14 | G34'X14 | 39.2 49.3 27 36 | 229 16 STJT=12SP 1116 " X12| R3/4 " X14 | 21.9 16 523 27 |64
e R - = —T1o6 | 22 S1T-12-165P | 1.1/16"X12| R1°X11 | 219 18 57.1 36 | 248|205
e 10506 1 116 xia | am xis | s 153 - T e S1T-16-125P | 1516 X12| R34 X14 | 231 16 53.6 36 | 234 21
S1JG9-12-160G | 1.1/16 " X12| G1"X11 | 447 52.1 33 41 | 365 S1JT-16SP 156" X12] R1°X11 | 231 18 58.4 86 | 2751205
cico 1006 T ee xis ol i s 252 - s oa S1T-20-165P | 168" X12 | Ri"X11 | 243 18 61.4 a6 |s92|
S1JG9-16-120G | 1.5/16 " X12| G3/4 " X11 46 52.1 33 41 | 428 16 S1JT-20SP 15/8°X12 |R11/4°X11] 243 20 62.2 46 | 447
e 2006 | ise xia G x| sas — e oo S1JT-24SP 17/8" X412 |R14/2" X11| 275 22 68.1 50 | 568|105
S1JG9-20-160G | 1.5/8 " X12 | Gl4"X11 | 52.3 57.2 41 50 | 712
S1JG9-24-160G | 1.7/8 " X12 | G1 " X11 59.2 60.7 48 50 |962]| 14
S1JG9-24-200G | 1.7/8 " X12 | GI14"X11 | 59.2 60.7 48 50 | 926 10
B WECEYEE AN S S “DQ” . W S1JG9-200GDQ
Note:If you interested to order the adapter with retainer ring please insert suffix “DQ”
after our part NO,for example S1JG9-200GDQ

209/ =R iR E 210/ =M &



® ®

LR ADAPTER % JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke LR ADAPTER %M JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke

YR SMBLL/JICIRLT4° A

907 GRS A Tl BT S2T1J BSPT MALE/JIC FEMALE 74° SEAT
S1JT9-SP 90° ELBOW JIC MALE 74° CONE/BSPT MALE
Sm ; 5 #40 THREAD S~k DIMENSIONS 5 | THE
o ASTEN o Tfj%ﬁ THREAET)Z = Ry D'“E'ENS'ONS = Egﬁ I&Eg] PART NO. T1 T2 L1 L s1 s2 9 |Mpa
: S2TJ-04 R1/4" X19 | 7/16" X20 12 29.1 14 14 98
S1JT9-04-02SP | 7/16" X24 | R1/8" X28 226 19.8 11 22 TNV S 008 i 589 o 7 %
S1JT9-04SP 716 X24 | R1/ATX19 | 266 277 14 40 S2TJ-04-06 | R1/4"X19 | 916" X18 | 12 208 14 19 | 113 |°o+°
: S1JT9-05-02SP | 1/2"X20 | R1/8" X28 24.1 19.8 14 22 :
Vi - . S2TJ-06 R3/8" X19 | 9/16" X18 12 30.1 19 19 155
); L e S1JT9-05-04SP | 1/2"X20 | R1/4" X19 26.6 27.7 14 41 345 SoTJ-04-08 R1/4°X19 | 3/2 " X16 12 318 19 o4 158
0 S1JT9-06-04SP | 9/16" X18 | R1/4" X19 26.9 27.7 14 42 ST 0608 R38 X190 | 34" X16 i 38 9 ” 189 31
E T T i S1JT9-065P O/16 ' X18 | R3/8 " X19 29 &L 16 65 S2TJ-08-10 R1/2"X14 | 7/8" X14 14 38.2 22 27 283 E
& glﬁz'gg'giz 93{/146" )2(1168 21; i - Q; 3?18 3;'13 fg 17010 S2TJ-08-12 R1/2"X14 [1.116"X12| 14 39.6 27 32 353 24
— : S2TJ-12 R3/4 " X14 [1.1/16 " X12 16 39.6 27 32 454
zljig‘g:;?fsp 2;: - i:g ;3;2 . QZ 2;'2 3313 ;Z 18237 31 S2TJ-12-16 R3/4" X14 [15/16"X12| 16 42.9 32 41 547 | 21
= : : S2TJ-16 R1"X11 |[15/16"X12| 18 47.8 36 41 693 | 20.5
glﬁz'lg'ggiz ;jz i Q;‘ Efg i Qi ggg 232 52 ];g S2TJ-20 R1.1/4 " X11| 1.5/8"X12 | 20 52 46 50 [1130] 17
S1JT9-10-12SP | 7/8" X14 | R3/4" X14 39.2 40.4 27 182 | 24
S1JT9-12-08SP | 1.1/16 " X12| R1/2" X14 42.2 40.4 27 198
S1JT9-12SP 1.1/16 " X12| R3/4 " X14 422 40.4 27 224
S1JT9-16-12SP | 1.5/16 " X12| R3/4 " X14 46 45.2 33 300 | 21
S1JT9-16SP 15116 " X12| R1 " X11 46 50 33 377 | 205
S1JT9-20-16SP | 1.5/8" X12 | R1" X11 52.3 59.7 41 531
S1JT9-20SP 1.5/8" X12 | R1.1/4 " X11 52.3 60.5 41 660
S1JT9-24SP 1.7/8" X12 | R1.1/2 " X11 59.2 67.1 48 878 | 10.5
ANHISMZLE R FISO 6149-3/JICHIRL74° P4k
S2HJ METRIC MALE END L-SERIES ISO 6149-3/JIC FEMALE 74° SEAT
e 140 THREAD JUs) DIMENSIONS 5 (TR
PART NO. 1 T2 L1 L S1 S2 g | Mpa
® S2MJ-WD NS R /JIC RS T4 Py — | S2HJ-10-04 M10X1 7/16 " X20 8.5 16.4 14 14 62 x
METRIC THREAD MALE CAPTIVE SEAL/JIC FEMALE 74° SEAT — S2HJ-12-05 M12X1.5 1/2 " X20 11 20.8 17 17 80 |34.5
il ._ _ S TRERD - 1] Tl S2HJ-14-06 M14X15 | 9/16 " X18 11 21.4 19 19 125 il
- (9= R JX:I DIMENSIONS i | TR S2HJ-16-08 M16X1.5 3/4" X16 11.5 22.8 22 24 190 | 31
PART NO. T 12 L1 L S1 S2 o e o S2HJ—22-10 M22X1.5 | 7/8" X14 13 228 27 27 | 340 24
S2MJ-10-04WD_| _M10X1__| 7/16 " X20 8 24 14 14 | 65 = S2HJ-27-12 M27X2 | 1.1/16"X12| 16 234 32 32 | 578
S2MJ-12-05WD | M12X1.5 | 1/2" X20 12 28.8 17 17 80 |34.5 S2HJ—33-16 M33X2 1516 X12| 16 575 a1 a1 633 ] 2°
S2MJ-14-06WD | M14X1.5 | 9/16" X18 12 30.4 19 19 134 . TRBEWERS SN DO . & S2HI22-10DC
" *e WIS A , —-22—
zgmj_;g_?gag m;gil: 3;3 - ;(L? :‘21 232 53 2‘71' 132; :l Note:If you interested to order the adapter with retainerring please insert suffix “DQ”
_oo_ . . after our part NO,for example S2HJ-22-10DQ
S2MJ-27-12WD | M27X2 1.116"X12| 16 415 32 32 535 | 24
S2MJ-33-16WD | M33X2 15/16"X12| 18 452 41 41 815 | 21

211/ =M R E == 212/ =M R E



®

%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke of ek

ADAPTER ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

SAE SMELGHOJE Bl R51/JICHIRE74° PIHE

FHIIICHMNERLT4° SRR AL 325 =T

S20J SAE O-RING BOSS L-SERIES/JICFEMALE 74° SEAT SAJJ6J-LN JIC MALE 74° CONE BULKHEAD RUN TEE
5 24 THREAD J&t DIMENSIONS TR (TS R i22 THREAD JF DIMENSIONS A | TS
) PART NO. = > X 1 o = g | Mpa PART NO. iF T2 3 L1 | L2 | L3[4 ] s1] s2| 9 |Mpa
= S20J-04 216" %20 | 7116 * X20 9.14 045 14 14 80 ] SAJJBJ-04LN | 7/16"X20 | 716" X20 | 716" X20 | 24.6 | 246 | 40.4 | 26 | 11 | 17 | 62
- 1] R SBECE | R0 e o = 1 o ‘ : = SAJJBJ—05LN | 1/2"X20 | 12°X20 | 12" X20 | 26.9 | 26.9 | 43.7 | 26 | 14 | 19 | 82 | 345
=g A o S20J-05 120%x20 | 1/2" X20 9.14 o5 7 7 82 |315 == _| SAJJBJ-06LN | 9/16° X18 | 916" X18| 9r6"X18| 27.7 | 27.7 | 46 | 27.7 | 14 | 22 | 101
1 \ T TR e 26 7 T RS T e SAJJBJ—0BLN | 34" X16 | 34" X16 | 34°X16 | 34.5 | 345 | 53.6 | 31.7 | 19 | 24 | 205 31
Emn S S200-04-08 16" %20 | 9116 " X18 514 45 " 19 % u = SAJJBJ—T0LN 7/8"3(14 7/8"3(14 7/8“.).(14 396 | 39.6 | 607 | 353 | 22 | 30 [300|
E onas e L gnaiin Jlemerill i s L I SAMI1slN gt Xasts xisi 16 xid 405 | dos | 711 305 | ss | 41 [7te | 2i
S20J-08 34" X16 | 3/4"X16 1113 30 22 24 | 230 - - - : : : : -
SO S5 T% 0 | osEn 093 = 19 R 51 s SAJJ6J—20LN | 158" X12|158"X12[ 158" X12| 551 | 55.1 | 792 | 41 | 41 | 50 [1200] 17
S20J-10-08 28" %14 | 34" X16 12.7 37 > o4 | 319 SAJJBJ-24LN  [17/8" X12[178" X12| 178" X12| 59.4 | 59.4 | 86.9 | 44.3 | 48 | 55 [1489| 14
S20J-10 718" X14 | 7/8" X14 12.7 34 27 27 a2 2
S20J-08-10 34" X16 | 7/8" X14 11.13| 295 22 27 | 248 25
S20J-12-10 | 1.1/16 " X12| 7/8 " X14 15.1 36 32 27 | 505
S20J-12 1116 " X12|1.116 " X12|  15.1 37.5 32 32 | 473 | 24
S20J-10-12 7/8"X14 |[1.1/16"X12| 127 385 27 32 | 374
S20J-16-12 | 1.5/16 " X12|1.1/16 " X12|  15.1 42 41 32 751 | 21
S20J-16 1516 " X12 | 1.5/16 " X12| 15.1 42 41 a1 | 737 SAJJO-0G KiMJICHMRLLTA ShifE/SABSMRLLHTOJY Mol R 5111SO11926-3 1:3 =il
$20J-12-16 1.1/16 " X12| 1.5/16 " X12 15.1 385 36 41 581 20 = JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES ISO 11926-3 RUN TEE
S20J-20 1.5/8" X12 | 1.5/8 " X12 15.1 46.5 50 50 | 969 | 16 :
. ke #4. THREAD Fi<} DIMENSIONS F 8| T
- PART NO. T ™ ) L1 L2 L3 S1 S2 | 9 |Mpa
SAJJO-040G | TH6"X20 | 716" X20 | 716" X20 | 22.6 | 22.6 | 26.2 11 14 | 43
SAJJO-050G | 12"X20 | 12°X20 | 12'X20 | 24.1 | 241 | 287 | 14 17 | 56 |31.5
L SAJJO-060G | 9/16"X18 | 916" X18 | 9/16" X18 | 26.9 | 26.9 | 31.8 | 14 17 | 74
A ¥ SAJJO—080G | 34"X16 | 34°X16 | 34"X16 | 31.8 | 31.8 | 36.8 | 19 22 |[157 | 31
Rl SAJJO-100G | 7/8"X14 | 78"X14 | 7/8"X14 | 36.8 | 36.8 | 432 | 22 27 | 226
KHIICHMRL T4 SR 7 =T SAJJO-120G  |1.116" X12[1.116" x12[1116" 12| 42.2 | 422 | 493 | 27 32 |a7a| 2
SAJ6JJ-LN JIC MALE 74° CONE BULKHEAD BRANCH TEE SAJJO-160G  |15/16" X12|15/46" X12[1516 " X12| 46 46 52.1 33 41 [569]
5 A2 THREAD JU} DIMENSIONS 5| THEN SAJJO-200G |15/ X12|15/8"X12|16/8"X12| 523 | 523 | 57.2 41 50 | 923
2 PART NO. T T2 3 T T2 3w st s2] g |Ma SAJJO-—240G | 178" X12[ 178" x12| 178" x12| 59.2 | 592 | 60.7 | 48 55 |1236] 16
S i ‘ SAJBJI-04LN | 716" X20 | 7/16"X20 | 716" X20 | 24.6 | 40.4 | 246 | 26 | 11 | 17 | 62
&l X | SAJBJJ—0LN | 1/2"X20 | 1/2"X20 | 1/2"X20 | 26.9 | 43.7 | 269 | 26 | 14 | 19 | 82 | 345
i | SAJBJJ-0BLN | 9/16"X18 | 9/16" X18 | 9/16" X18 | 27.7 | 46 | 277 | 27.7 | 14 | 22 | 101
== 1 SAJBJJ-08LN | 3/4"X16 | 3/4"X16 | 3/4"X16 | 345 | 536 | 345 | 31.7 | 19 | 24 | 205 31
2l a SAJBJI-TOLN | 7/8"X14 | 7/8"X14 | 7/8"X14 | 39.6 | 60.7 | 39.6 [ 363 | 22 | 30 [ 300 UG EETA® S SAEAMES OB R F1ISO011926-34 % = i
SAJBJJ-12LN _ |1.1/16 " X12|1.1/16 * X12|1.1/16 " X12| 45.2 | 67.8 | 45.2 | 39.5 | 27 | 36 | 487 SAJOJ-0G JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES ISO 11926-3 BRANCH TEE
SAJBL-14LN__[1.8/16" X12]1.3/16 " X12[1.3/16 " X12| 48.8 | 71.1 | 488 [ 305 | 30 | 38 |625] - ‘ -
SAJBJJ-16LN _|15/16 " X12[1.5/16* X12[1.5/16 " X12| 49.3 | 71.1 | 49.3 | 395 | 33 | 41 | 717 i} L5 LIS S e =V it | T
SAJBJJ—20LN | 15/8" X12 | 158" X12 | 1.58" X12| 551 | 79.2 | 551 | 41 | 41 | 50 |1200] 17 PART NO. T 12 13 L1 L2 L3 S1 S2 | 9 |Mpa
SAJBJJ—24LN | 1.7/8" X12 | 1.7/8" X12 | 1.7/8 " X12 | 59.4 | 86.9 | 59.4 | 443 | 48 | 55 |1489| 14 SAJOJ-040G | 716" X20 | THG"X20 | 716°X20| 226 | 26.2 | 22.6 | 11 14 | 42
. | SAJOJ—050G | 12°X20 | 12"X20 | 12" X20 | 241 | 287 | 24.1 14 17 | 56 | 315
T R T SAJOJ-060G | 9/16"X18 | 916" X18 | 9116 X18 | 26.9 | 31.8 | 26.9 | 14 17 | 74
1 ;;—,_d]l' SAJOJ-080G | 34"X16 | 3/4"X16 | 3/4"X16 | 31.8 | 36.8 | 31.8 19 22 | 157 | 31
| Y SAJOJ-100G 78'X14 | 7/8"X14 | 7/8"X14 | 36.8 | 432 | 36.8 22 27_|227| ,
SAJOJ—120G  |11M6" X12[1.116" X12[1.1M6 " X12| 422 | 49.3 | 422 | 27 32 | 373
SAJOJ-160G  |15M16"X12[15/16" X12[1516" X12| 46 | 521 | 46 33 41 | 569 20
SAJOJ-200G | 156" X12| 156" X12| 158" X12| 52.3 | 57.2 | 523 | 41 50 |922| 16
SAJOJ—240G | 178" X12| 178" X12| 178" x12| 59.2 | 60.7 | 59.2 | 48 55 |1236] 14

213/ =t A dE s

214/ = fm s &z

il



Pk

ADAPTER

®
%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |(e

»

Pk

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

il

il

S1F

JHIORFSHMRLLOI Fe I I i
ORFS MALE O-RING

T2

S1F9

L2

215/ =i &z

R 240 THREAD JUs DIMENSIONS TR TN
PART NO. T1 T2 L |L1] L2 S1| g |Mpa
S1F-04 9/16 " X18 | 9/16 " X18 275| 10 | 10 17 | 31
S1F-06 11/16 " X16 | 11/16 " X16 31 | 11 | 11 19 | 48 | 63
S1F-08 13/16 " X16 | 13/16 " X16 355| 13 | 13 22 | 67
S1F-10 1" X14 1" X14 425|155|15.5 27 | 121
S1F-12 1.3/16 " X12| 1.3/16 " X12 47 | 17 | 17 32 | 183 | 40
S1F-16 1.7/16 * X12 | 1.7/16 " X12 495|17.5|17.5 41 | 281
S1F-20 1.11/16 " X12[1.11/16 " X12 515|17.5/17.5 46 | 356
S1F-24 2" X12 2" X12 53 |[17.5|17.5 55 | 503 | 2°

90° %5 iHIORFSAHMERLLO I V- Ifii % £
90° ORFS MALE O-RING

R 124 THREAD Ji~} DIMENSIONS B TR
PART NO. T1 T2 1] L2 S1 | (@ | Mpa
S1F9-04 9/16 " X18 | 9/16" X18 215|215 14 | 42
S1F9-06 11/16 " X16 | 11/16" X16 25 | 25 19 | 72 | 63
S1F9-08 13/16 " X16 | 13/16" X16 28 | 28 19 | 98
S1F9-10 1" X14 1" X14 335|335 27 | 176
S1F9-12 1.3/16 " X12 | 1.3/16 " X12 375|375 30 | 270 | 40
S1F9-16 1,716 " X12 | 1.7/16 " X12 415|415 36 | 406
S1F9-20 1.11/16 " X12| 1.11/16 " X12 445|445 41 | 541
S1F9-24 2" X12 2" X12 49 | 49 50 | 800 | 2°

S2F

S HIORFSHMERSLOTE Vel - i % £ /ORFS A #R A
ORFS MALE O-RING/ORFS FEMALE

Y

5 124 THREAD JU~) DIMENSIONS T (TR
PART NO. e T2 L Lt st]s2 g |Mpa
S2F-04 9/16 " X18 | 9/16 " X18 33 | 10 | 17 | 19 37
S2F-04-06 9/16 " X18 | 11/16 " X16 345| 10 | 17 | 22 40
S2F-04-08 9/16 " X18 | 13/16 " X16 365| 10 | 19 | 27 42
S2F_06-04 1116 " X16 | 916 " X18 355| 11 | 19 | 19 57 | 83
S2F-06 1116 " X16 | 11/16 " X16 385| 11 | 19 | 22 62
S2F-06-08 1116 " X16 | 13/16 " X16 37.7] 11 | 19 | 27 62
S2F-06-10 116" X16 | 1" X14 437] 11 | 24 | 30 73 | 40
S2F_08-06 13/16 " X16 | 11/16 " X16 41| 13 | 22 | 22 82 | 63
S2F-08 13/16 " X16 | 13/16 " X16 43 | 13 | 22 | 27 89
S2F-08-10 1316 " X16 | 1" X14 455] 13 | 24 | 30 95
S2F-08-12 13/16 " X16 | 1.3/16 " X12 49 | 13 | 30 | 36 101
S2F-10-08 1" X14 | 13/16 " X16 475|155 27 | 27 146 | 40
S2F-10 1" X14 1" X14 515|155| 27 | 30 156
S2F-10-12 1°X14 | 1.3116 " X12 515|155 30 | 36 160
S2F-10-16 1°X14 | 1.7716 " X12 56 | 155| 36 | 41 172
S2F—12-08 | 1.3/16 " X12| 13/16 " X16 505| 17 | 82 | 27 213 | 63
S2F—12-10 | 1.3/16" X12| 1"X14 545| 17 | 32 | 30 208
SoF-12 1.316 " X12 | 1.316 " X12 56 | 17 | 32 | 36 236
S2F-12-16 | 1.3/16 " X12 | 1.7/16 * X12 58 | 17 | 36 | 41 245 | 40
SOF-16-12 | 1.7/16 " X12 | 1.3/16 * X12 58 |17.5| 38 | 36 330
S2F—16 17/16 " X12 | 1.7/16 * X12 60 | 17.5] 38 | 41 345
S2F-16-20 | 1.7/16 " X12|1.11/16 * X12 62 |17.5] 41 | 50 356 | 25
S2F-20-16  |1.11/16 " X12| 1.7/16 * X12 58.5|17.5| 46 | 41 415 | 40
S2F-20 11116 * X12|1.11/16 * X12 62 |17.5| 46 | 50 443
SoF-20-24  |1.11/16" X12| 2" X12 65.5|17.5| 50 | 60 269
S2F—24-20 2"X12  |111/16 " X12 64 |17.5] 55 | 50 607
SoF-24 2" X12 2" X12 64 |17.5] 55 | 60 614

90° %5 S ORFSAMERLLOTE el -1 % J5F / ORF S Py B 4L
90° ELBOW ORFS MALE O-RING FEMALE

T 124, THREAD R<f DIMENSIONS | dfit [T fF/]
PART NO. T T2 1] L2 s1]s2 g | Mpa
S2F9-04 916" X18 | 9/16 " X18 215|265 14 | 17 56
S2F9-06 11716 X16 | 11/16 " X16 25 | 29 | 19 | 22 90 | 63
S2F9-08 13/16" X16 | 13/16 " X16 28 | 38 | 19 | 24 137
S2F9-10 1" X14 1" X14 335| 41 | 27 | 30 230
S2F9-12 1316 " X12 | 1.3/16 " X12 375|465 30 | 36 355 | 40
S2F9-16 17716 " X12 | 1.7/16 * X12 415|535]| 36 | 41 547
S2F9-20 111716 X12 [1.11/16 " X12 445| 58 | 41 | 50 734
S2F9-24 2" X12 2" X12 49 | 61 | 50 | 60 1055

216/ =t A EE

ES
il



®

®
li}ﬁil‘g%% ADAPTER %1 JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa NN ke ﬁ)ﬁf]%% ADAPTER %1 JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke

K HORFSHMASLOJE & T~ 2 4 — 18 K H|ORFSHMZRSLOJE e V- T 2 ) 34 Sk

SAF ORFS MALE O-RING TEE S4F ORFS MALE O-RING PLUG

o 4. THREAD JsF DIMENSIONS | it [T/l 1 5 URZL THREAD J&s; DIMENSIONS | it [T/EE)

= PART NO. T T2 T3 L1 | L2 | L3 | S1 g | Mpa [, PART NO. T L | L1 st g | Mpa
SAF-04 9/16 " X18 | 9/16" X18 | 9/16" X18 |21.5(21.5|21.5| 14 68 S4F-04 9/16 " X18 16.5| 10 | 17 20

i SAF-06 11/16 " X16 | 11/16 " X16 | 11/16 " X16 | 25 | 25 | 25 | 19 106 | 63 JE= S4F-06 11/16 " X16 19 | 11 | 19 32 | 63
=E—'— o SAF-08 13/16 " X16 | 13/16 " X16 | 13/16 " X16 | 28 | 28 | 28 | 19 148 S4F-08 13/16 " X16 22 | 13 | 22 48
- _ SAF-10 1" X14 1" X14 1"X14 |3838.5(33.5|335| 27 262 i l'|S1 S4F-10 1"X14 26 |155| 27 85

u T SAF-12 1.3/16 " X12|1.3/16 " X12 | 1.3/16 " X12 | 37.5|37.5|37.5| 30 401 | 40 - S4F-12 1.3/16 " X12 275] 17 | 32 123 | 40
SAF-16 1.7/16 " X12 | 1.7/16 " X12|1.7/16 " X12 | 41.5|41.5|41.5| 36 612 - S4F-16 1.7/16 " X12 28 [17.5| 41 187

E P SAF-20 1.11/16 " X12|1.11/16 " X12|1.11/16 " X12| 44.5 | 44.5| 445 | 41 816 S4F-20 1.11/16 " X12 28 [17.5] 46 235 | E

SAF-24 2" X12 2" X12 2"X12 | 49 | 49 | 49 | 48 1195] 2 S4F-24 2" X12 28 [17.5] 55 326

FHORFS W HRSCTA % 15 K

o . N S9F ORFS FEMALE PLUG
K H|ORFSHMRLLOTY I~ If1i % I / 5 HIORFS A AL 43 3 =1 - - -
ORFS MALE O-RING/ORFS FEMALE BRANCH TEE RE 240 THREAD /5t DIMENSIONS | itk [T
PART NO. 1 L1 S1| 9 |Mpa
re 24 THREAD /s DIMENSIONS | &t [T/ ‘ SOF-04 9/16 " X18 8.5 19 | 14
PART NO. iB T2 T3 L1 [e[3[s1[s2]| 9 [Mpa X - o ey = 5eE| o3
SBF-04 9/16 " X18 | 9/16" X18 | 9/16" X18 |21.5/26.5|21.5] 14 | 19 | 80 SOF_08 1316 " X16 » 27 | 38
SBF-06 11716 " X18 | 11/16 " X18 | 11/16 "X18 | 25 | 29 [ 25 | 19 | 22 | 130 | 63 LL_-;i R v 58 20 1 70
SBF-08 13/16 " X18 | 13/16 " X18 | 13/16 "X18 | 28 | 38 [ 28 | 19 [ 27 | 195 SOF_12 1316 " X12 15 36 110 40
SBF-10 1" X14 1" X14 1"X14 [335] 41 [335] 27 | 30 | 333 R =t = IR
SBF-12 1.3/16 " X12[1.3/16 " X12 | 1.3/16 " X12[37.5| 465 37.5| 30 | 36 | 513 40 SOF_20 11116 " X12 15 =0 | 220
SBF-16 1.7/16 " X12[1.716 * X12[1.7/16 " X12 [ 41.5 | 535|415 36 | 41 | 785 ) T 1 50 330 2
SBF-20 1.11/16 * X12[1.11/16 * X12]1.11/16 * X12| 44.5] 58 [445] 41 | 50 |1052]
SBF-24 2" X12 2" X12 2"x12 | 49 [ 61 | 49 [ 48 | 60 [1525
=3 S
" P #l
FHORFSHMERELL O W~ 1 2 4= ik Az Sk
S6F-LN ORFS MALE O-RING BULKHEAD
. e N (i 14 THREAD JUsI DIMENSIONS HE TR
SCF ORI RS BARMIEHOIRTS FARALE LI TEE ET—— S6F-04LN 9/16 " X18 | 9/16" X18 48 | 10 [315] 22 | 22 | 75
1’5 1220 THREAD J5} DIMENSIONS | difit [T{] = S6F—06LN 11716 " X16 | 11/16 " X16 53 | 11 | 34 | 27 | 27 [124] 63
PART NO. T T2 T3 L1 [l2[3][s1][s2] g |Mpa T 2% I S6F-08LN 13/16 " X16 | 13/16 " X16 58.5| 13 [36.5] 30 [ 30 | 169
SCF-04 9/16 " X18 | 9/16" X18 | 916" X18 [21.5/21.5/26.5| 14 | 19 | 80 UL P S6F—10LN 1"X14 1" X14 66.5|15.5]40.5| 36 | 36 | 281
SCF-06 11716 " X18 | 1116 " X18 | 11/16 "X18 | 25 | 25 | 29 | 19 | 22 [ 130 63 L Ly S6F-12LN 1.316 " X12[1.3/16 " X12 69 | 17 [415] 41 [ 41 | 365] 40
SCF-08 13/16 " X18 | 13/16 " X18 | 13/16"X18 | 28 | 28 | 38 | 19 | 27 | 195 - S6F-16LN 17716 " X12[1.716 " X12 70 [17.5] 42 | 46 | 46 [ 494
SCF-10 1" X14 1" X14 1"X14 [335(335] 41 | 27 [ 30 | 333 S6F-20LN  [1.11/16 " X12[1.11/16 * X12 70 [175] 42 | 50 | 50 [ 587
SCF-12 1.3/16 " X12[1.3/16 " X12 | 1.3/16 " X12|37.5|37.5|46.5| 30 | 36 | 513 | 40 S6F—24LN 2" X12 2" X12 70 [175] 42 | 60 | 60 | 810
SCF-16 1.7/16 " X12[1.716 * X12[1.7/16 " X12 [ 41.5 | 415 53.5| 36 | 41 | 785
SCF-20 1.11/16 * X12[1.11/16 * X12[1.11/16 * X12[ 44.5 | 44.5] 58 | 41 | 50 [1052]
SCF-24 2" X12 2" X12 2"x12 | 49 [ 49 | 61 [ 50 | 60 [1525

217/ =M == 218/ =t i EE st



®

LR ADAPTER % JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke S UR LR

ADAPTER

®

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

90° 535 HIORFSAMELLOT I Y. i 4t b S S1FN9
S6F9-LN 90° ELBOW ORFS MALE O-RING BULKHEAD
R 4 THREAD Js} DIMENSIONS | &4 |15
e PART NO. T T2 L1 | 2| w3|[st]s2| g |[Mpa
Ll S6F9—04LN 9/16 " X18 | 9/16 " X18 225| 47 [315] 14 | 22 | 85
2 bg', S6F9-06LN 11/16 " X16 | 11/16 " X16 26 | 52 | 34 | 19 | 27 [ 137 63
= S6F9—08LN 13/16 " X16 | 13/16 " X16 29 [555/36.5| 19 | 30 | 185 =
- | S6F9—10LN 1" X14 1" X14 345| 63 |405| 27 | 36 | 313
o= S6F9-12LN 1.3/16 " X12| 1.3/16 * X12 385| 67 |41.5| 30 | 41 | 435 | 40
I S6F9-16LN 1.7/16 * X12| 1.7/16 * X12 425 71 | 42 | 36 | 46 | 638
E S6F9-20LN 1.11/16 " X12[1.11/16 * X12 45.5|755| 42 | 41 | 50 | 822
S6F9-24LN 2" X12 2" X12 495|795 42 | 48 | 60 |1180
e HIORFSHMRILOE B V- i 2 /A Ak AR ST
S1FN ORFS MALE O-RING/NPT MALE S1FO
foe #2. THREAD R DIMENSIONS | % & | Tt
PART NO. i 2 L] L] st g | Mpa
S1FN-04-02 9146 " X18 | NPT1/8" X27 27 [ 10 | 10 | 17 27 [34.5
S1FN-04 916 " X18 | NPT1/4"X18 32 | 10 [14.5] 17 33 [27.5
S1FN-04-06 916 " X18 | NPT3/8" X18 33.5| 10 |14.5| 19 45 |
i S1FN-04-08 916 " X18 | NPT1/2" X14 38.5| 10 |19.5] 22 67
TR T S1FN-06-04 1116 " X16 | NPT1/4"X18 32 | 11 [14.5] 19 40 [27.5 )
- S1FN-06 11116 " X16 | NPT3/8" X18 34 | 11 [14.5] 19 49 ]
A 21 L L2
S o—— S1FN-06-08 1116 * X16 | NPT1/2" X14 39.5| 11 |19.5] 22 72 =
= ._IJ.E-_;JLQ S1FN-08-04 13116 " X16 | NPT1/4"X18 37.5| 13 |14.5] 22 60 |27.5
il | CT S1FN-08-06 1316 " X16 | NPT38" X18 37.5| 13 [14.5] 22 65 | ,, r L o
S1FN-08 1316 " X16 | NPT1/2" X14 415 13 [19.5] 22 77
S1FN-08-12 13116 " X16 | NPT3/4" X14 43 | 13 [19.5] 30 120 17 L
S1FN-10-06 1"X14 | NPT3/8"X18 41.5(15.514.5] 27 103 | 21
S1FN-10-08 1"X14 | NPTI/2"X14 46 |15.5/19.5| 27 115] 21
S1FN—10-12 1"X14 | NPT3/4'X14 46 |15.5/19.5| 30 142 17
S1FN-12-08 | 1.316 " X12 | NPT1/2"X14 49 | 17 [19.5] 32 160 | 21
S1FN-12 1316 " X12 | NPT3/4" X14 49 | 17 [19.5] 32 176 | 17
S1FN-12-16 | 1.3/16 " X12 | NPT1"X115 54 | 17 |24.5] 36 230 | 14
S1FN-16-12 | 1.746 " X12 | NPT3/4" X14 51 |17.5/19.5| 41 270 17
S1FN-16 1716 " X12 | NPT1' X115 55.5(17.5|24.5| 41 283 14
S1FN-16-20 | 1.7/16 " X12 |NPT1.1/4" X115 58.5/17.5|25.5| 46 390| 8
S1FN-20-16 | 1.11/16 " X12| NPT1"X115 57.5/17.5|24.5| 46 345 | 14
S1FN-20 11116 " X12 [NPT1.1/4 " X115 58.517.5|25.5| 46 395| 8
S1FN-24 2'X12  [NPTI.12" X115 61 |17.5/26.5| 55 552 | 7

219/ =M E

90° 255 | ORFSHMZRLLOTE M- 1 /A1 HEE S MFLL
90° ORFS MALE O-RING/NPT MALE

5 124 THREAD R DIMENSIONS | TR
PART NO. T1 T2 L1 | L2 | S1 g | Mpa
S1FN9-04-02 9/16 " X18 | NPT1/8"X27 21.5(20.5| 14 33 (34.5
S1FN9-04 9/16 " X18 | NPT1/4"X18 21.5(25.5| 14 43 |, &
S1FN9-06-04 11/16 " X16 | NPT1/4"X18 25 |27.5| 19 61
S1FN9-06 11/16 " X16 | NPT3/8" X18 25 | 31 | 19 84
S1FN9-06-08 11/16 " X16 | NPT1/2" X14 29.5(37.5| 22 2] .
S1FN9-08-06 13/16 " X16 | NPT3/8" X18 28 | 31 | 19 95
S1FN9-08 13/16 " X16 | NPT1/2" X14 31 | 37 | 22 114
S1FN9-08-12 13/16 " X16 | NPT3/4" X14 33.3(40.5| 27 170 | 17
S1FN9-10-08 1" X14 NPT1/2 " X14 33.5| 40 | 27 172 | 21
S1FN9-10-12 1" X14 NPT3/4 " X14 36 |40.5| 27 216 | 17
S1FN9-12-08 1.3/16 " X12 | NPT1/2" X14 37.3(40.5| 30 228 | 21
S1FN9-12 1.3/16 " X12 | NPT3/4" X14 37.3|45.5| 30 275| 17
S1FN9-12-16 1.3/16 " X12 | NPT1"X115 41 | 50 | 33 363 | 14
S1FN9-16-12 1.7/16 " X12 | NPT3/4" X14 42 | 46 | 36 360 | 17
S1FN9-16 1.7/16 " X12 | NPT1" X115 42 |50.5| 36 433 14
S1FN9-20-16 | 1.11/16 " X12| NPT1"X11.5 45 |54.5| 41 530
S1FN9-20 1.11/16 " X12|NPT1.1/4" X115 45 | 60 | 41 574| 8
S1FN9-24 2"X12  |NPT1.1/2" X115 48.8| 67 | 48 972| 7

% HIORFSHMELLO I I8 - 1 4 45t /52 I SAEAMER L O JE Pl 5 £ 411SO 11926-2
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES I1SO 11926-2

5 122r THREAD R~} DIMENSIONS w5 (T
PART NO. T T2 L | L1]| L2 | St g | Mpa
S1FO-04 9/16 " X18 | 716" X20 28.7) 10 | 11 | 17 30
S1FO-04-05 9/16 " X18 1/2 " X20 28.7| 10 | 11 | 17 32
S1FO-04-06 9/16 " X18 | 916 " X18 30.5/ 10 | 12 | 19 41
S1FO-04-08 9/16 " X18 3/4 " X16 33.6| 10 | 14 | 22 65
S1FO-06-04 1116 " X16 | 7/16 " X20 31 | 11 | 11 | 19 40
S1FO-06-05 1116 " X16 | 1/2" X20 309 11 | 11 | 19 42 | oo
S1FO-06 1116 " X16 | 9/16 " X18 31.9| 11 | 12 | 19 45
S1FO-06-08 1116 " X16 | 3/4 " X16 35 | 11 | 14 | 22 70
S1FO-06-10 1116 " X16 | 7/8 " X14 38.5| 11 | 16 | 27 105
S1FO-08-06 13/16 " X16 | 9/16 " X18 345 13 | 12 | 22 55
S1FO-08 1316 " X16 | 3/4 " X16 36.6| 13 | 14 | 22 68
S1FO-08-10 1316 " X16 | 7/8" X14 40.5| 13 | 16 | 27 106
S1FO-08-12 13/16 " X16 | 1.1/16 " X12 44.5| 13 |18.5] 32 165
S1FO-10 1" X14 7/8 " X14 43.1(15.5| 16 | 27 117
S1FO-10-08 1" X14 3/4 " X16 41 |15.5| 14 | 27 102] o
S1FO-10-12 1" X14 1.1/16 " X12 47 |15.5(18.5| 32 175
S1FO-12-10 1316 " X12 | 7/8" X14 46 | 17 | 16 | 32 153
S1FO-12 1316 " X12 | 1.1/16 " X12 48.6| 17 |18.5| 32 182
S1FO-12-16 1.3/16 " X12 | 15/16 " X12 49.8| 17 |18.5| 38 264
S1FO-16-12 1.7/16 " X12 | 1.1/16 " X12 50 |17.5/18.5| 38 216
S1FO-16 1.7/16 " X12 | 15/16 " X12 50.3(17.5|18.5| 41 279
S1FO-16-20 1716 " X12 | 158" X12 52 |17.5(/18.5| 50 481
S1FO-20-16 11116 " X12| 1.5/16 " X12 52 |17.5(18.5| 46 305
S1FO-20 11116 " X12| 1.5/8" X12 52.3(17.5/18.5| 46 368 | 25
S1FO-24-20 2" X12 158" X12 54 |17.5(18.5| 55 451
S1FO-24 2" X12 17/8 " X12 54.1(17.5/18.5| 55 511

iE: T2im 5 1SO 11926-1il O HHAL o
Note: T2 end is connected with ISO 11926-1 port.

220/ =t A EE R

il



® ®

oL EES.  ADAPTER %l JICORFS,SAE,NPT AND NPSM Thread Fitting Sa nn ke oL)EEES.  ADAPTER %W JICORFS,SAENPT AND NPSM Thread Fitting Sa nn ke

FH|ORFSHMRLLONE Fel - 1 % B / A IS MR AU Z 511SO 6149-2

90° % HIORFSHMELION -1 4% 15 / 5 I SAESME LU O T 8l H R 411SO 11926-2 S1FH ORFS MALE O-RING /METRIC MALE S-SERIES ISO 6149-2
S1F09-0G 90° ELBOW ORFS MALE O-RING/SAE O-RING BOSS S-SERIES ISO 11926-2
o5 124 THREAD Ji~F DIMENSIONS (T
= 124 THREAD JusF DIMENSIONS 5 (TR L PART NO. T T2 L1 L2 L S1 g | Mpa
PART NO. T T2 L1 L2 S1 S2 g | Mpa e S1FH-04-12 9/16 " X18 | M12X1.5 10 11 28.5 17 30
S1F09-040G 9/16 " X18 | 7/16 " X18 215 33 14 14 47 =T S1FH-04-14 9/16 " X18 | M14X1.5 10 11 29.5 19 40
S1F09-04-060G | 9/16 " X18 | 9/16 " X18 235 37 14 17 63 =4 — — g S1FH-06-12 11/16 " X16 | M12X1.5 11 11 32 19 45
S1F09-04-080G | 9/16 " X18 | 3/4" X16 245 40.5 19 22 99 1 M ¢ S1FH-06-14 11/16 " X16 | M14X1.5 11 11 32 19 48
. S1F09-060G 11/16 " X16 | 9/16 " X18 25 37 19 17 77 5 S1FH-06-16 11/16 " X16 | M16X1.5 11 11.5 335 22 60 63
. S1F09-06-040G | 11/16 " X16 | 7/16 " X20 25 35 19 14 65 S1FH-06-18 11/16 " X16 | M18X1.5 11 12,5 36 24 78
E S1F09-06-050G | 11/16 " X16 | 1/2 " X20 25 35 19 17 70 S1FH-08-14 13/16 " X16 | M14X1.5 13 11 35 22 65 E
S1F09-06-080G | 11/16 " X16 | 3/4" X16 25 40.5 19 22 115 S1FH-08-16 13/16 " X16 | M16X1.5 13 11.5 36.5 22 76
527 S1F09-06-100G | 11/16 " X16 | 7/8 " X14 29.5 50 22 27 157 S1FH-08-18 13/16 " X16 | M18X1.5 13 12,5 37 24 80
S1F09-06-120G | 11/16 " X16 | 1.1/16 " X12| 325 55 27 32 225 S1FH-08-22 13/16 " X16 | M22X1.5 13 13 39.5 27 106
=K — — S1F09-080G 13/16 " X16 | 3/4" X16 28 40.5 19 22 129 | 40 S1FH-08-27 13/16 " X16 | M27X2 13 16 44 32 160
f / S1F09-08-060G | 13/16 " X16 | 9/16 " X18 28 36.5 19 17 93 S1FH-10-18 1" X14 M18X1.5 15.5 12.5 41 27 115
_— S1F09-08-100G | 13/16 " X16 | 7/8 " X14 31 50 22 27 172 S1FH-10-22 1" X14 M22X1.5 15.5 13 42 27 123
S1F09-08-120G | 13/16 " X16 | 1.1/16 " X12| 335 55 27 32 240 S1FH-10-27 1" X14 M27X2 15.5 16.5 47 32 178 0
S1F09-100G 1" X14 7/8 " X14 335 50 27 27 211 S1FH-12-22 1.3/16 " X12| M22X1.5 17 13 45 32 175
S1F09-10-080G | 1" X14 3/4 " X16 335 46 27 22 184 S1FH-12-27 1.3/16 " X12| M27X2 17 16 485 32 198
S1F09-10-120G | 1" X14 1.1/16 " X12 36 55 27 32 282 S1FH-12-33 1.3/16 " X12 | M33X2 17 16 51.5 41 309
S1F09-120G 1.3/16 " X12 |1.1/16 " X12| 375 55 30 32 329 S1FH-16-33 1716 " X12 | M33X2 17.5 16 52 41 300
SFO9-12-080G | 1.3/16 " X12| 3/4" X16 375 47 30 22 240 S1FH-20-42 1.11/16 " X12|  M42X2 17.5 16 545 50 451
S1F09-12-100G | 1.3/16 " X12| 7/8 " X14 375 51 30 27 268 S1FH-24-48 2" X12 M48X2 17.5 17.5 57 55 557
S1F09-12-160G | 1.3/16 " X12 | 1.5/16 " X12 41 60 36 41 437 315 e EEPE SRR S “DQ” , W SIFH—12-27DQ
S1F09-160G 1.7/16 " X12| 1.5/16 " X12 41.5 60 36 41 502 Note:If you interested to order the adapter with retainer ring please insert suffix “DQ”
S1F09-16-120G | 1.7/16 " X12 | 1.1/16 " X12| 41.5 59 36 32 422 | 40 after our part NO,for example S1FH-12-27DQ
S1F09-16-200G |1.7/16 " X12| 1.5/8 " X12 | 445 62 41 50 649 o5
S1F09-200G 1.11/16 " X12| 1.5/8 " X12 | 445 62 41 50 711
S1F09-20-160G |1.11/16 " X12| 1.5/16 " X12| 44.5 61.5 41 41 588 | 31.5
S1F09-20-240G |1.11/16 " X12| 1.7/8 " X12 49 66 48 55 857 |
S1F09-240G 2" X12 1.7/8 " X12 49 66 48 55 976 90° %5 HIORFSHMELLOML B A1 4% 5 / 28 il SRS ] i ) A i %2 5 41 1SO 6149
S1F09-24-200G 2" X12 1.5/8 " X12 49 66 48 50 888 | 25 S1FH9-0G 90° ELBOW ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149
== — \ - =
&) - R 124 THREAD Ji~] DIMENSIONS & | 5N ]
PART NO. T T2 L1 L2 S1 S2 g | Mpa
S1FH9-04-120G | 9/16" X18 | M12X1.5 215 33 14 17 51
A | S1FH9-04-140G | 9/16" X18 | M14X1.5 235 35.5 17 19 68 |, o
| ORFSHMERSLOJY Pl T 111 2% f / A MR S e H % ) S1FH9-06-120G | 11/16 " X16 | M12X1.5 25 35.5 19 17 65 '
S1FM-WD ORFS MALE O-RING/METRIC THREAD MALE CAPTIVE SEAL ] — S1FH9-06-140G | 11/16 " X16 | M14X1.5 25 35.5 19 19 77
= — S1FH9-06-160G | 11/16 " X16 | M16X1.5 25 375 19 22 93 | 25
: _ PA?:{ET?N 5 T%M THREA'iZ X RTZ D'MENS'SNS o EQE I,\ﬁp’fg & S1FH9-08-140G | 13/16 " X16 | M14X1.5 28 36 19 19 98 315
1 etz | STFM_04—12WD | 916 " X18 | Mi2X15 10 1o 597 17 3 S1FH9-08-180G | 13/16 " X16 | M18X1.5 28 41 19 24 117
1 o I S1FM-06-14WD | 11/16 " X16 | M14X1.5 11 12 31.9 19 51 S1FH9-08-220G | 13/ ]6 _X16 | Ma2x1.5 3 49 22 27 183
il _"&' S1FM-06-16WD | 11/16 " X16 | M16X1.5 11 12 31.9 22 55 | 63 zlmgjg:;ggg 1 - Qi m;gx : 222 4:: 5; 2‘71 ;Z; 25
L STFM-08-18WD | 13/16 " X16 | M18X1.5 13 12 346 24 74 S1FH9-12-220G | 1.3/16 " X12| M22X1 '5 375 495 30 27 278
= STFM-10-22WD | 1" X14 M22X1.5 155 14 411 27 118 S1FH9-12-270G 1.3/16 " X12 |v|27x2' 37'5 55'5 30 32 358
S1FM-12-27WD |1.3/16 " X12| M27X2 17 16 46.1 32 185 : : :
42 S1FH9-16-330G | 1.7/16 " X12| M33X2 415 59.5 36 41 555
S1FM-16-33WD |1.7/16 " X12| M33X2 17.5 18 49.8 41 275 16
- S1FH9-20-420G [1.11/16 " X12| M42X2 445 63 41 50 742
S1FM-20-42WD [1.11/16 " X12| M42X2 17.5 20 53.8 50 421 | 28 S1FH9-24-480G " 1o MA8X2 29 15 0 = 1035
e WA EA S S i “DQ” . W S1FH9-12-270GDQ
Note:If you interested to order the adapter with retainer ring please insert suffix “DQ”
after our part NO,for example S1FH9-12-270GDQ

221/ =t A EE s 222/ = f R A EE R



Pk

ADAPTER

%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

»

Pk

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n |<e

®

S1FB-WD
E L1 L2
A

il

223/ =R iR E

K HIORFSAMRSTOTH el - 1f 7 dat /S MRS 2 s
ORFS MALE O-RING/BSP MALE CAPTIVE SEAL

R 4. THREAD Jis} DIMENSIONS [T
PART NO. T T2 L1 L2 L S1 g | Mpa
S1FB-04-02WD | 9/16" X18 | G1/8 " X28 10 8 25.7 17 27
S1FB-04WD 9/16 " X18 | G1/4 " X19 10 12 30.9 19 40
S1FB-04-06WD | 9/16 " X18 | G3/8 " X19 10 12 31.6 22 53
S1FB-04-08WD | 9/16" X18 | G1/2 " X14 10 14 38.4 27 98
S1FB-06-02WD | 11/16 " X16 | G1/8 " X28 11 8 31.1 19 45
S1FB-06-04WD | 11/16 " X16 | G1/4 " X19 11 12 31.9 19 45
S1FB-06WD 11/16 " X16 | G3/8 " X19 11 12 33.5 22 61
S1FB-06-08WD | 11/16 " X16 | G1/2 " X14 11 14 38.5 27 | 100
S1FB-06-12WD | 11/16 " X16 | G3/4 " X14 11 16 40.3 32 | 144
S1FB-08-04WD | 13/16 " X16 | G1/4 " X19 13 12 36.7 22 66
S1FB-08-06WD | 13/16 " X16 | G3/8 " X19 13 12 34.6 22 65
S1FB-08WD 13/16 " X16 | G1/2 " X14 13 14 40.1 27 |103| ©3
S1FB-08-12WD | 13/16 " X16 | G3/4 " X14 13 16 41.9 32 | 146
S1FB-10-06WD | 1"X14 | G3/8"X19 | 155 12 424 27 | 119
S1FB-10-08WD | 1"X14 | G1/2"X14 | 155 14 411 27 | 114
S1FB—10-12WD | 1'X14 | G3/4"X14 | 155 16 44.3 32 | 162
S1FB—10-16WD | 1'X14 G1 " X11 155 18 47.8 41 | 264
S1FB-12-08WD | 1.3/16 " X12| G1/2 " X14 17 14 48.5 32 180
S1FB-12WD 1.3/16 " X12 | G3/4 " X14 17 16 46.1 32 | 182
S1FB—12-16WD | 1.3/16 " X12| G1" X11 17 18 47.5 41 | 265
S1FB—12-20WD | 1.3/16 " X12 | G1.1/4 " X11| 17 20 53.5 50 | 400 | 4o
S1FB-16-12WD | 1.7/16 " X12| G3/4 " X14 | 17.5 16 50.3 41 | 256
S1FB-16WD 1716 " X12| G1 " X11 17.5 18 49.8 41 | 276
S1FB—16-20WD | 1.7/16 " X12 | G1.1/4 " X11| 17.5 20 53.8 50 | 416
S1FB—16-24WD | 1.7/16 " X12 |G1.1/2" X11| 17.5 22 57.5 55 | 514
S1FB-20-16WD |1.11/16 " X12| G1 " X11 17.5 18 57.3 46 | 425
S1FB—20WD 111716 " X12| G1.1/4 " X11| 175 20 53.8 50 [420]
S1FB—20—24WD |1.11/16 " X12| G1.1/2" X11| 17.5 22 57.6 55 | 520
S1FB—24WD 2"X12 |G11/2"X11| 175 22 57.6 55 | 537

90° %5 K HIORFSHMRLSLOMY 1 i 5 st / L AR LI O

S1FG9-0G 90° ELBOW ORFS MALE O-RING/BSP MALE O-RING
JTae) 1247 THREAD R~ DIMENSIONS (TR
PART NO. 1N T2 L1 L2 Sil S2 g | Mpa
r%— S1FG9-04-020G | 9/16 " X18 | G1/8 " X28 21.5 30 14 14 40 315
S1FG9-040G 9/16 " X18 | G1/4 " X19 23.5 36 17 19 63 '
S1FG9-04-060G | 9/16 " X18 | G3/8 " X19 24.5 38 19 22 85 | 25
sz = S1FG9-06-040G | 11/16 " X16 | G1/4 " X19 25 36 19 19 72 | 315
/ | S1FG9-060G 11/16 " X16 | G3/8 " X19 26.5 38 19 22 100 | 25
= - — S1FG9-08-040G | 13/16 " X16 | G1/4 " X19 28 35.5 19 19 88 | 315
— S1FG9-08-060G | 13/16 " X16 | G3/8 " X19 28 38 19 22 115 o5
1T S1FG9-080G 13/16 " X16 | G1/2 " X14 31 48.5 22 27 168
S1FG9-08-120G | 13/16 " X16 | G3/4 " X14 33.5 51.5 27 36 245 | 16
S1FG9-10-060G 1" X14 G3/8 " X19 33.5 40.5 27 22 164
S1FG9-10-080G 1" X14 G1/2 " X14 33.5 48.5 27 27 208 | 25
S1FG9-10-120G 1" X14 G3/4 " X14 S815) 51 27 36 287
S1FG9-10-160G 1" X14 G1" X11 39.5 58.5 33 41 440 | 16
S1FG9-12-080G | 1.3/16 " X12 | G1/2 " X14 37.5 49.5 30 27 265 | 25
S1FG9-120G 1.3/16 " X12| G3/4 " X14 37.5 51.5 30 36 335
S1FG9-12-160G | 1.3/16 " X12| G1 " X11 41 48.5 83 41 437
S1FG9-16-120G | 1.7/16 " X12 | G3/4 " X14 41.5 56 36 36 402
S1FG9-160G 1.716 " X12| G1 " X11 41.5 5.8 36 41 264
S1FG9-16-200G | 1.7/16 " X12 | G1.1/4 " X11 44.5 61 41 50 662 | 16
S1FG9-20-160G |1.11/16 " X12| G1 " X11 445 61 41 41 584
S1FG9-200G 1.11/16 " X12| G1.1/4 " X11 44.5 61 41 50 725
S1FG9-20-240G |1.11/16 " X12| G1.1/2 " X11 49 64.5 50 55 852
S1FG9-240G 2"X12 G1.1/2 " X11 49 64.5 50 55 972
W WEMENSERY SN “DQ” , 1 S1FG9-160GDQ
Note:If you interested to order the adapter with retainer ring please insert suffix “DQ”
after our part NO,for example S1FG9-160GDQ

K| ORFSHMERESLORY Pl T 25/ 28 il SME ST 1 [ i T8 R 41 1SO 61492557

SAFFH-0G ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2 RUN TEE
R %4 THREAD JUs; DIMENSIONS i | TER
2y PART NO. T1 T2 T3 L1 L2 L3 S1 S2 g | Mpa
SAFFH-04-04-120G | 916" X18 | 916" X18 | M12X15 21.5 21.5 33 14 17 75
H ) SAFFH-04-04-140G | 916" X18 | 916" X18 | M14X1.5 23.5 235 | 355 17 19 95
1 i ._ SAFFH-06-06-140G | 1116 " X16 | 11/16 " X16 | M14X15 25 25 35.5 19 19 122
= W | SAFFH-06-06-160G | 11/16 " X16 | 11/16 " X16 | M16X1.5 25 25 37.5 19 22 133
SAFFH-08-08-140G | 13/16 " X16 | 1316 " X16 | M14X15 28 28 36 19 19 140 | 40
SAFFH-08-08-180G | 1316 " X16 | 13/16 " X16 | M18X1.5 28 28 41 19 24 175
SAFFH-08-08-220G | 1316 " X16 | 13/16 " X16 | M22X1.5 31 31 49 22 27 247
SAFFH-10-10-220G | 1"'X14 1" X14 M22X1.5 33.5 33.5 49 27 27 325
SAFFH-12-12-270G |1.316" X12| 1316 " X12| M27X2 37.5 37.5 55.5 30 32 517
SAFFH-16-16-330G | 1.7/6" X12 | 1.746" X12| M33X2 41.5 41.5 59.5 36 41 730 | 31.5
SAFFH-20-20-420G (11116 " X12|1.1116 " X12| Md2X2 44.5 44.5 63 41 50 1060| 25
SAFFH-24-24-480G | 2"X12 2" X12 M48X2 49 49 71.5 50 55) 1505| 20
T WECHIRENE MRS E N “DQ” , W SAFFH-12-12-270GDQ
Note:If you interested to order the adapter with retainerring please insert suffix “DQ”
after our part NO,for example SAFFH-12-12-270GDQ

224/ = fm s E S

il



®

®
;. ADAPTER %/l JICORFS,SAENPTAND NPSM Thread Fitting Sannke )R ADAPTER %0 JIC.ORFS,SAENPT AND NPSM Thread Fiting Sannke

FEHIORFSHMRSLO MY el 1 2 f / T SR AL O T el 5 =3t

2 THORFSHMELLO ML B 1 [ % & /5 I SAESME L7y Ol 7 R 411SO 11926-24: 37 =il
SAFFO-0G ORFS MALE O-RING/SAE O-RING BOSS S-SERIES ISO 11926-2 RUN TEE SARRGEOG ORFS MALE O-RING/BSP MALE O-RING RUN TEE
s EHGET o DIMENSIONS | 2 £ 1ftfh : PAgﬁuo Ti i TTZREAD T3 L1 S# Du\lilsl‘E NSIONSS1 s2 Egﬁ Il\%f
= . SAFFP(?_ ?Iogo' 9/16T“1X18 9/16T"2X18 7/16T“3X18 2:1_5 zlfs ;: ?1 ?5 792 Mpa f? | [SAFFG-04-04-020G | 96" X18 | 016" Xi8 | GiB"Xes| 215 | 215 | 30 | 14 | 14 | 65
E%m s SAFFO-04-04-060G | 916" X18 | 96" X18 | 916'X18 |23.5|23.5| 33 | 14 | 19 | 98 TP 22= | [sAfre-006 G IFR SO AP GIEY (o ol SN e SRRl I T U 31.5
ol 7 711 Fsarroos0s 6 xe 1116 x6 | o6 xis |25 | 25 57 | 15 19 T1a1 i ] ! SAFFG-06-06-040G | 11/16" X16| 11/16" X16| G14°X19| 25 | 25 | 36 | 19 | 19 |118
: [ sArFo-0s-06-000a T e xis 1116 xae T 32 xis |28 1 25 1205 10 22 170 = e SAFFG-060G 16" X 176" Xio| 38" x19| 265 | 265 | 38 | 19 | 22 [14s
T e SAFFO.080G 316 x5 | 1316 x16 | 34 x16 | 28 | 25 (40| 15 | 24 1841 40 SAFFG-08-08-060G | 13" i |19te xio| G3b'x19| 28 | 28 | 38 | 19 | 22 [1e0|
SAFFO-08-08-100G | 1316 X16 | 1316 " X16 | 78" X14 |30.5/30.5] 50 | 27 | 27 | 250 a EQEEE‘%OS) o 13:‘?)(:;” 13??)(:216 glg : Qi 3?5 3215 22': Z Z i?g E
SAFFO-100G 17 X14 1"X14 | 7B'X14 |33.5/33.5| 50 | 22 | 27 | 315 : : :
SAFFO-10-10-120G | 1" X14 1"X14__| 1116 X12 |36.536.5] 52 | 27 | 32 | 423 SAFFG-10-10-120G | 1'Xi4 | 1'XI4 GI4'X4| 36 | 86 | 515 | 30 | 386 |39
SAFFO-1206 1316 " X12_ | 1.3/16 " X12 | 1116 " X12 |37.5|37.5| 55 | 30 | 32 | 487 giiigjg?g-moe 12;:222 :gﬂz)ﬂz Gg:“ﬂ)(’?f 3L5 31%5 :;2 gg 3‘15 g:i 16
SAFFOT12-12-160G | 1916 X12 | 1916 X12 | 15716 " X12 | 41 | 41 1 00 | 86 | 41 [O78 |, 5 SAFFG-160G 176" Xi2| 176 X12] G1'X11 | 415 | 415 | 585 | 36 41 [ 795
SAFFO-160G 1716 " X12 | 1716 " X12 | 1516" X12 |41.5/41.5| 60 | 33 | 41 | 740|° " : : : : :
SAFFO-16-16-200G | 1716 " X12 | 17/16 " X12 | 158" X2 |44.5[44.5] 62 | 41 | 50 905 ,_ Vo @ RCHHBE AL R 0 “DQ” , 1 SAFFG-120GDQ . o
SAFF0-200G 11116 " X12 | 11116 " X12| 158" X12 |44.5|44.5 62 | 41 | 50 |1030 gf‘t’;fgm‘;‘;;;‘}\leéefséf‘ejgr‘r’];dlgrstgil"i‘éaﬂtgggggeta'”er””9p'ease insert suffix “DQ
SAFFO-240G 2" X2 2°X12 | 178" X12 | 49 | 49 | 66 | 50 | 55 |1446] 20 ’
K HIORFSHMELOAY |~ 1 % Hf Ut 42 5k
SXF ORFS MALE O-RING/BSP MALE O-RING CROSS FITTINGS
[ i B4 THREAD JUs) DIMENSIONS & | TR
PART NO. Ti T2 T3 T4 1 [ 2] La ] s1| 9 |Mpa
| . SXF-04 916" X18 | 916" X18 | 916" X18 | 916" X18 | 215 | 215 | 215 | 14 | 67
K B SXF-06 1146 * X16 | 11/16 " X16 | 11/16 * X16 [ 1116 X16| 25 | 25 | 25 | 19 | 112 63
| SXF-08 1316 " X16 | 1316 * X16 | 1316 * X16 | 1316 " X16| 28 | 28 | 28 | 19 | 156
S HIORFSHMELL O[] - Th % J5f / = I SAEA MR 2077 O T[] T R 511SO 1192627 37 — i = | SXF-10 1" X14 1" X14 1" X14 1"X14 | 335 | 335 | 335 | 27 | 280
SAFOF-0G ORFS MALE O-RING/SAE O-RING BOSS S-SERIES ISO 11926-2 BRANCH TEE = SXF-12 1316 " X12[1.316 * X12[1.316 " X12|1.346 " Xi12| 37.5 | 37.5 | 37.5 | 30 |427| 40
e 7. THREAD R+ DIMENSIONS | & & [T/ 2 SXF-16 1776 " X12[ 1776 * X12 | 17716 * X12[1.746 " X12| 41.5 | 415 | 415 | 36 | 645
PART NO. T T2 T3 L1 [L2[13]s1][s2] 9 |Mpa SXF-20 1116 * X2 11116 * X12 1.1/6" Xi2 | 1.116 " Xi2| 44.5 | 445 | 445 | a1 | 860 |
SAFOF-040G 916" X18 | 716" X20 | 916"X18 | 23 |30.3] 23 | 14 | 17 | 73 ﬁ SXF-24 2"X12 | 2'X12 | 2'X12 | 2'X12 | 49 | 49 | 49 | 50 |1270 x
SAFOF-04-06-040G | 916°X18 | 9/16"X18 | 916°X18 | 23 | 32 | 23 | 14 | 19 | 89 -
SAFOF-060G 11716 " X16 | 916" X18 | 1116" X16 |27.5]35.5/27.5| 19 | 19 | 121
SAFOF-06-08-060G | 11/16" X16 | 34" X16 | 1116"X16 | 27 | 38 | 27 | 19 | 24 | 155
SAFOF-080G 136" X16 | 34" X16 | 1316"X16 | 31 [40.5] 28 | 19 | 24 [196] ,
SAFOF-08-10-080G | 13/16"X16 | 7/8" X14 | 1316"X16 | 31 |45.3] 31 | 22 | 27 | 226 I ORFS AL B AL i
SAFOF-08-12-080G | 136" X16 | 1.1/16 " X12 | 1316"X16 |34.5| 54 |34.5| 27 | 32 | 310 SAF6FF-LN o e o e Nkt ToE
SAFOF-100G 1"X14__ | 78°'X14 | 1°X14_|36.5|50.8|36.5] 27 | 27 | 335
SAFOF-10-12-100G | 1°X14 | 1116"X12 | 1'X14 |36.5 52 |36.5] 27 | 32 | 386 I 122 THREAD Rk DIMENSIONS | it [TfffE )
SAFOF-1206G 1316" X12 | 1.1/16 " X12 | 1316 " X12 |40.3|55.3/40.3] 30 | 32 | 511 PART NO. T T2 T3 1 [ 12 ][ 13 [s1]s2] 9 |Mpa
= SAFOF-160G 17116 " X12 | 15116 " X12 | 1716 " X12 |44.5|59.3|44.5| 36 | 41 | 772[31.5 SAF6FF-04LN | 9/16"X18 | 9/16'X18 | 916" X18 |225| 47 |225| 14 | 22 | 108
SAFOF-200G 111716 " X12 | 158 " X12_| 11116 " X12 |47.5|60.5|47.5] 41 | 50 |1063| 25 SAF6FF-06LN | 11/16" X16 | 11/16" X16 | 11/16"X16 | 26 | 52 | 26 | 19 | 27 | 176 63
SAFOF-240G 2'X12_ | 178" X12 | 2'X12_|53.568.553.5 50 | 55 |1552] 20 SAF6FF-08LN | 13/16"X16 | 13/16" X16 | 13/16"X16 | 29 |555| 29 | 19 | 30 | 238

SAF6FF-10LN 1" X14 1" X14 1" X14 345| 63 |[34.5| 27 | 36 | 409
SAF6FF-12LN 1.3/16 " X12 | 1.3/16 " X12 | 1.3/16"X12 |38.5| 67 |38.5| 30 | 41 | 583 | 40
SAF6FF-16LN 1.716"X12 | 1.716"X12 | 1.7/16 "X12 |42.5| 71 |42.5| 36 | 46 | 858
SAF6FF-20LN 11116 " X12 | 1.11/16 " X12 | 1.11/16 " X12 | 45.5|75.5|/455| 41 | 50 [1115
SAF6FF-24LN 2" X12 2" X12 2" X12 49.5]79.5/49.5| 48 | 60 [1606

25

225/ =M iR E A 226/ =t A EE



®

L4
J g

®
PR, ADAPTER %l JIC,ORFS,SAE,NPTAND NPSM Thread Fitting Sa nn ke oL)EEES.  ADAPTER %W JICORFS,SAENPT AND NPSM Thread Fitting Sa nn ke

g e A ‘
S A1 AT SMRELC SAN AT =
S1N NPT MALE NPT MALE TEE
(157 IRZL THREAD J{-} DIMENSIONS A TR R i24r THREAD J&f DIMENSIONS | &t | Tfifih
PART NO. Tt T2 L [L1]L2] st (g) | M s PART NO. T T2 T3 1 [ L2 [ L8] s1| 9 |Mpa
7 i SIN-02 NPT1/8"X27 | NPT1/8"X27 27 |105/105] 12 15 1345 ~ AR J SAN-02 NPT1/8"X27 | NPT1/8'X27 | NPT1/8"X27 | 21 21 21 11 | 29 | 345
o hfpee SIN-02-04 NPT1/8"X27 | NPT1/4"X18 31 |105] 15 | 17 27 |27.5 ' _|L SAN-04 NPT1/4"X18 | NPT1/4"X18 | NPT1/4"X18 | 25.5 | 25,5 | 255 | 14 | 53 |27.5
—- e SIN-02-06 NPT1/8"X27 | NPT3/8"X18 32 |105| 16 | 19 40 | 2t — SAN-06 NPT38" X18 | NPT3/8'Xx18 | NPT38'X18 | 31 | 31 | 31 | 19 | 101
_— SIN-04 NPT1/4"X18 | NPT1/4"X18 37 |15 | 15 | 17 311275 A SAN-08 NPTI/2"X14 | NPTI2'X14 | NPTIR'X14 | 36.7 | 36.7 | 367 | 22 | 174 -
st SIN-04-06 NPT1/4"X18 | NPT3/8"X18 87 | 15 | 16 | 19 42 ' SAN-12 NPT3/4' X14 | NPT3/4"X14 | NPT34"X14 | 44 | 44 | 44 | 27 |309] 17
L |12 SIN-04-08 NPT1/4"X18 | NPT1/2"X14 415] 15 [195] 22 0 , SAN-16 NPT1"X115 | NPTI"X115 | NPTI'X115 | 50 | 50 | 50 | 33 |517| 14
E L SIN-06 NPT3/8"X18 | NPT3/8"X18 38 | 16 | 16 | 19 45 SAN-20 NPT1.1/4 " X11.5 [NPT1.1/4 " X11.5|NPT1.1/4" X115 54 | 54 | 54 | 41 |887| 8 E
SIN-06-08 NPT3/8"X18 | NPT1/2"X14 435] 16 |195| 22 75 SAN-24 NPT1.1/2" X115|NPT1.1/2" X115|NPT1.12" X115] 63 | 63 | 63 | 48 [1210] 7
SIN-06-12 NPT3/8"X18 | NPT3/4"X14 455| 16 [19.5] 27 122 | 17
SIN-08 NPT1/2'X14 | NPT1/2"X14 48 [19.5]19.5] 22 81 | 21
SIN-08-12 NPT1/2'X14 | NPT3/4"X14 49 [195[19.5] 27 125 [ 17
SIN-08-16 NPT1/2'X14 | NPT1"X11.5 56 |19.5[25.5| 36 239 | 14
SIN-12 NPT3/4"X14 | NPT3/4"X14 49.8|19.5[19.5| 30 138 |
SIN-12-16 NPT3/4'X14 | NPT1"X11.5 55 [19.5|25.5| 36 225
SIN-12-20 NPT3/4"X14 | NPT1.1/4'X115 59 |19.5[26.5| 46 408 | 8
SIN-16 NPT1"X11.5 | NPT1"X11.5 59.5|25.5[25.5| 36 222| 8
SIN-16-20 NPT1"X11.5 | NPT1.1/4'X115 64 |255[26.5| 46 400 | 8
SIN-16-24 NPT1"X11.5 | NPT1.1/2'X115 68 |25.5(27.5| 50 556 | 7
SIN-20 NPT1.1/4'X115 | NPT1.1/4'X11.5 63 |26.5(26.5| 46 376 | 8
SIN-20-24 NPT1.1/4'X115 | NPT1.1/2'X11.5 69 |26.5[27.5| 50 544
SIN-24 NPT1.1/2'X115 | NPT1.1/2'X11.5 66.5|26.5[26.5| 50 592
SIN-24-32 NPT1.1/2'X115 | NPT2"X11.5 72 |26.5[27.5| 65 925 | 7
SIN-32 NPT2'X11.5 | NPT2'X11.5 715]27.5]275| 65 735 | -
el AmHE R SMERLE K
S4N NPT MALE PLUG
15 IRZ THREAD JAsF DIMENSIONS &5 | TED
T PART NO. Ti L L1 S1 g | Mpa
90° G SRAIATHEE SR —7) S4N-02 NPT1/8 " X27 16 105 12 10 | 345
S1N9 90° ELBOW NPT MALE M S4N-04 NPT1/4 " X18 20 14.5 17 20 275
e= e 240 THREAD Ji-] DIMENSIONS = E | THE) _IH S4N-06 NPT3/8 * X18 21 14.5 19 30 |, ES
| PART NO. 1 T2 L1 L2 St 9 | Mpa Ly S4N-08 NPT1/2 " X14 27 19.5 22 56 i
-z_\p' S1N9-02 NPT1/8 " X27 | NPT1/8 " X27 21 21 11 21 345 _.L_‘.J hS1 S4N-12 NPT3/4 " X14 205 19.5 27 95 | 17
. . S1N9-02-04 NPT1/8 " X27 | NPT1/4" X18 2315 25,5 14 31 075 L S4N-16 NPT1 " X115 36.5 245 36 185 | 14
A ’-_l- S1N9-04 NPT1/4 " X18 | NPT1/4" X18 25.5 255 14 39 ' S4N-20 NPT1.1/4 " X11.5 38.5 255 46 315 | 8
i \u S1N9-04-06 NPT1/4 " X18 | NPT3/8 " X18 28 31 19 58 S4N-24 NPT1.1/2 " X11.5 43 26.5 50 444 | 7
? :._ S1N9-04-08 NPT1/4 " X18 | NPT1/2" X14 30.5 36.7 22 86 ' S4N-32 NPT2 " X115 43.5 275 65 686 | -
S1N9-06 NPT3/8 " X18 | NPT3/8 " X18 31 31 19 75 | 21
S1N9-06-08 | NPT3/8 " X18 | NPT1/2" X14 33.8 36.7 22 106
S1N9-08 NPT1/2 " X14 | NPT1/2" X14 37.3 36.7 22 130
S1N9-08-12 | NPT1/2 " X14 | NPT3/4 " X14 40 44 27 184 |
S1N9-12 NPT3/4 " X14 | NPT3/4 " X14 44 44 27 228
S1IN9-12-16 | NPT3/4 " X14 | NPT1 " X115 46.5 50 33 31|,
S1N9-16 NPT1 " X115 | NPT1 " X115 50 50 33 382
S1N9-20 NPT1.1/4 " X115 | NPT1.1/4" X115 54 54 41 650 | 8
S1N9-24 NPT1.12 " X115 | NPT11/2" X115 63 63 48 948 | 7
S1N9-32 NPT2 " X11.5 | NPT2" X11.5 68 68 63 1335] 5

227] =M iR E 228/ =M E A



®

® Sannk
PR, ADAPTER %l JIC,ORFS,SAE,NPTAND NPSM Thread Fitting Sannke SRS ADAPTER % 1C.ORFS SAENPT AND NPSM Thread Fiting D O [1TTKE

S AT HE IR/ A1 HEE A IR AL

229/ =R iR E

230/ =R iR E =

S5N NPT MALE/NPT FEMALE S7N %%Lﬁ& EET/I%L%
RE 122 THREAD Jist DIMENSIONS = 5 TS K5 22 THREAD J&I DIMENSIONS | L)
PART NO. 1 T2 L L1 S1 g | Mpa PART NO. 1 T2 L1 S1 g | Mpa
S5N-02 NPT1/8"X27 | NPT1/8"X27 26.4 10.5 17 25 |34.5 S7N-02 NPT1/8 " X27 NPT1/8 " X27 19 17 28 [34.5
S5N-04-02 NPT1/4'X18 | NPT1/8'X27 20 15 17 % [, . " %‘ﬂ S7N-02-04 NPT1/8 " X27 NPT1/4 * X18 27 19 38 | 275
S5N-04 NPT/4"X18 | NPT1/4"X18 35.3 15 19 38 : e S7N-02-06 NPT1/8 " X27 NPT3/8 " X18 30 22 55
S5N-04-06 NPT1/4'X18 | NPT3/8"X18 37 15 24 58 . ) S7N-04 NPT1/4 " X18 NPT1/4 " X18 29 19 33
| 7 S5N-06-04 NPT3/8"X18 | NPT1/4"X18 22 16 19 28 | o S7N-04-06 NPT1/4 " X18 NPT3/8 * X18 31 22 49 | 21
E ot S5N-06 NPT3/8'X18 | NPT3/8"X18 37 16 24 63 | 21 S7N-04-08 NPT1/4 " X18 NPT1/2 " X14 35 30 129 E
S5N—-06-08 NPT3/8"X18 | NPT1/2'X14 43 16 30 112 S7N-06 NPT3/8 " X18 NPT3/8 " X18 29 22 37
S5N-08-06 NPT1/2'X14 | NPT3/8"X18 28.5 19.5 24 54 S7N-06-08 NPT3/8 " X18 NPT1/2 " X14 38 30 128|
S5N-08 NPT1/2'X14 | NPT1/2'X14 475 19.5 30 124 S7N-06-12 NPT3/8 " X18 NPT3/4 " X14 40 36 201
S5N-08-12 NPT1/2'X14 | NPT3/4"X14 49 19.5 36 160 S7N-08 NPT1/2 " X14 NPT1/2 " X14 38 30 110 | 21
S5N-12-08 NPT3/4"X14 | NPT1/2'X14 30 19.5 27 70 | 17 ; - S7N-08-12 NPT1/2 " X14 NPT3/4 " X14 43 36 197 |
S5N—12 NPT3/4'X14 | NPT3/4"X14 49 255 36 165 ' S7N-12 NPT3/4 " X14 NPT3/4 " X14 39 36 148
S5N—16-12 NPT1"X11.5 | NPT3/4"X14 345 25 36 I S7N-12-16 NPT3/4 " X14 NPT1 " X115 455 41 227 |
S5N-16 NPT1"X115 | NPT1'X11.5 60.5 25 41 269 S7N-16 NPT1 " X115 NPT1 " X115 48 41 183
S5N—-16-20 NPT1"X11.5 |NPT1.1/4"X11.5 62.5 255 50 351 S7N-20 NPT1.1/4 " X115 | NPT1.1/4 " X115 49 50 239 | 8
S5N—20-16  |NPT1.1/4"X11.5| NPT1'X115 37.5 255 46 236 | 8 S7N-24 NPT1.12 " X115 | NPT1.12" X115 49 60 409 | 7
S5N-20 NPT1.1/4"X11.5NPT1.1/4"X11.5 63.5 25.5 50 396 S7N-32 NPT2 " X11.5 NPT2 " X115 50 70 422 | -
S5N-20-24  [NPT1.1/4'X11.5NPT1.1/2'X115  63.5 25.5 60 559
S5N 24 20  |NPT1.1/2'X11.5NPT1.1/4"X11 .5 40 265 50 311
S5N-24 NPT1.1/2'X11.5|NPT1.1/2'X11.5|  64.5 26.5 65 727
S5N-24-32  |NPT1.1/2'X11.5] NPT2"X11.5 67 26.5 70 673
S5N-32-24 NPT2'X11.5 |NPT1.1/2'X11.5]  44.5 27.5 65 605
SB5N-32 NPT2'X11.5 | NPT2'X11.5 67.6 27.5 70 728 | ° 90° 5 SR AT HERT Y EREL
S7N9 90° NPT FEMALE
K= 24 THREAD Jisf DIMENSIONS &5 | THES
PART NO. T T2 L1 | L2 S1 | g | Mpa
S7N9-02 NPT1/8 " X27 | NPT1/8 " X27 20 | 20 16 | 38 | 345
00° 25 2 AT HERS SMB LT /A4 A% Py B S7N9-04 NPT1/4 " X18 | NPT1/4 " X18 22.5(22.5 19 | 51
== S5N9 90° ELBOW NPT MALE/NPT FEMALE S7N9-06 NPT3/8 " X18 | NPT3/8 " X18 26 | 26 24 | 96 21 E
i S7N9-08 NPT1/2 " X14 | NPTiR2" X14 31 | 31 27 [114 i
R 1240 THREAD JAs) DIMENSIONS 8| TES S7N9-12 NPT3/4 " X14 | NPT3/4 " X14 34 | 34 33 [173 | 17
PART NO. T T2 L1 L2 S1 g | Mpa S7N9-16 NPT1 " X115 | NPT1 " X115 42 | 42 41 [320 | 14
S5N9-02 NPT1/8" X27 |NPT1/8 " X27 19.8 17.8 14 25 [34.5 S7N9-20 NPT1.1/4 " X115|NPT1.1/4 " X11.5 48 | 48 50 [469 | 8
S5N9-04 NPT1/4"X18 |NPT1/4 " X18 28 22.4 19 40 [ 275 S7N9-24 NPT1.1/2 " X115[NPT1.1/2 * X115 53 | 53 60 | 885 | 7
S5N9-04-06 NPT1/4"X18 |NPT3/8 " X18 31 25 22 60 S7N9-32 NPT2 " X115 | NPT2 " X115 62 | 62 70 [1048 | -
S5N9-06 NPT3/8"X18 |NPT3/8 " X18 335 25 22 74 | 21
S5N9-08 NPT1/2" X14 |NPT1/2" X14 41.2 31.2 27 138
S5N9-12-08 NPT3/4"X14 |NPT1/2 " X14 45 31.2 27 176 |
S5N9-12 NPT3/4"X14 |NPT3/4 " X14 452 345 33 174
S5N9-16 NPT1"X11.5 |NPT1"X11.5 54.5 411 41 310 | 14
S5N9-20 NPTT.1/4" X11.5|NPT1.1/4" X11.5 63 43.2 48 458 | 8
S5N9-24 NPT1.1/2" X11.5|NPT1.1/2" X11.5 715 52.8 63 935 | 7
S5N9-32 NPT2"X11.5 |[NPT2"X11.5 73.5 62 70 840 | 5



Pk

ADAPTER

%l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

ADAPTER

¥l JIC,ORFS,SAE,NPT AND NPSM Thread Fitting Sa n n I(e

®

SR AT HE Y YRS =0

SGN NPT FEMALE TEE
. foE 122 THREAD JU-- DIMENSIONS | 5 s [k,
- : PART NO. 1 iR T3 L1 | L2 | L8| S1| g |Mpa
| SGN-02 NPT1/8"X27 | NPT1B" X27 | NPT1/8"X27 | 20 | 20 | 20 48 | 345
. = SGN-04 NPT1/4"X18 | NPT14 " X18 | NPT1/4"X18 |22.5 225|225 61
R ENINZIN : SGN-06 NPT3/8" X18 | NPT38" X18 | NPT3/8"X18 | 26 | 26 | 26 112 | 21
SGN-08 NPT12" X14 | NPT12 " X14 | NPT1R2"X14 | 31 | 31 | 31 133
SGN-12 NPT3/4"X14 | NPT34 " X14 | NPT3/4"X14 | 34 | 34 | 34 194 | 17
E SGN-16 NPT1 " X115 | NPT " X115 | NPT1" X115 | 42 | 42 | 42 365 | 14
SGN-20 NPT1.1/4 " X115 [NPT1.1/4 " X115|NPT1.1/4 " X115| 48 | 48 | 48 530 | 8
SGN-24 NPT1.1/2 " X11.5 [NPT1.12 " X115|NPT1.1/2 " X115| 53 | 53 | 53 1027| 7
SGN-32 NPT2" X115 | NPT2 " X115 | NPT2" X115 | 62 | 62 | 62 1202 -
A HEE MR L/ ZEHINPSM P IRZ060° AME
S2NU NPTF MALE/NPSM FEMALE 60° CONE
5 124 THREAD JUsf DIMENSIONS | RS
PART NO. T1 T2 L1 | L s1[s2| (g | Ve
S2NU-04 NPTF1/4 " X18| 1/4 " X18 14.5|31.8 17 | 22 | 44 | 21
S2NU-06 NPTF3/8 " X18| 3/8 " X18 14.5(33.3 22|22 |4|
S2NU-08 NPTF1/2 " X14| 1/2 " X14 19.5| 41.1 27 | 27 | 75
S2NU-12 NPTF3/4 " X14| 3/4" X14 19.5|42.9 32 | 32 |115| 17
S2NU-16 NPTF1 " X11.5] 1" X115 24.5(50.8 41| 41 [ 195] 14
S2NU-20 NPTF.1/4" X115 1.1/4 " X115 25 | 53.1 50 | 50 [ 305| 8
S2NU-24 NPTF112" X115 1.1/2 " X11.5 26 |55.6 55 | 55 | 395 | 7
==
il
90° SATHER AMBRLL/ S HINPSM N RL60° 41
90° ELBOW NPTF MALE/NPSM FEMALE 60° CONE
R 122 THREAD Js DIMENSIONS | IR
PART NO. T1 T2 L1 | L2 s1[s2| (g | Ve
S2NU9-04 NPTF1/4 " X18 |  1/4" X18 27.7|22.4 14 | 19 | 40 |275
S2NU9-06 NPTF3/8" X18 |  3/8" X18 31 | 25.1 19]20[69 [,
S2NU9-08 NPTF1/2 " X14 | 1/2" X14 37.4|28.2 22 | 27 | 115
S2NU9-12 NPTF3/4" X14 |  3/4" X14 40.4| 33 27 | 32 [ 190 | 17
S2NU9-16 NPTF1 " X115 | 1"X115 50 | 39.1 33 | 41 | 341 14
S2NU9-20 NPTFY.1/4 " X115| 1.1/4" X115 60.5| 44 41 | 50 | 631| 8
S2NU9-24 NPTFI.1/2 " X115| 1.1/2" X11.5 67 | 48 48 | 55 | 866 | 7

231/ =M & =

Ti
L

K HISAESMRLLTOJE Jel 1 Sk 4 A 711SO 11926-3
SAE O-RING BOSS PLUG L-SERIES ISO 11926-3

5 R4 THREAD JUs) DIMENSIONS = 5 | /L))
PART NO. T L1 L S1 g | Mpa
S40-04 7/16 " X20 9.14 17 14 16
S40-05 1/2 " X20 9.14 17 17 23 315
S40-06 9/16 " X18 9.93 18.5 17 26
S40-08 3/4 " X16 11.13 20.5 22 50
S40-10 7/8 " X14 12.7 23.6 27 81 o5
S40-12 1.1/16 " X12 15.1 27.7 32 135
S40-14 1.3/16 " X12 15.1 27.7 36 165 20
S40-16 1.5/16 " X12 15.1 28.5 41 198
S40-20 1.5/8 " X12 15.1 30.5 50 357 16
S40-24 1.7/8 " X12 15.1 30 55 423
S40-32 2.1/2" X12 15.1 36.3 70 910 | 12.5

232/ =M g

il



® ®

itiEHE) ADAPTER s wold Fiango Fiting O@NNKE i H )  ADAPTER it weis riangs ritng O@NNKE

(1 B¢ ¥ 7

S1FLW S1FLW-ZH /7 5 41SO 61625 45 S1FLW-PM S1FLW-PM/ZH 5/ F 5 241SO 6162 1B 1
S1FSW S1FSW-ZH L/S—SERIES FLANGE ISO 6162 BUTT-WELD TUBE S1FSW-PM S1FSW-PM/ZH L/S—SERIES FLANGE ISO 6162 BUTT-WELD TUBE
K K

)
N

i
i

@D
|
]
—

[
I
-_"ID_

|

K = et J-) DIMENSIONS iz [T A1) £ R J-] DIMENSIONS 24 LA
PART NO. FLANGESIZE| D1 | L1 | L2 [ L3 [ D | K BOLT Mpa PART NO. FLANGESIZE| DI | L1 [ L2 [ LB D [ K BOLT 2
3000PS]I 3000PSI
S1FLW-08-20X3.0 172" 20 | 30 |6.73| 3.0 [30.1| FL-08 M8X25 S1FLW-08-20X3.0PM 20 | 30 [6.73] 3.0 [30.1| FL-08 M8X25
S1FLW-08-21.3X2.6 1/2" 21.3| 30 [ 6.73] 2.6 [30.1| FL-08 M8X25 S1FLW-08-21.3X2.6PM 21.3[ 30 |6.73| 2.6 [30.1| FL-08 M8X25
S1FLW-08-22X2.0 172" 22 | 30 [6.73] 2.0 [30.1] FL-08 M8X25 S1FLW-08-22X2.0PM 22 | 30 [6.73] 2.0 [30.1| FL-08 M8X25
S1FLW-12-22X2.0 3/4 " 22 | 35 | 6.73] 2.0 [38.1| FL-12 M10X30 S1FLW-12-22X2.0PM 22 | 35 [6.73] 2.0 [38.1| FL-12 M10X30
S1FLW-12-25X3.0 3/4" 25 | 35 | 6.73] 3.0 [38.1| FL-12 M10X30 34.5 S1FLW-12-25X3.0PM 25 | 35 [6.73] 3.0 [38.1| FL-12 M10X30 34.5
S1FLW-12-26.9X3.6 3/4" 26.9| 35 [6.73] 3.6 |38.1| FL-12 M10X30 S1FLW-12-26.9X3.6PM 26.9| 35 |6.73| 3.6 [38.1| FL-12 M10X30
S1FLW-16-30X4.0 1 30 | 40 | 8 [4.0[444] FL-16 M10X30 S1FLW-16-30X4.0PM 30 | 40 [ 8 [ 4.0[44.4] FL-16 M10X30
S1FLW-16-33.7X3.2 IE 33.7[ 40 | 8 | 3.2 |444| FL-16 M10X30 S1FLW-16-33.7X3.2PM 33.7[ 40 | 8 | 3.2 [444| FL-16 M10X30
S1FLW-16-35X4.0 1 35 | 40 | 8 [ 4.0 [44.4] FL-16 M10X30 S1FLW-16-35X4.0PM 35 | 40 | 8 | 4.0 [44.4| FL-16 M10X30
S1FLW-20-38X4.0 1.1/4" 38 | 45 | 8 | 4.0 [50.8] FL-20 M10X35 S1FLW-20-38X4.0PM 38 | 45 | 8 | 4.0 |50.8| FL-20 M10X35
STFLW-20-42X3.0 1.1/4" 42 [ 45 | 8 | 3.0 [50.8] FL-20 M10X35 27.6 S1FLW-20-42X3.0PM 42 | 45 | 8 [ 3.0[50.8] FL-20 M10X35 27.6
S1FLW-20-42.3X3.2 1.1/4" 423 45 | 8 | 3.2 [50.8] FL-20 M10X35 S1FLW-20-42.3X3.2PM 42.3] 45 | 8 | 3.2 [50.8| FL-20 M10X35
S1FLW-24-38X4.0 1.1/2" 38 | 50 | 8 [ 4.0[60.3] FL-24 M12X35 S1FLW-24-38X4.0PM 38 | 50 | 8 | 4.0 [60.3| FL-24 M12X35
STFLW-24-42X3.0 1.1/2" 42 | 50 | 8 [ 3.0 60.3| FL-24 M12X35 S1FLW-24-42X3.0PM 42 | 50 | 8 [ 3.0 [60.3| FL-24 M12X35
S1FLW-24-48.3X4.5 1.1/2" [483]| 50 | 8 | 45 |60.3] FL-24 M12X35 207 S1FLW-24-48.3X4.5PM 483[ 50 | 8 | 45 [60.3] FL-24 M12X35 207
S1FLW-32-42.3X3.2 2" 42.3| 60 | 9.53] 3.2 | 71 FL-32 M12X35 S1FLW-32-42.3X3.2PM 42.3[ 60 |9.53| 3.2 | 71 FL-32 M12X35
S1FLW-32-48.3X3.2 2" 48.3] 60 [9.53] 3.2 | 71 FL-32 M12X35 S1FLW-32-48.3X3.2PM 48.3| 60 [9.53 | 3.2 | 71 FL-32 M12X35
S1FLW-32-60.3X5.6 2" 60.3| 60 | 9.53| 5.6 | 71 FL-32 M12X35 S1FLW-32-60.3X5.6PM 60.3| 60 |9.53| 5.6 | 71 FL-32 M12X35
S1FLW-48-76.1X3.6 3" 76.1] 70 [9.53] 3.6 [101.6] FL-48 M16X45 S1FLW-48-76.1X3.6PM 76.1] 70 |9.53| 3.6 [101.6] FL-48 M16X45
S1FLW-48-76.1X7.1 3" 76.1 70 [ 9.53| 7.1 [101.6] FL-48 M16X45 13.8 S1FLW-48-76.1X7.1PM 76.1[ 71 |9.53| 7.1 [101.6] FL-48 M16X45 13.8
S1FLW-48-88.9X3.6 3" 88.9| 70 [9.53] 3.6 [101.6] FL-48 M16X45 S1FLW-48-88.9X3.6PM 88.9] 72 |9.53| 3.6 [101.6] FL-48 M16X45
S1FLW-56-76.1X3.6 3.4/2" |76.1| 80 [11.23] 3.6 [114.3] FL-56 M16X50 a4 S1FLW-56-76.1X3.6PM 76.1| 80 [11.23] 3.6 [114.3] FL-56 M16X50 -
S1FLW-56-88.9X3.6 3.1/2" |88.9] 80 [11.23] 3.6 [114.3] FL-56 M16X50 S1FLW-56-88.9X3.6PM 88.9| 81 [11.23] 3.6 [114.3] FL-56 M16X50 '
6000PSI 6000PSI
S1FSW-08-16X2.5 172" 16 [ 40 [7.75] 2.5 [31.7] FS-08 M8X30 S1FSW-08-16X2.5PM 16 [ 40 [7.75] 2.5 [31.7] Fs-08 M8X30
S1FSW-08-20X3.0 12" 20 | 40 | 7.75[ 3.0 [31.7] FsS-08 M8X30 S1FSW-08-20X3.0PM 20 | 40 [7.75[ 3.0 [31.7| Fs-08 M8X30
S1FSW-08-21.3X4.5 12" 21.3| 40 [7.75] 45 [31.7] FS-08 M8X30 S1FSW-08-21.3X4.5PM 21.3| 40 [7.75] 45 [31.7] Fs-08 M8X30
S1FSW-12-20X3.0 3/4" 20 | 45 | 8.76] 3.0 [41.3] FS-12 M10X35 S1FSW-12-20X3.0PM 20 | 45 [8.76] 3.0 [41.3| FS-12 M10X35
S1FSW-12-26X4.0 3/4" 26 | 45 | 8.76] 4.0 [41.3] Fs-12 M10X35 S1FSW-12-26X4.0PM 26 | 45 [8.76] 4.0 [41.3] Fs-12 M10X35
S1FSW-12-26.9X5.6 3/4 " 26.9| 45 [8.76| 5.6 [41.3] FS-12 M10X35 S1FSW-12-26.9X5.6PM 26.9| 45 |8.76| 5.6 [41.3] FS-12 M10X35
S1FSW-16-25X4.0 IE 25 | 50 [9.53| 4.0 [47.6] FS-16 M12X45 S1FSW-16-25X4.0PM 25 | 50 [9.53] 4.0 [47.6| FS-16 M12X45
S1FSW-16-30X4.0 IE 30 | 50 | 9.53[ 4.0 [47.6] FS-16 M12X45 S1FSW-16-30X4.0PM 30 | 50 [9.53] 4.0 [47.6| FS-16 M12X45
S1FSW-16-33.7X7.1 1 33.7] 50 [9.53| 7.1 [47.6| FS-16 M12X45 41.4 S1FSW-16-33.7X7.1PM 33.7] 50 [9.53| 7.1 [47.6] Fs-16 M12X45 41.4
S1FSW-20-30X4.0 1.1/4" 30 | 55 [10.29] 4.0 | 54 | FS-20 M14X50 S1FSW-20-30X4.0PM 30 | 55 [10.29] 4.0 [ 54 | Fs-20 M14X50
S1FSW-20-38X5.0 1.1/4" 38 | 55 [10.29] 5.0 | 54 | FS-20 M14X50 S1FSW-20-38X5.0PM 38 | 55 [10.29] 5.0 | 54 | FSs-20 M14X50
S1FSW-20-42.4X8.8 1.1/4" | 42.4]| 55 [10.29] 8.8 | 54 | FS-20 M14X50 S1FSW-20-42.4X8.8PM 42.4] 55 [10.29] 8.8 | 54 | FS-20 M14X50
S1FSW-24-38X5.0 1.1/2" 38 | 60 [12.57] 5.0 [63.5| FS-24 M16X55 S1FSW-24-38X5.0PM 38 | 60 [12.57[ 5.0 [63.5| FS-24 M16X55
S1FSW-24-48.3X8.0 1.1/2" | 48.3| 60 [12.57| 8.0 | 63.5| FS-24 M16X55 S1FSW-24-48.3X8.0PM 48.3| 60 [12.57| 8.0 | 63.5| FS-24 M16X55
S1FSW-24-48.3X8.8 1.1/2" | 48.3]| 60 [12.57] 8.8 [63.5| FS-24 M16X55 S1FSW-24-48.3X8.8PM 48.3| 60 [12.57| 8.8 [63.5| FS-24 M16X55
S1FSW-32-60.3X10.0 2" 60.3| 70 [12.57| 10.0[79.4| FS-32 M20X70 S1FSW-32-60.3X10.0PM 60.3| 70 [12.57/10.0|79.4| FS-32 M20X70
S1FSW-32-60.3X12.5 2" 60.3| 70 [12.57]12.5[79.4| FS-32 M20X70 S1FSW-32-60.3X12.5PM 60.3| 70 [12.57[12.5[79.4] FS-32 M20X70

233/ =R R 234] AR

[1k ¢ J¥ 7l



®

®
LB Y. ADAPTER st weid Fiange Fiting O@NNKE i B ADAPTER it weis Fangs riung Q@NNKE

(1 B¢ ¥ 7

ST1FLW9-W 90° TSAENL L/ 1 90° A5 A il i % Sk
S1FSW9-W 90° ELBOW SAE FLANGE/WELD TUDE SFLW9-W 90° ELBOW SOCKET WELD FLANGE

LA
LS

»
@
>

. z
L7
® o= VLA J) DIMENSIONS THIA ® = LMY | FFHMED /-] DIMENSIONS 24 {15 )
PART NO. FLANGESIZE| L1 | 12 | 138 [ 4 [ 15 [ 16 [ L7 [ L8 | DI | D Mpa PART NO. FLANGE SIE| TUDEO.D. | L1 [ L2 [ L3 [ L4 [ L5 [ L6 [ L7 [ L8 | D1 BOLT Mpa
3000PSI 3000PSI
S1FLW9-08-20W 172" 175 [ 381 ] 46 | 54 | 60 16 | 20 [ 37 9 20 | 25 S5FLW9-08-18W 172" 18 [17.5]38.1] 46 [ 54 [ 10 [ 16 [ 18 [37 [ 9 M8X30
S1FLW9-08-22W 1/2" 175 | 38.1 | 46 | 54 | 60 16 | 20 | 37 9 22 16 S5FLW9-08-20W 172" 20 [17.5/38.1] 46 | 54 [ 10| 16 | 18 [37 | 9 M8X30
S1FLW9-08-25W 172" 175 | 381 | 46 | 54 | 60 16 | 20 [ 37 9 25 | 25 S5FLW9-12-20W 3/4" 20 [22.2[47.6] 52 | 65 [ 10 [ 19 [ 22 [ 38 | 11 M10X35
S1FLW9-08-28W 172" 175 | 381 | 46 | 54 | 60 16 | 20 | 37 9 28 16 S5FLW9-12-22W 3/4" 22 |22.2]47.6] 52 | 65 | 10 | 19 | 22 [ 38 | 11 M10X35
S1FLW9-12-25W 3/4" 222 | 476 [ 50 | 65 | 63 | 19 | 24 | 38 11 25 | 25 S5FLW9-12-25W 3/4" 25 [22.2[47.6] 52 [ 65 [ 10 [ 19 [ 22 [ 38 | 11 M10X35 34.5
S1FLW9-12-28W 3/4" 222 | 476 | 50 | 65 | 63 19 | 24 | 38 11 28 16 S5FLW9-16-25W K 25 [26.2/52.4] 59 | 70 [ 12 | 19 | 28 [ 43 | 11 M10X35
S1FLW9-12-30W 3/4" 222 | 476 | 50 | 65 | 63 | 19 | 24 | 38 11 30 [ 25 S5FLW9-16-28W 1" 28 [26.2[52.4[ 59 [ 70 [ 12 [ 19 [ 28 [43 | 11 M10X35
S1FLW9-12-35W 3/4" 222 | 476 | 50 | 65 | 63 19 | 24 | 38 11 35 16 S5FLW9-16-30W 1 30 [26.2[52.4] 59 | 70 [ 12 [ 19 | 28 [ 43 | 11 M10X35
S1FLW9-16-30W 1 262 | 524 | 55 | 70 | 70 19 | 28 | 43 11 30 [ 25 S5FLW9-16-32W 1" 32 [26.2][52.4[ 59 [ 70 [ 12 [ 19 [ 28 [43 | 11 M10X35
S1FLW9-16-35W 1" 26.2 | 52.4 | 55 | 70 | 70 19 | 28 | 43 11 35 16 S5FLW9-20-32W 1.1/4" 32 [30.2]58.7] 73 | 79 [ 14 [ 22 | 30 [ 51 | 11 M10X40
S1FLW9-16-38W 1 262 | 524 | 55 | 70 | 70 19 | 28 | 43 11 38 | 25 S5FLW9-20-35W 1.1/4" 35 [30.2]58.7] 73 [ 79 [ 14 [ 22 [ 30 [ 51 | 11 M10X40 27 6
S1FLW9-16-42W 1" 26.2 | 52.4 | 55 | 70 | 70 19 | 28 | 43 11 42 16 S5FLW9-20-38W 1.1/4" 38 [30.2]58.7] 73 | 79 [ 14 [ 22 | 30 [ 51 | 11 M1dx40 '
S1FLW9-20-38W 1.1/4" 302 | 587 [ 68 | 79 | 85 | 22 | 34 [ 51 11 38 | 25 S5FLW9-20-42W 1.1/4" 42 |30.2[58.7] 73 | 79 [ 14 [ 22 | 30 [ 51 | 11 M10X40
S1FLW9-20-42W 1.1/4" 302 [ 587 [ 68 | 79 | 85 | 22 | 34 | 51 11 42 16 S5FLW9-24-42W 1.1/2" 42 [35.7[69.9] 83 [ 94 [ 16 [ 25 [ 36 [ 56 [13.5 M12X45
S1FLW9-20-49W 1.1/4" 302 [ 587 | 68 | 79 | 85 | 22 | 34 | 51 11 49 S5FLW9-24-45W 1.1/2" 45  [35.7]69.9] 83 [ 94 [ 16 | 25 [ 36 | 56 [13.5 M12X45
S1FLW9-24-38W 1.1/2" 357 | 699 | 78 | 93 | 95 | 25 | 38 | 55 | 135 | 38 | 21 S5FLW9-24-48W 1.1/2" 48 [35.7]69.9] 83 | 94 | 16 | 25 | 36 [ 56 [13.5 M12X45
S1FLW9-24-42W 1.1/2" 357 | 69.9 | 78 [ 93 [ 95 | 25 | 38 | 55 | 135 | 42 16 S5FLW9-24-50W 1.1/2" 50 [35.7]69.9] 83 | 94 [ 16 | 25 | 36 [ 56 [13.5 M12X45 20.7
S1FLW9-24-49W 1.1/2" 357 | 69.9 | 78 | 93 | 95 [ 25 | 38 | 55 | 135 | 49 S5FLW9-32-50W 2" 50 [42.9[77.8] 97 [102] 18 [ 25 [ 44 [ 65 [13.5 M12X45
6000PS| S5FLW9-32-55W 2" 55 [42.9]77.8] 97 [102] 18 [ 25 [ 44 [ 65 [13.5 M12X45
S1FSW9-08-20W 172" 18.2 [ 405 | 46 | 54 | 60 16 | 20 [ 37 9 20 S5FLW9-32-60W 2" 60 [42.9]77.8] 97 [102] 18 | 25 | 44 [ 65 [13.5 M12X45
S1FSW9-08-25W 172" 18.2 | 405 | 46 | 71 60 16 | 20 [ 37 9 25
S1FSW9-12-25W 3/4" 238 | 508 | 55 | 71.3 | 70 18 | 28 | 43 11 25
S1FSW9-12-30W 3/4" 23.8 | 50.8 | 55 | 71.3 | 70 18 | 28 | 43 11 30
S1FSW9-16-30W 1" 27.8 | 572 | 65 | 81 85 | 22 | 34 | 51 13 | 30
S1FSW9-16-38W K 27.8 | 572 | 65 | 81 85 | 22 | 34 | 51 13 | 38
S1FSW9-20-38W 1.1/4" 318 | 666 | 78 | 952 | 95 | 25 | 38 | 56 15 | 38 | 315
S1FSW9-20-49W 1.1/4" 31.8 | 66.6 | 78 | 952 | 95 | 25 | 38 | 56 15 | 49
S1FSW9-24-38W 1.1/2" 365 | 79.3 [ 94 | 112 | 110 [ 25 | 42 | 65 17 | 38
S1FSW9-24-49W 1.1/2" 365 | 793 [ 94 | 112 | 110 | 25 | 42 | 65 17 | 49
S1FSW9-24-61W 1.1/2" 365 | 793 | 94 | 112 | 110 | 25 | 42 | 65 17 | 61

235/ =M E 236/ =F iR E

[1k ¢ J¥ 7l



® ®
WWEHE Y  ADAPTER it weld riange Fiting O@INNKE R ADAPTER  smsste woid riange Fiing O@NNKE

SAE] JF i % Jc3000PS| SAES JF 7% 4 J:6000PS|
SFL SAE SPLIT FLAI%%EG?IEEQM?S:ZOEOSSP% SFS SAE SPLIT FLANGEjLCﬁLAM P§6000PSI
ISO 6162-2—SAE J518
1 )
vl
o W ———r——= i
o) | —= + =
& @
vy
A T " 0
c
E 7 : A 2 :
s i — : Rt DIMECI;\ISIONS _ TR R I:\’AEJEJJ e S ERARTENEONE T T
: : BOLT R PART NO. FLANGESIZE A B C E BOLT Mpa
SFL-08 /27 54 46 38.1 17.48 M8X25 SFS-08 172" 56.4 472 405 18.2 MBX30
SFL-08UN 1/2° 54 46 38.1 17.48 | 516" —18X1.1/4 SFS-08UN 172" 56.4 47.2 40.5 18.2 5/16" —18X1.1/2"
Sl S/ 65 52 47.63 22.23 MTOX30 34.5 SFS-12 3/4" 71.4 60 50.8 23.8 M10X35
SFL—12UN 34 65 52 47.63 22.23 3/8 " —16X1.1/4 SFS_12UN E i n 0.5 238 38" 16x1 12"
SFL-16 L 70 59 52.87 26.19 MTOX30__ SFS-16 1 81.2 69.6 57.2 27.8 M12X45
zl'i:::;gu"‘ 1 1/4 i ;g 32 :23; 52'12 3/8 I\;}gi;g/“ SFS-16UN 1 81.2 69.6 57.2 27.8 7/16 " —14X1.3/4 " 4o
A/4” : : “ : 27.6 SFS-20 11/4° 95.2 77.2 66.7 31.8 M12X45
SFL-20UN 11/4" 79 73 58.72 30.18 | 7/16" —14X1.1/2 ~Fo20UN VK o5 s 567 318 T3 1ax1 34
SFL=24 11727 94 83 69.85 88.71 MI2X35 SFS-24 112" 112.8 954 79.4 36.6 M16X55
SFL-24UN 1172 94 83 69.85 85.71 172" -13X1.1/2 20.7 SFS—24UN 11/2" 112.8 95 79.4 36.6 5/8" 11X2.1/4 "
SFL-82 2’ 102 o7 7777 42.88 MI2X35 SFS-32 2" 133.4 113.8 96.8 44.4 M20X70
SFL-32UN 2 102 7 777 42.88 172" -13X1.1/2 SFS-32UN 2" 133.4 113.8 96.8 44.4 3/4" —10X2.3/4 "
SFL-40 2.1/2" 114 109 88.9 50.8 M12X40 s T
SFL-40UN 2.1/2" 114 109 88.9 50.8 1/2 " —13X1.3/4 " T 4 be ordered another.
SFL-48 3" 135 131 106.38 61.93 M16X45 a8
SFL-48UN 3" 135 131 106.38 61.93 5/8" —11X1.3/4" '
SFL-56 3.1/2" 152 140 120.65 69.85 M16X50
SFL-56UN 3.1/2" 152 140 120.65 69.85 58" —11X2 " ad
SFL-64 4" 162 152 130.18 7777 M16X50 '
SFL-64UN 4" 162 152 130.18 77.77 5/8" —11X2"
TR T S AT
Note: Bolt should be ordered another.
E
e
%
v

237/ =M E 238/ =t i E Rt

[1k ¢ J¥ 7l



Weld Flange Fitting Sa n n I (e®

®

Weld Flange Fitting Sa n n | (e

v . 3
b ADAPTER  jesmi ADAPTER jami
SAE &1k 2% J23000PSI SAE #5147} 2% J26000PSI
SFL-W SAE WHOLE FLANGE CLAMPS 3000PSI SFS-W SAE WHOLE FLANGE CLAMPS 6000PSI
1ISO 6162-1—SAE J518 ISO 6162-2—SAE J518
®,
S -
»
»
E ’ E
= Fumg Ji~} DIMENSIONS A JiC A TAE ) RS EERE Ji~} DIMENSIONS A R TAERT)
PART NO. FLANGE SIZE A B © E BOLT Mpa PART NO. FLANGE SIZE A B © E BOLT Mpa
SFL-08W 1/2" 54 46 38.1 17.48 M8X25 SFS-08W 1/2" 56.4 47.2 40.5 18.2 M8X30
SFL-08WUN 1/2" 54 46 38.1 17.48 5/16 " -18X1.1/4" SFS-08WUN 1/2" 56.4 47.2 40.5 18.2 5/16"-18X1.1/2"
SFL-12W 3/4" 65 52 47.63 22.23 M10X30 4.5 SFS-12W 3/4" 71.4 60 50.8 23.8 M10X35
SFL-12WUN 3/4" 65 52 47.63 22.23 3/8" —16X1.1/4" ’ SFS-12WUN 3/4" 71.4 60 50.8 23.8 3/8"-16X1.1/2"
SFL-16W 1" 70 59 52.37 26.19 M10X30 SFS-16W 1" 81.2 69.6 57.2 27.8 M12X45
SFL-16WUN 1" 70 59 52.37 26.19 3/8" -16X1.1/4" SFS-16WUN 1" 81.2 69.6 57.2 27.8 7/16"-14X1.3/4" 40
SFL-20W 1.1/4" 79 73 58.72 30.18 M10X30 976 SFS-20W 1.1/4" 95.2 77.2 66.7 31.8 M12X45
SFL-20WUN 1.1/4" 79 73 58.72 30.18 7/16 " —14X1.1/2" SFS—-20WUN 1.1/4" 95.2 77.2 66.7 31.8 1/2"-13X1.3/4"
SFL-24W 1.1/2" 94 83 69.85 35.71 M12X35 SFS-24W 1.1/2" 112.8 954 79.4 36.6 M16X55
SFL-24WUN 1.1/2" 94 83 69.85 35.71 1/2" -13X1.1/2 " 20.7 SFS-24WUN 1.1/2" 112.8 95 79.4 36.6 5/8"-11X2.1/4"
SFL-32W 2" 102 97 77.77 42.88 M12X35 SFS-32W 2" 133.4 113.8 96.8 44.4 M20X70
SFL-32WUN 2" 102 97 77.77 42.88 1/2" -13X1.1/2" SFS-32WUN 2" 133.4 113.8 96.8 44 .4 3/4"-10X2.3/4
SFL-40W 2.1/2" 114 109 88.9 50.8 M12X40 170 Ve T AT
SFL-40WUN 2.1/2" 114 109 88.9 50.8 1/2" -13X1.3/4" Note: Bolt should be ordered another.
SFL-48W 3" 135 131 106.38 61.93 M16X45 138
SFL-48WUN 3" 135 131 106.38 61.93 5/8" -11X1.3/4"
SFL-56W 3.1/2" 152 140 120.65 69.85 M16X50
SFL-56WUN 3.1/2" 152 140 120.65 69.85 5/8"-11X2" 34
SFL-64W 4" 162 152 130.18 77.77 M16X50
SFL-64WUN 4" 162 152 130.18 77.77 5/8"-11X2"
W Mg T AT
Note: Bolt should be ordered another.
18 ]
Ee £
i® s
= =

239/ Zf R IR E AT

240/ =t A EE



® ®
H &2 5 OTHER PRODUCTS Sannke H e 5 OTHER PRODUCTS Sannke

MREGFEESZHFMAES BSHRINEKR! MREGFEESHFMAES BSHRINEKR!
— > N A Please contact us if you need more information Please contact us if you need more information N N
241/ =g s e et t e t 242/ =R AE B



‘ ® N ®
H'er= M OTHER PRODUCTS Sannke Her= i OTHER PRODUCTS Sannke

Cutting ring

SRL
SRS
£ 3= &FHME ¢0.D. | Rt DIMENSIONS B8 BEXTIEEN
SERIES | RAPT NO. D L S/ (bar)
SRL-06 06 9 1.7 315
SRL-08 08 9 2.2 315
SRL-10 10 9.5 3.1 315
SRL-12 12 9.8 3.5 315
. SRL-15 15 9.5 4.5 315
SRL-18 18 9.5 5.5 315
SRL-22 22 10.5 7.3 160
HSHeHY — SRL-28 28 11.5 9.4 160
EI?EH %ﬂﬂ_ﬁj% H- SRL-35 35 13.5 20 160
E HE SRL-42 42 13.5 23 160
SRS-06 06 9 1.7 630
SRS-08 08 9 3.2 630
SRS-10 10 9.5 3.1 630
SRS-12 12 9.8 3.5 630
SRS-14 14 9.5 3.9 630
S SRS-16 16 9.5 5.6 400
SRS-20 20 12.5 11.4 400
SRS-25 25 12.5 13.3 400
SRS-35 30 12.5 19.3 400
SRS-38 38 13.5 22.5 315

243/ = R E st B 244 = iR ERE M



HE =4 OTHER PRODUCTS Sannke® HE =4 OTHER PRODUCTS Sannke®

WMLIPE

Spring guard

e B RIFE

Spiral Plastic Protective Sleeve

ZMRE: EEMAA OEMRINFMI EE (NMEHEXNLE)

= K= RS WLz ]
N10. PQELI\LO 1D (1rgm ) Steel1\.ngre (0} Fl:TH(;):e K= k& -
5 SERTE 7 . e PART NO ID (mm) HOSE OD(mm)
3 SP-19 19 1.5 1T06. 2T05. 4SP04 RNL-08 ®8 D8-D12
4 SP-22 22 2 2T06. R1206. 1708 RNL-10 @10 ®10-P15
5 SP-23 23 2 4SP06, 2708 RNL-12 ®12 D12-D16
6 SP-25 25 2 1T10. R1208 RNL-16 16 D16-D24
7 SP-26 26 2 4SP08 RNL-18 >18 D18-P27
8 SP-27 27 2 2T10 RNL-21 ®21 D21-D32
9 SP-29 29 2 R1210. 1T12. 4SP10 RNL-25 ®25 ©25-D38
10 SP-31 31 2 2712 RNL-28 ®28 D28-d42
11 SP-32 32 2 R1212 RNL-30 ®30 ®30-D45
12 SP-33 33 2 4SP12, 4SH12, R1312, R1512 RNL-32 ®32 D32-D48
13 SP-37 37 2 1T16 RNL-35 ®35 P35-D50
14 SP-40 40 2 2716, R1216. R1316. R1516, 4SH16 RNL-38 38 ©38-DP55
15 SP-42 42 2.5 4SP16 RNL-42 D42 D42-D60
16 SP-45 45 2.5 1T20 RNL-45 D45 D45-D68
17 SP-47 47 2.5 4SH20 RNL-50 D50 D50-P75
18 SP-49 49 2.5 2720, R1220 RNL-60 D60 D60-P90
19 SP-51 51 2.5 R1320, R1520
20 SP-52 52 2.5 1T24, 4SP20 B
21 SP-55 55 2.5 R1224, 4S
22 SP-56 56 2.5 2T24 - L HE: Eﬁ BB, 48;
23 SP-59 59 2.5 4SP24, R1324, R1524 2, T{ERREBE: -407125C;
24 SP-66 66 2.5 1732 3. ERE, EWE, FaK. THERNM;
25 SP-69 69 2.5 2732, R1232 4, MER. K, B, "BHMAEZHBEF,
26 SP-71 71 2.5 4SP32, 4SH32
27 SP-74 74 2.5 R1332 Description:
1.Color:Black. Yellow.Red
2.Working Temp:-40~125C
iE: 1. BRABSERES, ERAMERH; 3.Anti-statics,Good Wear Resistant,Long Working Life ,Small Bend Red ius
2, RO EHFEKEHN3I00mMm; 4.Air,Water,Oil,Gasoline and Solvent Resistant.

3. RHAEREMENESE BEFLYNE,

Note:1. There is tightness,please stretch when use. E: RERSRFRE, RERSFEMY, MWRNL-18Y;

> Th ing lenath is 300 JERSFEMR, MRNL-30R,
» [hespringlengtnis mm Notes:The default Part NO. Iss black ,if you need yellow ,please add
3. Thefithose only for reference.Please measure when you use. "Y"inthe end ,E.g .RNL-18Y,red is RNL-18R.

245/ =M EE 246/ = MR EEE A



®
i n 2k ADDITIONAL INFORMATION Sannke

§ w2 B ADDITIONAL INFORMATION Sannke®

OZ & O-ring

2 i S B2 S A] 9 [8] 4+ i FA O B EFISAESMELOR! B & 1 3L ORI E
- O For Metric Male Adjustable Stud End O-ring For SAE Male O-ring
=fREBTRERETHEZEYE (ABRELR) oORERE | BA R~ DIMENSIONS NG B Rt DIMENSIONS
PARTNO. | THREAD d b PART NO. THREAD d b
006.1X1.6 M8X1 6.1 1.6 08.92X1.83 7/16"X20UNF 8.92 1.83
DIN 24° #42 Z 5IOR! B 2 £t FHOR B 1ISO 6162 £ HORE 008.1X1.6 M10X1 8.1 1.6 010.52X1.83 1/2"X20UNF 10.52 1.83
For DIN 24° Cone O-ring L.T. For1SO 6162 Flange O-ring 009.3X2.4 M12X1.5 9.3 2.4 011.89X1.98 9/16"X18UNF 11.89 1.98
ORERK S 2 ar R~ DIMENSIONS BT HME O%Y p&l X = BERE R~ DIMENSIONS 011.3X2.4 M14X1.5 11.3 2.4 016.36X2.21 3/4"X16UNF 16.36 2.9
PARTNO. | THREAD d b TUBE O.D. PART NO. |FLANGE SIZE d b 013.3X2.4 M16X1.5 13.3 2.4 019.18X2.46 7/8"X14UNF 19.18 2.46
004.5X1.5 M12X1.5 4.5 1.5 6 018.64X3.53 1/2" 18.64 3.53 015.3X2.4 M18X1.5 15.3 2.4 023.47X2.95 1.1/16"X12UN 23.47 2.95
006.5X1.5 | M14X1.5 6.5 1.5 8 024.99X3.53 3/4" 24.99 3.53 017.3X2.4 M20X1.5 17.3 2.4 026.62X2.95 1.3/16X12UN 26.62 2.95
008.0X1.5 | M16X1.5 8.0 1.5 10 032.92X3.53 1" 32.92 3.53 019.3X2.4 M22X1.5 19.3 2.4 029.74X2.95 1.5/16X12UN 29.74 2.95
010.0X1.5 | M18X1.5 10.0 1.5 12 037.69X3.53 1.1/4" 37.69 3.53 021.3X3.0 M24X1.5 21.3 3.0 037.46X3.00 1.5/8"X12UN 37.46 3.0
012.0X2.0 | M22X1.5 12.0 2.0 15 047.22X3.53 1.1/2" 47.22 3.53 023.5X3.0 M26X1.5 23.5 3.0 043.69X3.00 1.7/8"X12UN 43.69 3.0
015.0X2.0 | M26X1.5 15.0 2.0 18 056.74X3.53 o 56.74 3.53 023.5X3.0 M27X2 235 3.0 059.36X3.00 2.1/2"X12UN 59.36 3.0
015.0X2.0 | M27X1.5 15.0 2.0 18 069.44X3.53 2.1/2" 69.44 3.53 026.5X3.0 M30X2 26.5 3.0
019.0X2.0 M30X2 19.0 2.0 22 029.5X3.0 M33X2 29.5 3.0
025.0X2.0 M36X2 25.0 2.0 28 038.5X3.0 M42X2 38.5 3.0
032.0X2.5 M45X2 32.0 2.5 35 044.5X3.0 M48X2 44.5 3.0
038.0X2.5 M52X2 38.0 2.5 42 046.2X3.0 MB0X2 46.2 3.0
4H & #Bobded Seal f#Bobded Seal
DIN 24° #%2 Z 3O%! B2 3 FHOE B EEIMEL OB B ZHHiE L OB D
For DIN 24° Cone O-ring L.T. For BSP Male O-ring m — =
oM {1k % (25 R~ DIMENSIONS BEFHhE O g A% 5 Wy R~ DIMENSIONS \ r‘—d—'-|
PART NO. THREAD d b TUBE O.D. PART NO. THREAD d b - d . T w N
004.5X1.5 | M14X1.5 4.5 1.5 6 010.77%X2.62| G1/4"X19 10.77 2.62 D i
006.5X1.5 M16X1.5 6.5 1.5 8 013.94%x2.62| G3/8"X19 13.94 2.62 - !
008.0X1.5 | M18X1.5 8.0 1.5 10 017.12X2.62| G1/2"'X14 17.12 2.62
010.0X1.5 M20X1.5 10.0 1.5 12 019.18X2.46| G5/8"'X14 19.18 246 HEHRRS ¥y R~ DIMENSIONS it BAR = W2 2 R~ DIMENSIONS
011.0X2.0 | M22X1.5 11 2.0 14 023.47X2.62| G3/4"X14 23.47 3.53 PART NO. THREAD d D PART NO. THREAD d D H
013.0X2.0 M24X1.6 13 2.0 16 029.74X3.53 G1"X11 29.74 3.53 ZHD-10 M10, G1/8" 10.4 16 WD-B02 G1/8"X28 8.4 11.9 1.0
016.3X2.4 M30X2 16.3 2.4 20 037.69X3.53| G1.1/4"X11 37.69 3.53 ZHD-14 | M14, G1/4" 14.4 20 WD-B04 G1/4"X19 11.6 16.5 1.5
020.3X2.4 M36X2 20.3 2.4 25 044.04X3.53| G1.1/2"X11 44.04 3.53 ZHD-16 M16 16.4 22 WD-B06 G3/8"X19 14.7 18.9 1.5
025.3X2.4 M42X2 253 2.4 30 054.0X3.0 G2"X11 54.0 3.0 ZHD-18 M18, G3/8" 18.4 25 WD-B08 G1/2"X14 18.5 23.9 1.5
033.3X2.4 M52X2 333 54 38 ZHD-22 M22, G1/2" 22.5 30 WD-B12 G3/4"X14 23.9 29.2 1.5
ZHD-24 M24 24.5 32 WD-B16 G1"X11 29.7 35.7 2.0
ZHD-27 M27. G3/4" 27.5 35 WD-B20 G1.1/4"X11 38.8 45.8 2.0
ZHD-30 M30 30.5 38 WD-B24 G1.1/2"X11 447 50.7 2.0
= HIORFSHME LT EOR! B % 3 O & SAEH F#Zk FHOR B ZHD-33 M33, G1" 33.5 42 WD-B02 M10X1 8.4 11.9 1.0
For ORFS Male O-ring For SAE Sraplelok O-ring ZHD-36 M36 36.6 46 WD-M12 M12X1.5 9.8 14.4 1.5
OB 1R 5 (558 R~ DIMENSIONS OZ! [l 48 = FI A R~F DIMENSIONS ZHD-42 |M42, G1.1/4" 42.6 53 WD-B04 M14X1.5 11.6 16.5 1.5
PART NO. THREAD d b PART NO. | FITTINGSIZE d b ZHD-45 M45 45.6 56 WD-M16 M16X1.5 13.8 18.9 1.5
07.65X1.78 9/16"X18UNF 7.65 1.78 006.0X2.0 -04 6.0 2.0 ZHD-48 |M45. G1.1/2" 48.7 60 WD-M18 M18X1.5 15.7 20.9 1.5
09.25X1.78 11/16"X16UN 9.25 1.78 010.0X2.0 -06 10.0 2.0 ZHD-52 M52 52.7 66 WD-M20 M20X1.5 17.8 22.9 1.5
012.42X1.78 13/16"X16UN 12.42 1.78 013.0X2.5 -08 13.0 2.5 ZHD-60 M60, G2" 60.7 75 WD-M22 M22X1.5 19.6 24.3 1.5
015.6X1.78 1"X14UNsf 15.6 1.78 019.0X2.5 -12 19.0 2.5 WD-B12 M26X1.5 23.9 29.2 1.5
018.77X1.78 1.3/16"X12UN 18.77 1.78 025.0X2.5 -16 25.0 2.5 WD-B12 M27X2 23.9 29.2 1.5
023.52X1.78 1.7/16"X12UN 23.52 1.78 033.0X2.5 -20 33.0 2.5 WD-B16 M33X2 29.7 35.7 2.0
029.87X1.78 | 1.11/16"X12UN 29.87 1.78 040.0X3.0 -24 40.0 3.0 WD-B20 M42X2 38.8 45.8 2.0
037.82X1.78 2"X12UN 37.82 1.78 050.0X3.0 -32 50.0 3.0 WD-B24 M48X2 44.7 50.7 2.0

247 =R s E

248/ =t R A EE




B ot Bl ADDITIONAL INFORMATION Sannke®

®
i n % &} ADDITIONAL INFORMATION Sannke

il OB K R~

Port Dimensions

11809974173 il MR el 1 S A Be AL ¥
ISO9974-1 metric thread port and mating stud end

KDS 3t a4
I
e i=
\ N
| De -
B R S W2 2 R~ DIMENSIONS
PART NO THREAD D1 D2 D3 L1 L2
KDS-M10 M10. G1/8" 10.3 14.9 16.0 2.5 1.1
KDS-M12 M12 12.3 17.0 18.0 3.0 1.6
KDS-M14 M14. G1/4" 14.3 18.9 20.0 3.0 1.6
KDS-M16 M16. G3/8" 17.0 21.9 24.0 3.0 2.1
KDS-M18 M18 18.3 23.9 23.9 3.0
KDS-M22 M22. G1/2" 22.3 26.9 30.0 4.5 2.6
KDS-M26 M26 26.3 31.9 35.0 3.5 2.6
KDS-M27 M27. 3/4" 27.3 32.9 38.0 3.5 2.6
KDS-M33 M33. G1" 33.6 39.9 42.0 3.5 2.6
KDS-M42 M42, G1.1/4" 42 .4 49.9 49.9 3.5
KDS-M48 M48. G1.1/2" 48.4 55.9 60.0 3.5 2.6
GDK 0
@ =y
_
U )
. Do
A AR 5 W2 & R~ DIMENSIONS A AR 5 [12¥4'8 R~ DIMENSIONS
PART NO. THREAD D1 D2 D3 PART NO. THREAD D1 D2 D3
GDK-B02 G1/8"X28 9.8 14 2.5 GDK-M8 M8X1 8.1 12 2.5
GDK-B04 G1/4"X19 13.3 18 3.0 GDK-M10 M10 X1 10.1 14 3.0
GDK-B06 G3/8"X19 16.8 22 3.0 GDK-M12 M12X1.5 12.1 17 3.0
GDK-B08 G1/2"X14 21.1 26 4.5 GDK-M14 M14X1.5 14 .1 19 3.0
GDK-B12 G3/4"X14 26.6 32 3.5 GDK-M16 M16X1.5 16.1 21 3.0
GDK-B16 G1"X11 33.4 39 3.5 GDK-M18 M18X1.5 18.1 23 3.0
GDK-B20 G1.1/4"X11 42 .1 49 3.5 GDK-M20 M20X1.5 20.1 25 3.0
GDK-B24 G1.1/2"X11 48.1 55 3.5 GDK-M22 M22X1.5 221 27 4.5
GDK-M26 M26X1.5 26.1 31 3.5
GDK-M27 M27X2 271 32 3.5
GDK-M33 M33X2 33.1 39 3.5
GDK-M42 M42X2 42 1 49 3.5
GDK-M48 M48X2 48.1 55 3.5

ABY i ISO 9974-3 BEItFum  1SO 9974-2 EBV i us OWEl % OF B =&
Type A ISO9974-3 Type B ISO9974-2 Type E O-Ring Seal O-Ring Seal
. d4
d3
%0 5|, LA
_ v S L LA é/
! b
/1
\ AN
]
d2
@_l_.i..
FFR foifr 22 4 o 1 S it
This dimension only applies when tap drill
cannot pass throughentire boss
ISO 9974-1 i LPort
il A R~FPort Dimensions mm
247 d1 d2 d3 d4 L1 L2 L3 W
Thread S Zref. e — AEtol. min. max. min. min.
M8X1 3 8 0,+0.2 13 1 8 10 0.1
M10X1 4.5 10 0,+0.2 15 1 8 10 0.1
M12X1.5 6 12 0,+0.2 18 1.5 12 15 0.1
M14X1.5 7 14 0,+0.2 20 1.5 12 15 0.1
M16X1.5 9 16 0,+0.2 23 1.5 12 15 0.1
M18X1.5 11 18 0,+0.2 25 2 12 15 0.1
M20X1.5 10 20 0,+0.2 27 2 14 17 0.1
M22X1.5 14 22 0,+0.2 28 2.5 14 17 0.1
M26X1.5 18 26 0,+0.2 33 2.5 16 19 0.2
M27X2 16 27 0,+0.2 33 2.5 16 20 0.2
M33X2 23 33 0,+0.3 41 2.5 18 22 0.2
M42X2 30 42 0,+0.3 51 2.5 20 24 0.2
M48X2 36 48 0,+0.3 56 2.5 22 36 0.2

249/ = MR A EE R

250/ =M &R



i 1% & ADDITIONAL INFORMATION Sannke

S m %% £} ADDITIONAL INFORMATION Sannke®

2. 1S06149-1/ il $Z 40l O A 48 Be A i
ISO6149-1 metric thread port and mating stud end

ISO 6149-2, 1SO 6149-3 #fimstud end

42 A _EOHE
d4 (& gouging L 10.2]A] For identification of port
A 3.2 __—d5
. 1 RO.1 RO.Zmax
a ’ s 4 RO.2 2o
RO 4max ¥
N | % - ) RO.1 °
i T 7T \ )32
(/ o —
. g O
T Y
43 L &
Rz
A= &
[ Y S T R B
{ﬁ?%rhl#ffﬁ?Lg{j;ﬁ - 95 I
Thiz dimensiocn only applies when tap e 5 max
drill cannot pass throughentire boss
ISO 6149-1 jili I1Port
il 0 R~fPort Dimensions mm
d2 ds a5 1 de L, s | | oz A
fhéi d; 5% | d4 | +0.1) 405 +0.4 min masx min +1° OOilile
rea min." min” | ref. o | o | o ' ' | -
M8X1 17 14 3 12.5 | 9.1 14 1.6 | 11.5 1 10 12 6.1X1.6
M10X1 20 16 45 | 145 | 111 16 1.6 | 11.5 1 10 12 8.1X1.6
M12X1.5 23 19 6 17.5 | 13.8 19 2.4 14 1.5 | 115 15 9.3X2.2
M14X1.5 25 21 7.5 | 19.5 | 15.8 21 2.4 14 1.5 | 11.5 15 11.3X2.2
M16X1.5 28 24 9 22.5 | 17.8 24 24 | 155 | 1.5 13 15 13.3X2.2
M18X1.5 30 26 11 24.5 | 19.8 26 2.4 17 2 14.5 15 15.3X2.2
M20X1.5 32 27 —— 25.5 | 21.8 27 2.4 — 2 14.5 15 17.3X2.2
M22X1.5 34 29 14 27.5 | 23.8 29 2.4 18 2 14.5 15 19.3X2.2
M27X2 40 34 18 32.5 | 294 34 3.1 22 2 19 15 23.6X2.9
M33X2 49 43 23 41.5 | 35.4 43 3.1 22 2.5 19 15 29.6X2.9
M42X2 60 52 30 50.5 | 44.4 52 3.1 225 | 25 | 19.5 15 38.6X2.9
M48X2 66 57 36 55.5 | 50.4 57 3.1 25 2.5 22 15 44.6X2.9
M60X2 76 67 44 65.5 | 62.4 67 3.1 27.5 | 2.5 | 245 15 56.6X2.9

251/ = s & 4

3. DIN 3582 &2 40 O & 18 Bt A %
DIN 3582 BSP thread port and mating stud end

IERERE

DIN 3852 AZY tE i DIN 3852 BE! #f i DIN 3852 EZ! tf i O Bl % # OF Bl % £t
DIN 3852 Type A DIN 3852 Type B DIN 3852 Type E O-Ring Seal O-Ring Seal
dJ

]
| S

90 - A
e r 3%/ || [W]A
| % |

'

L3
L2

DIN 3852 i1 OPort

i R~FPort Dimensions mm

d4
+0.4
24y d1 d3 0 L1 L2 I3 W
Thread B. R "HE max. max. max.
Type B. E Others
G1/8X28 9.8 0,+0.2 15 19 1 8 13 0.1
G1/4X19 13.2 | 0,+0.2 19 25 1.5 12 18.5 0.1
G3/8X19 16.7 | 0,+0.2 23 28 2 12 18.5 0.1
G1/2X14 21 0,+0.2 27 34 2.5 14 22 0.1
G1/8X32 26.5 | 0,+0.2 33 42 2.5 16 24 0.2
Gi1X11 33.3 | 0,+0.3 40 47 2.5 18 27 0.2
G1.1/4X11 42 0,+0.3 50 58 2.5 20 29 0.2
G1.1/2X11 47.9 | 0,+0.3 56 65 2.5 22 31 0.2
G2X11 59.7 | 0,40.3 69 76 3 24 33 0.2

252/ = s &



® ®
¥ i % kL ADDITIONAL INFORMATION Sannke S m %% £} ADDITIONAL INFORMATION Sannke

5. JIS B 2351 & #2405 O K 48 &+ 3%
JIS B 2351 BSP thread port and mating stud end

4 . BS5380% & # 40H O KA E i
Bs5380 BSP thread port and mating stud end

A — d2 A
RO.25
RO.4max RO.12 ﬂ
3
ll
ﬂ, -
& '// Il
. d1
\SED ZI0.1A ®
BS 5380 j#i dPort JIS B 2351 ifidPort
ifi 0 R~fPort Dimensions mm
847 d1 d2 d3 3512 IE)14 L3 L4 O E A R~FPort Dimensions mm
Thread max. max. * 0 * 0 max. min. O-RING B
5 ds L1 -

G1/8X28 15 14 11.24 1.3 0.6 10.5 8.1X1.6 Thread d023 J iy e L3 L4 009:{/'(3
G1/4X19 19 18 14.16 1.2 0.6 11 10.1X1.6 di 30 0 0 (00, max. min. -
G3/8X19 23 22 18.86 1.9 0.6 12.5 13.6X2.4 G1/8X28 18 e 5 15 ] 0 — 8x1 9
G1/2X14 27 26 22 40 1.9 0.8 15 17.6X2.4 S1/4%18 o4 G o 76 s T 10.8X5.4
G5/8X14 31 30 26.00 2.4 0.8 16.3 19.5X3.0 G3/8X19 o8 86 25 18 5 1> 13.8X2 4
G3/4X14 33 32 28.92 2.4 1.1 16.3 22.5X3.0 15X 24 T o5 o o5 6 17 x5 4

G1X11 40 39 35.50 2.4 1.1 19.1 29.5X3.0 G3/aX14 45 9.8 a5 o5 o5 17 23 7%3.5
G1.1/4X11 50 49 43.56 2.4 1.1 21.4 36.5X3.0 GIX11 B1 o 35 - o5 o1 28 73 5
G1.1/2X11 56 55 49.42 2.4 1.1 22 5 42.5X3.0 G1.1/4X11 62 44.8 a5 20 25 14 37 7X3 5

G2xi1 69 68 BIE 22 L 25.7 54.5X3.0 G1.1/2X11 68 50.8 3.5 30 2.5 21.4 43.7X3.5

253/ =t iR E

254/ =t AR E S




§F ot B ADDITIONAL INFORMATION Sannke

S 0 o2 &L ADDITIONAL INFORMATION Sannke®

6. 1SO11926-13& il 42 50/ O & 48 B+ i
ISO11926-1 SAE thread port and mating stud end

ISO 11926-2, 1SO 11926-3 = i 48 5r ¥ i
ISO 11926-2, 1SO 11926-3 SAE thread stud end

d2
d4( il itgauging) [T J0.2]A]
-
9 3
d3
di1
FTA S e sl g ek

This dimension only applies when tap
drill cannot pass throughentire boss

ISO 11926-1 EHIE LA O
ISO 11926-1 SAE thread port

i O R ~fPort Dimensions mm

N4 Metric Thread

B BEENR

Recommended Thread Torque

HEEW2 4 BSP Thread

#2470 Thread ZEHME (FX) n.m 24 Thread RIEHLE (F.£) n.m
M12X1.5 10-20 G1/8"X28 9-12
M14X1.5 20-35 G1/4"X19 15-24
M16X1.5 25-40 G3/8"X19 26-38
M18X1.5 30-45 G1/2"X14 41-49
M20X1.5 35-50 G5/8"X14 50-60
M22X1.5 40-70 G3/4"X14 68-81
M24X1.5 40-70 G1"X11 107-129
M26X1.5 60-100 G1.14"X11 172-206
M30X2.0 80-120 G1.1/2"X11 226-258
M36X2.0 100-150 G2"X11 355-426
M42X2.0 150-220
M45X2.0 180-250
M52X2.0 200-300

EH|JICHE L JIC Thread

Y24 Thread REME (FK) n.m
N . 7/16” X20 13-15
EHIORFS#E 4l ORFS Thread o0 o 20
24 Thread RIEHE (FK) n.m 9/16"X18 23-26
9/16 “X18 14-16 3/4"X16 47-52
11/16"X16 24-27 7/8"X14 69-76
13/16"X16 43-54 1.1/16"X12 96-106
1"X14 60-75 1.3/16"X12 108-125
1.3/16"X12 90-110 1.5/16"X12 127-141
1.7/16"X12 125-140 1.5/8"X12 169-188
1.11/16X12 170-190 1.7/8"X12 212-235
22 200-245 2.1/2"X12 296-329

R d2 ds d4 ds L1 L2 L3 L4 z° Oz &
llicec max. 2% min. = +0.4 min. min. min. +1° O-RING
di ref. 0.05 0
5/16"X24 17 2.5 11 9.15 1.9 12 1.6 10 12 6.07X1.63
3/8"X24 19 3.5 13 10.75 2.4 12 1.6 10 12 7.65X1.63
7/16"X20 21 4.5 15 12.45 2.4 14 1.6 11.5 12 8.92X1.83
1/2"X20 23 6 16 14.05 2.5 14 1.6 11.5 12 10.52X1.83
9/16"X18 25 7.5 18 15.70 2.5 15.5 2.4 12.7 15 11.89X1.98
3/4"X16 30 10 22 20.65 2.5 17.5 2.4 14.3 15 16.36X2.21
7/8"X14 34 12.5 26 24 3.3 20 2.4 16.7 15 19.18X2.46
1.1/16"X12 41 16 32 29.2 3.3 23 2.4 19 15 23.47X2.95
1.3/16"X12 45 18 35 32.4 3.3 23 2.4 19 15 26.62X2.95
1.5/16"X12 49 21 38 35.55 3.3 23 3.2 19 15 29.74X2.95
1.5/8"X12 58 27 48 43.55 3.3 23 3.2 19 15 37.46X3.00
1.7/8"X12 65 33 54 49.9 3.3 23 3.2 19 15 43.69X3.00
2.1/2"X12 88 45 70 65.75 3.3 23 3.2 19 15 59.36X3.00

255/ =R iR E

256/ =R E R



®
¥ 1% k1 ADDITIONAL INFORMATION Sannke

S 0 o2 &L ADDITIONAL INFORMATION Sannke®

BAmER

Conversion Factor

R L %R (72 iR L FiRA
-~ in mm 25.4
P S mm in 0.03934
KE
ER ft m 0.3048
x* m ft 3.28084
FEHEST sqin cm2 6.4516
ER
ST EK cm2 sqin 0.155
me (%) gal I 4.54596
F+ I gal(UK) 0.219976
ki
me (%) gal I 3.78533
F I gal(Us) 0.264177
= Ib kg 0.453592
Ef=s
F= g Ib 2.204622
BT Ib/ft kg/m 1.488164
H14E
HK kg/m Ib/ft 0.671969
BEEHFET psi bar 0.06895
= bar psi 14.5035
BEEARET psi Mpa 0.006895
Ik Mpa psi 145.035
EAh
TFbf kPa bar 0.01
E bar kPa 100
JK Mpa bar 10
= bar Mpa 0.1
EREW ft/s m/s 0.3048
wE
KER m/s ft/s 3.280840
megssh gal/min. I/min. 4.54596
o FEaH [/min. gal/min.(UK) 0.219976
mE
megaseh (£) gal/min. I/min. 3.78533
FEHH L/min. gal/min.(US) 0.264178
R °F T (2T +32)
mE 0 5
BIKE T °F ("F-32) 4

(Uk) ZeE 28
(Us) EE SN

257 =M

B

EFRSEKS
Ferrele Part NO. Index
B2 PART NO. |RRPAGE
S00018 22
S00100 22
S00200 23
S00110-A 23
S00110 23
S00210 24
S03310 24
S01100 24
S01200 25
S01300 25
S01400 26
S00400 26
S00401 26
S00621 27
REELB SRS
Hose Fitting Part NO. Index
A2 PARTNO. |TFPAGE
S10411 43
S10411-RW 29
S10511 47
S10511-RW 31
S12611 59
S12611A 59
S12611A-RW 33
S13011 67
S14211 75
S14211-RW 37
S14213 91
S15611 74
S15611SW 74
S15691KSW 75
S16711 78
S16711-RW 35
S$20011-T 82
S20111 50
S20111-T 50
S20141 50
S20141-T 50
S20191 51
S20191-T 51
S20211 51
S20211-T 51
S20241 52
S20241-T 52
S$20291 52
S20291-T 52
S20411-T 44
S20411-TRW 29
S20411-W 44
S$20441-T 45
S$20441-TRW 30
S20441-W 45
S$20491-T 46
S$20491-TRW 30
S20491-W 46
S20511-T 47

23 PART NO. |TTHEPAGE
S20511-TRW 31
S20511-W 47
S20513-T 88
S20541-T 48
S20541-TRW 32
S20541-W 48
S20543-T 88
S20591-T 49
S20591-TRW 32
S20591-W 49
S20593-T 88
S20711 53
S20711-T 53
S20741 54
S20741-T 54
S20791 55
S20791-T 55
S22111 68
S22111-T 68
S22141 69
S22141-T 69
S22191 70
S22191-T 70
S22611 60
S22611D 65
S22611D-SM 66
S22611-OR 63
S22611-ORT 63
S22611-RW 33
S22611-T 60
S22613-0OR 89
S22641 61
S22641-0OR 64
S$22641-ORT 64
S22641-RW 34
S22641-T 61
S522643-0OR 89
S22691 62
S22691K 66
S22691-0OR 65
S22691-ORT 65
S22691-RW 34
S22691-T 62
S22693-0OR 89
S24211 76
S24211D 76
S24211-RW 38
S24211-T 76
S24211-TRW 38
S24213 91
S24241 77
S24241-RW 39
S24241-T 77
S24241-TRW 39
S24243 91
S24291 77
S24291-RW 39

BSR3|

Part NO. |

ndex

72 PARTNO. |RPAGE
S24291-T 77
S24291-TRW 39
S24293 92
S26711 79
S26711D 79
S26711D-SM 80
S26711-RW 36
S26711-T 79
S26713 90
S26741 80
S26741-RW 36
S26741-T 80
S26743 90
S26791 81
S26791K 81
S26791-RW 37
S26791-T 81
S26793 90
528611 70
S28611GM 71
528641 71
S28691 72
S29611 72
S29641 73
S29691 73
S50011 56
S50041 57
S50091 58
S60011 85
S70011 86
S700M 87
S72011 86
S720B 87
S87311 82
S87311-RW 40
S87313 92
S87341 83
S87341-RW 40
S87343 92
S87391 83
S87391-RW 41
S87393 93
S87611 84
S87611-RW 41
S87613 93
S87641 84
S87641-RW 42
S87643 93
S87691 85
S87691-RW 42
$87693 94
S87913 94
$87943 94
$87993 95
S90011 87

258/ = MR EE




® ®
¥ f %kl ADDITIONAL INFORMATION Sannke i 1 % &} ADDITIONAL INFORMATION Sannke

R L SRS
ADAPTER Part NO. Index

EIZ PARTNO. |REPAGE EIZ PARTNO. |REPAGE EIE PART NO. |RRPAGE EIZ PARTNO. |REPAGE EE PARTNO. |RRPAGE EE PARTNO. |RRPAGE
S1B 160 S1DFL 130 S1JFL 197 S2C4-W 101 S5BN 170 SAF6FF-LN 226
S1B4 161 S1DFL9 131 S1JFLO 197 S2C9-W 101 S5BT 170 SAFFG-0G 226
S1B9 161 S1DFS 130 S1JFS 198 S2C-W 100 S5B-WD 169 SAFFH-0G 224
S1BG 164 S1DFS9 131 S1JFS9 198 S2D4-W 101 S5FLW9 236 SAFFO-0G 205
S1BG4-0G 164 S1DG 109-110 S1JG 208 S2D9-W 101 S5GB 170 SAFOF-0G 205
S1BG9-0G 165 S1DG4-0G 118 S1JG4-0G 209 S2D-W 100 S5GT 186 SAJ 193
S1BH 175 S1DG9-0G 118 S1JG9-0G 209 S2E9 142 S5N 209 SAJBJI-LN 213
S1BH4-0G 175 S1DH 111 S1JH 207 SoF 216 S5N9 229 SAJJBI-LN 214
S1BH9-0G 176 S1DH4-0G 119 S1JH4-0G 207 S2F9 216 S5T9-SP 187 SAJJO-0G 214
S1BJ 178 S1DH9-0G 119 S1JH9-0G 208 S2GC-W 116 S5T-SP 187 SAJOJ-OG 214
S1BJ9 179 S1DI-B-GDK 134 S1JM-WD 210 S2GD-W 116 S6B9-LN 171 SAK 157
S1BM 177 S1DI-B-KDS 134 S1IN 199 S2HC-W 115 S6B-LN 171 SAN 208
S1BN 180 S1DI-GDK 133 S1JN4 200 S2HD-W 115 S6C9-LN 100 SAQ 154
S1BN9 181 S1DI-KDS 133 S1JN9 201 S2HJ 212 S6C-LN 99 SAQHQ-OG 154
S1BO 174 S1DM 107 S1JNO-L 202 s2J 192 S6D9-LN 100 SAQQH-OG 154
S1BT4-SP 167 S1DM-WD 108 S1JNO-LL 202 S2J9 193 S6D-LN 99 SBB 184
S1BT9-SP 168 S1DN 114 S1J0 203 S2MC-WDW 115 S6F9-LN 219 SBC-W 102
S1BT-SP 166 S1DN9 127 $1J04-0G 204 S2MD-WDW 115 SBF-LN 218 SBD-W 102
S1BW 173 S1DO 112 S1J09-0G 205 S2MJ-WD 211 S6J4-LN 196 SBE 144
S1B-WD 165 S1D04-0G 120 S1JT9-SP 211 S2NB 181 S6J9-LN 196 SBF 217
sic 97 S1D09-0G 121 S1JT-SP 210 S2NB9 182 S6J-LN 196 SBJ 194
s1co 97 S1DT9-SP 126 S1K 155 S2NU 231 S6Q9-LN 153 SCcB 184
S1CB 104 S1DW 128 S1KG 155 S2NU9 231 S6Q-LN 153 SCC-W 103
S1CB-WD 105 S1D-Y 98 S1KG9-0G 155 S20J 213 S7B 172 SCD-W 103
S1CFG 132 S1E 137 S1KH 156 S2Q9 152 S7B9 172 SCE 144
S1CFG9 132 S1E9 137 S1KH9-0G 156 S2TB9-SP 183 S7N 230 SCF 217
S1CFL 130 S1EH 138 S1KT-SP 157 S2TB-SP 182 S7N9 230 scJ 194
S1CFL9 131 S1EH4-0G 138 SIN 207 soTJ 212 S7T 188 SFL 237
S1CG 109 S1EH9-0G 139 S1N9 207 S2WB 173 S7T9 188 SFL-W 239
S1CG4-0G 118 STEL 139 s1Q 145 S2WC 129 S9B 185 SFS 238
S1CG9-0G 118 S1EN 140 S1QG 146 S2WD 129 S9C 135 SFS-W 240
S1CH 111 S1ET-SP 141 S1QG9-0G 146 S2WE 143 SoD 135 SGB 173
S1CH4-0G 119 S1EW 141 S1QH 147 S3B 163 S9E 143 SGN 231
S1CH9-0G 119 S1EW9 142 S1QH9-0G 147 S3C-W 102 SOF 218 SGT 188
S1CI-B-GDK 134 S1F 215 s1QL 148 S3D-W 102 S9J 195 SNL 136
S1CI-B-KDS 134 S1F9 215 S1QN 148 S3J 194 S9J-CAP 195 SNS 136
S1CI-GDK 133 S1FB-WD 223 S1QN4 149 S4B 189 SAB 183 SXC 99
S1CI-KDS 133 S1FG9-0G 224 S1QN9 149 S4BN 190 SABBG-0G 184 SXD 99
S1CM 107 S1FH 222 $1Q0 150 S4BN-WD 190 SABGB-0G 185 SXE 145
S1CM-WD 108 S1FH9-0G 222 S1Q09-0G 150 S4B-WD 190 SAC 08 SXF 226
S1CN 113-114 STFLW 233 S1QT9-SP 151 s4c 135 SACCG-0G 123 szT 189
S1CN9 127 STFLW9-W 235 S1QT-SP 151 S4D 135 SACCH-OG 122 R
S1CO 112 S1FLW-PM 234 s1S 159 S4E 143 SACCO-0G 123 HEHeEFmE SR
S1C04-0G 120 S1FM-WD 221 S1ST4-SP 159 S4F 218 SACGC-0G 124 Other Products
S1C09-0G 121 S1FN 219 S1ST9-SP 160 S4G 189 SACHC-0G 124 Part NO. Index
S1CT9-SP 126 S1FN9 220 S1ST-SP 159 S4H 158 SACOC-0G 125 SSF 243
S1CT-SP 113 S1FO 220 S1T9-SP 186 S4J 195 SAD 08 SRL 244
S1CW 128 S1F09-0G 221 S1T-SP 185 S4K 157 SADDG-0G 123 SRS 244
s1c-y 08 S1FSW 233 SoB 162 S4L 158 SADDH-OG 122 SP 245
S1D 97 STFSW9-W 235 SoB4 162 S4AMN-WD 158 SADDO-0G 123 RNL 246
S1D9 97 S1FSW-PM 234 S2B9 163 S4N 228 SADGD-0G 124 JERtE 241
S1DB 104 S1J 191 S2BC-WDW 117 S40 232 SADHD-0OG 124 MR Ak 242
S1DB-WD 106 S1J4 191 S2BD-WDW 117 s4Q 152 SADOD-0G 125 Tk 242
S1DFG 132 S1J9 192 S2BJ 179 S4T-SP 186 SAE 144 Rk 242
S1DFG9 132 S1JB-WD 206 S2BJ-WD 180 S5B 169 SAF 217

259/ =R E 260/ = iRt



	封面~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5

	ml.pdf
	B软管总成1-20~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10

	c套筒21-28~.pdf
	页面 1
	页面 2
	页面 3
	页面 4

	D软管接头 29-96~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16
	页面 17
	页面 18

	E1卡套式97-136~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16
	页面 17
	页面 18
	页面 19
	页面 20

	E2部标137-158~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11

	E3英制159-190~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16

	E4美制 191-240~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16
	页面 17
	页面 18
	页面 19
	页面 20
	页面 21
	页面 22
	页面 23
	页面 24
	页面 25

	附加资料241-264~.pdf
	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12


